



University of Mumbai, Mumbai

OFFICE REGISTER OF THE B.E. (with credits) - Regular - CBCS(Electronics and Telecommunication Engineering)- F.E. C-Scheme - Sem I [1T01831] HELD IN Summer 2025 Result Declaration Date:11 Jul 2025

58651-Engineering Mathematics-I: ThUA 80/32 ThCA 20/8 100/0 | 58652-Engineering Physics-I: ThUA 60/24 ThCA 15/6 75/0 | 58655-Engineering Chemistry-I: ThUA 60/24 ThCA 15/6 75/0 |
 58653-Engineering Mechanics: ThUA 80/32 ThCA 20/8 100/0 | 58654-Basic Electrical Engineering: ThUA 80/32 ThCA 20/8 100/0 | FEL101-Engineering Physics-I (TW): TwCA 25/10 25/0 |
 FEL102-Engineering Chemistry-I (TW): TwCA 25/10 25/0 | FEL103-Engineering Mechanics (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 | FEL104-Basic Electrical Engineering (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 |
 FEL105-Basic Workshop Practice-I: TwCA 50/20 50/0 | FEC101-Engineering Mathematics-I Term Work: TwCA 25/10 25/0 |

SEAT NO.	NAME OF THE CANDIDATE Mother Name PRN.	PAPER 1				PAPER 2				PAPER 3				PAPER 4				PAPER 5				PAPER 6				RESULT CR C*G SGPI GRADE
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	
CENTRE-COLLEGE		PAPER 7				PAPER 8				PAPER 9				PAPER 10				PAPER 11								
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	
7093998	ANSARI ARMAAN MOHAMMED ASIF GULSHAN 2023016402079363 (1)Mumbai-(10)	58651 32E	9+	41		FEC101 10+	10			58652 24+	6+	30		FEL101 16+	16		58655 29+	6+	35		FEL102 18+	18			Unsuccessful 18.00 --	
		3.00	P	4.00	12.00	1.00	P	4.00	4.00	2.00	P	4.00	8.00	0.50	C	7.00	3.50	2.00	E	5.00	10.00	0.50	B	8.00	4.00	-- --
		58653 19F	8+	27		FEL103 19+	37			58654 44E	8+	52		FEL104 20+	37		FEL105 38+	38								
		3.00	F	0.00	0.00	1.00	B	8.00	8.00	3.00	D	6.00	18.00	1.00	B	8.00	8.00	1.00	A	9.00	9.00					
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																
7093999	DOLAS SARTHAK ANIL ANKITA 2022016402429564 (1)Mumbai-(10)	58651 7F	8+	15		FEC101 20+	20			58652 24+	6+	30		FEL101 19+	19		58655 15F	6+	21		FEL102 20+	20			Unsuccessful 18.00 --	
		3.00	F	0.00	0.00	1.00	O	10.00	10.00	2.00	P	4.00	8.00	0.50	A	9.00	4.50	2.00	F	0.00	0.00	0.50	O	10.00	5.00	-- --
		58653 10F	10+	20		FEL103 23+	42			58654 36+	8+	44		FEL104 23+	36		FEL105 37+	37								
		3.00	F	0.00	0.00	1.00	O	10.00	10.00	3.00	P	4.00	12.00	1.00	B	8.00	8.00	1.00	B	8.00	8.00					
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																
7094000	MALIK MOHAMMED BILAL MD BASHIR - BILQUIES 2023016402087196 (1)Mumbai-(10)	58651 32+	11+	43		FEC101 18+	18			58652 32	7+	39		FEL101 18+	18		58655 28+	13+	41		FEL102 18+	18			Successful 18.00 108.00	
		3.00	P	4.00	12.00	1.00	B	8.00	8.00	2.00	D	6.00	12.00	0.50	B	8.00	4.00	2.00	D	6.00	12.00	0.50	B	8.00	4.00	6.00 --
		58653 43	11+	54		FEL103 21+	41			58654 32+	8+	40		FEL104 20+	33		FEL105 38+	38								
		3.00	D	6.00	18.00	1.00	O	10.00	10.00	3.00	P	4.00	12.00	1.00	C	7.00	7.00	1.00	A	9.00	9.00					
		Total Credit 18.00				FINAL CGPI 6.00				FINAL GRADE --																

/ - FEMALE, # - 0.229A,@ - 0.5042A/0.5043A/0.5044A,* - 5045A, RR-RESERVED, --:Fails in Theory or Practical, RPV - PROVISIONAL Eligible, RCC - 0.5050, AB - ABSENT, F - UNSUCCESSFUL,P - SUCCESSFUL;
 NULL-NULL & VOID, G:Grade C*G:Gradepoints C:credits CP:credit points aCG:sum of product of credits & grades, Internal Marks are Provisional as per R.8668
 aC:sum of credit points GPA: aCG/aC
 MARKS : 0 to 39.99 40 to 44.99 45 to 49.99 50 to 59.99 60 to 69.99 70 to 74.99 75 to 79.99 80 to 100
 GRADE : F P E D C B A O
 GRADE POINT : 0.00 4.00 5.00 6.00 7.00 8.00 9.00 10.00



University of Mumbai, Mumbai

OFFICE REGISTER OF THE B.E. (with credits) - Regular - CBCS(Electronics and Telecommunication Engineering)- F.E. C-Scheme - Sem I [T01831] HELD IN Summer 2025 Result Declaration Date:11 Jul 2025

58651-Engineering Mathematics-I: ThUA 80/32 ThCA 20/8 100/0 | 58652-Engineering Physics-I: ThUA 60/24 ThCA 15/6 75/0 | 58655-Engineering Chemistry-I: ThUA 60/24 ThCA 15/6 75/0 |
 58653-Engineering Mechanics: ThUA 80/32 ThCA 20/8 100/0 | 58654-Basic Electrical Engineering: ThUA 80/32 ThCA 20/8 100/0 | FEL101-Engineering Physics-I (TW): TwCA 25/10 25/0 |
 FEL102-Engineering Chemistry-I (TW): TwCA 25/10 25/0 | FEL103-Engineering Mechanics (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 | FEL104-Basic Electrical Engineering (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 |
 FEL105-Basic Workshop Practice-I: TwCA 50/20 50/0 | FEC101-Engineering Mathematics-I Term Work: TwCA 25/10 25/0 |

SEAT NO.	NAME OF THE CANDIDATE Mother Name PRN.	PAPER 1				PAPER 2				PAPER 3				PAPER 4				PAPER 5				PAPER 6				RESULT CR C*G SGPI GRADE	
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G		
CENTRE-COLLEGE		PAPER 7				PAPER 8				PAPER 9				PAPER 10				PAPER 11									
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G		
7094001	/ MAYNAK SIDDIH RAMCHANDRA DEEPA 2023016402099367 (1)Mumbai-(10)	58651 43+	12+	55	18.00	FEC101 1--	22+	22	10.00	58652 26+	9+	35	10.00	FEL101 1--	16+	16	3.50	58655 24+	8+	32	8.00	FEL102 1--	24+	24	18.00	114.50	Successful
		3.00	D	6.00	18.00	1.00	O	10.00	10.00	2.00	E	5.00	10.00	0.50	C	7.00	3.50	2.00	P	4.00	8.00	0.50	O	10.00	5.00	6.36	--
		58653 43	8+	51	18.00	FEL103 1--	23+	42	10.00	58654 38+	10+	48	15.00	FEL104 1--	20+	38	9.00	FEL105 1--	37+	37	8.00						
		3.00	D	6.00	18.00	1.00	O	10.00	10.00	3.00	E	5.00	15.00	1.00	A	9.00	9.00	1.00	B	8.00	8.00						
		Total Credit 18.00				FINAL CGPI 6.36				FINAL GRADE --																	
7094002	MOMIN MOHAMMED ANUS SHANUDDIN TAHERA BANO 2023016402100566 (1)Mumbai-(10)	58651 37+	18E	55	18.00	FEC101 1--	11+	11	4.00	58652 1F	8E	9	0.00	FEL101 1--	13+	13	3.00	58655 29+	6E	35	10.00	FEL102 1--	11+	11	18.00	--	Unsuccessful
		3.00	D	6.00	18.00	1.00	P	4.00	4.00	2.00	F	0.00	0.00	0.50	D	6.00	3.00	2.00	E	5.00	10.00	0.50	P	4.00	2.00	--	--
		58653 32+	14E	46	15.00	FEL103 1--	10E	25	6.00	58654 32+	4F	36	0.00	FEL104 1--	10+	20	4.00	FEL105 1--	30+	30	7.00						
		3.00	E	5.00	15.00	1.00	D	6.00	6.00	3.00	F	0.00	0.00	1.00	P	4.00	4.00	1.00	C	7.00	7.00						
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																	
7094003	/ QURESHI SHIFA ARIF SHABNUM 2023016402104324 (1)Mumbai-(10)	58651 8F	AA	8	0.00	FEC101 1--	10+	10	4.00	58652 10F	AA	0	0.00	FEL101 1--	17+	17	3.50	58655 1F	AA	1	0.00	FEL102 1--	14+	14	18.00	--	Unsuccessful
		3.00	F	0.00	0.00	1.00	P	4.00	4.00	2.00	F	0.00	0.00	0.50	C	7.00	3.50	2.00	F	0.00	0.00	0.50	D	6.00	3.00	--	--
		58653 32E	9+	41	12.00	FEL103 1--	19+	37	8.00	58654 24F	AA	24	0.00	FEL104 1--	15+	28	6.00	FEL105 1--	40+	40	10.00						
		3.00	P	4.00	12.00	1.00	B	8.00	8.00	3.00	F	0.00	0.00	1.00	D	6.00	6.00	1.00	O	10.00	10.00						
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																	

/ - FEMALE, # - 0.229A,@ - 0.5042A/O.5043A/O.5044A, * - 5045A, RR-RESERVED, --:Fails in Theory or Practical, RPV - PROVISIONAL Eligible, RCC - 0.5050, AB - ABSENT, F - UNSUCCESSFUL,P - SUCCESSFUL;
 NULL=NULL & VOID, G:Grade C*G:Gradepoints C:credits CP:credit points aCG:sum of product of credits & grades, Internal Marks are Provisional as per R.8668
 aC:sum of credit points GPA: aCG/aC
 MARKS : 0 to 39.99 40 to 44.99 45 to 49.99 50 to 59.99 60 to 69.99 70 to 74.99 75 to 79.99 80 to 100
 GRADE : F P E D C B A O
 GRADE POINT : 0.00 4.00 5.00 6.00 7.00 8.00 9.00 10.00



University of Mumbai, Mumbai

OFFICE REGISTER OF THE B.E. (with credits) - Regular - CBCS(Electronics and Telecommunication Engineering)- F.E. C-Scheme - Sem I [T01831] HELD IN Summer 2025 Result Declaration Date:11 Jul 2025

58651-Engineering Mathematics-I: ThUA 80/32 ThCA 20/8 100/0 | 58652-Engineering Physics-I: ThUA 60/24 ThCA 15/6 75/0 | 58655-Engineering Chemistry-I: ThUA 60/24 ThCA 15/6 75/0 |
 58653-Engineering Mechanics: ThUA 80/32 ThCA 20/8 100/0 | 58654-Basic Electrical Engineering: ThUA 80/32 ThCA 20/8 100/0 | FEL101-Engineering Physics-I (TW): TwCA 25/10 25/0 |
 FEL102-Engineering Chemistry-I (TW): TwCA 25/10 25/0 | FEL103-Engineering Mechanics (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 | FEL104-Basic Electrical Engineering (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 |
 FEL105-Basic Workshop Practice-I: TwCA 50/20 50/0 | FEC101-Engineering Mathematics-I Term Work: TwCA 25/10 25/0 |

SEAT NO.	NAME OF THE CANDIDATE Mother Name PRN.	PAPER 1				PAPER 2				PAPER 3				PAPER 4				PAPER 5				PAPER 6				RESULT CR C*G SGPI GRADE			
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G				
CENTRE-COLLEGE		PAPER 7				PAPER 8				PAPER 9				PAPER 10				PAPER 11											
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G
7094004	/ BATOOL FATIMA RIZVI RANI 2022016402429637 (1)Mumbai-(10)	58651 37+	10+	47		FEC101 11+	11			58652 3F	9+	12		FEL101 16+	16		58655 47+	6+	53		FEL102 18+	18		18.00	--				
		3.00	E	5.00	15.00	1.00	P	4.00	4.00	2.00	F	0.00	0.00	0.50	C	7.00	3.50	2.00	B	8.00	16.00	0.50	B	8.00	4.00	-- --			
		58653 32+	9+	41		FEL103 21+	40			58654 25F	7F	32		FEL104 15+	25		FEL105 36+	36											
		3.00	P	4.00	12.00	1.00	O	10.00	10.00	3.00	F	0.00	0.00	1.00	D	6.00	6.00	1.00	B	8.00	8.00								
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																			
7094005	SAYYED HASAN HAIDER AHTESHAM HUSSAIN - SHABANA 2023016402080513 (1)Mumbai-(10)	58651 24F	10E	34		FEC101 10+	10			58652 24E	9E	33		FEL101 10+	10		58655 24+	0F	24		FEL102 11+	11		18.00	--				
		3.00	F	0.00	0.00	1.00	P	4.00	4.00	2.00	P	4.00	8.00	0.50	P	4.00	2.00	2.00	F	0.00	0.00	0.50	P	4.00	2.00	-- --			
		58653 AA	8E	8		FEL103 10E	22			58654 20F	AA	20		FEL104 10+	20		FEL105 26+	26											
		3.00	F	0.00	0.00	1.00	P	4.00	4.00	3.00	F	0.00	0.00	1.00	P	4.00	4.00	1.00	D	6.00	6.00								
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																			
7094006	SHAIKH AKHTAR HUSAIN MOHD ISLAM - SHAHJAHAN KHATOON 2023016402077074 (1)Mumbai-(10)	58651 32+	8+	40		FEC101 17+	17			58652 37+	12+	49		FEL101 18+	18		58655 24+	7+	31		FEL102 21+	21		18.00	105.00				
		3.00	P	4.00	12.00	1.00	C	7.00	7.00	2.00	C	7.00	14.00	0.50	B	8.00	4.00	2.00	P	4.00	8.00	0.50	O	10.00	5.00	5.83 --			
		58653 36	10+	46		FEL103 23+	41			58654 34+	11+	45		FEL104 18+	30		FEL105 37+	37											
		3.00	E	5.00	15.00	1.00	O	10.00	10.00	3.00	E	5.00	15.00	1.00	C	7.00	7.00	1.00	B	8.00	8.00								
		Total Credit 18.00				FINAL CGPI 5.83				FINAL GRADE --																			

/ - FEMALE, # - 0.229A,@ - 0.5042A/O.5043A/O.5044A,* - 5045A, RR-RESERVED, --:Fails in Theory or Practical, RPV - PROVISIONAL Eligible, RCC - 0.5050, AB - ABSENT, F - UNSUCCESSFUL,P - SUCCESSFUL;
 NULL=NULL & VOID, G:Grade C*G:Gradepoints C:credits CP:credit points aCG:sum of product of credits & grades, Internal Marks are Provisional as per R.8668
 aC:sum of credit points GPA: aCG/aC
 MARKS : 0 to 39.99 40 to 44.99 45 to 49.99 50 to 59.99 60 to 69.99 70 to 74.99 75 to 79.99 80 to 100
 GRADE : F P E D C B A O
 GRADE POINT : 0.00 4.00 5.00 6.00 7.00 8.00 9.00 10.00



University of Mumbai, Mumbai

OFFICE REGISTER OF THE B.E. (with credits) - Regular - CBCS(Electronics and Telecommunication Engineering)- F.E. C-Scheme - Sem I [T01831] HELD IN Summer 2025 Result Declaration Date:11 Jul 2025

58651-Engineering Mathematics-I: ThUA 80/32 ThCA 20/8 100/0 | 58652-Engineering Physics-I: ThUA 60/24 ThCA 15/6 75/0 | 58655-Engineering Chemistry-I: ThUA 60/24 ThCA 15/6 75/0 |
 58653-Engineering Mechanics: ThUA 80/32 ThCA 20/8 100/0 | 58654-Basic Electrical Engineering: ThUA 80/32 ThCA 20/8 100/0 | FEL101-Engineering Physics-I (TW): TwCA 25/10 25/0 |
 FEL102-Engineering Chemistry-I (TW): TwCA 25/10 25/0 | FEL103-Engineering Mechanics (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 | FEL104-Basic Electrical Engineering (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 |
 FEL105-Basic Workshop Practice-I: TwCA 50/20 50/0 | FEC101-Engineering Mathematics-I Term Work: TwCA 25/10 25/0 |

SEAT NO.	NAME OF THE CANDIDATE Mother Name PRN.	PAPER 1				PAPER 2				PAPER 3				PAPER 4				PAPER 5				PAPER 6				RESULT CR C*G SGPI GRADE			
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G				
CENTRE-COLLEGE		PAPER 7				PAPER 8				PAPER 9				PAPER 10				PAPER 11											
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G
7094007	/ SHAIKH AYESHA MOHD QADEER SHAKIRUNNISA	58651				FEC101				58652				FEL101				58655				FEL102				Successful			
		32+	16+	48		---	18+	18		24+	9+	33		---	18+	18		24+	10+	34		---	22+	22		18.00	106.00		
	2023016402104347	3.00	E	5.00	15.00	1.00	B	8.00	8.00	2.00	P	4.00	8.00	0.50	B	8.00	4.00	2.00	E	5.00	10.00	0.50	O	10.00	5.00	5.89	--		
	(1)Mumbai-(10)	58653				FEL103				58654				FEL104				FEL105											
		32	8+	40		---	22+	43		42+	10+	52		---	20+	34		---	39+	39									
		3.00	P	4.00	12.00	1.00	O	10.00	10.00	3.00	D	6.00	18.00	1.00	C	7.00	7.00	1.00	A	9.00	9.00								
		Total Credit 18.00				FINAL CGPI 5.89				FINAL GRADE --																			
7094008	SHAIKH HABIB SHABANA	58651				FEC101				58652				FEL101				58655				FEL102				Unsuccessful			
		19F	8+	27		---	17+	17		16F	6+	22		---	19+	19		24+	6+	30		---	22+	22		18.00	--		
	2022016402424926	3.00	F	0.00	0.00	1.00	C	7.00	7.00	2.00	F	0.00	0.00	0.50	A	9.00	4.50	2.00	P	4.00	8.00	0.50	O	10.00	5.00	--	--		
	(1)Mumbai-(10)	58653				FEL103				58654				FEL104				FEL105											
		3F	8+	11		---	23+	42		32+	AA	32		---	18+	33		---	39+	39									
		3.00	F	0.00	0.00	1.00	O	10.00	10.00	3.00	F	0.00	0.00	1.00	C	7.00	7.00	1.00	A	9.00	9.00								
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																			
7094009	/ SHAIKH MARIAM AZAM RAFIA	58651				FEC101				58652				FEL101				58655				FEL102				Unsuccessful			
		44+	9+	53		---	20+	20		20F	11+	31		---	21+	21		24+	7+	31		---	24+	24		18.00	--		
	2023016402082767	3.00	D	6.00	18.00	1.00	O	10.00	10.00	2.00	F	0.00	0.00	0.50	O	10.00	5.00	2.00	P	4.00	8.00	0.50	O	10.00	5.00	--	--		
	(1)Mumbai-(10)	58653				FEL103				58654				FEL104				FEL105											
		39+	10+	49		---	23+	44		21F	8+	29		---	20+	34		---	39+	39									
		3.00	E	5.00	15.00	1.00	O	10.00	10.00	3.00	F	0.00	0.00	1.00	C	7.00	7.00	1.00	A	9.00	9.00								
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																			

/ - FEMALE, # - 0.229A ,@ - 0.5042A/O.5043A/O.5044A, * - 5045A, RR-RESERVED, ---Fails in Theory or Practical, RPV - PROVISIONAL Eligible, RCC - 0.5050, AB - ABSENT, F - UNSUCCESSFUL, P - SUCCESSFUL;
 NULL=NULL & VOID, G:Grade C*G:Gradepoints C:credits CP:credit points aCG:sum of product of credits & grades, Internal Marks are Provisional as per R.8668
 aC:sum of credit points GPA: aCG/aC
 MARKS : 0 to 39.99 40 to 44.99 45 to 49.99 50 to 59.99 60 to 69.99 70 to 74.99 75 to 79.99 80 to 100
 GRADE : F P E D C B A O
 GRADE POINT : 0.00 4.00 5.00 6.00 7.00 8.00 9.00 10.00



University of Mumbai, Mumbai

OFFICE REGISTER OF THE B.E. (with credits) - Regular - CBCS(Electronics and Telecommunication Engineering)- F.E. C-Scheme - Sem I [T01831] HELD IN Summer 2025 Result Declaration Date:11 Jul 2025

58651-Engineering Mathematics-I: ThUA 80/32 ThCA 20/8 100/0 | 58652-Engineering Physics-I: ThUA 60/24 ThCA 15/6 75/0 | 58655-Engineering Chemistry-I: ThUA 60/24 ThCA 15/6 75/0 |
 58653-Engineering Mechanics: ThUA 80/32 ThCA 20/8 100/0 | 58654-Basic Electrical Engineering: ThUA 80/32 ThCA 20/8 100/0 | FEL101-Engineering Physics-I (TW): TwCA 25/10 25/0 |
 FEL102-Engineering Chemistry-I (TW): TwCA 25/10 25/0 | FEL103-Engineering Mechanics (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 | FEL104-Basic Electrical Engineering (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 |
 FEL105-Basic Workshop Practice-I: TwCA 50/20 50/0 | FEC101-Engineering Mathematics-I Term Work: TwCA 25/10 25/0 |

SEAT NO.	NAME OF THE CANDIDATE Mother Name PRN.	PAPER 1				PAPER 2				PAPER 3				PAPER 4				PAPER 5				PAPER 6				RESULT CR C*G SGPI GRADE		
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G			
CENTRE-COLLEGE		PAPER 7				PAPER 8				PAPER 9				PAPER 10				PAPER 11										
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G			
7094010	SHAIKH MOHAMMAD NADEEM MOHAMMAD HASHIM - SABIHA KHATOON	58651	43	13+	56	FEC101	---	20+	20	58652	24+	9+	33	FEL101	---	18+	18	58655	33+	8+	41	FEL102	---	23+	23	Successful	18.00	106.00
	2023016402115724	3.00	D	6.00	18.00	1.00	O	10.00	10.00	2.00	P	4.00	8.00	0.50	B	8.00	4.00	2.00	D	6.00	12.00	0.50	O	10.00	5.00	5.89	--	
	(1)Mumbai-(10)	58653	32+	10+	42	FEL103	---	23+	42	58654	32+	9+	41	FEL104	---	15+	31	FEL105	---	37+	37							
		3.00	P	4.00	12.00	1.00	O	10.00	10.00	3.00	P	4.00	12.00	1.00	C	7.00	7.00	1.00	B	8.00	8.00							
		Total Credit 18.00				FINAL CGPI 5.89				FINAL GRADE --																		
7094011	SHAIKH OWAS RAZA SAJID SHAZIA	58651	43	11+	54	FEC101	---	12+	12	58652	29+	11+	40	FEL101	---	18+	18	58655	24+	8+	32	FEL102	---	21+	21	Successful	18.00	101.00
	2023016402079227	3.00	D	6.00	18.00	1.00	E	5.00	5.00	2.00	D	6.00	12.00	0.50	B	8.00	4.00	2.00	P	4.00	8.00	0.50	O	10.00	5.00	5.61	--	
	(1)Mumbai-(10)	58653	32+	11+	43	FEL103	---	21+	37	58654	36	8+	44	FEL104	---	20+	32	FEL105	---	40+	40							
		3.00	P	4.00	12.00	1.00	B	8.00	8.00	3.00	P	4.00	12.00	1.00	C	7.00	7.00	1.00	O	10.00	10.00							
		Total Credit 18.00				FINAL CGPI 5.61				FINAL GRADE --																		
7094012	/ KUMARI PRIYA SURYMANI SANGEETA	58651	23F	11+	34	FEC101	---	17+	17	58652	11F	6+	17	FEL101	---	20+	20	58655	24+	6+	30	FEL102	---	23+	23	Unsuccessful	18.00	--
	2022016402429943	3.00	F	0.00	0.00	1.00	C	7.00	7.00	2.00	F	0.00	0.00	0.50	O	10.00	5.00	2.00	P	4.00	8.00	0.50	O	10.00	5.00	--	--	
	(1)Mumbai-(10)	58653	27F	8+	35	FEL103	---	22+	43	58654	32+	8+	40	FEL104	---	23+	37	FEL105	---	42+	42							
		3.00	F	0.00	0.00	1.00	O	10.00	10.00	3.00	P	4.00	12.00	1.00	B	8.00	8.00	1.00	O	10.00	10.00							
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																		

/ - FEMALE, # - 0.229A,@ - 0.5042A/O.5043A/O.5044A, * - 5045A, RR-RESERVED, --:Fails in Theory or Practical, RPV - PROVISIONAL Eligible, RCC - 0.5050, AB - ABSENT, F - UNSUCCESSFUL,P - SUCCESSFUL;
 NULL=NULL & VOID, G:Grade C*G:Gradepoints C:credits CP:credit points aCG:sum of product of credits & grades, Internal Marks are Provisional as per R.8668
 aC:sum of credit points GPA: aCG/aC
 MARKS : 0 to 39.99 40 to 44.99 45 to 49.99 50 to 59.99 60 to 69.99 70 to 74.99 75 to 79.99 80 to 100
 GRADE : F P E D C B A O
 GRADE POINT : 0.00 4.00 5.00 6.00 7.00 8.00 9.00 10.00



University of Mumbai, Mumbai

OFFICE REGISTER OF THE B.E. (with credits) - Regular - CBCS(Electronics and Telecommunication Engineering)- F.E. C-Scheme - Sem I [T01831] HELD IN Summer 2025 Result Declaration Date:11 Jul 2025

58651-Engineering Mathematics-I: ThUA 80/32 ThCA 20/8 100/0 | 58652-Engineering Physics-I: ThUA 60/24 ThCA 15/6 75/0 | 58655-Engineering Chemistry-I: ThUA 60/24 ThCA 15/6 75/0 |
 58653-Engineering Mechanics: ThUA 80/32 ThCA 20/8 100/0 | 58654-Basic Electrical Engineering: ThUA 80/32 ThCA 20/8 100/0 | FEL101-Engineering Physics-I (TW): TwCA 25/10 25/0 |
 FEL102-Engineering Chemistry-I (TW): TwCA 25/10 25/0 | FEL103-Engineering Mechanics (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 | FEL104-Basic Electrical Engineering (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 |
 FEL105-Basic Workshop Practice-I: TwCA 50/20 50/0 | FEC101-Engineering Mathematics-I Term Work: TwCA 25/10 25/0 |

SEAT NO.	NAME OF THE CANDIDATE Mother Name PRN.	PAPER 1				PAPER 2				PAPER 3				PAPER 4				PAPER 5				PAPER 6				RESULT CR C*G SGPI GRADE	
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G		
CENTRE-COLLEGE		PAPER 7				PAPER 8				PAPER 9				PAPER 10				PAPER 11									
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G		
7094013	TAMBOLI SALMAN SUBHAN RESHMA 2022016402424764 (1)Mumbai-(10)	58651 32+	9+	41		FEC101 18+	18		58652 24+	12+	36		FEL101 20+	20		58655 24+	10+	34		FEL102 21+	21		Successful 18.00 106.00				
		3.00	P	4.00	12.00	1.00	B	8.00	8.00	2.00	E	5.00	10.00	0.50	O	10.00	5.00	2.00	E	5.00	10.00	0.50	O	10.00	5.00	5.89 --	
		58653 43	9+	52		FEL103 22+	39		58654 32+	8+	40		FEL104 18+	32		FEL105 42+	42										
		3.00	D	6.00	18.00	1.00	A	9.00	9.00	3.00	P	4.00	12.00	1.00	C	7.00	7.00	1.00	O	10.00	10.00						
		Total Credit 18.00				FINAL CGPI 5.89				FINAL GRADE --																	
7094014	VHATKAR SAI SUKHADEV SHUBHALAXMI 2023016402076001 (1)Mumbai-(10)	58651 4F	11+	15		FEC101 15+	15		58652 29E	11+	40		FEL101 18+	18		58655 24+	8+	32		FEL102 23+	23		Unsuccessful 18.00 --				
		3.00	F	0.00	0.00	1.00	C	7.00	7.00	2.00	D	6.00	12.00	0.50	B	8.00	4.00	2.00	P	4.00	8.00	0.50	O	10.00	5.00	-- --	
		58653 8F	8+	16		FEL103 23+	40		58654 3F	11+	14		FEL104 20+	38		FEL105 38+	38										
		3.00	F	0.00	0.00	1.00	O	10.00	10.00	3.00	F	0.00	0.00	1.00	A	9.00	9.00	1.00	A	9.00	9.00						
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																	
7094015	YADAV AMIT SHIVLAL REETA 2023016402115682 (1)Mumbai-(10)	58651 32+	11+	43		FEC101 19+	19		58652 38	6+	44		FEL101 18+	18		58655 37+	8+	45		FEL102 20+	20		Successful 18.00 115.00				
		3.00	P	4.00	12.00	1.00	A	9.00	9.00	2.00	D	6.00	12.00	0.50	B	8.00	4.00	2.00	C	7.00	14.00	0.50	O	10.00	5.00	6.39 --	
		58653 42+	9+	51		FEL103 23+	43		58654 32+	12+	44		FEL104 21+	42		FEL105 38+	38										
		3.00	D	6.00	18.00	1.00	O	10.00	10.00	3.00	P	4.00	12.00	1.00	O	10.00	10.00	1.00	A	9.00	9.00						
		Total Credit 18.00				FINAL CGPI 6.39				FINAL GRADE --																	

/ - FEMALE, # - 0.229A,@ - 0.5042A/O.5043A/O.5044A,* - 5045A, RR-RESERVED, --:Fails in Theory or Practical, RPV - PROVISIONAL Eligible, RCC - 0.5050, AB - ABSENT, F - UNSUCCESSFUL,P - SUCCESSFUL;
 NULL=NULL & VOID, G:Grade C*G:Gradepoints C:credits CP:credit points aCG:sum of product of credits & grades, Internal Marks are Provisional as per R.8668
 aC:sum of credit points GPA: aCG/aC
 MARKS : 0 to 39.99 40 to 44.99 45 to 49.99 50 to 59.99 60 to 69.99 70 to 74.99 75 to 79.99 80 to 100
 GRADE : F P E D C B A O
 GRADE POINT : 0.00 4.00 5.00 6.00 7.00 8.00 9.00 10.00



University of Mumbai, Mumbai

OFFICE REGISTER OF THE B.E. (with credits) - Regular - CBCS (Electronics and Telecommunication Engineering)- F.E. C-Scheme - Sem I [1T01831] HELD IN Summer 2025 Result Declaration Date: 11 Jul 2025

58651-Engineering Mathematics-I: ThUA 80/32 ThCA 20/8 100/0 | 58652-Engineering Physics-I: ThUA 60/24 ThCA 15/6 75/0 | 58655-Engineering Chemistry-I: ThUA 60/24 ThCA 15/6 75/0 |
 58653-Engineering Mechanics: ThUA 80/32 ThCA 20/8 100/0 | 58654-Basic Electrical Engineering: ThUA 80/32 ThCA 20/8 100/0 | FEL101-Engineering Physics-I (TW): TwCA 25/10 25/0 |
 FEL102-Engineering Chemistry-I (TW): TwCA 25/10 25/0 | FEL103-Engineering Mechanics (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 | FEL104-Basic Electrical Engineering (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 |
 FEL105-Basic Workshop Practice-I: TwCA 50/20 50/0 | FEC101-Engineering Mathematics-I Term Work: TwCA 25/10 25/0 |

SEAT NO.	NAME OF THE CANDIDATE Mother Name PRN.	PAPER 1				PAPER 2				PAPER 3				PAPER 4				PAPER 5				PAPER 6				RESULT CR C*G SGPI GRADE			
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G				
CENTRE-COLLEGE		PAPER 7				PAPER 8				PAPER 9				PAPER 10				PAPER 11											
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G				
7094016	ZERDI YASIN MOHD HUSSAIN AYESHA 2023016402076577 (1)Mumbai-(10)	58651 37+	13+	50	5	FEC101 --	22+	22	2	58652 31+	8+	39	3	FEL101 --	18+	18	2	58655 27+	8+	35	3	FEL102 --	21+	21	2	18.00	116.00	6.44	--
		3.00	D	6.00	18.00	1.00	O	10.00	10.00	2.00	D	6.00	12.00	0.50	B	8.00	4.00	2.00	E	5.00	10.00	0.50	O	10.00	5.00				
		58653 39	8+	47	5	FEL103 --	23+	39	3	58654 38+	8+	46	3	FEL104 --	21+	39	3	FEL105 --	38+	38	3								
		3.00	E	5.00	15.00	1.00	A	9.00	9.00	3.00	E	5.00	15.00	1.00	A	9.00	9.00	1.00	A	9.00	9.00								
		Total Credit 18.00				FINAL CGPI 6.44				FINAL GRADE --																			
7094017	SIDDHESH VINAYAK BHATE RAJNI 2022016402057293 (1)Mumbai-(126)	58651 AA	8+	8	5	FEC101 --	21+	21	2	58652 27+	7+	34	3	FEL101 --	19+	19	2	58655 24+	7+	31	3	FEL102 --	20+	20	2	18.00	--	--	--
		3.00	F	0.00	0.00	1.00	O	10.00	10.00	2.00	E	5.00	10.00	0.50	A	9.00	4.50	2.00	P	4.00	8.00	0.50	O	10.00	5.00				
		58653 AA	9+	9	5	FEL103 --	21+	33	3	58654 34+	9+	43	3	FEL104 --	21+	40	3	FEL105 --	44+	44	3								
		3.00	F	0.00	0.00	1.00	C	7.00	7.00	3.00	P	4.00	12.00	1.00	O	10.00	10.00	1.00	O	10.00	10.00								
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																			
7094018	DESAI HARSH VIVEK VIDULA 2023016402065227 (1)Mumbai-(126)	58651 4F	9+	13	5	FEC101 --	21+	21	2	58652 5F	6+	11	1	FEL101 --	21+	21	2	58655 1F	6E	7	1	FEL102 --	21+	21	2	18.00	--	--	--
		3.00	F	0.00	0.00	1.00	O	10.00	10.00	2.00	F	0.00	0.00	0.50	O	10.00	5.00	2.00	F	0.00	0.00	0.50	O	10.00	5.00				
		58653 1F	10+	11	5	FEL103 --	20+	31	3	58654 34+	14+	48	3	FEL104 --	16+	28	2	FEL105 --	44+	44	3								
		3.00	F	0.00	0.00	1.00	C	7.00	7.00	3.00	E	5.00	15.00	1.00	D	6.00	6.00	1.00	O	10.00	10.00								
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																			

/ - FEMALE, # - 0.229A, @ - 0.5042A/O.5043A/O.5044A, * - 5045A, RR-RESERVED, --:Fails in Theory or Practical, RPV - PROVISIONAL Eligible, RCC - 0.5050, AB - ABSENT, F - UNSUCCESSFUL, P - SUCCESSFUL;
 NULL=NULL & VOID, G:Grade C*G:Gradepoints C:credits CP:credit points aCG:sum of product of credits & grades, Internal Marks are Provisional as per R.8668
 aC:sum of credit points GPA: aCG/aC
 MARKS : 0 to 39.99 40 to 44.99 45 to 49.99 50 to 59.99 60 to 69.99 70 to 74.99 75 to 79.99 80 to 100
 GRADE : F P E D C B A O
 GRADE POINT : 0.00 4.00 5.00 6.00 7.00 8.00 9.00 10.00



University of Mumbai, Mumbai

OFFICE REGISTER OF THE B.E. (with credits) - Regular - CBCS (Electronics and Telecommunication Engineering)- F.E. C-Scheme - Sem I [1T01831] HELD IN Summer 2025 Result Declaration Date: 11 Jul 2025

58651-Engineering Mathematics-I: ThUA 80/32 ThCA 20/8 100/0 | 58652-Engineering Physics-I: ThUA 60/24 ThCA 15/6 75/0 | 58655-Engineering Chemistry-I: ThUA 60/24 ThCA 15/6 75/0 |
 58653-Engineering Mechanics: ThUA 80/32 ThCA 20/8 100/0 | 58654-Basic Electrical Engineering: ThUA 80/32 ThCA 20/8 100/0 | FEL101-Engineering Physics-I (TW): TwCA 25/10 25/0 |
 FEL102-Engineering Chemistry-I (TW): TwCA 25/10 25/0 | FEL103-Engineering Mechanics (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 | FEL104-Basic Electrical Engineering (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 |
 FEL105-Basic Workshop Practice-I: TwCA 50/20 50/0 | FEC101-Engineering Mathematics-I Term Work: TwCA 25/10 25/0 |

SEAT NO.	NAME OF THE CANDIDATE Mother Name PRN.	PAPER 1				PAPER 2				PAPER 3				PAPER 4				PAPER 5				PAPER 6				RESULT CR C*G SGPI GRADE
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	
CENTRE-COLLEGE		PAPER 7				PAPER 8				PAPER 9				PAPER 10				PAPER 11								
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	
7094019	GOWDA KSHITHIJ UMESH MANJULA 2023016402090376 (1)Mumbai-(126)	58651 32	8+	40		FEC101 --	21+	21		58652 24+	7+	31		FEL101 --	20+	20		58655 28+	9+	37		FEL102 --	18+	18	Successful 18.00 107.00	
		3.00	P	4.00	12.00	1.00	O	10.00	10.00	2.00	P	4.00	8.00	0.50	O	10.00	5.00	2.00	E	5.00	10.00	0.50	B	8.00	4.00	5.94 --
		58653 40	8+	48		FEL103 --	19+	36		58654 41+	9+	50		FEL104 --	18+	30		FEL105 --	43+	43						
		3.00	E	5.00	15.00	1.00	B	8.00	8.00	3.00	D	6.00	18.00	1.00	C	7.00	7.00	1.00	O	10.00	10.00					
		Total Credit 18.00				FINAL CGPI 5.94				FINAL GRADE --																
7094020	GUPTA SURAJ ABHAYRAJ GEETA 2023016402069604 (1)Mumbai-(126)	58651 32+	13+	45		FEC101 --	23+	23		58652 40+	8+	48		FEL101 --	21+	21		58655 31+	6+	37		FEL102 --	18+	18	Unsuccessful 18.00 --	
		3.00	E	5.00	15.00	1.00	O	10.00	10.00	2.00	C	7.00	14.00	0.50	O	10.00	5.00	2.00	E	5.00	10.00	0.50	B	8.00	4.00	-- --
		58653 26F	9+	35		FEL103 --	21+	33		58654 32+	9+	41		FEL104 --	16+	29		FEL105 --	39+	39						
		3.00	F	0.00	0.00	1.00	C	7.00	7.00	3.00	P	4.00	12.00	1.00	D	6.00	6.00	1.00	A	9.00	9.00					
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																
7094021	JAGDALE ADITYA NITIN SEEMA 2023016402064402 (1)Mumbai-(126)	58651 41	8+	49		FEC101 --	21+	21		58652 27+	9+	36		FEL101 --	20+	20		58655 35+	7+	42		FEL102 --	18+	18	Successful 18.00 116.00	
		3.00	E	5.00	15.00	1.00	O	10.00	10.00	2.00	E	5.00	10.00	0.50	O	10.00	5.00	2.00	D	6.00	12.00	0.50	B	8.00	4.00	6.44 --
		58653 32+	16+	48		FEL103 --	19+	40		58654 39+	11+	50		FEL104 --	17+	32		FEL105 --	45+	45						
		3.00	E	5.00	15.00	1.00	O	10.00	10.00	3.00	D	6.00	18.00	1.00	C	7.00	7.00	1.00	O	10.00	10.00					
		Total Credit 18.00				FINAL CGPI 6.44				FINAL GRADE --																

/ - FEMALE, # - 0.229A, @ - 0.5042A/O.5043A/O.5044A, * - 5045A, RR-RESERVED, --:Fails in Theory or Practical, RPV - PROVISIONAL Eligible, RCC - 0.5050, AB - ABSENT, F - UNSUCCESSFUL, P - SUCCESSFUL;
 NULL=NULL & VOID, G:Grade C*G:Gradepoints C:credits CP:credit points aCG:sum of product of credits & grades, Internal Marks are Provisional as per R.8668
 aC:sum of credit points GPA: aCG/aC
 MARKS : 0 to 39.99 40 to 44.99 45 to 49.99 50 to 59.99 60 to 69.99 70 to 74.99 75 to 79.99 80 to 100
 GRADE : F P E D C B A O
 GRADE POINT : 0.00 4.00 5.00 6.00 7.00 8.00 9.00 10.00



University of Mumbai, Mumbai

OFFICE REGISTER OF THE B.E. (with credits) - Regular - CBCS (Electronics and Telecommunication Engineering)- F.E. C-Scheme - Sem I [1T01831] HELD IN Summer 2025 Result Declaration Date: 11 Jul 2025

58651-Engineering Mathematics-I: ThUA 80/32 ThCA 20/8 100/0 | 58652-Engineering Physics-I: ThUA 60/24 ThCA 15/6 75/0 | 58655-Engineering Chemistry-I: ThUA 60/24 ThCA 15/6 75/0 |
 58653-Engineering Mechanics: ThUA 80/32 ThCA 20/8 100/0 | 58654-Basic Electrical Engineering: ThUA 80/32 ThCA 20/8 100/0 | FEL101-Engineering Physics-I (TW): TwCA 25/10 25/0 |
 FEL102-Engineering Chemistry-I (TW): TwCA 25/10 25/0 | FEL103-Engineering Mechanics (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 | FEL104-Basic Electrical Engineering (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 |
 FEL105-Basic Workshop Practice-I: TwCA 50/20 50/0 | FEC101-Engineering Mathematics-I Term Work: TwCA 25/10 25/0 |

SEAT NO.	NAME OF THE CANDIDATE Mother Name PRN.	PAPER 1				PAPER 2				PAPER 3				PAPER 4				PAPER 5				PAPER 6				RESULT CR C*G SGPI GRADE			
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G				
CENTRE-COLLEGE		PAPER 7				PAPER 8				PAPER 9				PAPER 10				PAPER 11											
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G
7094022	KATKAR RAJ NARAYAN GEETA 2023016402060675 (1)Mumbai-(126)	58651 10F	8+	18		FEC101 --	20+	20		58652 0F	6+	6		FEL101 --	19+	19		58655 31+	6+	37		FEL102 --	20+	20		Unsuccessful 18.00 --			
		3.00	F	0.00	0.00	1.00	O	10.00	10.00	2.00	F	0.00	0.00	0.50	A	9.00	4.50	2.00	E	5.00	10.00	0.50	O	10.00	5.00	-- --			
		58653 9F	9+	18		FEL103 --	19+	35		58654 37+	8+	45		FEL104 --	17+	31		FEL105 --	46+	46									
		3.00	F	0.00	0.00	1.00	B	8.00	8.00	3.00	E	5.00	15.00	1.00	C	7.00	7.00	1.00	O	10.00	10.00								
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																			
7094023	MAHAJAN PRATIK VIJAY JYOTI 2022016402058837 (1)Mumbai-(126)	58651 37+	10+	47		FEC101 --	22+	22		58652 24+	8+	32		FEL101 --	20+	20		58655 24+	7+	31		FEL102 --	20+	20		Successful 18.00 105.00			
		3.00	E	5.00	15.00	1.00	O	10.00	10.00	2.00	P	4.00	8.00	0.50	O	10.00	5.00	2.00	P	4.00	8.00	0.50	O	10.00	5.00	5.83 --			
		58653 38	8+	46		FEL103 --	17+	30		58654 32+	9+	41		FEL104 --	21+	41		FEL105 --	42+	42									
		3.00	E	5.00	15.00	1.00	C	7.00	7.00	3.00	P	4.00	12.00	1.00	O	10.00	10.00	1.00	O	10.00	10.00								
		Total Credit 18.00				FINAL CGPI 5.83				FINAL GRADE --																			
7094024	RANA RASHISH KRUTARTH LEENA 2023016402090314 (1)Mumbai-(126)	58651 32	10+	42		FEC101 --	22+	22		58652 24+	8+	32		FEL101 --	20+	20		58655 35+	8+	43		FEL102 --	19+	19		Successful 18.00 114.50			
		3.00	P	4.00	12.00	1.00	O	10.00	10.00	2.00	P	4.00	8.00	0.50	O	10.00	5.00	2.00	D	6.00	12.00	0.50	A	9.00	4.50	6.36 --			
		58653 40	15+	55		FEL103 --	18+	37		58654 47+	9+	56		FEL104 --	20+	39		FEL105 --	42+	42									
		3.00	D	6.00	18.00	1.00	B	8.00	8.00	3.00	D	6.00	18.00	1.00	A	9.00	9.00	1.00	O	10.00	10.00								
		Total Credit 18.00				FINAL CGPI 6.36				FINAL GRADE --																			

/ - FEMALE, # - 0.229A, @ - 0.5042A/O.5043A/O.5044A, * - 5045A, RR-RESERVED, --:Fails in Theory or Practical, RPV - PROVISIONAL Eligible, RCC - 0.5050, AB - ABSENT, F - UNSUCCESSFUL, P - SUCCESSFUL;
 NULL=NULL & VOID, G:Grade C*G:Gradepoints C:credits CP:credit points aCG:sum of product of credits & grades, Internal Marks are Provisional as per R.8668
 aC:sum of credit points GPA: aCG/aC
 MARKS : 0 to 39.99 40 to 44.99 45 to 49.99 50 to 59.99 60 to 69.99 70 to 74.99 75 to 79.99 80 to 100
 GRADE : F P E D C B A O
 GRADE POINT : 0.00 4.00 5.00 6.00 7.00 8.00 9.00 10.00



University of Mumbai, Mumbai

OFFICE REGISTER OF THE B.E. (with credits) - Regular - CBCS(Electronics and Telecommunication Engineering)- F.E. C-Scheme - Sem I [T01831] HELD IN Summer 2025 Result Declaration Date:11 Jul 2025

58651-Engineering Mathematics-I: ThUA 80/32 ThCA 20/8 100/0 | 58652-Engineering Physics-I: ThUA 60/24 ThCA 15/6 75/0 | 58655-Engineering Chemistry-I: ThUA 60/24 ThCA 15/6 75/0 |
 58653-Engineering Mechanics: ThUA 80/32 ThCA 20/8 100/0 | 58654-Basic Electrical Engineering: ThUA 80/32 ThCA 20/8 100/0 | FEL101-Engineering Physics-I (TW): TwCA 25/10 25/0 |
 FEL102-Engineering Chemistry-I (TW): TwCA 25/10 25/0 | FEL103-Engineering Mechanics (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 | FEL104-Basic Electrical Engineering (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 |
 FEL105-Basic Workshop Practice-I: TwCA 50/20 50/0 | FEC101-Engineering Mathematics-I Term Work: TwCA 25/10 25/0 |

SEAT NO.	NAME OF THE CANDIDATE Mother Name PRN.	PAPER 1				PAPER 2				PAPER 3				PAPER 4				PAPER 5				PAPER 6				RESULT CR C*G SGPI GRADE			
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G				
CENTRE-COLLEGE		PAPER 7				PAPER 8				PAPER 9				PAPER 10				PAPER 11											
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G				
7094025	PRITHVI SHARMA ANSHU 2023016402060547 (1)Mumbai-(126)	58651 AA	8+	8		FEC101 --	22+	22		58652 AA	6+	6		FEL101 --	21+	21		58655 AA	6+	6		FEL102 --	20+	20	ABS 18.00 --				
		3.00	F	0.00	0.00	1.00	O	10.00	10.00	2.00	F	0.00	0.00	0.50	O	10.00	5.00	2.00	F	0.00	0.00	0.50	O	10.00	5.00	-- --			
		58653 AA	9+	9		FEL103 --	21+	40		58654 AA	8+	8		FEL104 --	19+	37		FEL105 --	47+	47									
		3.00	F	0.00	0.00	1.00	O	10.00	10.00	3.00	F	0.00	0.00	1.00	B	8.00	8.00	1.00	O	10.00	10.00								
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																			
7094026	SOLANKI SOHAM JASWANT DAKSHA 2023016402090353 (1)Mumbai-(126)	58651 33+	13+	46		FEC101 --	21+	21		58652 25+	9+	34		FEL101 --	16+	16		58655 27+	7+	34		FEL102 --	18+	18	Unsuccessful 18.00 --				
		3.00	E	5.00	15.00	1.00	O	10.00	10.00	2.00	E	5.00	10.00	0.50	C	7.00	3.50	2.00	E	5.00	10.00	0.50	B	8.00	4.00	-- --			
		58653 22F	11+	33		FEL103 --	18+	35		58654 32+	9+	41		FEL104 --	20+	34		FEL105 --	45+	45									
		3.00	F	0.00	0.00	1.00	B	8.00	8.00	3.00	P	4.00	12.00	1.00	C	7.00	7.00	1.00	O	10.00	10.00								
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																			
7094027	SOLANKI VANSHVEER RUPCHAND KUSUMLATA 2023016402060764 (1)Mumbai-(126)	58651 32+	10+	42		FEC101 --	21+	21		58652 30+	6+	36		FEL101 --	19+	19		58655 34+	6+	40		FEL102 --	18+	18	Unsuccessful 18.00 --				
		3.00	P	4.00	12.00	1.00	O	10.00	10.00	2.00	E	5.00	10.00	0.50	A	9.00	4.50	2.00	D	6.00	12.00	0.50	B	8.00	4.00	-- --			
		58653 20F	11+	31		FEL103 --	17+	27		58654 17F	8+	25		FEL104 --	17+	33		FEL105 --	44+	44									
		3.00	F	0.00	0.00	1.00	D	6.00	6.00	3.00	F	0.00	0.00	1.00	C	7.00	7.00	1.00	O	10.00	10.00								
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																			

/ - FEMALE, # - 0.229A,@ - 0.5042A/O.5043A/O.5044A,* - 5045A, RR-RESERVED, --:Fails in Theory or Practical, RPV - PROVISIONAL Eligible, RCC - 0.5050, AB - ABSENT, F - UNSUCCESSFUL,P - SUCCESSFUL;
 NULL=NULL & VOID, G:Grade C*G:Gradepoints C:credits CP:credit points aCG:sum of product of credits & grades, Internal Marks are Provisional as per R.8668
 aC:sum of credit points GPA: aCG/aC
 MARKS : 0 to 39.99 40 to 44.99 45 to 49.99 50 to 59.99 60 to 69.99 70 to 74.99 75 to 79.99 80 to 100
 GRADE : F P E D C B A O
 GRADE POINT : 0.00 4.00 5.00 6.00 7.00 8.00 9.00 10.00



University of Mumbai, Mumbai

OFFICE REGISTER OF THE B.E. (with credits) - Regular - CBCS(Electronics and Telecommunication Engineering)- F.E. C-Scheme - Sem I [1T01831] HELD IN Summer 2025 Result Declaration Date:11 Jul 2025

58651-Engineering Mathematics-I: ThUA 80/32 ThCA 20/8 100/0 | 58652-Engineering Physics-I: ThUA 60/24 ThCA 15/6 75/0 | 58655-Engineering Chemistry-I: ThUA 60/24 ThCA 15/6 75/0 |
 58653-Engineering Mechanics: ThUA 80/32 ThCA 20/8 100/0 | 58654-Basic Electrical Engineering: ThUA 80/32 ThCA 20/8 100/0 | FEL101-Engineering Physics-I (TW): TwCA 25/10 25/0 |
 FEL102-Engineering Chemistry-I (TW): TwCA 25/10 25/0 | FEL103-Engineering Mechanics (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 | FEL104-Basic Electrical Engineering (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 |
 FEL105-Basic Workshop Practice-I: TwCA 50/20 50/0 | FEC101-Engineering Mathematics-I Term Work: TwCA 25/10 25/0 |

SEAT NO.	NAME OF THE CANDIDATE Mother Name PRN.	PAPER 1				PAPER 2				PAPER 3				PAPER 4				PAPER 5				PAPER 6				RESULT CR C*G SGPI GRADE			
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G				
CENTRE-COLLEGE		PAPER 7				PAPER 8				PAPER 9				PAPER 10				PAPER 11											
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G				
7094028	TIWARI DURGESH SHESHNATH BABY 2023016402090361 (1)Mumbai-(126)	58651 33	12+	45		FEC101 --	20+	20		58652 24+	6+	30		FEL101 --	19+	19		58655 25+	8+	33		FEL102 --	19+	19	Successful 18.00 100.00				
		3.00	E	5.00	15.00	1.00	O	10.00	10.00	2.00	P	4.00	8.00	0.50	A	9.00	4.50	2.00	P	4.00	8.00	0.50	A	9.00	4.50	5.56 --			
		58653 32	8+	40		FEL103 --	19+	38		58654 32+	11+	43		FEL104 --	18+	33		FEL105 --	40+	40									
		3.00	P	4.00	12.00	1.00	A	9.00	9.00	3.00	P	4.00	12.00	1.00	C	7.00	7.00	1.00	O	10.00	10.00								
		Total Credit 18.00				FINAL CGPI 5.56				FINAL GRADE --																			
7094029	/ PARI HIREN VAGHELA BHAKTI VAGHELA 2023016402070012 (1)Mumbai-(126)	58651 AA	8+	8		FEC101 --	20+	20		58652 24+	7+	31		FEL101 --	18+	18		58655 24+	6+	30		FEL102 --	17+	17	ABS 18.00 --				
		3.00	F	0.00	0.00	1.00	O	10.00	10.00	2.00	P	4.00	8.00	0.50	B	8.00	4.00	2.00	P	4.00	8.00	0.50	C	7.00	3.50	-- --			
		58653 46+	17+	63		FEL103 --	18+	32		58654 AA	8+	8		FEL104 --	20+	40		FEL105 --	45+	45									
		3.00	C	7.00	21.00	1.00	C	7.00	7.00	3.00	F	0.00	0.00	1.00	O	10.00	10.00	1.00	O	10.00	10.00								
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																			
7094030	DINKAR AVADHOOT PRAKASH MANISHA 2022016402205602 (1)Mumbai-(366)	58651 18F	8+	26		FEC101 --	13+	13		58652 24+	8+	32		FEL101 --	18+	18		58655 24+	8+	32		FEL102 --	18+	18	Unsuccessful 18.00 --				
		3.00	F	0.00	0.00	1.00	D	6.00	6.00	2.00	P	4.00	8.00	0.50	B	8.00	4.00	2.00	P	4.00	8.00	0.50	B	8.00	4.00	-- --			
		58653 45+	10+	55		FEL103 --	18+	37		58654 38+	10+	48		FEL104 --	23+	40		FEL105 --	43+	43									
		3.00	D	6.00	18.00	1.00	B	8.00	8.00	3.00	E	5.00	15.00	1.00	O	10.00	10.00	1.00	O	10.00	10.00								
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																			

Remark: RCC

/ - FEMALE, # - 0.229A, @ - 0.5042A/O.5043A/O.5044A, * - 5045A, RR-RESERVED, --:Fails in Theory or Practical, RPV - PROVISIONAL Eligible, RCC - 0.5050, AB - ABSENT, F - UNSUCCESSFUL, P - SUCCESSFUL;
 NULL=NULL & VOID, G:Grade C*G:Gradepoints C:credits CP:credit points aCG:sum of product of credits & grades, Internal Marks are Provisional as per R.8668
 aC:sum of credit points GPA: aCG/aC
 MARKS : 0 to 39.99 40 to 44.99 45 to 49.99 50 to 59.99 60 to 69.99 70 to 74.99 75 to 79.99 80 to 100
 GRADE : F P E D C B A O
 GRADE POINT : 0.00 4.00 5.00 6.00 7.00 8.00 9.00 10.00



University of Mumbai, Mumbai

OFFICE REGISTER OF THE B.E. (with credits) - Regular - CBCS(Electronics and Telecommunication Engineering)- F.E. C-Scheme - Sem I [T01831] HELD IN Summer 2025 Result Declaration Date:11 Jul 2025

58651-Engineering Mathematics-I: ThUA 80/32 ThCA 20/8 100/0 | 58652-Engineering Physics-I: ThUA 60/24 ThCA 15/6 75/0 | 58655-Engineering Chemistry-I: ThUA 60/24 ThCA 15/6 75/0 |
 58653-Engineering Mechanics: ThUA 80/32 ThCA 20/8 100/0 | 58654-Basic Electrical Engineering: ThUA 80/32 ThCA 20/8 100/0 | FEL101-Engineering Physics-I (TW): TwCA 25/10 25/0 |
 FEL102-Engineering Chemistry-I (TW): TwCA 25/10 25/0 | FEL103-Engineering Mechanics (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 | FEL104-Basic Electrical Engineering (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 |
 FEL105-Basic Workshop Practice-I: TwCA 50/20 50/0 | FEC101-Engineering Mathematics-I Term Work: TwCA 25/10 25/0 |

SEAT NO.	NAME OF THE CANDIDATE Mother Name PRN.	PAPER 1				PAPER 2				PAPER 3				PAPER 4				PAPER 5				PAPER 6				RESULT CR C*G SGPI GRADE			
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G				
CENTRE-COLLEGE		PAPER 7				PAPER 8				PAPER 9				PAPER 10				PAPER 11											
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G
7094031	HIVRALE OMKAR BHUSAHEB RUPALI 2022016402211711 (1)Mumbai-(366)	58651 32+ 3.00 P	8+ 4.00	40 12.00	4.00	FEC101 11+ 1.00 P	11 4.00	11 4.00	4.00	58652 28 2.00 E	7+ 5.00	35 10.00	10.00	FEL101 19+ 0.50 A	19 9.00	19 4.50	4.50	58655 25+ 2.00 P	7+ 4.00	32 8.00	8.00	FEL102 14+ 0.50 D	14 6.00	14 3.00	3.00	5.31 --			
		58653 32+ 3.00 P	9+ 4.00	41 12.00	4.00	FEL103 21+ 1.00 B	37 8.00	37 8.00	8.00	58654 32 3.00 E	16+ 5.00	48 15.00	15.00	FEL104 24+ 1.00 O	41 10.00	41 10.00	10.00	FEL105 39+ 1.00 A	39 9.00	39 9.00	9.00								
		Total Credit 18.00				FINAL CGPI 5.31				FINAL GRADE --																			
7094032	/ KHUSHBOO RADHA KRISHNA JHA MAMTA 2022016402219207 (1)Mumbai-(366)	58651 32+ 3.00 P	8+ 4.00	40 12.00	4.00	FEC101 14+ 1.00 D	14 6.00	14 6.00	6.00	58652 34 2.00 D	8+ 6.00	42 12.00	12.00	FEL101 18+ 0.50 B	18 8.00	18 4.00	4.00	58655 28+ 2.00 E	6+ 5.00	34 10.00	10.00	FEL102 10+ 0.50 P	10 4.00	10 2.00	2.00	5.17 --			
		58653 32+ 3.00 P	8+ 4.00	40 12.00	4.00	FEL103 14+ 1.00 D	29 6.00	29 6.00	6.00	58654 32+ 3.00 P	8+ 4.00	40 12.00	12.00	FEL104 20+ 1.00 A	39 9.00	39 9.00	9.00	FEL105 35+ 1.00 B	35 8.00	35 8.00	8.00								
		Total Credit 18.00				FINAL CGPI 5.17				FINAL GRADE --																			
7094033	PEDNEKAR HERAMB SURESH SUVIDHA 2022016402216492 (1)Mumbai-(366)	58651 34 3.00 P	8+ 4.00	42 12.00	4.00	FEC101 15+ 1.00 C	15 7.00	15 7.00	7.00	58652 24+ 2.00 E	11+ 5.00	35 10.00	10.00	FEL101 20+ 0.50 O	20 10.00	20 5.00	5.00	58655 30+ 2.00 E	7+ 5.00	37 10.00	10.00	FEL102 16+ 0.50 C	16 7.00	16 3.50	3.50	5.64 --			
		58653 44 3.00 D	8+ 6.00	52 18.00	4.00	FEL103 17+ 1.00 D	27 6.00	27 6.00	6.00	58654 35+ 3.00 P	9+ 4.00	44 12.00	12.00	FEL104 20+ 1.00 B	35 8.00	35 8.00	8.00	FEL105 44+ 1.00 O	44 10.00	44 10.00	10.00								
		Total Credit 18.00				FINAL CGPI 5.64				FINAL GRADE --																			

/ - FEMALE, # - 0.229A,@ - 0.5042A/O.5043A/O.5044A,* - 5045A, RR-RESERVED, --:Fails in Theory or Practical, RPV - PROVISIONAL Eligible, RCC - 0.5050, AB - ABSENT, F - UNSUCCESSFUL,P - SUCCESSFUL;
 NULL=NULL & VOID, G:Grade C*G:Gradepoints C:credits CP:credit points aCG:sum of product of credits & grades, Internal Marks are Provisional as per R.8668
 aC:sum of credit points GPA: aCG/aC
 MARKS : 0 to 39.99 40 to 44.99 45 to 49.99 50 to 59.99 60 to 69.99 70 to 74.99 75 to 79.99 80 to 100
 GRADE : F P E D C B A O
 GRADE POINT : 0.00 4.00 5.00 6.00 7.00 8.00 9.00 10.00



University of Mumbai, Mumbai

OFFICE REGISTER OF THE B.E. (with credits) - Regular - CBCS(Electronics and Telecommunication Engineering)- F.E. C-Scheme - Sem I [1T01831] HELD IN Summer 2025 Result Declaration Date:11 Jul 2025

58651-Engineering Mathematics-I: ThUA 80/32 ThCA 20/8 100/0 | 58652-Engineering Physics-I: ThUA 60/24 ThCA 15/6 75/0 | 58655-Engineering Chemistry-I: ThUA 60/24 ThCA 15/6 75/0 |
 58653-Engineering Mechanics: ThUA 80/32 ThCA 20/8 100/0 | 58654-Basic Electrical Engineering: ThUA 80/32 ThCA 20/8 100/0 | FEL101-Engineering Physics-I (TW): TwCA 25/10 25/0 |
 FEL102-Engineering Chemistry-I (TW): TwCA 25/10 25/0 | FEL103-Engineering Mechanics (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 | FEL104-Basic Electrical Engineering (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 |
 FEL105-Basic Workshop Practice-I: TwCA 50/20 50/0 | FEC101-Engineering Mathematics-I Term Work: TwCA 25/10 25/0 |

SEAT NO.	NAME OF THE CANDIDATE Mother Name PRN.	PAPER 1				PAPER 2				PAPER 3				PAPER 4				PAPER 5				PAPER 6				RESULT CR C*G SGPI GRADE	
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G		
CENTRE-COLLEGE		PAPER 7				PAPER 8				PAPER 9				PAPER 10				PAPER 11									
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G		
7094034	ANIMISH DEVESH PRADHAN BHAKTI 2022016402219277 (1)Mumbai-(366)	58651 32+	8+	40		FEC101 13+	13			58652 24+	6+	30		FEL101 19+	19		58655 28+	6+	34		FEL102 14+	14		18.00	103.50		
		3.00	P	4.00	12.00	1.00	D	6.00	6.00	2.00	P	4.00	8.00	0.50	A	9.00	4.50	2.00	E	5.00	10.00	0.50	D	6.00	3.00	5.75	--
		58653 47	10+	57		FEL103 17+	27			58654 45	8+	53		FEL104 21+	36		FEL105 43+	43									
		3.00	D	6.00	18.00	1.00	D	6.00	6.00	3.00	D	6.00	18.00	1.00	B	8.00	8.00	1.00	O	10.00	10.00						
		Total Credit 18.00				FINAL CGPI 5.75				FINAL GRADE --																	
7094035	SINGH AYUSH SANTOSH UMA 2022016402218653 (1)Mumbai-(366)	58651 18F	10+	28		FEC101 13+	13			58652 20F	10+	30		FEL101 19+	19		58655 24+	6+	30		FEL102 11+	11		18.00	--		
		3.00	F	0.00	0.00	1.00	D	6.00	6.00	2.00	F	0.00	0.00	0.50	A	9.00	4.50	2.00	P	4.00	8.00	0.50	P	4.00	2.00	--	--
		58653 36+	15+	51		FEL103 20+	37			58654 32+	8+	40		FEL104 20+	37		FEL105 36+	36									
		3.00	D	6.00	18.00	1.00	B	8.00	8.00	3.00	P	4.00	12.00	1.00	B	8.00	8.00	1.00	B	8.00	8.00						
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																	
7094036	SONAWANE BHUSHAN MADHUKAR SAVITA 2022016402213741 (1)Mumbai-(366)	58651 41+	8+	49		FEC101 16+	16			58652 24+	9+	33		FEL101 15+	15		58655 25+	7+	32		FEL102 10+	10		18.00	87.50		
		3.00	E	5.00	15.00	1.00	C	7.00	7.00	2.00	P	4.00	8.00	0.50	C	7.00	3.50	2.00	P	4.00	8.00	0.50	P	4.00	2.00	4.86	--
		58653 32+	8+	40		FEL103 12+	23			58654 36	8+	44		FEL104 17+	33		FEL105 35+	35									
		3.00	P	4.00	12.00	1.00	E	5.00	5.00	3.00	P	4.00	12.00	1.00	C	7.00	7.00	1.00	B	8.00	8.00						
		Total Credit 18.00				FINAL CGPI 4.86				FINAL GRADE --																	

/ - FEMALE, # - 0.229A,@ - 0.5042A/O.5043A/O.5044A,* - 5045A, RR-RESERVED, --:Fails in Theory or Practical, RPV - PROVISIONAL Eligible, RCC - 0.5050, AB - ABSENT, F - UNSUCCESSFUL,P - SUCCESSFUL;
 NULL=NULL & VOID, G:Grade C*G:Gradepoints C:credits CP:credit points aCG:sum of product of credits & grades, Internal Marks are Provisional as per R.8668
 aC:sum of credit points GPA: aCG/aC
 MARKS : 0 to 39.99 40 to 44.99 45 to 49.99 50 to 59.99 60 to 69.99 70 to 74.99 75 to 79.99 80 to 100
 GRADE : F P E D C B A O
 GRADE POINT : 0.00 4.00 5.00 6.00 7.00 8.00 9.00 10.00



University of Mumbai, Mumbai

OFFICE REGISTER OF THE B.E. (with credits) - Regular - CBCS(Electronics and Telecommunication Engineering)- F.E. C-Scheme - Sem I [1T01831] HELD IN Summer 2025 Result Declaration Date:11 Jul 2025

58651-Engineering Mathematics-I: ThUA 80/32 ThCA 20/8 100/0 | 58652-Engineering Physics-I: ThUA 60/24 ThCA 15/6 75/0 | 58655-Engineering Chemistry-I: ThUA 60/24 ThCA 15/6 75/0 |
 58653-Engineering Mechanics: ThUA 80/32 ThCA 20/8 100/0 | 58654-Basic Electrical Engineering: ThUA 80/32 ThCA 20/8 100/0 | FEL101-Engineering Physics-I (TW): TwCA 25/10 25/0 |
 FEL102-Engineering Chemistry-I (TW): TwCA 25/10 25/0 | FEL103-Engineering Mechanics (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 | FEL104-Basic Electrical Engineering (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 |
 FEL105-Basic Workshop Practice-I: TwCA 50/20 50/0 | FEC101-Engineering Mathematics-I Term Work: TwCA 25/10 25/0 |

SEAT NO.	NAME OF THE CANDIDATE Mother Name PRN.	PAPER 1				PAPER 2				PAPER 3				PAPER 4				PAPER 5				PAPER 6				RESULT CR C*G SGPI GRADE			
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G				
CENTRE-COLLEGE		PAPER 7				PAPER 8				PAPER 9				PAPER 10				PAPER 11											
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G
7094037	VAIDYA SHAUNAK SHIVRAJ KSHAMA 2022016402219014 (1)Mumbai-(366)	58651 41+	9+	50		FEC101 --	22+	22		58652 24	6+	30		FEL101 --	21+	21		58655 24+	6+	30		FEL102 --	20+	20	18.00	111.00	Successful		
		3.00	D	6.00	18.00	1.00	O	10.00	10.00	2.00	P	4.00	8.00	0.50	O	10.00	5.00	2.00	P	4.00	8.00	0.50	O	10.00	5.00	6.17	--		
		58653 32+	10+	42		FEL103 --	24+	43		58654 37+	12+	49		FEL104 --	22+	41		FEL105 --	44+	44									
		3.00	P	4.00	12.00	1.00	O	10.00	10.00	3.00	E	5.00	15.00	1.00	O	10.00	10.00	1.00	O	10.00	10.00								
		Total Credit 18.00				FINAL CGPI 6.17				FINAL GRADE --																			
7094038	/ DISHA LALCHAND VISHWAKARMA NILAM 2022016402218734 (1)Mumbai-(366)	58651 34+	8+	42		FEC101 --	19+	19		58652 18F	6+	24		FEL101 --	22+	22		58655 24+	7+	31		FEL102 --	16+	16	18.00	--	Unsuccessful		
		3.00	P	4.00	12.00	1.00	A	9.00	9.00	2.00	F	0.00	0.00	0.50	O	10.00	5.00	2.00	P	4.00	8.00	0.50	C	7.00	3.50	--	--		
		58653 7F	13+	20		FEL103 --	22+	40		58654 34+	11+	45		FEL104 --	22+	42		FEL105 --	41+	41									
		3.00	F	0.00	0.00	1.00	O	10.00	10.00	3.00	E	5.00	15.00	1.00	O	10.00	10.00	1.00	O	10.00	10.00								
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																			
7094039	MIHIR PRADIPKUMAR VISRANI JYOTI VISRANI 2022016402217696 (1)Mumbai-(366)	58651 AA	AA	AA		FEC101 --	10+	10		58652 AA	AA	AA		FEL101 --	12+	12		58655 AA	AA	AA		FEL102 --	10+	10	18.00	--	ABS		
		3.00	F	0.00	AB	1.00	P	4.00	4.00	2.00	F	0.00	AB	0.50	E	5.00	2.50	2.00	F	0.00	AB	0.50	P	4.00	2.00	--	--		
		58653 AA	AA	AA		FEL103 --	10+	10		58654 AA	AA	AA		FEL104 --	10+	10		FEL105 --	20+	20									
		3.00	F	0.00	AB	1.00	F	0.00	0.00	3.00	F	0.00	AB	1.00	F	0.00	0.00	1.00	P	4.00	4.00								
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																			

/ - FEMALE, # - 0.229A,@ - 0.5042A/O.5043A/O.5044A,* - 5045A, RR-RESERVED, --:Fails in Theory or Practical, RPV - PROVISIONAL Eligible, RCC - 0.5050, AB - ABSENT, F - UNSUCCESSFUL,P - SUCCESSFUL;
 NULL=NULL & VOID, G:Grade C*G:Gradepoints C:credits CP:credit points aCG:sum of product of credits & grades, Internal Marks are Provisional as per R.8668
 aC:sum of credit points GPA: aCG/aC
 MARKS : 0 to 39.99 40 to 44.99 45 to 49.99 50 to 59.99 60 to 69.99 70 to 74.99 75 to 79.99 80 to 100
 GRADE : F P E D C B A O
 GRADE POINT : 0.00 4.00 5.00 6.00 7.00 8.00 9.00 10.00



University of Mumbai, Mumbai

OFFICE REGISTER OF THE B.E. (with credits) - Regular - CBCS(Electronics and Telecommunication Engineering)- F.E. C-Scheme - Sem I [T01831] HELD IN Summer 2025 Result Declaration Date:11 Jul 2025

58651-Engineering Mathematics-I: ThUA 80/32 ThCA 20/8 100/0 | 58652-Engineering Physics-I: ThUA 60/24 ThCA 15/6 75/0 | 58655-Engineering Chemistry-I: ThUA 60/24 ThCA 15/6 75/0 |
 58653-Engineering Mechanics: ThUA 80/32 ThCA 20/8 100/0 | 58654-Basic Electrical Engineering: ThUA 80/32 ThCA 20/8 100/0 | FEL101-Engineering Physics-I (TW): TwCA 25/10 25/0 |
 FEL102-Engineering Chemistry-I (TW): TwCA 25/10 25/0 | FEL103-Engineering Mechanics (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 | FEL104-Basic Electrical Engineering (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 |
 FEL105-Basic Workshop Practice-I: TwCA 50/20 50/0 | FEC101-Engineering Mathematics-I Term Work: TwCA 25/10 25/0 |

SEAT NO.	NAME OF THE CANDIDATE Mother Name PRN.	PAPER 1				PAPER 2				PAPER 3				PAPER 4				PAPER 5				PAPER 6				RESULT CR C*G SGPI GRADE
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	
CENTRE-COLLEGE		PAPER 7				PAPER 8				PAPER 9				PAPER 10				PAPER 11								
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	
7094040	/ CHETTY SALOME RAYAPPAN FATIMA 2022016402064873 (2)Dadar-(736)	58651 9F	10+	19		FEC101 13+	13			58652 24+	6+	30		FEL101 13F	20+	20		58655 9+	12		FEL102 16+	16	18.00	--		
		3.00	F	0.00	0.00	1.00	D	6.00	6.00	2.00	P	4.00	8.00	0.50	O	10.00	5.00	2.00	F	0.00	0.00	0.50	C	7.00	3.50	-- --
		58653 15F	12+	27		FEL103 15+	32			58654 4F	8+	12		FEL104 17+	33			FEL105 40+	40							
		3.00	F	0.00	0.00	1.00	C	7.00	7.00	3.00	F	0.00	0.00	1.00	C	7.00	7.00	1.00	O	10.00	10.00					
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																
7094041	GURAV TEJAS AJIT ASMITA 2022016402068503 (2)Dadar-(736)	58651 10F	15+	25		FEC101 10+	10			58652 24E	6+	30		FEL101 22+	22		58655 24+	7+	31		FEL102 22+	22	18.00	--		
		3.00	F	0.00	0.00	1.00	P	4.00	4.00	2.00	P	4.00	8.00	0.50	O	10.00	5.00	2.00	P	4.00	8.00	0.50	O	10.00	5.00	-- --
		58653 6F	9+	15		FEL103 14+	29			58654 32+	14+	46		FEL104 20+	38			FEL105 42+	42							
		3.00	F	0.00	0.00	1.00	D	6.00	6.00	3.00	E	5.00	15.00	1.00	A	9.00	9.00	1.00	O	10.00	10.00					
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																
7094042	KADAM GAURAV SANDIP ASHWINI 2023016400584176 (2)Dadar-(736)	58651 49+	9+	58		FEC101 19+	19			58652 24+	6+	30		FEL101 24+	24		58655 26+	7+	33		FEL102 21+	21	18.00	--		
		3.00	D	6.00	18.00	1.00	A	9.00	9.00	2.00	P	4.00	8.00	0.50	O	10.00	5.00	2.00	P	4.00	8.00	0.50	O	10.00	5.00	-- --
		58653 38+	8+	46		FEL103 11+	22			58654 25F	8+	33		FEL104 12+	30			FEL105 43+	43							
		3.00	E	5.00	15.00	1.00	P	4.00	4.00	3.00	F	0.00	0.00	1.00	C	7.00	7.00	1.00	O	10.00	10.00					
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																

/ - FEMALE, # - 0.229A,@ - 0.5042A/O.5043A/O.5044A,* - 5045A, RR-RESERVED, --:Fails in Theory or Practical, RPV - PROVISIONAL Eligible, RCC - 0.5050, AB - ABSENT, F - UNSUCCESSFUL,P - SUCCESSFUL;
 NULL=NULL & VOID, G:Grade C*G:Gradepoints C:credits CP:credit points aCG:sum of product of credits & grades, Internal Marks are Provisional as per R.8668
 aC:sum of credit points GPA: aCG/aC
 MARKS : 0 to 39.99 40 to 44.99 45 to 49.99 50 to 59.99 60 to 69.99 70 to 74.99 75 to 79.99 80 to 100
 GRADE : F P E D C B A O
 GRADE POINT : 0.00 4.00 5.00 6.00 7.00 8.00 9.00 10.00



University of Mumbai, Mumbai

OFFICE REGISTER OF THE B.E. (with credits) - Regular - CBCS(Electronics and Telecommunication Engineering)- F.E. C-Scheme - Sem I [1T01831] HELD IN Summer 2025 Result Declaration Date:11 Jul 2025

58651-Engineering Mathematics-I: ThUA 80/32 ThCA 20/8 100/0 | 58652-Engineering Physics-I: ThUA 60/24 ThCA 15/6 75/0 | 58655-Engineering Chemistry-I: ThUA 60/24 ThCA 15/6 75/0 |
 58653-Engineering Mechanics: ThUA 80/32 ThCA 20/8 100/0 | 58654-Basic Electrical Engineering: ThUA 80/32 ThCA 20/8 100/0 | FEL101-Engineering Physics-I (TW): TwCA 25/10 25/0 |
 FEL102-Engineering Chemistry-I (TW): TwCA 25/10 25/0 | FEL103-Engineering Mechanics (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 | FEL104-Basic Electrical Engineering (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 |
 FEL105-Basic Workshop Practice-I: TwCA 50/20 50/0 | FEC101-Engineering Mathematics-I Term Work: TwCA 25/10 25/0 |

SEAT NO.	NAME OF THE CANDIDATE Mother Name PRN.	PAPER 1				PAPER 2				PAPER 3				PAPER 4				PAPER 5				PAPER 6				RESULT CR C*G SGPI GRADE			
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G				
CENTRE-COLLEGE		PAPER 7				PAPER 8				PAPER 9				PAPER 10				PAPER 11											
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G				
7094043	KAWAL ASHOK KADVERGU LAXMI 2022016402140663 (2)Dadar-(736)	58651 4F	0F	4		FEC101 --	10+	10		58652 5F	AA	5		FEL101 --	15+	15		58655 6F	7+	13		FEL102 --	12+	12	18.00	--			
		3.00	F	0.00	0.00	1.00	P	4.00	4.00	2.00	F	0.00	0.00	0.50	C	7.00	3.50	2.00	F	0.00	0.00	0.50	E	5.00	2.50	--	--		
		58653 4F	AA	4		FEL103 --	AA	AA		58654 2F	AA	2		FEL104 --	12+	12		FEL105 --	30+	30									
		3.00	F	0.00	0.00	1.00	F	0.00	AB	3.00	F	0.00	0.00	1.00	F	0.00	0.00	1.00	C	7.00	7.00								
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																			
7094044	KAREKAR PUSHKAR NIPENDRA NILANGI 2022016402067891 (2)Dadar-(736)	58651 33+	8+	41		FEC101 --	10+	10		58652 24+	6+	30		FEL101 --	24+	24		58655 31+	6+	37		FEL102 --	24+	24	18.00	98.00			
		3.00	P	4.00	12.00	1.00	P	4.00	4.00	2.00	P	4.00	8.00	0.50	O	10.00	5.00	2.00	E	5.00	10.00	0.50	O	10.00	5.00	5.44	--		
		58653 40	8+	48		FEL103 --	16+	33		58654 32+	9+	41		FEL104 --	22+	43		FEL105 --	44+	44									
		3.00	E	5.00	15.00	1.00	C	7.00	7.00	3.00	P	4.00	12.00	1.00	O	10.00	10.00	1.00	O	10.00	10.00								
		Total Credit 18.00				FINAL CGPI 5.44				FINAL GRADE --																			
7094045	KARMARKAR SURABHI ARVIND VAISHALI 2023016400584153 (2)Dadar-(736)	58651 40+	12+	52		FEC101 --	15+	15		58652 24+	7+	31		FEL101 --	21+	21		58655 36+	5+	41		FEL102 --	21+	21	18.00	106.00			
		3.00	D	6.00	18.00	1.00	C	7.00	7.00	2.00	P	4.00	8.00	0.50	O	10.00	5.00	2.00	D	6.00	12.00	0.50	O	10.00	5.00	5.89	--		
		58653 32	12+	44		FEL103 --	15+	31		58654 32+	10+	42		FEL104 --	21+	40		FEL105 --	43+	43									
		3.00	P	4.00	12.00	1.00	C	7.00	7.00	3.00	P	4.00	12.00	1.00	O	10.00	10.00	1.00	O	10.00	10.00								
		Total Credit 18.00				FINAL CGPI 5.89				FINAL GRADE --																			

/ - FEMALE, # - 0.229A,@ - 0.5042A/O.5043A/O.5044A,* - 5045A, RR-RESERVED, --:Fails in Theory or Practical, RPV - PROVISIONAL Eligible, RCC - 0.5050, AB - ABSENT, F - UNSUCCESSFUL,P - SUCCESSFUL;
 NULL=NULL & VOID, G:Grade C*G:Gradepoints C:credits CP:credit points aCG:sum of product of credits & grades, Internal Marks are Provisional as per R.8668
 aC:sum of credit points GPA: aCG/aC
 MARKS : 0 to 39.99 40 to 44.99 45 to 49.99 50 to 59.99 60 to 69.99 70 to 74.99 75 to 79.99 80 to 100
 GRADE : F P E D C B A O
 GRADE POINT : 0.00 4.00 5.00 6.00 7.00 8.00 9.00 10.00



University of Mumbai, Mumbai

OFFICE REGISTER OF THE B.E. (with credits) - Regular - CBCS (Electronics and Telecommunication Engineering)- F.E. C-Scheme - Sem I [1T01831] HELD IN Summer 2025 Result Declaration Date: 11 Jul 2025

58651-Engineering Mathematics-I: ThUA 80/32 ThCA 20/8 100/0 | 58652-Engineering Physics-I: ThUA 60/24 ThCA 15/6 75/0 | 58655-Engineering Chemistry-I: ThUA 60/24 ThCA 15/6 75/0 |
 58653-Engineering Mechanics: ThUA 80/32 ThCA 20/8 100/0 | 58654-Basic Electrical Engineering: ThUA 80/32 ThCA 20/8 100/0 | FEL101-Engineering Physics-I (TW): TwCA 25/10 25/0 |
 FEL102-Engineering Chemistry-I (TW): TwCA 25/10 25/0 | FEL103-Engineering Mechanics (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 | FEL104-Basic Electrical Engineering (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 |
 FEL105-Basic Workshop Practice-I: TwCA 50/20 50/0 | FEC101-Engineering Mathematics-I Term Work: TwCA 25/10 25/0 |

SEAT NO.	NAME OF THE CANDIDATE Mother Name PRN.	PAPER 1				PAPER 2				PAPER 3				PAPER 4				PAPER 5				PAPER 6				RESULT CR C*G SGPI GRADE	
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G		
CENTRE-COLLEGE		PAPER 7				PAPER 8				PAPER 9				PAPER 10				PAPER 11									
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G		
7094046	/ KASHAVOINA SREEJA CHANDRASHEKAR - SARIKA 2022016402068511 (2) Dadar- (736)	58651 34+	10+	44		FEC101 14+	14			58652 27+	9+	36		FEL101 24+	24			58655 33+	8+	41		FEL102 24+	24			Successful 18.00 103.00 5.72 --	
		3.00	P	4.00	12.00	1.00	D	6.00	6.00	2.00	E	5.00	10.00	0.50	O	10.00	5.00	2.00	D	6.00	12.00	0.50	O	10.00	5.00		
		58653 35	8+	43		FEL103 18+	39			58654 32+	10+	42		FEL104 21+	41			FEL105 41+	41								
		3.00	P	4.00	12.00	1.00	A	9.00	9.00	3.00	P	4.00	12.00	1.00	O	10.00	10.00	1.00	O	10.00	10.00						
		Total Credit 18.00				FINAL CGPI 5.72				FINAL GRADE --																	
7094047	/ KUVESKAR SANAVI SUDESH VINAYA 2023016400582726 (2) Dadar- (736)	58651 32E	8+	40		FEC101 12+	12			58652 6F	6+	12		FEL101 21+	21			58655 25+	7+	32		FEL102 18+	18			Unsuccessful 18.00 -- -- --	
		3.00	P	4.00	12.00	1.00	E	5.00	5.00	2.00	F	0.00	0.00	0.50	O	10.00	5.00	2.00	P	4.00	8.00	0.50	B	8.00	4.00		
		58653 32E	8+	40		FEL103 17+	33			58654 40+	8+	48		FEL104 15+	34			FEL105 42+	42								
		3.00	P	4.00	12.00	1.00	C	7.00	7.00	3.00	E	5.00	15.00	1.00	C	7.00	7.00	1.00	O	10.00	10.00						
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																	
7094048	LOBO RONALD DEEPAK ROSEMARY 2023016400626484 (2) Dadar- (736)	58651 32+	9+	41		FEC101 12+	12			58652 24	6+	30		FEL101 17+	17			58655 24+	7+	31		FEL102 20+	20			Successful 18.00 89.50 4.97 --	
		3.00	P	4.00	12.00	1.00	E	5.00	5.00	2.00	P	4.00	8.00	0.50	C	7.00	3.50	2.00	P	4.00	8.00	0.50	O	10.00	5.00		
		58653 32+	8+	40		FEL103 14+	30			58654 34	8+	42		FEL104 16+	31			FEL105 40+	40								
		3.00	P	4.00	12.00	1.00	C	7.00	7.00	3.00	P	4.00	12.00	1.00	C	7.00	7.00	1.00	O	10.00	10.00						
		Total Credit 18.00				FINAL CGPI 4.97				FINAL GRADE --																	

/ - FEMALE, # - 0.229A, @ - 0.5042A/O.5043A/O.5044A, * - 5045A, RR-RESERVED, --:Fails in Theory or Practical, RPV - PROVISIONAL Eligible, RCC - 0.5050, AB - ABSENT, F - UNSUCCESSFUL, P - SUCCESSFUL;
 NULL=NULL & VOID, G:Grade C*G:Gradepoints C:credits CP:credit points aCG:sum of product of credits & grades, Internal Marks are Provisional as per R.8668
 aC:sum of credit points GPA: aCG/aC
 MARKS : 0 to 39.99 40 to 44.99 45 to 49.99 50 to 59.99 60 to 69.99 70 to 74.99 75 to 79.99 80 to 100
 GRADE : F P E D C B A O
 GRADE POINT : 0.00 4.00 5.00 6.00 7.00 8.00 9.00 10.00



University of Mumbai, Mumbai

OFFICE REGISTER OF THE B.E. (with credits) - Regular - CBCS(Electronics and Telecommunication Engineering)- F.E. C-Scheme - Sem I [T01831] HELD IN Summer 2025 Result Declaration Date:11 Jul 2025

58651-Engineering Mathematics-I: ThUA 80/32 ThCA 20/8 100/0 | 58652-Engineering Physics-I: ThUA 60/24 ThCA 15/6 75/0 | 58655-Engineering Chemistry-I: ThUA 60/24 ThCA 15/6 75/0 |
 58653-Engineering Mechanics: ThUA 80/32 ThCA 20/8 100/0 | 58654-Basic Electrical Engineering: ThUA 80/32 ThCA 20/8 100/0 | FEL101-Engineering Physics-I (TW): TwCA 25/10 25/0 |
 FEL102-Engineering Chemistry-I (TW): TwCA 25/10 25/0 | FEL103-Engineering Mechanics (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 | FEL104-Basic Electrical Engineering (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 |
 FEL105-Basic Workshop Practice-I: TwCA 50/20 50/0 | FEC101-Engineering Mathematics-I Term Work: TwCA 25/10 25/0 |

SEAT NO.	NAME OF THE CANDIDATE Mother Name PRN.	PAPER 1				PAPER 2				PAPER 3				PAPER 4				PAPER 5				PAPER 6				RESULT CR C*G SGPI GRADE			
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G				
CENTRE-COLLEGE		PAPER 7				PAPER 8				PAPER 9				PAPER 10				PAPER 11											
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G
7094049	MAHAL JASKEERATSINGH INDERJEETSINGH - CHARANJITKAUR	58651	47+	11+	58	FEC101	13+	13	24+	7+	31	FEL101	24+	24	36+	9+	45	FEL102	19+	19	18.00	104.50	Successful						
	2023016400582661	3.00	D	6.00	18.00	1.00	D	6.00	6.00	2.00	P	4.00	8.00	0.50	O	10.00	5.00	2.00	C	7.00	14.00	0.50	A	9.00	4.50	5.81	--		
	(2)Dadar-(736)	58653	35	8+	43	FEL103	14+	27	33+	9+	42	FEL104	19+	39	FEL105	42+	42												
		3.00	P	4.00	12.00	1.00	D	6.00	6.00	3.00	P	4.00	12.00	1.00	A	9.00	9.00	1.00	O	10.00	10.00								
		Total Credit 18.00				FINAL CGPI 5.81				FINAL GRADE --																			
7094050	MARU KUNJAN RAMESH KAMALA	58651	34E	12+	46	FEC101	10+	10	8F	8+	16	FEL101	15+	15	27E	7+	34	FEL102	18+	18	18.00	--	Unsuccessful						
	2023016400582692	3.00	E	5.00	15.00	1.00	P	4.00	4.00	2.00	F	0.00	0.00	0.50	C	7.00	3.50	2.00	E	5.00	10.00	0.50	B	8.00	4.00	--	--		
	(2)Dadar-(736)	58653	8F	10+	18	FEL103	12+	24	34+	8+	42	FEL104	15+	28	FEL105	36+	36												
		3.00	F	0.00	0.00	1.00	E	5.00	5.00	3.00	P	4.00	12.00	1.00	D	6.00	6.00	1.00	B	8.00	8.00								
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																			
7094051	SHREYASH SUBHASH MESHAM SANJU	58651	AA	8+	8	FEC101	10+	10	17F	6+	23	FEL101	15+	15	8F	7+	15	FEL102	18+	18	18.00	--	Unsuccessful						
	2023016400626983	3.00	F	0.00	0.00	1.00	P	4.00	4.00	2.00	F	0.00	0.00	0.50	C	7.00	3.50	2.00	F	0.00	0.00	0.50	B	8.00	4.00	--	--		
	(2)Dadar-(736)	58653	32E	11+	43	FEL103	17+	34	32+	8+	40	FEL104	15+	33	FEL105	25+	25												
		3.00	P	4.00	12.00	1.00	C	7.00	7.00	3.00	P	4.00	12.00	1.00	C	7.00	7.00	1.00	D	6.00	6.00								
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																			

/ - FEMALE, # - 0.229A,@ - 0.5042A/O.5043A/O.5044A, * - 5045A, RR-RESERVED, --:Fails in Theory or Practical, RPV - PROVISIONAL Eligible, RCC - 0.5050, AB - ABSENT, F - UNSUCCESSFUL,P - SUCCESSFUL;
 NULL=NULL & VOID, G:Grade C*G:Gradepoints C:credits CP:credit points aCG:sum of product of credits & grades, Internal Marks are Provisional as per R.8668
 aC:sum of credit points GPA: aCG/aC
 MARKS : 0 to 39.99 40 to 44.99 45 to 49.99 50 to 59.99 60 to 69.99 70 to 74.99 75 to 79.99 80 to 100
 GRADE : F P E D C B A O
 GRADE POINT : 0.00 4.00 5.00 6.00 7.00 8.00 9.00 10.00



University of Mumbai, Mumbai

OFFICE REGISTER OF THE B.E. (with credits) - Regular - CBCS (Electronics and Telecommunication Engineering)- F.E. C-Scheme - Sem I [1T01831] HELD IN Summer 2025 Result Declaration Date: 11 Jul 2025

58651-Engineering Mathematics-I: ThUA 80/32 ThCA 20/8 100/0 | 58652-Engineering Physics-I: ThUA 60/24 ThCA 15/6 75/0 | 58655-Engineering Chemistry-I: ThUA 60/24 ThCA 15/6 75/0 |
 58653-Engineering Mechanics: ThUA 80/32 ThCA 20/8 100/0 | 58654-Basic Electrical Engineering: ThUA 80/32 ThCA 20/8 100/0 | FEL101-Engineering Physics-I (TW): TwCA 25/10 25/0 |
 FEL102-Engineering Chemistry-I (TW): TwCA 25/10 25/0 | FEL103-Engineering Mechanics (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 | FEL104-Basic Electrical Engineering (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 |
 FEL105-Basic Workshop Practice-I: TwCA 50/20 50/0 | FEC101-Engineering Mathematics-I Term Work: TwCA 25/10 25/0 |

SEAT NO.	NAME OF THE CANDIDATE Mother Name PRN.	PAPER 1				PAPER 2				PAPER 3				PAPER 4				PAPER 5				PAPER 6				RESULT CR C*G SGPI GRADE			
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G				
CENTRE-COLLEGE		PAPER 7				PAPER 8				PAPER 9				PAPER 10				PAPER 11											
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G				
7094052	PATHAK VISHAL MANOJ RITA 2023016400584161 (2) Dadar- (736)	58651 32+ 3.00 P	8+ 4.00	40 12.00	FEC101 11+ 4.00	11 4.00	58652 13F 2.00 F	6+ 19 0.00	19 0.00	FEL101 17+ 7.00	17 3.50	58655 29+ 2.00 E	6+ 35 5.00	35 10.00	FEL102 14+ 0.50 D	14 6.00	14 3.00	18.00 -- -- --											
		58653 32+ 3.00 P	9+ 4.00	41 12.00	FEL103 14+ 1.00 C	30 7.00	58654 32+ 3.00 P	10+ 42 4.00	42 12.00	FEL104 15+ 1.00 D	28 6.00	FEL105 20+ 1.00 P	20 4.00	20 4.00															
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																			
7094053	PISE RUDRA VISHAL SHARDA 2023016400611701 (2) Dadar- (736)	58651 32+ 3.00 P	11+ 4.00	43 12.00	FEC101 13+ 1.00 D	13 6.00	58652 48+ 2.00 B	6+ 54 8.00	54 16.00	FEL101 22+ 10.00	22 5.00	58655 32+ 2.00 D	10+ 42 6.00	42 12.00	FEL102 19+ 0.50 A	19 9.00	19 4.50	18.00 105.50 5.86 --											
		58653 32 3.00 P	8+ 4.00	40 12.00	FEL103 16+ 1.00 C	33 7.00	58654 32+ 3.00 P	8+ 40 4.00	40 12.00	FEL104 21+ 1.00 O	41 10.00	FEL105 38+ 1.00 A	38 9.00	38 9.00															
		Total Credit 18.00				FINAL CGPI 5.86				FINAL GRADE --																			
7094054	SHARMA DEVANSH UMESH SANGEETA 2022016402064826 (2) Dadar- (736)	58651 38+ 3.00 E	8+ 5.00	46 15.00	FEC101 13+ 1.00 D	13 6.00	58652 29+ 2.00 E	7+ 36 5.00	36 10.00	FEL101 24+ 10.00	24 5.00	58655 24+ 2.00 P	6+ 30 4.00	30 8.00	FEL102 22+ 0.50 O	22 10.00	22 5.00	18.00 99.00 5.50 --											
		58653 33 3.00 P	8+ 4.00	41 12.00	FEL103 17+ 1.00 C	33 7.00	58654 33+ 3.00 P	8+ 41 4.00	41 12.00	FEL104 20+ 1.00 A	39 9.00	FEL105 42+ 1.00 O	42 10.00	42 10.00															
		Total Credit 18.00				FINAL CGPI 5.50				FINAL GRADE --																			

/ - FEMALE, # - 0.229A, @ - 0.5042A/O.5043A/O.5044A, * - 5045A, RR-RESERVED, --:Fails in Theory or Practical, RPV - PROVISIONAL Eligible, RCC - 0.5050, AB - ABSENT, F - UNSUCCESSFUL, P - SUCCESSFUL;
 NULL=NULL & VOID, G:Grade C*G:Gradepoints C:credits CP:credit points aCG:sum of product of credits & grades, Internal Marks are Provisional as per R.8668
 aC:sum of credit points GPA: aCG/aC
 MARKS : 0 to 39.99 40 to 44.99 45 to 49.99 50 to 59.99 60 to 69.99 70 to 74.99 75 to 79.99 80 to 100
 GRADE : F P E D C B A O
 GRADE POINT : 0.00 4.00 5.00 6.00 7.00 8.00 9.00 10.00



University of Mumbai, Mumbai

OFFICE REGISTER OF THE B.E. (with credits) - Regular - CBCS (Electronics and Telecommunication Engineering)- F.E. C-Scheme - Sem I [T01831] HELD IN Summer 2025 Result Declaration Date: 11 Jul 2025

58651-Engineering Mathematics-I: ThUA 80/32 ThCA 20/8 100/0 | 58652-Engineering Physics-I: ThUA 60/24 ThCA 15/6 75/0 | 58655-Engineering Chemistry-I: ThUA 60/24 ThCA 15/6 75/0 |
 58653-Engineering Mechanics: ThUA 80/32 ThCA 20/8 100/0 | 58654-Basic Electrical Engineering: ThUA 80/32 ThCA 20/8 100/0 | FEL101-Engineering Physics-I (TW): TwCA 25/10 25/0 |
 FEL102-Engineering Chemistry-I (TW): TwCA 25/10 25/0 | FEL103-Engineering Mechanics (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 | FEL104-Basic Electrical Engineering (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 |
 FEL105-Basic Workshop Practice-I: TwCA 50/20 50/0 | FEC101-Engineering Mathematics-I Term Work: TwCA 25/10 25/0 |

SEAT NO.	NAME OF THE CANDIDATE Mother Name PRN.	PAPER 1				PAPER 2				PAPER 3				PAPER 4				PAPER 5				PAPER 6				RESULT CR C*G SGPI GRADE	
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G		
CENTRE-COLLEGE		PAPER 7				PAPER 8				PAPER 9				PAPER 10				PAPER 11									
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G		
7094055	SHIKHARE ARYAN GANESH VEENA 2023016400611674 (2)Dadar-(736)	58651 38+	13+	51	100	FEC101 10+	10	10	100	58652 26+	7+	33	100	FEL101 24+	24	24	100	58655 26+	8+	34	100	FEL102 18+	18	18	100	Successful 18.00 92.00	
		3.00	D	6.00	18.00	1.00	P	4.00	4.00	2.00	P	4.00	8.00	0.50	O	10.00	5.00	2.00	E	5.00	10.00	0.50	B	8.00	4.00	5.11 --	
		58653 32	10+	42	100	FEL103 12+	24	24	100	58654 32+	8+	40	100	FEL104 14+	33	33	100	FEL105 32+	32	32	100						
		3.00	P	4.00	12.00	1.00	E	5.00	5.00	3.00	P	4.00	12.00	1.00	C	7.00	7.00	1.00	C	7.00	7.00						
		Total Credit 18.00				FINAL CGPI 5.11				FINAL GRADE --																	
7094056	SHIVALKAR AAYUSH NILESH APARNA 2022016402068623 (2)Dadar-(736)	58651 32E	16+	48	100	FEC101 10+	10	10	100	58652 25+	8+	33	100	FEL101 18+	18	18	100	58655 37E	6+	43	100	FEL102 23+	23	23	100	Unsuccessful 18.00 --	
		3.00	E	5.00	15.00	1.00	P	4.00	4.00	2.00	P	4.00	8.00	0.50	B	8.00	4.00	2.00	D	6.00	12.00	0.50	O	10.00	5.00	-- --	
		58653 AA	12+	12	100	FEL103 18+	30	30	100	58654 34+	12+	46	100	FEL104 18+	35	35	100	FEL105 45+	45	45	100						
		3.00	F	0.00	0.00	1.00	C	7.00	7.00	3.00	E	5.00	15.00	1.00	B	8.00	8.00	1.00	O	10.00	10.00						
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																	
7094057	DAGIA ANSH KANVAL RICHA 2022016402348096 (3)Andheri-(238)	58651 16F	13+	29	100	FEC101 24+	24	24	100	58652 33+	7+	40	100	FEL101 15+	15	15	100	58655 24+	8+	32	100	FEL102 22+	22	22	100	Unsuccessful 18.00 --	
		3.00	F	0.00	0.00	1.00	O	10.00	10.00	2.00	D	6.00	12.00	0.50	C	7.00	3.50	2.00	P	4.00	8.00	0.50	O	10.00	5.00	-- --	
		58653 32+	8+	40	100	FEL103 19+	36	36	100	58654 36+	8+	44	100	FEL104 20+	37	37	100	FEL105 42+	42	42	100						
		3.00	P	4.00	12.00	1.00	B	8.00	8.00	3.00	P	4.00	12.00	1.00	B	8.00	8.00	1.00	O	10.00	10.00						
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																	

/ - FEMALE, # - 0.229A, @ - 0.5042A/O.5043A/O.5044A, * - 5045A, RR-RESERVED, --:Fails in Theory or Practical, RPV - PROVISIONAL Eligible, RCC - 0.5050, AB - ABSENT, F - UNSUCCESSFUL, P - SUCCESSFUL;
 NULL=NULL & VOID, G:Grade C*G:Gradepoints C:credits CP:credit points aCG:sum of product of credits & grades, Internal Marks are Provisional as per R.8668
 aC:sum of credit points GPA: aCG/aC
 MARKS : 0 to 39.99 40 to 44.99 45 to 49.99 50 to 59.99 60 to 69.99 70 to 74.99 75 to 79.99 80 to 100
 GRADE : F P E D C B A O
 GRADE POINT : 0.00 4.00 5.00 6.00 7.00 8.00 9.00 10.00



University of Mumbai, Mumbai

OFFICE REGISTER OF THE B.E. (with credits) - Regular - CBCS(Electronics and Telecommunication Engineering)- F.E. C-Scheme - Sem I [1T01831] HELD IN Summer 2025 Result Declaration Date:11 Jul 2025

58651-Engineering Mathematics-I: ThUA 80/32 ThCA 20/8 100/0 | 58652-Engineering Physics-I: ThUA 60/24 ThCA 15/6 75/0 | 58655-Engineering Chemistry-I: ThUA 60/24 ThCA 15/6 75/0 |
 58653-Engineering Mechanics: ThUA 80/32 ThCA 20/8 100/0 | 58654-Basic Electrical Engineering: ThUA 80/32 ThCA 20/8 100/0 | FEL101-Engineering Physics-I (TW): TwCA 25/10 25/0 |
 FEL102-Engineering Chemistry-I (TW): TwCA 25/10 25/0 | FEL103-Engineering Mechanics (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 | FEL104-Basic Electrical Engineering (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 |
 FEL105-Basic Workshop Practice-I: TwCA 50/20 50/0 | FEC101-Engineering Mathematics-I Term Work: TwCA 25/10 25/0 |

SEAT NO.	NAME OF THE CANDIDATE Mother Name PRN.	PAPER 1				PAPER 2				PAPER 3				PAPER 4				PAPER 5				PAPER 6				RESULT CR C*G SGPI GRADE			
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G				
CENTRE-COLLEGE		PAPER 7				PAPER 8				PAPER 9				PAPER 10				PAPER 11											
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G
7094058	HARSH NAYAN GOSALIA SHILPA NAYAN GOSALIA 2022016402353155 (3)Andheri-(238)	58651 32+	16+	48		FEC101 --	19+	19		58652 25+	12+	37		FEL101 --	19+	19		58655 24+	8+	32		FEL102 --	22+	22	18.00	109.50	6.08	--	
		3.00	E	5.00	15.00	1.00	A	9.00	9.00	2.00	E	5.00	10.00	0.50	A	9.00	4.50	2.00	P	4.00	8.00	0.50	O	10.00	5.00				
		58653 34	8+	42		FEL103 --	19+	38		58654 35+	15+	50		FEL104 --	18+	39		FEL105 --	42+	42									
		3.00	P	4.00	12.00	1.00	A	9.00	9.00	3.00	D	6.00	18.00	1.00	A	9.00	9.00	1.00	O	10.00	10.00								
		Total Credit 18.00				FINAL CGPI 6.08				FINAL GRADE --																			
7094059	KALE SHUBHAY BHARAT PRATIBHA 2023016402053265 (3)Andheri-(238)	58651 25F	8+	33		FEC101 --	23+	23		58652 24+	13+	37		FEL101 --	12+	12		58655 28E	10+	38		FEL102 --	22+	22	18.00	--	--	--	
		3.00	F	0.00	0.00	1.00	O	10.00	10.00	2.00	E	5.00	10.00	0.50	E	5.00	2.50	2.00	D	6.00	12.00	0.50	O	10.00	5.00				
		58653 32E	8+	40		FEL103 --	10+	26		58654 36+	12+	48		FEL104 --	19+	37		FEL105 --	40+	40									
		3.00	P	4.00	12.00	1.00	D	6.00	6.00	3.00	E	5.00	15.00	1.00	B	8.00	8.00	1.00	O	10.00	10.00								
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																			
7094060	MATTA SAHIL UMESH POOJA MATTA 2022016402344493 (3)Andheri-(238)	58651 32+	8+	40		FEC101 --	22+	22		58652 35	12+	47		FEL101 --	19+	19		58655 24+	10+	34		FEL102 --	21+	21	18.00	110.50	6.14	--	
		3.00	P	4.00	12.00	1.00	O	10.00	10.00	2.00	C	7.00	14.00	0.50	A	9.00	4.50	2.00	E	5.00	10.00	0.50	O	10.00	5.00				
		58653 33+	11+	44		FEL103 --	20+	36		58654 38+	9+	47		FEL104 --	22+	43		FEL105 --	44+	44									
		3.00	P	4.00	12.00	1.00	B	8.00	8.00	3.00	E	5.00	15.00	1.00	O	10.00	10.00	1.00	O	10.00	10.00								
		Total Credit 18.00				FINAL CGPI 6.14				FINAL GRADE --																			

/ - FEMALE, # - 0.229A,@ - 0.5042A/O.5043A/O.5044A, * - 5045A, RR-RESERVED, --:Fails in Theory or Practical, RPV - PROVISIONAL Eligible, RCC - 0.5050, AB - ABSENT, F - UNSUCCESSFUL,P - SUCCESSFUL;
 NULL=NULL & VOID, G:Grade C*G:Gradepoints C:credits CP:credit points aCG:sum of product of credits & grades, Internal Marks are Provisional as per R.8668
 aC:sum of credit points GPA: aCG/aC
 MARKS : 0 to 39.99 40 to 44.99 45 to 49.99 50 to 59.99 60 to 69.99 70 to 74.99 75 to 79.99 80 to 100
 GRADE : F P E D C B A O
 GRADE POINT : 0.00 4.00 5.00 6.00 7.00 8.00 9.00 10.00



University of Mumbai, Mumbai

OFFICE REGISTER OF THE B.E. (with credits) - Regular - CBCS (Electronics and Telecommunication Engineering)- F.E. C-Scheme - Sem I [T01831] HELD IN Summer 2025 Result Declaration Date: 11 Jul 2025

58651-Engineering Mathematics-I: ThUA 80/32 ThCA 20/8 100/0 | 58652-Engineering Physics-I: ThUA 60/24 ThCA 15/6 75/0 | 58655-Engineering Chemistry-I: ThUA 60/24 ThCA 15/6 75/0 |
 58653-Engineering Mechanics: ThUA 80/32 ThCA 20/8 100/0 | 58654-Basic Electrical Engineering: ThUA 80/32 ThCA 20/8 100/0 | FEL101-Engineering Physics-I (TW): TwCA 25/10 25/0 |
 FEL102-Engineering Chemistry-I (TW): TwCA 25/10 25/0 | FEL103-Engineering Mechanics (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 | FEL104-Basic Electrical Engineering (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 |
 FEL105-Basic Workshop Practice-I: TwCA 50/20 50/0 | FEC101-Engineering Mathematics-I Term Work: TwCA 25/10 25/0 |

SEAT NO.	NAME OF THE CANDIDATE Mother Name PRN.	PAPER 1				PAPER 2				PAPER 3				PAPER 4				PAPER 5				PAPER 6				RESULT CR C*G SGPI GRADE			
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G				
CENTRE-COLLEGE		PAPER 7				PAPER 8				PAPER 9				PAPER 10				PAPER 11											
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G
7094061	PANDIT AKHILESH PRADEEP PRACHITA 2023016402053025 (3)Andheri-(238)	58651 25F	8+	33		FEC101 ---	23+	23		58652 25+	15+	40		FEL101 ---	19+	19		58655 27+	11+	38		FEL102 ---	21+	21	18.00	Unsuccessful --			
		3.00	F	0.00	0.00	1.00	O	10.00	10.00	2.00	D	6.00	12.00	0.50	A	9.00	4.50	2.00	D	6.00	12.00	0.50	O	10.00	5.00	--	--		
		58653 32+	10+	42		FEL103 ---	20+	40		58654 32+	14+	46		FEL104 ---	23+	42		FEL105 ---	43+	43									
		3.00	P	4.00	12.00	1.00	O	10.00	10.00	3.00	E	5.00	15.00	1.00	O	10.00	10.00	1.00	O	10.00	10.00								
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																			
7094062	/ PUROHIT URVI AMRAT VEENA 2022016402343114 (3)Andheri-(238)	58651 35E	13+	48		FEC101 ---	17+	17		58652 24+	6+	30		FEL101 ---	14+	14		58655 28+	6+	34		FEL102 ---	23+	23	18.00	Unsuccessful --			
		3.00	E	5.00	15.00	1.00	C	7.00	7.00	2.00	P	4.00	8.00	0.50	D	6.00	3.00	2.00	E	5.00	10.00	0.50	O	10.00	5.00	--	--		
		58653 27F	8+	35		FEL103 ---	19+	34		58654 35+	8+	43		FEL104 ---	17+	31		FEL105 ---	40+	40									
		3.00	F	0.00	0.00	1.00	C	7.00	7.00	3.00	P	4.00	12.00	1.00	C	7.00	7.00	1.00	O	10.00	10.00								
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																			
7094063	RAUT VIBHAV BHUPENDRA SANGEETA 2022016402353615 (3)Andheri-(238)	58651 5F	15+	20		FEC101 ---	24+	24		58652 24+	10+	34		FEL101 ---	19+	19		58655 24+	9+	33		FEL102 ---	18+	18	18.00	Unsuccessful --			
		3.00	F	0.00	0.00	1.00	O	10.00	10.00	2.00	E	5.00	10.00	0.50	A	9.00	4.50	2.00	P	4.00	8.00	0.50	B	8.00	4.00	--	--		
		58653 AA	8+	8		FEL103 ---	18+	32		58654 32+	13+	45		FEL104 ---	18+	38		FEL105 ---	44+	44									
		3.00	F	0.00	0.00	1.00	C	7.00	7.00	3.00	E	5.00	15.00	1.00	A	9.00	9.00	1.00	O	10.00	10.00								
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																			

/ - FEMALE, # - 0.229A, @ - 0.5042A/O.5043A/O.5044A, * - 5045A, RR-RESERVED, --:Fails in Theory or Practical, RPV - PROVISIONAL Eligible, RCC - 0.5050, AB - ABSENT, F - UNSUCCESSFUL, P - SUCCESSFUL;
 NULL=NULL & VOID, G:Grade C*G:Gradepoints C:credits CP:credit points aCG:sum of product of credits & grades, Internal Marks are Provisional as per R.8668
 aC:sum of credit points GPA: aCG/aC
 MARKS : 0 to 39.99 40 to 44.99 45 to 49.99 50 to 59.99 60 to 69.99 70 to 74.99 75 to 79.99 80 to 100
 GRADE : F P E D C B A O
 GRADE POINT : 0.00 4.00 5.00 6.00 7.00 8.00 9.00 10.00



University of Mumbai, Mumbai

OFFICE REGISTER OF THE B.E. (with credits) - Regular - CBCS(Electronics and Telecommunication Engineering)- F.E. C-Scheme - Sem I [1T01831] HELD IN Summer 2025 Result Declaration Date:11 Jul 2025

58651-Engineering Mathematics-I: ThUA 80/32 ThCA 20/8 100/0 | 58652-Engineering Physics-I: ThUA 60/24 ThCA 15/6 75/0 | 58655-Engineering Chemistry-I: ThUA 60/24 ThCA 15/6 75/0 |
 58653-Engineering Mechanics: ThUA 80/32 ThCA 20/8 100/0 | 58654-Basic Electrical Engineering: ThUA 80/32 ThCA 20/8 100/0 | FEL101-Engineering Physics-I (TW): TwCA 25/10 25/0 |
 FEL102-Engineering Chemistry-I (TW): TwCA 25/10 25/0 | FEL103-Engineering Mechanics (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 | FEL104-Basic Electrical Engineering (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 |
 FEL105-Basic Workshop Practice-I: TwCA 50/20 50/0 | FEC101-Engineering Mathematics-I Term Work: TwCA 25/10 25/0 |

SEAT NO.	NAME OF THE CANDIDATE Mother Name PRN.	PAPER 1				PAPER 2				PAPER 3				PAPER 4				PAPER 5				PAPER 6				RESULT CR C*G SGPI GRADE			
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G				
CENTRE-COLLEGE		PAPER 7				PAPER 8				PAPER 9				PAPER 10				PAPER 11											
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G
7094064	SALGIA KRISH AMIT BHUMIKA 2023016402051452 (3)Andheri-(238)	58651 51	10+	61		FEC101 16+	16			58652 28+	13+	41		FEL101 19+	19		58655 24+	10+	34		FEL102 17+	17		18.00	113.00				
		3.00	C	7.00	21.00	1.00	C	7.00	7.00	2.00	D	6.00	12.00	0.50	A	9.00	4.50	2.00	E	5.00	10.00	0.50	C	7.00	3.50	6.28	--		
		58653 32+	8+	40		FEL103 14+	29			58654 47+	17+	64		FEL104 16+	35		FEL105 37+	37											
		3.00	P	4.00	12.00	1.00	D	6.00	6.00	3.00	C	7.00	21.00	1.00	B	8.00	8.00	1.00	B	8.00	8.00								
		Total Credit 18.00				FINAL CGPI 6.28				FINAL GRADE --																			
7094065	/ SINGH SRISHTI MANOJ MEERA 2023016402052223 (3)Andheri-(238)	58651 25F	8+	33		FEC101 23+	23			58652 24+	15+	39		FEL101 19+	19		58655 26+	13+	39		FEL102 20+	20		18.00	--				
		3.00	F	0.00	0.00	1.00	O	10.00	10.00	2.00	D	6.00	12.00	0.50	A	9.00	4.50	2.00	D	6.00	12.00	0.50	O	10.00	5.00	--	--		
		58653 32+	9+	41		FEL103 17+	38			58654 33+	20+	53		FEL104 23+	47		FEL105 37+	37											
		3.00	P	4.00	12.00	1.00	A	9.00	9.00	3.00	D	6.00	18.00	1.00	O	10.00	10.00	1.00	B	8.00	8.00								
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																			
7094066	KARTIKEY RISHI TRIVEDI MANJARI 2023016402046621 (3)Andheri-(238)	58651 33+	8+	41		FEC101 23+	23			58652 43	8+	51		FEL101 15+	15		58655 31+	10+	41		FEL102 18+	18		18.00	97.50				
		3.00	P	4.00	12.00	1.00	O	10.00	10.00	2.00	C	7.00	14.00	0.50	C	7.00	3.50	2.00	D	6.00	12.00	0.50	B	8.00	4.00	5.42	--		
		58653 32+	8+	40		FEL103 10+	23			58654 32+	13+	45		FEL104 14+	29		FEL105 22+	22											
		3.00	P	4.00	12.00	1.00	E	5.00	5.00	3.00	E	5.00	15.00	1.00	D	6.00	6.00	1.00	P	4.00	4.00								
		Total Credit 18.00				FINAL CGPI 5.42				FINAL GRADE --																			

/ - FEMALE, # - 0.229A,@ - 0.5042A/O.5043A/O.5044A,* - 5045A, RR-RESERVED, --:Fails in Theory or Practical, RPV - PROVISIONAL Eligible, RCC - 0.5050, AB - ABSENT, F - UNSUCCESSFUL,P - SUCCESSFUL;
 NULL=NULL & VOID, G:Grade C*G:Gradepoints C:credits CP:credit points aCG:sum of product of credits & grades, Internal Marks are Provisional as per R.8668
 aC:sum of credit points GPA: aCG/aC
 MARKS : 0 to 39.99 40 to 44.99 45 to 49.99 50 to 59.99 60 to 69.99 70 to 74.99 75 to 79.99 80 to 100
 GRADE : F P E D C B A O
 GRADE POINT : 0.00 4.00 5.00 6.00 7.00 8.00 9.00 10.00



University of Mumbai, Mumbai

OFFICE REGISTER OF THE B.E. (with credits) - Regular - CBCS (Electronics and Telecommunication Engineering)- F.E. C-Scheme - Sem I [T01831] HELD IN Summer 2025 Result Declaration Date: 11 Jul 2025

58651-Engineering Mathematics-I: ThUA 80/32 ThCA 20/8 100/0 | 58652-Engineering Physics-I: ThUA 60/24 ThCA 15/6 75/0 | 58655-Engineering Chemistry-I: ThUA 60/24 ThCA 15/6 75/0 |
 58653-Engineering Mechanics: ThUA 80/32 ThCA 20/8 100/0 | 58654-Basic Electrical Engineering: ThUA 80/32 ThCA 20/8 100/0 | FEL101-Engineering Physics-I (TW): TwCA 25/10 25/0 |
 FEL102-Engineering Chemistry-I (TW): TwCA 25/10 25/0 | FEL103-Engineering Mechanics (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 | FEL104-Basic Electrical Engineering (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 |
 FEL105-Basic Workshop Practice-I: TwCA 50/20 50/0 | FEC101-Engineering Mathematics-I Term Work: TwCA 25/10 25/0 |

SEAT NO.	NAME OF THE CANDIDATE Mother Name PRN.	PAPER 1				PAPER 2				PAPER 3				PAPER 4				PAPER 5				PAPER 6				RESULT CR C*G SGPI GRADE			
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G				
CENTRE-COLLEGE		PAPER 7				PAPER 8				PAPER 9				PAPER 10				PAPER 11											
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G				
7094067	VADLAPATLA AASHRAAY SAI SHIVRAM - TAMALIKA 2023016402050696 (3)Andheri-(238)	58651 32+	10+	42		FEC101 16+	16			58652 31+	15+	46		FEL101 12+	12		58655 28+	12+	40		FEL102 19+	19		Successful 18.00 111.00 6.17 --					
		3.00	P	4.00	12.00	1.00	C	7.00	7.00	2.00	C	7.00	14.00	0.50	E	5.00	2.50	2.00	D	6.00	12.00	0.50	A	9.00	4.50				
		58653 37	8+	45		FEL103 18+	33			58654 32+	18+	50		FEL104 23+	47		FEL105 39+	39											
		3.00	E	5.00	15.00	1.00	C	7.00	7.00	3.00	D	6.00	18.00	1.00	O	10.00	10.00	1.00	A	9.00	9.00								
		Total Credit 18.00				FINAL CGPI 6.17				FINAL GRADE --																			
7094068	AJGAONKAR ARYA SANJAY SNEHAL 2023016400875486 (3)Andheri-(524)	58651 46E	13+	59		FEC101 19+	19			58652 27+	11+	38		FEL101 18+	18		58655 26+	12+	38		FEL102 20+	20		Unsuccessful 18.00 -- -- --					
		3.00	D	6.00	18.00	1.00	A	9.00	9.00	2.00	D	6.00	12.00	0.50	B	8.00	4.00	2.00	D	6.00	12.00	0.50	O	10.00	5.00				
		58653 17F	8+	25		FEL103 22+	42			58654 34+	16+	50		FEL104 21+	41		FEL105 42+	42											
		3.00	F	0.00	0.00	1.00	O	10.00	10.00	3.00	D	6.00	18.00	1.00	O	10.00	10.00	1.00	O	10.00	10.00								
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																			
7094069	/ BAWANE ANUSHKA DEVIDAS SARIKA 2022016402192112 (3)Andheri-(524)	58651 32+	11+	43		FEC101 21+	21			58652 15F	6+	21		FEL101 18+	18		58655 25+	6+	31		FEL102 22+	22		Unsuccessful 18.00 -- -- --					
		3.00	P	4.00	12.00	1.00	O	10.00	10.00	2.00	F	0.00	0.00	0.50	B	8.00	4.00	2.00	P	4.00	8.00	0.50	O	10.00	5.00				
		58653 17F	11+	28		FEL103 21+	37			58654 32E	8+	40		FEL104 22+	39		FEL105 42+	42											
		3.00	F	0.00	0.00	1.00	B	8.00	8.00	3.00	P	4.00	12.00	1.00	A	9.00	9.00	1.00	O	10.00	10.00								
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																			

/ - FEMALE, # - 0.229A, @ - 0.5042A/O.5043A/O.5044A, * - 5045A, RR-RESERVED, --:Fails in Theory or Practical, RPV - PROVISIONAL Eligible, RCC - 0.5050, AB - ABSENT, F - UNSUCCESSFUL, P - SUCCESSFUL;
 NULL=NULL & VOID, G:Grade C*G:Gradepoints C:credits CP:credit points aCG:sum of product of credits & grades, Internal Marks are Provisional as per R.8668
 aC:sum of credit points GPA: aCG/aC
 MARKS : 0 to 39.99 40 to 44.99 45 to 49.99 50 to 59.99 60 to 69.99 70 to 74.99 75 to 79.99 80 to 100
 GRADE : F P E D C B A O
 GRADE POINT : 0.00 4.00 5.00 6.00 7.00 8.00 9.00 10.00



University of Mumbai, Mumbai

OFFICE REGISTER OF THE B.E. (with credits) - Regular - CBCS(Electronics and Telecommunication Engineering)- F.E. C-Scheme - Sem I [T01831] HELD IN Summer 2025 Result Declaration Date:11 Jul 2025

58651-Engineering Mathematics-I: ThUA 80/32 ThCA 20/8 100/0 | 58652-Engineering Physics-I: ThUA 60/24 ThCA 15/6 75/0 | 58655-Engineering Chemistry-I: ThUA 60/24 ThCA 15/6 75/0 |
 58653-Engineering Mechanics: ThUA 80/32 ThCA 20/8 100/0 | 58654-Basic Electrical Engineering: ThUA 80/32 ThCA 20/8 100/0 | FEL101-Engineering Physics-I (TW): TwCA 25/10 25/0 |
 FEL102-Engineering Chemistry-I (TW): TwCA 25/10 25/0 | FEL103-Engineering Mechanics (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 | FEL104-Basic Electrical Engineering (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 |
 FEL105-Basic Workshop Practice-I: TwCA 50/20 50/0 | FEC101-Engineering Mathematics-I Term Work: TwCA 25/10 25/0 |

SEAT NO.	NAME OF THE CANDIDATE Mother Name PRN.	PAPER 1				PAPER 2				PAPER 3				PAPER 4				PAPER 5				PAPER 6				RESULT CR C*G SGPI GRADE
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	
CENTRE-COLLEGE		PAPER 7				PAPER 8				PAPER 9				PAPER 10				PAPER 11								
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	
7094070	/ BHUMKAR SHATAWARI DHONDIRAM JAYSHREE 2023016400876814 (3)Andheri-(524)	58651 48+	10+	58	18.00	FEC101 18+	18	18	8.00	58652 20F	7+	27	0.00	FEL101 16+	16	16	3.50	58655 24+	7+	31	8.00	FEL102 18+	18	18	18.00	Unsuccessful --
		3.00	D	6.00	18.00	1.00	B	8.00	8.00	2.00	F	0.00	0.00	0.50	C	7.00	3.50	2.00	P	4.00	8.00	0.50	B	8.00	4.00	-- --
		58653 32+	8+	40	12.00	FEL103 21+	39	39	9.00	58654 32+	10+	42	12.00	FEL104 23+	43	43	10.00	FEL105 44+	44	44	10.00					
		3.00	P	4.00	12.00	1.00	A	9.00	9.00	3.00	P	4.00	12.00	1.00	O	10.00	10.00	1.00	O	10.00	10.00					
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																
7094071	/ CHAVAN PAAYAL MITESH SUJATA 2023016400875327 (3)Andheri-(524)	58651 45	13+	58	18.00	FEC101 19+	19	19	9.00	58652 26+	8+	34	10.00	FEL101 18+	18	18	4.00	58655 24+	11+	35	10.00	FEL102 17+	17	17	18.00	Successful 117.50
		3.00	D	6.00	18.00	1.00	A	9.00	9.00	2.00	E	5.00	10.00	0.50	B	8.00	4.00	2.00	E	5.00	10.00	0.50	C	7.00	3.50	6.53 --
		58653 32+	18+	50	18.00	FEL103 22+	42	42	10.00	58654 32+	14+	46	15.00	FEL104 21+	43	43	10.00	FEL105 44+	44	44	10.00					
		3.00	D	6.00	18.00	1.00	O	10.00	10.00	3.00	E	5.00	15.00	1.00	O	10.00	10.00	1.00	O	10.00	10.00					
		Total Credit 18.00				FINAL CGPI 6.53				FINAL GRADE --																
7094072	/ DEEKULLA CHITRA GOPALRAO DEEKULA RENUKA RAO 2022016402191027 (3)Andheri-(524)	58651 43	10+	53	18.00	FEC101 22+	22	22	10.00	58652 24+	8+	32	8.00	FEL101 20+	20	20	5.00	58655 25+	7+	32	8.00	FEL102 24+	24	24	18.00	Successful 109.00
		3.00	D	6.00	18.00	1.00	O	10.00	10.00	2.00	P	4.00	8.00	0.50	O	10.00	5.00	2.00	P	4.00	8.00	0.50	O	10.00	5.00	6.06 --
		58653 33+	8+	41	12.00	FEL103 22+	36	36	8.00	58654 32+	13+	45	15.00	FEL104 24+	42	42	10.00	FEL105 43+	43	43	10.00					
		3.00	P	4.00	12.00	1.00	B	8.00	8.00	3.00	E	5.00	15.00	1.00	O	10.00	10.00	1.00	O	10.00	10.00					
		Total Credit 18.00				FINAL CGPI 6.06				FINAL GRADE --																

/ - FEMALE, # - 0.229A,@ - 0.5042A/O.5043A/O.5044A, * - 5045A, RR-RESERVED, --:Fails in Theory or Practical, RPV - PROVISIONAL Eligible, RCC - 0.5050, AB - ABSENT, F - UNSUCCESSFUL,P - SUCCESSFUL;
 NULL=NULL & VOID, G:Grade C*G:Gradepoints C:credits CP:credit points aCG:sum of product of credits & grades, Internal Marks are Provisional as per R.8668
 aC:sum of credit points GPA: aCG/aC
 MARKS : 0 to 39.99 40 to 44.99 45 to 49.99 50 to 59.99 60 to 69.99 70 to 74.99 75 to 79.99 80 to 100
 GRADE : F P E D C B A O
 GRADE POINT : 0.00 4.00 5.00 6.00 7.00 8.00 9.00 10.00



University of Mumbai, Mumbai

OFFICE REGISTER OF THE B.E. (with credits) - Regular - CBCS(Electronics and Telecommunication Engineering)- F.E. C-Scheme - Sem I [T01831] HELD IN Summer 2025 Result Declaration Date:11 Jul 2025

58651-Engineering Mathematics-I: ThUA 80/32 ThCA 20/8 100/0 | 58652-Engineering Physics-I: ThUA 60/24 ThCA 15/6 75/0 | 58655-Engineering Chemistry-I: ThUA 60/24 ThCA 15/6 75/0 |
 58653-Engineering Mechanics: ThUA 80/32 ThCA 20/8 100/0 | 58654-Basic Electrical Engineering: ThUA 80/32 ThCA 20/8 100/0 | FEL101-Engineering Physics-I (TW): TwCA 25/10 25/0 |
 FEL102-Engineering Chemistry-I (TW): TwCA 25/10 25/0 | FEL103-Engineering Mechanics (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 | FEL104-Basic Electrical Engineering (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 |
 FEL105-Basic Workshop Practice-I: TwCA 50/20 50/0 | FEC101-Engineering Mathematics-I Term Work: TwCA 25/10 25/0 |

SEAT NO.	NAME OF THE CANDIDATE Mother Name PRN.	PAPER 1				PAPER 2				PAPER 3				PAPER 4				PAPER 5				PAPER 6				RESULT CR C*G SGPI GRADE			
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G				
CENTRE-COLLEGE		PAPER 7				PAPER 8				PAPER 9				PAPER 10				PAPER 11											
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G				
7094073	JANGLE DIVYAANG RAJENDRA YOGITA 2022016402191004 (3)Andheri-(524)	58651 32+	19+	51	100	FEC101 12+	12	12	100	58652 26	6+	32	100	FEL101 10+	10	10	100	58655 24+	6+	30	100	FEL102 10+	10	10	100	Successful 18.00 85.00			
		3.00	D	6.00	18.00	1.00	E	5.00	5.00	2.00	P	4.00	8.00	0.50	P	4.00	2.00	2.00	P	4.00	8.00	0.50	P	4.00	2.00	4.72 --			
		58653 32	10+	42	100	FEL103 14+	14	14	100	58654 32+	8+	40	100	FEL104 12+	26	26	100	FEL105 34+	34	34	100								
		3.00	P	4.00	12.00	1.00	E	5.00	5.00	3.00	P	4.00	12.00	1.00	D	6.00	6.00	1.00	C	7.00	7.00								
		Total Credit 18.00				FINAL CGPI 4.72				FINAL GRADE --																			
7094074	JAWADWALA SARA ZOEB BANU 2023016400878241 (3)Andheri-(524)	58651 39+	8+	47	100	FEC101 16+	16	16	100	58652 24+	8+	32	100	FEL101 17+	17	17	100	58655 AA	7+	7	100	FEL102 17+	17	17	100	Unsuccessful 18.00 --			
		3.00	E	5.00	15.00	1.00	C	7.00	7.00	2.00	P	4.00	8.00	0.50	C	7.00	3.50	2.00	F	0.00	0.00	0.50	C	7.00	3.50	-- --			
		58653 15F	11+	26	100	FEL103 11+	11	11	100	58654 AA	10+	10	100	FEL104 14+	31	31	100	FEL105 35+	35	35	100								
		3.00	F	0.00	0.00	1.00	D	6.00	6.00	3.00	F	0.00	0.00	1.00	C	7.00	7.00	1.00	B	8.00	8.00								
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																			
7094075	KARU ADITYA SANDEEP TANUSHRI 2023016400875575 (3)Andheri-(524)	58651 32+	13+	45	100	FEC101 20+	20	20	100	58652 26	7+	33	100	FEL101 13+	13	13	100	58655 37+	11+	48	100	FEL102 17+	17	17	100	Successful 18.00 102.50			
		3.00	E	5.00	15.00	1.00	O	10.00	10.00	2.00	P	4.00	8.00	0.50	D	6.00	3.00	2.00	C	7.00	14.00	0.50	C	7.00	3.50	5.69 --			
		58653 39	10+	49	100	FEL103 12+	12	12	100	58654 32+	12+	44	100	FEL104 12+	28	28	100	FEL105 42+	42	42	100								
		3.00	E	5.00	15.00	1.00	D	6.00	6.00	3.00	P	4.00	12.00	1.00	D	6.00	6.00	1.00	O	10.00	10.00								
		Total Credit 18.00				FINAL CGPI 5.69				FINAL GRADE --																			

/ - FEMALE, # - 0.229A,@ - 0.5042A/O.5043A/O.5044A,* - 5045A, RR-RESERVED, --:Fails in Theory or Practical, RPV - PROVISIONAL Eligible, RCC - 0.5050, AB - ABSENT, F - UNSUCCESSFUL,P - SUCCESSFUL;
 NULL=NULL & VOID, G:Grade C*G:Gradepoints C:credits CP:credit points aCG:sum of product of credits & grades, Internal Marks are Provisional as per R.8668
 aC:sum of credit points GPA: aCG/aC
 MARKS : 0 to 39.99 40 to 44.99 45 to 49.99 50 to 59.99 60 to 69.99 70 to 74.99 75 to 79.99 80 to 100
 GRADE : F P E D C B A O
 GRADE POINT : 0.00 4.00 5.00 6.00 7.00 8.00 9.00 10.00



University of Mumbai, Mumbai

OFFICE REGISTER OF THE B.E. (with credits) - Regular - CBCS (Electronics and Telecommunication Engineering)- F.E. C-Scheme - Sem I [1T01831] HELD IN Summer 2025 Result Declaration Date: 11 Jul 2025

58651-Engineering Mathematics-I: ThUA 80/32 ThCA 20/8 100/0 | 58652-Engineering Physics-I: ThUA 60/24 ThCA 15/6 75/0 | 58655-Engineering Chemistry-I: ThUA 60/24 ThCA 15/6 75/0 |
 58653-Engineering Mechanics: ThUA 80/32 ThCA 20/8 100/0 | 58654-Basic Electrical Engineering: ThUA 80/32 ThCA 20/8 100/0 | FEL101-Engineering Physics-I (TW): TwCA 25/10 25/0 |
 FEL102-Engineering Chemistry-I (TW): TwCA 25/10 25/0 | FEL103-Engineering Mechanics (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 | FEL104-Basic Electrical Engineering (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 |
 FEL105-Basic Workshop Practice-I: TwCA 50/20 50/0 | FEC101-Engineering Mathematics-I Term Work: TwCA 25/10 25/0 |

SEAT NO.	NAME OF THE CANDIDATE Mother Name PRN.	PAPER 1				PAPER 2				PAPER 3				PAPER 4				PAPER 5				PAPER 6				RESULT CR C*G SGPI GRADE			
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G				
CENTRE-COLLEGE		PAPER 7				PAPER 8				PAPER 9				PAPER 10				PAPER 11											
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G				
7094076	KAUNDER PRASHANT RAVI SARITA 2022016402188806 (3)Andheri-(524)	58651 AA	15+	15	15	FEC101 --	22+	22	22	58652 27+	8+	35	35	FEL101 --	19+	19	19	19	58655 24+	8+	32	32	FEL102 --	19+	19	19	18.00	--	
		3.00	F	0.00	0.00	1.00	O	10.00	10.00	2.00	E	5.00	10.00	0.50	A	9.00	4.50	4.50	2.00	P	4.00	8.00	0.50	A	9.00	4.50	--	--	
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																			
7094077	MOHALE ADITYA BHAGWAN DIPALI 2022016402188957 (3)Andheri-(524)	58651 62+	14+	76	76	FEC101 --	21+	21	21	58652 24+	8+	32	32	FEL101 --	18+	18	18	18	58655 24+	6+	30	30	FEL102 --	20+	20	20	18.00	119.00	
		3.00	A	9.00	27.00	1.00	O	10.00	10.00	2.00	P	4.00	8.00	0.50	B	8.00	4.00	4.00	2.00	P	4.00	8.00	0.50	O	10.00	5.00	6.61	--	
		Total Credit 18.00				FINAL CGPI 6.61				FINAL GRADE --																			
7094078	MULE ADITYA SANJAY BHARTI 2022016402191082 (3)Andheri-(524)	58651 AA	8+	8	8	FEC101 --	21+	21	21	58652 AA	AA	AA	AA	FEL101 --	21+	21	21	21	58655 30+	6+	36	36	FEL102 --	21+	21	21	18.00	--	
		3.00	F	0.00	0.00	1.00	O	10.00	10.00	2.00	F	0.00	AB	0.50	O	10.00	5.00	5.00	2.00	E	5.00	10.00	0.50	O	10.00	5.00	--	--	
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																			

/ - FEMALE, # - 0.229A, @ - 0.5042A/O.5043A/O.5044A, * - 5045A, RR-RESERVED, --:Fails in Theory or Practical, RPV - PROVISIONAL Eligible, RCC - 0.5050, AB - ABSENT, F - UNSUCCESSFUL, P - SUCCESSFUL;
 NULL=NULL & VOID, G:Grade C*G:Gradepoints C:credits CP:credit points aCG:sum of product of credits & grades, Internal Marks are Provisional as per R.8668
 aC:sum of credit points GPA: aCG/aC
 MARKS : 0 to 39.99 40 to 44.99 45 to 49.99 50 to 59.99 60 to 69.99 70 to 74.99 75 to 79.99 80 to 100
 GRADE : F P E D C B A O
 GRADE POINT : 0.00 4.00 5.00 6.00 7.00 8.00 9.00 10.00



University of Mumbai, Mumbai

OFFICE REGISTER OF THE B.E. (with credits) - Regular - CBCS(Electronics and Telecommunication Engineering)- F.E. C-Scheme - Sem I [1T01831] HELD IN Summer 2025 Result Declaration Date:11 Jul 2025

58651-Engineering Mathematics-I: ThUA 80/32 ThCA 20/8 100/0 | 58652-Engineering Physics-I: ThUA 60/24 ThCA 15/6 75/0 | 58655-Engineering Chemistry-I: ThUA 60/24 ThCA 15/6 75/0 |
 58653-Engineering Mechanics: ThUA 80/32 ThCA 20/8 100/0 | 58654-Basic Electrical Engineering: ThUA 80/32 ThCA 20/8 100/0 | FEL101-Engineering Physics-I (TW): TwCA 25/10 25/0 |
 FEL102-Engineering Chemistry-I (TW): TwCA 25/10 25/0 | FEL103-Engineering Mechanics (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 | FEL104-Basic Electrical Engineering (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 |
 FEL105-Basic Workshop Practice-I: TwCA 50/20 50/0 | FEC101-Engineering Mathematics-I Term Work: TwCA 25/10 25/0 |

SEAT NO.	NAME OF THE CANDIDATE Mother Name PRN.	PAPER 1				PAPER 2				PAPER 3				PAPER 4				PAPER 5				PAPER 6				RESULT CR C*G SGPI GRADE			
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G				
CENTRE-COLLEGE		PAPER 7				PAPER 8				PAPER 9				PAPER 10				PAPER 11											
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G
7094079	/ NAGAVKAR PRAPTI PRASAD RIDDHI 2023016400878295 (3)Andheri-(524)	58651 33	11+	44		FEC101 19+	19			58652 26+	9+	35		FEL101 18+	18		58655 29+	9+	38		FEL102 16+	16		18.00	108.50	6.03	--		
		3.00	P	4.00	12.00	1.00	A	9.00	9.00	2.00	E	5.00	10.00	0.50	B	8.00	4.00	2.00	D	6.00	12.00	0.50	C	7.00	3.50				
		58653 38	10+	48		FEL103 21+	37			58654 39	10+	49		FEL104 23+	44		FEL105 43+	43											
		3.00	E	5.00	15.00	1.00	B	8.00	8.00	3.00	E	5.00	15.00	1.00	O	10.00	10.00	1.00	O	10.00	10.00								
		Total Credit 18.00				FINAL CGPI 6.03				FINAL GRADE --																			
7094080	PATIL KHALESH RAVINDRA VARSHA 2022016402191855 (3)Andheri-(524)	58651 32+	17+	49		FEC101 20+	20			58652 24+	9+	33		FEL101 16+	16		58655 AA	10+	10		FEL102 18+	18		18.00	--	--	--		
		3.00	E	5.00	15.00	1.00	O	10.00	10.00	2.00	P	4.00	8.00	0.50	C	7.00	3.50	2.00	F	0.00	0.00	0.50	B	8.00	4.00				
		58653 AA	10+	10		FEL103 19+	40			58654 AA	11+	11		FEL104 19+	39		FEL105 44+	44											
		3.00	F	0.00	0.00	1.00	O	10.00	10.00	3.00	F	0.00	0.00	1.00	A	9.00	9.00	1.00	O	10.00	10.00								
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																			
7094081	PATIL LOKESH RAVINDRA RANJANA 2023016400876652 (3)Andheri-(524)	58651 27F	8+	35		FEC101 21+	21			58652 36+	6+	42		FEL101 17+	17		58655 29+	7+	36		FEL102 18+	18		18.00	--	--	--		
		3.00	F	0.00	0.00	1.00	O	10.00	10.00	2.00	D	6.00	12.00	0.50	C	7.00	3.50	2.00	E	5.00	10.00	0.50	B	8.00	4.00				
		58653 32+	9+	41		FEL103 20+	40			58654 32+	10+	42		FEL104 24+	44		FEL105 40+	40											
		3.00	P	4.00	12.00	1.00	O	10.00	10.00	3.00	P	4.00	12.00	1.00	O	10.00	10.00	1.00	O	10.00	10.00								
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																			

/ - FEMALE, # - 0.229A,@ - 0.5042A/O.5043A/O.5044A,* - 5045A, RR-RESERVED, --:Fails in Theory or Practical, RPV - PROVISIONAL Eligible, RCC - 0.5050, AB - ABSENT, F - UNSUCCESSFUL,P - SUCCESSFUL;
 NULL=NULL & VOID, G:Grade C*G:Gradepoints C:credits CP:credit points aCG:sum of product of credits & grades, Internal Marks are Provisional as per R.8668
 aC:sum of credit points GPA: aCG/aC
 MARKS : 0 to 39.99 40 to 44.99 45 to 49.99 50 to 59.99 60 to 69.99 70 to 74.99 75 to 79.99 80 to 100
 GRADE : F P E D C B A O
 GRADE POINT : 0.00 4.00 5.00 6.00 7.00 8.00 9.00 10.00



University of Mumbai, Mumbai

OFFICE REGISTER OF THE B.E. (with credits) - Regular - CBCS(Electronics and Telecommunication Engineering)- F.E. C-Scheme - Sem I [T01831] HELD IN Summer 2025 Result Declaration Date:11 Jul 2025

58651-Engineering Mathematics-I: ThUA 80/32 ThCA 20/8 100/0 | 58652-Engineering Physics-I: ThUA 60/24 ThCA 15/6 75/0 | 58655-Engineering Chemistry-I: ThUA 60/24 ThCA 15/6 75/0 |
 58653-Engineering Mechanics: ThUA 80/32 ThCA 20/8 100/0 | 58654-Basic Electrical Engineering: ThUA 80/32 ThCA 20/8 100/0 | FEL101-Engineering Physics-I (TW): TwCA 25/10 25/0 |
 FEL102-Engineering Chemistry-I (TW): TwCA 25/10 25/0 | FEL103-Engineering Mechanics (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 | FEL104-Basic Electrical Engineering (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 |
 FEL105-Basic Workshop Practice-I: TwCA 50/20 50/0 | FEC101-Engineering Mathematics-I Term Work: TwCA 25/10 25/0 |

SEAT NO.	NAME OF THE CANDIDATE Mother Name PRN.	PAPER 1				PAPER 2				PAPER 3				PAPER 4				PAPER 5				PAPER 6				RESULT CR C*G SGPI GRADE			
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G				
CENTRE-COLLEGE		PAPER 7				PAPER 8				PAPER 9				PAPER 10				PAPER 11											
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G				
7094082	PAWASKAR YASH SANTOSH SARIKA 2023016400875907 (3)Andheri-(524)	58651 32+ 3.00 P	12+ 44 4.00	12.00 44 12.00	FEC101 19+ 1.00 A	19 19 9.00	9.00 19 9.00	9.00 19 9.00	58652 25+ 2.00 P	8+ 33 4.00	8.00 33 8.00	FEL101 12+ 0.50 E	12 12 5.00	2.50 12 2.50	58655 32+ 2.00 D	7+ 39 6.00	12.00 39 12.00	FEL102 13+ 0.50 D	13 13 6.00	3.00 13 3.00	3.00 13 3.00	3.00 13 3.00	18.00 18.00 18.00	Unsuccessful 18.00 -- -- --					
7094083	SADAYE TANMAY DILIP DEEPAI DEEPAI 2023016400877791 (3)Andheri-(524)	58651 42E 3.00 D	15+ 57 6.00	18.00 57 18.00	FEC101 20+ 1.00 O	20 20 10.00	10.00 20 10.00	10.00 20 10.00	58652 14F 2.00 F	11+ 25 0.00	25 25 0.00	FEL101 19+ 0.50 A	19 19 9.00	4.50 19 4.50	58655 24+ 2.00 P	7+ 31 4.00	8.00 31 8.00	FEL102 17+ 0.50 C	17 17 7.00	3.50 17 3.50	3.50 17 3.50	3.50 17 3.50	18.00 18.00 18.00	Unsuccessful 18.00 -- -- --					
7094084	SANKHE RUDRA ARVIND MINAL 2022016402191155 (3)Andheri-(524)	58651 17F 3.00 F	19+ 36 0.00	0.00 36 0.00	FEC101 21+ 1.00 O	21 21 10.00	10.00 21 10.00	10.00 21 10.00	58652 24+ 2.00 P	9+ 33 4.00	33 33 8.00	FEL101 20+ 0.50 O	20 20 10.00	5.00 20 5.00	58655 24E 2.00 P	9+ 33 4.00	8.00 33 8.00	FEL102 21+ 0.50 O	21 21 10.00	5.00 21 5.00	5.00 21 5.00	5.00 21 5.00	18.00 18.00 18.00	Unsuccessful 18.00 -- -- --					
		58653 35E 3.00 E	10+ 45 5.00	15.00 45 15.00	FEL103 20+ 1.00 A	39 39 9.00	9.00 39 9.00	9.00 39 9.00	58654 32+ 3.00 P	12+ 44 4.00	12.00 44 12.00	FEL104 20+ 1.00 A	39 39 9.00	9.00 39 9.00	FEL105 44+ 1.00 O	44 44 10.00	10.00 44 10.00	10.00 44 10.00	10.00 44 10.00	10.00 44 10.00	10.00 44 10.00	10.00 44 10.00	18.00 18.00 18.00	Unsuccessful 18.00 -- -- --					

/ - FEMALE, # - 0.229A,@ - 0.5042A/O.5043A/O.5044A,* - 5045A, RR-RESERVED, --:Fails in Theory or Practical, RPV - PROVISIONAL Eligible, RCC - 0.5050, AB - ABSENT, F - UNSUCCESSFUL,P - SUCCESSFUL;
 NULL=NULL & VOID, G:Grade C*G:Gradepoints C:credits CP:credit points aCG:sum of product of credits & grades, Internal Marks are Provisional as per R.8668
 aC:sum of credit points GPA: aCG/aC
 MARKS : 0 to 39.99 40 to 44.99 45 to 49.99 50 to 59.99 60 to 69.99 70 to 74.99 75 to 79.99 80 to 100
 GRADE : F P E D C B A O
 GRADE POINT : 0.00 4.00 5.00 6.00 7.00 8.00 9.00 10.00



University of Mumbai, Mumbai

OFFICE REGISTER OF THE B.E. (with credits) - Regular - CBCS(Electronics and Telecommunication Engineering)- F.E. C-Scheme - Sem I [T01831] HELD IN Summer 2025 Result Declaration Date:11 Jul 2025

58651-Engineering Mathematics-I: ThUA 80/32 ThCA 20/8 100/0 | 58652-Engineering Physics-I: ThUA 60/24 ThCA 15/6 75/0 | 58655-Engineering Chemistry-I: ThUA 60/24 ThCA 15/6 75/0 |
 58653-Engineering Mechanics: ThUA 80/32 ThCA 20/8 100/0 | 58654-Basic Electrical Engineering: ThUA 80/32 ThCA 20/8 100/0 | FEL101-Engineering Physics-I (TW): TwCA 25/10 25/0 |
 FEL102-Engineering Chemistry-I (TW): TwCA 25/10 25/0 | FEL103-Engineering Mechanics (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 | FEL104-Basic Electrical Engineering (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 |
 FEL105-Basic Workshop Practice-I: TwCA 50/20 50/0 | FEC101-Engineering Mathematics-I Term Work: TwCA 25/10 25/0 |

SEAT NO.	NAME OF THE CANDIDATE Mother Name PRN.	PAPER 1				PAPER 2				PAPER 3				PAPER 4				PAPER 5				PAPER 6				RESULT CR C*G SGPI GRADE			
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G				
CENTRE-COLLEGE		PAPER 7				PAPER 8				PAPER 9				PAPER 10				PAPER 11											
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G
7094085	/ SOMKULE KINJAL MAHNEDRA MANJUSHA 2023016400878306 (3)Andheri-(524)	58651 32+	10+	42		FEC101 --	20+	20		58652 14F	6+	20		FEL101 --	21+	21		58655 24+	6+	30		FEL102 --	17+	17	18.00	--			
		3.00	P	4.00	12.00	1.00	O	10.00	10.00	2.00	F	0.00	0.00	0.50	O	10.00	5.00	2.00	P	4.00	8.00	0.50	C	7.00	3.50	--	--		
		58653 28F	8+	36		FEL103 --	19+	38		58654 24F	8+	32		FEL104 --	21+	34		FEL105 --	42+	42									
		3.00	F	0.00	0.00	1.00	A	9.00	9.00	3.00	F	0.00	0.00	1.00	C	7.00	7.00	1.00	O	10.00	10.00								
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																			
7094086	TIWARI DHRUV DINANATH USHA 2023016400876756 (3)Andheri-(524)	58651 15F	9+	24		FEC101 --	18+	18		58652 27+	7+	34		FEL101 --	20+	20		58655 26+	9+	35		FEL102 --	19+	19	18.00	--			
		3.00	F	0.00	0.00	1.00	B	8.00	8.00	2.00	E	5.00	10.00	0.50	O	10.00	5.00	2.00	E	5.00	10.00	0.50	A	9.00	4.50	--	--		
		58653 33E	12+	45		FEL103 --	20+	40		58654 14F	16+	30		FEL104 --	22+	40		FEL105 --	41+	41									
		3.00	E	5.00	15.00	1.00	O	10.00	10.00	3.00	F	0.00	0.00	1.00	O	10.00	10.00	1.00	O	10.00	10.00								
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																			
7094087	YADAV SIMARAN MOHINDER RITA 2022016402188691 (3)Andheri-(524)	58651 12F	12+	24		FEC101 --	19+	19		58652 24+	13+	37		FEL101 --	18+	18		58655 31+	11+	42		FEL102 --	22+	22	18.00	--			
		3.00	F	0.00	0.00	1.00	A	9.00	9.00	2.00	E	5.00	10.00	0.50	B	8.00	4.00	2.00	D	6.00	12.00	0.50	O	10.00	5.00	--	--		
		58653 32E	8+	40		FEL103 --	21+	37		58654 32+	8+	40		FEL104 --	21+	41		FEL105 --	40+	40									
		3.00	P	4.00	12.00	1.00	B	8.00	8.00	3.00	P	4.00	12.00	1.00	O	10.00	10.00	1.00	O	10.00	10.00								
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																			

/ - FEMALE, # - 0.229A,@ - 0.5042A/O.5043A/O.5044A,* - 5045A, RR-RESERVED, --:Fails in Theory or Practical, RPV - PROVISIONAL Eligible, RCC - 0.5050, AB - ABSENT, F - UNSUCCESSFUL,P - SUCCESSFUL;
 NULL=NULL & VOID, G:Grade C*G:Gradepoints C:credits CP:credit points aCG:sum of product of credits & grades, Internal Marks are Provisional as per R.8668
 aC:sum of credit points GPA: aCG/aC
 MARKS : 0 to 39.99 40 to 44.99 45 to 49.99 50 to 59.99 60 to 69.99 70 to 74.99 75 to 79.99 80 to 100
 GRADE : F P E D C B A O
 GRADE POINT : 0.00 4.00 5.00 6.00 7.00 8.00 9.00 10.00



University of Mumbai, Mumbai

OFFICE REGISTER OF THE B.E. (with credits) - Regular - CBCS(Electronics and Telecommunication Engineering)- F.E. C-Scheme - Sem I [T01831] HELD IN Summer 2025 Result Declaration Date:11 Jul 2025

58651-Engineering Mathematics-I: ThUA 80/32 ThCA 20/8 100/0 | 58652-Engineering Physics-I: ThUA 60/24 ThCA 15/6 75/0 | 58655-Engineering Chemistry-I: ThUA 60/24 ThCA 15/6 75/0 |
 58653-Engineering Mechanics: ThUA 80/32 ThCA 20/8 100/0 | 58654-Basic Electrical Engineering: ThUA 80/32 ThCA 20/8 100/0 | FEL101-Engineering Physics-I (TW): TwCA 25/10 25/0 |
 FEL102-Engineering Chemistry-I (TW): TwCA 25/10 25/0 | FEL103-Engineering Mechanics (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 | FEL104-Basic Electrical Engineering (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 |
 FEL105-Basic Workshop Practice-I: TwCA 50/20 50/0 | FEC101-Engineering Mathematics-I Term Work: TwCA 25/10 25/0 |

SEAT NO.	NAME OF THE CANDIDATE Mother Name PRN.	PAPER 1				PAPER 2				PAPER 3				PAPER 4				PAPER 5				PAPER 6				RESULT CR C*G SGPI GRADE			
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G				
CENTRE-COLLEGE		PAPER 7				PAPER 8				PAPER 9				PAPER 10				PAPER 11											
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G				
7094088	AIL ADITYA GIRISH ASHALATHA 2023016402240812 (3)Andheri-(532)	58651 36+	10+	46	100	FEC101 --	21+	21	100	58652 28+	13+	41	100	FEL101 --	20+	20	100	58655 27+	12+	39	100	FEL102 --	21+	21	18.00	Unsuccessful --			
		3.00	E	5.00	15.00	1.00	O	10.00	10.00	2.00	D	6.00	12.00	0.50	O	10.00	5.00	2.00	D	6.00	12.00	0.50	O	10.00	5.00	--	--		
		58653 20F	11+	31	100	FEL103 --	19+	38	100	58654 32+	13+	45	100	FEL104 --	22+	44	100	FEL105 --	39+	39	100								
		3.00	F	0.00	0.00	1.00	A	9.00	9.00	3.00	E	5.00	15.00	1.00	O	10.00	10.00	1.00	A	9.00	9.00								
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																			
7094089	AYARE SWAROOP SHANTARAM SHRADHA 2022016402264554 (3)Andheri-(532)	58651 35+	8+	43	100	FEC101 --	13+	13	100	58652 24+	6+	30	100	FEL101 --	17+	17	100	58655 7F	6+	13	100	FEL102 --	17+	17	18.00	Unsuccessful --			
		3.00	P	4.00	12.00	1.00	D	6.00	6.00	2.00	P	4.00	8.00	0.50	C	7.00	3.50	2.00	F	0.00	0.00	0.50	C	7.00	3.50	--	--		
		58653 34E	9+	43	100	FEL103 --	23+	43	100	58654 38+	8+	46	100	FEL104 --	18+	36	100	FEL105 --	38+	38	100								
		3.00	P	4.00	12.00	1.00	O	10.00	10.00	3.00	E	5.00	15.00	1.00	B	8.00	8.00	1.00	A	9.00	9.00								
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																			
7094090	BAGAL KAUSTUBH NANDKUMAR SARIKA 2023016402242343 (3)Andheri-(532)	58651 32+	8+	40	100	FEC101 --	18+	18	100	58652 24+	8+	32	100	FEL101 --	18+	18	100	58655 25+	7+	32	100	FEL102 --	21+	21	18.00	ABS --			
		3.00	P	4.00	12.00	1.00	B	8.00	8.00	2.00	P	4.00	8.00	0.50	B	8.00	4.00	2.00	P	4.00	8.00	0.50	O	10.00	5.00	--	--		
		58653 AA	8+	8	100	FEL103 --	16+	32	100	58654 AA	8+	8	100	FEL104 --	21+	39	100	FEL105 --	40+	40	100								
		3.00	F	0.00	0.00	1.00	C	7.00	7.00	3.00	F	0.00	0.00	1.00	A	9.00	9.00	1.00	O	10.00	10.00								
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																			

/ - FEMALE, # - 0.229A,@ - 0.5042A/O.5043A/O.5044A,* - 5045A, RR-RESERVED, --:Fails in Theory or Practical, RPV - PROVISIONAL Eligible, RCC - 0.5050, AB - ABSENT, F - UNSUCCESSFUL,P - SUCCESSFUL;
 NULL=NULL & VOID, G:Grade C*G:Gradepoints C:credits CP:credit points aCG:sum of product of credits & grades, Internal Marks are Provisional as per R.8668
 aC:sum of credit points GPA: aCG/aC
 MARKS : 0 to 39.99 40 to 44.99 45 to 49.99 50 to 59.99 60 to 69.99 70 to 74.99 75 to 79.99 80 to 100
 GRADE : F P E D C B A O
 GRADE POINT : 0.00 4.00 5.00 6.00 7.00 8.00 9.00 10.00



University of Mumbai, Mumbai

OFFICE REGISTER OF THE B.E. (with credits) - Regular - CBCS(Electronics and Telecommunication Engineering)- F.E. C-Scheme - Sem I [1T01831] HELD IN Summer 2025 Result Declaration Date:11 Jul 2025

58651-Engineering Mathematics-I: ThUA 80/32 ThCA 20/8 100/0 | 58652-Engineering Physics-I: ThUA 60/24 ThCA 15/6 75/0 | 58655-Engineering Chemistry-I: ThUA 60/24 ThCA 15/6 75/0 |
 58653-Engineering Mechanics: ThUA 80/32 ThCA 20/8 100/0 | 58654-Basic Electrical Engineering: ThUA 80/32 ThCA 20/8 100/0 | FEL101-Engineering Physics-I (TW): TwCA 25/10 25/0 |
 FEL102-Engineering Chemistry-I (TW): TwCA 25/10 25/0 | FEL103-Engineering Mechanics (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 | FEL104-Basic Electrical Engineering (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 |
 FEL105-Basic Workshop Practice-I: TwCA 50/20 50/0 | FEC101-Engineering Mathematics-I Term Work: TwCA 25/10 25/0 |

SEAT NO.	NAME OF THE CANDIDATE Mother Name PRN.	PAPER 1				PAPER 2				PAPER 3				PAPER 4				PAPER 5				PAPER 6				RESULT CR C*G SGPI GRADE
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	
CENTRE-COLLEGE		PAPER 7				PAPER 8				PAPER 9				PAPER 10				PAPER 11								
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	
7094091	/ BHEEMANABONI VIDYA NARASIMHA - NAVANITA	58651				FEC101				58652				FEL101				58655				FEL102				Unsuccessful
		19F	8+	27		--	19+	19		24+	9+	33		--	21+	21		24+	7+	31		--	17+	17		18.00 --
	2023016402249591																									
	(3)Andheri-(532)	58653				FEL103				58654				FEL104				FEL105								
		32+	12+	44		--	16+	32		17F	9+	26		--	18+	31		--	39+	39						
		3.00	P	4.00	12.00	1.00	C	7.00	7.00	3.00	F	0.00	0.00	1.00	C	7.00	7.00	1.00	A	9.00	9.00					
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																
7094092	DAMODARE VISHWADIP MAHENDRA VARSHA	58651				FEC101				58652				FEL101				58655				FEL102				Unsuccessful
		26F	8+	34		--	17+	17		25+	6+	31		--	14+	14		24+	6+	30		--	18+	18		18.00 --
	2023016402244574																									
	(3)Andheri-(532)	58653				FEL103				58654				FEL104				FEL105								
		32+	10+	42		--	16+	32		32+	8+	40		--	12+	24		--	22+	22						
		3.00	P	4.00	12.00	1.00	C	7.00	7.00	3.00	P	4.00	12.00	1.00	E	5.00	5.00	1.00	P	4.00	4.00					
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																
7094093	DANDEKAR BHOOMI GANESH KAVITA	58651				FEC101				58652				FEL101				58655				FEL102				Successful
		32+	11+	43		--	19+	19		30+	10+	40		--	22+	22		33	11+	44		--	22+	22		18.00 110.00
	2023016402240971																									
	(3)Andheri-(532)	58653				FEL103				58654				FEL104				FEL105								
		32+	11+	43		--	15+	30		48+	11+	59		--	22+	39		--	39+	39						
		3.00	P	4.00	12.00	1.00	C	7.00	7.00	3.00	D	6.00	18.00	1.00	A	9.00	9.00	1.00	A	9.00	9.00					
		Total Credit 18.00				FINAL CGPI 6.11				FINAL GRADE --																

/ - FEMALE, # - 0.229A,@ - 0.5042A/O.5043A/O.5044A,* - 5045A, RR-RESERVED, --:Fails in Theory or Practical, RPV - PROVISIONAL Eligible, RCC - 0.5050, AB - ABSENT, F - UNSUCCESSFUL,P - SUCCESSFUL;
 NULL=NULL & VOID, G:Grade C*G:Gradepoints C:credits CP:credit points aCG:sum of product of credits & grades, Internal Marks are Provisional as per R.8668
 aC:sum of credit points GPA: aCG/aC
 MARKS : 0 to 39.99 40 to 44.99 45 to 49.99 50 to 59.99 60 to 69.99 70 to 74.99 75 to 79.99 80 to 100
 GRADE : F P E D C B A O
 GRADE POINT : 0.00 4.00 5.00 6.00 7.00 8.00 9.00 10.00



University of Mumbai, Mumbai

OFFICE REGISTER OF THE B.E. (with credits) - Regular - CBCS(Electronics and Telecommunication Engineering)- F.E. C-Scheme - Sem I [T01831] HELD IN Summer 2025 Result Declaration Date:11 Jul 2025

58651-Engineering Mathematics-I: ThUA 80/32 ThCA 20/8 100/0 | 58652-Engineering Physics-I: ThUA 60/24 ThCA 15/6 75/0 | 58655-Engineering Chemistry-I: ThUA 60/24 ThCA 15/6 75/0 |
 58653-Engineering Mechanics: ThUA 80/32 ThCA 20/8 100/0 | 58654-Basic Electrical Engineering: ThUA 80/32 ThCA 20/8 100/0 | FEL101-Engineering Physics-I (TW): TwCA 25/10 25/0 |
 FEL102-Engineering Chemistry-I (TW): TwCA 25/10 25/0 | FEL103-Engineering Mechanics (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 | FEL104-Basic Electrical Engineering (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 |
 FEL105-Basic Workshop Practice-I: TwCA 50/20 50/0 | FEC101-Engineering Mathematics-I Term Work: TwCA 25/10 25/0 |

SEAT NO.	NAME OF THE CANDIDATE Mother Name PRN.	PAPER 1				PAPER 2				PAPER 3				PAPER 4				PAPER 5				PAPER 6				RESULT CR C*G SGPI GRADE	
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G		
CENTRE-COLLEGE		PAPER 7				PAPER 8				PAPER 9				PAPER 10				PAPER 11									
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G		
7094094	/ DANGARE RUTUJA BIMBISAR REKHA 2023016402240777 (3)Andheri-(532)	58651 32+	8+	40		FEC101 17+	17		58652 26+	8+	34		FEL101 20+	20		58655 29	6+	35		FEL102 20+	20		Successful 18.00	98.00			
		3.00	P	4.00	12.00	1.00	C	7.00	7.00	2.00	E	5.00	10.00	0.50	O	10.00	5.00	2.00	E	5.00	10.00	0.50	O	10.00	5.00	5.44	--
		58653 33	11+	44		FEL103 15+	30		58654 32	11+	43		FEL104 19+	37		FEL105 42+	42										
		3.00	P	4.00	12.00	1.00	C	7.00	7.00	3.00	P	4.00	12.00	1.00	B	8.00	8.00	1.00	O	10.00	10.00						
		Total Credit 18.00				FINAL CGPI 5.44				FINAL GRADE --																	
7094095	DESAI VIVEK NARESHBHAI SAVITA 2023016402241332 (3)Andheri-(532)	58651 32+	12+	44		FEC101 20+	20		58652 24+	6+	30		FEL101 15+	15		58655 24+	7+	31		FEL102 19+	19		Unsuccessful 18.00	--			
		3.00	P	4.00	12.00	1.00	O	10.00	10.00	2.00	P	4.00	8.00	0.50	C	7.00	3.50	2.00	P	4.00	8.00	0.50	A	9.00	4.50	--	--
		58653 28F	8+	36		FEL103 15+	31		58654 36+	14+	50		FEL104 14+	28		FEL105 36+	36										
		3.00	F	0.00	0.00	1.00	C	7.00	7.00	3.00	D	6.00	18.00	1.00	D	6.00	6.00	1.00	B	8.00	8.00						
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																	
7094096	DESHBHARTAR ARCHEE VINOD POORNIMA 2022016402263825 (3)Andheri-(532)	58651 32+	10+	42		FEC101 18+	18		58652 24+	9+	33		FEL101 23+	23		58655 27+	8+	35		FEL102 23+	23		Successful 18.00	108.00			
		3.00	P	4.00	12.00	1.00	B	8.00	8.00	2.00	P	4.00	8.00	0.50	O	10.00	5.00	2.00	E	5.00	10.00	0.50	O	10.00	5.00	6.00	--
		58653 33	11+	44		FEL103 23+	43		58654 43+	8+	51		FEL104 22+	44		FEL105 42+	42										
		3.00	P	4.00	12.00	1.00	O	10.00	10.00	3.00	D	6.00	18.00	1.00	O	10.00	10.00	1.00	O	10.00	10.00						
		Total Credit 18.00				FINAL CGPI 6.00				FINAL GRADE --																	

/ - FEMALE, # - 0.229A,@ - 0.5042A/O.5043A/O.5044A,* - 5045A, RR-RESERVED, --:Fails in Theory or Practical, RPV - PROVISIONAL Eligible, RCC - 0.5050, AB - ABSENT, F - UNSUCCESSFUL,P - SUCCESSFUL;
 NULL=NULL & VOID, G:Grade C*G:Gradepoints C:credits CP:credit points aCG:sum of product of credits & grades, Internal Marks are Provisional as per R.8668
 aC:sum of credit points GPA: aCG/aC
 MARKS : 0 to 39.99 40 to 44.99 45 to 49.99 50 to 59.99 60 to 69.99 70 to 74.99 75 to 79.99 80 to 100
 GRADE : F P E D C B A O
 GRADE POINT : 0.00 4.00 5.00 6.00 7.00 8.00 9.00 10.00



University of Mumbai, Mumbai

OFFICE REGISTER OF THE B.E. (with credits) - Regular - CBCS (Electronics and Telecommunication Engineering)- F.E. C-Scheme - Sem I [1T01831] HELD IN Summer 2025 Result Declaration Date: 11 Jul 2025

58651-Engineering Mathematics-I: ThUA 80/32 ThCA 20/8 100/0 | 58652-Engineering Physics-I: ThUA 60/24 ThCA 15/6 75/0 | 58655-Engineering Chemistry-I: ThUA 60/24 ThCA 15/6 75/0 |
 58653-Engineering Mechanics: ThUA 80/32 ThCA 20/8 100/0 | 58654-Basic Electrical Engineering: ThUA 80/32 ThCA 20/8 100/0 | FEL101-Engineering Physics-I (TW): TwCA 25/10 25/0 |
 FEL102-Engineering Chemistry-I (TW): TwCA 25/10 25/0 | FEL103-Engineering Mechanics (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 | FEL104-Basic Electrical Engineering (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 |
 FEL105-Basic Workshop Practice-I: TwCA 50/20 50/0 | FEC101-Engineering Mathematics-I Term Work: TwCA 25/10 25/0 |

SEAT NO.	NAME OF THE CANDIDATE Mother Name PRN.	PAPER 1				PAPER 2				PAPER 3				PAPER 4				PAPER 5				PAPER 6				RESULT CR C*G SGPI GRADE			
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G				
CENTRE-COLLEGE		PAPER 7				PAPER 8				PAPER 9				PAPER 10				PAPER 11											
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G				
7094097	FADATARE SWARAJ SHIVAJI SHUBHANGI 2022016402265171 (3)Andheri-(532)	58651 32+	9+	41		FEC101 14+	14			58652 24+	9+	33		FEL101 18+	18		58655 24+	8+	32		FEL102 18+	18		18.00	--				
		3.00	P	4.00	12.00	1.00	D	6.00	6.00	2.00	P	4.00	8.00	0.50	B	8.00	4.00	2.00	P	4.00	8.00	0.50	B	8.00	4.00	-- --			
		58653 13F	10+	23		FEL103 23+	43			58654 32+	9+	41		FEL104 18+	34		FEL105 39+	39											
		3.00	F	0.00	0.00	1.00	O	10.00	10.00	3.00	P	4.00	12.00	1.00	C	7.00	7.00	1.00	A	9.00	9.00								
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																			
7094098	GHAG MITESH MILIND PRITI 2023016402244477 (3)Andheri-(532)	58651 AA	8+	8		FEC101 15+	15			58652 AA	6+	6		FEL101 15+	15		58655 AA	6+	6		FEL102 19+	19		18.00	--				
		3.00	F	0.00	0.00	1.00	C	7.00	7.00	2.00	F	0.00	0.00	0.50	C	7.00	3.50	2.00	F	0.00	0.00	0.50	A	9.00	4.50	-- --			
		58653 AA	8+	8		FEL103 21+	42			58654 AA	8+	8		FEL104 12+	27		FEL105 22+	22											
		3.00	F	0.00	0.00	1.00	O	10.00	10.00	3.00	F	0.00	0.00	1.00	D	6.00	6.00	1.00	P	4.00	4.00								
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																			
7094099	JADHAV PRATHMESH SURESH RATNAMALA 2022016402264496 (3)Andheri-(532)	58651 36+	10+	46		FEC101 16+	16			58652 28	8+	36		FEL101 21+	21		58655 31+	8+	39		FEL102 21+	21		18.00	108.00				
		3.00	E	5.00	15.00	1.00	C	7.00	7.00	2.00	E	5.00	10.00	0.50	O	10.00	5.00	2.00	D	6.00	12.00	0.50	O	10.00	5.00	6.00 --			
		58653 33+	13+	46		FEL103 23+	46			58654 32+	9+	41		FEL104 19+	37		FEL105 39+	39											
		3.00	E	5.00	15.00	1.00	O	10.00	10.00	3.00	P	4.00	12.00	1.00	B	8.00	8.00	1.00	A	9.00	9.00								
		Total Credit 18.00				FINAL CGPI 6.00				FINAL GRADE --																			

/ - FEMALE, # - 0.229A, @ - 0.5042A/O.5043A/O.5044A, * - 5045A, RR-RESERVED, --:Fails in Theory or Practical, RPV - PROVISIONAL Eligible, RCC - 0.5050, AB - ABSENT, F - UNSUCCESSFUL, P - SUCCESSFUL;
 NULL=NULL & VOID, G:Grade C*G:Gradepoints C:credits CP:credit points @CG:sum of product of credits & grades, Internal Marks are Provisional as per R.8668
 @C:sum of credit points GPA: @CG/@C
 MARKS : 0 to 39.99 40 to 44.99 45 to 49.99 50 to 59.99 60 to 69.99 70 to 74.99 75 to 79.99 80 to 100
 GRADE : F P E D C B A O
 GRADE POINT : 0.00 4.00 5.00 6.00 7.00 8.00 9.00 10.00



University of Mumbai, Mumbai

OFFICE REGISTER OF THE B.E. (with credits) - Regular - CBCS (Electronics and Telecommunication Engineering)- F.E. C-Scheme - Sem I [1T01831] HELD IN Summer 2025 Result Declaration Date: 11 Jul 2025

58651-Engineering Mathematics-I: ThUA 80/32 ThCA 20/8 100/0 | 58652-Engineering Physics-I: ThUA 60/24 ThCA 15/6 75/0 | 58655-Engineering Chemistry-I: ThUA 60/24 ThCA 15/6 75/0 |
 58653-Engineering Mechanics: ThUA 80/32 ThCA 20/8 100/0 | 58654-Basic Electrical Engineering: ThUA 80/32 ThCA 20/8 100/0 | FEL101-Engineering Physics-I (TW): TwCA 25/10 25/0 |
 FEL102-Engineering Chemistry-I (TW): TwCA 25/10 25/0 | FEL103-Engineering Mechanics (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 | FEL104-Basic Electrical Engineering (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 |
 FEL105-Basic Workshop Practice-I: TwCA 50/20 50/0 | FEC101-Engineering Mathematics-I Term Work: TwCA 25/10 25/0 |

SEAT NO.	NAME OF THE CANDIDATE Mother Name PRN.	PAPER 1				PAPER 2				PAPER 3				PAPER 4				PAPER 5				PAPER 6				RESULT CR C*G SGPI GRADE
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	
CENTRE-COLLEGE		PAPER 7				PAPER 8				PAPER 9				PAPER 10				PAPER 11								
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	
7094100	JADIA MANAV RAVINDRA BHARATI 2022016402255346 (3)Andheri-(532)	58651 13F	12+	25		FEC101 16+	16			58652 36E	10+	46		FEL101 20+	20		58655 24+	10+	34		FEL102 20+	20			18.00 --	
		3.00	F	0.00	0.00	1.00	C	7.00	7.00	2.00	C	7.00	14.00	0.50	O	10.00	5.00	2.00	E	5.00	10.00	0.50	O	10.00	5.00	-- --
		58653 34E	13+	47		FEL103 23+	46			58654 32+	11+	43		FEL104 22+	38		FEL105 38+	38								
		3.00	E	5.00	15.00	1.00	O	10.00	10.00	3.00	P	4.00	12.00	1.00	A	9.00	9.00	1.00	A	9.00	9.00					
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																
7094101	KALE SAHIL RAMESH RANJANA 2023016402244551 (3)Andheri-(532)	58651 32+	8+	40		FEC101 17+	17			58652 30	6+	36		FEL101 22+	22		58655 24+	7+	31		FEL102 22+	22			18.00 103.00	
		3.00	P	4.00	12.00	1.00	C	7.00	7.00	2.00	E	5.00	10.00	0.50	O	10.00	5.00	2.00	P	4.00	8.00	0.50	O	10.00	5.00	5.72 --
		58653 37+	9+	46		FEL103 17+	34			58654 41+	11+	52		FEL104 19+	33		FEL105 38+	38								
		3.00	E	5.00	15.00	1.00	C	7.00	7.00	3.00	D	6.00	18.00	1.00	C	7.00	7.00	1.00	A	9.00	9.00					
		Total Credit 18.00				FINAL CGPI 5.72				FINAL GRADE --																
7094102	KAMBLE PRASANNA MAHADEV SUMITA 2023016402243122 (3)Andheri-(532)	58651 38+	8+	46		FEC101 18+	18			58652 24+	6+	30		FEL101 19+	19		58655 31+	7+	38		FEL102 20+	20			18.00 107.50	
		3.00	E	5.00	15.00	1.00	B	8.00	8.00	2.00	P	4.00	8.00	0.50	A	9.00	4.50	2.00	D	6.00	12.00	0.50	O	10.00	5.00	5.97 --
		58653 32+	13+	45		FEL103 22+	44			58654 32	11+	43		FEL104 19+	38		FEL105 39+	39								
		3.00	E	5.00	15.00	1.00	O	10.00	10.00	3.00	P	4.00	12.00	1.00	A	9.00	9.00	1.00	A	9.00	9.00					
		Total Credit 18.00				FINAL CGPI 5.97				FINAL GRADE --																

/ - FEMALE, # - 0.229A, @ - 0.5042A/O.5043A/O.5044A, * - 5045A, RR-RESERVED, --:Fails in Theory or Practical, RPV - PROVISIONAL Eligible, RCC - 0.5050, AB - ABSENT, F - UNSUCCESSFUL, P - SUCCESSFUL;
 NULL=NULL & VOID, G:Grade C*G:Gradepoints C:credits CP:credit points aCG:sum of product of credits & grades, Internal Marks are Provisional as per R.8668
 aC:sum of credit points GPA: aCG/aC
 MARKS : 0 to 39.99 40 to 44.99 45 to 49.99 50 to 59.99 60 to 69.99 70 to 74.99 75 to 79.99 80 to 100
 GRADE : F P E D C B A O
 GRADE POINT : 0.00 4.00 5.00 6.00 7.00 8.00 9.00 10.00



University of Mumbai, Mumbai

OFFICE REGISTER OF THE B.E. (with credits) - Regular - CBCS(Electronics and Telecommunication Engineering)- F.E. C-Scheme - Sem I [1T01831] HELD IN Summer 2025 Result Declaration Date:11 Jul 2025

58651-Engineering Mathematics-I: ThUA 80/32 ThCA 20/8 100/0 | 58652-Engineering Physics-I: ThUA 60/24 ThCA 15/6 75/0 | 58655-Engineering Chemistry-I: ThUA 60/24 ThCA 15/6 75/0 |
 58653-Engineering Mechanics: ThUA 80/32 ThCA 20/8 100/0 | 58654-Basic Electrical Engineering: ThUA 80/32 ThCA 20/8 100/0 | FEL101-Engineering Physics-I (TW): TwCA 25/10 25/0 |
 FEL102-Engineering Chemistry-I (TW): TwCA 25/10 25/0 | FEL103-Engineering Mechanics (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 | FEL104-Basic Electrical Engineering (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 |
 FEL105-Basic Workshop Practice-I: TwCA 50/20 50/0 | FEC101-Engineering Mathematics-I Term Work: TwCA 25/10 25/0 |

SEAT NO.	NAME OF THE CANDIDATE Mother Name PRN.	PAPER 1				PAPER 2				PAPER 3				PAPER 4				PAPER 5				PAPER 6				RESULT CR C*G SGPI GRADE			
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G				
CENTRE-COLLEGE		PAPER 7				PAPER 8				PAPER 9				PAPER 10				PAPER 11											
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G				
7094103	KAREKAR KRISH RAJESH AARTI 2023016402241026 (3)Andheri-(532)	58651 34+	8+	42		FEC101 17+	17			58652 32	11+	43		FEL101 21+	21		58655 24+	8+	32		FEL102 18+	18		18.00	98.00				
		3.00	P	4.00	12.00	1.00	C	7.00	7.00	2.00	D	6.00	12.00	0.50	O	10.00	5.00	2.00	P	4.00	8.00	0.50	B	8.00	4.00	5.44	--		
		58653 32+	10+	42		FEL103 19+	38			58654 32+	8+	40		FEL104 14+	35		FEL105 39+	39											
		3.00	P	4.00	12.00	1.00	A	9.00	9.00	3.00	P	4.00	12.00	1.00	B	8.00	8.00	1.00	A	9.00	9.00								
		Total Credit 18.00				FINAL CGPI 5.44				FINAL GRADE --																			
7094104	KHADSE YASH SUDAM JAYSHREE 2023016402239236 (3)Andheri-(532)	58651 32E	8+	40		FEC101 16+	16			58652 13F	8+	21		FEL101 15+	15		58655 18F	6+	24		FEL102 20+	20		18.00	--				
		3.00	P	4.00	12.00	1.00	C	7.00	7.00	2.00	F	0.00	0.00	0.50	C	7.00	3.50	2.00	F	0.00	0.00	0.50	O	10.00	5.00	--	--		
		58653 33+	9+	42		FEL103 16+	32			58654 20F	10+	30		FEL104 17+	30		FEL105 38+	38											
		3.00	P	4.00	12.00	1.00	C	7.00	7.00	3.00	F	0.00	0.00	1.00	C	7.00	7.00	1.00	A	9.00	9.00								
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																			
7094105	KUMAR AMAR SANJAY KIRAN 2023016402245094 (3)Andheri-(532)	58651 48+	8+	56		FEC101 15+	15			58652 24+	7+	31		FEL101 17+	17		58655 25+	8+	33		FEL102 18+	18		18.00	--				
		3.00	D	6.00	18.00	1.00	C	7.00	7.00	2.00	P	4.00	8.00	0.50	C	7.00	3.50	2.00	P	4.00	8.00	0.50	B	8.00	4.00	--	--		
		58653 43+	11+	54		FEL103 18+	36			58654 1F	10+	11		FEL104 14+	25		FEL105 22+	22											
		3.00	D	6.00	18.00	1.00	B	8.00	8.00	3.00	F	0.00	0.00	1.00	D	6.00	6.00	1.00	P	4.00	4.00								
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																			

/ - FEMALE, # - 0.229A,@ - 0.5042A/O.5043A/O.5044A,* - 5045A, RR-RESERVED, --:Fails in Theory or Practical, RPV - PROVISIONAL Eligible, RCC - 0.5050, AB - ABSENT, F - UNSUCCESSFUL,P - SUCCESSFUL;
 NULL=NULL & VOID, G:Grade C*G:Gradepoints C:credits CP:credit points aCG:sum of product of credits & grades, Internal Marks are Provisional as per R.8668
 aC:sum of credit points GPA: aCG/aC
 MARKS : 0 to 39.99 40 to 44.99 45 to 49.99 50 to 59.99 60 to 69.99 70 to 74.99 75 to 79.99 80 to 100
 GRADE : F P E D C B A O
 GRADE POINT : 0.00 4.00 5.00 6.00 7.00 8.00 9.00 10.00



University of Mumbai, Mumbai

OFFICE REGISTER OF THE B.E. (with credits) - Regular - CBCS(Electronics and Telecommunication Engineering)- F.E. C-Scheme - Sem I [T01831] HELD IN Summer 2025 Result Declaration Date:11 Jul 2025

58651-Engineering Mathematics-I: ThUA 80/32 ThCA 20/8 100/0 | 58652-Engineering Physics-I: ThUA 60/24 ThCA 15/6 75/0 | 58655-Engineering Chemistry-I: ThUA 60/24 ThCA 15/6 75/0 |
 58653-Engineering Mechanics: ThUA 80/32 ThCA 20/8 100/0 | 58654-Basic Electrical Engineering: ThUA 80/32 ThCA 20/8 100/0 | FEL101-Engineering Physics-I (TW): TwCA 25/10 25/0 |
 FEL102-Engineering Chemistry-I (TW): TwCA 25/10 25/0 | FEL103-Engineering Mechanics (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 | FEL104-Basic Electrical Engineering (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 |
 FEL105-Basic Workshop Practice-I: TwCA 50/20 50/0 | FEC101-Engineering Mathematics-I Term Work: TwCA 25/10 25/0 |

SEAT NO.	NAME OF THE CANDIDATE Mother Name PRN.	PAPER 1				PAPER 2				PAPER 3				PAPER 4				PAPER 5				PAPER 6				RESULT CR C*G SGPI GRADE			
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G				
CENTRE-COLLEGE		PAPER 7				PAPER 8				PAPER 9				PAPER 10				PAPER 11											
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G				
7094106	LOHAR ROHIT VIMAL KUMAR NARMADA 2023016402244493 (3)Andheri-(532)	58651 56+	8+	64		FEC101 16+	16		58652 9F	7+	16		FEL101 17+	17		58655 24E	6+	30		FEL102 20+	20		18.00	--					
		3.00	C	7.00	21.00	1.00	C	7.00	7.00	2.00	F	0.00	0.00	0.50	C	7.00	3.50	2.00	P	4.00	8.00	0.50	O	10.00	5.00	-- --			
		58653 32E	8+	40		FEL103 16+	32		58654 40E	9+	49		FEL104 16+	34		FEL105 22+	22												
		3.00	P	4.00	12.00	1.00	C	7.00	7.00	3.00	E	5.00	15.00	1.00	C	7.00	7.00	1.00	P	4.00	4.00								
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																			
7094107	/ MADANE PRATIKSHA BALU ANITA 2022016402263686 (3)Andheri-(532)	58651 35	10+	45		FEC101 20+	20		58652 27+	12+	39		FEL101 22+	22		58655 25+	11+	36		FEL102 22+	22		18.00	117.00					
		3.00	E	5.00	15.00	1.00	O	10.00	10.00	2.00	D	6.00	12.00	0.50	O	10.00	5.00	2.00	E	5.00	10.00	0.50	O	10.00	5.00	6.50 --			
		58653 32+	10+	42		FEL103 21+	41		58654 47+	12+	59		FEL104 22+	42		FEL105 41+	41												
		3.00	P	4.00	12.00	1.00	O	10.00	10.00	3.00	D	6.00	18.00	1.00	O	10.00	10.00	1.00	O	10.00	10.00								
		Total Credit 18.00				FINAL CGPI 6.50				FINAL GRADE --																			
7094108	/ MISHRA KHUSHI ARUN SHASHI 2023016402249633 (3)Andheri-(532)	58651 32+	8+	40		FEC101 19+	19		58652 26	10+	36		FEL101 18+	18		58655 28+	9+	37		FEL102 21+	21		18.00	106.00					
		3.00	P	4.00	12.00	1.00	A	9.00	9.00	2.00	E	5.00	10.00	0.50	B	8.00	4.00	2.00	E	5.00	10.00	0.50	O	10.00	5.00	5.89 --			
		58653 33	8+	41		FEL103 17+	35		58654 47+	12+	59		FEL104 21+	39		FEL105 39+	39												
		3.00	P	4.00	12.00	1.00	B	8.00	8.00	3.00	D	6.00	18.00	1.00	A	9.00	9.00	1.00	A	9.00	9.00								
		Total Credit 18.00				FINAL CGPI 5.89				FINAL GRADE --																			

/ - FEMALE, # - 0.229A,@ - 0.5042A/O.5043A/O.5044A,* - 5045A, RR-RESERVED, --:Fails in Theory or Practical, RPV - PROVISIONAL Eligible, RCC - 0.5050, AB - ABSENT, F - UNSUCCESSFUL,P - SUCCESSFUL;
 NULL=NULL & VOID, G:Grade C*G:Gradepoints C:credits CP:credit points aCG:sum of product of credits & grades, Internal Marks are Provisional as per R.8668
 aC:sum of credit points GPA: aCG/aC
 MARKS : 0 to 39.99 40 to 44.99 45 to 49.99 50 to 59.99 60 to 69.99 70 to 74.99 75 to 79.99 80 to 100
 GRADE : F P E D C B A O
 GRADE POINT : 0.00 4.00 5.00 6.00 7.00 8.00 9.00 10.00



University of Mumbai, Mumbai

OFFICE REGISTER OF THE B.E. (with credits) - Regular - CBCS(Electronics and Telecommunication Engineering)- F.E. C-Scheme - Sem I [T01831] HELD IN Summer 2025 Result Declaration Date:11 Jul 2025

58651-Engineering Mathematics-I: ThUA 80/32 ThCA 20/8 100/0 | 58652-Engineering Physics-I: ThUA 60/24 ThCA 15/6 75/0 | 58655-Engineering Chemistry-I: ThUA 60/24 ThCA 15/6 75/0 |
 58653-Engineering Mechanics: ThUA 80/32 ThCA 20/8 100/0 | 58654-Basic Electrical Engineering: ThUA 80/32 ThCA 20/8 100/0 | FEL101-Engineering Physics-I (TW): TwCA 25/10 25/0 |
 FEL102-Engineering Chemistry-I (TW): TwCA 25/10 25/0 | FEL103-Engineering Mechanics (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 | FEL104-Basic Electrical Engineering (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 |
 FEL105-Basic Workshop Practice-I: TwCA 50/20 50/0 | FEC101-Engineering Mathematics-I Term Work: TwCA 25/10 25/0 |

SEAT NO.	NAME OF THE CANDIDATE Mother Name PRN.	PAPER 1				PAPER 2				PAPER 3				PAPER 4				PAPER 5				PAPER 6				RESULT CR C*G SGPI GRADE
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	
CENTRE-COLLEGE		PAPER 7				PAPER 8				PAPER 9				PAPER 10				PAPER 11								
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	
7094109	/ NATE RUCHI MADHUKAR MAYURI 2023016402240495 (3)Andheri-(532)	58651 11F	8+	19		FEC101 17+	17			58652 24+	9+	33		FEL101 17+	17		58655 24E	7+	31		FEL102 18+	18			Unsuccessful 18.00 --	
		3.00	F	0.00	0.00	1.00	C	7.00	7.00	2.00	P	4.00	8.00	0.50	C	7.00	3.50	2.00	P	4.00	8.00	0.50	B	8.00	4.00	-- --
		58653 32+	11+	43		FEL103 19+	39			58654 44+	14+	58		FEL104 19+	37		FEL105 38+	38								
		3.00	P	4.00	12.00	1.00	A	9.00	9.00	3.00	D	6.00	18.00	1.00	B	8.00	8.00	1.00	A	9.00	9.00					
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																
7094110	PACHPOLE VIVEK GAJANAN SHUBHANGI 2023016402244721 (3)Andheri-(532)	58651 39+	8+	47		FEC101 16+	16			58652 29	6+	35		FEL101 14+	14		58655 24+	8+	32		FEL102 21+	21			Successful 18.00 95.00	
		3.00	E	5.00	15.00	1.00	C	7.00	7.00	2.00	E	5.00	10.00	0.50	D	6.00	3.00	2.00	P	4.00	8.00	0.50	O	10.00	5.00	5.28 --
		58653 32	8+	40		FEL103 12+	24			58654 36+	12+	48		FEL104 14+	26		FEL105 38+	38								
		3.00	P	4.00	12.00	1.00	E	5.00	5.00	3.00	E	5.00	15.00	1.00	D	6.00	6.00	1.00	A	9.00	9.00					
		Total Credit 18.00				FINAL CGPI 5.28				FINAL GRADE --																
7094111	/ PANCHAL MANALI DATTA ARCHANA 2023016402239035 (3)Andheri-(532)	58651 32+	8+	40		FEC101 19+	19			58652 24+	12+	36		FEL101 20+	20		58655 25+	12+	37		FEL102 18+	18			Successful 18.00 110.00	
		3.00	P	4.00	12.00	1.00	A	9.00	9.00	2.00	E	5.00	10.00	0.50	O	10.00	5.00	2.00	E	5.00	10.00	0.50	B	8.00	4.00	6.11 --
		58653 32+	8+	40		FEL103 21+	42			58654 36	16+	52		FEL104 21+	42		FEL105 41+	41								
		3.00	P	4.00	12.00	1.00	O	10.00	10.00	3.00	D	6.00	18.00	1.00	O	10.00	10.00	1.00	O	10.00	10.00					
		Total Credit 18.00				FINAL CGPI 6.11				FINAL GRADE --																

/ - FEMALE, # - 0.229A,@ - 0.5042A/O.5043A/O.5044A,* - 5045A, RR-RESERVED, --:Fails in Theory or Practical, RPV - PROVISIONAL Eligible, RCC - 0.5050, AB - ABSENT, F - UNSUCCESSFUL,P - SUCCESSFUL;
 NULL=NULL & VOID, G:Grade C*G:Gradepoints C:credits CP:credit points aCG:sum of product of credits & grades, Internal Marks are Provisional as per R.8668
 aC:sum of credit points GPA: aCG/aC
 MARKS : 0 to 39.99 40 to 44.99 45 to 49.99 50 to 59.99 60 to 69.99 70 to 74.99 75 to 79.99 80 to 100
 GRADE : F P E D C B A O
 GRADE POINT : 0.00 4.00 5.00 6.00 7.00 8.00 9.00 10.00



University of Mumbai, Mumbai

OFFICE REGISTER OF THE B.E. (with credits) - Regular - CBCS(Electronics and Telecommunication Engineering)- F.E. C-Scheme - Sem I [1T01831] HELD IN Summer 2025 Result Declaration Date:11 Jul 2025

58651-Engineering Mathematics-I: ThUA 80/32 ThCA 20/8 100/0 | 58652-Engineering Physics-I: ThUA 60/24 ThCA 15/6 75/0 | 58655-Engineering Chemistry-I: ThUA 60/24 ThCA 15/6 75/0 |
 58653-Engineering Mechanics: ThUA 80/32 ThCA 20/8 100/0 | 58654-Basic Electrical Engineering: ThUA 80/32 ThCA 20/8 100/0 | FEL101-Engineering Physics-I (TW): TwCA 25/10 25/0 |
 FEL102-Engineering Chemistry-I (TW): TwCA 25/10 25/0 | FEL103-Engineering Mechanics (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 | FEL104-Basic Electrical Engineering (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 |
 FEL105-Basic Workshop Practice-I: TwCA 50/20 50/0 | FEC101-Engineering Mathematics-I Term Work: TwCA 25/10 25/0 |

SEAT NO.	NAME OF THE CANDIDATE Mother Name PRN.	PAPER 1				PAPER 2				PAPER 3				PAPER 4				PAPER 5				PAPER 6				RESULT CR C*G SGPI GRADE
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	
CENTRE-COLLEGE		PAPER 7				PAPER 8				PAPER 9				PAPER 10				PAPER 11								
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	
7094112	/ PARDESHI KANISHKA NANDKISHOR - SULBHA 2023016402244462 (3)Andheri-(532)	58651 36+	8+	44		FEC101 19+	19			58652 24+	10+	34		FEL101 16+	16		58655 24+	8+	32		FEL102 18+	18		Unsuccessful 18.00 --		
		3.00	P	4.00	12.00	1.00	A	9.00	9.00	2.00	E	5.00	10.00	0.50	C	7.00	3.50	2.00	P	4.00	8.00	0.50	B	8.00	4.00	-- --
		58653 28F	9+	37		FEL103 18+	36			58654 32+	8+	40		FEL104 20+	38		FEL105 41+	41								
		3.00	F	0.00	0.00	1.00	B	8.00	8.00	3.00	P	4.00	12.00	1.00	A	9.00	9.00	1.00	O	10.00	10.00					
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																
7094113	PATEL DARSHAN KAMLESH RASHMI 2023016402239097 (3)Andheri-(532)	58651 2F	8+	10		FEC101 16+	16			58652 30E	9+	39		FEL101 22+	22		58655 28+	9+	37		FEL102 23+	23		Unsuccessful 18.00 --		
		3.00	F	0.00	0.00	1.00	C	7.00	7.00	2.00	D	6.00	12.00	0.50	O	10.00	5.00	2.00	E	5.00	10.00	0.50	O	10.00	5.00	-- --
		58653 32E	10+	42		FEL103 18+	36			58654 33+	8+	41		FEL104 20+	39		FEL105 39+	39								
		3.00	P	4.00	12.00	1.00	B	8.00	8.00	3.00	P	4.00	12.00	1.00	A	9.00	9.00	1.00	A	9.00	9.00					
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																
7094114	/ PATHAK KHUSHI VIJAYPRAKASH SAROJ 2022016402262482 (3)Andheri-(532)	58651 35+	13+	48		FEC101 20+	20			58652 24+	10+	34		FEL101 22+	22		58655 33+	9+	42		FEL102 22+	22		Unsuccessful 18.00 --		
		3.00	E	5.00	15.00	1.00	O	10.00	10.00	2.00	E	5.00	10.00	0.50	O	10.00	5.00	2.00	D	6.00	12.00	0.50	O	10.00	5.00	-- --
		58653 18F	17+	35		FEL103 23+	47			58654 32+	13+	45		FEL104 23+	45		FEL105 41+	41								
		3.00	F	0.00	0.00	1.00	O	10.00	10.00	3.00	E	5.00	15.00	1.00	O	10.00	10.00	1.00	O	10.00	10.00					
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																

/ - FEMALE, # - 0.229A,@ - 0.5042A/O.5043A/O.5044A,* - 5045A, RR-RESERVED, --:Fails in Theory or Practical, RPV - PROVISIONAL Eligible, RCC - 0.5050, AB - ABSENT, F - UNSUCCESSFUL,P - SUCCESSFUL;
 NULL=NULL & VOID, G:Grade C*G:Gradepoints C:credits CP:credit points aCG:sum of product of credits & grades, Internal Marks are Provisional as per R.8668
 aC:sum of credit points GPA: aCG/aC
 MARKS : 0 to 39.99 40 to 44.99 45 to 49.99 50 to 59.99 60 to 69.99 70 to 74.99 75 to 79.99 80 to 100
 GRADE : F P E D C B A O
 GRADE POINT : 0.00 4.00 5.00 6.00 7.00 8.00 9.00 10.00



University of Mumbai, Mumbai

OFFICE REGISTER OF THE B.E. (with credits) - Regular - CBCS(Electronics and Telecommunication Engineering)- F.E. C-Scheme - Sem I [1T01831] HELD IN Summer 2025 Result Declaration Date:11 Jul 2025

58651-Engineering Mathematics-I: ThUA 80/32 ThCA 20/8 100/0 | 58652-Engineering Physics-I: ThUA 60/24 ThCA 15/6 75/0 | 58655-Engineering Chemistry-I: ThUA 60/24 ThCA 15/6 75/0 |
 58653-Engineering Mechanics: ThUA 80/32 ThCA 20/8 100/0 | 58654-Basic Electrical Engineering: ThUA 80/32 ThCA 20/8 100/0 | FEL101-Engineering Physics-I (TW): TwCA 25/10 25/0 |
 FEL102-Engineering Chemistry-I (TW): TwCA 25/10 25/0 | FEL103-Engineering Mechanics (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 | FEL104-Basic Electrical Engineering (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 |
 FEL105-Basic Workshop Practice-I: TwCA 50/20 50/0 | FEC101-Engineering Mathematics-I Term Work: TwCA 25/10 25/0 |

SEAT NO.	NAME OF THE CANDIDATE Mother Name PRN.	PAPER 1				PAPER 2				PAPER 3				PAPER 4				PAPER 5				PAPER 6				RESULT CR C*G SGPI GRADE
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	
CENTRE-COLLEGE		PAPER 7				PAPER 8				PAPER 9				PAPER 10				PAPER 11								
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	
7094115	PRIYANSHU PATHAK PRIYANKA 2023016402241637 (3)Andheri-(532)	58651 32+	9+	41		FEC101 1--	18+	18		58652 24+	9+	33		FEL101 1--	17+	17	58655 33+	13+	46		FEL102 1--	18+	18		Successful 18.00 109.50 6.08 --	
		3.00	P	4.00	12.00	1.00	B	8.00	8.00	2.00	P	4.00	8.00	0.50	C	7.00	3.50	2.00	C	7.00	14.00	0.50	B	8.00	4.00	
		58653 42	12+	54		FEL103 1--	21+	42		58654 32+	16+	48		FEL104 1--	18+	35	FEL105 1--	39+	39							
		3.00	D	6.00	18.00	1.00	O	10.00	10.00	3.00	E	5.00	15.00	1.00	B	8.00	8.00	1.00	A	9.00	9.00					
		Total Credit 18.00				FINAL CGPI 6.08				FINAL GRADE --																
7094116	/ PATIL CHETNA SHARAD RITA 2022016402255571 (3)Andheri-(532)	58651 33+	11+	44		FEC101 1--	19+	19		58652 31+	11+	42		FEL101 1--	22+	22	58655 24+	9+	33		FEL102 1--	22+	22		Unsuccessful 18.00 -- -- --	
		3.00	P	4.00	12.00	1.00	A	9.00	9.00	2.00	D	6.00	12.00	0.50	O	10.00	5.00	2.00	P	4.00	8.00	0.50	O	10.00	5.00	
		58653 20F	15+	35		FEL103 1--	23+	47		58654 26F	13+	39		FEL104 1--	22+	44	FEL105 1--	39+	39							
		3.00	F	0.00	0.00	1.00	O	10.00	10.00	3.00	F	0.00	0.00	1.00	O	10.00	10.00	1.00	A	9.00	9.00					
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																
7094117	PATIL DHYANESH ASHISH MANISHA PATIL 2022016402265147 (3)Andheri-(532)	58651 26F	8+	34		FEC101 1--	16+	16		58652 24+	6+	30		FEL101 1--	20+	20	58655 24+	6+	30		FEL102 1--	21+	21		Unsuccessful 18.00 -- -- --	
		3.00	F	0.00	0.00	1.00	C	7.00	7.00	2.00	P	4.00	8.00	0.50	O	10.00	5.00	2.00	P	4.00	8.00	0.50	O	10.00	5.00	
		58653 22F	10+	32		FEL103 1--	23+	43		58654 25F	8+	33		FEL104 1--	20+	39	FEL105 1--	39+	39							
		3.00	F	0.00	0.00	1.00	O	10.00	10.00	3.00	F	0.00	0.00	1.00	A	9.00	9.00	1.00	A	9.00	9.00					
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																

/ - FEMALE, # - 0.229A,@ - 0.5042A/O.5043A/O.5044A,* - 5045A, RR-RESERVED, --:Fails in Theory or Practical, RPV - PROVISIONAL Eligible, RCC - 0.5050, AB - ABSENT, F - UNSUCCESSFUL,P - SUCCESSFUL;
 NULL=NULL & VOID, G:Grade C*G:Gradepoints C:credits CP:credit points aCG:sum of product of credits & grades, Internal Marks are Provisional as per R.8668
 aC:sum of credit points GPA: aCG/aC
 MARKS : 0 to 39.99 40 to 44.99 45 to 49.99 50 to 59.99 60 to 69.99 70 to 74.99 75 to 79.99 80 to 100
 GRADE : F P E D C B A O
 GRADE POINT : 0.00 4.00 5.00 6.00 7.00 8.00 9.00 10.00



University of Mumbai, Mumbai

OFFICE REGISTER OF THE B.E. (with credits) - Regular - CBCS(Electronics and Telecommunication Engineering)- F.E. C-Scheme - Sem I [1T01831] HELD IN Summer 2025 Result Declaration Date:11 Jul 2025

58651-Engineering Mathematics-I: ThUA 80/32 ThCA 20/8 100/0 | 58652-Engineering Physics-I: ThUA 60/24 ThCA 15/6 75/0 | 58655-Engineering Chemistry-I: ThUA 60/24 ThCA 15/6 75/0 |
 58653-Engineering Mechanics: ThUA 80/32 ThCA 20/8 100/0 | 58654-Basic Electrical Engineering: ThUA 80/32 ThCA 20/8 100/0 | FEL101-Engineering Physics-I (TW): TwCA 25/10 25/0 |
 FEL102-Engineering Chemistry-I (TW): TwCA 25/10 25/0 | FEL103-Engineering Mechanics (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 | FEL104-Basic Electrical Engineering (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 |
 FEL105-Basic Workshop Practice-I: TwCA 50/20 50/0 | FEC101-Engineering Mathematics-I Term Work: TwCA 25/10 25/0 |

SEAT NO.	NAME OF THE CANDIDATE Mother Name PRN.	PAPER 1				PAPER 2				PAPER 3				PAPER 4				PAPER 5				PAPER 6				RESULT CR C*G SGPI GRADE
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	
CENTRE-COLLEGE		PAPER 7				PAPER 8				PAPER 9				PAPER 10				PAPER 11								
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	
7094118	PATOLE DARSHAN BHARAT MANISHA 2023016402242366 (3)Andheri-(532)	58651 35+	8+	43		FEC101 16+	16		58652 24E	7+	31		FEL101 19+	19		58655 29+	8+	37		FEL102 21+	21				Unsuccessful 18.00 --	
		3.00	P	4.00	12.00	1.00	C	7.00	7.00	2.00	P	4.00	8.00	0.50	A	9.00	4.50	2.00	E	5.00	10.00	0.50	O	10.00	5.00	-- --
		58653 37E	10+	47		FEL103 19+	38		58654 19F	13+	32		FEL104 21+	37		FEL105 42+	42									
		3.00	E	5.00	15.00	1.00	A	9.00	9.00	3.00	F	0.00	0.00	1.00	B	8.00	8.00	1.00	O	10.00	10.00					
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																
7094119	PATTEBAHADUR HARSH RAJANAND SONALI 2023016402244357 (3)Andheri-(532)	58651 32+	8+	40		FEC101 18+	18		58652 24+	9+	33		FEL101 19+	19		58655 24+	8+	32		FEL102 18+	18				Successful 18.00 107.50	
		3.00	P	4.00	12.00	1.00	B	8.00	8.00	2.00	P	4.00	8.00	0.50	A	9.00	4.50	2.00	P	4.00	8.00	0.50	B	8.00	4.00	5.97 --
		58653 41	12+	53		FEL103 20+	40		58654 32+	14+	46		FEL104 22+	41		FEL105 42+	42									
		3.00	D	6.00	18.00	1.00	O	10.00	10.00	3.00	E	5.00	15.00	1.00	O	10.00	10.00	1.00	O	10.00	10.00					
		Total Credit 18.00				FINAL CGPI 5.97				FINAL GRADE --																
7094120	PAWAR DAKSHAL ARUN SARIKA 2023016402240247 (3)Andheri-(532)	58651 32+	8+	40		FEC101 18+	18		58652 34	10+	44		FEL101 20+	20		58655 35+	12+	47		FEL102 18+	18				Successful 18.00 124.00	
		3.00	P	4.00	12.00	1.00	B	8.00	8.00	2.00	D	6.00	12.00	0.50	O	10.00	5.00	2.00	C	7.00	14.00	0.50	B	8.00	4.00	6.89 --
		58653 32+	14+	46		FEL103 22+	44		58654 59+	15+	74		FEL104 23+	45		FEL105 41+	41									
		3.00	E	5.00	15.00	1.00	O	10.00	10.00	3.00	B	8.00	24.00	1.00	O	10.00	10.00	1.00	O	10.00	10.00					
		Total Credit 18.00				FINAL CGPI 6.89				FINAL GRADE --																

/ - FEMALE, # - 0.229A,@ - 0.5042A/O.5043A/O.5044A,* - 5045A, RR-RESERVED, --:Fails in Theory or Practical, RPV - PROVISIONAL Eligible, RCC - 0.5050, AB - ABSENT, F - UNSUCCESSFUL,P - SUCCESSFUL;
 NULL=NULL & VOID, G:Grade C*G:Gradepoints C:credits CP:credit points aCG:sum of product of credits & grades, Internal Marks are Provisional as per R.8668
 aC:sum of credit points GPA: aCG/aC
 MARKS : 0 to 39.99 40 to 44.99 45 to 49.99 50 to 59.99 60 to 69.99 70 to 74.99 75 to 79.99 80 to 100
 GRADE : F P E D C B A O
 GRADE POINT : 0.00 4.00 5.00 6.00 7.00 8.00 9.00 10.00



University of Mumbai, Mumbai

OFFICE REGISTER OF THE B.E. (with credits) - Regular - CBCS(Electronics and Telecommunication Engineering)- F.E. C-Scheme - Sem I [1T01831] HELD IN Summer 2025 Result Declaration Date:11 Jul 2025

58651-Engineering Mathematics-I: ThUA 80/32 ThCA 20/8 100/0 | 58652-Engineering Physics-I: ThUA 60/24 ThCA 15/6 75/0 | 58655-Engineering Chemistry-I: ThUA 60/24 ThCA 15/6 75/0 |
 58653-Engineering Mechanics: ThUA 80/32 ThCA 20/8 100/0 | 58654-Basic Electrical Engineering: ThUA 80/32 ThCA 20/8 100/0 | FEL101-Engineering Physics-I (TW): TwCA 25/10 25/0 |
 FEL102-Engineering Chemistry-I (TW): TwCA 25/10 25/0 | FEL103-Engineering Mechanics (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 | FEL104-Basic Electrical Engineering (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 |
 FEL105-Basic Workshop Practice-I: TwCA 50/20 50/0 | FEC101-Engineering Mathematics-I Term Work: TwCA 25/10 25/0 |

SEAT NO.	NAME OF THE CANDIDATE Mother Name PRN.	PAPER 1				PAPER 2				PAPER 3				PAPER 4				PAPER 5				PAPER 6				RESULT CR C*G SGPI GRADE			
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G				
CENTRE-COLLEGE		PAPER 7				PAPER 8				PAPER 9				PAPER 10				PAPER 11											
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G				
7094121	POTDAR VEDANT PRASAD PRADNYA 2023016402249602 (3)Andheri-(532)	58651 40+	8+	48		FEC101 19+	19		58652 24+	9+	33		FEL101 18+	18		58655 26+	8+	34		FEL102 18+	18		Successful 18.00 106.00						
		3.00	E	5.00	15.00	1.00	A	9.00	9.00	2.00	P	4.00	8.00	0.50	B	8.00	4.00	2.00	E	5.00	10.00	0.50	B	8.00	4.00	5.89 --			
		58653 38	9+	47		FEL103 16+	32		58654 36+	16+	52		FEL104 19+	34		FEL105 39+	39												
		3.00	E	5.00	15.00	1.00	C	7.00	7.00	3.00	D	6.00	18.00	1.00	C	7.00	7.00	1.00	A	9.00	9.00								
		Total Credit 18.00				FINAL CGPI 5.89				FINAL GRADE --																			
7094122	SALVE KAUSTUBH JITENDRA SHUBHANGI SALVE 2022016402262934 (3)Andheri-(532)	58651 32+	9+	41		FEC101 20+	20		58652 24+	11+	35		FEL101 22+	22		58655 24+	9+	33		FEL102 22+	22		Unsuccessful 18.00 --						
		3.00	P	4.00	12.00	1.00	O	10.00	10.00	2.00	E	5.00	10.00	0.50	O	10.00	5.00	2.00	P	4.00	8.00	0.50	O	10.00	5.00	-- --			
		58653 28F	13+	41		FEL103 23+	45		58654 32+	9+	41		FEL104 22+	44		FEL105 41+	41												
		3.00	F	0.00	0.00	1.00	O	10.00	10.00	3.00	P	4.00	12.00	1.00	O	10.00	10.00	1.00	O	10.00	10.00								
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																			
7094123	SALVI VIPUL SUNIL SAURABHI 2023016402240487 (3)Andheri-(532)	58651 12F	8+	20		FEC101 16+	16		58652 15F	9+	24		FEL101 20+	20		58655 24+	10+	34		FEL102 22+	22		Unsuccessful 18.00 --						
		3.00	F	0.00	0.00	1.00	C	7.00	7.00	2.00	F	0.00	0.00	0.50	O	10.00	5.00	2.00	E	5.00	10.00	0.50	O	10.00	5.00	-- --			
		58653 0F	9+	9		FEL103 18+	36		58654 17F	8+	25		FEL104 21+	39		FEL105 36+	36												
		3.00	F	0.00	0.00	1.00	B	8.00	8.00	3.00	F	0.00	0.00	1.00	A	9.00	9.00	1.00	B	8.00	8.00								
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																			

/ - FEMALE, # - 0.229A,@ - 0.5042A/O.5043A/O.5044A,* - 5045A, RR-RESERVED, --:Fails in Theory or Practical, RPV - PROVISIONAL Eligible, RCC - 0.5050, AB - ABSENT, F - UNSUCCESSFUL,P - SUCCESSFUL;
 NULL=NULL & VOID, G:Grade C*G:Gradepoints C:credits CP:credit points aCG:sum of product of credits & grades, Internal Marks are Provisional as per R.8668
 aC:sum of credit points GPA: aCG/aC
 MARKS : 0 to 39.99 40 to 44.99 45 to 49.99 50 to 59.99 60 to 69.99 70 to 74.99 75 to 79.99 80 to 100
 GRADE : F P E D C B A O
 GRADE POINT : 0.00 4.00 5.00 6.00 7.00 8.00 9.00 10.00



University of Mumbai, Mumbai

OFFICE REGISTER OF THE B.E. (with credits) - Regular - CBCS(Electronics and Telecommunication Engineering)- F.E. C-Scheme - Sem I [1T01831] HELD IN Summer 2025 Result Declaration Date:11 Jul 2025

58651-Engineering Mathematics-I: ThUA 80/32 ThCA 20/8 100/0 | 58652-Engineering Physics-I: ThUA 60/24 ThCA 15/6 75/0 | 58655-Engineering Chemistry-I: ThUA 60/24 ThCA 15/6 75/0 |
 58653-Engineering Mechanics: ThUA 80/32 ThCA 20/8 100/0 | 58654-Basic Electrical Engineering: ThUA 80/32 ThCA 20/8 100/0 | FEL101-Engineering Physics-I (TW): TwCA 25/10 25/0 |
 FEL102-Engineering Chemistry-I (TW): TwCA 25/10 25/0 | FEL103-Engineering Mechanics (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 | FEL104-Basic Electrical Engineering (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 |
 FEL105-Basic Workshop Practice-I: TwCA 50/20 50/0 | FEC101-Engineering Mathematics-I Term Work: TwCA 25/10 25/0 |

SEAT NO.	NAME OF THE CANDIDATE Mother Name PRN.	PAPER 1				PAPER 2				PAPER 3				PAPER 4				PAPER 5				PAPER 6				RESULT CR C*G SGPI GRADE			
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G				
CENTRE-COLLEGE		PAPER 7				PAPER 8				PAPER 9				PAPER 10				PAPER 11											
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G				
7094124	SALVI YASH AVINASH ANUJA 2022016402262296 (3)Andheri-(532)	58651 35+	8+	43		FEC101 16+	16		58652 24+	8+	32		FEL101 18+	18		58655 24+	8+	32		FEL102 18+	18		Successful 18.00 101.00						
		3.00	P	4.00 12.00	1.00	C	7.00 7.00	2.00	P	4.00 8.00	0.50	B	8.00 4.00	2.00	P	4.00 8.00	0.50	B	8.00 4.00	5.61	--								
		58653 32+	18+	50		FEL103 23+	47		58654 35	9+	44		FEL104 21+	39		FEL105 39+	39												
		3.00	D	6.00 18.00	1.00	O	10.00 10.00	3.00	P	4.00 12.00	1.00	A	9.00 9.00	1.00	A	9.00 9.00													
		Total Credit 18.00				FINAL CGPI 5.61				FINAL GRADE --																			
7094125	/ SATPUTE ARYA DHIRAJ MADHURI 2023016402241927 (3)Andheri-(532)	58651 39+	8+	47		FEC101 15+	15		58652 42	7+	49		FEL101 16+	16		58655 24+	10+	34		FEL102 19+	19		Successful 18.00 101.00						
		3.00	E	5.00 15.00	1.00	C	7.00 7.00	2.00	C	7.00 14.00	0.50	C	7.00 3.50	2.00	E	5.00 10.00	0.50	A	9.00 4.50	5.61	--								
		58653 34+	10+	44		FEL103 18+	36		58654 33+	10+	43		FEL104 15+	29		FEL105 39+	39												
		3.00	P	4.00 12.00	1.00	B	8.00 8.00	3.00	P	4.00 12.00	1.00	D	6.00 6.00	1.00	A	9.00 9.00													
		Total Credit 18.00				FINAL CGPI 5.61				FINAL GRADE --																			
7094126	SHARMA ARNAV MANOJ NAMRATA 2023016402242447 (3)Andheri-(532)	58651 32+	8+	40		FEC101 18+	18		58652 16F	7+	23		FEL101 16+	16		58655 30+	6+	36		FEL102 18+	18		Unsuccessful 18.00 --						
		3.00	P	4.00 12.00	1.00	B	8.00 8.00	2.00	F	0.00 0.00	0.50	C	7.00 3.50	2.00	E	5.00 10.00	0.50	B	8.00 4.00	--	--								
		58653 8F	10+	18		FEL103 16+	32		58654 22F	12+	34		FEL104 21+	39		FEL105 38+	38												
		3.00	F	0.00 0.00	1.00	C	7.00 7.00	3.00	F	0.00 0.00	1.00	A	9.00 9.00	1.00	A	9.00 9.00													
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																			

/ - FEMALE, # - 0.229A,@ - 0.5042A/O.5043A/O.5044A,* - 5045A, RR-RESERVED, --:Fails in Theory or Practical, RPV - PROVISIONAL Eligible, RCC - 0.5050, AB - ABSENT, F - UNSUCCESSFUL,P - SUCCESSFUL;
 NULL=NULL & VOID, G:Grade C*G:Gradepoints C:credits CP:credit points aCG:sum of product of credits & grades, Internal Marks are Provisional as per R.8668
 aC:sum of credit points GPA: aCG/aC
 MARKS : 0 to 39.99 40 to 44.99 45 to 49.99 50 to 59.99 60 to 69.99 70 to 74.99 75 to 79.99 80 to 100
 GRADE : F P E D C B A O
 GRADE POINT : 0.00 4.00 5.00 6.00 7.00 8.00 9.00 10.00



University of Mumbai, Mumbai

OFFICE REGISTER OF THE B.E. (with credits) - Regular - CBCS(Electronics and Telecommunication Engineering)- F.E. C-Scheme - Sem I [1T01831] HELD IN Summer 2025 Result Declaration Date:11 Jul 2025

58651-Engineering Mathematics-I: ThUA 80/32 ThCA 20/8 100/0 | 58652-Engineering Physics-I: ThUA 60/24 ThCA 15/6 75/0 | 58655-Engineering Chemistry-I: ThUA 60/24 ThCA 15/6 75/0 |
 58653-Engineering Mechanics: ThUA 80/32 ThCA 20/8 100/0 | 58654-Basic Electrical Engineering: ThUA 80/32 ThCA 20/8 100/0 | FEL101-Engineering Physics-I (TW): TwCA 25/10 25/0 |
 FEL102-Engineering Chemistry-I (TW): TwCA 25/10 25/0 | FEL103-Engineering Mechanics (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 | FEL104-Basic Electrical Engineering (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 |
 FEL105-Basic Workshop Practice-I: TwCA 50/20 50/0 | FEC101-Engineering Mathematics-I Term Work: TwCA 25/10 25/0 |

SEAT NO.	NAME OF THE CANDIDATE Mother Name PRN.	PAPER 1				PAPER 2				PAPER 3				PAPER 4				PAPER 5				PAPER 6				RESULT CR C*G SGPI GRADE	
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G		
CENTRE-COLLEGE		PAPER 7				PAPER 8				PAPER 9				PAPER 10				PAPER 11									
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G		
7094127	TIWARI ADARSH SANAD SHIKHA 2022016402264875 (3)Andheri-(532)	58651 32+	10+	42	100.00	FEC101 18+	18	24+	9+	33	100.00	FEL101 18+	18	34+	7+	41	100.00	FEL102 18+	18	18.00	101.00	Successful					
		3.00	P	4.00	12.00	1.00	B	8.00	8.00	2.00	P	4.00	8.00	0.50	B	8.00	4.00	2.00	D	6.00	12.00	0.50	B	8.00	4.00	5.61	--
		58653 35	9+	44	100.00	FEL103 23+	43	33+	8+	41	100.00	FEL104 21+	42	100.00	FEL105 39+	39	100.00										
		3.00	P	4.00	12.00	1.00	O	10.00	10.00	3.00	P	4.00	12.00	1.00	O	10.00	10.00	1.00	A	9.00	9.00						
		Total Credit 18.00				FINAL CGPI 5.61				FINAL GRADE --																	
7094128	VELASKAR ATHARVA ULHAS KSHAMA 2023016402246221 (3)Andheri-(532)	58651 32+	8+	40	100.00	FEC101 17+	17	24+	7+	31	100.00	FEL101 19+	19	28+	8+	36	100.00	FEL102 19+	19	18.00	--	Unsuccessful					
		3.00	P	4.00	12.00	1.00	C	7.00	7.00	2.00	P	4.00	8.00	0.50	A	9.00	4.50	2.00	E	5.00	10.00	0.50	A	9.00	4.50	-- --	
		58653 32+	13+	45	100.00	FEL103 20+	40	4F	10+	14	100.00	FEL104 20+	37	100.00	FEL105 38+	38	100.00										
		3.00	E	5.00	15.00	1.00	O	10.00	10.00	3.00	F	0.00	0.00	1.00	B	8.00	8.00	1.00	A	9.00	9.00						
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																	
7094129	YADAV ABHISHEK ARVINDKUMAR ASHA 2023016402244407 (3)Andheri-(532)	58651 32+	8+	40	100.00	FEC101 18+	18	27+	10+	37	100.00	FEL101 17+	17	24+	10+	34	100.00	FEL102 19+	19	18.00	110.00	Successful					
		3.00	P	4.00	12.00	1.00	B	8.00	8.00	2.00	E	5.00	10.00	0.50	C	7.00	3.50	2.00	E	5.00	10.00	0.50	A	9.00	4.50	6.11	--
		58653 46	14+	60	100.00	FEL103 19+	38	32+	15+	47	100.00	FEL104 18+	31	100.00	FEL105 43+	43	100.00										
		3.00	C	7.00	21.00	1.00	A	9.00	9.00	3.00	E	5.00	15.00	1.00	C	7.00	7.00	1.00	O	10.00	10.00						
		Total Credit 18.00				FINAL CGPI 6.11				FINAL GRADE --																	

/ - FEMALE, # - 0.229A,@ - 0.5042A/O.5043A/O.5044A,* - 5045A, RR-RESERVED, --:Fails in Theory or Practical, RPV - PROVISIONAL Eligible, RCC - 0.5050, AB - ABSENT, F - UNSUCCESSFUL,P - SUCCESSFUL;
 NULL=NULL & VOID, G:Grade C*G:Gradepoints C:credits CP:credit points aCG:sum of product of credits & grades, Internal Marks are Provisional as per R.8668
 aC:sum of credit points GPA: aCG/aC
 MARKS : 0 to 39.99 40 to 44.99 45 to 49.99 50 to 59.99 60 to 69.99 70 to 74.99 75 to 79.99 80 to 100
 GRADE : F P E D C B A O
 GRADE POINT : 0.00 4.00 5.00 6.00 7.00 8.00 9.00 10.00



University of Mumbai, Mumbai

OFFICE REGISTER OF THE B.E. (with credits) - Regular - CBCS (Electronics and Telecommunication Engineering)- F.E. C-Scheme - Sem I [1T01831] HELD IN Summer 2025 Result Declaration Date: 11 Jul 2025

58651-Engineering Mathematics-I: ThUA 80/32 ThCA 20/8 100/0 | 58652-Engineering Physics-I: ThUA 60/24 ThCA 15/6 75/0 | 58655-Engineering Chemistry-I: ThUA 60/24 ThCA 15/6 75/0 |
 58653-Engineering Mechanics: ThUA 80/32 ThCA 20/8 100/0 | 58654-Basic Electrical Engineering: ThUA 80/32 ThCA 20/8 100/0 | FEL101-Engineering Physics-I (TW): TwCA 25/10 25/0 |
 FEL102-Engineering Chemistry-I (TW): TwCA 25/10 25/0 | FEL103-Engineering Mechanics (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 | FEL104-Basic Electrical Engineering (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 |
 FEL105-Basic Workshop Practice-I: TwCA 50/20 50/0 | FEC101-Engineering Mathematics-I Term Work: TwCA 25/10 25/0 |

SEAT NO.	NAME OF THE CANDIDATE Mother Name PRN.	PAPER 1				PAPER 2				PAPER 3				PAPER 4				PAPER 5				PAPER 6				RESULT CR C*G SGPI GRADE
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	
CENTRE-COLLEGE		PAPER 7				PAPER 8				PAPER 9				PAPER 10				PAPER 11								
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	
7094130	YADAV SHIVAM RAMCHANDRA LALITADEVI 2022016402265607 (3)Andheri-(532)	58651 13F	8+	21		FEC101 16+	16			58652 27+	6+	33		FEL101 19+	19		58655 24+	6+	30		FEL102 19+	19			18.00 --	
		3.00	F	0.00	0.00	1.00	C	7.00	7.00	2.00	P	4.00	8.00	0.50	A	9.00	4.50	2.00	P	4.00	8.00	0.50	A	9.00	4.50	-- --
		58653 9F	18+	27		FEL103 23+	47			58654 10F	8+	18		FEL104 17+	35		FEL105 40+	40								
		3.00	F	0.00	0.00	1.00	O	10.00	10.00	3.00	F	0.00	0.00	1.00	B	8.00	8.00	1.00	O	10.00	10.00					
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																
7094131	/ YADAV SUPRIYA PHOOLCHAND GEETA 2023016402242037 (3)Andheri-(532)	58651 AA	8+	8		FEC101 19+	19			58652 AA	9+	9		FEL101 19+	19		58655 24+	9+	33		FEL102 19+	19			18.00 --	
		3.00	F	0.00	0.00	1.00	A	9.00	9.00	2.00	F	0.00	0.00	0.50	A	9.00	4.50	2.00	P	4.00	8.00	0.50	A	9.00	4.50	-- --
		58653 AA	13+	13		FEL103 21+	42			58654 32+	15+	47		FEL104 20+	36		FEL105 42+	42								
		3.00	F	0.00	0.00	1.00	O	10.00	10.00	3.00	E	5.00	15.00	1.00	B	8.00	8.00	1.00	O	10.00	10.00					
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																
7094132	AMBAVANE KAUSTUBH KETAN KANCHAN 2023016401371943 (4)Ghatkopar-(688)	58651 7F	8+	15		FEC101 13+	13			58652 15F	6+	21		FEL101 10+	10		58655 31+	6+	37		FEL102 18+	18			18.00 --	
		3.00	F	0.00	0.00	1.00	D	6.00	6.00	2.00	F	0.00	0.00	0.50	P	4.00	2.00	2.00	E	5.00	10.00	0.50	B	8.00	4.00	-- --
		58653 14F	8+	22		FEL103 12+	24			58654 32+	11+	43		FEL104 16+	30		FEL105 38+	38								
		3.00	F	0.00	0.00	1.00	E	5.00	5.00	3.00	P	4.00	12.00	1.00	C	7.00	7.00	1.00	A	9.00	9.00					
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																

/ - FEMALE, # - 0.229A, @ - 0.5042A/O.5043A/O.5044A, * - 5045A, RR-RESERVED, --:Fails in Theory or Practical, RPV - PROVISIONAL Eligible, RCC - 0.5050, AB - ABSENT, F - UNSUCCESSFUL, P - SUCCESSFUL;
 NULL=NULL & VOID, G:Grade C*G:Gradepoints C:credits CP:credit points aCG:sum of product of credits & grades, Internal Marks are Provisional as per R.8668
 aC:sum of credit points GPA: aCG/aC
 MARKS : 0 to 39.99 40 to 44.99 45 to 49.99 50 to 59.99 60 to 69.99 70 to 74.99 75 to 79.99 80 to 100
 GRADE : F P E D C B A O
 GRADE POINT : 0.00 4.00 5.00 6.00 7.00 8.00 9.00 10.00



University of Mumbai, Mumbai

OFFICE REGISTER OF THE B.E. (with credits) - Regular - CBCS(Electronics and Telecommunication Engineering)- F.E. C-Scheme - Sem I [T01831] HELD IN Summer 2025 Result Declaration Date:11 Jul 2025

58651-Engineering Mathematics-I: ThUA 80/32 ThCA 20/8 100/0 | 58652-Engineering Physics-I: ThUA 60/24 ThCA 15/6 75/0 | 58655-Engineering Chemistry-I: ThUA 60/24 ThCA 15/6 75/0 |
 58653-Engineering Mechanics: ThUA 80/32 ThCA 20/8 100/0 | 58654-Basic Electrical Engineering: ThUA 80/32 ThCA 20/8 100/0 | FEL101-Engineering Physics-I (TW): TwCA 25/10 25/0 |
 FEL102-Engineering Chemistry-I (TW): TwCA 25/10 25/0 | FEL103-Engineering Mechanics (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 | FEL104-Basic Electrical Engineering (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 |
 FEL105-Basic Workshop Practice-I: TwCA 50/20 50/0 | FEC101-Engineering Mathematics-I Term Work: TwCA 25/10 25/0 |

SEAT NO.	NAME OF THE CANDIDATE Mother Name PRN.	PAPER 1				PAPER 2				PAPER 3				PAPER 4				PAPER 5				PAPER 6				RESULT CR C*G SGPI GRADE			
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G				
CENTRE-COLLEGE		PAPER 7				PAPER 8				PAPER 9				PAPER 10				PAPER 11											
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G
7094133	/ ANSARI NABEELA MUSTAK AHMED NASREEN 2022016402225997 (4)Ghatkopar-(688)	58651 54+ 3.00 C 58653 32 3.00 P 	13+ 7.00 9+ 4.00 	67 21.00 41 12.00 18.00 	FEC101 --- 1.00 O FEL103 --- 1.00 A 	21+ 10.00 18+ 9.00 9.00 18.00 	21 10.00 39 9.00 9.00 18.00 	58652 24+ 2.00 P 58654 32+ 3.00 P 	7+ 4.00 11+ 4.00 4.00 5.81 	31 8.00 43 12.00 12.00 5.81 	FEL101 --- 0.50 A FEL104 --- 1.00 C 	19+ 9.00 15+ 7.00 7.00 	19 4.50 33 7.00 7.00 	58655 24+ 2.00 P FEL105 --- 1.00 A 	8+ 8.00 38+ 9.00 9.00 	32 8.00 38 9.00 9.00 	FEL102 --- 0.50 B 	18+ 8.00 18+ 8.00 8.00 	18 4.00 38 9.00 9.00 	Successful 18.00 5.81 	104.50 -- 								
7094134	AUTI PRATHAM GANESH SUREKHA 2022016402226006 (4)Ghatkopar-(688)	58651 35+ 3.00 P 58653 32 3.00 P 	8+ 4.00 9+ 4.00 	43 12.00 41 12.00 18.00 	FEC101 --- 1.00 C FEL103 --- 1.00 B 	15+ 7.00 16+ 8.00 8.00 18.00 	15 7.00 35 8.00 8.00 18.00 	58652 24+ 2.00 P 58654 32+ 3.00 P 	6+ 8.00 9+ 4.00 4.00 5.19 	30 8.00 41 12.00 12.00 5.19 	FEL101 --- 0.50 A FEL104 --- 1.00 C 	19+ 9.00 13+ 7.00 7.00 	19 4.50 31 7.00 7.00 	58655 26+ 2.00 E FEL105 --- 1.00 B 	8+ 5.00 37+ 8.00 8.00 	36 10.00 37 8.00 8.00 	FEL102 --- 0.50 O 	20+ 10.00 20+ 5.00 5.00 	20 5.00 37 8.00 8.00 	Successful 18.00 5.19 	93.50 -- 								
7094135	DIAS MYRON VIJAY FLORY 2022016402226985 (4)Ghatkopar-(688)	58651 12F 3.00 F 58653 17F 3.00 F 	8+ 0.00 9+ 0.00 	20 0.00 26 0.00 	FEC101 --- 1.00 D FEL103 --- 1.00 D 	13+ 6.00 17+ 6.00 6.00 18.00 	13 6.00 29 6.00 6.00 18.00 	58652 24+ 2.00 P 58654 38+ 3.00 E 	6+ 8.00 11+ 5.00 15.00 	30 8.00 49 15.00 15.00 -- 	FEL101 --- 0.50 B FEL104 --- 1.00 B 	18+ 8.00 18+ 8.00 8.00 	18 4.00 37 8.00 8.00 	58655 26+ 2.00 E FEL105 --- 1.00 C 	8+ 5.00 33+ 7.00 7.00 	34 10.00 33 8.00 8.00 	FEL102 --- 0.50 C 	16+ 7.00 16+ 3.50 3.50 	16 3.50 33 7.00 7.00 	Unsuccessful 18.00 -- -- 	-- -- -- -- 								

/ - FEMALE, # - 0.229A,@ - 0.5042A/O.5043A/O.5044A, * - 5045A, RR-RESERVED, ---Fails in Theory or Practical, RPV - PROVISIONAL Eligible, RCC - 0.5050, AB - ABSENT, F - UNSUCCESSFUL,P - SUCCESSFUL;
 NULL=NULL & VOID, G:Grade C*G:Gradepoints C:credits CP:credit points aCG:sum of product of credits & grades, Internal Marks are Provisional as per R.8668
 aC:sum of credit points GPA: aCG/aC
 MARKS : 0 to 39.99 40 to 44.99 45 to 49.99 50 to 59.99 60 to 69.99 70 to 74.99 75 to 79.99 80 to 100
 GRADE : F P E D C B A O
 GRADE POINT : 0.00 4.00 5.00 6.00 7.00 8.00 9.00 10.00



University of Mumbai, Mumbai

OFFICE REGISTER OF THE B.E. (with credits) - Regular - CBCS(Electronics and Telecommunication Engineering)- F.E. C-Scheme - Sem I [1T01831] HELD IN Summer 2025 Result Declaration Date:11 Jul 2025

58651-Engineering Mathematics-I: ThUA 80/32 ThCA 20/8 100/0 | 58652-Engineering Physics-I: ThUA 60/24 ThCA 15/6 75/0 | 58655-Engineering Chemistry-I: ThUA 60/24 ThCA 15/6 75/0 |
 58653-Engineering Mechanics: ThUA 80/32 ThCA 20/8 100/0 | 58654-Basic Electrical Engineering: ThUA 80/32 ThCA 20/8 100/0 | FEL101-Engineering Physics-I (TW): TwCA 25/10 25/0 |
 FEL102-Engineering Chemistry-I (TW): TwCA 25/10 25/0 | FEL103-Engineering Mechanics (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 | FEL104-Basic Electrical Engineering (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 |
 FEL105-Basic Workshop Practice-I: TwCA 50/20 50/0 | FEC101-Engineering Mathematics-I Term Work: TwCA 25/10 25/0 |

SEAT NO.	NAME OF THE CANDIDATE Mother Name PRN.	PAPER 1				PAPER 2				PAPER 3				PAPER 4				PAPER 5				PAPER 6				RESULT CR C*G SGPI GRADE			
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G				
CENTRE-COLLEGE		PAPER 7				PAPER 8				PAPER 9				PAPER 10				PAPER 11											
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G
7094136	DUBEY ABHISHEK MANISHKUMAR MANJU 2022016402233776 (4)Ghatkopar-(688)	58651 37+	11E	48		FEC101 16+	16			58652 24+	7+	31		FEL101 18+	18		58655 24+	6+	30		FEL102 17+	17		18.00	--				
		3.00	E	5.00	15.00	1.00	C	7.00	7.00	2.00	P	4.00	8.00	0.50	B	8.00	4.00	2.00	P	4.00	8.00	0.50	C	7.00	3.50	-- --			
		58653 32E	9+	41		FEL103 12+	29			58654 18F	8+	26		FEL104 13+	25		FEL105 23+	23											
		3.00	P	4.00	12.00	1.00	D	6.00	6.00	3.00	F	0.00	0.00	1.00	D	6.00	6.00	1.00	E	5.00	5.00								
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																			
7094137	DUDKAR ADARSH BHAGWAN SHAILA 2022016402234242 (4)Ghatkopar-(688)	58651 14F	8+	22		FEC101 14+	14			58652 24+	8+	32		FEL101 14+	14		58655 24+	6+	30		FEL102 15+	15		18.00	--				
		3.00	F	0.00	0.00	1.00	D	6.00	6.00	2.00	P	4.00	8.00	0.50	D	6.00	3.00	2.00	P	4.00	8.00	0.50	C	7.00	3.50	-- --			
		58653 34+	10+	44		FEL103 18+	31			58654 32+	8+	40		FEL104 18+	33		FEL105 29+	29											
		3.00	P	4.00	12.00	1.00	C	7.00	7.00	3.00	P	4.00	12.00	1.00	C	7.00	7.00	1.00	D	6.00	6.00								
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																			
7094138	HANDE NETRA NITIN CHHAYA 2023016401387323 (4)Ghatkopar-(688)	58651 33+	8+	41		FEC101 18+	18			58652 20F	6+	26		FEL101 17+	17		58655 24+	7+	31		FEL102 21+	21		18.00	--				
		3.00	P	4.00	12.00	1.00	B	8.00	8.00	2.00	F	0.00	0.00	0.50	C	7.00	3.50	2.00	P	4.00	8.00	0.50	O	10.00	5.00	-- --			
		58653 32+	8+	40		FEL103 19+	37			58654 33E	8+	41		FEL104 20+	33		FEL105 40+	40											
		3.00	P	4.00	12.00	1.00	B	8.00	8.00	3.00	P	4.00	12.00	1.00	C	7.00	7.00	1.00	O	10.00	10.00								
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																			

/ - FEMALE, # - 0.229A,@ - 0.5042A/O.5043A/O.5044A, * - 5045A, RR-RESERVED, --:Fails in Theory or Practical, RPV - PROVISIONAL Eligible, RCC - 0.5050, AB - ABSENT, F - UNSUCCESSFUL,P - SUCCESSFUL;
 NULL=NULL & VOID, G:Grade C*G:Gradepoints C:credits CP:credit points aCG:sum of product of credits & grades, Internal Marks are Provisional as per R.8668
 aC:sum of credit points GPA: aCG/aC
 MARKS : 0 to 39.99 40 to 44.99 45 to 49.99 50 to 59.99 60 to 69.99 70 to 74.99 75 to 79.99 80 to 100
 GRADE : F P E D C B A O
 GRADE POINT : 0.00 4.00 5.00 6.00 7.00 8.00 9.00 10.00



University of Mumbai, Mumbai

OFFICE REGISTER OF THE B.E. (with credits) - Regular - CBCS(Electronics and Telecommunication Engineering)- F.E. C-Scheme - Sem I [T01831] HELD IN Summer 2025 Result Declaration Date:11 Jul 2025

58651-Engineering Mathematics-I: ThUA 80/32 ThCA 20/8 100/0 | 58652-Engineering Physics-I: ThUA 60/24 ThCA 15/6 75/0 | 58655-Engineering Chemistry-I: ThUA 60/24 ThCA 15/6 75/0 |
 58653-Engineering Mechanics: ThUA 80/32 ThCA 20/8 100/0 | 58654-Basic Electrical Engineering: ThUA 80/32 ThCA 20/8 100/0 | FEL101-Engineering Physics-I (TW): TwCA 25/10 25/0 |
 FEL102-Engineering Chemistry-I (TW): TwCA 25/10 25/0 | FEL103-Engineering Mechanics (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 | FEL104-Basic Electrical Engineering (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 |
 FEL105-Basic Workshop Practice-I: TwCA 50/20 50/0 | FEC101-Engineering Mathematics-I Term Work: TwCA 25/10 25/0 |

SEAT NO.	NAME OF THE CANDIDATE Mother Name PRN.	PAPER 1				PAPER 2				PAPER 3				PAPER 4				PAPER 5				PAPER 6				RESULT CR C*G SGPI GRADE			
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G				
CENTRE-COLLEGE		PAPER 7				PAPER 8				PAPER 9				PAPER 10				PAPER 11											
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G
7094139	ABHIROOP V HIREMATH KAVITA V HIREMATH 2022016402233826 (4)Ghatkopar-(688)	58651 32+	10+	42		FEC101 --	20+	20		58652 24+	7+	31		FEL101 --	18+	18		58655 27+	6+	33		FEL102 --	14+	14	18.00	85.00	Successful		
		3.00	P	4.00	12.00	1.00	O	10.00	10.00	2.00	P	4.00	8.00	0.50	B	8.00	4.00	2.00	P	4.00	8.00	0.50	D	6.00	3.00	4.72	--		
		58653 32+	10+	42		FEL103 --	17+	29		58654 32	9+	41		FEL104 --	14+	25		FEL105 --	22+	22									
		3.00	P	4.00	12.00	1.00	D	6.00	6.00	3.00	P	4.00	12.00	1.00	D	6.00	6.00	1.00	P	4.00	4.00								
		Total Credit 18.00				FINAL CGPI 4.72				FINAL GRADE --																			
7094140	ESHAN LILLADHAR JADHAV PRERANA 2022016402227002 (4)Ghatkopar-(688)	58651 34	10	44		FEC101 --	11+	11		58652 24+	6+	30		FEL101 --	15+	15		58655 24+	6+	30		FEL102 --	14+	14	18.00	81.50	Successful		
		3.00	P	4.00	12.00	1.00	P	4.00	4.00	2.00	P	4.00	8.00	0.50	C	7.00	3.50	2.00	P	4.00	8.00	0.50	D	6.00	3.00	4.53	--		
		58653 32	9+	41		FEL103 --	14+	25		58654 32+	8+	40		FEL104 --	10+	30		FEL105 --	26+	26									
		3.00	P	4.00	12.00	1.00	D	6.00	6.00	3.00	P	4.00	12.00	1.00	C	7.00	7.00	1.00	D	6.00	6.00								
		Total Credit 18.00				FINAL CGPI 4.53				FINAL GRADE --																			
7094141	JAMNEKAR VISHAKHA KAILAS USHA 2023016401307665 (4)Ghatkopar-(688)	58651 AA	8+	8		FEC101 --	12+	12		58652 28+	6+	34		FEL101 --	11+	11		58655 29+	6+	35		FEL102 --	16+	16	18.00	--	ABS		
		3.00	F	0.00	0.00	1.00	E	5.00	5.00	2.00	E	5.00	10.00	0.50	P	4.00	2.00	2.00	E	5.00	10.00	0.50	C	7.00	3.50	--	--		
		58653 AA	8+	8		FEL103 --	19+	37		58654 AA	8+	8		FEL104 --	19+	33		FEL105 --	32+	32									
		3.00	F	0.00	0.00	1.00	B	8.00	8.00	3.00	F	0.00	0.00	1.00	C	7.00	7.00	1.00	C	7.00	7.00								
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																			

Remark: RCC

/ - FEMALE, # - 0.229A,@ - 0.5042A/O.5043A/O.5044A, * - 5045A, RR-RESERVED, --:Fails in Theory or Practical, RPV - PROVISIONAL Eligible, RCC - 0.5050, AB - ABSENT, F - UNSUCCESSFUL,P - SUCCESSFUL;
 NULL=NULL & VOID, G:Grade C*G:Gradepoints C:credits CP:credit points aCG:sum of product of credits & grades, Internal Marks are Provisional as per R.8668
 aC:sum of credit points GPA: aCG/aC
 MARKS : 0 to 39.99 40 to 44.99 45 to 49.99 50 to 59.99 60 to 69.99 70 to 74.99 75 to 79.99 80 to 100
 GRADE : F P E D C B A O
 GRADE POINT : 0.00 4.00 5.00 6.00 7.00 8.00 9.00 10.00



University of Mumbai, Mumbai

OFFICE REGISTER OF THE B.E. (with credits) - Regular - CBCS(Electronics and Telecommunication Engineering)- F.E. C-Scheme - Sem I [T01831] HELD IN Summer 2025 Result Declaration Date:11 Jul 2025

58651-Engineering Mathematics-I: ThUA 80/32 ThCA 20/8 100/0 | 58652-Engineering Physics-I: ThUA 60/24 ThCA 15/6 75/0 | 58655-Engineering Chemistry-I: ThUA 60/24 ThCA 15/6 75/0 |
 58653-Engineering Mechanics: ThUA 80/32 ThCA 20/8 100/0 | 58654-Basic Electrical Engineering: ThUA 80/32 ThCA 20/8 100/0 | FEL101-Engineering Physics-I (TW): TwCA 25/10 25/0 |
 FEL102-Engineering Chemistry-I (TW): TwCA 25/10 25/0 | FEL103-Engineering Mechanics (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 | FEL104-Basic Electrical Engineering (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 |
 FEL105-Basic Workshop Practice-I: TwCA 50/20 50/0 | FEC101-Engineering Mathematics-I Term Work: TwCA 25/10 25/0 |

SEAT NO.	NAME OF THE CANDIDATE Mother Name PRN.	PAPER 1				PAPER 2				PAPER 3				PAPER 4				PAPER 5				PAPER 6				RESULT CR C*G SGPI GRADE			
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G				
CENTRE-COLLEGE		PAPER 7				PAPER 8				PAPER 9				PAPER 10				PAPER 11											
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G				
7094142	JINWAL VANSH BRIJPAL POONAM 2023016401374303 (4)Ghatkopar-(688)	58651 32+	15+	47		FEC101 12+	12			58652 24+	7+	31		FEL101 10+	10		58655 24+	8+	32		FEL102 12+	12		18.00	--				
		3.00	E	5.00	15.00	1.00	E	5.00	5.00	2.00	P	4.00	8.00	0.50	P	4.00	2.00	2.00	P	4.00	8.00	0.50	E	5.00	2.50	-- --			
		58653 17F	9+	26		FEL103 12+	27			58654 20F	8+	28		FEL104 10+	23		FEL105 30+	30											
		3.00	F	0.00	0.00	1.00	D	6.00	6.00	3.00	F	0.00	0.00	1.00	E	5.00	5.00	1.00	C	7.00	7.00								
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																			
7094143	/ KAMBLE APURVA PRADIP VIDYA KAMBLE 2023016401385405 (4)Ghatkopar-(688)	58651 23F	10+	33		FEC101 17+	17			58652 24+	6+	30		FEL101 19+	19		58655 33+	6+	39		FEL102 18+	18		18.00	--				
		3.00	F	0.00	0.00	1.00	C	7.00	7.00	2.00	P	4.00	8.00	0.50	A	9.00	4.50	2.00	D	6.00	12.00	0.50	B	8.00	4.00	-- --			
		58653 34+	16+	50		FEL103 15+	33			58654 32+	8+	40		FEL104 20+	33		FEL105 43+	43											
		3.00	D	6.00	18.00	1.00	C	7.00	7.00	3.00	P	4.00	12.00	1.00	C	7.00	7.00	1.00	O	10.00	10.00								
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																			
7094144	KHAN MOHD. MOIN AFROZ NAZIA 2022016402233753 (4)Ghatkopar-(688)	58651 32+	9+	41		FEC101 12+	12			58652 31+	6+	37		FEL101 16+	16		58655 30+	6+	36		FEL102 10+	10		18.00	93.50				
		3.00	P	4.00	12.00	1.00	E	5.00	5.00	2.00	E	5.00	10.00	0.50	C	7.00	3.50	2.00	E	5.00	10.00	0.50	P	4.00	2.00	5.19 --			
		58653 38	10+	48		FEL103 15+	33			58654 37+	8+	45		FEL104 13+	27		FEL105 37+	37											
		3.00	E	5.00	15.00	1.00	C	7.00	7.00	3.00	E	5.00	15.00	1.00	D	6.00	6.00	1.00	B	8.00	8.00								
		Total Credit 18.00				FINAL CGPI 5.19				FINAL GRADE --																			

/ - FEMALE, # - 0.229A,@ - 0.5042A/O.5043A/O.5044A,* - 5045A, RR-RESERVED, --:Fails in Theory or Practical, RPV - PROVISIONAL Eligible, RCC - 0.5050, AB - ABSENT, F - UNSUCCESSFUL,P - SUCCESSFUL;
 NULL=NULL & VOID, G:Grade C*G:Gradepoints C:credits CP:credit points aCG:sum of product of credits & grades, Internal Marks are Provisional as per R.8668
 aC:sum of credit points GPA: aCG/aC
 MARKS : 0 to 39.99 40 to 44.99 45 to 49.99 50 to 59.99 60 to 69.99 70 to 74.99 75 to 79.99 80 to 100
 GRADE : F P E D C B A O
 GRADE POINT : 0.00 4.00 5.00 6.00 7.00 8.00 9.00 10.00



University of Mumbai, Mumbai

OFFICE REGISTER OF THE B.E. (with credits) - Regular - CBCS (Electronics and Telecommunication Engineering)- F.E. C-Scheme - Sem I [T01831] HELD IN Summer 2025 Result Declaration Date: 11 Jul 2025

58651-Engineering Mathematics-I: ThUA 80/32 ThCA 20/8 100/0 | 58652-Engineering Physics-I: ThUA 60/24 ThCA 15/6 75/0 | 58655-Engineering Chemistry-I: ThUA 60/24 ThCA 15/6 75/0 |
 58653-Engineering Mechanics: ThUA 80/32 ThCA 20/8 100/0 | 58654-Basic Electrical Engineering: ThUA 80/32 ThCA 20/8 100/0 | FEL101-Engineering Physics-I (TW): TwCA 25/10 25/0 |
 FEL102-Engineering Chemistry-I (TW): TwCA 25/10 25/0 | FEL103-Engineering Mechanics (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 | FEL104-Basic Electrical Engineering (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 |
 FEL105-Basic Workshop Practice-I: TwCA 50/20 50/0 | FEC101-Engineering Mathematics-I Term Work: TwCA 25/10 25/0 |

SEAT NO.	NAME OF THE CANDIDATE Mother Name PRN.	PAPER 1				PAPER 2				PAPER 3				PAPER 4				PAPER 5				PAPER 6				RESULT CR C*G SGPI GRADE			
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G				
CENTRE-COLLEGE		PAPER 7				PAPER 8				PAPER 9				PAPER 10				PAPER 11											
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G				
7094145	LOBO GAVIN SUNIL JYOTHI 2022016402225966 (4)Ghatkopar-(688)	58651 AA	11+	11		FEC101 --	18+	18		58652 24+	6+	30		FEL101 --	19+	19		58655 24+	6+	30		FEL102 --	18+	18	18.00	--			
		3.00	F	0.00	0.00	1.00	B	8.00	8.00	2.00	P	4.00	8.00	0.50	A	9.00	4.50	2.00	P	4.00	8.00	0.50	B	8.00	4.00	-- --			
		58653 AA	11+	11		FEL103 --	18+	32		58654 AA	10+	10		FEL104 --	18+	37		FEL105 --	42+	42									
		3.00	F	0.00	0.00	1.00	C	7.00	7.00	3.00	F	0.00	0.00	1.00	B	8.00	8.00	1.00	O	10.00	10.00								
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																			
7094146	MISHRA SOHAM KAILASH ARUNA 2022016402246757 (4)Ghatkopar-(688)	58651 32+	8+	40		FEC101 --	14+	14		58652 24+	9+	33		FEL101 --	14+	14		58655 24+	7+	31		FEL102 --	14+	14	18.00	94.00			
		3.00	P	4.00	12.00	1.00	D	6.00	6.00	2.00	P	4.00	8.00	0.50	D	6.00	3.00	2.00	P	4.00	8.00	0.50	D	6.00	3.00	5.22 --			
		58653 48	13+	61		FEL103 --	18+	30		58654 32+	10+	42		FEL104 --	17+	33		FEL105 --	34+	34									
		3.00	C	7.00	21.00	1.00	C	7.00	7.00	3.00	P	4.00	12.00	1.00	C	7.00	7.00	1.00	C	7.00	7.00								
		Total Credit 18.00				FINAL CGPI 5.22				FINAL GRADE --																			
7094147	PATIL SUSHANT UTTAMRAO KANTABAI 2023016401386231 (4)Ghatkopar-(688)	58651 33+	8+	41		FEC101 --	17+	17		58652 29	6+	35		FEL101 --	14+	14		58655 24+	6+	30		FEL102 --	18+	18	18.00	93.00			
		3.00	P	4.00	12.00	1.00	C	7.00	7.00	2.00	E	5.00	10.00	0.50	D	6.00	3.00	2.00	P	4.00	8.00	0.50	B	8.00	4.00	5.17 --			
		58653 32+	8+	40		FEL103 --	20+	35		58654 32+	12+	44		FEL104 --	20+	32		FEL105 --	43+	43									
		3.00	P	4.00	12.00	1.00	B	8.00	8.00	3.00	P	4.00	12.00	1.00	C	7.00	7.00	1.00	O	10.00	10.00								
		Total Credit 18.00				FINAL CGPI 5.17				FINAL GRADE --																			

/ - FEMALE, # - 0.229A, @ - 0.5042A/O.5043A/O.5044A, * - 5045A, RR-RESERVED, --:Fails in Theory or Practical, RPV - PROVISIONAL Eligible, RCC - 0.5050, AB - ABSENT, F - UNSUCCESSFUL, P - SUCCESSFUL;
 NULL=NULL & VOID, G:Grade C*G:Gradepoints C:credits CP:credit points aCG:sum of product of credits & grades, Internal Marks are Provisional as per R.8668
 aC:sum of credit points GPA: aCG/aC
 MARKS : 0 to 39.99 40 to 44.99 45 to 49.99 50 to 59.99 60 to 69.99 70 to 74.99 75 to 79.99 80 to 100
 GRADE : F P E D C B A O
 GRADE POINT : 0.00 4.00 5.00 6.00 7.00 8.00 9.00 10.00



University of Mumbai, Mumbai

OFFICE REGISTER OF THE B.E. (with credits) - Regular - CBCS(Electronics and Telecommunication Engineering)- F.E. C-Scheme - Sem I [T01831] HELD IN Summer 2025 Result Declaration Date:11 Jul 2025

58651-Engineering Mathematics-I: ThUA 80/32 ThCA 20/8 100/0 | 58652-Engineering Physics-I: ThUA 60/24 ThCA 15/6 75/0 | 58655-Engineering Chemistry-I: ThUA 60/24 ThCA 15/6 75/0 |
 58653-Engineering Mechanics: ThUA 80/32 ThCA 20/8 100/0 | 58654-Basic Electrical Engineering: ThUA 80/32 ThCA 20/8 100/0 | FEL101-Engineering Physics-I (TW): TwCA 25/10 25/0 |
 FEL102-Engineering Chemistry-I (TW): TwCA 25/10 25/0 | FEL103-Engineering Mechanics (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 | FEL104-Basic Electrical Engineering (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 |
 FEL105-Basic Workshop Practice-I: TwCA 50/20 50/0 | FEC101-Engineering Mathematics-I Term Work: TwCA 25/10 25/0 |

SEAT NO.	NAME OF THE CANDIDATE Mother Name PRN.	PAPER 1				PAPER 2				PAPER 3				PAPER 4				PAPER 5				PAPER 6				RESULT CR C*G SGPI GRADE
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	
CENTRE-COLLEGE		PAPER 7				PAPER 8				PAPER 9				PAPER 10				PAPER 11								
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	
7094148	QURESHI MOHD ANAS ABDUL HAQ AYESHA QURESHI 2022016402233761 (4)Ghatkopar-(688)	58651 2F	10E	12		FEC101 12+	12			58652 27+	6+	33		FEL101 18+	18		58655 24+	11+	35		FEL102 15+	15		18.00 --		
		3.00	F	0.00	0.00	1.00	E	5.00	5.00	2.00	P	4.00	8.00	0.50	B	8.00	4.00	2.00	E	5.00	10.00	0.50	C	7.00	3.50	-- --
		58653 18F	8+	26		FEL103 17+	32			58654 22F	8+	30		FEL104 14+	25		FEL105 36+	36								
		3.00	F	0.00	0.00	1.00	C	7.00	7.00	3.00	F	0.00	0.00	1.00	D	6.00	6.00	1.00	B	8.00	8.00					
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																
7094149	RASKAR AKSHAY SANJAY SANGEETA 2022016401191511 (4)Ghatkopar-(688)	58651 32	8+	40		FEC101 12+	12			58652 24+	8+	32		FEL101 17+	17		58655 25+	6+	31		FEL102 14+	14		18.00 86.50		
		3.00	P	4.00	12.00	1.00	E	5.00	5.00	2.00	P	4.00	8.00	0.50	C	7.00	3.50	2.00	P	4.00	8.00	0.50	D	6.00	3.00	4.81 --
		58653 33+	9+	42		FEL103 13+	27			58654 32+	8+	40		FEL104 13+	31		FEL105 40+	40								
		3.00	P	4.00	12.00	1.00	D	6.00	6.00	3.00	P	4.00	12.00	1.00	C	7.00	7.00	1.00	O	10.00	10.00					
		Total Credit 18.00				FINAL CGPI 4.81				FINAL GRADE --																
7094150	SALUNKE SAKSHI SANTOSH VAISHALI 2022016402226134 (4)Ghatkopar-(688)	58651 36+	9+	45		FEC101 12+	12			58652 24+	6+	30		FEL101 21+	21		58655 26	6+	32		FEL102 20+	20		18.00 97.00		
		3.00	E	5.00	15.00	1.00	E	5.00	5.00	2.00	P	4.00	8.00	0.50	O	10.00	5.00	2.00	P	4.00	8.00	0.50	O	10.00	5.00	5.39 --
		58653 32	8+	40		FEL103 21+	36			58654 40+	11+	51		FEL104 17+	28		FEL105 30+	30								
		3.00	P	4.00	12.00	1.00	B	8.00	8.00	3.00	D	6.00	18.00	1.00	D	6.00	6.00	1.00	C	7.00	7.00					
		Total Credit 18.00				FINAL CGPI 5.39				FINAL GRADE --																

/ - FEMALE, # - 0.229A,@ - 0.5042A/O.5043A/O.5044A,* - 5045A, RR-RESERVED, --:Fails in Theory or Practical, RPV - PROVISIONAL Eligible, RCC - 0.5050, AB - ABSENT, F - UNSUCCESSFUL,P - SUCCESSFUL;
 NULL=NULL & VOID, G:Grade C*G:Gradepoints C:credits CP:credit points aCG:sum of product of credits & grades, Internal Marks are Provisional as per R.8668
 aC:sum of credit points GPA: aCG/aC
 MARKS : 0 to 39.99 40 to 44.99 45 to 49.99 50 to 59.99 60 to 69.99 70 to 74.99 75 to 79.99 80 to 100
 GRADE : F P E D C B A O
 GRADE POINT : 0.00 4.00 5.00 6.00 7.00 8.00 9.00 10.00



University of Mumbai, Mumbai

OFFICE REGISTER OF THE B.E. (with credits) - Regular - CBCS (Electronics and Telecommunication Engineering)- F.E. C-Scheme - Sem I [T01831] HELD IN Summer 2025 Result Declaration Date: 11 Jul 2025

58651-Engineering Mathematics-I: ThUA 80/32 ThCA 20/8 100/0 | 58652-Engineering Physics-I: ThUA 60/24 ThCA 15/6 75/0 | 58655-Engineering Chemistry-I: ThUA 60/24 ThCA 15/6 75/0 |
 58653-Engineering Mechanics: ThUA 80/32 ThCA 20/8 100/0 | 58654-Basic Electrical Engineering: ThUA 80/32 ThCA 20/8 100/0 | FEL101-Engineering Physics-I (TW): TwCA 25/10 25/0 |
 FEL102-Engineering Chemistry-I (TW): TwCA 25/10 25/0 | FEL103-Engineering Mechanics (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 | FEL104-Basic Electrical Engineering (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 |
 FEL105-Basic Workshop Practice-I: TwCA 50/20 50/0 | FEC101-Engineering Mathematics-I Term Work: TwCA 25/10 25/0 |

SEAT NO.	NAME OF THE CANDIDATE Mother Name PRN.	PAPER 1				PAPER 2				PAPER 3				PAPER 4				PAPER 5				PAPER 6				RESULT CR C*G SGPI GRADE			
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G				
CENTRE-COLLEGE		PAPER 7				PAPER 8				PAPER 9				PAPER 10				PAPER 11											
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G
7094151	/ SAYED DARNAJAF JALAL HEENA 2022016402244155 (4)Ghatkopar-(688)	58651 33	8+	41		FEC101 17+	17			58652 28+	6+	34		FEL101 20+	20		58655 42+	8+	50		FEL102 20+	20		18.00	106.00				
		3.00	P	4.00	12.00	1.00	C	7.00	7.00	2.00	E	5.00	10.00	0.50	O	10.00	5.00	2.00	C	7.00	14.00	0.50	O	10.00	5.00	5.89	--		
		58653 39+	8+	47		FEL103 22+	37			58654 38+	8+	46		FEL104 19+	34		FEL105 37+	37											
		3.00	E	5.00	15.00	1.00	B	8.00	8.00	3.00	E	5.00	15.00	1.00	C	7.00	7.00	1.00	B	8.00	8.00								
		Total Credit 18.00				FINAL CGPI 5.89				FINAL GRADE --																			
7094152	YADAV VINAYAK SATISH SANJU 2023016401371997 (4)Ghatkopar-(688)	58651 17F	8+	25		FEC101 19+	19			58652 24+	6+	30		FEL101 18+	18		58655 24+	6+	30		FEL102 19+	19		18.00	--				
		3.00	F	0.00	0.00	1.00	A	9.00	9.00	2.00	P	4.00	8.00	0.50	B	8.00	4.00	2.00	P	4.00	8.00	0.50	A	9.00	4.50	--	--		
		58653 10F	10+	20		FEL103 20+	37			58654 18F	8+	26		FEL104 21+	35		FEL105 35+	35											
		3.00	F	0.00	0.00	1.00	B	8.00	8.00	3.00	F	0.00	0.00	1.00	B	8.00	8.00	1.00	B	8.00	8.00								
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																			
7094153	/ KOMAL GORAKH AHIRE MEENA 2023016402087142 (5)Thane-(17)	58651 2F	11+	13		FEC101 17+	17			58652 24+	9+	33		FEL101 20+	20		58655 27+	10+	37		FEL102 22+	22		18.00	--				
		3.00	F	0.00	0.00	1.00	C	7.00	7.00	2.00	P	4.00	8.00	0.50	O	10.00	5.00	2.00	E	5.00	10.00	0.50	O	10.00	5.00	--	--		
		58653 35+	13+	48		FEL103 22+	40			58654 32+	19+	51		FEL104 20+	40		FEL105 42+	42											
		3.00	E	5.00	15.00	1.00	O	10.00	10.00	3.00	D	6.00	18.00	1.00	O	10.00	10.00	1.00	O	10.00	10.00								
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																			

/ - FEMALE, # - 0.229A, @ - 0.5042A/O.5043A/O.5044A, * - 5045A, RR-RESERVED, --:Fails in Theory or Practical, RPV - PROVISIONAL Eligible, RCC - 0.5050, AB - ABSENT, F - UNSUCCESSFUL, P - SUCCESSFUL;
 NULL=NULL & VOID, G:Grade C*G:Gradepoints C:credits CP:credit points aCG:sum of product of credits & grades, Internal Marks are Provisional as per R.8668
 aC:sum of credit points GPA: aCG/aC
 MARKS : 0 to 39.99 40 to 44.99 45 to 49.99 50 to 59.99 60 to 69.99 70 to 74.99 75 to 79.99 80 to 100
 GRADE : F P E D C B A O
 GRADE POINT : 0.00 4.00 5.00 6.00 7.00 8.00 9.00 10.00



University of Mumbai, Mumbai

OFFICE REGISTER OF THE B.E. (with credits) - Regular - CBCS(Electronics and Telecommunication Engineering)- F.E. C-Scheme - Sem I [T01831] HELD IN Summer 2025 Result Declaration Date:11 Jul 2025

58651-Engineering Mathematics-I: ThUA 80/32 ThCA 20/8 100/0 | 58652-Engineering Physics-I: ThUA 60/24 ThCA 15/6 75/0 | 58655-Engineering Chemistry-I: ThUA 60/24 ThCA 15/6 75/0 |
 58653-Engineering Mechanics: ThUA 80/32 ThCA 20/8 100/0 | 58654-Basic Electrical Engineering: ThUA 80/32 ThCA 20/8 100/0 | FEL101-Engineering Physics-I (TW): TwCA 25/10 25/0 |
 FEL102-Engineering Chemistry-I (TW): TwCA 25/10 25/0 | FEL103-Engineering Mechanics (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 | FEL104-Basic Electrical Engineering (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 |
 FEL105-Basic Workshop Practice-I: TwCA 50/20 50/0 | FEC101-Engineering Mathematics-I Term Work: TwCA 25/10 25/0 |

SEAT NO.	NAME OF THE CANDIDATE Mother Name PRN.	PAPER 1				PAPER 2				PAPER 3				PAPER 4				PAPER 5				PAPER 6				RESULT CR C*G SGPI GRADE	
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G		
CENTRE-COLLEGE		PAPER 7				PAPER 8				PAPER 9				PAPER 10				PAPER 11									
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G		
7094154	SYED NOMAN ALI SHAHENUN BEGUM 2022016402345716 (5)Thane-(17)	58651 32+ 3.00 P	10+ 42 4.00	12.00 12.00	FEC101 14+ 6.00	14 14 6.00	58652 24+ 2.00 P	6+ 30 4.00	8.00 8.00	FEL101 19+ 0.50 O	20+ 20 10.00	2.00 5.00 5.00	58655 31+ 2.00 E	6+ 37 5.00	10.00 10.00	FEL102 19+ 0.50 A	19 19 9.00	4.50 4.50 4.50	5.58 -- 5.58	-- -- --	Successful 18.00 18.00	100.50 100.50 100.50					
7094155	HARSHAL VASANT AVHAD VIDYA 2022016402351752 (5)Thane-(17)	58651 32+ 3.00 P	8+ 40 4.00	12.00 12.00	FEC101 11+ 4.00	11 11 4.00	58652 24+ 2.00 P	7+ 31 4.00	8.00 8.00	FEL101 19+ 0.50 O	21+ 21 10.00	5.00 5.00	58655 35+ 2.00 D	7+ 42 6.00	12.00 12.00	FEL102 21+ 0.50 O	21 21 10.00	5.00 5.00 5.00	5.50 -- 5.50	-- -- --	Successful 18.00 18.00	99.00 99.00 99.00					
7094156	BEDEKAR RONIT BHALCHANDRA GEBTA 2023016402074822 (5)Thane-(17)	58651 18F 3.00 F	8+ 26 0.00	0.00 0.00	FEC101 15+ 7.00	15 15 7.00	58652 19F 2.00 F	8+ 27 0.00	0.00 0.00	FEL101 21+ 0.50 O	21 21 10.00	5.00 5.00	58655 28E 2.00 E	6+ 34 5.00	10.00 10.00	FEL102 12+ 0.50 E	12 12 5.00	2.50 2.50 2.50	-- -- --	-- -- --	Unsuccessful 18.00 18.00	-- -- --					

/ - FEMALE, # - 0.229A,@ - 0.5042A/O.5043A/O.5044A, * - 5045A, RR-RESERVED, --:Fails in Theory or Practical, RPV - PROVISIONAL Eligible, RCC - 0.5050, AB - ABSENT, F - UNSUCCESSFUL,P - SUCCESSFUL;
 NULL=NULL & VOID, G:Grade C*G:Gradepoints C:credits CP:credit points aCG:sum of product of credits & grades, Internal Marks are Provisional as per R.8668
 aC:sum of credit points GPA: aCG/aC
 MARKS : 0 to 39.99 40 to 44.99 45 to 49.99 50 to 59.99 60 to 69.99 70 to 74.99 75 to 79.99 80 to 100
 GRADE : F P E D C B A O
 GRADE POINT : 0.00 4.00 5.00 6.00 7.00 8.00 9.00 10.00



University of Mumbai, Mumbai

OFFICE REGISTER OF THE B.E. (with credits) - Regular - CBCS(Electronics and Telecommunication Engineering)- F.E. C-Scheme - Sem I [T01831] HELD IN Summer 2025 Result Declaration Date:11 Jul 2025

58651-Engineering Mathematics-I: ThUA 80/32 ThCA 20/8 100/0 | 58652-Engineering Physics-I: ThUA 60/24 ThCA 15/6 75/0 | 58655-Engineering Chemistry-I: ThUA 60/24 ThCA 15/6 75/0 |
 58653-Engineering Mechanics: ThUA 80/32 ThCA 20/8 100/0 | 58654-Basic Electrical Engineering: ThUA 80/32 ThCA 20/8 100/0 | FEL101-Engineering Physics-I (TW): TwCA 25/10 25/0 |
 FEL102-Engineering Chemistry-I (TW): TwCA 25/10 25/0 | FEL103-Engineering Mechanics (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 | FEL104-Basic Electrical Engineering (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 |
 FEL105-Basic Workshop Practice-I: TwCA 50/20 50/0 | FEC101-Engineering Mathematics-I Term Work: TwCA 25/10 25/0 |

SEAT NO.	NAME OF THE CANDIDATE Mother Name PRN.	PAPER 1				PAPER 2				PAPER 3				PAPER 4				PAPER 5				PAPER 6				RESULT CR C*G SGPI GRADE			
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G				
CENTRE-COLLEGE		PAPER 7				PAPER 8				PAPER 9				PAPER 10				PAPER 11											
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G				
7094157	BEDRE VEDANT RAM MAHANANDA 2022016402351992 (5)Thane-(17)	58651 32 3.00 P	10+	42	12.00	FEC101 14+ 1.00 D	14	14	6.00	58652 25+ 2.00 E	11+	36	10.00	FEL101 22+ 0.50 O	22	58655 31+ 2.00 D	9+	40	12.00	FEL102 20+ 0.50 O	20	18.00	104.00	5.78	--				
		58653 32+	12+	44	12.00	FEL103 22+ 1.00 O	10.00	10.00	8.00	58654 32+ 3.00 E	13+	45	15.00	FEL104 18+ 1.00 C	34	58655 42+ 1.00 O	42	42	10.00	FEL105 42+ 1.00 O	10.00	10.00							
		Total Credit 18.00				FINAL CGPI 5.78				FINAL GRADE --																			
7094158	CHASKAR PRANAV SHAM KAMINI 2023016402088265 (5)Thane-(17)	58651 21F 3.00 F	9+	30	0.00	FEC101 16+ 1.00 C	16	16	7.00	58652 25+ 2.00 P	6+	31	8.00	FEL101 19+ 0.50 A	19	58655 27+ 2.00 P	6+	33	8.00	FEL102 21+ 0.50 O	21	18.00	--	--					
		58653 34+	8+	42	12.00	FEL103 15+ 1.00 B	8.00	8.00	8.00	58654 58+ 3.00 C	8+	66	21.00	FEL104 20+ 1.00 B	35	58655 41+ 1.00 O	41	41	10.00	FEL105 41+ 1.00 O	10.00	10.00							
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																			
7094159	DESHMUKH SHRAVANI VAISHALI 2023016402095532 (5)Thane-(17)	58651 19F 3.00 F	9+	28	0.00	FEC101 20+ 1.00 O	20	20	10.00	58652 24+ 2.00 D	14+	38	12.00	FEL101 21+ 0.50 O	21	58655 28+ 2.00 D	12+	40	12.00	FEL102 20+ 0.50 O	20	18.00	--	--					
		58653 32+	10+	42	12.00	FEL103 21+ 1.00 O	41	41	10.00	58654 32+ 3.00 P	12+	44	12.00	FEL104 17+ 1.00 B	36	58655 42+ 1.00 O	42	42	10.00	FEL105 42+ 1.00 O	10.00	10.00							
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																			

/ - FEMALE, # - 0.229A,@ - 0.5042A/O.5043A/O.5044A,* - 5045A, RR-RESERVED, --:Fails in Theory or Practical, RPV - PROVISIONAL Eligible, RCC - 0.5050, AB - ABSENT, F - UNSUCCESSFUL,P - SUCCESSFUL;
 NULL=NULL & VOID, G:Grade C*G:Gradepoints C:credits CP:credit points aCG:sum of product of credits & grades, Internal Marks are Provisional as per R.8668
 aC:sum of credit points GPA: aCG/aC
 MARKS : 0 to 39.99 40 to 44.99 45 to 49.99 50 to 59.99 60 to 69.99 70 to 74.99 75 to 79.99 80 to 100
 GRADE : F P E D C B A O
 GRADE POINT : 0.00 4.00 5.00 6.00 7.00 8.00 9.00 10.00



University of Mumbai, Mumbai

OFFICE REGISTER OF THE B.E. (with credits) - Regular - CBCS(Electronics and Telecommunication Engineering)- F.E. C-Scheme - Sem I [T01831] HELD IN Summer 2025 Result Declaration Date:11 Jul 2025

58651-Engineering Mathematics-I: ThUA 80/32 ThCA 20/8 100/0 | 58652-Engineering Physics-I: ThUA 60/24 ThCA 15/6 75/0 | 58655-Engineering Chemistry-I: ThUA 60/24 ThCA 15/6 75/0 |
 58653-Engineering Mechanics: ThUA 80/32 ThCA 20/8 100/0 | 58654-Basic Electrical Engineering: ThUA 80/32 ThCA 20/8 100/0 | FEL101-Engineering Physics-I (TW): TwCA 25/10 25/0 |
 FEL102-Engineering Chemistry-I (TW): TwCA 25/10 25/0 | FEL103-Engineering Mechanics (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 | FEL104-Basic Electrical Engineering (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 |
 FEL105-Basic Workshop Practice-I: TwCA 50/20 50/0 | FEC101-Engineering Mathematics-I Term Work: TwCA 25/10 25/0 |

SEAT NO.	NAME OF THE CANDIDATE Mother Name PRN.	PAPER 1				PAPER 2				PAPER 3				PAPER 4				PAPER 5				PAPER 6				RESULT CR C*G SGPI GRADE			
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G				
CENTRE-COLLEGE		PAPER 7				PAPER 8				PAPER 9				PAPER 10				PAPER 11											
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G
7094160	DIVE TUSHAR MAYUR SANGITA 2023016402117487 (5)Thane-(17)	58651 36+	8+	44		FEC101 18+	18			58652 19F	7+	26		FEL101 19+	19		58655 24+	8+	32		FEL102 20+	20		18.00	--				
		3.00	P	4.00	12.00	1.00	B	8.00	8.00	2.00	F	0.00	0.00	0.50	A	9.00	4.50	2.00	P	4.00	8.00	0.50	O	10.00	5.00	-- --			
		58653 32+	10+	42		FEL103 21+	38			58654 40+	8+	48		FEL104 21+	41		FEL105 39+	39											
		3.00	P	4.00	12.00	1.00	A	9.00	9.00	3.00	E	5.00	15.00	1.00	O	10.00	10.00	1.00	A	9.00	9.00								
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																			
7094161	GAIKWAD RITESH VILAS MEENAKSHI 2023016402117506 (5)Thane-(17)	58651 39+	9+	48		FEC101 18+	18			58652 24+	6+	30		FEL101 21+	21		58655 24+	7+	31		FEL102 20+	20		18.00	105.00				
		3.00	E	5.00	15.00	1.00	B	8.00	8.00	2.00	P	4.00	8.00	0.50	O	10.00	5.00	2.00	P	4.00	8.00	0.50	O	10.00	5.00	5.83 --			
		58653 37	8+	45		FEL103 21+	39			58654 32+	9+	41		FEL104 22+	43		FEL105 46+	46											
		3.00	E	5.00	15.00	1.00	A	9.00	9.00	3.00	P	4.00	12.00	1.00	O	10.00	10.00	1.00	O	10.00	10.00								
		Total Credit 18.00				FINAL CGPI 5.83				FINAL GRADE --																			
7094162	JADHAV ARYAN GORAKH SHASHIKALA 2023016402078433 (5)Thane-(17)	58651 32+	11+	43		FEC101 15+	15			58652 24+	9+	33		FEL101 20+	20		58655 16F	13+	29		FEL102 19+	19		18.00	--				
		3.00	P	4.00	12.00	1.00	C	7.00	7.00	2.00	P	4.00	8.00	0.50	O	10.00	5.00	2.00	F	0.00	0.00	0.50	A	9.00	4.50	-- --			
		58653 33+	13+	46		FEL103 19+	38			58654 37+	14+	51		FEL104 20+	40		FEL105 42+	42											
		3.00	E	5.00	15.00	1.00	A	9.00	9.00	3.00	D	6.00	18.00	1.00	O	10.00	10.00	1.00	O	10.00	10.00								
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																			

/ - FEMALE, # - 0.229A,@ - 0.5042A/O.5043A/O.5044A,* - 5045A, RR-RESERVED, --:Fails in Theory or Practical, RPV - PROVISIONAL Eligible, RCC - 0.5050, AB - ABSENT, F - UNSUCCESSFUL,P - SUCCESSFUL;
 NULL=NULL & VOID, G:Grade C*G:Gradepoints C:credits CP:credit points aCG:sum of product of credits & grades, Internal Marks are Provisional as per R.8668
 aC:sum of credit points GPA: aCG/aC
 MARKS : 0 to 39.99 40 to 44.99 45 to 49.99 50 to 59.99 60 to 69.99 70 to 74.99 75 to 79.99 80 to 100
 GRADE : F P E D C B A O
 GRADE POINT : 0.00 4.00 5.00 6.00 7.00 8.00 9.00 10.00



University of Mumbai, Mumbai

OFFICE REGISTER OF THE B.E. (with credits) - Regular - CBCS (Electronics and Telecommunication Engineering)- F.E. C-Scheme - Sem I [T01831] HELD IN Summer 2025 Result Declaration Date: 11 Jul 2025

58651-Engineering Mathematics-I: ThUA 80/32 ThCA 20/8 100/0 | 58652-Engineering Physics-I: ThUA 60/24 ThCA 15/6 75/0 | 58655-Engineering Chemistry-I: ThUA 60/24 ThCA 15/6 75/0 |
 58653-Engineering Mechanics: ThUA 80/32 ThCA 20/8 100/0 | 58654-Basic Electrical Engineering: ThUA 80/32 ThCA 20/8 100/0 | FEL101-Engineering Physics-I (TW): TwCA 25/10 25/0 |
 FEL102-Engineering Chemistry-I (TW): TwCA 25/10 25/0 | FEL103-Engineering Mechanics (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 | FEL104-Basic Electrical Engineering (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 |
 FEL105-Basic Workshop Practice-I: TwCA 50/20 50/0 | FEC101-Engineering Mathematics-I Term Work: TwCA 25/10 25/0 |

SEAT NO.	NAME OF THE CANDIDATE Mother Name PRN.	PAPER 1				PAPER 2				PAPER 3				PAPER 4				PAPER 5				PAPER 6				RESULT CR C*G SGPI GRADE
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	
CENTRE-COLLEGE		PAPER 7				PAPER 8				PAPER 9				PAPER 10				PAPER 11								
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	
7094163	JADHAV JAGRUTI DEEPAK DEEPALI 2023016402095586 (5)Thane-(17)	58651 32+	9+	41		FEC101 18+	18		58652 15F	6+	21		FEL101 20+	20	58655 11F	8+	19		FEL102 21+	21	18.00	--				
		3.00	P	4.00	12.00	1.00	B	8.00	8.00	2.00	F	0.00	0.00	0.50	O	10.00	5.00	2.00	F	0.00	0.00	0.50	O	10.00	5.00	-- --
		58653 32+	8+	40		FEL103 20+	38		58654 32+	8+	40		FEL104 18+	37	FEL105 46+	46										
		3.00	P	4.00	12.00	1.00	A	9.00	9.00	3.00	P	4.00	12.00	1.00	B	8.00	8.00	1.00	O	10.00	10.00					
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																
7094164	JADHAV KRUTIKA DEEPAK PUSHPA 2023016402098186 (5)Thane-(17)	58651 37+	8+	45		FEC101 18+	18		58652 24+	7+	31		FEL101 21+	21	58655 24+	6+	30		FEL102 22+	22	18.00	--				
		3.00	E	5.00	15.00	1.00	B	8.00	8.00	2.00	P	4.00	8.00	0.50	O	10.00	5.00	2.00	P	4.00	8.00	0.50	O	10.00	5.00	-- --
		58653 9F	8+	17		FEL103 20+	38		58654 32+	8+	40		FEL104 20+	39	FEL105 40+	40										
		3.00	F	0.00	0.00	1.00	A	9.00	9.00	3.00	P	4.00	12.00	1.00	A	9.00	9.00	1.00	O	10.00	10.00					
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																
7094165	JADHAV OM ANAND CHHAYA 2023016402079073 (5)Thane-(17)	58651 34+	10+	44		FEC101 17+	17		58652 24+	6+	30		FEL101 21+	21	58655 24+	7+	31		FEL102 20+	20	18.00	--				
		3.00	P	4.00	12.00	1.00	C	7.00	7.00	2.00	P	4.00	8.00	0.50	O	10.00	5.00	2.00	P	4.00	8.00	0.50	O	10.00	5.00	-- --
		58653 12F	15+	27		FEL103 18+	35		58654 35+	9+	44		FEL104 18+	37	FEL105 46+	46										
		3.00	F	0.00	0.00	1.00	B	8.00	8.00	3.00	P	4.00	12.00	1.00	B	8.00	8.00	1.00	O	10.00	10.00					
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																

/ - FEMALE, # - 0.229A, @ - 0.5042A/O.5043A/O.5044A, * - 5045A, RR-RESERVED, --:Fails in Theory or Practical, RPV - PROVISIONAL Eligible, RCC - 0.5050, AB - ABSENT, F - UNSUCCESSFUL, P - SUCCESSFUL;
 NULL=NULL & VOID, G:Grade C*G:Gradepoints C:credits CP:credit points aCG:sum of product of credits & grades, Internal Marks are Provisional as per R.8668
 aC:sum of credit points GPA: aCG/aC
 MARKS : 0 to 39.99 40 to 44.99 45 to 49.99 50 to 59.99 60 to 69.99 70 to 74.99 75 to 79.99 80 to 100
 GRADE : F P E D C B A O
 GRADE POINT : 0.00 4.00 5.00 6.00 7.00 8.00 9.00 10.00



University of Mumbai, Mumbai

OFFICE REGISTER OF THE B.E. (with credits) - Regular - CBCS (Electronics and Telecommunication Engineering)- F.E. C-Scheme - Sem I [T01831] HELD IN Summer 2025 Result Declaration Date: 11 Jul 2025

58651-Engineering Mathematics-I: ThUA 80/32 ThCA 20/8 100/0 | 58652-Engineering Physics-I: ThUA 60/24 ThCA 15/6 75/0 | 58655-Engineering Chemistry-I: ThUA 60/24 ThCA 15/6 75/0 |
 58653-Engineering Mechanics: ThUA 80/32 ThCA 20/8 100/0 | 58654-Basic Electrical Engineering: ThUA 80/32 ThCA 20/8 100/0 | FEL101-Engineering Physics-I (TW): TwCA 25/10 25/0 |
 FEL102-Engineering Chemistry-I (TW): TwCA 25/10 25/0 | FEL103-Engineering Mechanics (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 | FEL104-Basic Electrical Engineering (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 |
 FEL105-Basic Workshop Practice-I: TwCA 50/20 50/0 | FEC101-Engineering Mathematics-I Term Work: TwCA 25/10 25/0 |

SEAT NO.	NAME OF THE CANDIDATE Mother Name PRN.	PAPER 1				PAPER 2				PAPER 3				PAPER 4				PAPER 5				PAPER 6				RESULT CR C*G SGPI GRADE			
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G				
CENTRE-COLLEGE		PAPER 7				PAPER 8				PAPER 9				PAPER 10				PAPER 11											
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G				
7094166	/ KALEL ASMITA NAVNATH BHARTI 2023016402109735 (5)Thane-(17)	58651 13F	8+	21		FEC101 13F	19+	19		58652 24+	7+	31		FEL101 13F	19+	19		58655 24+	10+	34		FEL102 13F	23+	23	18.00	Unsuccessful --			
		3.00	F	0.00	0.00	1.00	A	9.00	9.00	2.00	P	4.00	8.00	0.50	A	9.00	4.50	2.00	E	5.00	10.00	0.50	O	10.00	5.00	-- --			
		58653 13F	9+	22		FEL103 13F	21+	38		58654 32+	10+	42		FEL104 13F	21+	42		FEL105 13F	46+	46									
		3.00	F	0.00	0.00	1.00	A	9.00	9.00	3.00	P	4.00	12.00	1.00	O	10.00	10.00	1.00	O	10.00	10.00								
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																			
7094167	SIDDHESH MAHENDRA KAMBLE SAVITA 2022016402344117 (5)Thane-(17)	58651 17F	14+	31		FEC101 17F	15+	15		58652 24+	7+	31		FEL101 17F	20+	20		58655 24+	9+	33		FEL102 17F	23+	23	18.00	Unsuccessful --			
		3.00	F	0.00	0.00	1.00	C	7.00	7.00	2.00	P	4.00	8.00	0.50	O	10.00	5.00	2.00	P	4.00	8.00	0.50	O	10.00	5.00	-- --			
		58653 32+	13+	45		FEL103 32+	22+	43		58654 14F	13+	27		FEL104 32+	19+	35		FEL105 32+	45+	45									
		3.00	E	5.00	15.00	1.00	O	10.00	10.00	3.00	F	0.00	0.00	1.00	B	8.00	8.00	1.00	O	10.00	10.00								
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																			
7094168	KATKOLE CHIRAG RAJESH RANJANA 2023016402122063 (5)Thane-(17)	58651 32	8+	40		FEC101 32	21+	21		58652 24	6+	30		FEL101 32	20+	20		58655 25+	8+	33		FEL102 32	19+	19	18.00	Successful 100.50			
		3.00	P	4.00	12.00	1.00	O	10.00	10.00	2.00	P	4.00	8.00	0.50	O	10.00	5.00	2.00	P	4.00	8.00	0.50	A	9.00	4.50	5.58	--		
		58653 32+	10+	42		FEL103 32+	19+	40		58654 32	10+	42		FEL104 32+	19+	38		FEL105 32+	43+	43									
		3.00	P	4.00	12.00	1.00	O	10.00	10.00	3.00	P	4.00	12.00	1.00	A	9.00	9.00	1.00	O	10.00	10.00								
		Total Credit 18.00				FINAL CGPI 5.58				FINAL GRADE --																			

/ - FEMALE, # - 0.229A, @ - 0.5042A/O.5043A/O.5044A, * - 5045A, RR-RESERVED, --:Fails in Theory or Practical, RPV - PROVISIONAL Eligible, RCC - 0.5050, AB - ABSENT, F - UNSUCCESSFUL, P - SUCCESSFUL;
 NULL=NULL & VOID, G:Grade C*G:Gradepoints C:credits CP:credit points aCG:sum of product of credits & grades, Internal Marks are Provisional as per R.8668
 aC:sum of credit points GPA: aCG/aC
 MARKS : 0 to 39.99 40 to 44.99 45 to 49.99 50 to 59.99 60 to 69.99 70 to 74.99 75 to 79.99 80 to 100
 GRADE : F P E D C B A O
 GRADE POINT : 0.00 4.00 5.00 6.00 7.00 8.00 9.00 10.00



University of Mumbai, Mumbai

OFFICE REGISTER OF THE B.E. (with credits) - Regular - CBCS (Electronics and Telecommunication Engineering)- F.E. C-Scheme - Sem I [T01831] HELD IN Summer 2025 Result Declaration Date: 11 Jul 2025

58651-Engineering Mathematics-I: ThUA 80/32 ThCA 20/8 100/0 | 58652-Engineering Physics-I: ThUA 60/24 ThCA 15/6 75/0 | 58655-Engineering Chemistry-I: ThUA 60/24 ThCA 15/6 75/0 |
 58653-Engineering Mechanics: ThUA 80/32 ThCA 20/8 100/0 | 58654-Basic Electrical Engineering: ThUA 80/32 ThCA 20/8 100/0 | FEL101-Engineering Physics-I (TW): TwCA 25/10 25/0 |
 FEL102-Engineering Chemistry-I (TW): TwCA 25/10 25/0 | FEL103-Engineering Mechanics (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 | FEL104-Basic Electrical Engineering (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 |
 FEL105-Basic Workshop Practice-I: TwCA 50/20 50/0 | FEC101-Engineering Mathematics-I Term Work: TwCA 25/10 25/0 |

SEAT NO.	NAME OF THE CANDIDATE Mother Name PRN.	PAPER 1				PAPER 2				PAPER 3				PAPER 4				PAPER 5				PAPER 6				RESULT CR C*G SGPI GRADE			
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G				
CENTRE-COLLEGE		PAPER 7				PAPER 8				PAPER 9				PAPER 10				PAPER 11											
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G				
7094169	KHADSE VISHAL SUBHASH MANALI 2022016402351895 (5)Thane-(17)	58651 AA 3.00 F 	13+	13	13	FEC101 -- 	22+	22	22	58652 28+ 	12+	40	40	FEL101 -- 	22+	22	22	58655 24+ 	11+	35	35	FEL102 -- 	22+	22	22	18.00 -- 			
		3.00 F	0.00	0.00	1.00 O	10.00	10.00	10.00	2.00 D	6.00	12.00	10.00	0.50 O	10.00	5.00	10.00	2.00 E	5.00	10.00	10.00	0.50 O	10.00	5.00	10.00	10.00	10.00			
		58653 37+ 	11+	48	48	FEL103 -- 	21+	41	41	58654 38+ 	13+	51	51	FEL104 -- 	20+	37	37	FEL105 -- 	39+	39	39								
		3.00 E	5.00	15.00	1.00 O	10.00	10.00	10.00	3.00 D	6.00	18.00	10.00	1.00 B	8.00	8.00	10.00	1.00 A	9.00	9.00	10.00									
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																			
7094170	KUMBHAR SANCHIT SUNIL VAISHALI 2022016402351976 (5)Thane-(17)	58651 32+ 	8+	40	40	FEC101 -- 	12+	12	12	58652 24+ 	8+	32	32	FEL101 -- 	19+	19	19	58655 26+ 	7+	33	33	FEL102 -- 	20+	20	20	18.00 -- 			
		3.00 P	4.00	12.00	1.00 E	5.00	5.00	5.00	2.00 P	4.00	8.00	8.00	0.50 A	9.00	4.50	8.00	2.00 P	4.00	8.00	8.00	0.50 O	10.00	5.00	10.00	10.00	10.00			
		58653 34+ 	13+	47	47	FEL103 -- 	18+	34	34	58654 15F 	8+	23	23	FEL104 -- 	17+	33	33	FEL105 -- 	36+	36	36								
		3.00 E	5.00	15.00	1.00 C	7.00	7.00	7.00	3.00 F	0.00	0.00	0.00	1.00 C	7.00	7.00	7.00	1.00 B	8.00	8.00	8.00									
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																			
7094171	/ MANE MRUNALI DATTATRAY PRATIBHA 2023016402117255 (5)Thane-(17)	58651 1F 	8+	9	9	FEC101 -- 	22+	22	22	58652 24+ 	9+	33	33	FEL101 -- 	20+	20	20	58655 38+ 	12+	50	50	FEL102 -- 	23+	23	23	18.00 -- 			
		3.00 F	0.00	0.00	1.00 O	10.00	10.00	10.00	2.00 P	4.00	8.00	8.00	0.50 O	10.00	5.00	10.00	2.00 C	7.00	14.00	10.00	0.50 O	10.00	5.00	10.00	10.00	10.00			
		58653 32+ 	14+	46	46	FEL103 -- 	23+	45	45	58654 13F 	8+	21	21	FEL104 -- 	22+	44	44	FEL105 -- 	42+	42	42								
		3.00 E	5.00	15.00	1.00 O	10.00	10.00	10.00	3.00 F	0.00	0.00	0.00	1.00 O	10.00	10.00	10.00	1.00 O	10.00	10.00	10.00									
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																			

/ - FEMALE, # - 0.229A, @ - 0.5042A/O.5043A/O.5044A, * - 5045A, RR-RESERVED, --:Fails in Theory or Practical, RPV - PROVISIONAL Eligible, RCC - 0.5050, AB - ABSENT, F - UNSUCCESSFUL, P - SUCCESSFUL;
 NULL=NULL & VOID, G:Grade C*G:Gradepoints C:credits CP:credit points aCG:sum of product of credits & grades, Internal Marks are Provisional as per R.8668
 aC:sum of credit points GPA: aCG/aC
 MARKS : 0 to 39.99 40 to 44.99 45 to 49.99 50 to 59.99 60 to 69.99 70 to 74.99 75 to 79.99 80 to 100
 GRADE : F P E D C B A O
 GRADE POINT : 0.00 4.00 5.00 6.00 7.00 8.00 9.00 10.00



University of Mumbai, Mumbai

OFFICE REGISTER OF THE B.E. (with credits) - Regular - CBCS (Electronics and Telecommunication Engineering)- F.E. C-Scheme - Sem I [T01831] HELD IN Summer 2025 Result Declaration Date: 11 Jul 2025

58651-Engineering Mathematics-I: ThUA 80/32 ThCA 20/8 100/0 | 58652-Engineering Physics-I: ThUA 60/24 ThCA 15/6 75/0 | 58655-Engineering Chemistry-I: ThUA 60/24 ThCA 15/6 75/0 |
 58653-Engineering Mechanics: ThUA 80/32 ThCA 20/8 100/0 | 58654-Basic Electrical Engineering: ThUA 80/32 ThCA 20/8 100/0 | FEL101-Engineering Physics-I (TW): TwCA 25/10 25/0 |
 FEL102-Engineering Chemistry-I (TW): TwCA 25/10 25/0 | FEL103-Engineering Mechanics (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 | FEL104-Basic Electrical Engineering (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 |
 FEL105-Basic Workshop Practice-I: TwCA 50/20 50/0 | FEC101-Engineering Mathematics-I Term Work: TwCA 25/10 25/0 |

SEAT NO.	NAME OF THE CANDIDATE Mother Name PRN.	PAPER 1				PAPER 2				PAPER 3				PAPER 4				PAPER 5				PAPER 6				RESULT CR C*G SGPI GRADE			
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G				
CENTRE-COLLEGE		PAPER 7				PAPER 8				PAPER 9				PAPER 10				PAPER 11											
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G				
7094172	/ MOHITE DIVYA BHAIRU SUNITA 2023016402095571 (5)Thane-(17)	58651 35+	11+	46		FEC101 17+	17			58652 13F	6+	19		FEL101 17+	20+	20		58655 34+	13+	47		FEL102 17+	22+	22	Unsuccessful 18.00 --				
		3.00	E	5.00	15.00	1.00	C	7.00	7.00	2.00	F	0.00	0.00	0.50	O	10.00	5.00	2.00	C	7.00	14.00	0.50	O	10.00	5.00	-- --			
		58653 33+	15+	48		FEL103 20+	41			58654 32+	13+	45		FEL104 15+	30			FEL105 15+	43+	43									
		3.00	E	5.00	15.00	1.00	O	10.00	10.00	3.00	E	5.00	15.00	1.00	C	7.00	7.00	1.00	O	10.00	10.00								
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																			
7094173	MORE PRASHANT DADASO MANISHA 2023016402091573 (5)Thane-(17)	58651 38+	13+	51		FEC101 18+	18			58652 19F	8+	27		FEL101 18+	21+	21		58655 31+	10+	41		FEL102 18+	22+	22	Unsuccessful 18.00 --				
		3.00	D	6.00	18.00	1.00	B	8.00	8.00	2.00	F	0.00	0.00	0.50	O	10.00	5.00	2.00	D	6.00	12.00	0.50	O	10.00	5.00	-- --			
		58653 32+	18+	50		FEL103 22+	41			58654 46+	12+	58		FEL104 12+	24			FEL105 46+	46										
		3.00	D	6.00	18.00	1.00	O	10.00	10.00	3.00	D	6.00	18.00	1.00	E	5.00	5.00	1.00	O	10.00	10.00								
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																			
7094174	ARYA KISHOR NAIK SHUBHANGI KISHOR NAIK 2022016402352225 (5)Thane-(17)	58651 34+	10+	44		FEC101 14+	14			58652 10F	8+	18		FEL101 18+	20+	20		58655 27+	7+	34		FEL102 18+	21+	21	Unsuccessful 18.00 --				
		3.00	P	4.00	12.00	1.00	D	6.00	6.00	2.00	F	0.00	0.00	0.50	O	10.00	5.00	2.00	E	5.00	10.00	0.50	O	10.00	5.00	-- --			
		58653 32+	8+	40		FEL103 17+	34			58654 32+	10+	42		FEL104 10+	25			FEL105 46+	46										
		3.00	P	4.00	12.00	1.00	C	7.00	7.00	3.00	P	4.00	12.00	1.00	D	6.00	6.00	1.00	O	10.00	10.00								
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																			

/ - FEMALE, # - 0.229A, @ - 0.5042A/O.5043A/O.5044A, * - 5045A, RR-RESERVED, --:Fails in Theory or Practical, RPV - PROVISIONAL Eligible, RCC - 0.5050, AB - ABSENT, F - UNSUCCESSFUL, P - SUCCESSFUL;
 NULL=NULL & VOID, G:Grade C*G:Gradepoints C:credits CP:credit points aCG:sum of product of credits & grades, Internal Marks are Provisional as per R.8668
 aC:sum of credit points GPA: aCG/aC
 MARKS : 0 to 39.99 40 to 44.99 45 to 49.99 50 to 59.99 60 to 69.99 70 to 74.99 75 to 79.99 80 to 100
 GRADE : F P E D C B A O
 GRADE POINT : 0.00 4.00 5.00 6.00 7.00 8.00 9.00 10.00



University of Mumbai, Mumbai

OFFICE REGISTER OF THE B.E. (with credits) - Regular - CBCS(Electronics and Telecommunication Engineering)- F.E. C-Scheme - Sem I [1T01831] HELD IN Summer 2025 Result Declaration Date:11 Jul 2025

58651-Engineering Mathematics-I: ThUA 80/32 ThCA 20/8 100/0 | 58652-Engineering Physics-I: ThUA 60/24 ThCA 15/6 75/0 | 58655-Engineering Chemistry-I: ThUA 60/24 ThCA 15/6 75/0 |
 58653-Engineering Mechanics: ThUA 80/32 ThCA 20/8 100/0 | 58654-Basic Electrical Engineering: ThUA 80/32 ThCA 20/8 100/0 | FEL101-Engineering Physics-I (TW): TwCA 25/10 25/0 |
 FEL102-Engineering Chemistry-I (TW): TwCA 25/10 25/0 | FEL103-Engineering Mechanics (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 | FEL104-Basic Electrical Engineering (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 |
 FEL105-Basic Workshop Practice-I: TwCA 50/20 50/0 | FEC101-Engineering Mathematics-I Term Work: TwCA 25/10 25/0 |

SEAT NO.	NAME OF THE CANDIDATE Mother Name PRN.	PAPER 1				PAPER 2				PAPER 3				PAPER 4				PAPER 5				PAPER 6				RESULT CR C*G SGPI GRADE																		
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G																			
CENTRE-COLLEGE		PAPER 7				PAPER 8				PAPER 9				PAPER 10				PAPER 11																										
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G																			
7094175	PALVE ARJUN SUKHDEV SANGITA 2023016402078487 (5)Thane-(17)	58651 32+ 14+ 46 3.00 E 5.00 15.00	FEC101 15+ 15 7.00 7.00	58652 1F 9+ 10 2.00 F 0.00 0.00	FEL101 20+ 20 10.00 5.00	58655 24E 7+ 31 2.00 P 4.00 8.00	FEL102 21+ 21 10.00 5.00	Unsuccessful 18.00 -- -- --	58653 32+ 8+ 40 3.00 P 4.00 12.00	FEL103 20+ 38 9.00 9.00	58654 39+ 8+ 47 3.00 E 5.00 15.00	FEL104 18+ 36 8.00 8.00	FEL105 39+ 39 9.00 9.00	Total Credit 18.00 FINAL CGPI -- FINAL GRADE --	7094176	PATIL DIPESH NARAYAN ANITA 2023016402117263 (5)Thane-(17)	58651 6F 8+ 14 3.00 F 0.00 0.00	FEC101 19+ 19 9.00 9.00	58652 3F 6+ 9 2.00 F 0.00 0.00	FEL101 21+ 21 10.00 5.00	58655 7F 6+ 13 2.00 F 0.00 0.00	FEL102 20+ 20 10.00 5.00	Unsuccessful 18.00 -- -- --	58653 1F 8+ 9 3.00 F 0.00 0.00	FEL103 21+ 37 8.00 8.00	58654 5F 10+ 15 3.00 F 0.00 0.00	FEL104 10+ 20 4.00 4.00	FEL105 43+ 43 10.00 10.00	Total Credit 18.00 FINAL CGPI -- FINAL GRADE --	7094177	PATIL DIVYESH CHHAGAN KRANTI 2023016402117232 (5)Thane-(17)	58651 17F 8+ 25 3.00 F 0.00 0.00	FEC101 19+ 19 9.00 9.00	58652 17F 6+ 23 2.00 F 0.00 0.00	FEL101 20+ 20 10.00 5.00	58655 5F 6+ 11 2.00 F 0.00 0.00	FEL102 22+ 22 10.00 5.00	Unsuccessful 18.00 -- -- --	58653 1F 8+ 9 3.00 F 0.00 0.00	FEL103 22+ 40 10.00 10.00	58654 1F 9+ 10 3.00 F 0.00 0.00	FEL104 10+ 20 4.00 4.00	FEL105 43+ 43 10.00 10.00	Total Credit 18.00 FINAL CGPI -- FINAL GRADE --

/ - FEMALE, # - 0.229A,@ - 0.5042A/O.5043A/O.5044A,* - 5045A, RR-RESERVED, --:Fails in Theory or Practical, RPV - PROVISIONAL Eligible, RCC - 0.5050, AB - ABSENT, F - UNSUCCESSFUL,P - SUCCESSFUL;
 NULL=NULL & VOID, G:Grade C*G:Gradepoints C:credits CP:credit points aCG:sum of product of credits & grades, Internal Marks are Provisional as per R.8668
 aC:sum of credit points GPA: aCG/aC
 MARKS : 0 to 39.99 40 to 44.99 45 to 49.99 50 to 59.99 60 to 69.99 70 to 74.99 75 to 79.99 80 to 100
 GRADE : F P E D C B A O
 GRADE POINT : 0.00 4.00 5.00 6.00 7.00 8.00 9.00 10.00



University of Mumbai, Mumbai

OFFICE REGISTER OF THE B.E. (with credits) - Regular - CBCS(Electronics and Telecommunication Engineering)- F.E. C-Scheme - Sem I [1T01831] HELD IN Summer 2025 Result Declaration Date:11 Jul 2025

58651-Engineering Mathematics-I: ThUA 80/32 ThCA 20/8 100/0 | 58652-Engineering Physics-I: ThUA 60/24 ThCA 15/6 75/0 | 58655-Engineering Chemistry-I: ThUA 60/24 ThCA 15/6 75/0 |
 58653-Engineering Mechanics: ThUA 80/32 ThCA 20/8 100/0 | 58654-Basic Electrical Engineering: ThUA 80/32 ThCA 20/8 100/0 | FEL101-Engineering Physics-I (TW): TwCA 25/10 25/0 |
 FEL102-Engineering Chemistry-I (TW): TwCA 25/10 25/0 | FEL103-Engineering Mechanics (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 | FEL104-Basic Electrical Engineering (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 |
 FEL105-Basic Workshop Practice-I: TwCA 50/20 50/0 | FEC101-Engineering Mathematics-I Term Work: TwCA 25/10 25/0 |

SEAT NO.	NAME OF THE CANDIDATE Mother Name PRN.	PAPER 1				PAPER 2				PAPER 3				PAPER 4				PAPER 5				PAPER 6				RESULT CR C*G SGPI GRADE			
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G				
CENTRE-COLLEGE		PAPER 7				PAPER 8				PAPER 9				PAPER 10				PAPER 11											
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G
7094181	PITLA MANIDEEP SAIKRISHNA MAHESHWARI 2023016402116944 (5)Thane-(17)	58651 32+	12+	44		FEC101 --	18+	18		58652 25+	11+	36		FEL101 --	21+	21		58655 24+	8+	32		FEL102 --	19+	19		Successful 18.00 110.50 6.14 --			
		3.00	P	4.00	12.00	1.00	B	8.00	8.00	2.00	E	5.00	10.00	0.50	O	10.00	5.00	2.00	P	4.00	8.00	0.50	A	9.00	4.50				
		58653 45	10+	55		FEL103 --	20+	38		58654 47+	11+	58		FEL104 --	19+	38		FEL105 --	39+	39									
		3.00	D	6.00	18.00	1.00	A	9.00	9.00	3.00	D	6.00	18.00	1.00	A	9.00	9.00	1.00	A	9.00	9.00								
		Total Credit 18.00				FINAL CGPI 6.14				FINAL GRADE --																			
7094182	RATHOD VANSH POPAT RANJANA 2023016402116913 (5)Thane-(17)	58651 32+	11+	43		FEC101 --	18+	18		58652 24	8+	32		FEL101 --	21+	21		58655 27+	9+	36		FEL102 --	20+	20		Successful 18.00 97.00 5.39 --			
		3.00	P	4.00	12.00	1.00	B	8.00	8.00	2.00	P	4.00	8.00	0.50	O	10.00	5.00	2.00	E	5.00	10.00	0.50	O	10.00	5.00				
		58653 35+	8+	43		FEL103 --	22+	41		58654 37+	12+	49		FEL104 --	10+	20		FEL105 --	37+	37									
		3.00	P	4.00	12.00	1.00	O	10.00	10.00	3.00	E	5.00	15.00	1.00	P	4.00	4.00	1.00	B	8.00	8.00								
		Total Credit 18.00				FINAL CGPI 5.39				FINAL GRADE --																			
7094183	SALUNKE PAYAL DEEPAK MANDA 2023016402116743 (5)Thane-(17)	58651 32	12+	44		FEC101 --	21+	21		58652 33+	9+	42		FEL101 --	20+	20		58655 32+	12+	44		FEL102 --	22+	22		Successful 18.00 112.00 6.22 --			
		3.00	P	4.00	12.00	1.00	O	10.00	10.00	2.00	D	6.00	12.00	0.50	O	10.00	5.00	2.00	D	6.00	12.00	0.50	O	10.00	5.00				
		58653 34+	12+	46		FEL103 --	23+	42		58654 32+	16+	48		FEL104 --	13+	26		FEL105 --	45+	45									
		3.00	E	5.00	15.00	1.00	O	10.00	10.00	3.00	E	5.00	15.00	1.00	D	6.00	6.00	1.00	O	10.00	10.00								
		Total Credit 18.00				FINAL CGPI 6.22				FINAL GRADE --																			

/ - FEMALE, # - 0.229A,@ - 0.5042A/O.5043A/O.5044A,* - 5045A, RR-RESERVED, --:Fails in Theory or Practical, RPV - PROVISIONAL Eligible, RCC - 0.5050, AB - ABSENT, F - UNSUCCESSFUL,P - SUCCESSFUL;
 NULL=NULL & VOID, G:Grade C*G:Gradepoints C:credits CP:credit points aCG:sum of product of credits & grades, Internal Marks are Provisional as per R.8668
 aC:sum of credit points GPA: aCG/aC
 MARKS : 0 to 39.99 40 to 44.99 45 to 49.99 50 to 59.99 60 to 69.99 70 to 74.99 75 to 79.99 80 to 100
 GRADE : F P E D C B A O
 GRADE POINT : 0.00 4.00 5.00 6.00 7.00 8.00 9.00 10.00



University of Mumbai, Mumbai

OFFICE REGISTER OF THE B.E. (with credits) - Regular - CBCS(Electronics and Telecommunication Engineering)- F.E. C-Scheme - Sem I [1T01831] HELD IN Summer 2025 Result Declaration Date:11 Jul 2025

58651-Engineering Mathematics-I: ThUA 80/32 ThCA 20/8 100/0 | 58652-Engineering Physics-I: ThUA 60/24 ThCA 15/6 75/0 | 58655-Engineering Chemistry-I: ThUA 60/24 ThCA 15/6 75/0 |
 58653-Engineering Mechanics: ThUA 80/32 ThCA 20/8 100/0 | 58654-Basic Electrical Engineering: ThUA 80/32 ThCA 20/8 100/0 | FEL101-Engineering Physics-I (TW): TwCA 25/10 25/0 |
 FEL102-Engineering Chemistry-I (TW): TwCA 25/10 25/0 | FEL103-Engineering Mechanics (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 | FEL104-Basic Electrical Engineering (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 |
 FEL105-Basic Workshop Practice-I: TwCA 50/20 50/0 | FEC101-Engineering Mathematics-I Term Work: TwCA 25/10 25/0 |

SEAT NO.	NAME OF THE CANDIDATE Mother Name PRN.	PAPER 1				PAPER 2				PAPER 3				PAPER 4				PAPER 5				PAPER 6				RESULT CR C*G SGPI GRADE			
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G				
CENTRE-COLLEGE		PAPER 7				PAPER 8				PAPER 9				PAPER 10				PAPER 11											
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G
7094184	SAWANT RUDRA VASANTKUMAR NUTAN 2023016402117456 (5)Thane-(17)	58651 37		14+	51	FEC101 ---		21+	21	58652 31+		8+	39	FEL101 ---		20+	20	58655 30+		11+	41	FEL102 ---		20+	20	Successful 18.00 119.00			
		3.00	D	6.00	18.00	1.00	O	10.00	10.00	2.00	D	6.00	12.00	0.50	O	10.00	5.00	2.00	D	6.00	12.00	0.50	O	10.00	5.00	6.61 --			
		58653 32+		8+	40	FEL103 ---		22+	40	58654 32+		16+	48	FEL104 ---		20+	40	58655 ---		46+	46	FEL105 ---							
		3.00	P	4.00	12.00	1.00	O	10.00	10.00	3.00	E	5.00	15.00	1.00	O	10.00	10.00	1.00	O	10.00	10.00								
		Total Credit 18.00				FINAL CGPI 6.61				FINAL GRADE --																			
7094185	SHAHARE TEJAS SANJEEVKUMAR JYOTI 2023016402117046 (5)Thane-(17)	58651 32		8+	40	FEC101 ---		14+	14	58652 28+		7+	35	FEL101 ---		21+	21	58655 27+		8+	35	FEL102 ---		22+	22	Successful 18.00 99.00			
		3.00	P	4.00	12.00	1.00	D	6.00	6.00	2.00	E	5.00	10.00	0.50	O	10.00	5.00	2.00	E	5.00	10.00	0.50	O	10.00	5.00	5.50 --			
		58653 32+		9+	41	FEL103 ---		20+	40	58654 36+		12+	48	FEL104 ---		16+	32	58655 ---		30+	30	FEL105 ---							
		3.00	P	4.00	12.00	1.00	O	10.00	10.00	3.00	E	5.00	15.00	1.00	C	7.00	7.00	1.00	C	7.00	7.00								
		Total Credit 18.00				FINAL CGPI 5.50				FINAL GRADE --																			
7094186	WADHE GANESH VASUDEO SHOBHA 2023016402081466 (5)Thane-(17)	58651 14F		10+	24	FEC101 ---		18+	18	58652 24+		7+	31	FEL101 ---		20+	20	58655 35+		8+	43	FEL102 ---		23+	23	Unsuccessful 18.00 --			
		3.00	F	0.00	0.00	1.00	B	8.00	8.00	2.00	P	4.00	8.00	0.50	O	10.00	5.00	2.00	D	6.00	12.00	0.50	O	10.00	5.00	-- --			
		58653 32+		8+	40	FEL103 ---		19+	38	58654 28F		14+	42	FEL104 ---		19+	38	58655 ---		45+	45	FEL105 ---							
		3.00	P	4.00	12.00	1.00	A	9.00	9.00	3.00	F	0.00	0.00	1.00	A	9.00	9.00	1.00	O	10.00	10.00								
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																			

/ - FEMALE, # - 0.229A,@ - 0.5042A/O.5043A/O.5044A,* - 5045A, RR-RESERVED, ---Fails in Theory or Practical, RPV - PROVISIONAL Eligible, RCC - 0.5050, AB - ABSENT, F - UNSUCCESSFUL,P - SUCCESSFUL;
 NULL=NULL & VOID, G:Grade C*G:Gradepoints C:credits CP:credit points aCG:sum of product of credits & grades, Internal Marks are Provisional as per R.8668
 aC:sum of credit points GPA: aCG/aC
 MARKS : 0 to 39.99 40 to 44.99 45 to 49.99 50 to 59.99 60 to 69.99 70 to 74.99 75 to 79.99 80 to 100
 GRADE : F P E D C B A O
 GRADE POINT : 0.00 4.00 5.00 6.00 7.00 8.00 9.00 10.00



University of Mumbai, Mumbai

OFFICE REGISTER OF THE B.E. (with credits) - Regular - CBCS(Electronics and Telecommunication Engineering)- F.E. C-Scheme - Sem I [1T01831] HELD IN Summer 2025 Result Declaration Date:11 Jul 2025

58651-Engineering Mathematics-I: ThUA 80/32 ThCA 20/8 100/0 | 58652-Engineering Physics-I: ThUA 60/24 ThCA 15/6 75/0 | 58655-Engineering Chemistry-I: ThUA 60/24 ThCA 15/6 75/0 |
 58653-Engineering Mechanics: ThUA 80/32 ThCA 20/8 100/0 | 58654-Basic Electrical Engineering: ThUA 80/32 ThCA 20/8 100/0 | FEL101-Engineering Physics-I (TW): TwCA 25/10 25/0 |
 FEL102-Engineering Chemistry-I (TW): TwCA 25/10 25/0 | FEL103-Engineering Mechanics (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 | FEL104-Basic Electrical Engineering (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 |
 FEL105-Basic Workshop Practice-I: TwCA 50/20 50/0 | FEC101-Engineering Mathematics-I Term Work: TwCA 25/10 25/0 |

SEAT NO.	NAME OF THE CANDIDATE Mother Name PRN.	PAPER 1				PAPER 2				PAPER 3				PAPER 4				PAPER 5				PAPER 6				RESULT CR C*G SGPI GRADE			
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G				
CENTRE-COLLEGE		PAPER 7				PAPER 8				PAPER 9				PAPER 10				PAPER 11											
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G
7094187	YASH SAMPAT ZAWARE SUNITA 2023016402106451 (5)Thane-(17)	58651 44	15+	59		FEC101 --	21+	21		58652 24+	8+	32		FEL101 --	20+	20		58655 24+	13+	37		FEL102 --	21+	21	18.00	113.00	Successful		
		3.00	D	6.00	18.00	1.00	O	10.00	10.00	2.00	P	4.00	8.00	0.50	O	10.00	5.00	2.00	E	5.00	10.00	0.50	O	10.00	5.00	6.28	--		
		58653 33	12+	45		FEL103 --	20+	37		58654 33+	16+	49		FEL104 --	19+	38		FEL105 --	40+	40									
		3.00	E	5.00	15.00	1.00	B	8.00	8.00	3.00	E	5.00	15.00	1.00	A	9.00	9.00	1.00	O	10.00	10.00								
		Total Credit 18.00				FINAL CGPI 6.28				FINAL GRADE --																			
7094188	AVHAD PRATIK BHAUSAHEB MANGAL 2022016402229891 (5)Thane-(237)	58651 34+	10+	44		FEC101 --	14+	14		58652 24+	8+	32		FEL101 --	23+	23		58655 27+	9+	36		FEL102 --	22+	22	18.00	--	Unsuccessful		
		3.00	P	4.00	12.00	1.00	D	6.00	6.00	2.00	P	4.00	8.00	0.50	O	10.00	5.00	2.00	E	5.00	10.00	0.50	O	10.00	5.00	--	--		
		58653 1F	12+	13		FEL103 --	19+	37		58654 39+	11+	50		FEL104 --	16+	30		FEL105 --	40+	40									
		3.00	F	0.00	0.00	1.00	B	8.00	8.00	3.00	D	6.00	18.00	1.00	C	7.00	7.00	1.00	O	10.00	10.00								
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																			
7094189	BENGALE SAKSHAM SANJAY SWATI 2023016402109503 (5)Thane-(237)	58651 32	11+	43		FEC101 --	20+	20		58652 25+	9+	34		FEL101 --	16+	16		58655 26+	6+	32		FEL102 --	16+	16	18.00	102.00	Successful		
		3.00	P	4.00	12.00	1.00	O	10.00	10.00	2.00	E	5.00	10.00	0.50	C	7.00	3.50	2.00	P	4.00	8.00	0.50	C	7.00	3.50	5.67	--		
		58653 41	8+	49		FEL103 --	19+	35		58654 32+	13+	45		FEL104 --	18+	33		FEL105 --	42+	42									
		3.00	E	5.00	15.00	1.00	B	8.00	8.00	3.00	E	5.00	15.00	1.00	C	7.00	7.00	1.00	O	10.00	10.00								
		Total Credit 18.00				FINAL CGPI 5.67				FINAL GRADE --																			

/ - FEMALE, # - 0.229A,@ - 0.5042A/O.5043A/O.5044A, * - 5045A, RR-RESERVED, --:Fails in Theory or Practical, RPV - PROVISIONAL Eligible, RCC - 0.5050, AB - ABSENT, F - UNSUCCESSFUL,P - SUCCESSFUL;
 NULL=NULL & VOID, G:Grade C*G:Gradepoints C:credits CP:credit points aCG:sum of product of credits & grades, Internal Marks are Provisional as per R.8668
 aC:sum of credit points GPA: aCG/aC
 MARKS : 0 to 39.99 40 to 44.99 45 to 49.99 50 to 59.99 60 to 69.99 70 to 74.99 75 to 79.99 80 to 100
 GRADE : F P E D C B A O
 GRADE POINT : 0.00 4.00 5.00 6.00 7.00 8.00 9.00 10.00



University of Mumbai, Mumbai

OFFICE REGISTER OF THE B.E. (with credits) - Regular - CBCS(Electronics and Telecommunication Engineering)- F.E. C-Scheme - Sem I [T01831] HELD IN Summer 2025 Result Declaration Date:11 Jul 2025

58651-Engineering Mathematics-I: ThUA 80/32 ThCA 20/8 100/0 | 58652-Engineering Physics-I: ThUA 60/24 ThCA 15/6 75/0 | 58655-Engineering Chemistry-I: ThUA 60/24 ThCA 15/6 75/0 |
 58653-Engineering Mechanics: ThUA 80/32 ThCA 20/8 100/0 | 58654-Basic Electrical Engineering: ThUA 80/32 ThCA 20/8 100/0 | FEL101-Engineering Physics-I (TW): TwCA 25/10 25/0 |
 FEL102-Engineering Chemistry-I (TW): TwCA 25/10 25/0 | FEL103-Engineering Mechanics (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 | FEL104-Basic Electrical Engineering (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 |
 FEL105-Basic Workshop Practice-I: TwCA 50/20 50/0 | FEC101-Engineering Mathematics-I Term Work: TwCA 25/10 25/0 |

SEAT NO.	NAME OF THE CANDIDATE Mother Name PRN.	PAPER 1				PAPER 2				PAPER 3				PAPER 4				PAPER 5				PAPER 6				RESULT CR C*G SGPI GRADE			
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G				
CENTRE-COLLEGE		PAPER 7				PAPER 8				PAPER 9				PAPER 10				PAPER 11											
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G				
7094190	/ ASHWINI RAMESHWAR BHAGAT LALITA 2022016402238441 (5)Thane-(237)	58651 24F	8+	32		FEC101 ---	12+	12		58652 24+	6+	30		FEL101 ---	22+	22		58655 24+	7+	31		FEL102 ---	20+	20	18.00	--			
		3.00	F	0.00	0.00	1.00	E	5.00	5.00	2.00	P	4.00	8.00	0.50	O	10.00	5.00	2.00	P	4.00	8.00	0.50	O	10.00	5.00	--	--		
		58653 32E	9+	41		FEL103 ---	21+	41		58654 34E	8+	42		FEL104 ---	15+	28		FEL105 ---	41+	41									
		3.00	P	4.00	12.00	1.00	O	10.00	10.00	3.00	P	4.00	12.00	1.00	D	6.00	6.00	1.00	O	10.00	10.00								
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																			
7094191	SIDDHARTH BALU BORGE SHARADA 2022016402230797 (5)Thane-(237)	58651 32+	8+	40		FEC101 ---	17+	17		58652 14F	7+	21		FEL101 ---	18+	18		58655 28+	8+	36		FEL102 ---	20+	20	18.00	--			
		3.00	P	4.00	12.00	1.00	C	7.00	7.00	2.00	F	0.00	0.00	0.50	B	8.00	4.00	2.00	E	5.00	10.00	0.50	O	10.00	5.00	--	--		
		58653 8F	11+	19		FEL103 ---	19+	39		58654 32+	9+	41		FEL104 ---	15+	32		FEL105 ---	40+	40									
		3.00	F	0.00	0.00	1.00	A	9.00	9.00	3.00	P	4.00	12.00	1.00	C	7.00	7.00	1.00	O	10.00	10.00								
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																			
7094192	CHODHARI ARYA PRAVIN ROHINI 2023016402097001 (5)Thane-(237)	58651 32E	12+	44		FEC101 ---	21+	21		58652 24E	7+	31		FEL101 ---	16+	16		58655 24+	6+	30		FEL102 ---	19+	19	18.00	--			
		3.00	P	4.00	12.00	1.00	O	10.00	10.00	2.00	P	4.00	8.00	0.50	C	7.00	3.50	2.00	P	4.00	8.00	0.50	A	9.00	4.50	--	--		
		58653 20F	8+	28		FEL103 ---	18+	33		58654 32E	8+	40		FEL104 ---	12+	24		FEL105 ---	42+	42									
		3.00	F	0.00	0.00	1.00	C	7.00	7.00	3.00	P	4.00	12.00	1.00	E	5.00	5.00	1.00	O	10.00	10.00								
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																			

/ - FEMALE, # - 0.229A,@ - 0.5042A/O.5043A/O.5044A,* - 5045A, RR-RESERVED, --:Fails in Theory or Practical, RPV - PROVISIONAL Eligible, RCC - 0.5050, AB - ABSENT, F - UNSUCCESSFUL,P - SUCCESSFUL;
 NULL=NULL & VOID, G:Grade C*G:Gradepoints C:credits CP:credit points aCG:sum of product of credits & grades, Internal Marks are Provisional as per R.8668
 aC:sum of credit points GPA: aCG/aC
 MARKS : 0 to 39.99 40 to 44.99 45 to 49.99 50 to 59.99 60 to 69.99 70 to 74.99 75 to 79.99 80 to 100
 GRADE : F P E D C B A O
 GRADE POINT : 0.00 4.00 5.00 6.00 7.00 8.00 9.00 10.00



University of Mumbai, Mumbai

OFFICE REGISTER OF THE B.E. (with credits) - Regular - CBCS(Electronics and Telecommunication Engineering)- F.E. C-Scheme - Sem I [T01831] HELD IN Summer 2025 Result Declaration Date:11 Jul 2025

58651-Engineering Mathematics-I: ThUA 80/32 ThCA 20/8 100/0 | 58652-Engineering Physics-I: ThUA 60/24 ThCA 15/6 75/0 | 58655-Engineering Chemistry-I: ThUA 60/24 ThCA 15/6 75/0 |
 58653-Engineering Mechanics: ThUA 80/32 ThCA 20/8 100/0 | 58654-Basic Electrical Engineering: ThUA 80/32 ThCA 20/8 100/0 | FEL101-Engineering Physics-I (TW): TwCA 25/10 25/0 |
 FEL102-Engineering Chemistry-I (TW): TwCA 25/10 25/0 | FEL103-Engineering Mechanics (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 | FEL104-Basic Electrical Engineering (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 |
 FEL105-Basic Workshop Practice-I: TwCA 50/20 50/0 | FEC101-Engineering Mathematics-I Term Work: TwCA 25/10 25/0 |

SEAT NO.	NAME OF THE CANDIDATE Mother Name PRN.	PAPER 1				PAPER 2				PAPER 3				PAPER 4				PAPER 5				PAPER 6				RESULT CR C*G SGPI GRADE	
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G		
CENTRE-COLLEGE		PAPER 7				PAPER 8				PAPER 9				PAPER 10				PAPER 11									
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G		
7094193	/ NANDINI MAHENDRA DESAI MANSI 2023016402103166 (5)Thane-(237)	58651 13F	9+	22		FEC101 --	22+	22		58652 13F	6+	19		FEL101 --	20+	20		58655 13+	6+	37		FEL102 --	23+	23	Unsuccessful 18.00 --		
		3.00	F	0.00	0.00	1.00	O	10.00	10.00	2.00	F	0.00	0.00	0.50	O	10.00	5.00	2.00	E	5.00	10.00	0.50	O	10.00	5.00	-- --	
		58653 19F	16+	35		FEL103 --	22+	44		58654 13+	10+	44		FEL104 --	20+	36		FEL105 --	42+	42							
		3.00	F	0.00	0.00	1.00	O	10.00	10.00	3.00	P	4.00	12.00	1.00	B	8.00	8.00	1.00	O	10.00	10.00						
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																	
7094194	DESHMUKH PRANAV CHANDRAKANT ANITA 2023016402099174 (5)Thane-(237)	58651 13+	9+	41		FEC101 --	20+	20		58652 9F	7+	16		FEL101 --	17+	17		58655 AA	6+	6		FEL102 --	20+	20	Unsuccessful 18.00 --		
		3.00	P	4.00	12.00	1.00	O	10.00	10.00	2.00	F	0.00	0.00	0.50	C	7.00	3.50	2.00	F	0.00	0.00	0.50	O	10.00	5.00	-- --	
		58653 12F	10+	22		FEL103 --	19+	31		58654 13+	17+	51		FEL104 --	15+	26		FEL105 --	42+	42							
		3.00	F	0.00	0.00	1.00	C	7.00	7.00	3.00	D	6.00	18.00	1.00	D	6.00	6.00	1.00	O	10.00	10.00						
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																	
7094195	PARIKSHIT NALINI 2022016402249825 (5)Thane-(237)	58651 19F	8+	27		FEC101 --	11+	11		58652 12+	6+	30		FEL101 --	16+	16		58655 12+	8+	32		FEL102 --	16+	16	Unsuccessful 18.00 --		
		3.00	F	0.00	0.00	1.00	P	4.00	4.00	2.00	P	4.00	8.00	0.50	C	7.00	3.50	2.00	P	4.00	8.00	0.50	C	7.00	3.50	-- --	
		58653 12F	8+	20		FEL103 --	17+	33		58654 13+	8+	45		FEL104 --	14+	24		FEL105 --	40+	40							
		3.00	F	0.00	0.00	1.00	C	7.00	7.00	3.00	E	5.00	15.00	1.00	E	5.00	5.00	1.00	O	10.00	10.00						
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																	

/ - FEMALE, # - 0.229A,@ - 0.5042A/O.5043A/O.5044A, * - 5045A, RR-RESERVED, --:Fails in Theory or Practical, RPV - PROVISIONAL Eligible, RCC - 0.5050, AB - ABSENT, F - UNSUCCESSFUL,P - SUCCESSFUL;
 NULL=NULL & VOID, G:Grade C*G:Gradepoints C:credits CP:credit points aCG:sum of product of credits & grades, Internal Marks are Provisional as per R.8668
 aC:sum of credit points GPA: aCG/aC
 MARKS : 0 to 39.99 40 to 44.99 45 to 49.99 50 to 59.99 60 to 69.99 70 to 74.99 75 to 79.99 80 to 100
 GRADE : F P E D C B A O
 GRADE POINT : 0.00 4.00 5.00 6.00 7.00 8.00 9.00 10.00



University of Mumbai, Mumbai

OFFICE REGISTER OF THE B.E. (with credits) - Regular - CBCS (Electronics and Telecommunication Engineering)- F.E. C-Scheme - Sem I [1T01831] HELD IN Summer 2025 Result Declaration Date: 11 Jul 2025

58651-Engineering Mathematics-I: ThUA 80/32 ThCA 20/8 100/0 | 58652-Engineering Physics-I: ThUA 60/24 ThCA 15/6 75/0 | 58655-Engineering Chemistry-I: ThUA 60/24 ThCA 15/6 75/0 |
 58653-Engineering Mechanics: ThUA 80/32 ThCA 20/8 100/0 | 58654-Basic Electrical Engineering: ThUA 80/32 ThCA 20/8 100/0 | FEL101-Engineering Physics-I (TW): TwCA 25/10 25/0 |
 FEL102-Engineering Chemistry-I (TW): TwCA 25/10 25/0 | FEL103-Engineering Mechanics (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 | FEL104-Basic Electrical Engineering (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 |
 FEL105-Basic Workshop Practice-I: TwCA 50/20 50/0 | FEC101-Engineering Mathematics-I Term Work: TwCA 25/10 25/0 |

SEAT NO.	NAME OF THE CANDIDATE Mother Name PRN.	PAPER 1				PAPER 2				PAPER 3				PAPER 4				PAPER 5				PAPER 6				RESULT CR C*G SGPI GRADE			
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G				
CENTRE-COLLEGE		PAPER 7				PAPER 8				PAPER 9				PAPER 10				PAPER 11											
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G
7094196	HARSHAL SAVITA 2023016402075872 (5)Thane-(237)	58651 32+	11+	43		FEC101 --	20+	20		58652 26+	6+	32		FEL101 --	16+	16		58655 24+	6+	30		FEL102 --	20+	20	18.00 --				
		3.00	P	4.00	12.00	1.00	O	10.00	10.00	2.00	P	4.00	8.00	0.50	C	7.00	3.50	2.00	P	4.00	8.00	0.50	O	10.00	5.00	-- --			
		58653 21F	11+	32		FEL103 --	14+	31		58654 32+	8+	40		FEL104 --	16+	32		FEL105 --	42+	42									
		3.00	F	0.00	0.00	1.00	C	7.00	7.00	3.00	P	4.00	12.00	1.00	C	7.00	7.00	1.00	O	10.00	10.00								
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																			
7094197	/ KRANTI VILAS GAIKWAD VIDYA 2023016402109484 (5)Thane-(237)	58651 19F	17+	36		FEC101 --	20+	20		58652 5F	7+	12		FEL101 --	17+	17		58655 15F	6+	21		FEL102 --	16+	16	18.00 --				
		3.00	F	0.00	0.00	1.00	O	10.00	10.00	2.00	F	0.00	0.00	0.50	C	7.00	3.50	2.00	F	0.00	0.00	0.50	C	7.00	3.50	-- --			
		58653 3F	11+	14		FEL103 --	16+	30		58654 33E	12+	45		FEL104 --	14+	28		FEL105 --	42+	42									
		3.00	F	0.00	0.00	1.00	C	7.00	7.00	3.00	E	5.00	15.00	1.00	D	6.00	6.00	1.00	O	10.00	10.00								
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																			
7094198	SWAYAM GAIKWAD SMITA 2023016402118297 (5)Thane-(237)	58651 5F	10+	15		FEC101 --	20+	20		58652 24+	6+	30		FEL101 --	15+	15		58655 24+	6+	30		FEL102 --	20+	20	18.00 --				
		3.00	F	0.00	0.00	1.00	O	10.00	10.00	2.00	P	4.00	8.00	0.50	C	7.00	3.50	2.00	P	4.00	8.00	0.50	O	10.00	5.00	-- --			
		58653 32+	10+	42		FEL103 --	14+	32		58654 40+	12+	52		FEL104 --	10+	20		FEL105 --	42+	42									
		3.00	P	4.00	12.00	1.00	C	7.00	7.00	3.00	D	6.00	18.00	1.00	P	4.00	4.00	1.00	O	10.00	10.00								
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																			

/ - FEMALE, # - 0.229A, @ - 0.5042A/O.5043A/O.5044A, * - 5045A, RR-RESERVED, --:Fails in Theory or Practical, RPV - PROVISIONAL Eligible, RCC - 0.5050, AB - ABSENT, F - UNSUCCESSFUL, P - SUCCESSFUL;
 NULL=NULL & VOID, G:Grade C*G:Gradepoints C:credits CP:credit points aCG:sum of product of credits & grades, Internal Marks are Provisional as per R.8668
 aC:sum of credit points GPA: aCG/aC
 MARKS : 0 to 39.99 40 to 44.99 45 to 49.99 50 to 59.99 60 to 69.99 70 to 74.99 75 to 79.99 80 to 100
 GRADE : F P E D C B A O
 GRADE POINT : 0.00 4.00 5.00 6.00 7.00 8.00 9.00 10.00



University of Mumbai, Mumbai

OFFICE REGISTER OF THE B.E. (with credits) - Regular - CBCS(Electronics and Telecommunication Engineering)- F.E. C-Scheme - Sem I [1T01831] HELD IN Summer 2025 Result Declaration Date:11 Jul 2025

58651-Engineering Mathematics-I: ThUA 80/32 ThCA 20/8 100/0 | 58652-Engineering Physics-I: ThUA 60/24 ThCA 15/6 75/0 | 58655-Engineering Chemistry-I: ThUA 60/24 ThCA 15/6 75/0 |
 58653-Engineering Mechanics: ThUA 80/32 ThCA 20/8 100/0 | 58654-Basic Electrical Engineering: ThUA 80/32 ThCA 20/8 100/0 | FEL101-Engineering Physics-I (TW): TwCA 25/10 25/0 |
 FEL102-Engineering Chemistry-I (TW): TwCA 25/10 25/0 | FEL103-Engineering Mechanics (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 | FEL104-Basic Electrical Engineering (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 |
 FEL105-Basic Workshop Practice-I: TwCA 50/20 50/0 | FEC101-Engineering Mathematics-I Term Work: TwCA 25/10 25/0 |

SEAT NO.	NAME OF THE CANDIDATE Mother Name PRN.	PAPER 1				PAPER 2				PAPER 3				PAPER 4				PAPER 5				PAPER 6				RESULT CR C*G SGPI GRADE
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	
CENTRE-COLLEGE		PAPER 7				PAPER 8				PAPER 9				PAPER 10				PAPER 11								
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	
7094199	/ SHRUTI VIJAY GALANDE NITA 2022016402230863 (5)Thane-(237)	58651 18F	8+	26		FEC101 12+	12			58652 26+	9+	35		FEL101 16+	16		58655 24+	6+	30		FEL102 17+	17			Unsuccessful 18.00 --	
		3.00	F	0.00	0.00	1.00	E	5.00	5.00	2.00	E	5.00	10.00	0.50	C	7.00	3.50	2.00	P	4.00	8.00	0.50	C	7.00	3.50	-- --
		58653 32+	9+	41		FEL103 17+	34			58654 32+	8+	40		FEL104 13+	27		FEL105 40+	40								
		3.00	P	4.00	12.00	1.00	C	7.00	7.00	3.00	P	4.00	12.00	1.00	D	6.00	6.00	1.00	O	10.00	10.00					
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																
7094200	/ PRACHI SATISH GAUTAM KARUNA 2022016402248451 (5)Thane-(237)	58651 32+	9+	41		FEC101 14+	14			58652 24+	6+	30		FEL101 15+	15		58655 24+	7+	31		FEL102 21+	21			Unsuccessful 18.00 --	
		3.00	P	4.00	12.00	1.00	D	6.00	6.00	2.00	P	4.00	8.00	0.50	C	7.00	3.50	2.00	P	4.00	8.00	0.50	O	10.00	5.00	-- --
		58653 35+	8+	43		FEL103 19+	39			58654 14F	8+	22		FEL104 13+	25		FEL105 41+	41								
		3.00	P	4.00	12.00	1.00	A	9.00	9.00	3.00	F	0.00	0.00	1.00	D	6.00	6.00	1.00	O	10.00	10.00					
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																
7094201	GUNJAL OMKAR DHARMENDRA DHARTI 2022016402237704 (5)Thane-(237)	58651 32+	9+	41		FEC101 20+	20			58652 24	9+	33		FEL101 23+	23		58655 24+	6+	30		FEL102 19+	19			Successful 18.00 101.50	
		3.00	P	4.00	12.00	1.00	O	10.00	10.00	2.00	P	4.00	8.00	0.50	O	10.00	5.00	2.00	P	4.00	8.00	0.50	A	9.00	4.50	5.64 --
		58653 33	11+	44		FEL103 21+	39			58654 32+	13+	45		FEL104 18+	35		FEL105 43+	43								
		3.00	P	4.00	12.00	1.00	A	9.00	9.00	3.00	E	5.00	15.00	1.00	B	8.00	8.00	1.00	O	10.00	10.00					
		Total Credit 18.00				FINAL CGPI 5.64				FINAL GRADE --																

/ - FEMALE, # - 0.229A,@ - 0.5042A/O.5043A/O.5044A,* - 5045A, RR-RESERVED, --:Fails in Theory or Practical, RPV - PROVISIONAL Eligible, RCC - 0.5050, AB - ABSENT, F - UNSUCCESSFUL,P - SUCCESSFUL;
 NULL=NULL & VOID, G:Grade C*G:Gradepoints C:credits CP:credit points aCG:sum of product of credits & grades, Internal Marks are Provisional as per R.8668
 aC:sum of credit points GPA: aCG/aC
 MARKS : 0 to 39.99 40 to 44.99 45 to 49.99 50 to 59.99 60 to 69.99 70 to 74.99 75 to 79.99 80 to 100
 GRADE : F P E D C B A O
 GRADE POINT : 0.00 4.00 5.00 6.00 7.00 8.00 9.00 10.00



University of Mumbai, Mumbai

OFFICE REGISTER OF THE B.E. (with credits) - Regular - CBCS(Electronics and Telecommunication Engineering)- F.E. C-Scheme - Sem I [1T01831] HELD IN Summer 2025 Result Declaration Date:11 Jul 2025

58651-Engineering Mathematics-I: ThUA 80/32 ThCA 20/8 100/0 | 58652-Engineering Physics-I: ThUA 60/24 ThCA 15/6 75/0 | 58655-Engineering Chemistry-I: ThUA 60/24 ThCA 15/6 75/0 |
 58653-Engineering Mechanics: ThUA 80/32 ThCA 20/8 100/0 | 58654-Basic Electrical Engineering: ThUA 80/32 ThCA 20/8 100/0 | FEL101-Engineering Physics-I (TW): TwCA 25/10 25/0 |
 FEL102-Engineering Chemistry-I (TW): TwCA 25/10 25/0 | FEL103-Engineering Mechanics (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 | FEL104-Basic Electrical Engineering (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 |
 FEL105-Basic Workshop Practice-I: TwCA 50/20 50/0 | FEC101-Engineering Mathematics-I Term Work: TwCA 25/10 25/0 |

SEAT NO.	NAME OF THE CANDIDATE Mother Name PRN.	PAPER 1				PAPER 2				PAPER 3				PAPER 4				PAPER 5				PAPER 6				RESULT CR C*G SGPI GRADE			
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G				
CENTRE-COLLEGE		PAPER 7				PAPER 8				PAPER 9				PAPER 10				PAPER 11											
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G
7094202	/ ANUSHREE GUPTA AARTI 2022016402232081 (5)Thane-(237)	58651 42	12+	54		FEC101 16+	16			58652 24+	6+	30		FEL101 16+	16		58655 24+	6+	30		FEL102 19+	19		18.00	98.00				
		3.00	D	6.00	18.00	1.00	C	7.00	7.00	2.00	P	4.00	8.00	0.50	C	7.00	3.50	2.00	P	4.00	8.00	0.50	A	9.00	4.50	5.44	--		
		58653 32+	8+	40		FEL103 17+	35			58654 32+	11+	43		FEL104 16+	31		FEL105 41+	41											
		3.00	P	4.00	12.00	1.00	B	8.00	8.00	3.00	P	4.00	12.00	1.00	C	7.00	7.00	1.00	O	10.00	10.00								
		Total Credit 18.00				FINAL CGPI 5.44				FINAL GRADE --																			
7094203	/ SHRUTIKA SURYAKANT JADHAV SAVITA 2023016402113892 (5)Thane-(237)	58651 32+	8+	40		FEC101 21+	21			58652 40+	9+	49		FEL101 18+	18		58655 30+	7+	37		FEL102 19+	19		18.00	113.50				
		3.00	P	4.00	12.00	1.00	O	10.00	10.00	2.00	C	7.00	14.00	0.50	B	8.00	4.00	2.00	E	5.00	10.00	0.50	A	9.00	4.50	6.31	--		
		58653 32+	8+	40		FEL103 23+	39			58654 49	12+	61		FEL104 14+	30		FEL105 43+	43											
		3.00	P	4.00	12.00	1.00	A	9.00	9.00	3.00	C	7.00	21.00	1.00	C	7.00	7.00	1.00	O	10.00	10.00								
		Total Credit 18.00				FINAL CGPI 6.31				FINAL GRADE --																			
7094204	/ PAYAL JAGTAP MANISHA 2022016402230801 (5)Thane-(237)	58651 32+	9+	41		FEC101 14+	14			58652 28+	6+	34		FEL101 16+	16		58655 35+	8+	43		FEL102 23+	23		18.00	97.50				
		3.00	P	4.00	12.00	1.00	D	6.00	6.00	2.00	E	5.00	10.00	0.50	C	7.00	3.50	2.00	D	6.00	12.00	0.50	O	10.00	5.00	5.42	--		
		58653 32+	8+	40		FEL103 20+	38			58654 32	8+	40		FEL104 15+	27		FEL105 41+	41											
		3.00	P	4.00	12.00	1.00	A	9.00	9.00	3.00	P	4.00	12.00	1.00	D	6.00	6.00	1.00	O	10.00	10.00								
		Total Credit 18.00				FINAL CGPI 5.42				FINAL GRADE --																			

/ - FEMALE, # - 0.229A,@ - 0.5042A/O.5043A/O.5044A,* - 5045A, RR-RESERVED, --:Fails in Theory or Practical, RPV - PROVISIONAL Eligible, RCC - 0.5050, AB - ABSENT, F - UNSUCCESSFUL,P - SUCCESSFUL;
 NULL=NULL & VOID, G:Grade C*G:Gradepoints C:credits CP:credit points aCG:sum of product of credits & grades, Internal Marks are Provisional as per R.8668
 aC:sum of credit points GPA: aCG/aC
 MARKS : 0 to 39.99 40 to 44.99 45 to 49.99 50 to 59.99 60 to 69.99 70 to 74.99 75 to 79.99 80 to 100
 GRADE : F P E D C B A O
 GRADE POINT : 0.00 4.00 5.00 6.00 7.00 8.00 9.00 10.00



University of Mumbai, Mumbai

OFFICE REGISTER OF THE B.E. (with credits) - Regular - CBCS(Electronics and Telecommunication Engineering)- F.E. C-Scheme - Sem I [T01831] HELD IN Summer 2025 Result Declaration Date:11 Jul 2025

58651-Engineering Mathematics-I: ThUA 80/32 ThCA 20/8 100/0 | 58652-Engineering Physics-I: ThUA 60/24 ThCA 15/6 75/0 | 58655-Engineering Chemistry-I: ThUA 60/24 ThCA 15/6 75/0 |
 58653-Engineering Mechanics: ThUA 80/32 ThCA 20/8 100/0 | 58654-Basic Electrical Engineering: ThUA 80/32 ThCA 20/8 100/0 | FEL101-Engineering Physics-I (TW): TwCA 25/10 25/0 |
 FEL102-Engineering Chemistry-I (TW): TwCA 25/10 25/0 | FEL103-Engineering Mechanics (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 | FEL104-Basic Electrical Engineering (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 |
 FEL105-Basic Workshop Practice-I: TwCA 50/20 50/0 | FEC101-Engineering Mathematics-I Term Work: TwCA 25/10 25/0 |

SEAT NO.	NAME OF THE CANDIDATE Mother Name PRN.	PAPER 1				PAPER 2				PAPER 3				PAPER 4				PAPER 5				PAPER 6				RESULT CR C*G SGPI GRADE	
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G		
CENTRE-COLLEGE		PAPER 7				PAPER 8				PAPER 9				PAPER 10				PAPER 11									
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G		
7094205	/ KRISHA KALYAN JAIN SHWETA 2022016402237712 (5)Thane-(237)	58651 32+	11+	43		FEC101 15+	15			58652 25	7+	32		FEL101 19+	19		58655 26+	8+	34		FEL102 22+	22		Successful 18.00 104.50			
		3.00	P	4.00	12.00	1.00	C	7.00	7.00	2.00	P	4.00	8.00	0.50	A	9.00	4.50	2.00	E	5.00	10.00	0.50	O	10.00	5.00	5.81 --	
		58653 40	12+	52		FEL103 18+	38			58654 32+	13+	45		FEL104 17+	35		FEL105 35+	35									
		3.00	D	6.00	18.00	1.00	A	9.00	9.00	3.00	E	5.00	15.00	1.00	B	8.00	8.00	1.00	B	8.00	8.00						
		Total Credit 18.00				FINAL CGPI 5.81				FINAL GRADE --																	
7094206	/ KATE PURNIMA ASHISH DIPALI 2023016402075686 (5)Thane-(237)	58651 32+	13+	45		FEC101 22+	22			58652 24	9+	33		FEL101 16+	16		58655 24+	6+	30		FEL102 22+	22		Successful 18.00 107.50			
		3.00	E	5.00	15.00	1.00	O	10.00	10.00	2.00	P	4.00	8.00	0.50	C	7.00	3.50	2.00	P	4.00	8.00	0.50	O	10.00	5.00	5.97 --	
		58653 32+	13+	45		FEL103 20+	36			58654 43	12+	55		FEL104 18+	34		FEL105 42+	42									
		3.00	E	5.00	15.00	1.00	B	8.00	8.00	3.00	D	6.00	18.00	1.00	C	7.00	7.00	1.00	O	10.00	10.00						
		Total Credit 18.00				FINAL CGPI 5.97				FINAL GRADE --																	
7094207	KHAN ABDUL AHAD ABDUL BARI MOMENA 2022016402247471 (5)Thane-(237)	58651 32+	16+	48		FEC101 20+	20			58652 24+	6+	30		FEL101 13+	13		58655 29+	6+	35		FEL102 18+	18		Successful 18.00 105.00			
		3.00	E	5.00	15.00	1.00	O	10.00	10.00	2.00	P	4.00	8.00	0.50	D	6.00	3.00	2.00	E	5.00	10.00	0.50	B	8.00	4.00	5.83 --	
		58653 32	8+	40		FEL103 20+	38			58654 32+	14+	46		FEL104 19+	38		FEL105 40+	40									
		3.00	P	4.00	12.00	1.00	A	9.00	9.00	3.00	E	5.00	15.00	1.00	A	9.00	9.00	1.00	O	10.00	10.00						
		Total Credit 18.00				FINAL CGPI 5.83				FINAL GRADE --																	

/ - FEMALE, # - 0.229A,@ - 0.5042A/O.5043A/O.5044A,* - 5045A, RR-RESERVED, --:Fails in Theory or Practical, RPV - PROVISIONAL Eligible, RCC - 0.5050, AB - ABSENT, F - UNSUCCESSFUL,P - SUCCESSFUL;
 NULL=NULL & VOID, G:Grade C*G:Gradepoints C:credits CP:credit points aCG:sum of product of credits & grades, Internal Marks are Provisional as per R.8668
 aC:sum of credit points GPA: aCG/aC
 MARKS : 0 to 39.99 40 to 44.99 45 to 49.99 50 to 59.99 60 to 69.99 70 to 74.99 75 to 79.99 80 to 100
 GRADE : F P E D C B A O
 GRADE POINT : 0.00 4.00 5.00 6.00 7.00 8.00 9.00 10.00



University of Mumbai, Mumbai

OFFICE REGISTER OF THE B.E. (with credits) - Regular - CBCS(Electronics and Telecommunication Engineering)- F.E. C-Scheme - Sem I [1T01831] HELD IN Summer 2025 Result Declaration Date:11 Jul 2025

58651-Engineering Mathematics-I: ThUA 80/32 ThCA 20/8 100/0 | 58652-Engineering Physics-I: ThUA 60/24 ThCA 15/6 75/0 | 58655-Engineering Chemistry-I: ThUA 60/24 ThCA 15/6 75/0 |
 58653-Engineering Mechanics: ThUA 80/32 ThCA 20/8 100/0 | 58654-Basic Electrical Engineering: ThUA 80/32 ThCA 20/8 100/0 | FEL101-Engineering Physics-I (TW): TwCA 25/10 25/0 |
 FEL102-Engineering Chemistry-I (TW): TwCA 25/10 25/0 | FEL103-Engineering Mechanics (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 | FEL104-Basic Electrical Engineering (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 |
 FEL105-Basic Workshop Practice-I: TwCA 50/20 50/0 | FEC101-Engineering Mathematics-I Term Work: TwCA 25/10 25/0 |

SEAT NO.	NAME OF THE CANDIDATE Mother Name PRN.	PAPER 1				PAPER 2				PAPER 3				PAPER 4				PAPER 5				PAPER 6				RESULT CR C*G SGPI GRADE			
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G				
CENTRE-COLLEGE		PAPER 7				PAPER 8				PAPER 9				PAPER 10				PAPER 11											
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G				
7094208	TIRTH ASHISH MAHAMUNKAR ARPITA 2023016402114872 (5)Thane-(237)	58651 32+ 3.00 P	8+ 4.00	40 12.00	FEC101 -- 1.00 O	20+ 20 10.00	20 10.00	2.00 P	4.00	8.00	FEL101 -- 0.50 D	13+ 13 6.00	13 3.00	58655 24+ 2.00 P	6+ 30 4.00	30 8.00	FEL102 -- 0.50 O	20+ 20 10.00	20 5.00	5.00	--	Successful 18.00	90.00	5.00	--				
		58653 33+ 3.00 P	10+ 4.00	43 12.00	FEL103 -- 1.00 C	17+ 33 7.00	33 7.00	3.00 P	4.00	12.00	FEL104 -- 1.00 C	16+ 32 7.00	32 7.00	FEL105 -- 1.00 D	26+ 26 6.00	26 6.00													
		Total Credit 18.00				FINAL CGPI 5.00				FINAL GRADE --																			
7094209	MARCHANDE SHRAVANI DIKSHANT KALPITA 2023016402103143 (5)Thane-(237)	58651 32+ 3.00 P	9+ 4.00	41 12.00	FEC101 -- 1.00 O	20+ 20 10.00	20 10.00	2.00 P	4.00	8.00	FEL101 -- 0.50 B	18+ 18 8.00	18 4.00	58655 29+ 2.00 D	10+ 39 6.00	39 12.00	FEL102 -- 0.50 C	16+ 16 7.00	16 3.50	5.47	--	Successful 18.00	98.50	5.47	--				
		58653 32+ 3.00 P	11+ 4.00	43 12.00	FEL103 -- 1.00 D	15+ 26 6.00	26 6.00	3.00 E	5.00	15.00	FEL104 -- 1.00 D	13+ 26 6.00	26 6.00	FEL105 -- 1.00 O	42+ 42 10.00	42 10.00													
		Total Credit 18.00				FINAL CGPI 5.47				FINAL GRADE --																			
7094210	MORE SANIKA ARUN KAVITA 2023016402098027 (5)Thane-(237)	58651 32+ 3.00 P	11+ 4.00	43 12.00	FEC101 -- 1.00 O	22+ 22 10.00	22 10.00	2.00 E	5.00	10.00	FEL101 -- 0.50 A	19+ 19 9.00	19 4.50	58655 43+ 2.00 C	6+ 49 7.00	49 14.00	FEL102 -- 0.50 O	21+ 21 10.00	21 5.00	6.69	--	Successful 18.00	120.50	6.69	--				
		58653 40 3.00 D	12+ 6.00	52 18.00	FEL103 -- 1.00 A	18+ 39 9.00	39 9.00	3.00 D	6.00	18.00	FEL104 -- 1.00 O	21+ 40 10.00	40 10.00	FEL105 -- 1.00 O	42+ 42 10.00	42 10.00													
		Total Credit 18.00				FINAL CGPI 6.69				FINAL GRADE --																			

/ - FEMALE, # - 0.229A,@ - 0.5042A/O.5043A/O.5044A,* - 5045A, RR-RESERVED, --:Fails in Theory or Practical, RPV - PROVISIONAL Eligible, RCC - 0.5050, AB - ABSENT, F - UNSUCCESSFUL,P - SUCCESSFUL;
 NULL=NULL & VOID, G:Grade C*G:Gradepoints C:credits CP:credit points aCG:sum of product of credits & grades, Internal Marks are Provisional as per R.8668
 aC:sum of credit points GPA: aCG/aC
 MARKS : 0 to 39.99 40 to 44.99 45 to 49.99 50 to 59.99 60 to 69.99 70 to 74.99 75 to 79.99 80 to 100
 GRADE : F P E D C B A O
 GRADE POINT : 0.00 4.00 5.00 6.00 7.00 8.00 9.00 10.00



University of Mumbai, Mumbai

OFFICE REGISTER OF THE B.E. (with credits) - Regular - CBCS(Electronics and Telecommunication Engineering)- F.E. C-Scheme - Sem I [1T01831] HELD IN Summer 2025 Result Declaration Date:11 Jul 2025

58651-Engineering Mathematics-I: ThUA 80/32 ThCA 20/8 100/0 | 58652-Engineering Physics-I: ThUA 60/24 ThCA 15/6 75/0 | 58655-Engineering Chemistry-I: ThUA 60/24 ThCA 15/6 75/0 |
 58653-Engineering Mechanics: ThUA 80/32 ThCA 20/8 100/0 | 58654-Basic Electrical Engineering: ThUA 80/32 ThCA 20/8 100/0 | FEL101-Engineering Physics-I (TW): TwCA 25/10 25/0 |
 FEL102-Engineering Chemistry-I (TW): TwCA 25/10 25/0 | FEL103-Engineering Mechanics (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 | FEL104-Basic Electrical Engineering (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 |
 FEL105-Basic Workshop Practice-I: TwCA 50/20 50/0 | FEC101-Engineering Mathematics-I Term Work: TwCA 25/10 25/0 |

SEAT NO.	NAME OF THE CANDIDATE Mother Name PRN.	PAPER 1				PAPER 2				PAPER 3				PAPER 4				PAPER 5				PAPER 6				RESULT CR C*G SGPI GRADE
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	
CENTRE-COLLEGE		PAPER 7				PAPER 8				PAPER 9				PAPER 10				PAPER 11								
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	
7094211	/ MULEY NANDINI RAMESH VASUNDHARA	58651				FEC101				58652				FEL101				58655				FEL102				Unsuccessful
	2023016402098035	32+	9+	41		---	21+	21		28+	8+	36		---	18+	18		31+	6+	37		---	19+	19		18.00 --
	(5)Thane-(237)	3.00	P	4.00	12.00	1.00	O	10.00	10.00	2.00	E	5.00	10.00	0.50	B	8.00	4.00	2.00	E	5.00	10.00	0.50	A	9.00	4.50	-- --
		58653				FEL103				58654				FEL104				FEL105								
		24F	8+	32		---	20+	40		39E	13+	52		---	18+	33		---	42+	42						
		3.00	F	0.00	0.00	1.00	O	10.00	10.00	3.00	D	6.00	18.00	1.00	C	7.00	7.00	1.00	O	10.00	10.00					
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																
7094212	KSHITIJ GORAKH NANNAWARE JYOTSHNA	58651				FEC101				58652				FEL101				58655				FEL102				Unsuccessful
	2023016402103197	32+	8+	40		---	21+	21		24+	8+	32		---	19+	19		24+	6+	30		---	13+	13		18.00 --
	(5)Thane-(237)	3.00	P	4.00	12.00	1.00	O	10.00	10.00	2.00	P	4.00	8.00	0.50	A	9.00	4.50	2.00	P	4.00	8.00	0.50	D	6.00	3.00	-- --
		58653				FEL103				58654				FEL104				FEL105								
		33E	8+	41		---	20+	35		12F	11+	23		---	15+	27		---	41+	41						
		3.00	P	4.00	12.00	1.00	B	8.00	8.00	3.00	F	0.00	0.00	1.00	D	6.00	6.00	1.00	O	10.00	10.00					
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																
7094213	ATHARV GIRISH PALAV PRADNYA	58651				FEC101				58652				FEL101				58655				FEL102				Successful
	2023016402114373	36+	8+	44		---	21+	21		24+	8+	32		---	18+	18		29+	6+	35		---	21+	21		18.00 94.00
	(5)Thane-(237)	3.00	P	4.00	12.00	1.00	O	10.00	10.00	2.00	P	4.00	8.00	0.50	B	8.00	4.00	2.00	E	5.00	10.00	0.50	O	10.00	5.00	5.22 --
		58653				FEL103				58654				FEL104				FEL105								
		32	9+	41		---	18+	35		32+	9+	41		---	18+	31		---	26+	26						
		3.00	P	4.00	12.00	1.00	B	8.00	8.00	3.00	P	4.00	12.00	1.00	C	7.00	7.00	1.00	D	6.00	6.00					
		Total Credit 18.00				FINAL CGPI 5.22				FINAL GRADE --																

/ - FEMALE, # - 0.229A,@ - 0.5042A/O.5043A/O.5044A,* - 5045A, RR-RESERVED, --:Fails in Theory or Practical, RPV - PROVISIONAL Eligible, RCC - 0.5050, AB - ABSENT, F - UNSUCCESSFUL,P - SUCCESSFUL;
 NULL=NULL & VOID, G:Grade C*G:Gradepoints C:credits CP:credit points aCG:sum of product of credits & grades, Internal Marks are Provisional as per R.8668
 aC:sum of credit points GPA: aCG/aC
 MARKS : 0 to 39.99 40 to 44.99 45 to 49.99 50 to 59.99 60 to 69.99 70 to 74.99 75 to 79.99 80 to 100
 GRADE : F P E D C B A O
 GRADE POINT : 0.00 4.00 5.00 6.00 7.00 8.00 9.00 10.00



University of Mumbai, Mumbai

OFFICE REGISTER OF THE B.E. (with credits) - Regular - CBCS(Electronics and Telecommunication Engineering)- F.E. C-Scheme - Sem I [1T01831] HELD IN Summer 2025 Result Declaration Date:11 Jul 2025

58651-Engineering Mathematics-I: ThUA 80/32 ThCA 20/8 100/0 | 58652-Engineering Physics-I: ThUA 60/24 ThCA 15/6 75/0 | 58655-Engineering Chemistry-I: ThUA 60/24 ThCA 15/6 75/0 |
 58653-Engineering Mechanics: ThUA 80/32 ThCA 20/8 100/0 | 58654-Basic Electrical Engineering: ThUA 80/32 ThCA 20/8 100/0 | FEL101-Engineering Physics-I (TW): TwCA 25/10 25/0 |
 FEL102-Engineering Chemistry-I (TW): TwCA 25/10 25/0 | FEL103-Engineering Mechanics (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 | FEL104-Basic Electrical Engineering (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 |
 FEL105-Basic Workshop Practice-I: TwCA 50/20 50/0 | FEC101-Engineering Mathematics-I Term Work: TwCA 25/10 25/0 |

SEAT NO.	NAME OF THE CANDIDATE Mother Name PRN.	PAPER 1				PAPER 2				PAPER 3				PAPER 4				PAPER 5				PAPER 6				RESULT CR C*G SGPI GRADE			
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G				
CENTRE-COLLEGE		PAPER 7				PAPER 8				PAPER 9				PAPER 10				PAPER 11											
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G				
7094214	/ DARSHANA PRAMOD PATIL VANDANA 2023016402091205 (5)Thane-(237)	58651 33+	9+	42		FEC101 --	21+	21		58652 24+	6+	30		FEL101 --	17+	17		58655 19F	13+	32		FEL102 --	20+	20	18.00	--			
		3.00	P	4.00	12.00	1.00	O	10.00	10.00	2.00	P	4.00	8.00	0.50	C	7.00	3.50	2.00	F	0.00	0.00	0.50	O	10.00	5.00	--	--		
		58653 32E	11+	43		FEL103 --	21+	35		58654 19F	10+	29		FEL104 --	14+	31		FEL105 --	42+	42									
		3.00	P	4.00	12.00	1.00	B	8.00	8.00	3.00	F	0.00	0.00	1.00	C	7.00	7.00	1.00	O	10.00	10.00								
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																			
7094215	HIMANSHU VINOD PATIL HEMLATA 2022016402240695 (5)Thane-(237)	58651 32+	8+	40		FEC101 --	17+	17		58652 24+	6+	30		FEL101 --	18+	18		58655 33+	7+	40		FEL102 --	21+	21	18.00	103.00			
		3.00	P	4.00	12.00	1.00	C	7.00	7.00	2.00	P	4.00	8.00	0.50	B	8.00	4.00	2.00	D	6.00	12.00	0.50	O	10.00	5.00	5.72	--		
		58653 40	10+	50		FEL103 --	18+	36		58654 32+	8+	40		FEL104 --	17+	33		FEL105 --	40+	40									
		3.00	D	6.00	18.00	1.00	B	8.00	8.00	3.00	P	4.00	12.00	1.00	C	7.00	7.00	1.00	O	10.00	10.00								
		Total Credit 18.00				FINAL CGPI 5.72				FINAL GRADE --																			
7094216	PATIL SUYASH SANTOSH KAVITA 2022016402246904 (5)Thane-(237)	58651 32+	8+	40		FEC101 --	15+	15		58652 25+	9+	34		FEL101 --	19+	19		58655 25+	6+	31		FEL102 --	18+	18	18.00	97.50			
		3.00	P	4.00	12.00	1.00	C	7.00	7.00	2.00	E	5.00	10.00	0.50	A	9.00	4.50	2.00	P	4.00	8.00	0.50	B	8.00	4.00	5.42	--		
		58653 39	9+	48		FEL103 --	18+	35		58654 32+	9+	41		FEL104 --	17+	33		FEL105 --	40+	40									
		3.00	E	5.00	15.00	1.00	B	8.00	8.00	3.00	P	4.00	12.00	1.00	C	7.00	7.00	1.00	O	10.00	10.00								
		Total Credit 18.00				FINAL CGPI 5.42				FINAL GRADE --																			

/ - FEMALE, # - 0.229A,@ - 0.5042A/O.5043A/O.5044A, * - 5045A, RR-RESERVED, --:Fails in Theory or Practical, RPV - PROVISIONAL Eligible, RCC - 0.5050, AB - ABSENT, F - UNSUCCESSFUL,P - SUCCESSFUL;
 NULL=NULL & VOID, G:Grade C*G:Gradepoints C:credits CP:credit points aCG:sum of product of credits & grades, Internal Marks are Provisional as per R.8668
 aC:sum of credit points GPA: aCG/aC
 MARKS : 0 to 39.99 40 to 44.99 45 to 49.99 50 to 59.99 60 to 69.99 70 to 74.99 75 to 79.99 80 to 100
 GRADE : F P E D C B A O
 GRADE POINT : 0.00 4.00 5.00 6.00 7.00 8.00 9.00 10.00



University of Mumbai, Mumbai

OFFICE REGISTER OF THE B.E. (with credits) - Regular - CBCS(Electronics and Telecommunication Engineering)- F.E. C-Scheme - Sem I [T01831] HELD IN Summer 2025 Result Declaration Date:11 Jul 2025

58651-Engineering Mathematics-I: ThUA 80/32 ThCA 20/8 100/0 | 58652-Engineering Physics-I: ThUA 60/24 ThCA 15/6 75/0 | 58655-Engineering Chemistry-I: ThUA 60/24 ThCA 15/6 75/0 |
 58653-Engineering Mechanics: ThUA 80/32 ThCA 20/8 100/0 | 58654-Basic Electrical Engineering: ThUA 80/32 ThCA 20/8 100/0 | FEL101-Engineering Physics-I (TW): TwCA 25/10 25/0 |
 FEL102-Engineering Chemistry-I (TW): TwCA 25/10 25/0 | FEL103-Engineering Mechanics (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 | FEL104-Basic Electrical Engineering (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 |
 FEL105-Basic Workshop Practice-I: TwCA 50/20 50/0 | FEC101-Engineering Mathematics-I Term Work: TwCA 25/10 25/0 |

SEAT NO.	NAME OF THE CANDIDATE Mother Name PRN.	PAPER 1				PAPER 2				PAPER 3				PAPER 4				PAPER 5				PAPER 6				RESULT CR C*G SGPI GRADE			
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G				
CENTRE-COLLEGE		PAPER 7				PAPER 8				PAPER 9				PAPER 10				PAPER 11											
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G
7094217	/ PAWAR SAMIKSHA RAVINDRA ROHINI - ROHINI 2022016402247157 (5)Thane-(237)	58651 39+ 3.00 E	8+ 47 5.00	15.00 15.00	FEC101 --- 1.00 E	12+ 12 5.00	5.00 5.00	5.00 5.00	58652 28 2.00 E	7+ 35 5.00	10.00 10.00	FEL101 --- 0.50 C	15+ 15 7.00	3.50 3.50	58655 24+ 2.00 P	6+ 30 4.00	8.00 8.00	FEL102 --- 0.50 O	23+ 23 10.00	23 5.00	18.00 5.42	97.50 --							
		58653 32+ 3.00 P	8+ 40 4.00	12.00 12.00	FEL103 --- 1.00 C	16+ 33 7.00	17+ 7.00	7.00 7.00	58654 48 3.00 D	8+ 56 6.00	18.00 18.00	FEL104 --- 1.00 D	14+ 29 6.00	6.00 6.00	58655 --- 1.00 B	35+ 35 8.00	8.00 8.00	FEL105 1.00 O	10.00 10.00	5.00 5.00	5.42 --	--							
		Total Credit 18.00				FINAL CGPI 5.42				FINAL GRADE --																			
7094218	POOJARY SHRAVAN NARENDRA PUSHPA 2023016402114156 (5)Thane-(237)	58651 32+ 3.00 P	12+ 44 4.00	12.00 12.00	FEC101 --- 1.00 O	22+ 22 10.00	22 10.00	10.00 10.00	58652 24E 2.00 P	7+ 31 4.00	8.00 8.00	FEL101 --- 0.50 B	18+ 18 8.00	4.00 4.00	58655 27+ 2.00 P	6+ 33 4.00	8.00 8.00	FEL102 --- 0.50 O	20+ 20 10.00	20 5.00	18.00 --	--							
		58653 23F 3.00 F	9+ 32 0.00	0.00 0.00	FEL103 --- 1.00 C	20+ 32 7.00	12+ 7.00	7.00 7.00	58654 26F 3.00 F	9+ 35 0.00	0.00 0.00	FEL104 --- 1.00 B	17+ 36 8.00	8.00 8.00	58655 --- 1.00 O	42+ 42 10.00	42 10.00	FEL105 1.00 O	10.00 10.00	10.00 10.00	18.00 --	--							
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																			
7094219	/ GITANJALI PARSHURAM SALUNKHE - PRATIKSHA 2023016402114141 (5)Thane-(237)	58651 32+ 3.00 P	8+ 40 4.00	12.00 12.00	FEC101 --- 1.00 O	22+ 22 10.00	22 10.00	10.00 10.00	58652 24 2.00 P	6+ 30 4.00	8.00 8.00	FEL101 --- 0.50 C	17+ 17 7.00	3.50 3.50	58655 26+ 2.00 P	6+ 32 4.00	8.00 8.00	FEL102 --- 0.50 O	20+ 20 10.00	20 5.00	18.00 5.64	--							
		58653 32+ 3.00 P	9+ 41 4.00	12.00 12.00	FEL103 --- 1.00 C	21+ 33 7.00	12+ 7.00	7.00 7.00	58654 37+ 3.00 D	17+ 54 6.00	18.00 18.00	FEL104 --- 1.00 B	19+ 37 8.00	8.00 8.00	58655 --- 1.00 O	42+ 42 10.00	42 10.00	FEL105 1.00 O	10.00 10.00	10.00 10.00	18.00 5.64	--							
		Total Credit 18.00				FINAL CGPI 5.64				FINAL GRADE --																			

/ - FEMALE, # - 0.229A, @ - 0.5042A/O.5043A/O.5044A, * - 5045A, RR-RESERVED, --:Fails in Theory or Practical, RPV - PROVISIONAL Eligible, RCC - 0.5050, AB - ABSENT, F - UNSUCCESSFUL, P - SUCCESSFUL;
 NULL=NULL & VOID, G:Grade C*G:Gradepoints C:credits CP:credit points aCG:sum of product of credits & grades, Internal Marks are Provisional as per R.8668
 aC:sum of credit points GPA: aCG/aC
 MARKS : 0 to 39.99 40 to 44.99 45 to 49.99 50 to 59.99 60 to 69.99 70 to 74.99 75 to 79.99 80 to 100
 GRADE : F P E D C B A O
 GRADE POINT : 0.00 4.00 5.00 6.00 7.00 8.00 9.00 10.00



University of Mumbai, Mumbai

OFFICE REGISTER OF THE B.E. (with credits) - Regular - CBCS(Electronics and Telecommunication Engineering)- F.E. C-Scheme - Sem I [1T01831] HELD IN Summer 2025 Result Declaration Date:11 Jul 2025

58651-Engineering Mathematics-I: ThUA 80/32 ThCA 20/8 100/0 | 58652-Engineering Physics-I: ThUA 60/24 ThCA 15/6 75/0 | 58655-Engineering Chemistry-I: ThUA 60/24 ThCA 15/6 75/0 |
 58653-Engineering Mechanics: ThUA 80/32 ThCA 20/8 100/0 | 58654-Basic Electrical Engineering: ThUA 80/32 ThCA 20/8 100/0 | FEL101-Engineering Physics-I (TW): TwCA 25/10 25/0 |
 FEL102-Engineering Chemistry-I (TW): TwCA 25/10 25/0 | FEL103-Engineering Mechanics (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 | FEL104-Basic Electrical Engineering (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 |
 FEL105-Basic Workshop Practice-I: TwCA 50/20 50/0 | FEC101-Engineering Mathematics-I Term Work: TwCA 25/10 25/0 |

SEAT NO.	NAME OF THE CANDIDATE Mother Name PRN.	PAPER 1				PAPER 2				PAPER 3				PAPER 4				PAPER 5				PAPER 6				RESULT CR C*G SGPI GRADE	
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G		
CENTRE-COLLEGE		PAPER 7				PAPER 8				PAPER 9				PAPER 10				PAPER 11									
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G		
7094220	SAWANT PRANAV RAJESH SARIKA 2022016402233277 (5)Thane-(237)	58651 32+	8+	40		FEC101 12+	12			58652 24+	6+	30		FEL101 17+	17		58655 25+	8+	33		FEL102 18+	18		Successful 18.00 90.50			
		3.00	P	4.00	12.00	1.00	E	5.00	5.00	2.00	P	4.00	8.00	0.50	C	7.00	3.50	2.00	P	4.00	8.00	0.50	B	8.00	4.00	5.03 --	
		58653 32	12+	44		FEL103 16+	36			58654 32+	8+	40		FEL104 18+	35		FEL105 41+	41									
		3.00	P	4.00	12.00	1.00	B	8.00	8.00	3.00	P	4.00	12.00	1.00	B	8.00	8.00	1.00	O	10.00	10.00						
		Total Credit 18.00				FINAL CGPI 5.03				FINAL GRADE --																	
7094221	/ SAANCHI SANTOSH SAWANT RAJESHWARI 2023016402075373 (5)Thane-(237)	58651 38+	8+	46		FEC101 19+	19			58652 24+	6+	30		FEL101 18+	18		58655 28+	6+	34		FEL102 21+	21		Successful 18.00 99.00			
		3.00	E	5.00	15.00	1.00	A	9.00	9.00	2.00	P	4.00	8.00	0.50	B	8.00	4.00	2.00	E	5.00	10.00	0.50	O	10.00	5.00	5.50 --	
		58653 40	8+	48		FEL103 16+	33			58654 32+	10+	42		FEL104 21+	37		FEL105 27+	27									
		3.00	E	5.00	15.00	1.00	C	7.00	7.00	3.00	P	4.00	12.00	1.00	B	8.00	8.00	1.00	D	6.00	6.00						
		Total Credit 18.00				FINAL CGPI 5.50				FINAL GRADE --																	
7094222	SHUBHAM CHANDRASHEKHAR SHETE MADHURI 2023016402076392 (5)Thane-(237)	58651 10F	8+	8		FEC101 21+	21			58652 14F	8+	12		FEL101 17+	17		58655 17F	7+	14		FEL102 20+	20		Unsuccessful 18.00 --			
		3.00	F	0.00	0.00	1.00	O	10.00	10.00	2.00	F	0.00	0.00	0.50	C	7.00	3.50	2.00	F	0.00	0.00	0.50	O	10.00	5.00	-- --	
		58653 12F	12+	24		FEL103 18+	35			58654 36+	9+	45		FEL104 16+	29		FEL105 41+	41									
		3.00	F	0.00	0.00	1.00	B	8.00	8.00	3.00	E	5.00	15.00	1.00	D	6.00	6.00	1.00	O	10.00	10.00						
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																	

/ - FEMALE, # - 0.229A,@ - 0.5042A/O.5043A/O.5044A, * - 5045A, RR-RESERVED, --:Fails in Theory or Practical, RPV - PROVISIONAL Eligible, RCC - 0.5050, AB - ABSENT, F - UNSUCCESSFUL,P - SUCCESSFUL;
 NULL=NULL & VOID, G:Grade C*G:Gradepoints C:credits CP:credit points aCG:sum of product of credits & grades, Internal Marks are Provisional as per R.8668
 aC:sum of credit points GPA: aCG/aC
 MARKS : 0 to 39.99 40 to 44.99 45 to 49.99 50 to 59.99 60 to 69.99 70 to 74.99 75 to 79.99 80 to 100
 GRADE : F P E D C B A O
 GRADE POINT : 0.00 4.00 5.00 6.00 7.00 8.00 9.00 10.00



University of Mumbai, Mumbai

OFFICE REGISTER OF THE B.E. (with credits) - Regular - CBCS(Electronics and Telecommunication Engineering)- F.E. C-Scheme - Sem I [1T01831] HELD IN Summer 2025 Result Declaration Date:11 Jul 2025

58651-Engineering Mathematics-I: ThUA 80/32 ThCA 20/8 100/0 | 58652-Engineering Physics-I: ThUA 60/24 ThCA 15/6 75/0 | 58655-Engineering Chemistry-I: ThUA 60/24 ThCA 15/6 75/0 |
 58653-Engineering Mechanics: ThUA 80/32 ThCA 20/8 100/0 | 58654-Basic Electrical Engineering: ThUA 80/32 ThCA 20/8 100/0 | FEL101-Engineering Physics-I (TW): TwCA 25/10 25/0 |
 FEL102-Engineering Chemistry-I (TW): TwCA 25/10 25/0 | FEL103-Engineering Mechanics (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 | FEL104-Basic Electrical Engineering (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 |
 FEL105-Basic Workshop Practice-I: TwCA 50/20 50/0 | FEC101-Engineering Mathematics-I Term Work: TwCA 25/10 25/0 |

SEAT NO.	NAME OF THE CANDIDATE Mother Name PRN.	PAPER 1				PAPER 2				PAPER 3				PAPER 4				PAPER 5				PAPER 6				RESULT CR C*G SGPI GRADE	
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G		
CENTRE-COLLEGE		PAPER 7				PAPER 8				PAPER 9				PAPER 10				PAPER 11									
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G		
7094223	SHINDE OM TARACHAND MANGAL 2022016402247084 (5)Thane-(237)	58651 32	8+	40		FEC101 12+	12		58652 24+	6+	30		FEL101 16+	16		58655 26+	7+	33		FEL102 23+	23		Successful 18.00 103.50				
		3.00	P	4.00	12.00	1.00	E	5.00	5.00	2.00	P	4.00	8.00	0.50	C	7.00	3.50	2.00	P	4.00	8.00	0.50	O	10.00	5.00	5.75 --	
		58653 39	12+	51		FEL103 21+	41		58654 43	11+	54		FEL104 15+	29		FEL105 43+	43										
		3.00	D	6.00	18.00	1.00	O	10.00	10.00	3.00	D	6.00	18.00	1.00	D	6.00	6.00	1.00	O	10.00	10.00						
		Total Credit 18.00				FINAL CGPI 5.75				FINAL GRADE --																	
7094224	SHINDE RUSHI PRAVIN MANISHA 2022016402247092 (5)Thane-(237)	58651 32+	10+	42		FEC101 16+	16		58652 29+	8+	37		FEL101 15+	15		58655 24+	9+	33		FEL102 23+	23		Successful 18.00 103.50				
		3.00	P	4.00	12.00	1.00	C	7.00	7.00	2.00	E	5.00	10.00	0.50	C	7.00	3.50	2.00	P	4.00	8.00	0.50	O	10.00	5.00	5.75 --	
		58653 39	8+	47		FEL103 17+	32		58654 38+	13+	51		FEL104 19+	37		FEL105 40+	40										
		3.00	E	5.00	15.00	1.00	C	7.00	7.00	3.00	D	6.00	18.00	1.00	B	8.00	8.00	1.00	O	10.00	10.00						
		Total Credit 18.00				FINAL CGPI 5.75				FINAL GRADE --																	
7094225	SONAVANE VEDANT VIDYA 2022016402233312 (5)Thane-(237)	58651 32+	8+	40		FEC101 12+	12		58652 9F	6+	15		FEL101 18+	18		58655 26+	6+	32		FEL102 16+	16		Unsuccessful 18.00 --				
		3.00	P	4.00	12.00	1.00	E	5.00	5.00	2.00	F	0.00	0.00	0.50	B	8.00	4.00	2.00	P	4.00	8.00	0.50	C	7.00	3.50	-- --	
		58653 32+	9+	41		FEL103 17+	37		58654 32+	8+	40		FEL104 12+	25		FEL105 43+	43										
		3.00	P	4.00	12.00	1.00	B	8.00	8.00	3.00	P	4.00	12.00	1.00	D	6.00	6.00	1.00	O	10.00	10.00						
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																	

/ - FEMALE, # - 0.229A,@ - 0.5042A/O.5043A/O.5044A,* - 5045A, RR-RESERVED, --:Fails in Theory or Practical, RPV - PROVISIONAL Eligible, RCC - 0.5050, AB - ABSENT, F - UNSUCCESSFUL,P - SUCCESSFUL;
 NULL=NULL & VOID, G:Grade C*G:Gradepoints C:credits CP:credit points aCG:sum of product of credits & grades, Internal Marks are Provisional as per R.8668
 aC:sum of credit points GPA: aCG/aC
 MARKS : 0 to 39.99 40 to 44.99 45 to 49.99 50 to 59.99 60 to 69.99 70 to 74.99 75 to 79.99 80 to 100
 GRADE : F P E D C B A O
 GRADE POINT : 0.00 4.00 5.00 6.00 7.00 8.00 9.00 10.00



University of Mumbai, Mumbai

OFFICE REGISTER OF THE B.E. (with credits) - Regular - CBCS(Electronics and Telecommunication Engineering)- F.E. C-Scheme - Sem I [T01831] HELD IN Summer 2025 Result Declaration Date:11 Jul 2025

58651-Engineering Mathematics-I: ThUA 80/32 ThCA 20/8 100/0 | 58652-Engineering Physics-I: ThUA 60/24 ThCA 15/6 75/0 | 58655-Engineering Chemistry-I: ThUA 60/24 ThCA 15/6 75/0 |
 58653-Engineering Mechanics: ThUA 80/32 ThCA 20/8 100/0 | 58654-Basic Electrical Engineering: ThUA 80/32 ThCA 20/8 100/0 | FEL101-Engineering Physics-I (TW): TwCA 25/10 25/0 |
 FEL102-Engineering Chemistry-I (TW): TwCA 25/10 25/0 | FEL103-Engineering Mechanics (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 | FEL104-Basic Electrical Engineering (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 |
 FEL105-Basic Workshop Practice-I: TwCA 50/20 50/0 | FEC101-Engineering Mathematics-I Term Work: TwCA 25/10 25/0 |

SEAT NO.	NAME OF THE CANDIDATE Mother Name PRN.	PAPER 1				PAPER 2				PAPER 3				PAPER 4				PAPER 5				PAPER 6				RESULT CR C*G SGPI GRADE			
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G				
CENTRE-COLLEGE		PAPER 7				PAPER 8				PAPER 9				PAPER 10				PAPER 11											
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G
7094226	THOKE MAYUR RAJU VAISHALI 2023016402115411 (5)Thane-(237)	58651 32E	11+	43		FEC101 15+	15			58652 26+	6+	32		FEL101 12E	12		58655 29+	6+	35		FEL102 18+	18			18.00	--			
		3.00	P	4.00	12.00	1.00	C	7.00	7.00	2.00	P	4.00	8.00	0.50	E	5.00	2.50	2.00	E	5.00	10.00	0.50	B	8.00	4.00	--	--		
		58653 AA	11+	11		FEL103 14+	25			58654 43+	8+	51		FEL104 12+	22		FEL105 40+	40											
		3.00	F	0.00	0.00	1.00	D	6.00	6.00	3.00	D	6.00	18.00	1.00	P	4.00	4.00	1.00	O	10.00	10.00								
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																			
7094227	VAIRAL SOHAM RAJENDRA SADHANA 2023016402091422 (5)Thane-(237)	58651 11F	13+	24		FEC101 21+	21			58652 24+	9+	33		FEL101 17+	17		58655 24+	6+	30		FEL102 13+	13			18.00	--			
		3.00	F	0.00	0.00	1.00	O	10.00	10.00	2.00	P	4.00	8.00	0.50	C	7.00	3.50	2.00	P	4.00	8.00	0.50	D	6.00	3.00	--	--		
		58653 32+	9+	41		FEL103 16+	27			58654 32+	8+	40		FEL104 13+	26		FEL105 40+	40											
		3.00	P	4.00	12.00	1.00	D	6.00	6.00	3.00	P	4.00	12.00	1.00	D	6.00	6.00	1.00	O	10.00	10.00								
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																			
7094228	YADAV SHIVAM GYANCHANDRA SITARA 2022016402249133 (5)Thane-(237)	58651 36E	8+	44		FEC101 11+	11			58652 AA	6+	6		FEL101 17+	17		58655 27+	6+	33		FEL102 15+	15			18.00	--			
		3.00	P	4.00	12.00	1.00	P	4.00	4.00	2.00	F	0.00	0.00	0.50	C	7.00	3.50	2.00	P	4.00	8.00	0.50	C	7.00	3.50	--	--		
		58653 40E	8+	48		FEL103 16+	32			58654 50+	11+	61		FEL104 13+	23		FEL105 40+	40											
		3.00	E	5.00	15.00	1.00	C	7.00	7.00	3.00	C	7.00	21.00	1.00	E	5.00	5.00	1.00	O	10.00	10.00								
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																			

/ - FEMALE, # - 0.229A,@ - 0.5042A/O.5043A/O.5044A,* - 5045A, RR-RESERVED, --:Fails in Theory or Practical, RPV - PROVISIONAL Eligible, RCC - 0.5050, AB - ABSENT, F - UNSUCCESSFUL,P - SUCCESSFUL;
 NULL=NULL & VOID, G:Grade C*G:Gradepoints C:credits CP:credit points aCG:sum of product of credits & grades, Internal Marks are Provisional as per R.8668
 aC:sum of credit points GPA: aCG/aC
 MARKS : 0 to 39.99 40 to 44.99 45 to 49.99 50 to 59.99 60 to 69.99 70 to 74.99 75 to 79.99 80 to 100
 GRADE : F P E D C B A O
 GRADE POINT : 0.00 4.00 5.00 6.00 7.00 8.00 9.00 10.00



University of Mumbai, Mumbai

OFFICE REGISTER OF THE B.E. (with credits) - Regular - CBCS(Electronics and Telecommunication Engineering)- F.E. C-Scheme - Sem I [T01831] HELD IN Summer 2025 Result Declaration Date:11 Jul 2025

58651-Engineering Mathematics-I: ThUA 80/32 ThCA 20/8 100/0 | 58652-Engineering Physics-I: ThUA 60/24 ThCA 15/6 75/0 | 58655-Engineering Chemistry-I: ThUA 60/24 ThCA 15/6 75/0 |
 58653-Engineering Mechanics: ThUA 80/32 ThCA 20/8 100/0 | 58654-Basic Electrical Engineering: ThUA 80/32 ThCA 20/8 100/0 | FEL101-Engineering Physics-I (TW): TwCA 25/10 25/0 |
 FEL102-Engineering Chemistry-I (TW): TwCA 25/10 25/0 | FEL103-Engineering Mechanics (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 | FEL104-Basic Electrical Engineering (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 |
 FEL105-Basic Workshop Practice-I: TwCA 50/20 50/0 | FEC101-Engineering Mathematics-I Term Work: TwCA 25/10 25/0 |

SEAT NO.	NAME OF THE CANDIDATE Mother Name PRN.	PAPER 1				PAPER 2				PAPER 3				PAPER 4				PAPER 5				PAPER 6				RESULT CR C*G SGPI GRADE			
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G				
CENTRE-COLLEGE		PAPER 7				PAPER 8				PAPER 9				PAPER 10				PAPER 11											
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G				
7094229	ARPIT BHASKAR ADE MAHANANDA 2023016400736696 (5)Thane-(689)	58651 15F	9+	24		FEC101 18+	18		58652 24+	7+	31		FEL101 20+	20		58655 33E	6+	39		FEL102 21+	21		18.00	--					
		3.00	F	0.00	0.00	1.00	B	8.00	8.00	2.00	P	4.00	8.00	0.50	O	10.00	5.00	2.00	D	6.00	12.00	0.50	O	10.00	5.00	-- --			
		58653 32+	13+	45		FEL103 21+	39		58654 32+	10+	42		FEL104 22+	40		FEL105 44+	44												
		3.00	E	5.00	15.00	1.00	A	9.00	9.00	3.00	P	4.00	12.00	1.00	O	10.00	10.00	1.00	O	10.00	10.00								
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																			
7094230	VIGNESH JANARDHAN BANGERA ASHA 2023016400741225 (5)Thane-(689)	58651 35+	15+	50		FEC101 18+	18		58652 15F	8+	23		FEL101 23+	23		58655 26+	8+	34		FEL102 22+	22		18.00	--					
		3.00	D	6.00	18.00	1.00	B	8.00	8.00	2.00	F	0.00	0.00	0.50	O	10.00	5.00	2.00	E	5.00	10.00	0.50	O	10.00	5.00	-- --			
		58653 32+	13+	45		FEL103 23+	41		58654 32+	14+	46		FEL104 21+	41		FEL105 44+	44												
		3.00	E	5.00	15.00	1.00	O	10.00	10.00	3.00	E	5.00	15.00	1.00	O	10.00	10.00	1.00	O	10.00	10.00								
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																			
7094231	DHIRAJ PRASHANT BHARAMBE JAYASHRI 2022016402277752 (5)Thane-(689)	58651 22F	12+	34		FEC101 18+	18		58652 28+	6+	34		FEL101 18+	18		58655 25+	6+	31		FEL102 22+	22		18.00	--					
		3.00	F	0.00	0.00	1.00	B	8.00	8.00	2.00	E	5.00	10.00	0.50	B	8.00	4.00	2.00	P	4.00	8.00	0.50	O	10.00	5.00	-- --			
		58653 34E	8+	42		FEL103 20+	37		58654 32+	11+	43		FEL104 23+	40		FEL105 38+	38												
		3.00	P	4.00	12.00	1.00	B	8.00	8.00	3.00	P	4.00	12.00	1.00	O	10.00	10.00	1.00	A	9.00	9.00								
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																			

/ - FEMALE, # - 0.229A,@ - 0.5042A/O.5043A/O.5044A, * - 5045A, RR-RESERVED, --:Fails in Theory or Practical, RPV - PROVISIONAL Eligible, RCC - 0.5050, AB - ABSENT, F - UNSUCCESSFUL,P - SUCCESSFUL;
 NULL=NULL & VOID, G:Grade C*G:Gradepoints C:credits CP:credit points aCG:sum of product of credits & grades, Internal Marks are Provisional as per R.8668
 aC:sum of credit points GPA: aCG/aC
 MARKS : 0 to 39.99 40 to 44.99 45 to 49.99 50 to 59.99 60 to 69.99 70 to 74.99 75 to 79.99 80 to 100
 GRADE : F P E D C B A O
 GRADE POINT : 0.00 4.00 5.00 6.00 7.00 8.00 9.00 10.00



University of Mumbai, Mumbai

OFFICE REGISTER OF THE B.E. (with credits) - Regular - CBCS(Electronics and Telecommunication Engineering)- F.E. C-Scheme - Sem I [T01831] HELD IN Summer 2025 Result Declaration Date:11 Jul 2025

58651-Engineering Mathematics-I: ThUA 80/32 ThCA 20/8 100/0 | 58652-Engineering Physics-I: ThUA 60/24 ThCA 15/6 75/0 | 58655-Engineering Chemistry-I: ThUA 60/24 ThCA 15/6 75/0 |
 58653-Engineering Mechanics: ThUA 80/32 ThCA 20/8 100/0 | 58654-Basic Electrical Engineering: ThUA 80/32 ThCA 20/8 100/0 | FEL101-Engineering Physics-I (TW): TwCA 25/10 25/0 |
 FEL102-Engineering Chemistry-I (TW): TwCA 25/10 25/0 | FEL103-Engineering Mechanics (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 | FEL104-Basic Electrical Engineering (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 |
 FEL105-Basic Workshop Practice-I: TwCA 50/20 50/0 | FEC101-Engineering Mathematics-I Term Work: TwCA 25/10 25/0 |

SEAT NO.	NAME OF THE CANDIDATE Mother Name PRN.	PAPER 1				PAPER 2				PAPER 3				PAPER 4				PAPER 5				PAPER 6				RESULT CR C*G SGPI GRADE			
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G				
CENTRE-COLLEGE		PAPER 7				PAPER 8				PAPER 9				PAPER 10				PAPER 11											
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G
7094232	DESALE AAYUSH SUNIL RUPALI 2023016400740574 (5)Thane-(689)	58651 32E	15+	47		FEC101 12+	12			58652 11F	6+	17		FEL101 20+	20		58655 24+	8+	32		FEL102 21+	21		18.00	--				
		3.00	E	5.00	15.00	1.00	E	5.00	5.00	2.00	F	0.00	0.00	0.50	O	10.00	5.00	2.00	P	4.00	8.00	0.50	O	10.00	5.00	-- --			
		58653 38+	10+	48		FEL103 20+	38			58654 32+	9+	41		FEL104 20+	33		FEL105 45+	45											
		3.00	E	5.00	15.00	1.00	A	9.00	9.00	3.00	P	4.00	12.00	1.00	C	7.00	7.00	1.00	O	10.00	10.00								
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																			
7094233	/ DEVLIKAR PURVA GOPINATH ROHINI 2022016402277841 (5)Thane-(689)	58651 33+	10+	43		FEC101 19+	19			58652 24+	7+	31		FEL101 16+	16		58655 31	6+	37		FEL102 12+	12		18.00	98.00				
		3.00	P	4.00	12.00	1.00	A	9.00	9.00	2.00	P	4.00	8.00	0.50	C	7.00	3.50	2.00	E	5.00	10.00	0.50	E	5.00	2.50	5.44 --			
		58653 32+	11+	43		FEL103 20+	38			58654 36+	11+	47		FEL104 20+	35		FEL105 38+	38											
		3.00	P	4.00	12.00	1.00	A	9.00	9.00	3.00	E	5.00	15.00	1.00	B	8.00	8.00	1.00	A	9.00	9.00								
		Total Credit 18.00				FINAL CGPI 5.44				FINAL GRADE --																			
7094234	GUPTA MEET MANDAR SWAPNALI 2023016400733462 (5)Thane-(689)	58651 32+	13+	45		FEC101 10+	10			58652 14F	8+	22		FEL101 19+	19		58655 24E	9+	33		FEL102 22+	22		18.00	--				
		3.00	E	5.00	15.00	1.00	P	4.00	4.00	2.00	F	0.00	0.00	0.50	A	9.00	4.50	2.00	P	4.00	8.00	0.50	O	10.00	5.00	-- --			
		58653 12F	10+	22		FEL103 19+	34			58654 32+	9+	41		FEL104 16+	29		FEL105 50+	50											
		3.00	F	0.00	0.00	1.00	C	7.00	7.00	3.00	P	4.00	12.00	1.00	D	6.00	6.00	1.00	O	10.00	10.00								
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																			

/ - FEMALE, # - 0.229A,@ - 0.5042A/O.5043A/O.5044A,* - 5045A, RR-RESERVED, --:Fails in Theory or Practical, RPV - PROVISIONAL Eligible, RCC - 0.5050, AB - ABSENT, F - UNSUCCESSFUL,P - SUCCESSFUL;
 NULL=NULL & VOID, G:Grade C*G:Gradepoints C:credits CP:credit points aCG:sum of product of credits & grades, Internal Marks are Provisional as per R.8668
 aC:sum of credit points GPA: aCG/aC
 MARKS : 0 to 39.99 40 to 44.99 45 to 49.99 50 to 59.99 60 to 69.99 70 to 74.99 75 to 79.99 80 to 100
 GRADE : F P E D C B A O
 GRADE POINT : 0.00 4.00 5.00 6.00 7.00 8.00 9.00 10.00



University of Mumbai, Mumbai

OFFICE REGISTER OF THE B.E. (with credits) - Regular - CBCS(Electronics and Telecommunication Engineering)- F.E. C-Scheme - Sem I [1T01831] HELD IN Summer 2025 Result Declaration Date:11 Jul 2025

58651-Engineering Mathematics-I: ThUA 80/32 ThCA 20/8 100/0 | 58652-Engineering Physics-I: ThUA 60/24 ThCA 15/6 75/0 | 58655-Engineering Chemistry-I: ThUA 60/24 ThCA 15/6 75/0 |
 58653-Engineering Mechanics: ThUA 80/32 ThCA 20/8 100/0 | 58654-Basic Electrical Engineering: ThUA 80/32 ThCA 20/8 100/0 | FEL101-Engineering Physics-I (TW): TwCA 25/10 25/0 |
 FEL102-Engineering Chemistry-I (TW): TwCA 25/10 25/0 | FEL103-Engineering Mechanics (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 | FEL104-Basic Electrical Engineering (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 |
 FEL105-Basic Workshop Practice-I: TwCA 50/20 50/0 | FEC101-Engineering Mathematics-I Term Work: TwCA 25/10 25/0 |

SEAT NO.	NAME OF THE CANDIDATE Mother Name PRN.	PAPER 1				PAPER 2				PAPER 3				PAPER 4				PAPER 5				PAPER 6				RESULT CR C*G SGPI GRADE
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	
CENTRE-COLLEGE		PAPER 7				PAPER 8				PAPER 9				PAPER 10				PAPER 11								
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	
7094235	/ GURAV ADITI SAMEER REENA 2023016400737162 (5)Thane-(689)	58651 52+	11+	63		FEC101 15+	15			58652 31	11+	42		FEL101 22+	22		58655 25+	11+	36		FEL102 20+	20			Successful 18.00 120.00 6.67 --	
		3.00	C	7.00	21.00	1.00	C	7.00	7.00	2.00	D	6.00	12.00	0.50	O	10.00	5.00	2.00	E	5.00	10.00	0.50	O	10.00	5.00	
		58653 43+	10+	53		FEL103 21+	37			58654 36+	12+	48		FEL104 22+	39		FEL105 40+	40								
		3.00	D	6.00	18.00	1.00	B	8.00	8.00	3.00	E	5.00	15.00	1.00	A	9.00	9.00	1.00	O	10.00	10.00					
		Total Credit 18.00				FINAL CGPI 6.67				FINAL GRADE --																
7094236	/ JANHVI SANDEEP JADHAV RADHIKA 2023016400733284 (5)Thane-(689)	58651 19F	8+	27		FEC101 10+	10			58652 24+	9+	33		FEL101 23+	23		58655 24+	6+	30		FEL102 23+	23			Unsuccessful 18.00 -- -- --	
		3.00	F	0.00	0.00	1.00	P	4.00	4.00	2.00	P	4.00	8.00	0.50	O	10.00	5.00	2.00	P	4.00	8.00	0.50	O	10.00	5.00	
		58653 32+	8+	40		FEL103 23+	42			58654 35+	9+	44		FEL104 23+	37		FEL105 44+	44								
		3.00	P	4.00	12.00	1.00	O	10.00	10.00	3.00	P	4.00	12.00	1.00	B	8.00	8.00	1.00	O	10.00	10.00					
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																
7094237	KADAM VARAD SATISH SMITA 2022016402277895 (5)Thane-(689)	58651 41+	9+	50		FEC101 10+	10			58652 24+	6+	30		FEL101 15+	15		58655 25+	6+	31		FEL102 10+	10			Unsuccessful 18.00 -- -- --	
		3.00	D	6.00	18.00	1.00	P	4.00	4.00	2.00	P	4.00	8.00	0.50	C	7.00	3.50	2.00	P	4.00	8.00	0.50	P	4.00	2.00	
		58653 19F	8+	27		FEL103 17+	35			58654 32+	14+	46		FEL104 12+	23		FEL105 22+	22								
		3.00	F	0.00	0.00	1.00	B	8.00	8.00	3.00	E	5.00	15.00	1.00	E	5.00	5.00	1.00	P	4.00	4.00					
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																

/ - FEMALE, # - 0.229A,@ - 0.5042A/O.5043A/O.5044A,* - 5045A, RR-RESERVED, --:Fails in Theory or Practical, RPV - PROVISIONAL Eligible, RCC - 0.5050, AB - ABSENT, F - UNSUCCESSFUL,P - SUCCESSFUL;
 NULL=NULL & VOID, G:Grade C*G:Gradepoints C:credits CP:credit points aCG:sum of product of credits & grades, Internal Marks are Provisional as per R.8668
 aC:sum of credit points GPA: aCG/aC
 MARKS : 0 to 39.99 40 to 44.99 45 to 49.99 50 to 59.99 60 to 69.99 70 to 74.99 75 to 79.99 80 to 100
 GRADE : F P E D C B A O
 GRADE POINT : 0.00 4.00 5.00 6.00 7.00 8.00 9.00 10.00



University of Mumbai, Mumbai

OFFICE REGISTER OF THE B.E. (with credits) - Regular - CBCS (Electronics and Telecommunication Engineering)- F.E. C-Scheme - Sem I [T01831] HELD IN Summer 2025 Result Declaration Date: 11 Jul 2025

58651-Engineering Mathematics-I: ThUA 80/32 ThCA 20/8 100/0 | 58652-Engineering Physics-I: ThUA 60/24 ThCA 15/6 75/0 | 58655-Engineering Chemistry-I: ThUA 60/24 ThCA 15/6 75/0 |
 58653-Engineering Mechanics: ThUA 80/32 ThCA 20/8 100/0 | 58654-Basic Electrical Engineering: ThUA 80/32 ThCA 20/8 100/0 | FEL101-Engineering Physics-I (TW): TwCA 25/10 25/0 |
 FEL102-Engineering Chemistry-I (TW): TwCA 25/10 25/0 | FEL103-Engineering Mechanics (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 | FEL104-Basic Electrical Engineering (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 |
 FEL105-Basic Workshop Practice-I: TwCA 50/20 50/0 | FEC101-Engineering Mathematics-I Term Work: TwCA 25/10 25/0 |

SEAT NO.	NAME OF THE CANDIDATE Mother Name PRN.	PAPER 1				PAPER 2				PAPER 3				PAPER 4				PAPER 5				PAPER 6				RESULT CR C*G SGPI GRADE	
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G		
CENTRE-COLLEGE		PAPER 7				PAPER 8				PAPER 9				PAPER 10				PAPER 11									
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G		
7094238	/ ARPITA MOHAN LENDE ARCHANA 2023016400732822 (5)Thane-(689)	58651 45+		61+	51	FEC101 14+		14		58652 30+		11+	41	FEL101 14+		20+	20	58655 25+		6+	31	FEL102 14+		21+	21	18.00 --	
		3.00	D	6.00	18.00	1.00	D	6.00	6.00	2.00	D	6.00	12.00	0.50	O	10.00	5.00	2.00	P	4.00	8.00	0.50	O	10.00	5.00	-- --	
		58653 45+		8+	53	FEL103 22+		34		58654 19F		8+	27	FEL104 14+		21+	34	FEL105 14+		35+	35						
		3.00	D	6.00	18.00	1.00	C	7.00	7.00	3.00	F	0.00	0.00	1.00	C	7.00	7.00	1.00	B	8.00	8.00						
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																	
7094239	/ MAGAR SUJATA MARUTI MINAKSHI 2023016400732265 (5)Thane-(689)	58651 38+		12+	50	FEC101 16+		16		58652 8F		7+	15	FEL101 14+		21+	21	58655 32+		6+	38	FEL102 14+		22+	22	18.00 --	
		3.00	D	6.00	18.00	1.00	C	7.00	7.00	2.00	F	0.00	0.00	0.50	O	10.00	5.00	2.00	D	6.00	12.00	0.50	O	10.00	5.00	-- --	
		58653 6F		8+	14	FEL103 22+		42		58654 10F		11+	21	FEL104 14+		22+	39	FEL105 14+		43+	43						
		3.00	F	0.00	0.00	1.00	O	10.00	10.00	3.00	F	0.00	0.00	1.00	A	9.00	9.00	1.00	O	10.00	10.00						
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																	
7094240	MALGE HARSH BABU REKHA 2023016401371684 (5)Thane-(689)	58651 40+		11+	51	FEC101 15+		15		58652 24		8+	32	FEL101 14+		22+	22	58655 24+		8+	32	FEL102 14+		23+	23	18.00 113.00	
		3.00	D	6.00	18.00	1.00	C	7.00	7.00	2.00	P	4.00	8.00	0.50	O	10.00	5.00	2.00	P	4.00	8.00	0.50	O	10.00	5.00	6.28 --	
		58653 51		15+	66	FEL103 23+		38		58654 32+		13+	45	FEL104 14+		22+	39	FEL105 14+		36+	36						
		3.00	C	7.00	21.00	1.00	A	9.00	9.00	3.00	E	5.00	15.00	1.00	A	9.00	9.00	1.00	B	8.00	8.00						
		Total Credit 18.00				FINAL CGPI 6.28				FINAL GRADE --																	

/ - FEMALE, # - 0.229A, @ - 0.5042A/O.5043A/O.5044A, * - 5045A, RR-RESERVED, --:Fails in Theory or Practical, RPV - PROVISIONAL Eligible, RCC - 0.5050, AB - ABSENT, F - UNSUCCESSFUL, P - SUCCESSFUL;
 NULL=NULL & VOID, G:Grade C*G:Gradepoints C:credits CP:credit points aCG:sum of product of credits & grades, Internal Marks are Provisional as per R.8668
 aC:sum of credit points GPA: aCG/aC
 MARKS : 0 to 39.99 40 to 44.99 45 to 49.99 50 to 59.99 60 to 69.99 70 to 74.99 75 to 79.99 80 to 100
 GRADE : F P E D C B A O
 GRADE POINT : 0.00 4.00 5.00 6.00 7.00 8.00 9.00 10.00



University of Mumbai, Mumbai

OFFICE REGISTER OF THE B.E. (with credits) - Regular - CBCS(Electronics and Telecommunication Engineering)- F.E. C-Scheme - Sem I [1T01831] HELD IN Summer 2025 Result Declaration Date:11 Jul 2025

58651-Engineering Mathematics-I: ThUA 80/32 ThCA 20/8 100/0 | 58652-Engineering Physics-I: ThUA 60/24 ThCA 15/6 75/0 | 58655-Engineering Chemistry-I: ThUA 60/24 ThCA 15/6 75/0 |
 58653-Engineering Mechanics: ThUA 80/32 ThCA 20/8 100/0 | 58654-Basic Electrical Engineering: ThUA 80/32 ThCA 20/8 100/0 | FEL101-Engineering Physics-I (TW): TwCA 25/10 25/0 |
 FEL102-Engineering Chemistry-I (TW): TwCA 25/10 25/0 | FEL103-Engineering Mechanics (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 | FEL104-Basic Electrical Engineering (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 |
 FEL105-Basic Workshop Practice-I: TwCA 50/20 50/0 | FEC101-Engineering Mathematics-I Term Work: TwCA 25/10 25/0 |

SEAT NO.	NAME OF THE CANDIDATE Mother Name PRN.	PAPER 1				PAPER 2				PAPER 3				PAPER 4				PAPER 5				PAPER 6				RESULT CR C*G SGPI GRADE			
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G				
CENTRE-COLLEGE		PAPER 7				PAPER 8				PAPER 9				PAPER 10				PAPER 11											
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G				
7094241	MANE NITIN SATISH VANDANA 2023016402056244 (5)Thane-(689)	58651 39+	AA	39		FEC101 10+	10		58652 AA	AA	AA		FEL101 12+	12		58655 AA	AA	AA		FEL102 AA	AA	AA		ABS 18.00	--				
		3.00	F	0.00	0.00	1.00	P	4.00	4.00	2.00	F	0.00	AB	0.50	E	5.00	2.50	2.00	F	0.00	AB	0.50	F	0.00	AB	--	--		
		58653 AA	AA	AA		FEL103 11+	11		58654 AA	AA	AA		FEL104 11+	11		FEL105 22+	22												
		3.00	F	0.00	AB	1.00	F	0.00	0.00	3.00	F	0.00	AB	1.00	F	0.00	0.00	1.00	P	4.00	4.00								
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																			
7094242	MORE ATHARVA MAHENDRA MANALI 2023016400733292 (5)Thane-(689)	58651 32	9+	41		FEC101 14+	14		58652 26	8+	34		FEL101 19+	19		58655 26+	8+	34		FEL102 21+	21		Successful 18.00	101.50					
		3.00	P	4.00	12.00	1.00	D	6.00	6.00	2.00	E	5.00	10.00	0.50	A	9.00	4.50	2.00	E	5.00	10.00	0.50	O	10.00	5.00	5.64	--		
		58653 46+	15+	61		FEL103 20+	33		58654 32	12+	44		FEL104 20+	39		FEL105 24+	24												
		3.00	C	7.00	21.00	1.00	C	7.00	7.00	3.00	P	4.00	12.00	1.00	A	9.00	9.00	1.00	E	5.00	5.00								
		Total Credit 18.00				FINAL CGPI 5.64				FINAL GRADE --																			
7094243	/ MORE SHRUTI RAVINDRA ARCHANA 2022016402278337 (5)Thane-(689)	58651 21F	11+	32		FEC101 18+	18		58652 24+	6+	30		FEL101 16+	16		58655 24+	11+	35		FEL102 19+	19		Unsuccessful 18.00	--					
		3.00	F	0.00	0.00	1.00	B	8.00	8.00	2.00	P	4.00	8.00	0.50	C	7.00	3.50	2.00	E	5.00	10.00	0.50	A	9.00	4.50	--	--		
		58653 35+	11+	46		FEL103 21+	40		58654 32+	9+	41		FEL104 18+	37		FEL105 40+	40												
		3.00	E	5.00	15.00	1.00	O	10.00	10.00	3.00	P	4.00	12.00	1.00	B	8.00	8.00	1.00	O	10.00	10.00								
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																			

/ - FEMALE, # - 0.229A,@ - 0.5042A/O.5043A/O.5044A,* - 5045A, RR-RESERVED, --:Fails in Theory or Practical, RPV - PROVISIONAL Eligible, RCC - 0.5050, AB - ABSENT, F - UNSUCCESSFUL,P - SUCCESSFUL;
 NULL=NULL & VOID, G:Grade C*G:Gradepoints C:credits CP:credit points aCG:sum of product of credits & grades, Internal Marks are Provisional as per R.8668
 aC:sum of credit points GPA: aCG/aC
 MARKS : 0 to 39.99 40 to 44.99 45 to 49.99 50 to 59.99 60 to 69.99 70 to 74.99 75 to 79.99 80 to 100
 GRADE : F P E D C B A O
 GRADE POINT : 0.00 4.00 5.00 6.00 7.00 8.00 9.00 10.00



University of Mumbai, Mumbai

OFFICE REGISTER OF THE B.E. (with credits) - Regular - CBCS(Electronics and Telecommunication Engineering)- F.E. C-Scheme - Sem I [1T01831] HELD IN Summer 2025 Result Declaration Date:11 Jul 2025

58651-Engineering Mathematics-I: ThUA 80/32 ThCA 20/8 100/0 | 58652-Engineering Physics-I: ThUA 60/24 ThCA 15/6 75/0 | 58655-Engineering Chemistry-I: ThUA 60/24 ThCA 15/6 75/0 |
 58653-Engineering Mechanics: ThUA 80/32 ThCA 20/8 100/0 | 58654-Basic Electrical Engineering: ThUA 80/32 ThCA 20/8 100/0 | FEL101-Engineering Physics-I (TW): TwCA 25/10 25/0 |
 FEL102-Engineering Chemistry-I (TW): TwCA 25/10 25/0 | FEL103-Engineering Mechanics (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 | FEL104-Basic Electrical Engineering (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 |
 FEL105-Basic Workshop Practice-I: TwCA 50/20 50/0 | FEC101-Engineering Mathematics-I Term Work: TwCA 25/10 25/0 |

SEAT NO.	NAME OF THE CANDIDATE Mother Name PRN.	PAPER 1				PAPER 2				PAPER 3				PAPER 4				PAPER 5				PAPER 6				RESULT CR C*G SGPI GRADE			
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G				
CENTRE-COLLEGE		PAPER 7				PAPER 8				PAPER 9				PAPER 10				PAPER 11											
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G				
7094244	/ MURUDKAR PURVA SAMEER REENA 2022016402278682 (5)Thane-(689)	58651 32+	13+	45	15.00	FEC101 1--	18+	18	8.00	58652 26	9+	35	10.00	FEL101 1--	18+	18	8.00	58655 24+	7+	31	10.00	FEL102 1--	20+	20	18.00	100.00	Successful		
		3.00	E	5.00	15.00	1.00	B	8.00	8.00	2.00	E	5.00	10.00	0.50	B	8.00	4.00	2.00	P	4.00	8.00	0.50	O	10.00	5.00	5.56	--		
		58653 32+	11+	43	12.00	FEL103 1--	16+	31	7.00	58654 33+	9+	42	12.00	FEL104 1--	19+	39	9.00	FEL105 1--	44+	44	10.00								
		3.00	P	4.00	12.00	1.00	C	7.00	7.00	3.00	P	4.00	12.00	1.00	A	9.00	9.00	1.00	O	10.00	10.00								
		Total Credit 18.00				FINAL CGPI 5.56				FINAL GRADE --																			
7094245	/ RACHITA KRISHNA NAIK GOWRI 2023016400740984 (5)Thane-(689)	58651 24F	12+	36	0.00	FEC101 1--	16+	16	7.00	58652 24+	11+	35	10.00	FEL101 1--	22+	22	5.00	58655 14F	8+	22	0.00	FEL102 1--	22+	22	18.00	--	Unsuccessful		
		3.00	F	0.00	0.00	1.00	C	7.00	7.00	2.00	E	5.00	10.00	0.50	O	10.00	5.00	2.00	F	0.00	0.00	0.50	O	10.00	5.00	--	--		
		58653 37+	10+	47	15.00	FEL103 1--	22+	41	10.00	58654 43E	10+	53	18.00	FEL104 1--	23+	40	10.00	FEL105 1--	44+	44	10.00								
		3.00	E	5.00	15.00	1.00	O	10.00	10.00	3.00	D	6.00	18.00	1.00	O	10.00	10.00	1.00	O	10.00	10.00								
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																			
7094246	NIPANE HARSH VIKAS VANITA 2022016402279101 (5)Thane-(689)	58651 15F	8+	23	0.00	FEC101 1--	18+	18	8.00	58652 24+	6+	30	8.00	FEL101 1--	16+	16	3.50	58655 10F	10+	10	0.00	FEL102 1--	17+	17	18.00	--	Unsuccessful		
		3.00	F	0.00	0.00	1.00	B	8.00	8.00	2.00	P	4.00	8.00	0.50	C	7.00	3.50	2.00	F	0.00	0.00	0.50	C	7.00	3.50	--	--		
		58653 4F	14+	18	0.00	FEL103 1--	18+	28	6.00	58654 32E	12+	44	12.00	FEL104 1--	18+	37	8.00	FEL105 1--	30+	30	7.00								
		3.00	F	0.00	0.00	1.00	D	6.00	6.00	3.00	P	4.00	12.00	1.00	B	8.00	8.00	1.00	C	7.00	7.00								
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																			

/ - FEMALE, # - 0.229A,@ - 0.5042A/O.5043A/O.5044A,* - 5045A, RR-RESERVED, --:Fails in Theory or Practical, RPV - PROVISIONAL Eligible, RCC - 0.5050, AB - ABSENT, F - UNSUCCESSFUL,P - SUCCESSFUL;
 NULL=NULL & VOID, G:Grade C*G:Gradepoints C:credits CP:credit points aCG:sum of product of credits & grades, Internal Marks are Provisional as per R.8668
 aC:sum of credit points GPA: aCG/aC
 MARKS : 0 to 39.99 40 to 44.99 45 to 49.99 50 to 59.99 60 to 69.99 70 to 74.99 75 to 79.99 80 to 100
 GRADE : F P E D C B A O
 GRADE POINT : 0.00 4.00 5.00 6.00 7.00 8.00 9.00 10.00



University of Mumbai, Mumbai

OFFICE REGISTER OF THE B.E. (with credits) - Regular - CBCS (Electronics and Telecommunication Engineering)- F.E. C-Scheme - Sem I [1T01831] HELD IN Summer 2025 Result Declaration Date: 11 Jul 2025

58651-Engineering Mathematics-I: ThUA 80/32 ThCA 20/8 100/0 | 58652-Engineering Physics-I: ThUA 60/24 ThCA 15/6 75/0 | 58655-Engineering Chemistry-I: ThUA 60/24 ThCA 15/6 75/0 |
 58653-Engineering Mechanics: ThUA 80/32 ThCA 20/8 100/0 | 58654-Basic Electrical Engineering: ThUA 80/32 ThCA 20/8 100/0 | FEL101-Engineering Physics-I (TW): TwCA 25/10 25/0 |
 FEL102-Engineering Chemistry-I (TW): TwCA 25/10 25/0 | FEL103-Engineering Mechanics (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 | FEL104-Basic Electrical Engineering (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 |
 FEL105-Basic Workshop Practice-I: TwCA 50/20 50/0 | FEC101-Engineering Mathematics-I Term Work: TwCA 25/10 25/0 |

SEAT NO.	NAME OF THE CANDIDATE Mother Name PRN.	PAPER 1				PAPER 2				PAPER 3				PAPER 4				PAPER 5				PAPER 6				RESULT CR C*G SGPI GRADE	
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G		
CENTRE-COLLEGE		PAPER 7				PAPER 8				PAPER 9				PAPER 10				PAPER 11									
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G		
7094247	GANDHAKSHI VIKRANT PATIL MEENA 2023016400736882 (5)Thane-(689)	58651 32+ 3.00 P 4.00 12.00	9+	41	1.00 E	5.00 5.00	12 12	2.00 P	4.00 8.00	8 8	32 32	1.00 O	10.00 10.00	18 18	2.00 E	5.00 10.00	10 10	1.00 O	10.00 10.00	10 10	1.00 O	10.00 5.00	21 21	18.00 105.00	105.00 5.83 --		
7094248	PATIL JIVAN KADUBA JYOTIBAI 2022016402287584 (5)Thane-(689)	58651 32+ 3.00 E	13+	45	1.00 D	6.00 6.00	14 14	2.00 P	4.00 8.00	6 6	32 32	1.00 D	6.00 3.00	14 14	2.00 E	5.00 10.00	11 11	1.00 C	7.00 3.50	16 16	18.00 94.50	94.50 5.25 --					
7094249	PATIL YOGENDRA SAMEER SANYUKTA 2022016402278925 (5)Thane-(689)	58651 32+ 3.00 P	9+	41	1.00 A	9.00 9.00	19 19	2.00 P	4.00 8.00	6 6	30 30	1.00 D	6.00 3.00	14 14	2.00 F	0.00 0.00	14 14	1.00 O	10.00 5.00	20 20	18.00 --	18.00 --					

/ - FEMALE, # - 0.229A, @ - 0.5042A/O.5043A/O.5044A, * - 5045A, RR-RESERVED, --:Fails in Theory or Practical, RPV - PROVISIONAL Eligible, RCC - 0.5050, AB - ABSENT, F - UNSUCCESSFUL, P - SUCCESSFUL;
 NULL=NULL & VOID, G:Grade C*G:Gradepoints C:credits CP:credit points aCG:sum of product of credits & grades, Internal Marks are Provisional as per R.8668
 aC:sum of credit points GPA: aCG/aC
 MARKS : 0 to 39.99 40 to 44.99 45 to 49.99 50 to 59.99 60 to 69.99 70 to 74.99 75 to 79.99 80 to 100
 GRADE : F P E D C B A O
 GRADE POINT : 0.00 4.00 5.00 6.00 7.00 8.00 9.00 10.00



University of Mumbai, Mumbai

OFFICE REGISTER OF THE B.E. (with credits) - Regular - CBCS(Electronics and Telecommunication Engineering)- F.E. C-Scheme - Sem I [1T01831] HELD IN Summer 2025 Result Declaration Date:11 Jul 2025

58651-Engineering Mathematics-I: ThUA 80/32 ThCA 20/8 100/0 | 58652-Engineering Physics-I: ThUA 60/24 ThCA 15/6 75/0 | 58655-Engineering Chemistry-I: ThUA 60/24 ThCA 15/6 75/0 |
 58653-Engineering Mechanics: ThUA 80/32 ThCA 20/8 100/0 | 58654-Basic Electrical Engineering: ThUA 80/32 ThCA 20/8 100/0 | FEL101-Engineering Physics-I (TW): TwCA 25/10 25/0 |
 FEL102-Engineering Chemistry-I (TW): TwCA 25/10 25/0 | FEL103-Engineering Mechanics (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 | FEL104-Basic Electrical Engineering (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 |
 FEL105-Basic Workshop Practice-I: TwCA 50/20 50/0 | FEC101-Engineering Mathematics-I Term Work: TwCA 25/10 25/0 |

SEAT NO.	NAME OF THE CANDIDATE Mother Name PRN.	PAPER 1				PAPER 2				PAPER 3				PAPER 4				PAPER 5				PAPER 6				RESULT CR C*G SGPI GRADE			
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G				
CENTRE-COLLEGE		PAPER 7				PAPER 8				PAPER 9				PAPER 10				PAPER 11											
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G
7094250	PEDNEKAR SAHIL VILAS VARSHA 2022016402278883 (5)Thane-(689)	58651 6F	8+	14		FEC101 16+	16			58652 14F	AA	14		FEL101 15+	15		58655 24+	10+	34		FEL102 21+	21		18.00	--				
		3.00	F	0.00	0.00	1.00	C	7.00	7.00	2.00	F	0.00	0.00	0.50	C	7.00	3.50	2.00	E	5.00	10.00	0.50	O	10.00	5.00	-- --			
		58653 32+	11+	43		FEL103 20+	38			58654 33+	10+	43		FEL104 20+	40		FEL105 20+	20											
		3.00	P	4.00	12.00	1.00	A	9.00	9.00	3.00	P	4.00	12.00	1.00	O	10.00	10.00	1.00	P	4.00	4.00								
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																			
7094251	/ PRADHAN AISHWARYA SANJIV SANJANA 2022016402278473 (5)Thane-(689)	58651 43	13+	56		FEC101 19+	19			58652 24	9+	33		FEL101 20+	20		58655 24+	9+	33		FEL102 23+	23		18.00	110.00				
		3.00	D	6.00	18.00	1.00	A	9.00	9.00	2.00	P	4.00	8.00	0.50	O	10.00	5.00	2.00	P	4.00	8.00	0.50	O	10.00	5.00	6.11 --			
		58653 32+	10+	42		FEL103 21+	40			58654 34+	15+	49		FEL104 21+	41		FEL105 42+	42											
		3.00	P	4.00	12.00	1.00	O	10.00	10.00	3.00	E	5.00	15.00	1.00	O	10.00	10.00	1.00	O	10.00	10.00								
		Total Credit 18.00				FINAL CGPI 6.11				FINAL GRADE --																			
7094252	/ SIDDHI SHAILENDRA SAWANT SHILPA 2023016400732594 (5)Thane-(689)	58651 32+	11+	43		FEC101 20+	20			58652 32+	10+	42		FEL101 21+	21		58655 34+	13+	47		FEL102 22+	22		18.00	--				
		3.00	P	4.00	12.00	1.00	O	10.00	10.00	2.00	D	6.00	12.00	0.50	O	10.00	5.00	2.00	C	7.00	14.00	0.50	O	10.00	5.00	-- --			
		58653 34+	10+	44		FEL103 17+	31			58654 28F	16+	44		FEL104 21+	40		FEL105 42+	42											
		3.00	P	4.00	12.00	1.00	C	7.00	7.00	3.00	F	0.00	0.00	1.00	O	10.00	10.00	1.00	O	10.00	10.00								
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																			

/ - FEMALE, # - 0.229A,@ - 0.5042A/O.5043A/O.5044A,* - 5045A, RR-RESERVED, --:Fails in Theory or Practical, RPV - PROVISIONAL Eligible, RCC - 0.5050, AB - ABSENT, F - UNSUCCESSFUL,P - SUCCESSFUL;
 NULL=NULL & VOID, G:Grade C*G:Gradepoints C:credits CP:credit points aCG:sum of product of credits & grades, Internal Marks are Provisional as per R.8668
 aC:sum of credit points GPA: aCG/aC
 MARKS : 0 to 39.99 40 to 44.99 45 to 49.99 50 to 59.99 60 to 69.99 70 to 74.99 75 to 79.99 80 to 100
 GRADE : F P E D C B A O
 GRADE POINT : 0.00 4.00 5.00 6.00 7.00 8.00 9.00 10.00



University of Mumbai, Mumbai

OFFICE REGISTER OF THE B.E. (with credits) - Regular - CBCS(Electronics and Telecommunication Engineering)- F.E. C-Scheme - Sem I [1T01831] HELD IN Summer 2025 Result Declaration Date:11 Jul 2025

58651-Engineering Mathematics-I: ThUA 80/32 ThCA 20/8 100/0 | 58652-Engineering Physics-I: ThUA 60/24 ThCA 15/6 75/0 | 58655-Engineering Chemistry-I: ThUA 60/24 ThCA 15/6 75/0 |
 58653-Engineering Mechanics: ThUA 80/32 ThCA 20/8 100/0 | 58654-Basic Electrical Engineering: ThUA 80/32 ThCA 20/8 100/0 | FEL101-Engineering Physics-I (TW): TwCA 25/10 25/0 |
 FEL102-Engineering Chemistry-I (TW): TwCA 25/10 25/0 | FEL103-Engineering Mechanics (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 | FEL104-Basic Electrical Engineering (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 |
 FEL105-Basic Workshop Practice-I: TwCA 50/20 50/0 | FEC101-Engineering Mathematics-I Term Work: TwCA 25/10 25/0 |

SEAT NO.	NAME OF THE CANDIDATE Mother Name PRN.	PAPER 1				PAPER 2				PAPER 3				PAPER 4				PAPER 5				PAPER 6				RESULT CR C*G SGPI GRADE	
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G		
CENTRE-COLLEGE		PAPER 7				PAPER 8				PAPER 9				PAPER 10				PAPER 11									
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G		
7094253	SAWANT YASH SACHIN SAYALI 2022016402287561 (5)Thane-(689)	58651 41+ 3.00 D	9+ 9+ 6.00	50 18.00	FEC101 15+ 7.00	15 15 7.00	58652 26+ 2.00 P	6 6 4.00	32 32 8.00	FEL101 15+ 0.50 C	15 15 7.00	3.50	58655 24+ 2.00 P	7+ 7+ 4.00	31 31 8.00	FEL102 19+ 0.50 A	19 19 9.00	18.00	101.00	5.61	--	Successful					
		Total Credit 18.00				FINAL CGPI 5.61				FINAL GRADE --																	
7094254	SHAIKH JASHID MAJID NAGINA 2023016400736835 (5)Thane-(689)	58651 32+ 3.00 P	10+ 10+ 4.00	42 12.00	FEC101 10+ 1.00 P	10 10 4.00	58652 24+ 2.00 P	8+ 8+ 4.00	32 32 8.00	FEL101 11+ 0.50 P	11 11 4.00	2.00	58655 24+ 2.00 P	8+ 8+ 4.00	32 32 8.00	FEL102 10+ 0.50 P	10 10 4.00	18.00	--	--	Unsuccessful						
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																	
7094255	SHEWALE RISHI SURYAKANT HEMA 2023016402090836 (5)Thane-(689)	58651 40+ 3.00 E	8+ 8+ 5.00	48 15.00	FEC101 14+ 1.00 D	14 14 6.00	58652 13F 2.00 F	9+ 9+ 0.00	22 22 0.00	FEL101 13+ 0.50 D	13 13 6.00	3.00	58655 10F 2.00 F	10+ 10+ 0.00	20 20 0.00	FEL102 18+ 0.50 B	18 18 8.00	18.00	--	--	Unsuccessful						
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																	

/ - FEMALE, # - 0.229A,@ - 0.5042A/O.5043A/O.5044A,* - 5045A, RR-RESERVED, --:Fails in Theory or Practical, RPV - PROVISIONAL Eligible, RCC - 0.5050, AB - ABSENT, F - UNSUCCESSFUL,P - SUCCESSFUL;
 NULL=NULL & VOID, G:Grade C*G:Gradepoints C:credits CP:credit points aCG:sum of product of credits & grades, Internal Marks are Provisional as per R.8668
 aC:sum of credit points GPA: aCG/aC
 MARKS : 0 to 39.99 40 to 44.99 45 to 49.99 50 to 59.99 60 to 69.99 70 to 74.99 75 to 79.99 80 to 100
 GRADE : F P E D C B A O
 GRADE POINT : 0.00 4.00 5.00 6.00 7.00 8.00 9.00 10.00



University of Mumbai, Mumbai

OFFICE REGISTER OF THE B.E. (with credits) - Regular - CBCS (Electronics and Telecommunication Engineering)- F.E. C-Scheme - Sem I [T01831] HELD IN Summer 2025 Result Declaration Date: 11 Jul 2025

58651-Engineering Mathematics-I: ThUA 80/32 ThCA 20/8 100/0 | 58652-Engineering Physics-I: ThUA 60/24 ThCA 15/6 75/0 | 58655-Engineering Chemistry-I: ThUA 60/24 ThCA 15/6 75/0 |
 58653-Engineering Mechanics: ThUA 80/32 ThCA 20/8 100/0 | 58654-Basic Electrical Engineering: ThUA 80/32 ThCA 20/8 100/0 | FEL101-Engineering Physics-I (TW): TwCA 25/10 25/0 |
 FEL102-Engineering Chemistry-I (TW): TwCA 25/10 25/0 | FEL103-Engineering Mechanics (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 | FEL104-Basic Electrical Engineering (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 |
 FEL105-Basic Workshop Practice-I: TwCA 50/20 50/0 | FEC101-Engineering Mathematics-I Term Work: TwCA 25/10 25/0 |

SEAT NO.	NAME OF THE CANDIDATE Mother Name PRN.	PAPER 1				PAPER 2				PAPER 3				PAPER 4				PAPER 5				PAPER 6				RESULT CR C*G SGPI GRADE
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	
CENTRE-COLLEGE		PAPER 7				PAPER 8				PAPER 9				PAPER 10				PAPER 11								
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	
7094256	/ HARSHALI RAJESH SHINDE ARCHANA 2023016400732613 (5)Thane-(689)	58651 32+	8+	40		FEC101 15+	15			58652 24E	9+	33		FEL101 19+	19		58655 24+	6+	30		FEL102 20+	20		Unsuccessful 18.00 --		
		3.00	P	4.00	12.00	1.00	C	7.00	7.00	2.00	P	4.00	8.00	0.50	A	9.00	4.50	2.00	P	4.00	8.00	0.50	O	10.00	5.00	-- --
		58653 32+	8+	40		FEL103 17+	29			58654 24F	8+	32		FEL104 21+	42		FEL105 40+	40								
		3.00	P	4.00	12.00	1.00	D	6.00	6.00	3.00	F	0.00	0.00	1.00	O	10.00	10.00	1.00	O	10.00	10.00					
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																
7094257	NISHANT RAMNARESH SINGH MALTI 2022016402277597 (5)Thane-(689)	58651 8F	8E	16		FEC101 10+	10			58652 24+	6+	30		FEL101 14+	14		58655 13F	13+	26		FEL102 23+	23		Unsuccessful 18.00 --		
		3.00	F	0.00	0.00	1.00	P	4.00	4.00	2.00	P	4.00	8.00	0.50	D	6.00	3.00	2.00	F	0.00	0.00	0.50	O	10.00	5.00	-- --
		58653 10F	AA	10		FEL103 17+	33			58654 2F	8+	10		FEL104 18+	37		FEL105 38+	38								
		3.00	F	0.00	0.00	1.00	C	7.00	7.00	3.00	F	0.00	0.00	1.00	B	8.00	8.00	1.00	A	9.00	9.00					
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																
7094258	/ SINGH RIYA ABHAYKUMAR SUMANDEVI 2023016400740817 (5)Thane-(689)	58651 42+	13+	55		FEC101 18+	18			58652 27+	9+	36		FEL101 19+	19		58655 27+	15+	42		FEL102 21+	21		Successful 18.00 115.50		
		3.00	D	6.00	18.00	1.00	B	8.00	8.00	2.00	E	5.00	10.00	0.50	A	9.00	4.50	2.00	D	6.00	12.00	0.50	O	10.00	5.00	6.42 --
		58653 38	11+	49		FEL103 20+	38			58654 32+	15+	47		FEL104 22+	42		FEL105 38+	38								
		3.00	E	5.00	15.00	1.00	A	9.00	9.00	3.00	E	5.00	15.00	1.00	O	10.00	10.00	1.00	A	9.00	9.00					
		Total Credit 18.00				FINAL CGPI 6.42				FINAL GRADE --																

/ - FEMALE, # - 0.229A, @ - 0.5042A/O.5043A/O.5044A, * - 5045A, RR-RESERVED, --:Fails in Theory or Practical, RPV - PROVISIONAL Eligible, RCC - 0.5050, AB - ABSENT, F - UNSUCCESSFUL, P - SUCCESSFUL;
 NULL=NULL & VOID, G:Grade C*G:Gradepoints C:credits CP:credit points @CG:sum of product of credits & grades, Internal Marks are Provisional as per R.8668
 @C:sum of credit points GPA: @CG/@C
 MARKS : 0 to 39.99 40 to 44.99 45 to 49.99 50 to 59.99 60 to 69.99 70 to 74.99 75 to 79.99 80 to 100
 GRADE : F P E D C B A O
 GRADE POINT : 0.00 4.00 5.00 6.00 7.00 8.00 9.00 10.00



University of Mumbai, Mumbai

OFFICE REGISTER OF THE B.E. (with credits) - Regular - CBCS(Electronics and Telecommunication Engineering)- F.E. C-Scheme - Sem I [T01831] HELD IN Summer 2025 Result Declaration Date:11 Jul 2025

58651-Engineering Mathematics-I: ThUA 80/32 ThCA 20/8 100/0 | 58652-Engineering Physics-I: ThUA 60/24 ThCA 15/6 75/0 | 58655-Engineering Chemistry-I: ThUA 60/24 ThCA 15/6 75/0 |
 58653-Engineering Mechanics: ThUA 80/32 ThCA 20/8 100/0 | 58654-Basic Electrical Engineering: ThUA 80/32 ThCA 20/8 100/0 | FEL101-Engineering Physics-I (TW): TwCA 25/10 25/0 |
 FEL102-Engineering Chemistry-I (TW): TwCA 25/10 25/0 | FEL103-Engineering Mechanics (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 | FEL104-Basic Electrical Engineering (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 |
 FEL105-Basic Workshop Practice-I: TwCA 50/20 50/0 | FEC101-Engineering Mathematics-I Term Work: TwCA 25/10 25/0 |

SEAT NO.	NAME OF THE CANDIDATE Mother Name PRN.	PAPER 1				PAPER 2				PAPER 3				PAPER 4				PAPER 5				PAPER 6				RESULT CR C*G SGPI GRADE			
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G				
CENTRE-COLLEGE		PAPER 7				PAPER 8				PAPER 9				PAPER 10				PAPER 11											
		Total				Total				Total				Total				Total											
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G
7094259	/ MADHURA VAISHAMPAYAN SUKANYA 2022016402279082 (5)Thane-(689)	58651 32E	9+	41		FEC101 14+	14			58652 24+	6+	30		FEL101 17+	17		58655 24+	7+	31		FEL102 20+	20			18.00	--			
		3.00	P	4.00	12.00	1.00	D	6.00	6.00	2.00	P	4.00	8.00	0.50	C	7.00	3.50	2.00	P	4.00	8.00	0.50	O	10.00	5.00	--	--		
		58653 16F	11+	27		FEL103 23+	44			58654 32+	13+	45		FEL104 21+	38		FEL105 30+	30											
		3.00	F	0.00	0.00	1.00	O	10.00	10.00	3.00	E	5.00	15.00	1.00	A	9.00	9.00	1.00	C	7.00	7.00								
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																			
7094260	VAJE TANISH PRASHANT SANDHYA 2023016400737951 (5)Thane-(689)	58651 32E	8+	40		FEC101 14+	14			58652 18F	7+	25		FEL101 12+	12		58655 24+	9+	33		FEL102 20+	20			18.00	--			
		3.00	P	4.00	12.00	1.00	D	6.00	6.00	2.00	F	0.00	0.00	0.50	E	5.00	2.50	2.00	P	4.00	8.00	0.50	O	10.00	5.00	--	--		
		58653 45+	12+	57		FEL103 17+	29			58654 32E	8+	40		FEL104 21+	38		FEL105 44+	44											
		3.00	D	6.00	18.00	1.00	D	6.00	6.00	3.00	P	4.00	12.00	1.00	A	9.00	9.00	1.00	O	10.00	10.00								
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																			
7094261	SAIKRISHNA MUKESH BHAIRI SUVARNA 2022016402384672 (8)Kalyan-(461)	58651 32+	9+	41		FEC101 13+	13			58652 24+	6+	30		FEL101 16+	16		58655 27+	7+	34		FEL102 10+	10			18.00	100.50			
		3.00	P	4.00	12.00	1.00	D	6.00	6.00	2.00	P	4.00	8.00	0.50	C	7.00	3.50	2.00	E	5.00	10.00	0.50	P	4.00	2.00	5.58	--		
		58653 32+	9+	41		FEL103 19+	39			58654 32	18+	50		FEL104 23+	43		FEL105 45+	45											
		3.00	P	4.00	12.00	1.00	A	9.00	9.00	3.00	D	6.00	18.00	1.00	O	10.00	10.00	1.00	O	10.00	10.00								
		Total Credit 18.00				FINAL CGPI 5.58				FINAL GRADE --																			

/ - FEMALE, # - 0.229A ,@ - 0.5042A/O.5043A/O.5044A, * - 5045A, RR-RESERVED, --:Fails in Theory or Practical, RPV - PROVISIONAL Eligible, RCC - 0.5050, AB - ABSENT, F - UNSUCCESSFUL,P - SUCCESSFUL;
 NULL=NULL & VOID, G:Grade C*G:Gradepoints C:credits CP:credit points aCG:sum of product of credits & grades, Internal Marks are Provisional as per R.8668
 aC:sum of credit points GPA: aCG/aC
 MARKS : 0 to 39.99 40 to 44.99 45 to 49.99 50 to 59.99 60 to 69.99 70 to 74.99 75 to 79.99 80 to 100
 GRADE : F P E D C B A O
 GRADE POINT : 0.00 4.00 5.00 6.00 7.00 8.00 9.00 10.00



University of Mumbai, Mumbai

OFFICE REGISTER OF THE B.E. (with credits) - Regular - CBCS (Electronics and Telecommunication Engineering)- F.E. C-Scheme - Sem I [1T01831] HELD IN Summer 2025 Result Declaration Date: 11 Jul 2025

58651-Engineering Mathematics-I: ThUA 80/32 ThCA 20/8 100/0 | 58652-Engineering Physics-I: ThUA 60/24 ThCA 15/6 75/0 | 58655-Engineering Chemistry-I: ThUA 60/24 ThCA 15/6 75/0 |
 58653-Engineering Mechanics: ThUA 80/32 ThCA 20/8 100/0 | 58654-Basic Electrical Engineering: ThUA 80/32 ThCA 20/8 100/0 | FEL101-Engineering Physics-I (TW): TwCA 25/10 25/0 |
 FEL102-Engineering Chemistry-I (TW): TwCA 25/10 25/0 | FEL103-Engineering Mechanics (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 | FEL104-Basic Electrical Engineering (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 |
 FEL105-Basic Workshop Practice-I: TwCA 50/20 50/0 | FEC101-Engineering Mathematics-I Term Work: TwCA 25/10 25/0 |

SEAT NO.	NAME OF THE CANDIDATE Mother Name PRN.	PAPER 1				PAPER 2				PAPER 3				PAPER 4				PAPER 5				PAPER 6				RESULT CR C*G SGPI GRADE
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	
CENTRE-COLLEGE		PAPER 7				PAPER 8				PAPER 9				PAPER 10				PAPER 11								
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	
7094262	BURKUL SUSHIL DEVIDAS SUNITA 2023016401022665 (8)Kalyan-(461)	58651 13F	11+	24	13.00	FEC101 13F	16+	16	7.00	58652 24+	11+	35	10.00	FEL101 13F	20+	20	10.00	58655 28+	11+	39	12.00	FEL102 13F	20+	20	18.00	Unsuccessful --
		3.00	F	0.00	0.00	1.00	C	7.00	7.00	2.00	E	5.00	10.00	0.50	O	10.00	5.00	2.00	D	6.00	12.00	0.50	O	10.00	5.00	-- --
		58653 46+	14+	60	13.00	FEL103 46+	22+	41	10.00	58654 41+	8+	49	15.00	FEL104 46+	15+	29	6.00	FEL105 46+	38+	38	9.00	9.00				
		7.00	21.00	1.00	O	10.00	10.00	3.00	E	5.00	15.00	1.00	D	6.00	6.00	1.00	A	9.00	9.00							
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																
7094263	CHAUDHARI SUDESH UMESH MANJUSHA 2022016402387094 (8)Kalyan-(461)	58651 13F	8+	21	3.00	FEC101 13F	15+	15	7.00	58652 24+	7+	31	8.00	FEL101 13F	16+	16	3.50	58655 24+	10+	34	10.00	FEL102 13F	21+	21	18.00	Unsuccessful --
		3.00	F	0.00	0.00	1.00	C	7.00	7.00	2.00	P	4.00	8.00	0.50	C	7.00	3.50	2.00	E	5.00	10.00	0.50	O	10.00	5.00	-- --
		58653 36+	8+	44	3.00	FEL103 36+	20+	40	10.00	58654 32E	20+	52	18.00	FEL104 36+	15+	31	7.00	FEL105 36+	45+	45	10.00	10.00				
		4.00	12.00	1.00	O	10.00	10.00	3.00	D	6.00	18.00	1.00	C	7.00	7.00	1.00	O	10.00	10.00							
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																
7094264	GOUDA NIHARIKA ARUN SUSMITA 2023016401027202 (8)Kalyan-(461)	58651 38+	8+	46	3.00	FEC101 38+	14+	14	6.00	58652 24+	10+	34	10.00	FEL101 38+	18+	18	4.00	58655 26+	7+	33	8.00	FEL102 38+	11+	11	18.00	Successful 100.00
		3.00	E	5.00	15.00	1.00	D	6.00	6.00	2.00	E	5.00	10.00	0.50	B	8.00	4.00	2.00	P	4.00	8.00	0.50	P	4.00	2.00	5.56 --
		58653 36	13+	49	3.00	FEL103 36	20+	41	10.00	58654 36+	8+	44	12.00	FEL104 36	18+	35	8.00	FEL105 36	40+	40	10.00	10.00				
		5.00	15.00	1.00	O	10.00	10.00	3.00	P	4.00	12.00	1.00	B	8.00	8.00	1.00	O	10.00	10.00							
		Total Credit 18.00				FINAL CGPI 5.56				FINAL GRADE --																

/ - FEMALE, # - 0.229A, @ - 0.5042A/O.5043A/O.5044A, * - 5045A, RR-RESERVED, --:Fails in Theory or Practical, RPV - PROVISIONAL Eligible, RCC - 0.5050, AB - ABSENT, F - UNSUCCESSFUL, P - SUCCESSFUL;
 NULL=NULL & VOID, G:Grade C*G:Gradepoints C:credits CP:credit points aCG:sum of product of credits & grades, Internal Marks are Provisional as per R.8668
 aC:sum of credit points GPA: aCG/aC
 MARKS : 0 to 39.99 40 to 44.99 45 to 49.99 50 to 59.99 60 to 69.99 70 to 74.99 75 to 79.99 80 to 100
 GRADE : F P E D C B A O
 GRADE POINT : 0.00 4.00 5.00 6.00 7.00 8.00 9.00 10.00



University of Mumbai, Mumbai

OFFICE REGISTER OF THE B.E. (with credits) - Regular - CBCS (Electronics and Telecommunication Engineering)- F.E. C-Scheme - Sem I [1T01831] HELD IN Summer 2025 Result Declaration Date: 11 Jul 2025

58651-Engineering Mathematics-I: ThUA 80/32 ThCA 20/8 100/0 | 58652-Engineering Physics-I: ThUA 60/24 ThCA 15/6 75/0 | 58655-Engineering Chemistry-I: ThUA 60/24 ThCA 15/6 75/0 |
 58653-Engineering Mechanics: ThUA 80/32 ThCA 20/8 100/0 | 58654-Basic Electrical Engineering: ThUA 80/32 ThCA 20/8 100/0 | FEL101-Engineering Physics-I (TW): TwCA 25/10 25/0 |
 FEL102-Engineering Chemistry-I (TW): TwCA 25/10 25/0 | FEL103-Engineering Mechanics (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 | FEL104-Basic Electrical Engineering (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 |
 FEL105-Basic Workshop Practice-I: TwCA 50/20 50/0 | FEC101-Engineering Mathematics-I Term Work: TwCA 25/10 25/0 |

SEAT NO.	NAME OF THE CANDIDATE Mother Name PRN.	PAPER 1				PAPER 2				PAPER 3				PAPER 4				PAPER 5				PAPER 6				RESULT CR C*G SGPI GRADE			
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G				
CENTRE-COLLEGE		PAPER 7				PAPER 8				PAPER 9				PAPER 10				PAPER 11											
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G				
7094265	DIVYANSH GUPTA NEELAM 2022016402384633 (8)Kalyan-(461)	58651 38+ 3.00 E	9+ 47 5.00	15.00	FEC101 1.00 C 1.00 O	15+ 15 7.00	15 7.00	58652 13F 2.00 F	7+ 20 0.00	20 0.00	FEL101 17+ 0.50 C	17 3.50	58655 24+ 2.00 E	12+ 36 5.00	10.00	FEL102 22+ 0.50 O	22 5.00	22 5.00	18.00 --	Unsuccessful									
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																			
7094266	HANWATE SANI SUNIL KAVITA 2023016401022874 (8)Kalyan-(461)	58651 12F 3.00 F	8+ 20 0.00	0.00	FEC101 1.00 A 1.00 O	19+ 19 9.00	19 9.00	58652 24+ 2.00 P	6+ 30 4.00	8.00	FEL101 14+ 0.50 D	14 3.00	58655 24E 2.00 P	6+ 30 4.00	8.00	FEL102 21+ 0.50 O	21 5.00	21 5.00	18.00 --	Unsuccessful									
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																			
7094267	JAIN NAMAN SANTOSH KAVITA 2022016402390011 (8)Kalyan-(461)	58651 AA 3.00 F	15+ 15 0.00	0.00	FEC101 1.00 E 1.00 A	12+ 12 5.00	12 5.00	58652 8F 2.00 F	8+ 16 0.00	0.00	FEL101 18+ 0.50 B	18 4.00	58655 AA 2.00 F	10+ 10 0.00	0.00	FEL102 21+ 0.50 O	21 5.00	21 5.00	18.00 --	Unsuccessful									
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																			

/ - FEMALE, # - 0.229A, @ - 0.5042A/O.5043A/O.5044A, * - 5045A, RR-RESERVED, --:Fails in Theory or Practical, RPV - PROVISIONAL Eligible, RCC - 0.5050, AB - ABSENT, F - UNSUCCESSFUL, P - SUCCESSFUL;
 NULL=NULL & VOID, G:Grade C*G:Gradepoints C:credits CP:credit points aCG:sum of product of credits & grades, Internal Marks are Provisional as per R.8668
 aC:sum of credit points GPA: aCG/aC
 MARKS : 0 to 39.99 40 to 44.99 45 to 49.99 50 to 59.99 60 to 69.99 70 to 74.99 75 to 79.99 80 to 100
 GRADE : F P E D C B A O
 GRADE POINT : 0.00 4.00 5.00 6.00 7.00 8.00 9.00 10.00



University of Mumbai, Mumbai

OFFICE REGISTER OF THE B.E. (with credits) - Regular - CBCS(Electronics and Telecommunication Engineering)- F.E. C-Scheme - Sem I [1T01831] HELD IN Summer 2025 Result Declaration Date:11 Jul 2025

58651-Engineering Mathematics-I: ThUA 80/32 ThCA 20/8 100/0 | 58652-Engineering Physics-I: ThUA 60/24 ThCA 15/6 75/0 | 58655-Engineering Chemistry-I: ThUA 60/24 ThCA 15/6 75/0 |
 58653-Engineering Mechanics: ThUA 80/32 ThCA 20/8 100/0 | 58654-Basic Electrical Engineering: ThUA 80/32 ThCA 20/8 100/0 | FEL101-Engineering Physics-I (TW): TwCA 25/10 25/0 |
 FEL102-Engineering Chemistry-I (TW): TwCA 25/10 25/0 | FEL103-Engineering Mechanics (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 | FEL104-Basic Electrical Engineering (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 |
 FEL105-Basic Workshop Practice-I: TwCA 50/20 50/0 | FEC101-Engineering Mathematics-I Term Work: TwCA 25/10 25/0 |

SEAT NO.	NAME OF THE CANDIDATE Mother Name PRN.	PAPER 1				PAPER 2				PAPER 3				PAPER 4				PAPER 5				PAPER 6				RESULT CR C*G SGPI GRADE			
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G				
CENTRE-COLLEGE		PAPER 7				PAPER 8				PAPER 9				PAPER 10				PAPER 11											
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G				
7094268	/ JAKKANI MEENA VISHNUPRASAD VARALAXMI 2022016402387852 (8)Kalyan-(461)	58651 41+	9+	50		FEC101 15+	15			58652 24E	11+	35		FEL101 20+	20		58655 33+	8+	41		FEL102 20+	20		18.00	--				
		3.00	D	6.00	18.00	1.00	C	7.00	7.00	2.00	E	5.00	10.00	0.50	O	10.00	5.00	2.00	D	6.00	12.00	0.50	O	10.00	5.00	-- --			
		58653 13F	12+	25		FEL103 19+	39			58654 32+	9+	41		FEL104 17+	33		FEL105 40+	40											
		3.00	F	0.00	0.00	1.00	A	9.00	9.00	3.00	P	4.00	12.00	1.00	C	7.00	7.00	1.00	O	10.00	10.00								
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																			
7094269	VIVEK MANOHAR KAPSE MANISHA 2022016402387442 (8)Kalyan-(461)	58651 32+	10+	42		FEC101 13+	13			58652 12F	9+	21		FEL101 15+	15		58655 25+	7+	32		FEL102 17+	17		18.00	--				
		3.00	P	4.00	12.00	1.00	D	6.00	6.00	2.00	F	0.00	0.00	0.50	C	7.00	3.50	2.00	P	4.00	8.00	0.50	C	7.00	3.50	-- --			
		58653 32+	13+	45		FEL103 21+	41			58654 54+	15+	69		FEL104 16+	31		FEL105 45+	45											
		3.00	E	5.00	15.00	1.00	O	10.00	10.00	3.00	C	7.00	21.00	1.00	C	7.00	7.00	1.00	O	10.00	10.00								
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																			
7094270	KAPURE SIDDHARTH JAYBHIM ARTI 2022016402387376 (8)Kalyan-(461)	58651 36+	15+	51		FEC101 13+	13			58652 24+	6+	30		FEL101 14+	14		58655 24+	9+	33		FEL102 19+	19		18.00	--				
		3.00	D	6.00	18.00	1.00	D	6.00	6.00	2.00	P	4.00	8.00	0.50	D	6.00	3.00	2.00	P	4.00	8.00	0.50	A	9.00	4.50	-- --			
		58653 24F	10+	34		FEL103 20+	38			58654 32+	10+	42		FEL104 16+	31		FEL105 40+	40											
		3.00	F	0.00	0.00	1.00	A	9.00	9.00	3.00	P	4.00	12.00	1.00	C	7.00	7.00	1.00	O	10.00	10.00								
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																			

/ - FEMALE, # - 0.229A,@ - 0.5042A/O.5043A/O.5044A,* - 5045A, RR-RESERVED, --:Fails in Theory or Practical, RPV - PROVISIONAL Eligible, RCC - 0.5050, AB - ABSENT, F - UNSUCCESSFUL,P - SUCCESSFUL;
 NULL=NULL & VOID, G:Grade C*G:Gradepoints C:credits CP:credit points aCG:sum of product of credits & grades, Internal Marks are Provisional as per R.8668
 aC:sum of credit points GPA: aCG/aC
 MARKS : 0 to 39.99 40 to 44.99 45 to 49.99 50 to 59.99 60 to 69.99 70 to 74.99 75 to 79.99 80 to 100
 GRADE : F P E D C B A O
 GRADE POINT : 0.00 4.00 5.00 6.00 7.00 8.00 9.00 10.00



University of Mumbai, Mumbai

OFFICE REGISTER OF THE B.E. (with credits) - Regular - CBCS(Electronics and Telecommunication Engineering)- F.E. C-Scheme - Sem I [1T01831] HELD IN Summer 2025 Result Declaration Date:11 Jul 2025

58651-Engineering Mathematics-I: ThUA 80/32 ThCA 20/8 100/0 | 58652-Engineering Physics-I: ThUA 60/24 ThCA 15/6 75/0 | 58655-Engineering Chemistry-I: ThUA 60/24 ThCA 15/6 75/0 |
 58653-Engineering Mechanics: ThUA 80/32 ThCA 20/8 100/0 | 58654-Basic Electrical Engineering: ThUA 80/32 ThCA 20/8 100/0 | FEL101-Engineering Physics-I (TW): TwCA 25/10 25/0 |
 FEL102-Engineering Chemistry-I (TW): TwCA 25/10 25/0 | FEL103-Engineering Mechanics (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 | FEL104-Basic Electrical Engineering (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 |
 FEL105-Basic Workshop Practice-I: TwCA 50/20 50/0 | FEC101-Engineering Mathematics-I Term Work: TwCA 25/10 25/0 |

SEAT NO.	NAME OF THE CANDIDATE Mother Name PRN.	PAPER 1				PAPER 2				PAPER 3				PAPER 4				PAPER 5				PAPER 6				RESULT CR C*G SGPI GRADE			
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G				
CENTRE-COLLEGE		PAPER 7				PAPER 8				PAPER 9				PAPER 10				PAPER 11											
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G
7094271	KARVANDE DARSHAN ANIL MANGAL 2022016402387554 (8)Kalyan-(461)	58651 4F	8+	12		FEC101 	14+	14		58652 27+	7+	34		FEL101 	12+	12		58655 27+	7+	34		FEL102 	17+	17	18.00	--			
		3.00	F	0.00	0.00	1.00	D	6.00	6.00	2.00	E	5.00	10.00	0.50	E	5.00	2.50	2.00	E	5.00	10.00	0.50	C	7.00	3.50	--	--		
		58653 32+	8+	40		FEL103 	20+	38		58654 40E	11+	51		FEL104 	17+	33		FEL105 	40+	40									
		3.00	P	4.00	12.00	1.00	A	9.00	9.00	3.00	D	6.00	18.00	1.00	C	7.00	7.00	1.00	O	10.00	10.00								
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																			
7094272	KHARATE DHIRAJ KAILAS NANDA 2023016401042186 (8)Kalyan-(461)	58651 AA	9+	9		FEC101 	16+	16		58652 AA	7+	7		FEL101 	14+	14		58655 AA	6+	6		FEL102 	17+	17	18.00	--			
		3.00	F	0.00	0.00	1.00	C	7.00	7.00	2.00	F	0.00	0.00	0.50	D	6.00	3.00	2.00	F	0.00	0.00	0.50	C	7.00	3.50	--	--		
		58653 32+	8+	40		FEL103 	21+	39		58654 AA	10+	10		FEL104 	19+	31		FEL105 	44+	44									
		3.00	P	4.00	12.00	1.00	A	9.00	9.00	3.00	F	0.00	0.00	1.00	C	7.00	7.00	1.00	O	10.00	10.00								
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																			
7094273	/ KOLI HITANKSHI RITESH SUNITA 2023016401033694 (8)Kalyan-(461)	58651 32+	9+	41		FEC101 	18+	18		58652 24+	8+	32		FEL101 	11+	11		58655 24+	9+	33		FEL102 	23+	23	18.00	109.00			
		3.00	P	4.00	12.00	1.00	B	8.00	8.00	2.00	P	4.00	8.00	0.50	P	4.00	2.00	2.00	P	4.00	8.00	0.50	O	10.00	5.00	6.06	--		
		58653 57	9+	66		FEL103 	21+	42		58654 41+	9+	50		FEL104 	20+	34		FEL105 	40+	40									
		3.00	C	7.00	21.00	1.00	O	10.00	10.00	3.00	D	6.00	18.00	1.00	C	7.00	7.00	1.00	O	10.00	10.00								
		Total Credit 18.00				FINAL CGPI 6.06				FINAL GRADE --																			

/ - FEMALE, # - 0.229A,@ - 0.5042A/O.5043A/O.5044A,* - 5045A, RR-RESERVED, --:Fails in Theory or Practical, RPV - PROVISIONAL Eligible, RCC - 0.5050, AB - ABSENT, F - UNSUCCESSFUL,P - SUCCESSFUL;
 NULL=NULL & VOID, G:Grade C*G:Gradepoints C:credits CP:credit points aCG:sum of product of credits & grades, Internal Marks are Provisional as per R.8668
 aC:sum of credit points GPA: aCG/aC
 MARKS : 0 to 39.99 40 to 44.99 45 to 49.99 50 to 59.99 60 to 69.99 70 to 74.99 75 to 79.99 80 to 100
 GRADE : F P E D C B A O
 GRADE POINT : 0.00 4.00 5.00 6.00 7.00 8.00 9.00 10.00



University of Mumbai, Mumbai

OFFICE REGISTER OF THE B.E. (with credits) - Regular - CBCS(Electronics and Telecommunication Engineering)- F.E. C-Scheme - Sem I [T01831] HELD IN Summer 2025 Result Declaration Date:11 Jul 2025

58651-Engineering Mathematics-I: ThUA 80/32 ThCA 20/8 100/0 | 58652-Engineering Physics-I: ThUA 60/24 ThCA 15/6 75/0 | 58655-Engineering Chemistry-I: ThUA 60/24 ThCA 15/6 75/0 |
 58653-Engineering Mechanics: ThUA 80/32 ThCA 20/8 100/0 | 58654-Basic Electrical Engineering: ThUA 80/32 ThCA 20/8 100/0 | FEL101-Engineering Physics-I (TW): TwCA 25/10 25/0 |
 FEL102-Engineering Chemistry-I (TW): TwCA 25/10 25/0 | FEL103-Engineering Mechanics (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 | FEL104-Basic Electrical Engineering (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 |
 FEL105-Basic Workshop Practice-I: TwCA 50/20 50/0 | FEC101-Engineering Mathematics-I Term Work: TwCA 25/10 25/0 |

SEAT NO.	NAME OF THE CANDIDATE Mother Name PRN.	PAPER 1				PAPER 2				PAPER 3				PAPER 4				PAPER 5				PAPER 6				RESULT CR C*G SGPI GRADE			
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G				
CENTRE-COLLEGE		PAPER 7				PAPER 8				PAPER 9				PAPER 10				PAPER 11											
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G				
7094274	/ KOLTE KASHMIRA VIPIN VIJAYA 2023016401036255 (8)Kalyan-(461)	58651 32+	9+	41		FEC101 18+	18			58652 24+	8+	32		FEL101 15+	15		58655 26+	6+	32		FEL102 16+	16		18.00	99.00	Successful			
		3.00	P	4.00	12.00	1.00	B	8.00	8.00	2.00	P	4.00	8.00	0.50	C	7.00	3.50	2.00	P	4.00	8.00	0.50	C	7.00	3.50	5.50	--		
		58653 49	9+	58		FEL103 19+	39			58654 32+	8+	40		FEL104 20+	32		FEL105 44+	44											
		3.00	D	6.00	18.00	1.00	A	9.00	9.00	3.00	P	4.00	12.00	1.00	C	7.00	7.00	1.00	O	10.00	10.00								
		Total Credit 18.00				FINAL CGPI 5.50				FINAL GRADE --																			
7094275	MUNDE KSHITIJ VINAYAK ASHA 2023016401023614 (8)Kalyan-(461)	58651 36+	13+	49		FEC101 16+	16			58652 24+	9+	33		FEL101 17+	17		58655 35	9+	44		FEL102 23+	23		18.00	111.50	Successful			
		3.00	E	5.00	15.00	1.00	C	7.00	7.00	2.00	P	4.00	8.00	0.50	C	7.00	3.50	2.00	D	6.00	12.00	0.50	O	10.00	5.00	6.19	--		
		58653 36+	14+	50		FEL103 22+	40			58654 34+	11+	45		FEL104 20+	35		FEL105 44+	44											
		3.00	D	6.00	18.00	1.00	O	10.00	10.00	3.00	E	5.00	15.00	1.00	B	8.00	8.00	1.00	O	10.00	10.00								
		Total Credit 18.00				FINAL CGPI 6.19				FINAL GRADE --																			
7094276	MUNESHWAR SAHIL PINTU ASHA 2022016402387233 (8)Kalyan-(461)	58651 AA	8+	8		FEC101 19+	19			58652 AA	6+	6		FEL101 16+	16		58655 AA	6+	6		FEL102 16+	16		18.00	--	ABS			
		3.00	F	0.00	0.00	1.00	A	9.00	9.00	2.00	F	0.00	0.00	0.50	C	7.00	3.50	2.00	F	0.00	0.00	0.50	C	7.00	3.50	--	--		
		58653 49+	10+	59		FEL103 20+	38			58654 AA	12+	12		FEL104 17+	33		FEL105 44+	44											
		3.00	D	6.00	18.00	1.00	A	9.00	9.00	3.00	F	0.00	0.00	1.00	C	7.00	7.00	1.00	O	10.00	10.00								
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																			

/ - FEMALE, # - 0.229A,@ - 0.5042A/O.5043A/O.5044A, * - 5045A, RR-RESERVED, --:Fails in Theory or Practical, RPV - PROVISIONAL Eligible, RCC - 0.5050, AB - ABSENT, F - UNSUCCESSFUL,P - SUCCESSFUL;
 NULL=NULL & VOID, G:Grade C*G:Gradepoints C:credits CP:credit points aCG:sum of product of credits & grades, Internal Marks are Provisional as per R.8668
 aC:sum of credit points GPA: aCG/aC
 MARKS : 0 to 39.99 40 to 44.99 45 to 49.99 50 to 59.99 60 to 69.99 70 to 74.99 75 to 79.99 80 to 100
 GRADE : F P E D C B A O
 GRADE POINT : 0.00 4.00 5.00 6.00 7.00 8.00 9.00 10.00



University of Mumbai, Mumbai

OFFICE REGISTER OF THE B.E. (with credits) - Regular - CBCS (Electronics and Telecommunication Engineering)- F.E. C-Scheme - Sem I [1T01831] HELD IN Summer 2025 Result Declaration Date: 11 Jul 2025

58651-Engineering Mathematics-I: ThUA 80/32 ThCA 20/8 100/0 | 58652-Engineering Physics-I: ThUA 60/24 ThCA 15/6 75/0 | 58655-Engineering Chemistry-I: ThUA 60/24 ThCA 15/6 75/0 |
 58653-Engineering Mechanics: ThUA 80/32 ThCA 20/8 100/0 | 58654-Basic Electrical Engineering: ThUA 80/32 ThCA 20/8 100/0 | FEL101-Engineering Physics-I (TW): TwCA 25/10 25/0 |
 FEL102-Engineering Chemistry-I (TW): TwCA 25/10 25/0 | FEL103-Engineering Mechanics (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 | FEL104-Basic Electrical Engineering (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 |
 FEL105-Basic Workshop Practice-I: TwCA 50/20 50/0 | FEC101-Engineering Mathematics-I Term Work: TwCA 25/10 25/0 |

SEAT NO.	NAME OF THE CANDIDATE Mother Name PRN.	PAPER 1				PAPER 2				PAPER 3				PAPER 4				PAPER 5				PAPER 6				RESULT CR C*G SGPI GRADE
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	
CENTRE-COLLEGE		PAPER 7				PAPER 8				PAPER 9				PAPER 10				PAPER 11								
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	
7094277	NIMBALKAR CHETAN SHANTARAM VANDANA 2022016401733395 (8)Kalyan-(461)	58651 32+ 3.00 P	8+ 4.00	40 12.00	40	FEC101 19+ 1.00 A	19 9.00	19 9.00	19	58652 24+ 2.00 P	6+ 4.00	30 8.00	30	FEL101 17+ 0.50 C	17 7.00	17 3.50	17	58655 24 2.00 P	6+ 4.00	30 8.00	30	FEL102 16+ 0.50 C	16 7.00	16 3.50	16	Successful 18.00 93.00 5.17 --
		58653 32+ 3.00 P	10+ 4.00	42 12.00	42	FEL103 18+ 1.00 C	32 7.00	32 7.00	32	58654 32+ 3.00 E	13+ 5.00	45 15.00	45	FEL104 17+ 1.00 C	33 7.00	33 7.00	33	FEL105 35+ 1.00 B	35 8.00	35 8.00	35					
		Total Credit 18.00				FINAL CGPI 5.17				FINAL GRADE --																
7094278	PISAL KIRTIJ KALYAN CHHAYA 2023016401028774 (8)Kalyan-(461)	58651 32+ 3.00 P	8+ 4.00	40 12.00	40	FEC101 12+ 1.00 E	12 5.00	12 5.00	12	58652 25+ 2.00 P	8+ 4.00	33 8.00	33	FEL101 16+ 0.50 C	16 7.00	16 3.50	16	58655 24 2.00 P	6+ 4.00	30 8.00	30	FEL102 16+ 0.50 C	16 7.00	16 3.50	16	Unsuccessful 18.00 -- -- --
		58653 12F 3.00 F	10+ 0.00	22 0.00	22	FEL103 17+ 1.00 C	33 7.00	33 7.00	33	58654 10F 3.00 F	10+ 0.00	10 0.00	10	FEL104 15+ 1.00 D	27 6.00	27 6.00	27	FEL105 44+ 1.00 O	44 10.00	44 10.00	44					
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																
7094279	RAULO SHUBHAM SHIVSHANKAR SUNITA 2023016401028751 (8)Kalyan-(461)	58651 32+ 3.00 P	8+ 4.00	40 12.00	40	FEC101 12+ 1.00 E	12 5.00	12 5.00	12	58652 28+ 2.00 E	6+ 5.00	34 10.00	34	FEL101 15+ 0.50 C	15 7.00	15 3.50	15	58655 29+ 2.00 E	7+ 5.00	36 10.00	36	FEL102 19+ 0.50 A	19 9.00	19 4.50	19	Successful 18.00 93.00 5.17 --
		58653 32 3.00 D	18+ 6.00	50 18.00	50	FEL103 12+ 1.00 P	22 4.00	22 4.00	22	58654 32+ 3.00 P	8+ 4.00	40 12.00	40	FEL104 15+ 1.00 D	27 6.00	27 6.00	27	FEL105 35+ 1.00 B	35 8.00	35 8.00	35					
		Total Credit 18.00				FINAL CGPI 5.17				FINAL GRADE --																

/ - FEMALE, # - 0.229A, @ - 0.5042A/O.5043A/O.5044A, * - 5045A, RR-RESERVED, --:Fails in Theory or Practical, RPV - PROVISIONAL Eligible, RCC - 0.5050, AB - ABSENT, F - UNSUCCESSFUL, P - SUCCESSFUL;
 NULL=NULL & VOID, G:Grade C*G:Gradepoints C:credits CP:credit points aCG:sum of product of credits & grades, Internal Marks are Provisional as per R.8668
 aC:sum of credit points GPA: aCG/aC
 MARKS : 0 to 39.99 40 to 44.99 45 to 49.99 50 to 59.99 60 to 69.99 70 to 74.99 75 to 79.99 80 to 100
 GRADE : F P E D C B A O
 GRADE POINT : 0.00 4.00 5.00 6.00 7.00 8.00 9.00 10.00



University of Mumbai, Mumbai

OFFICE REGISTER OF THE B.E. (with credits) - Regular - CBCS(Electronics and Telecommunication Engineering)- F.E. C-Scheme - Sem I [1T01831] HELD IN Summer 2025 Result Declaration Date:11 Jul 2025

58651-Engineering Mathematics-I: ThUA 80/32 ThCA 20/8 100/0 | 58652-Engineering Physics-I: ThUA 60/24 ThCA 15/6 75/0 | 58655-Engineering Chemistry-I: ThUA 60/24 ThCA 15/6 75/0 |
 58653-Engineering Mechanics: ThUA 80/32 ThCA 20/8 100/0 | 58654-Basic Electrical Engineering: ThUA 80/32 ThCA 20/8 100/0 | FEL101-Engineering Physics-I (TW): TwCA 25/10 25/0 |
 FEL102-Engineering Chemistry-I (TW): TwCA 25/10 25/0 | FEL103-Engineering Mechanics (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 | FEL104-Basic Electrical Engineering (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 |
 FEL105-Basic Workshop Practice-I: TwCA 50/20 50/0 | FEC101-Engineering Mathematics-I Term Work: TwCA 25/10 25/0 |

SEAT NO.	NAME OF THE CANDIDATE Mother Name PRN.	PAPER 1				PAPER 2				PAPER 3				PAPER 4				PAPER 5				PAPER 6				RESULT CR C*G SGPI GRADE			
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G				
CENTRE-COLLEGE		PAPER 7				PAPER 8				PAPER 9				PAPER 10				PAPER 11											
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G				
7094280	RAUT SHWET SURESH SARIKA 2023016401022657 (8)Kalyan-(461)	58651 19F	12+	31		FEC101 16+	16			58652 11F	7+	18		FEL101 16+	16		58655 24+	6+	30		FEL102 18+	18		18.00	--				
		3.00	F	0.00	0.00	1.00	C	7.00	7.00	2.00	F	0.00	0.00	0.50	C	7.00	3.50	2.00	P	4.00	8.00	0.50	B	8.00	4.00	-- --			
		58653 32E	11+	43		FEL103 22+	41			58654 32+	11+	43		FEL104 17+	29		FEL105 44+	44											
		3.00	P	4.00	12.00	1.00	O	10.00	10.00	3.00	P	4.00	12.00	1.00	D	6.00	6.00	1.00	O	10.00	10.00								
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																			
7094281	SALUNKHE AVINASH VIJAY MINAXHI 2023016401033462 (8)Kalyan-(461)	58651 37+	12+	49		FEC101 19+	19			58652 25+	10+	35		FEL101 19+	19		58655 33+	9+	42		FEL102 20+	20		18.00	111.50				
		3.00	E	5.00	15.00	1.00	A	9.00	9.00	2.00	E	5.00	10.00	0.50	A	9.00	4.50	2.00	D	6.00	12.00	0.50	O	10.00	5.00	6.19 --			
		58653 40	13+	53		FEL103 23+	43			58654 32+	10+	42		FEL104 17+	29		FEL105 44+	44											
		3.00	D	6.00	18.00	1.00	O	10.00	10.00	3.00	P	4.00	12.00	1.00	D	6.00	6.00	1.00	O	10.00	10.00								
		Total Credit 18.00				FINAL CGPI 6.19				FINAL GRADE --																			
7094282	/ SATRE NIHIRA RAJESH RESHMA 2023016401042414 (8)Kalyan-(461)	58651 4F	8+	12		FEC101 10+	10			58652 24+	7+	31		FEL101 18+	18		58655 24+	7+	31		FEL102 10+	10		18.00	--				
		3.00	F	0.00	0.00	1.00	P	4.00	4.00	2.00	P	4.00	8.00	0.50	B	8.00	4.00	2.00	P	4.00	8.00	0.50	P	4.00	2.00	-- --			
		58653 38+	9+	47		FEL103 17+	32			58654 37E	10+	47		FEL104 15+	29		FEL105 25+	25											
		3.00	E	5.00	15.00	1.00	C	7.00	7.00	3.00	E	5.00	15.00	1.00	D	6.00	6.00	1.00	D	6.00	6.00								
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																			

/ - FEMALE, # - 0.229A,@ - 0.5042A/O.5043A/O.5044A,* - 5045A, RR-RESERVED, --:Fails in Theory or Practical, RPV - PROVISIONAL Eligible, RCC - 0.5050, AB - ABSENT, F - UNSUCCESSFUL,P - SUCCESSFUL;
 NULL=NULL & VOID, G:Grade C*G:Gradepoints C:credits CP:credit points aCG:sum of product of credits & grades, Internal Marks are Provisional as per R.8668
 aC:sum of credit points GPA: aCG/aC
 MARKS : 0 to 39.99 40 to 44.99 45 to 49.99 50 to 59.99 60 to 69.99 70 to 74.99 75 to 79.99 80 to 100
 GRADE : F P E D C B A O
 GRADE POINT : 0.00 4.00 5.00 6.00 7.00 8.00 9.00 10.00



University of Mumbai, Mumbai

OFFICE REGISTER OF THE B.E. (with credits) - Regular - CBCS (Electronics and Telecommunication Engineering)- F.E. C-Scheme - Sem I [T01831] HELD IN Summer 2025 Result Declaration Date: 11 Jul 2025

58651-Engineering Mathematics-I: ThUA 80/32 ThCA 20/8 100/0 | 58652-Engineering Physics-I: ThUA 60/24 ThCA 15/6 75/0 | 58655-Engineering Chemistry-I: ThUA 60/24 ThCA 15/6 75/0 |
 58653-Engineering Mechanics: ThUA 80/32 ThCA 20/8 100/0 | 58654-Basic Electrical Engineering: ThUA 80/32 ThCA 20/8 100/0 | FEL101-Engineering Physics-I (TW): TwCA 25/10 25/0 |
 FEL102-Engineering Chemistry-I (TW): TwCA 25/10 25/0 | FEL103-Engineering Mechanics (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 | FEL104-Basic Electrical Engineering (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 |
 FEL105-Basic Workshop Practice-I: TwCA 50/20 50/0 | FEC101-Engineering Mathematics-I Term Work: TwCA 25/10 25/0 |

SEAT NO.	NAME OF THE CANDIDATE Mother Name PRN.	PAPER 1				PAPER 2				PAPER 3				PAPER 4				PAPER 5				PAPER 6				RESULT CR C*G SGPI GRADE			
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G				
CENTRE-COLLEGE		PAPER 7				PAPER 8				PAPER 9				PAPER 10				PAPER 11											
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G
7094283	SHARMA SAHIL AKHILESH MANJU 2023016401040504 (8)Kalyan-(461)	58651 42+	10+	52	18.00	FEC101 16+	16	16	7.00	58652 30+	6+	36	10.00	FEL101 17+	17	17	3.50	58655 24+	9+	33	8.00	FEL102 21+	21	21	5.00	Successful 18.00 105.50 5.86 --			
		3.00	D	6.00	18.00	1.00	C	7.00	7.00	2.00	E	5.00	10.00	0.50	C	7.00	3.50	2.00	P	4.00	8.00	0.50	O	10.00	5.00				
		58653 32	9+	41	12.00	FEL103 23+	44	44	10.00	58654 32+	14+	46	15.00	FEL104 15+	33	33	7.00	58655 24+	9+	33	8.00	FEL105 43+	43	43	10.00				
		3.00	P	4.00	12.00	1.00	O	10.00	10.00	3.00	E	5.00	15.00	1.00	C	7.00	7.00	1.00	O	10.00	10.00	1.00	O	10.00	10.00				
		Total Credit 18.00				FINAL CGPI 5.86				FINAL GRADE --																			
7094284	SHEMADKAR AARYAN DATTATRAY HARSHA 2023016401042194 (8)Kalyan-(461)	58651 46	15+	61	21.00	FEC101 19+	19	19	9.00	58652 26+	9+	35	10.00	FEL101 18+	18	18	4.00	58655 29+	9+	38	12.00	FEL102 20+	20	20	5.00	Successful 18.00 118.00 6.56 --			
		3.00	C	7.00	21.00	1.00	A	9.00	9.00	2.00	E	5.00	10.00	0.50	B	8.00	4.00	2.00	D	6.00	12.00	0.50	O	10.00	5.00				
		58653 33+	17+	50	18.00	FEL103 23+	43	43	10.00	58654 32+	11+	43	12.00	FEL104 19+	33	33	7.00	58655 29+	9+	38	12.00	FEL105 45+	45	45	10.00				
		3.00	D	6.00	18.00	1.00	O	10.00	10.00	3.00	P	4.00	12.00	1.00	C	7.00	7.00	1.00	O	10.00	10.00	1.00	O	10.00	10.00				
		Total Credit 18.00				FINAL CGPI 6.56				FINAL GRADE --																			
7094285	SONAWANE ANUSHKA ARUN RANJANA 2023016401036603 (8)Kalyan-(461)	58651 41+	10+	51	18.00	FEC101 12+	12	12	5.00	58652 24+	9+	33	8.00	FEL101 17+	17	17	3.50	58655 26+	10+	36	10.00	FEL102 10+	10	10	2.00	Successful 18.00 107.50 5.97 --			
		3.00	D	6.00	18.00	1.00	E	5.00	5.00	2.00	P	4.00	8.00	0.50	C	7.00	3.50	2.00	E	5.00	10.00	0.50	P	4.00	2.00				
		58653 44+	17+	61	21.00	FEL103 21+	42	42	10.00	58654 45	9+	54	18.00	FEL104 17+	29	29	6.00	58655 26+	10+	36	10.00	FEL105 28+	28	28	6.00				
		3.00	C	7.00	21.00	1.00	O	10.00	10.00	3.00	D	6.00	18.00	1.00	D	6.00	6.00	1.00	D	6.00	6.00	1.00	D	6.00	6.00				
		Total Credit 18.00				FINAL CGPI 5.97				FINAL GRADE --																			

/ - FEMALE, # - 0.229A, @ - 0.5042A/O.5043A/O.5044A, * - 5045A, RR-RESERVED, --:Fails in Theory or Practical, RPV - PROVISIONAL Eligible, RCC - 0.5050, AB - ABSENT, F - UNSUCCESSFUL, P - SUCCESSFUL;
 NULL=NULL & VOID, G:Grade C*G:Gradepoints C:credits CP:credit points aCG:sum of product of credits & grades, Internal Marks are Provisional as per R.8668
 aC:sum of credit points GPA: aCG/aC
 MARKS : 0 to 39.99 40 to 44.99 45 to 49.99 50 to 59.99 60 to 69.99 70 to 74.99 75 to 79.99 80 to 100
 GRADE : F P E D C B A O
 GRADE POINT : 0.00 4.00 5.00 6.00 7.00 8.00 9.00 10.00



University of Mumbai, Mumbai

OFFICE REGISTER OF THE B.E. (with credits) - Regular - CBCS (Electronics and Telecommunication Engineering)- F.E. C-Scheme - Sem I [T01831] HELD IN Summer 2025 Result Declaration Date: 11 Jul 2025

58651-Engineering Mathematics-I: ThUA 80/32 ThCA 20/8 100/0 | 58652-Engineering Physics-I: ThUA 60/24 ThCA 15/6 75/0 | 58655-Engineering Chemistry-I: ThUA 60/24 ThCA 15/6 75/0 |
 58653-Engineering Mechanics: ThUA 80/32 ThCA 20/8 100/0 | 58654-Basic Electrical Engineering: ThUA 80/32 ThCA 20/8 100/0 | FEL101-Engineering Physics-I (TW): TwCA 25/10 25/0 |
 FEL102-Engineering Chemistry-I (TW): TwCA 25/10 25/0 | FEL103-Engineering Mechanics (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 | FEL104-Basic Electrical Engineering (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 |
 FEL105-Basic Workshop Practice-I: TwCA 50/20 50/0 | FEC101-Engineering Mathematics-I Term Work: TwCA 25/10 25/0 |

SEAT NO.	NAME OF THE CANDIDATE Mother Name PRN.	PAPER 1				PAPER 2				PAPER 3				PAPER 4				PAPER 5				PAPER 6				RESULT CR C*G SGPI GRADE
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	
CENTRE-COLLEGE		PAPER 7				PAPER 8				PAPER 9				PAPER 10				PAPER 11								
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	
7094286	SURYAWANSHI SHIVAM VIJAY MANISHA 2023016401022804 (8)Kalyan-(461)	58651 46+	9+	55		FEC101 12+	12			58652 24+	7+	31		FEL101 16+	16		58655 24E	9+	33		FEL102 18+	18	18.00	--		
		3.00	D	6.00	18.00	1.00	E	5.00	5.00	2.00	P	4.00	8.00	0.50	C	7.00	3.50	2.00	P	4.00	8.00	0.50	B	8.00	4.00	-- --
		58653 32E	16+	48		FEL103 13+	23			58654 13F	8+	21		FEL104 15+	29		FEL105 40+	40								
		3.00	E	5.00	15.00	1.00	E	5.00	5.00	3.00	F	0.00	0.00	1.00	D	6.00	6.00	1.00	O	10.00	10.00					
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																
7094287	/ PRAVAJJA SANJAY TAIDE VANDANA 2022016402388774 (8)Kalyan-(461)	58651 0F	8+	8		FEC101 10+	10			58652 AA	7+	7		FEL101 20+	20		58655 AA	6+	6		FEL102 10+	10	18.00	--		
		3.00	F	0.00	0.00	1.00	P	4.00	4.00	2.00	F	0.00	0.00	0.50	O	10.00	5.00	2.00	F	0.00	0.00	0.50	P	4.00	2.00	-- --
		58653 AA	8+	8		FEL103 16+	28			58654 AA	8+	8		FEL104 16+	31		FEL105 22+	22								
		3.00	F	0.00	0.00	1.00	D	6.00	6.00	3.00	F	0.00	0.00	1.00	C	7.00	7.00	1.00	P	4.00	4.00					
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																
7094288	ABHISHEK KUMAR TIWARI PRMILA 2022016402391896 (8)Kalyan-(461)	58651 AA	8+	8		FEC101 10+	10			58652 AA	11+	11		FEL101 21+	21		58655 25+	6+	31		FEL102 16+	16	18.00	--		
		3.00	F	0.00	0.00	1.00	P	4.00	4.00	2.00	F	0.00	0.00	0.50	O	10.00	5.00	2.00	P	4.00	8.00	0.50	C	7.00	3.50	-- --
		58653 AA	8+	8		FEL103 18+	30			58654 AA	12+	12		FEL104 14+	28		FEL105 40+	40								
		3.00	F	0.00	0.00	1.00	C	7.00	7.00	3.00	F	0.00	0.00	1.00	D	6.00	6.00	1.00	O	10.00	10.00					
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																

/ - FEMALE, # - 0.229A, @ - 0.5042A/O.5043A/O.5044A, * - 5045A, RR-RESERVED, --:Fails in Theory or Practical, RPV - PROVISIONAL Eligible, RCC - 0.5050, AB - ABSENT, F - UNSUCCESSFUL, P - SUCCESSFUL;
 NULL=NULL & VOID, G:Grade C*G:Gradepoints C:credits CP:credit points @CG:sum of product of credits & grades, Internal Marks are Provisional as per R.8668
 @C:sum of credit points GPA: @CG/@C
 MARKS : 0 to 39.99 40 to 44.99 45 to 49.99 50 to 59.99 60 to 69.99 70 to 74.99 75 to 79.99 80 to 100
 GRADE : F P E D C B A O
 GRADE POINT : 0.00 4.00 5.00 6.00 7.00 8.00 9.00 10.00



University of Mumbai, Mumbai

OFFICE REGISTER OF THE B.E. (with credits) - Regular - CBCS(Electronics and Telecommunication Engineering)- F.E. C-Scheme - Sem I [1T01831] HELD IN Summer 2025 Result Declaration Date:11 Jul 2025

58651-Engineering Mathematics-I: ThUA 80/32 ThCA 20/8 100/0 | 58652-Engineering Physics-I: ThUA 60/24 ThCA 15/6 75/0 | 58655-Engineering Chemistry-I: ThUA 60/24 ThCA 15/6 75/0 |
 58653-Engineering Mechanics: ThUA 80/32 ThCA 20/8 100/0 | 58654-Basic Electrical Engineering: ThUA 80/32 ThCA 20/8 100/0 | FEL101-Engineering Physics-I (TW): TwCA 25/10 25/0 |
 FEL102-Engineering Chemistry-I (TW): TwCA 25/10 25/0 | FEL103-Engineering Mechanics (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 | FEL104-Basic Electrical Engineering (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 |
 FEL105-Basic Workshop Practice-I: TwCA 50/20 50/0 | FEC101-Engineering Mathematics-I Term Work: TwCA 25/10 25/0 |

SEAT NO.	NAME OF THE CANDIDATE Mother Name PRN.	PAPER 1				PAPER 2				PAPER 3				PAPER 4				PAPER 5				PAPER 6				RESULT CR C*G SGPI GRADE			
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G				
CENTRE-COLLEGE		PAPER 7				PAPER 8				PAPER 9				PAPER 10				PAPER 11											
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G
7094289	/ WADEKAR ARPITA SANTOSH ASHA	58651				FEC101				58652				FEL101				58655				FEL102				Unsuccessful			
		34+	8E	42		--	10+	10		3F	6+	9		--	15+	15		4F	6+	10		--	11+	11		18.00 --			
	2023016401033632	3.00	P	4.00	12.00	1.00	P	4.00	4.00	2.00	F	0.00	0.00	0.50	C	7.00	3.50	2.00	F	0.00	0.00	0.50	P	4.00	2.00	-- --			
	(8)Kalyan-(461)	58653				FEL103				58654				FEL104				FEL105											
		6F	11+	17		--	13+	23		5F	13+	18		--	19+	31		--	38+	38									
		3.00	F	0.00	0.00	1.00	E	5.00	5.00	3.00	F	0.00	0.00	1.00	C	7.00	7.00	1.00	A	9.00	9.00								
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																			
7094290	/ WAGH ARHUSHI ROSHAN RASHMI	58651				FEC101				58652				FEL101				58655				FEL102				Successful			
		36	8+	44		--	14+	14		24+	9+	33		--	18+	18		24+	9+	33		--	20+	20		18.00 100.00			
	2022016402391907	3.00	P	4.00	12.00	1.00	D	6.00	6.00	2.00	P	4.00	8.00	0.50	B	8.00	4.00	2.00	P	4.00	8.00	0.50	O	10.00	5.00	5.56 --			
	(8)Kalyan-(461)	58653				FEL103				58654				FEL104				FEL105											
		36+	16+	52		--	19+	39		34	9+	43		--	18+	35		--	42+	42									
		3.00	D	6.00	18.00	1.00	A	9.00	9.00	3.00	P	4.00	12.00	1.00	B	8.00	8.00	1.00	O	10.00	10.00								
		Total Credit 18.00				FINAL CGPI 5.56				FINAL GRADE --																			
7094291	/ ADULKAR VEDIKA RUPESH RUPALI	58651				FEC101				58652				FEL101				58655				FEL102				Unsuccessful			
		33+	12+	45		--	16+	16		12F	7+	19		--	17+	17		29E	7+	36		--	19+	19		18.00 --			
	2023016400614185	3.00	E	5.00	15.00	1.00	C	7.00	7.00	2.00	F	0.00	0.00	0.50	C	7.00	3.50	2.00	E	5.00	10.00	0.50	A	9.00	4.50	-- --			
	(12)Panvel-(124)	58653				FEL103				58654				FEL104				FEL105											
		39E	16+	55		--	16+	31		34+	8+	42		--	22+	38		--	37+	37									
		3.00	D	6.00	18.00	1.00	C	7.00	7.00	3.00	P	4.00	12.00	1.00	A	9.00	9.00	1.00	B	8.00	8.00								
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																			

/ - FEMALE, # - 0.229A,@ - 0.5042A/O.5043A/O.5044A,* - 5045A, RR-RESERVED, --:Fails in Theory or Practical, RPV - PROVISIONAL Eligible, RCC - 0.5050, AB - ABSENT, F - UNSUCCESSFUL,P - SUCCESSFUL;
 NULL=NULL & VOID, G:Grade C*G:Gradepoints C:credits CP:credit points @CG:sum of product of credits & grades, Internal Marks are Provisional as per R.8668
 @C:sum of credit points GPA: @CG/@C
 MARKS : 0 to 39.99 40 to 44.99 45 to 49.99 50 to 59.99 60 to 69.99 70 to 74.99 75 to 79.99 80 to 100
 GRADE : F P E D C B A O
 GRADE POINT : 0.00 4.00 5.00 6.00 7.00 8.00 9.00 10.00



University of Mumbai, Mumbai

OFFICE REGISTER OF THE B.E. (with credits) - Regular - CBCS(Electronics and Telecommunication Engineering)- F.E. C-Scheme - Sem I [T01831] HELD IN Summer 2025 Result Declaration Date:11 Jul 2025

58651-Engineering Mathematics-I: ThUA 80/32 ThCA 20/8 100/0 | 58652-Engineering Physics-I: ThUA 60/24 ThCA 15/6 75/0 | 58655-Engineering Chemistry-I: ThUA 60/24 ThCA 15/6 75/0 |
 58653-Engineering Mechanics: ThUA 80/32 ThCA 20/8 100/0 | 58654-Basic Electrical Engineering: ThUA 80/32 ThCA 20/8 100/0 | FEL101-Engineering Physics-I (TW): TwCA 25/10 25/0 |
 FEL102-Engineering Chemistry-I (TW): TwCA 25/10 25/0 | FEL103-Engineering Mechanics (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 | FEL104-Basic Electrical Engineering (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 |
 FEL105-Basic Workshop Practice-I: TwCA 50/20 50/0 | FEC101-Engineering Mathematics-I Term Work: TwCA 25/10 25/0 |

SEAT NO.	NAME OF THE CANDIDATE Mother Name PRN.	PAPER 1				PAPER 2				PAPER 3				PAPER 4				PAPER 5				PAPER 6				RESULT CR C*G SGPI GRADE			
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G				
CENTRE-COLLEGE		PAPER 7				PAPER 8				PAPER 9				PAPER 10				PAPER 11											
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G				
7094292	ANDHALE NITIN TUKARAM SUNDAR 2023016400626291 (12) Panvel- (124)	58651 16F	10E	26		FEC101 15+	15			58652 24E	10+	34		FEL101 15+	15		58655 8F	8+	16		FEL102 13+	13		18.00	Unsuccessful --				
		3.00	F	0.00	0.00	1.00	C	7.00	7.00	2.00	E	5.00	10.00	0.50	C	7.00	3.50	2.00	F	0.00	0.00	0.50	D	6.00	3.00	-- --			
		58653 32E	9+	41		FEL103 15+	29			58654 32+	0F	32		FEL104 20+	37		FEL105 36+	36											
		3.00	P	4.00	12.00	1.00	D	6.00	6.00	3.00	F	0.00	0.00	1.00	B	8.00	8.00	1.00	B	8.00	8.00								
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																			
7094293	AUTADE ADITI RAHUL ASHWINI 2023016400624833 (12) Panvel- (124)	58651 32E	10+	42		FEC101 16+	16			58652 27E	6+	33		FEL101 15+	15		58655 24+	9+	33		FEL102 18+	18		18.00	Unsuccessful --				
		3.00	P	4.00	12.00	1.00	C	7.00	7.00	2.00	P	4.00	8.00	0.50	C	7.00	3.50	2.00	P	4.00	8.00	0.50	B	8.00	4.00	-- --			
		58653 17F	8+	25		FEL103 18+	35			58654 38+	10+	48		FEL104 20+	36		FEL105 37+	37											
		3.00	F	0.00	0.00	1.00	B	8.00	8.00	3.00	E	5.00	15.00	1.00	B	8.00	8.00	1.00	B	8.00	8.00								
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																			
7094294	BHAGAT PRATIK VIKAS VIVEKI 2023016400613584 (12) Panvel- (124)	58651 54	15+	69		FEC101 19+	19			58652 25+	10+	35		FEL101 21+	21		58655 34+	8+	42		FEL102 22+	22		18.00	Successful 120.00				
		3.00	C	7.00	21.00	1.00	A	9.00	9.00	2.00	E	5.00	10.00	0.50	O	10.00	5.00	2.00	D	6.00	12.00	0.50	O	10.00	5.00	6.67 --			
		58653 33+	8+	41		FEL103 19+	37			58654 41+	9+	50		FEL104 23+	44		FEL105 41+	41											
		3.00	P	4.00	12.00	1.00	B	8.00	8.00	3.00	D	6.00	18.00	1.00	O	10.00	10.00	1.00	O	10.00	10.00								
		Total Credit 18.00				FINAL CGPI 6.67				FINAL GRADE --																			

/ - FEMALE, # - 0.229A,@ - 0.5042A/O.5043A/O.5044A, * - 5045A, RR-RESERVED, --:Fails in Theory or Practical, RPV - PROVISIONAL Eligible, RCC - 0.5050, AB - ABSENT, F - UNSUCCESSFUL,P - SUCCESSFUL;
 NULL=NULL & VOID, G:Grade C*G:Gradepoints C:credits CP:credit points aCG:sum of product of credits & grades, Internal Marks are Provisional as per R.8668
 aC:sum of credit points GPA: aCG/aC
 MARKS : 0 to 39.99 40 to 44.99 45 to 49.99 50 to 59.99 60 to 69.99 70 to 74.99 75 to 79.99 80 to 100
 GRADE : F P E D C B A O
 GRADE POINT : 0.00 4.00 5.00 6.00 7.00 8.00 9.00 10.00



University of Mumbai, Mumbai

OFFICE REGISTER OF THE B.E. (with credits) - Regular - CBCS(Electronics and Telecommunication Engineering)- F.E. C-Scheme - Sem I [T01831] HELD IN Summer 2025 Result Declaration Date:11 Jul 2025

58651-Engineering Mathematics-I: ThUA 80/32 ThCA 20/8 100/0 | 58652-Engineering Physics-I: ThUA 60/24 ThCA 15/6 75/0 | 58655-Engineering Chemistry-I: ThUA 60/24 ThCA 15/6 75/0 |
 58653-Engineering Mechanics: ThUA 80/32 ThCA 20/8 100/0 | 58654-Basic Electrical Engineering: ThUA 80/32 ThCA 20/8 100/0 | FEL101-Engineering Physics-I (TW): TwCA 25/10 25/0 |
 FEL102-Engineering Chemistry-I (TW): TwCA 25/10 25/0 | FEL103-Engineering Mechanics (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 | FEL104-Basic Electrical Engineering (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 |
 FEL105-Basic Workshop Practice-I: TwCA 50/20 50/0 | FEC101-Engineering Mathematics-I Term Work: TwCA 25/10 25/0 |

SEAT NO.	NAME OF THE CANDIDATE Mother Name PRN.	PAPER 1				PAPER 2				PAPER 3				PAPER 4				PAPER 5				PAPER 6				RESULT CR C*G SGPI GRADE	
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G		
CENTRE-COLLEGE		PAPER 7				PAPER 8				PAPER 9				PAPER 10				PAPER 11									
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G		
7094295	BHALERAO KARAN ASHOK MANGAL 2022016402169047 (12) Panvel- (124)	58651 37+	10+	47	1.00	FEC101 17+	17	7.00	7.00	58652 24+	10+	34	2.00	FEL101 19+	19	9.00	4.50	58655 24+	10+	34	2.00	FEL102 22+	22	18.00	18.00 --		
		3.00	E	5.00	15.00	1.00	C	7.00	7.00	2.00	E	5.00	10.00	0.50	A	9.00	4.50	2.00	E	5.00	10.00	0.50	O	10.00	5.00	-- --	
		58653 25F	8+	33	1.00	FEL103 17+	32	7.00	7.00	58654 50+	10+	60	3.00	FEL104 15+	30	7.00	7.00	58655 37+	37	8.00	8.00						
		3.00	F	0.00	0.00	1.00	C	7.00	7.00	3.00	C	7.00	21.00	1.00	C	7.00	7.00	1.00	B	8.00	8.00						
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																	
7094296	BHOIR YASH KIRAN KIMAYA 2023016400632353 (12) Panvel- (124)	58651 32+	10+	42	1.00	FEC101 17+	17	7.00	7.00	58652 33	6+	39	2.00	FEL101 17+	17	7.00	3.50	58655 32+	7+	39	2.00	FEL102 18+	18	18.00	114.50		
		3.00	P	4.00	12.00	1.00	C	7.00	7.00	2.00	D	6.00	12.00	0.50	C	7.00	3.50	2.00	D	6.00	12.00	0.50	B	8.00	4.00	6.36 --	
		58653 37+	16+	53	1.00	FEL103 20+	39	9.00	9.00	58654 40+	10+	50	3.00	FEL104 22+	38	9.00	9.00	58655 40+	40	10.00	10.00						
		3.00	D	6.00	18.00	1.00	A	9.00	9.00	3.00	D	6.00	18.00	1.00	A	9.00	9.00	1.00	O	10.00	10.00						
		Total Credit 18.00				FINAL CGPI 6.36				FINAL GRADE --																	
7094297	DANDGE VAISHNAVI BHUSHAN POOJA 2023016400598041 (12) Panvel- (124)	58651 16F	11+	27	1.00	FEC101 16+	16	7.00	7.00	58652 28+	AA	28	2.00	FEL101 16+	16	7.00	3.50	58655 24+	9+	33	2.00	FEL102 21+	21	18.00	18.00 --		
		3.00	F	0.00	0.00	1.00	C	7.00	7.00	2.00	F	0.00	0.00	0.50	C	7.00	3.50	2.00	P	4.00	8.00	0.50	O	10.00	5.00	-- --	
		58653 12F	11+	23	1.00	FEL103 18+	35	8.00	8.00	58654 24F	14+	38	3.00	FEL104 23+	42	10.00	10.00	58655 42+	42	10.00	10.00						
		3.00	F	0.00	0.00	1.00	B	8.00	8.00	3.00	F	0.00	0.00	1.00	O	10.00	10.00	1.00	O	10.00	10.00						
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																	

/ - FEMALE, # - 0.229A ,@ - 0.5042A/O.5043A/O.5044A, * - 5045A, RR-RESERVED, --:Fails in Theory or Practical, RPV - PROVISIONAL Eligible, RCC - 0.5050, AB - ABSENT, F - UNSUCCESSFUL, P - SUCCESSFUL;
 NULL=NULL & VOID, G:Grade C*G:Gradepoints C:credits CP:credit points aCG:sum of product of credits & grades, Internal Marks are Provisional as per R.8668
 aC:sum of credit points GPA: aCG/aC
 MARKS : 0 to 39.99 40 to 44.99 45 to 49.99 50 to 59.99 60 to 69.99 70 to 74.99 75 to 79.99 80 to 100
 GRADE : F P E D C B A O
 GRADE POINT : 0.00 4.00 5.00 6.00 7.00 8.00 9.00 10.00



University of Mumbai, Mumbai

OFFICE REGISTER OF THE B.E. (with credits) - Regular - CBCS(Electronics and Telecommunication Engineering)- F.E. C-Scheme - Sem I [T01831] HELD IN Summer 2025 Result Declaration Date:11 Jul 2025

58651-Engineering Mathematics-I: ThUA 80/32 ThCA 20/8 100/0 | 58652-Engineering Physics-I: ThUA 60/24 ThCA 15/6 75/0 | 58655-Engineering Chemistry-I: ThUA 60/24 ThCA 15/6 75/0 |
 58653-Engineering Mechanics: ThUA 80/32 ThCA 20/8 100/0 | 58654-Basic Electrical Engineering: ThUA 80/32 ThCA 20/8 100/0 | FEL101-Engineering Physics-I (TW): TwCA 25/10 25/0 |
 FEL102-Engineering Chemistry-I (TW): TwCA 25/10 25/0 | FEL103-Engineering Mechanics (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 | FEL104-Basic Electrical Engineering (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 |
 FEL105-Basic Workshop Practice-I: TwCA 50/20 50/0 | FEC101-Engineering Mathematics-I Term Work: TwCA 25/10 25/0 |

SEAT NO.	NAME OF THE CANDIDATE Mother Name PRN.	PAPER 1				PAPER 2				PAPER 3				PAPER 4				PAPER 5				PAPER 6				RESULT CR C*G SGPI GRADE	
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G		
CENTRE-COLLEGE		PAPER 7				PAPER 8				PAPER 9				PAPER 10				PAPER 11									
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G		
7094298	DHONDPHALE ATHARVA MUKESH PRATIBHA 2023016400617253 (12) Panvel- (124)	58651 32	10+	42		FEC101 15+	15			58652 25+	6+	31		FEL101 15+	15		58655 25+	7+	32		FEL102 13+	13	18.00	95.50			
		3.00	P	4.00	12.00	1.00	C	7.00	7.00	2.00	P	4.00	8.00	0.50	C	7.00	3.50	2.00	P	4.00	8.00	0.50	D	6.00	3.00	5.31	--
		58653 39+	8	47		FEL103 14+	27			58654 36+	10+	46		FEL104 21+	40		FEL105 37+	37									
		3.00	E	5.00	15.00	1.00	D	6.00	6.00	3.00	E	5.00	15.00	1.00	O	10.00	10.00	1.00	B	8.00	8.00						
		Total Credit 18.00				FINAL CGPI 5.31				FINAL GRADE --																	
7094299	DURGUDE ATHARVA SUNIL RUTUJA 2022016402169345 (12) Panvel- (124)	58651 32+	8+	40		FEC101 18+	18			58652 24+	7+	31		FEL101 17+	17		58655 24+	6+	30		FEL102 20+	20	18.00	--			
		3.00	P	4.00	12.00	1.00	B	8.00	8.00	2.00	P	4.00	8.00	0.50	C	7.00	3.50	2.00	P	4.00	8.00	0.50	O	10.00	5.00	--	--
		58653 32+	10+	42		FEL103 15+	28			58654 25F	9+	34		FEL104 16+	29		FEL105 36+	36									
		3.00	P	4.00	12.00	1.00	D	6.00	6.00	3.00	F	0.00	0.00	1.00	D	6.00	6.00	1.00	B	8.00	8.00						
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																	
7094300	GHARGE SHRAVANI GANESH ANJANA 2023016400626252 (12) Panvel- (124)	58651 32+	14+	46		FEC101 16+	16			58652 25+	8+	33		FEL101 15+	15		58655 24+	10+	34		FEL102 17+	17	18.00	102.00			
		3.00	E	5.00	15.00	1.00	C	7.00	7.00	2.00	P	4.00	8.00	0.50	C	7.00	3.50	2.00	E	5.00	10.00	0.50	C	7.00	3.50	5.67	--
		58653 41	19+	60		FEL103 15+	29			58654 32+	9+	41		FEL104 17+	36		FEL105 37+	37									
		3.00	C	7.00	21.00	1.00	D	6.00	6.00	3.00	P	4.00	12.00	1.00	B	8.00	8.00	1.00	B	8.00	8.00						
		Total Credit 18.00				FINAL CGPI 5.67				FINAL GRADE --																	

/ - FEMALE, # - 0.229A, @ - 0.5042A/O.5043A/O.5044A, * - 5045A, RR-RESERVED, --:Fails in Theory or Practical, RPV - PROVISIONAL Eligible, RCC - 0.5050, AB - ABSENT, F - UNSUCCESSFUL, P - SUCCESSFUL;
 NULL=NULL & VOID, G:Grade C*G:Gradepoints C:credits CP:credit points aCG:sum of product of credits & grades, Internal Marks are Provisional as per R.8668
 aC:sum of credit points GPA: aCG/aC
 MARKS : 0 to 39.99 40 to 44.99 45 to 49.99 50 to 59.99 60 to 69.99 70 to 74.99 75 to 79.99 80 to 100
 GRADE : F P E D C B A O
 GRADE POINT : 0.00 4.00 5.00 6.00 7.00 8.00 9.00 10.00



University of Mumbai, Mumbai

OFFICE REGISTER OF THE B.E. (with credits) - Regular - CBCS(Electronics and Telecommunication Engineering)- F.E. C-Scheme - Sem I [1T01831] HELD IN Summer 2025 Result Declaration Date:11 Jul 2025

58651-Engineering Mathematics-I: ThUA 80/32 ThCA 20/8 100/0 | 58652-Engineering Physics-I: ThUA 60/24 ThCA 15/6 75/0 | 58655-Engineering Chemistry-I: ThUA 60/24 ThCA 15/6 75/0 |
 58653-Engineering Mechanics: ThUA 80/32 ThCA 20/8 100/0 | 58654-Basic Electrical Engineering: ThUA 80/32 ThCA 20/8 100/0 | FEL101-Engineering Physics-I (TW): TwCA 25/10 25/0 |
 FEL102-Engineering Chemistry-I (TW): TwCA 25/10 25/0 | FEL103-Engineering Mechanics (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 | FEL104-Basic Electrical Engineering (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 |
 FEL105-Basic Workshop Practice-I: TwCA 50/20 50/0 | FEC101-Engineering Mathematics-I Term Work: TwCA 25/10 25/0 |

SEAT NO.	NAME OF THE CANDIDATE Mother Name PRN.	PAPER 1				PAPER 2				PAPER 3				PAPER 4				PAPER 5				PAPER 6				RESULT CR C*G SGPI GRADE			
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G				
CENTRE-COLLEGE		PAPER 7				PAPER 8				PAPER 9				PAPER 10				PAPER 11											
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G				
7094301	/ KADAM KAVERI SATISH ASHA 2023016400616153 (12) Panvel- (124)	58651 28F	10+	38		FEC101 16+	16			58652 25+	11+	36		FEL101 15+	15		58655 25+	9+	34		FEL102 15+	15		18.00	--				
		3.00	F	0.00	0.00	1.00	C	7.00	7.00	2.00	E	5.00	10.00	0.50	C	7.00	3.50	2.00	E	5.00	10.00	0.50	C	7.00	3.50	-- --			
		58653 32+	11+	43		FEL103 18+	35			58654 32+	12+	44		FEL104 20+	37		FEL105 40+	40											
		3.00	P	4.00	12.00	1.00	B	8.00	8.00	3.00	P	4.00	12.00	1.00	B	8.00	8.00	1.00	O	10.00	10.00								
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																			
7094302	MATKAR SAGAR KANIFNATH JYOTI 2022016402169202 (12) Panvel- (124)	58651 32+	8+	40		FEC101 16+	16			58652 24+	6+	30		FEL101 16+	16		58655 24+	6+	30		FEL102 13+	13		18.00	--				
		3.00	P	4.00	12.00	1.00	C	7.00	7.00	2.00	P	4.00	8.00	0.50	C	7.00	3.50	2.00	P	4.00	8.00	0.50	D	6.00	3.00	-- --			
		58653 AA	20+	20		FEL103 15+	25			58654 36+	8+	44		FEL104 15+	28		FEL105 36+	36											
		3.00	F	0.00	0.00	1.00	D	6.00	6.00	3.00	P	4.00	12.00	1.00	D	6.00	6.00	1.00	B	8.00	8.00								
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																			
7094303	NAT KUNAL SANDIP SAVITA 2023016400595182 (12) Panvel- (124)	58651 32	10+	42		FEC101 16+	16			58652 24+	8+	32		FEL101 15+	15		58655 27+	8+	35		FEL102 19+	19		18.00	94.00				
		3.00	P	4.00	12.00	1.00	C	7.00	7.00	2.00	P	4.00	8.00	0.50	C	7.00	3.50	2.00	E	5.00	10.00	0.50	A	9.00	4.50	5.22 --			
		58653 32	12+	44		FEL103 17+	33			58654 32+	9+	41		FEL104 18+	37		FEL105 40+	40											
		3.00	P	4.00	12.00	1.00	C	7.00	7.00	3.00	P	4.00	12.00	1.00	B	8.00	8.00	1.00	O	10.00	10.00								
		Total Credit 18.00				FINAL CGPI 5.22				FINAL GRADE --																			

/ - FEMALE, # - 0.229A, @ - 0.5042A/O.5043A/O.5044A, * - 5045A, RR-RESERVED, --:Fails in Theory or Practical, RPV - PROVISIONAL Eligible, RCC - 0.5050, AB - ABSENT, F - UNSUCCESSFUL, P - SUCCESSFUL;
 NULL=NULL & VOID, G:Grade C*G:Gradepoints C:credits CP:credit points aCG:sum of product of credits & grades, Internal Marks are Provisional as per R.8668
 aC:sum of credit points GPA: aCG/aC
 MARKS : 0 to 39.99 40 to 44.99 45 to 49.99 50 to 59.99 60 to 69.99 70 to 74.99 75 to 79.99 80 to 100
 GRADE : F P E D C B A O
 GRADE POINT : 0.00 4.00 5.00 6.00 7.00 8.00 9.00 10.00



University of Mumbai, Mumbai

OFFICE REGISTER OF THE B.E. (with credits) - Regular - CBCS(Electronics and Telecommunication Engineering)- F.E. C-Scheme - Sem I [T01831] HELD IN Summer 2025 Result Declaration Date:11 Jul 2025

58651-Engineering Mathematics-I: ThUA 80/32 ThCA 20/8 100/0 | 58652-Engineering Physics-I: ThUA 60/24 ThCA 15/6 75/0 | 58655-Engineering Chemistry-I: ThUA 60/24 ThCA 15/6 75/0 |
 58653-Engineering Mechanics: ThUA 80/32 ThCA 20/8 100/0 | 58654-Basic Electrical Engineering: ThUA 80/32 ThCA 20/8 100/0 | FEL101-Engineering Physics-I (TW): TwCA 25/10 25/0 |
 FEL102-Engineering Chemistry-I (TW): TwCA 25/10 25/0 | FEL103-Engineering Mechanics (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 | FEL104-Basic Electrical Engineering (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 |
 FEL105-Basic Workshop Practice-I: TwCA 50/20 50/0 | FEC101-Engineering Mathematics-I Term Work: TwCA 25/10 25/0 |

SEAT NO.	NAME OF THE CANDIDATE Mother Name PRN.	PAPER 1				PAPER 2				PAPER 3				PAPER 4				PAPER 5				PAPER 6				RESULT CR C*G SGPI GRADE
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	
CENTRE-COLLEGE		PAPER 7				PAPER 8				PAPER 9				PAPER 10				PAPER 11								
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	
7094304	TOSIF ANSAR PATHAN RAJIYA 2022016402167315 (12) Panvel- (124)	58651 32+ 3.00 P	8+ 4.00	40 12.00	40	FEC101 18+ 1.00 B	18 8.00	18 8.00	18	58652 29 2.00 E	7+ 5.00	36 10.00	36	FEL101 17+ 0.50 C	17 7.00	17 3.50	17	58655 24+ 2.00 E	11+ 5.00	35 10.00	35	FEL102 18+ 0.50 O	20+ 10.00	20 5.00	20	18.00 99.50 5.53 --
		58653 32+ 3.00 P	11+ 4.00	43 12.00	43	FEL103 16+ 1.00 C	34 7.00	34 7.00	34	58654 41+ 3.00 E	8+ 5.00	49 15.00	49	FEL104 17+ 1.00 B	35 8.00	35 8.00	35	FEL105 18+ 1.00 A	38+ 9.00	38 9.00	38					
		Total Credit 18.00				FINAL CGPI 5.53				FINAL GRADE --																
7094305	PATIL DURVESH BHARAT RAKHI 2022016402166745 (12) Panvel- (124)	58651 32+ 3.00 E	15+ 5.00	47 15.00	47	FEC101 19+ 1.00 A	19 9.00	19 9.00	19	58652 18F 2.00 F	11+ 0.00	29 0.00	29	FEL101 21+ 0.50 O	21 10.00	21 5.00	21	58655 25+ 2.00 P	8+ 4.00	33 8.00	33	FEL102 13+ 0.50 D	13 6.00	13 3.00	13	18.00 -- -- --
		58653 21F 3.00 F	13+ 0.00	34 0.00	34	FEL103 19+ 1.00 B	37 8.00	37 8.00	37	58654 32+ 3.00 E	14+ 5.00	46 15.00	46	FEL104 20+ 1.00 C	34 7.00	34 7.00	34	FEL105 14+ 1.00 B	36+ 8.00	36 8.00	36					
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																
7094306	PATIL VYANKATESH SANJAY SUNITA 2023016400624783 (12) Panvel- (124)	58651 32+ 3.00 P	10+ 4.00	42 12.00	42	FEC101 17+ 1.00 C	17 7.00	17 7.00	17	58652 24 2.00 P	8+ 4.00	32 8.00	32	FEL101 17+ 0.50 C	17 7.00	17 3.50	17	58655 26+ 2.00 E	9+ 5.00	35 10.00	35	FEL102 19+ 0.50 A	19 9.00	19 4.50	19	18.00 99.00 5.50 --
		58653 32+ 3.00 P	10+ 4.00	42 12.00	42	FEL103 17+ 1.00 C	33 7.00	33 7.00	33	58654 47+ 3.00 D	41+ 6.00	51 18.00	51	FEL104 17+ 1.00 B	36 8.00	36 8.00	36	FEL105 19+ 1.00 A	38+ 9.00	38 9.00	38					
		Total Credit 18.00				FINAL CGPI 5.50				FINAL GRADE --																

/ - FEMALE, # - 0.229A ,@ - 0.5042A/O.5043A/O.5044A, * - 5045A, RR-RESERVED, --:Fails in Theory or Practical, RPV - PROVISIONAL Eligible, RCC - 0.5050, AB - ABSENT, F - UNSUCCESSFUL, P - SUCCESSFUL;
 NULL=NULL & VOID, G:Grade C*G:Gradepoints C:credits CP:credit points aCG:sum of product of credits & grades, Internal Marks are Provisional as per R.8668
 aC:sum of credit points GPA: aCG/aC
 MARKS : 0 to 39.99 40 to 44.99 45 to 49.99 50 to 59.99 60 to 69.99 70 to 74.99 75 to 79.99 80 to 100
 GRADE : F P E D C B A O
 GRADE POINT : 0.00 4.00 5.00 6.00 7.00 8.00 9.00 10.00



University of Mumbai, Mumbai

OFFICE REGISTER OF THE B.E. (with credits) - Regular - CBCS (Electronics and Telecommunication Engineering)- F.E. C-Scheme - Sem I [T01831] HELD IN Summer 2025 Result Declaration Date: 11 Jul 2025

58651-Engineering Mathematics-I: ThUA 80/32 ThCA 20/8 100/0 | 58652-Engineering Physics-I: ThUA 60/24 ThCA 15/6 75/0 | 58655-Engineering Chemistry-I: ThUA 60/24 ThCA 15/6 75/0 |
 58653-Engineering Mechanics: ThUA 80/32 ThCA 20/8 100/0 | 58654-Basic Electrical Engineering: ThUA 80/32 ThCA 20/8 100/0 | FEL101-Engineering Physics-I (TW): TwCA 25/10 25/0 |
 FEL102-Engineering Chemistry-I (TW): TwCA 25/10 25/0 | FEL103-Engineering Mechanics (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 | FEL104-Basic Electrical Engineering (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 |
 FEL105-Basic Workshop Practice-I: TwCA 50/20 50/0 | FEC101-Engineering Mathematics-I Term Work: TwCA 25/10 25/0 |

SEAT NO.	NAME OF THE CANDIDATE Mother Name PRN.	PAPER 1				PAPER 2				PAPER 3				PAPER 4				PAPER 5				PAPER 6				RESULT CR C*G SGPI GRADE			
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G				
CENTRE-COLLEGE		PAPER 7				PAPER 8				PAPER 9				PAPER 10				PAPER 11											
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G
7094307	SALVE ROHAN UMAKANT USHA 2022016402167644 (12) Panvel- (124)	58651 35	8+	43		FEC101 18+	18			58652 24+	6+	30		FEL101 16+	16		58655 26+	7+	33		FEL102 20+	20		18.00	92.50	Successful			
		3.00	P	4.00	12.00	1.00	B	8.00	8.00	2.00	P	4.00	8.00	0.50	C	7.00	3.50	2.00	P	4.00	8.00	0.50	O	10.00	5.00	5.14	--		
		58653 32	9+	41		FEL103 19+	36			58654 32+	9+	41		FEL104 19+	32		FEL105 39+	39											
		3.00	P	4.00	12.00	1.00	B	8.00	8.00	3.00	P	4.00	12.00	1.00	C	7.00	7.00	1.00	A	9.00	9.00								
		Total Credit 18.00				FINAL CGPI 5.14				FINAL GRADE --																			
7094308	SASANE SANSKAR MACHINDRA PRITAM 2023016400625554 (12) Panvel- (124)	58651 4F	9+	13		FEC101 17+	17			58652 7F	8+	15		FEL101 18+	18		58655 25+	9+	34		FEL102 15+	15		18.00	--	Unsuccessful			
		3.00	F	0.00	0.00	1.00	C	7.00	7.00	2.00	F	0.00	0.00	0.50	B	8.00	4.00	2.00	E	5.00	10.00	0.50	C	7.00	3.50	-- --			
		58653 8F	9+	17		FEL103 18+	35			58654 32+	8+	40		FEL104 20+	40		FEL105 42+	42											
		3.00	F	0.00	0.00	1.00	B	8.00	8.00	3.00	P	4.00	12.00	1.00	O	10.00	10.00	1.00	O	10.00	10.00								
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																			
7094309	TAYADE HARSH SUNIL SHILA 2023016400603303 (12) Panvel- (124)	58651 32E	8+	40		FEC101 16+	16			58652 24+	10+	34		FEL101 17+	17		58655 9F	6+	15		FEL102 13+	13		18.00	--	Unsuccessful			
		3.00	P	4.00	12.00	1.00	C	7.00	7.00	2.00	E	5.00	10.00	0.50	C	7.00	3.50	2.00	F	0.00	0.00	0.50	D	6.00	3.00	-- --			
		58653 32+	AA	32		FEL103 19+	37			58654 32+	3F	35		FEL104 14+	34		FEL105 37+	37											
		3.00	F	0.00	0.00	1.00	B	8.00	8.00	3.00	F	0.00	0.00	1.00	C	7.00	7.00	1.00	B	8.00	8.00								
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																			

/ - FEMALE, # - 0.229A, @ - 0.5042A/O.5043A/O.5044A, * - 5045A, RR-RESERVED, --:Fails in Theory or Practical, RPV - PROVISIONAL Eligible, RCC - 0.5050, AB - ABSENT, F - UNSUCCESSFUL, P - SUCCESSFUL;
 NULL=NULL & VOID, G:Grade C*G:Gradepoints C:credits CP:credit points aCG:sum of product of credits & grades, Internal Marks are Provisional as per R.8668
 aC:sum of credit points GPA: aCG/aC
 MARKS : 0 to 39.99 40 to 44.99 45 to 49.99 50 to 59.99 60 to 69.99 70 to 74.99 75 to 79.99 80 to 100
 GRADE : F P E D C B A O
 GRADE POINT : 0.00 4.00 5.00 6.00 7.00 8.00 9.00 10.00



University of Mumbai, Mumbai

OFFICE REGISTER OF THE B.E. (with credits) - Regular - CBCS(Electronics and Telecommunication Engineering)- F.E. C-Scheme - Sem I [T01831] HELD IN Summer 2025 Result Declaration Date:11 Jul 2025

58651-Engineering Mathematics-I: ThUA 80/32 ThCA 20/8 100/0 | 58652-Engineering Physics-I: ThUA 60/24 ThCA 15/6 75/0 | 58655-Engineering Chemistry-I: ThUA 60/24 ThCA 15/6 75/0 |
 58653-Engineering Mechanics: ThUA 80/32 ThCA 20/8 100/0 | 58654-Basic Electrical Engineering: ThUA 80/32 ThCA 20/8 100/0 | FEL101-Engineering Physics-I (TW): TwCA 25/10 25/0 |
 FEL102-Engineering Chemistry-I (TW): TwCA 25/10 25/0 | FEL103-Engineering Mechanics (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 | FEL104-Basic Electrical Engineering (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 |
 FEL105-Basic Workshop Practice-I: TwCA 50/20 50/0 | FEC101-Engineering Mathematics-I Term Work: TwCA 25/10 25/0 |

SEAT NO.	NAME OF THE CANDIDATE Mother Name PRN.	PAPER 1				PAPER 2				PAPER 3				PAPER 4				PAPER 5				PAPER 6				RESULT CR C*G SGPI GRADE			
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G				
CENTRE-COLLEGE		PAPER 7				PAPER 8				PAPER 9				PAPER 10				PAPER 11											
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G				
7094310	THITETEJAS APPASAHEB SUNITA 2023016400614146 (12) Panvel- (124)	58651 9F	11+	20		FEC101 --	16+	16		58652 5F	7+	12		FEL101 --	16+	16		58655 24+	6+	30		FEL102 --	15+	15	18.00	--			
		3.00	F	0.00	0.00	1.00	C	7.00	7.00	2.00	F	0.00	0.00	0.50	C	7.00	3.50	2.00	P	4.00	8.00	0.50	C	7.00	3.50	-- --			
		58653 33+	8+	41		FEL103 --	16+	31		58654 32+	10+	42		FEL104 --	20+	36		FEL105 --	36+	36									
		3.00	P	4.00	12.00	1.00	C	7.00	7.00	3.00	P	4.00	12.00	1.00	B	8.00	8.00	1.00	B	8.00	8.00								
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																			
7094311	TIPRALE SHUBHAM SADASHIV ANITA 2022016402169001 (12) Panvel- (124)	58651 AA	10+	10		FEC101 --	15+	15		58652 AA	7+	7		FEL101 --	16+	16		58655 24+	8+	32		FEL102 --	20+	20	18.00	--			
		3.00	F	0.00	0.00	1.00	C	7.00	7.00	2.00	F	0.00	0.00	0.50	C	7.00	3.50	2.00	P	4.00	8.00	0.50	O	10.00	5.00	-- --			
		58653 33+	18+	51		FEL103 --	15+	31		58654 32+	9+	41		FEL104 --	18+	32		FEL105 --	39+	39									
		3.00	D	6.00	18.00	1.00	C	7.00	7.00	3.00	P	4.00	12.00	1.00	C	7.00	7.00	1.00	A	9.00	9.00								
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																			
7094312	AGHAV KISHOR JANARDHAN URMILATAI 2023016401218581 (12) Panvel- (385)	58651 10F	9E	19		FEC101 --	14+	14		58652 24E	6+	30		FEL101 --	13+	13		58655 24+	6+	30		FEL102 --	18+	18	18.00	--			
		3.00	F	0.00	0.00	1.00	D	6.00	6.00	2.00	P	4.00	8.00	0.50	D	6.00	3.00	2.00	P	4.00	8.00	0.50	B	8.00	4.00	-- --			
		58653 16F	8+	24		FEL103 --	10+	20		58654 38+	8+	46		FEL104 --	19+	32		FEL105 --	32+	32									
		3.00	F	0.00	0.00	1.00	P	4.00	4.00	3.00	E	5.00	15.00	1.00	C	7.00	7.00	1.00	C	7.00	7.00								
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																			

/ - FEMALE, # - 0.229A, @ - 0.5042A/O.5043A/O.5044A, * - 5045A, RR-RESERVED, --:Fails in Theory or Practical, RPV - PROVISIONAL Eligible, RCC - 0.5050, AB - ABSENT, F - UNSUCCESSFUL, P - SUCCESSFUL;
 NULL=NULL & VOID, G:Grade C*G:Gradepoints C:credits CP:credit points aCG:sum of product of credits & grades, Internal Marks are Provisional as per R.8668
 aC:sum of credit points GPA: aCG/aC
 MARKS : 0 to 39.99 40 to 44.99 45 to 49.99 50 to 59.99 60 to 69.99 70 to 74.99 75 to 79.99 80 to 100
 GRADE : F P E D C B A O
 GRADE POINT : 0.00 4.00 5.00 6.00 7.00 8.00 9.00 10.00



University of Mumbai, Mumbai

OFFICE REGISTER OF THE B.E. (with credits) - Regular - CBCS(Electronics and Telecommunication Engineering)- F.E. C-Scheme - Sem I [T01831] HELD IN Summer 2025 Result Declaration Date:11 Jul 2025

58651-Engineering Mathematics-I: ThUA 80/32 ThCA 20/8 100/0 | 58652-Engineering Physics-I: ThUA 60/24 ThCA 15/6 75/0 | 58655-Engineering Chemistry-I: ThUA 60/24 ThCA 15/6 75/0 |
 58653-Engineering Mechanics: ThUA 80/32 ThCA 20/8 100/0 | 58654-Basic Electrical Engineering: ThUA 80/32 ThCA 20/8 100/0 | FEL101-Engineering Physics-I (TW): TwCA 25/10 25/0 |
 FEL102-Engineering Chemistry-I (TW): TwCA 25/10 25/0 | FEL103-Engineering Mechanics (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 | FEL104-Basic Electrical Engineering (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 |
 FEL105-Basic Workshop Practice-I: TwCA 50/20 50/0 | FEC101-Engineering Mathematics-I Term Work: TwCA 25/10 25/0 |

SEAT NO.	NAME OF THE CANDIDATE Mother Name PRN.	PAPER 1				PAPER 2				PAPER 3				PAPER 4				PAPER 5				PAPER 6				RESULT CR C*G SGPI GRADE
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	
CENTRE-COLLEGE		PAPER 7				PAPER 8				PAPER 9				PAPER 10				PAPER 11								
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	
7094313	AWALA MANAV ARUN SUMANLATA 2023016401231763 (12) Panvel-(385)	58651 32E	8+	40		FEC101 17+	17		58652 6F	6+	12		FEL101 11+	11		58655 24+	9+	33		FEL102 19+	19				Unsuccessful 18.00 --	
		3.00	P	4.00	12.00	1.00	C	7.00	7.00	2.00	F	0.00	0.00	0.50	P	4.00	2.00	2.00	P	4.00	8.00	0.50	A	9.00	4.50	-- --
		58653 38E	9+	47		FEL103 15+	32		58654 32+	11+	43		FEL104 16+	32		FEL105 41+	41									
		3.00	E	5.00	15.00	1.00	C	7.00	7.00	3.00	P	4.00	12.00	1.00	C	7.00	7.00	1.00	O	10.00	10.00					
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																
7094314	/ BHAMTIKAR PARI VINOD VARSHA 2023016401218573 (12) Panvel-(385)	58651 38+	12+	50		FEC101 19+	19		58652 26+	8+	34		FEL101 15+	15		58655 24+	7+	31		FEL102 19+	19				Successful 18.00 111.00	
		3.00	D	6.00	18.00	1.00	A	9.00	9.00	2.00	E	5.00	10.00	0.50	C	7.00	3.50	2.00	P	4.00	8.00	0.50	A	9.00	4.50	6.17 --
		58653 33	11+	44		FEL103 21+	36		58654 37+	14+	51		FEL104 22+	41		FEL105 40+	40									
		3.00	P	4.00	12.00	1.00	B	8.00	8.00	3.00	D	6.00	18.00	1.00	O	10.00	10.00	1.00	O	10.00	10.00					
		Total Credit 18.00				FINAL CGPI 6.17				FINAL GRADE --																
7094315	/ BOBADE NEHA KIRAN SHUBHANGI 2023016401238113 (12) Panvel-(385)	58651 34	8+	42		FEC101 20+	20		58652 24+	7+	31		FEL101 18+	18		58655 24+	9+	33		FEL102 19+	19				Successful 18.00 111.50	
		3.00	P	4.00	12.00	1.00	O	10.00	10.00	2.00	P	4.00	8.00	0.50	B	8.00	4.00	2.00	P	4.00	8.00	0.50	A	9.00	4.50	6.19 --
		58653 37	10+	47		FEL103 22+	42		58654 47+	20+	67		FEL104 23+	45		FEL105 39+	39									
		3.00	E	5.00	15.00	1.00	O	10.00	10.00	3.00	C	7.00	21.00	1.00	O	10.00	10.00	1.00	A	9.00	9.00					
		Total Credit 18.00				FINAL CGPI 6.19				FINAL GRADE --																

/ - FEMALE, # - 0.229A,@ - 0.5042A/O.5043A/O.5044A, * - 5045A, RR-RESERVED, --:Fails in Theory or Practical, RPV - PROVISIONAL Eligible, RCC - 0.5050, AB - ABSENT, F - UNSUCCESSFUL,P - SUCCESSFUL;
 NULL=NULL & VOID, G:Grade C*G:Gradepoints C:credits CP:credit points aCG:sum of product of credits & grades, Internal Marks are Provisional as per R.8668
 aC:sum of credit points GPA: aCG/aC
 MARKS : 0 to 39.99 40 to 44.99 45 to 49.99 50 to 59.99 60 to 69.99 70 to 74.99 75 to 79.99 80 to 100
 GRADE : F P E D C B A O
 GRADE POINT : 0.00 4.00 5.00 6.00 7.00 8.00 9.00 10.00



University of Mumbai, Mumbai

OFFICE REGISTER OF THE B.E. (with credits) - Regular - CBCS(Electronics and Telecommunication Engineering)- F.E. C-Scheme - Sem I [1T01831] HELD IN Summer 2025 Result Declaration Date:11 Jul 2025

58651-Engineering Mathematics-I: ThUA 80/32 ThCA 20/8 100/0 | 58652-Engineering Physics-I: ThUA 60/24 ThCA 15/6 75/0 | 58655-Engineering Chemistry-I: ThUA 60/24 ThCA 15/6 75/0 |
 58653-Engineering Mechanics: ThUA 80/32 ThCA 20/8 100/0 | 58654-Basic Electrical Engineering: ThUA 80/32 ThCA 20/8 100/0 | FEL101-Engineering Physics-I (TW): TwCA 25/10 25/0 |
 FEL102-Engineering Chemistry-I (TW): TwCA 25/10 25/0 | FEL103-Engineering Mechanics (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 | FEL104-Basic Electrical Engineering (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 |
 FEL105-Basic Workshop Practice-I: TwCA 50/20 50/0 | FEC101-Engineering Mathematics-I Term Work: TwCA 25/10 25/0 |

SEAT NO.	NAME OF THE CANDIDATE Mother Name PRN.	PAPER 1				PAPER 2				PAPER 3				PAPER 4				PAPER 5				PAPER 6				RESULT CR C*G SGPI GRADE			
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G				
CENTRE-COLLEGE		PAPER 7				PAPER 8				PAPER 9				PAPER 10				PAPER 11											
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G
7094316	DADAS JAGANNATH KONDIBA USHA 2022016402139717 (12) Panvel- (385)	58651 32+	11+	43		FEC101 --	19+	19		58652 29	6+	35		FEL101 --	21+	21		58655 29+	8+	37		FEL102 --	22+	22	18.00	109.00	Successful		
		3.00	P	4.00	12.00	1.00	A	9.00	9.00	2.00	E	5.00	10.00	0.50	O	10.00	5.00	2.00	E	5.00	10.00	0.50	O	10.00	5.00	6.06	--		
		58653 46	8+	54		FEL103 --	21+	38		58654 32+	13+	45		FEL104 --	21+	39		FEL105 --	32+	32									
		3.00	D	6.00	18.00	1.00	A	9.00	9.00	3.00	E	5.00	15.00	1.00	A	9.00	9.00	1.00	C	7.00	7.00								
		Total Credit 18.00				FINAL CGPI 6.06				FINAL GRADE --																			
7094317	DALAL GANDHAR SACHIN SANYUKTA 2023016401229443 (12) Panvel- (385)	58651 46	12+	58		FEC101 --	20+	20		58652 24+	10+	34		FEL101 --	23+	23		58655 24+	10+	34		FEL102 --	22+	22	18.00	123.00	Successful		
		3.00	D	6.00	18.00	1.00	O	10.00	10.00	2.00	E	5.00	10.00	0.50	O	10.00	5.00	2.00	E	5.00	10.00	0.50	O	10.00	5.00	6.83	--		
		58653 38+	13+	51		FEL103 --	19+	39		58654 39+	16+	55		FEL104 --	23+	42		FEL105 --	43+	43									
		3.00	D	6.00	18.00	1.00	A	9.00	9.00	3.00	D	6.00	18.00	1.00	O	10.00	10.00	1.00	O	10.00	10.00								
		Total Credit 18.00				FINAL CGPI 6.83				FINAL GRADE --																			
7094318	EAGADE BHAVESH BHULESHVAR SANGEETA 2022016402140423 (12) Panvel- (385)	58651 2F	11+	13		FEC101 --	17+	17		58652 24+	8+	32		FEL101 --	19+	19		58655 24+	10+	34		FEL102 --	17+	17	18.00	--	Unsuccessful		
		3.00	F	0.00	0.00	1.00	C	7.00	7.00	2.00	P	4.00	8.00	0.50	A	9.00	4.50	2.00	E	5.00	10.00	0.50	C	7.00	3.50	--	--		
		58653 AA	12+	12		FEL103 --	19+	37		58654 AA	13+	13		FEL104 --	21+	39		FEL105 --	34+	34									
		3.00	F	0.00	0.00	1.00	B	8.00	8.00	3.00	F	0.00	0.00	1.00	A	9.00	9.00	1.00	C	7.00	7.00								
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																			

/ - FEMALE, # - 0.229A, @ - 0.5042A/O.5043A/O.5044A, * - 5045A, RR-RESERVED, --:Fails in Theory or Practical, RPV - PROVISIONAL Eligible, RCC - 0.5050, AB - ABSENT, F - UNSUCCESSFUL, P - SUCCESSFUL;
 NULL=NULL & VOID, G:Grade C*G:Gradepoints C:credits CP:credit points aCG:sum of product of credits & grades, Internal Marks are Provisional as per R.8668
 aC:sum of credit points GPA: aCG/aC
 MARKS : 0 to 39.99 40 to 44.99 45 to 49.99 50 to 59.99 60 to 69.99 70 to 74.99 75 to 79.99 80 to 100
 GRADE : F P E D C B A O
 GRADE POINT : 0.00 4.00 5.00 6.00 7.00 8.00 9.00 10.00



University of Mumbai, Mumbai

OFFICE REGISTER OF THE B.E. (with credits) - Regular - CBCS(Electronics and Telecommunication Engineering)- F.E. C-Scheme - Sem I [T01831] HELD IN Summer 2025 Result Declaration Date:11 Jul 2025

58651-Engineering Mathematics-I: ThUA 80/32 ThCA 20/8 100/0 | 58652-Engineering Physics-I: ThUA 60/24 ThCA 15/6 75/0 | 58655-Engineering Chemistry-I: ThUA 60/24 ThCA 15/6 75/0 |
 58653-Engineering Mechanics: ThUA 80/32 ThCA 20/8 100/0 | 58654-Basic Electrical Engineering: ThUA 80/32 ThCA 20/8 100/0 | FEL101-Engineering Physics-I (TW): TwCA 25/10 25/0 |
 FEL102-Engineering Chemistry-I (TW): TwCA 25/10 25/0 | FEL103-Engineering Mechanics (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 | FEL104-Basic Electrical Engineering (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 |
 FEL105-Basic Workshop Practice-I: TwCA 50/20 50/0 | FEC101-Engineering Mathematics-I Term Work: TwCA 25/10 25/0 |

SEAT NO.	NAME OF THE CANDIDATE Mother Name PRN.	PAPER 1				PAPER 2				PAPER 3				PAPER 4				PAPER 5				PAPER 6				RESULT CR C*G SGPI GRADE
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	
CENTRE-COLLEGE		PAPER 7				PAPER 8				PAPER 9				PAPER 10				PAPER 11								
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	
7094319	/ FARGADE SEJAL ANIL SWATI	58651				FEC101				58652				FEL101				58655				FEL102				Unsuccessful
		32+	9+	41		18+	18			24+	9+	33		16+	16			24+	6+	30		18+	18			18.00 --
	2023016401240793	3.00	P	4.00	12.00	1.00	B	8.00	8.00	2.00	P	4.00	8.00	0.50	C	7.00	3.50	2.00	P	4.00	8.00	0.50	B	8.00	4.00	-- --
	(12) Panvel-(385)	58653				FEL103				58654				FEL104				FEL105								
		23F	10+	33		22+	44			32+	14+	46		23+	41			40+	40							
		3.00	F	0.00	0.00	1.00	O	10.00	10.00	3.00	E	5.00	15.00	1.00	O	10.00	10.00	1.00	O	10.00	10.00					
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																
7094320	/ GUDAVALEKAR PRAGATI JAYWANT SUNITA	58651				FEC101				58652				FEL101				58655				FEL102				RR
		32+	9+	41		20+	20			25+	11+	36		20+	20			25+	9+	34		22+	22			18.00 --
	2021016401144145	3.00	P	4.00	12.00	1.00	O	10.00	10.00	2.00	E	5.00	10.00	0.50	O	10.00	5.00	2.00	E	5.00	10.00	0.50	O	10.00	5.00	-- --
	(12) Panvel-(385)	58653				FEL103				58654				FEL104				FEL105								
		RR	9+	RR		22+	37			40+	13+	53		22+	40			27+	27							
		3.00	F	0.00	RR	1.00	B	8.00	8.00	3.00	D	6.00	18.00	1.00	O	10.00	10.00	1.00	D	6.00	6.00					
		Total Credit --				FINAL CGPI --				FINAL GRADE --																
7094321	/ KADAM BHUMI SANTOSH MEGHA	58651				FEC101				58652				FEL101				58655				FEL102				Successful
		32	11+	43		18+	18			29+	7+	36		12+	12			30+	8+	38		19+	19			18.00 106.00
	2023016401211484	3.00	P	4.00	12.00	1.00	B	8.00	8.00	2.00	E	5.00	10.00	0.50	E	5.00	2.50	2.00	D	6.00	12.00	0.50	A	9.00	4.50	5.89 --
	(12) Panvel-(385)	58653				FEL103				58654				FEL104				FEL105								
		32+	8+	40		22+	40			43+	12+	55		22+	43			33+	33							
		3.00	P	4.00	12.00	1.00	O	10.00	10.00	3.00	D	6.00	18.00	1.00	O	10.00	10.00	1.00	C	7.00	7.00					
		Total Credit 18.00				FINAL CGPI 5.89				FINAL GRADE --																

/ - FEMALE, # - 0.229A,@ - 0.5042A/O.5043A/O.5044A,* - 5045A, RR-RESERVED, --:Fails in Theory or Practical, RPV - PROVISIONAL Eligible, RCC - 0.5050, AB - ABSENT, F - UNSUCCESSFUL,P - SUCCESSFUL;
 NULL=NULL & VOID, G:Grade C*G:Gradepoints C:credits CP:credit points aCG:sum of product of credits & grades, Internal Marks are Provisional as per R.8668
 aC:sum of credit points GPA: aCG/aC
 MARKS : 0 to 39.99 40 to 44.99 45 to 49.99 50 to 59.99 60 to 69.99 70 to 74.99 75 to 79.99 80 to 100
 GRADE : F P E D C B A O
 GRADE POINT : 0.00 4.00 5.00 6.00 7.00 8.00 9.00 10.00



University of Mumbai, Mumbai

OFFICE REGISTER OF THE B.E. (with credits) - Regular - CBCS(Electronics and Telecommunication Engineering)- F.E. C-Scheme - Sem I [T01831] HELD IN Summer 2025 Result Declaration Date:11 Jul 2025

58651-Engineering Mathematics-I: ThUA 80/32 ThCA 20/8 100/0 | 58652-Engineering Physics-I: ThUA 60/24 ThCA 15/6 75/0 | 58655-Engineering Chemistry-I: ThUA 60/24 ThCA 15/6 75/0 |
 58653-Engineering Mechanics: ThUA 80/32 ThCA 20/8 100/0 | 58654-Basic Electrical Engineering: ThUA 80/32 ThCA 20/8 100/0 | FEL101-Engineering Physics-I (TW): TwCA 25/10 25/0 |
 FEL102-Engineering Chemistry-I (TW): TwCA 25/10 25/0 | FEL103-Engineering Mechanics (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 | FEL104-Basic Electrical Engineering (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 |
 FEL105-Basic Workshop Practice-I: TwCA 50/20 50/0 | FEC101-Engineering Mathematics-I Term Work: TwCA 25/10 25/0 |

SEAT NO.	NAME OF THE CANDIDATE Mother Name PRN.	PAPER 1				PAPER 2				PAPER 3				PAPER 4				PAPER 5				PAPER 6				RESULT CR C*G SGPI GRADE			
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G				
CENTRE-COLLEGE		PAPER 7				PAPER 8				PAPER 9				PAPER 10				PAPER 11											
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G				
7094322	/ KAMBLE SNEHAL SANTOSH SADHANA 2022016402139853 (12) Panvel-(385)	58651 13F	8+	21		FEC101 17+	17			58652 24+	6+	30		FEL101 20+	20		58655 24+	6+	30		FEL102 20+	20		18.00	--				
		3.00	F	0.00	0.00	1.00	C	7.00	7.00	2.00	P	4.00	8.00	0.50	O	10.00	5.00	2.00	P	4.00	8.00	0.50	O	10.00	5.00	-- --			
		58653 32E	9+	41		FEL103 21+	35			58654 33+	13+	46		FEL104 22+	38		FEL105 32+	32											
		3.00	P	4.00	12.00	1.00	B	8.00	8.00	3.00	E	5.00	15.00	1.00	A	9.00	9.00	1.00	C	7.00	7.00								
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																			
7094323	/ KASAR ESHWARI SHASHIKANT SWATI 2023016401201002 (12) Panvel-(385)	58651 21F	8+	29		FEC101 19+	19			58652 25E	6+	31		FEL101 17+	17		58655 28+	6+	34		FEL102 18+	18		18.00	--				
		3.00	F	0.00	0.00	1.00	A	9.00	9.00	2.00	P	4.00	8.00	0.50	C	7.00	3.50	2.00	E	5.00	10.00	0.50	B	8.00	4.00	-- --			
		58653 34E	13+	47		FEL103 22+	39			58654 36+	12+	48		FEL104 15+	35		FEL105 42+	42											
		3.00	E	5.00	15.00	1.00	A	9.00	9.00	3.00	E	5.00	15.00	1.00	B	8.00	8.00	1.00	O	10.00	10.00								
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																			
7094324	KATYARE MAYUR GANESH CHARUSHILA 2023016401241854 (12) Panvel-(385)	58651 37+	10+	47		FEC101 17+	17			58652 18F	6+	24		FEL101 15+	15		58655 24+	8+	32		FEL102 18+	18		18.00	--				
		3.00	E	5.00	15.00	1.00	C	7.00	7.00	2.00	F	0.00	0.00	0.50	C	7.00	3.50	2.00	P	4.00	8.00	0.50	B	8.00	4.00	-- --			
		58653 3F	9+	12		FEL103 19+	37			58654 37+	13+	50		FEL104 21+	39		FEL105 37+	37											
		3.00	F	0.00	0.00	1.00	B	8.00	8.00	3.00	D	6.00	18.00	1.00	A	9.00	9.00	1.00	B	8.00	8.00								
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																			

/ - FEMALE, # - 0.229A, @ - 0.5042A/O.5043A/O.5044A, * - 5045A, RR-RESERVED, --:Fails in Theory or Practical, RPV - PROVISIONAL Eligible, RCC - 0.5050, AB - ABSENT, F - UNSUCCESSFUL, P - SUCCESSFUL;
 NULL=NULL & VOID, G:Grade C*G:Gradepoints C:credits CP:credit points aCG:sum of product of credits & grades, Internal Marks are Provisional as per R.8668
 aC:sum of credit points GPA: aCG/aC
 MARKS : 0 to 39.99 40 to 44.99 45 to 49.99 50 to 59.99 60 to 69.99 70 to 74.99 75 to 79.99 80 to 100
 GRADE : F P E D C B A O
 GRADE POINT : 0.00 4.00 5.00 6.00 7.00 8.00 9.00 10.00



University of Mumbai, Mumbai

OFFICE REGISTER OF THE B.E. (with credits) - Regular - CBCS(Electronics and Telecommunication Engineering)- F.E. C-Scheme - Sem I [T01831] HELD IN Summer 2025 Result Declaration Date:11 Jul 2025

58651-Engineering Mathematics-I: ThUA 80/32 ThCA 20/8 100/0 | 58652-Engineering Physics-I: ThUA 60/24 ThCA 15/6 75/0 | 58655-Engineering Chemistry-I: ThUA 60/24 ThCA 15/6 75/0 |
 58653-Engineering Mechanics: ThUA 80/32 ThCA 20/8 100/0 | 58654-Basic Electrical Engineering: ThUA 80/32 ThCA 20/8 100/0 | FEL101-Engineering Physics-I (TW): TwCA 25/10 25/0 |
 FEL102-Engineering Chemistry-I (TW): TwCA 25/10 25/0 | FEL103-Engineering Mechanics (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 | FEL104-Basic Electrical Engineering (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 |
 FEL105-Basic Workshop Practice-I: TwCA 50/20 50/0 | FEC101-Engineering Mathematics-I Term Work: TwCA 25/10 25/0 |

SEAT NO.	NAME OF THE CANDIDATE Mother Name PRN.	PAPER 1				PAPER 2				PAPER 3				PAPER 4				PAPER 5				PAPER 6				RESULT CR C*G SGPI GRADE	
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G		
CENTRE-COLLEGE		PAPER 7				PAPER 8				PAPER 9				PAPER 10				PAPER 11									
		Total				Total				Total				Total				Total									
		CR GR GP C*G				CR GR GP C*G				CR GR GP C*G				CR GR GP C*G				CR GR GP C*G									
7094325	KHANDARE ASHWIN MUKINDA LALITA 2023016401241815 (12) Panvel-(385)	58651 32	8+	40	13.00	FEC101 15+	15	7.00	7.00	58652 26+	10+	36	2.00	FEL101 12+	12	10.00	0.50	58655 26	6+	32	2.00	FEL102 18+	18	8.00	4.00	Successful 18.00 96.50 5.36 --	
		58653 32	8+	40	13.00	FEL103 17+	35	8.00	8.00	58654 37+	11+	48	3.00	FEL104 17+	35	15.00	1.00	FEL105 41+	41	10.00	10.00						
		Total Credit 18.00				FINAL CGPI 5.36				FINAL GRADE --																	
7094326	/ KHISMATRAO JANVI DINESH ARTI 2022016402143924 (12) Panvel-(385)	58651 16F	8+	24	3.00	FEC101 17+	17	7.00	7.00	58652 24E	8+	32	2.00	FEL101 23+	23	8.00	0.50	58655 27+	8+	35	2.00	FEL102 21+	21	10.00	5.00	Unsuccessful 18.00 -- -- --	
		58653 32+	13+	45	3.00	FEL103 23+	35	8.00	8.00	58654 50+	13+	63	3.00	FEL104 23+	40	21.00	1.00	FEL105 31+	31	7.00	7.00						
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																	
7094327	KARTIKEY SANTOSH KHOPKAR PRATIBHA 2022016402140005 (12) Panvel-(385)	58651 4F	8+	12	3.00	FEC101 18+	18	8.00	8.00	58652 AA	7+	7	2.00	FEL101 24+	24	5.00	0.50	58655 24+	8+	32	2.00	FEL102 21+	21	10.00	5.00	Unsuccessful 18.00 -- -- --	
		58653 AA	10+	10	3.00	FEL103 17+	29	6.00	6.00	58654 46+	10+	56	3.00	FEL104 22+	41	18.00	1.00	FEL105 23+	23	5.00	5.00						
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																	

/ - FEMALE, # - 0.229A,@ - 0.5042A/O.5043A/O.5044A,* - 5045A, RR-RESERVED, --:Fails in Theory or Practical, RPV - PROVISIONAL Eligible, RCC - 0.5050, AB - ABSENT, F - UNSUCCESSFUL,P - SUCCESSFUL;
 NULL=NULL & VOID, G:Grade C*G:Gradepoints C:credits CP:credit points aCG:sum of product of credits & grades, Internal Marks are Provisional as per R.8668
 aC:sum of credit points GPA: aCG/aC
 MARKS : 0 to 39.99 40 to 44.99 45 to 49.99 50 to 59.99 60 to 69.99 70 to 74.99 75 to 79.99 80 to 100
 GRADE : F P E D C B A O
 GRADE POINT : 0.00 4.00 5.00 6.00 7.00 8.00 9.00 10.00



University of Mumbai, Mumbai

OFFICE REGISTER OF THE B.E. (with credits) - Regular - CBCS(Electronics and Telecommunication Engineering)- F.E. C-Scheme - Sem I [T01831] HELD IN Summer 2025 Result Declaration Date:11 Jul 2025

58651-Engineering Mathematics-I: ThUA 80/32 ThCA 20/8 100/0 | 58652-Engineering Physics-I: ThUA 60/24 ThCA 15/6 75/0 | 58655-Engineering Chemistry-I: ThUA 60/24 ThCA 15/6 75/0 |
 58653-Engineering Mechanics: ThUA 80/32 ThCA 20/8 100/0 | 58654-Basic Electrical Engineering: ThUA 80/32 ThCA 20/8 100/0 | FEL101-Engineering Physics-I (TW): TwCA 25/10 25/0 |
 FEL102-Engineering Chemistry-I (TW): TwCA 25/10 25/0 | FEL103-Engineering Mechanics (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 | FEL104-Basic Electrical Engineering (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 |
 FEL105-Basic Workshop Practice-I: TwCA 50/20 50/0 | FEC101-Engineering Mathematics-I Term Work: TwCA 25/10 25/0 |

SEAT NO.	NAME OF THE CANDIDATE Mother Name PRN.	PAPER 1				PAPER 2				PAPER 3				PAPER 4				PAPER 5				PAPER 6				RESULT CR C*G SGPI GRADE			
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G				
CENTRE-COLLEGE		PAPER 7				PAPER 8				PAPER 9				PAPER 10				PAPER 11											
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G
7094328	KOLHE ANSHUL DEEPAK DIPALI 2023016401240835 (12) Panvel- (385)	58651 37	11+	48		FEC101 --	20+	20		58652 24+	7+	31		FEL101 --	19+	19		58655 31+	11+	42		FEL102 --	20+	20		Successful 18.00 108.50 6.03 --			
		3.00	E	5.00	15.00	1.00	O	10.00	10.00	2.00	P	4.00	8.00	0.50	A	9.00	4.50	2.00	D	6.00	12.00	0.50	O	10.00	5.00				
		58653 33	10+	43		FEL103 --	19+	39		58654 32+	16+	48		FEL104 --	22+	42		FEL105 --	37+	37									
		3.00	P	4.00	12.00	1.00	A	9.00	9.00	3.00	E	5.00	15.00	1.00	O	10.00	10.00	1.00	B	8.00	8.00								
		Total Credit 18.00				FINAL CGPI 6.03				FINAL GRADE --																			
7094329	/ LONDHE SAKSHI RAMESH VARSHA 2023016401230817 (12) Panvel- (385)	58651 16F	8+	24		FEC101 --	20+	20		58652 32+	10+	42		FEL101 --	21+	21		58655 29+	13+	42		FEL102 --	23+	23		Unsuccessful 18.00 -- -- --			
		3.00	F	0.00	0.00	1.00	O	10.00	10.00	2.00	D	6.00	12.00	0.50	O	10.00	5.00	2.00	D	6.00	12.00	0.50	O	10.00	5.00				
		58653 42+	12+	54		FEL103 --	22+	40		58654 32+	17+	49		FEL104 --	23+	39		FEL105 --	33+	33									
		3.00	D	6.00	18.00	1.00	O	10.00	10.00	3.00	E	5.00	15.00	1.00	A	9.00	9.00	1.00	C	7.00	7.00								
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																			
7094330	MANE VISHWAJEET VILAS SWATI 2022016402141507 (12) Panvel- (385)	58651 32+	9+	41		FEC101 --	17+	17		58652 30	9+	39		FEL101 --	21+	21		58655 24+	10+	34		FEL102 --	21+	21		Successful 18.00 104.00 5.78 --			
		3.00	P	4.00	12.00	1.00	C	7.00	7.00	2.00	D	6.00	12.00	0.50	O	10.00	5.00	2.00	E	5.00	10.00	0.50	O	10.00	5.00				
		58653 33+	10+	43		FEL103 --	13+	30		58654 48+	11+	59		FEL104 --	22+	39		FEL105 --	30+	30									
		3.00	P	4.00	12.00	1.00	C	7.00	7.00	3.00	D	6.00	18.00	1.00	A	9.00	9.00	1.00	C	7.00	7.00								
		Total Credit 18.00				FINAL CGPI 5.78				FINAL GRADE --																			

/ - FEMALE, # - 0.229A, @ - 0.5042A/O.5043A/O.5044A, * - 5045A, RR-RESERVED, --:Fails in Theory or Practical, RPV - PROVISIONAL Eligible, RCC - 0.5050, AB - ABSENT, F - UNSUCCESSFUL, P - SUCCESSFUL;
 NULL=NULL & VOID, G:Grade C*G:Gradepoints C:credits CP:credit points @CG:sum of product of credits & grades, Internal Marks are Provisional as per R.8668
 @C:sum of credit points GPA: @CG/@C
 MARKS : 0 to 39.99 40 to 44.99 45 to 49.99 50 to 59.99 60 to 69.99 70 to 74.99 75 to 79.99 80 to 100
 GRADE : F P E D C B A O
 GRADE POINT : 0.00 4.00 5.00 6.00 7.00 8.00 9.00 10.00



University of Mumbai, Mumbai

OFFICE REGISTER OF THE B.E. (with credits) - Regular - CBCS(Electronics and Telecommunication Engineering)- F.E. C-Scheme - Sem I [T01831] HELD IN Summer 2025 Result Declaration Date:11 Jul 2025

58651-Engineering Mathematics-I: ThUA 80/32 ThCA 20/8 100/0 | 58652-Engineering Physics-I: ThUA 60/24 ThCA 15/6 75/0 | 58655-Engineering Chemistry-I: ThUA 60/24 ThCA 15/6 75/0 |
 58653-Engineering Mechanics: ThUA 80/32 ThCA 20/8 100/0 | 58654-Basic Electrical Engineering: ThUA 80/32 ThCA 20/8 100/0 | FEL101-Engineering Physics-I (TW): TwCA 25/10 25/0 |
 FEL102-Engineering Chemistry-I (TW): TwCA 25/10 25/0 | FEL103-Engineering Mechanics (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 | FEL104-Basic Electrical Engineering (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 |
 FEL105-Basic Workshop Practice-I: TwCA 50/20 50/0 | FEC101-Engineering Mathematics-I Term Work: TwCA 25/10 25/0 |

SEAT NO.	NAME OF THE CANDIDATE Mother Name PRN.	PAPER 1				PAPER 2				PAPER 3				PAPER 4				PAPER 5				PAPER 6				RESULT CR C*G SGPI GRADE	
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G		
CENTRE-COLLEGE		PAPER 7				PAPER 8				PAPER 9				PAPER 10				PAPER 11									
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G		
7094331	METHRIKAR VISHNU MALLIKARJUN HANUMANTHI 2022016402224441 (12) Panvel- (385)	58651 32	12+	44		FEC101 18+	18			58652 24	7+	31		FEL101 21+	21		58655 24+	8+	32		FEL102 21+	21		Successful 18.00 96.00			
		3.00	P	4.00	12.00	1.00	B	8.00	8.00	2.00	P	4.00	8.00	0.50	O	10.00	5.00	2.00	P	4.00	8.00	0.50	O	10.00	5.00	5.33 --	
		58653 34+	8+	42		FEL103 17+	33			58654 36+	10+	46		FEL104 21+	38		FEL105 32+	32									
		3.00	P	4.00	12.00	1.00	C	7.00	7.00	3.00	E	5.00	15.00	1.00	A	9.00	9.00	1.00	C	7.00	7.00						
		Total Credit 18.00				FINAL CGPI 5.33				FINAL GRADE --																	
7094332	MOHITE DEVDATTA SUDHAKAR SUHASINI 2022016402139957 (12) Panvel- (385)	58651 32+	10+	42		FEC101 16+	16			58652 24+	8+	32		FEL101 19+	19		58655 24+	6+	30		FEL102 22+	22		Unsuccessful 18.00 --			
		3.00	P	4.00	12.00	1.00	C	7.00	7.00	2.00	P	4.00	8.00	0.50	A	9.00	4.50	2.00	P	4.00	8.00	0.50	O	10.00	5.00	-- --	
		58653 7F	9+	16		FEL103 16+	28			58654 33+	8+	41		FEL104 22+	40		FEL105 46+	46									
		3.00	F	0.00	0.00	1.00	D	6.00	6.00	3.00	P	4.00	12.00	1.00	O	10.00	10.00	1.00	O	10.00	10.00						
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																	
7094333	NANDOSKAR MANOHAR AJIT APARNA 2022016402141716 (12) Panvel- (385)	58651 8F	8+	16		FEC101 19+	19			58652 17F	7+	24		FEL101 20+	20		58655 24+	9+	33		FEL102 22+	22		Unsuccessful 18.00 --			
		3.00	F	0.00	0.00	1.00	A	9.00	9.00	2.00	F	0.00	0.00	0.50	O	10.00	5.00	2.00	P	4.00	8.00	0.50	O	10.00	5.00	-- --	
		58653 25F	10+	35		FEL103 20+	40			58654 40+	8+	48		FEL104 23+	41		FEL105 32+	32									
		3.00	F	0.00	0.00	1.00	O	10.00	10.00	3.00	E	5.00	15.00	1.00	O	10.00	10.00	1.00	C	7.00	7.00						
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																	

/ - FEMALE, # - 0.229A, @ - 0.5042A/O.5043A/O.5044A, * - 5045A, RR-RESERVED, --:Fails in Theory or Practical, RPV - PROVISIONAL Eligible, RCC - 0.5050, AB - ABSENT, F - UNSUCCESSFUL, P - SUCCESSFUL;
 NULL=NULL & VOID, G:Grade C*G:Gradepoints C:credits CP:credit points aCG:sum of product of credits & grades, Internal Marks are Provisional as per R.8668
 aC:sum of credit points GPA: aCG/aC
 MARKS : 0 to 39.99 40 to 44.99 45 to 49.99 50 to 59.99 60 to 69.99 70 to 74.99 75 to 79.99 80 to 100
 GRADE : F P E D C B A O
 GRADE POINT : 0.00 4.00 5.00 6.00 7.00 8.00 9.00 10.00



University of Mumbai, Mumbai

OFFICE REGISTER OF THE B.E. (with credits) - Regular - CBCS(Electronics and Telecommunication Engineering)- F.E. C-Scheme - Sem I [1T01831] HELD IN Summer 2025 Result Declaration Date:11 Jul 2025

58651-Engineering Mathematics-I: ThUA 80/32 ThCA 20/8 100/0 | 58652-Engineering Physics-I: ThUA 60/24 ThCA 15/6 75/0 | 58655-Engineering Chemistry-I: ThUA 60/24 ThCA 15/6 75/0 |
 58653-Engineering Mechanics: ThUA 80/32 ThCA 20/8 100/0 | 58654-Basic Electrical Engineering: ThUA 80/32 ThCA 20/8 100/0 | FEL101-Engineering Physics-I (TW): TwCA 25/10 25/0 |
 FEL102-Engineering Chemistry-I (TW): TwCA 25/10 25/0 | FEL103-Engineering Mechanics (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 | FEL104-Basic Electrical Engineering (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 |
 FEL105-Basic Workshop Practice-I: TwCA 50/20 50/0 | FEC101-Engineering Mathematics-I Term Work: TwCA 25/10 25/0 |

SEAT NO.	NAME OF THE CANDIDATE Mother Name PRN.	PAPER 1				PAPER 2				PAPER 3				PAPER 4				PAPER 5				PAPER 6				RESULT CR C*G SGPI GRADE			
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G				
CENTRE-COLLEGE		PAPER 7				PAPER 8				PAPER 9				PAPER 10				PAPER 11											
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G				
7094334	/ PATANKAR SHRAVANI KRISHNAKUMAR - KAVITA 2022016402143514 (12) Panvel- (385)	58651 3F	11+	14		FEC101 ---	21+	21		58652 24E	9+	33		FEL101 ---	22+	22		58655 27+	11+	38		FEL102 ---	22+	22	Unsuccessful 18.00 --				
		3.00	F	0.00	0.00	1.00	O	10.00	10.00	2.00	P	4.00	8.00	0.50	O	10.00	5.00	2.00	D	6.00	12.00	0.50	O	10.00	5.00	-- --			
		58653 3F	10+	13		FEL103 ---	24+	40		58654 37+	12+	49		FEL104 ---	23+	41		FEL105 ---	40+	40									
		3.00	F	0.00	0.00	1.00	O	10.00	10.00	3.00	E	5.00	15.00	1.00	O	10.00	10.00	1.00	O	10.00	10.00								
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																			
7094335	PATIL VRUSHBH BHIMRAO VAISHALI 2022016402143642 (12) Panvel- (385)	58651 25F	8+	33		FEC101 ---	16+	16		58652 17F	6+	23		FEL101 ---	18+	18		58655 24E	7+	31		FEL102 ---	19+	19	Unsuccessful 18.00 --				
		3.00	F	0.00	0.00	1.00	C	7.00	7.00	2.00	F	0.00	0.00	0.50	B	8.00	4.00	2.00	P	4.00	8.00	0.50	A	9.00	4.50	-- --			
		58653 13F	8+	21		FEL103 ---	18+	34		58654 34+	11+	45		FEL104 ---	21+	38		FEL105 ---	26+	26									
		3.00	F	0.00	0.00	1.00	C	7.00	7.00	3.00	E	5.00	15.00	1.00	A	9.00	9.00	1.00	D	6.00	6.00								
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																			
7094336	/ PITHE PRACHI GANESH GAYATRI 2023016401211913 (12) Panvel- (385)	58651 32+	9+	41		FEC101 ---	19+	19		58652 27	7+	34		FEL101 ---	17+	17		58655 24	8+	32		FEL102 ---	18+	18	Successful 18.00 106.50				
		3.00	P	4.00	12.00	1.00	A	9.00	9.00	2.00	E	5.00	10.00	0.50	C	7.00	3.50	2.00	P	4.00	8.00	0.50	B	8.00	4.00	5.92 --			
		58653 32+	10+	42		FEL103 ---	23+	44		58654 42+	16+	58		FEL104 ---	24+	44		FEL105 ---	43+	43									
		3.00	P	4.00	12.00	1.00	O	10.00	10.00	3.00	D	6.00	18.00	1.00	O	10.00	10.00	1.00	O	10.00	10.00								
		Total Credit 18.00				FINAL CGPI 5.92				FINAL GRADE --																			

/ - FEMALE, # - 0.229A ,@ - 0.5042A/O.5043A/O.5044A, * - 5045A, RR-RESERVED, --:Fails in Theory or Practical, RPV - PROVISIONAL Eligible, RCC - 0.5050, AB - ABSENT, F - UNSUCCESSFUL, P - SUCCESSFUL;
 NULL=NULL & VOID, G:Grade C*G:Gradepoints C:credits CP:credit points aCG:sum of product of credits & grades, Internal Marks are Provisional as per R.8668
 aC:sum of credit points GPA: aCG/aC
 MARKS : 0 to 39.99 40 to 44.99 45 to 49.99 50 to 59.99 60 to 69.99 70 to 74.99 75 to 79.99 80 to 100
 GRADE : F P E D C B A O
 GRADE POINT : 0.00 4.00 5.00 6.00 7.00 8.00 9.00 10.00



University of Mumbai, Mumbai

OFFICE REGISTER OF THE B.E. (with credits) - Regular - CBCS (Electronics and Telecommunication Engineering)- F.E. C-Scheme - Sem I [1T01831] HELD IN Summer 2025 Result Declaration Date: 11 Jul 2025

58651-Engineering Mathematics-I: ThUA 80/32 ThCA 20/8 100/0 | 58652-Engineering Physics-I: ThUA 60/24 ThCA 15/6 75/0 | 58655-Engineering Chemistry-I: ThUA 60/24 ThCA 15/6 75/0 |
 58653-Engineering Mechanics: ThUA 80/32 ThCA 20/8 100/0 | 58654-Basic Electrical Engineering: ThUA 80/32 ThCA 20/8 100/0 | FEL101-Engineering Physics-I (TW): TwCA 25/10 25/0 |
 FEL102-Engineering Chemistry-I (TW): TwCA 25/10 25/0 | FEL103-Engineering Mechanics (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 | FEL104-Basic Electrical Engineering (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 |
 FEL105-Basic Workshop Practice-I: TwCA 50/20 50/0 | FEC101-Engineering Mathematics-I Term Work: TwCA 25/10 25/0 |

SEAT NO.	NAME OF THE CANDIDATE Mother Name PRN.	PAPER 1				PAPER 2				PAPER 3				PAPER 4				PAPER 5				PAPER 6				RESULT CR C*G SGPI GRADE
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	
CENTRE-COLLEGE		PAPER 7				PAPER 8				PAPER 9				PAPER 10				PAPER 11								
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	
7094337	/ PRABHU JUHI SHASHANK RAJNI	58651				FEC101				58652				FEL101				58655				FEL102				Successful
	2023016401241332	32+	9+	41		17+	17			28+	8+	36		18+	18			27+	10+	37		20+	20			18.00 108.00
	(12) Panvel - (385)	3.00	P	4.00	12.00	1.00	C	7.00	7.00	2.00	E	5.00	10.00	0.50	B	8.00	4.00	2.00	E	5.00	10.00	0.50	O	10.00	5.00	6.00 --
		PAPER 7				PAPER 8				PAPER 9				PAPER 10				PAPER 11								
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	
		58653				FEL103				58654				FEL104				FEL105								
		40	9+	49		22+	42			38+	13+	51		19+	37			39+	39							
		3.00	E	5.00	15.00	1.00	O	10.00	10.00	3.00	D	6.00	18.00	1.00	B	8.00	8.00	1.00	A	9.00	9.00					
		Total Credit 18.00				FINAL CGPI 6.00				FINAL GRADE --																
7094338	SALASKAR SIDDHESH BIPIN PURNIMA	58651				FEC101				58652				FEL101				58655				FEL102				Unsuccessful
	2022016402143472	41E	10+	51		21+	21			26E	10+	36		22+	22			24+	8+	32		22+	22			18.00 --
	(12) Panvel - (385)	3.00	D	6.00	18.00	1.00	O	10.00	10.00	2.00	E	5.00	10.00	0.50	O	10.00	5.00	2.00	P	4.00	8.00	0.50	O	10.00	5.00	-- --
		PAPER 7				PAPER 8				PAPER 9				PAPER 10				PAPER 11								
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	
		58653				FEL103				58654				FEL104				FEL105								
		24F	13+	37		21+	41			AA	12+	12		21+	43			38+	38							
		3.00	F	0.00	0.00	1.00	O	10.00	10.00	3.00	F	0.00	0.00	1.00	O	10.00	10.00	1.00	A	9.00	9.00					
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																
7094339	/ SHAIKH AARIFA MOHAMED NASIR ANES FATIMA	58651				FEC101				58652				FEL101				58655				FEL102				Successful
	2022016402143696	32+	10+	42		17+	17			25+	8+	33		18+	18			25+	9+	34		18+	18			18.00 97.00
	(12) Panvel - (385)	3.00	P	4.00	12.00	1.00	C	7.00	7.00	2.00	P	4.00	8.00	0.50	B	8.00	4.00	2.00	E	5.00	10.00	0.50	B	8.00	4.00	5.39 --
		PAPER 7				PAPER 8				PAPER 9				PAPER 10				PAPER 11								
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	
		58653				FEL103				58654				FEL104				FEL105								
		39	9+	48		20+	35			37+	8+	45		22+	42			20+	20							
		3.00	E	5.00	15.00	1.00	B	8.00	8.00	3.00	E	5.00	15.00	1.00	O	10.00	10.00	1.00	P	4.00	4.00					
		Total Credit 18.00				FINAL CGPI 5.39				FINAL GRADE --																

/ - FEMALE, # - 0.229A, @ - 0.5042A/O.5043A/O.5044A, * - 5045A, RR-RESERVED, --:Fails in Theory or Practical, RPV - PROVISIONAL Eligible, RCC - 0.5050, AB - ABSENT, F - UNSUCCESSFUL, P - SUCCESSFUL;
 NULL=NULL & VOID, G:Grade C*G:Gradepoints C:credits CP:credit points aCG:sum of product of credits & grades, Internal Marks are Provisional as per R.8668
 aC:sum of credit points GPA: aCG/aC
 MARKS : 0 to 39.99 40 to 44.99 45 to 49.99 50 to 59.99 60 to 69.99 70 to 74.99 75 to 79.99 80 to 100
 GRADE : F P E D C B A O
 GRADE POINT : 0.00 4.00 5.00 6.00 7.00 8.00 9.00 10.00



University of Mumbai, Mumbai

OFFICE REGISTER OF THE B.E. (with credits) - Regular - CBCS (Electronics and Telecommunication Engineering)- F.E. C-Scheme - Sem I [1T01831] HELD IN Summer 2025 Result Declaration Date: 11 Jul 2025

58651-Engineering Mathematics-I: ThUA 80/32 ThCA 20/8 100/0 | 58652-Engineering Physics-I: ThUA 60/24 ThCA 15/6 75/0 | 58655-Engineering Chemistry-I: ThUA 60/24 ThCA 15/6 75/0 |
 58653-Engineering Mechanics: ThUA 80/32 ThCA 20/8 100/0 | 58654-Basic Electrical Engineering: ThUA 80/32 ThCA 20/8 100/0 | FEL101-Engineering Physics-I (TW): TwCA 25/10 25/0 |
 FEL102-Engineering Chemistry-I (TW): TwCA 25/10 25/0 | FEL103-Engineering Mechanics (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 | FEL104-Basic Electrical Engineering (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 |
 FEL105-Basic Workshop Practice-I: TwCA 50/20 50/0 | FEC101-Engineering Mathematics-I Term Work: TwCA 25/10 25/0 |

SEAT NO.	NAME OF THE CANDIDATE Mother Name PRN.	PAPER 1				PAPER 2				PAPER 3				PAPER 4				PAPER 5				PAPER 6				RESULT CR C*G SGPI GRADE			
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G				
CENTRE-COLLEGE		PAPER 7				PAPER 8				PAPER 9				PAPER 10				PAPER 11											
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G
7094340	SHELATKAR DURGESH SHIVAJI SUSHMA SHELATKAR 2022016402170236 (12) Panvel- (385)	58651 32+	16+	48	100.00	FEC101 --	21+	21	100.00	58652 32	9+	41	100.00	FEL101 --	20+	20	100.00	58655 24+	8+	32	100.00	FEL102 --	22+	22	100.00	Successful 18.00 106.00			
		3.00	E	5.00	15.00	1.00	O	10.00	10.00	2.00	D	6.00	12.00	0.50	O	10.00	5.00	2.00	P	4.00	8.00	0.50	O	10.00	5.00	5.89 --			
		58653 39	8+	47	100.00	FEL103 --	18+	30	100.00	58654 32+	12+	44	100.00	FEL104 --	21+	39	100.00	FEL105 --	36+	36	100.00								
		3.00	E	5.00	15.00	1.00	C	7.00	7.00	3.00	P	4.00	12.00	1.00	A	9.00	9.00	1.00	B	8.00	8.00								
		Total Credit 18.00				FINAL CGPI 5.89				FINAL GRADE --																			
7094341	DEEPESH SHINDE PRABHA 2022016402170484 (12) Panvel- (385)	58651 AA	11+	11	100.00	FEC101 --	21+	21	100.00	58652 24+	8+	32	100.00	FEL101 --	23+	23	100.00	58655 37+	8+	45	100.00	FEL102 --	22+	22	100.00	ABS 18.00 --			
		3.00	F	0.00	0.00	1.00	O	10.00	10.00	2.00	P	4.00	8.00	0.50	O	10.00	5.00	2.00	C	7.00	14.00	0.50	O	10.00	5.00	-- --			
		58653 AA	16+	16	100.00	FEL103 --	20+	41	100.00	58654 32+	12+	44	100.00	FEL104 --	21+	39	100.00	FEL105 --	44+	44	100.00								
		3.00	F	0.00	0.00	1.00	O	10.00	10.00	3.00	P	4.00	12.00	1.00	A	9.00	9.00	1.00	O	10.00	10.00								
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																			
7094342	WAGHULE MANASI ASHOK USHA 2023016401210891 (12) Panvel- (385)	58651 36+	11+	47	100.00	FEC101 --	19+	19	100.00	58652 26+	10+	36	100.00	FEL101 --	16+	16	100.00	58655 24+	12+	36	100.00	FEL102 --	19+	19	100.00	Successful 18.00 118.00			
		3.00	E	5.00	15.00	1.00	A	9.00	9.00	2.00	E	5.00	10.00	0.50	C	7.00	3.50	2.00	E	5.00	10.00	0.50	A	9.00	4.50	6.56 --			
		58653 46	13+	59	100.00	FEL103 --	22+	42	100.00	58654 32+	20+	52	100.00	FEL104 --	23+	42	100.00	FEL105 --	40+	40	100.00								
		3.00	D	6.00	18.00	1.00	O	10.00	10.00	3.00	D	6.00	18.00	1.00	O	10.00	10.00	1.00	O	10.00	10.00								
		Total Credit 18.00				FINAL CGPI 6.56				FINAL GRADE --																			

/ - FEMALE, # - 0.229A, @ - 0.5042A/O.5043A/O.5044A, * - 5045A, RR-RESERVED, --:Fails in Theory or Practical, RPV - PROVISIONAL Eligible, RCC - 0.5050, AB - ABSENT, F - UNSUCCESSFUL, P - SUCCESSFUL;
 NULL=NULL & VOID, G:Grade C*G:Gradepoints C:credits CP:credit points aCG:sum of product of credits & grades, Internal Marks are Provisional as per R.8668
 aC:sum of credit points GPA: aCG/aC
 MARKS : 0 to 39.99 40 to 44.99 45 to 49.99 50 to 59.99 60 to 69.99 70 to 74.99 75 to 79.99 80 to 100
 GRADE : F P E D C B A O
 GRADE POINT : 0.00 4.00 5.00 6.00 7.00 8.00 9.00 10.00



University of Mumbai, Mumbai

OFFICE REGISTER OF THE B.E. (with credits) - Regular - CBCS (Electronics and Telecommunication Engineering)- F.E. C-Scheme - Sem I [1T01831] HELD IN Summer 2025 Result Declaration Date: 11 Jul 2025

58651-Engineering Mathematics-I: ThUA 80/32 ThCA 20/8 100/0 | 58652-Engineering Physics-I: ThUA 60/24 ThCA 15/6 75/0 | 58655-Engineering Chemistry-I: ThUA 60/24 ThCA 15/6 75/0 |
 58653-Engineering Mechanics: ThUA 80/32 ThCA 20/8 100/0 | 58654-Basic Electrical Engineering: ThUA 80/32 ThCA 20/8 100/0 | FEL101-Engineering Physics-I (TW): TwCA 25/10 25/0 |
 FEL102-Engineering Chemistry-I (TW): TwCA 25/10 25/0 | FEL103-Engineering Mechanics (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 | FEL104-Basic Electrical Engineering (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 |
 FEL105-Basic Workshop Practice-I: TwCA 50/20 50/0 | FEC101-Engineering Mathematics-I Term Work: TwCA 25/10 25/0 |

SEAT NO.	NAME OF THE CANDIDATE Mother Name PRN.	PAPER 1				PAPER 2				PAPER 3				PAPER 4				PAPER 5				PAPER 6				RESULT CR C*G SGPI GRADE
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	
CENTRE-COLLEGE		PAPER 7				PAPER 8				PAPER 9				PAPER 10				PAPER 11								
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	
7094343	WARADE TUSHAR RAJESH SANDHYA 2023016401231786 (12) Panvel - (385)	58651 35E	8+	43		FEC101 13+	13		58652 24+	6+	30		FEL101 10+	10		58655 31+	9+	40		FEL102 18+	18				18.00 --	
		3.00	P	4.00	12.00	1.00	D	6.00	6.00	2.00	P	4.00	8.00	0.50	P	4.00	2.00	2.00	D	6.00	12.00	0.50	B	8.00	4.00	-- --
		58653 25F	11+	36		FEL103 15+	30		58654 51+	8+	59		FEL104 14+	34		FEL105 35+	35									
		3.00	F	0.00	0.00	1.00	C	7.00	7.00	3.00	D	6.00	18.00	1.00	C	7.00	7.00	7.00	1.00	B	8.00	8.00				
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																
7094344	BANDRE SHREYASH RAJENDRA SANIKA 2023016401033937 (13) Ratnagiri - (525)	58651 32+	13+	45		FEC101 18+	18		58652 26+	11+	37		FEL101 16+	16		58655 24+	7+	31		FEL102 17+	17				18.00 98.00	
		3.00	E	5.00	15.00	1.00	B	8.00	8.00	2.00	E	5.00	10.00	0.50	C	7.00	3.50	2.00	P	4.00	8.00	0.50	C	7.00	3.50	5.44 --
		58653 37	8+	45		FEL103 20+	34		58654 34	8+	42		FEL104 14+	29		FEL105 45+	45									
		3.00	E	5.00	15.00	1.00	C	7.00	7.00	3.00	P	4.00	12.00	1.00	D	6.00	6.00	1.00	O	10.00	10.00					
		Total Credit 18.00				FINAL CGPI 5.44				FINAL GRADE --																
7094345	CHAVAN DATTARAJ RAJESH RUTUJA 2022016402122986 (13) Ratnagiri - (525)	58651 35+	9+	44		FEC101 20+	20		58652 24+	6+	30		FEL101 22+	22		58655 28+	10+	38		FEL102 22+	22				18.00 100.00	
		3.00	P	4.00	12.00	1.00	O	10.00	10.00	2.00	P	4.00	8.00	0.50	O	10.00	5.00	2.00	D	6.00	12.00	0.50	O	10.00	5.00	5.56 --
		58653 36	8+	44		FEL103 22+	33		58654 32+	10+	42		FEL104 16+	30		FEL105 44+	44									
		3.00	P	4.00	12.00	1.00	C	7.00	7.00	3.00	P	4.00	12.00	1.00	C	7.00	7.00	1.00	O	10.00	10.00					
		Total Credit 18.00				FINAL CGPI 5.56				FINAL GRADE --																

/ - FEMALE, # - 0.229A, @ - 0.5042A/O.5043A/O.5044A, * - 5045A, RR-RESERVED, --:Fails in Theory or Practical, RPV - PROVISIONAL Eligible, RCC - 0.5050, AB - ABSENT, F - UNSUCCESSFUL, P - SUCCESSFUL;
 NULL=NULL & VOID, G:Grade C*G:Gradepoints C:credits CP:credit points aCG:sum of product of credits & grades, Internal Marks are Provisional as per R.8668
 aC:sum of credit points GPA: aCG/aC
 MARKS : 0 to 39.99 40 to 44.99 45 to 49.99 50 to 59.99 60 to 69.99 70 to 74.99 75 to 79.99 80 to 100
 GRADE : F P E D C B A O
 GRADE POINT : 0.00 4.00 5.00 6.00 7.00 8.00 9.00 10.00



University of Mumbai, Mumbai

OFFICE REGISTER OF THE B.E. (with credits) - Regular - CBCS (Electronics and Telecommunication Engineering)- F.E. C-Scheme - Sem I [1T01831] HELD IN Summer 2025 Result Declaration Date: 11 Jul 2025

58651-Engineering Mathematics-I: ThUA 80/32 ThCA 20/8 100/0 | 58652-Engineering Physics-I: ThUA 60/24 ThCA 15/6 75/0 | 58655-Engineering Chemistry-I: ThUA 60/24 ThCA 15/6 75/0 |
 58653-Engineering Mechanics: ThUA 80/32 ThCA 20/8 100/0 | 58654-Basic Electrical Engineering: ThUA 80/32 ThCA 20/8 100/0 | FEL101-Engineering Physics-I (TW): TwCA 25/10 25/0 |
 FEL102-Engineering Chemistry-I (TW): TwCA 25/10 25/0 | FEL103-Engineering Mechanics (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 | FEL104-Basic Electrical Engineering (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 |
 FEL105-Basic Workshop Practice-I: TwCA 50/20 50/0 | FEC101-Engineering Mathematics-I Term Work: TwCA 25/10 25/0 |

SEAT NO.	NAME OF THE CANDIDATE Mother Name PRN.	PAPER 1				PAPER 2				PAPER 3				PAPER 4				PAPER 5				PAPER 6				RESULT CR C*G SGPI GRADE			
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G				
CENTRE-COLLEGE		PAPER 7				PAPER 8				PAPER 9				PAPER 10				PAPER 11											
		Total				Total				Total				Total				Total											
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G
7094346	/ DONGARE SANIKA SURENDRA SARIKA 2022016402137405 (13)Ratnagiri-(525)	58651 32+	14+	46	100	FEC101 --	22+	22	100	58652 27+	14+	41	100	FEL101 --	25+	25	100	58655 24+	11+	35	100	FEL102 --	23+	23	100	112.00	18.00	6.22	--
		3.00	E	5.00	15.00	1.00	O	10.00	10.00	2.00	D	6.00	12.00	0.50	O	10.00	5.00	2.00	E	5.00	10.00	0.50	O	10.00	5.00	6.22	--	--	
		58653 41	9+	50	100	FEL103 --	23+	37	100	58654 32+	9+	41	100	FEL104 --	21+	33	100	FEL105 --	45+	45	100								
		3.00	D	6.00	18.00	1.00	B	8.00	8.00	3.00	P	4.00	12.00	1.00	C	7.00	7.00	1.00	O	10.00	10.00								
		Total Credit 18.00				FINAL CGPI 6.22				FINAL GRADE --																			
7094347	/ DUDHAL HARSHADA PANDURANG NIRMALA 2023016401042317 (13)Ratnagiri-(525)	58651 32+	12+	44	100	FEC101 --	22+	22	100	58652 24+	6+	30	100	FEL101 --	18+	18	100	58655 33+	7+	40	100	FEL102 --	23+	23	100	111.00	18.00	6.17	--
		3.00	P	4.00	12.00	1.00	O	10.00	10.00	2.00	P	4.00	8.00	0.50	B	8.00	4.00	2.00	D	6.00	12.00	0.50	O	10.00	5.00	6.17	--	--	
		58653 36	9+	45	100	FEL103 --	23+	44	100	58654 44	9+	53	100	FEL104 --	22+	36	100	FEL105 --	39+	39	100								
		3.00	E	5.00	15.00	1.00	O	10.00	10.00	3.00	D	6.00	18.00	1.00	B	8.00	8.00	1.00	A	9.00	9.00								
		Total Credit 18.00				FINAL CGPI 6.17				FINAL GRADE --																			
7094348	/ GOLAM SANIKA HEMANT SUPRIYA 2023016401027987 (13)Ratnagiri-(525)	58651 32+	8+	40	100	FEC101 --	17+	17	100	58652 24+	6+	30	100	FEL101 --	15+	15	100	58655 37+	7+	44	100	FEL102 --	18+	18	100	104.50	18.00	5.81	--
		3.00	P	4.00	12.00	1.00	C	7.00	7.00	2.00	P	4.00	8.00	0.50	C	7.00	3.50	2.00	D	6.00	12.00	0.50	B	8.00	4.00	5.81	--	--	
		58653 33+	12	45	100	FEL103 --	22+	40	100	58654 37+	12+	49	100	FEL104 --	18+	35	100	FEL105 --	40+	40	100								
		3.00	E	5.00	15.00	1.00	O	10.00	10.00	3.00	E	5.00	15.00	1.00	B	8.00	8.00	1.00	O	10.00	10.00								
		Total Credit 18.00				FINAL CGPI 5.81				FINAL GRADE --																			

/ - FEMALE, # - 0.229A, @ - 0.5042A/O.5043A/O.5044A, * - 5045A, RR-RESERVED, --:Fails in Theory or Practical, RPV - PROVISIONAL Eligible, RCC - 0.5050, AB - ABSENT, F - UNSUCCESSFUL, P - SUCCESSFUL;
 NULL=NULL & VOID, G:Grade C*G:Gradepoints C:credits CP:credit points aCG:sum of product of credits & grades, Internal Marks are Provisional as per R.8668
 aC:sum of credit points GPA: aCG/aC
 MARKS : 0 to 39.99 40 to 44.99 45 to 49.99 50 to 59.99 60 to 69.99 70 to 74.99 75 to 79.99 80 to 100
 GRADE : F P E D C B A O
 GRADE POINT : 0.00 4.00 5.00 6.00 7.00 8.00 9.00 10.00



University of Mumbai, Mumbai

OFFICE REGISTER OF THE B.E. (with credits) - Regular - CBCS (Electronics and Telecommunication Engineering)- F.E. C-Scheme - Sem I [T01831] HELD IN Summer 2025 Result Declaration Date: 11 Jul 2025

58651-Engineering Mathematics-I: ThUA 80/32 ThCA 20/8 100/0 | 58652-Engineering Physics-I: ThUA 60/24 ThCA 15/6 75/0 | 58655-Engineering Chemistry-I: ThUA 60/24 ThCA 15/6 75/0 |
 58653-Engineering Mechanics: ThUA 80/32 ThCA 20/8 100/0 | 58654-Basic Electrical Engineering: ThUA 80/32 ThCA 20/8 100/0 | FEL101-Engineering Physics-I (TW): TwCA 25/10 25/0 |
 FEL102-Engineering Chemistry-I (TW): TwCA 25/10 25/0 | FEL103-Engineering Mechanics (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 | FEL104-Basic Electrical Engineering (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 |
 FEL105-Basic Workshop Practice-I: TwCA 50/20 50/0 | FEC101-Engineering Mathematics-I Term Work: TwCA 25/10 25/0 |

SEAT NO.	NAME OF THE CANDIDATE Mother Name PRN.	PAPER 1				PAPER 2				PAPER 3				PAPER 4				PAPER 5				PAPER 6				RESULT CR C*G SGPI GRADE
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	
CENTRE-COLLEGE		PAPER 7				PAPER 8				PAPER 9				PAPER 10				PAPER 11								
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	
7094349	JADHAV YASH MAHADEV MANASI 2023016401032296 (13)Ratnagiri-(525)	58651 37+	9+	46		FEC101 17+	17			58652 30+	6+	36		FEL101 14+	14		58655 24+	8	32		FEL102 17+	17			Successful 18.00 93.50 5.19 --	
		3.00	E	5.00	15.00	1.00	C	7.00	7.00	2.00	E	5.00	10.00	0.50	D	6.00	3.00	2.00	P	4.00	8.00	0.50	C	7.00	3.50	
		58653 32	8+	40		FEL103 14+				58654 32	11+	43		FEL104 20+	32		FEL105 39+	39								
		3.00	P	4.00	12.00	1.00	C	7.00	7.00	3.00	P	4.00	12.00	1.00	C	7.00	7.00	1.00	A	9.00	9.00					
		Total Credit 18.00				FINAL CGPI 5.19				FINAL GRADE --																
7094350	KADAM AVISHKAR RAJENDRA ROSHANI 2023016401036313 (13)Ratnagiri-(525)	58651 19F	10+	29		FEC101 18+	18			58652 AA	7+	7		FEL101 19+	19		58655 8F	7+	15		FEL102 16+	16			Unsuccessful 18.00 -- -- --	
		3.00	F	0.00	0.00	1.00	B	8.00	8.00	2.00	F	0.00	0.00	0.50	A	9.00	4.50	2.00	F	0.00	0.00	0.50	C	7.00	3.50	
		58653 42E	17+	59		FEL103 15+	31			58654 34+	10+	44		FEL104 14+	24		FEL105 43+	43								
		3.00	D	6.00	18.00	1.00	C	7.00	7.00	3.00	P	4.00	12.00	1.00	E	5.00	5.00	1.00	O	10.00	10.00					
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																
7094351	/ KADAM SAKSHI SANJAY SWAPNALI 2022016402132981 (13)Ratnagiri-(525)	58651 32	17+	49		FEC101 21+	21			58652 24+	8+	32		FEL101 19+	19		58655 31+	8+	39		FEL102 22+	22			Successful 18.00 108.50 6.03 --	
		3.00	E	5.00	15.00	1.00	O	10.00	10.00	2.00	P	4.00	8.00	0.50	A	9.00	4.50	2.00	D	6.00	12.00	0.50	O	10.00	5.00	
		58653 32+	9+	41		FEL103 19+				58654 32+	11+	43		FEL104 21+	41		FEL105 44+	44								
		3.00	P	4.00	12.00	1.00	O	10.00	10.00	3.00	P	4.00	12.00	1.00	O	10.00	10.00	1.00	O	10.00	10.00					
		Total Credit 18.00				FINAL CGPI 6.03				FINAL GRADE --																

/ - FEMALE, # - 0.229A, @ - 0.5042A/O.5043A/O.5044A, * - 5045A, RR-RESERVED, --:Fails in Theory or Practical, RPV - PROVISIONAL Eligible, RCC - 0.5050, AB - ABSENT, F - UNSUCCESSFUL, P - SUCCESSFUL;
 NULL=NULL & VOID, G:Grade C*G:Gradepoints C:credits CP:credit points aCG:sum of product of credits & grades, Internal Marks are Provisional as per R.8668
 aC:sum of credit points GPA: aCG/aC
 MARKS : 0 to 39.99 40 to 44.99 45 to 49.99 50 to 59.99 60 to 69.99 70 to 74.99 75 to 79.99 80 to 100
 GRADE : F P E D C B A O
 GRADE POINT : 0.00 4.00 5.00 6.00 7.00 8.00 9.00 10.00



University of Mumbai, Mumbai

OFFICE REGISTER OF THE B.E. (with credits) - Regular - CBCS(Electronics and Telecommunication Engineering)- F.E. C-Scheme - Sem I [1T01831] HELD IN Summer 2025 Result Declaration Date:11 Jul 2025

58651-Engineering Mathematics-I: ThUA 80/32 ThCA 20/8 100/0 | 58652-Engineering Physics-I: ThUA 60/24 ThCA 15/6 75/0 | 58655-Engineering Chemistry-I: ThUA 60/24 ThCA 15/6 75/0 |
 58653-Engineering Mechanics: ThUA 80/32 ThCA 20/8 100/0 | 58654-Basic Electrical Engineering: ThUA 80/32 ThCA 20/8 100/0 | FEL101-Engineering Physics-I (TW): TwCA 25/10 25/0 |
 FEL102-Engineering Chemistry-I (TW): TwCA 25/10 25/0 | FEL103-Engineering Mechanics (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 | FEL104-Basic Electrical Engineering (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 |
 FEL105-Basic Workshop Practice-I: TwCA 50/20 50/0 | FEC101-Engineering Mathematics-I Term Work: TwCA 25/10 25/0 |

SEAT NO.	NAME OF THE CANDIDATE Mother Name PRN.	PAPER 1				PAPER 2				PAPER 3				PAPER 4				PAPER 5				PAPER 6				RESULT CR C*G SGPI GRADE			
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G				
CENTRE-COLLEGE		PAPER 7				PAPER 8				PAPER 9				PAPER 10				PAPER 11											
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G
7094352	KAMBLE ABHIJIT SANDEEP SANJANA 2022016402131552 (13)Ratnagiri-(525)	58651 39+	9+	48		FEC101 18+	18			58652 24+	6+	30		FEL101 16+	16		58655 27+	9+	36		FEL102 22+	22		18.00	--				
		3.00	E	5.00	15.00	1.00	B	8.00	8.00	2.00	P	4.00	8.00	0.50	C	7.00	3.50	2.00	E	5.00	10.00	0.50	O	10.00	5.00	-- --			
		58653 19F	8+	27		FEL103 22+	34			58654 32+	11+	43		FEL104 16+	29		FEL105 44+	44											
		3.00	F	0.00	0.00	1.00	C	7.00	7.00	3.00	P	4.00	12.00	1.00	D	6.00	6.00	1.00	O	10.00	10.00								
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																			
7094353	KAMBLE HARSH SATISH SUCHITRA 2023016401032265 (13)Ratnagiri-(525)	58651 12F	11+	23		FEC101 22+	22			58652 25+	8+	33		FEL101 19+	19		58655 32+	7+	39		FEL102 21+	21		18.00	--				
		3.00	F	0.00	0.00	1.00	O	10.00	10.00	2.00	P	4.00	8.00	0.50	A	9.00	4.50	2.00	D	6.00	12.00	0.50	O	10.00	5.00	-- --			
		58653 32E	14+	46		FEL103 22+	43			58654 18F	10+	18		FEL104 22+	37		FEL105 38+	38											
		3.00	E	5.00	15.00	1.00	O	10.00	10.00	3.00	F	0.00	0.00	1.00	B	8.00	8.00	1.00	A	9.00	9.00								
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																			
7094354	KANEKAR MAYUR DINESH KAMAL 2023016401033357 (13)Ratnagiri-(525)	58651 32+	14+	46		FEC101 23+	23			58652 24+	7+	31		FEL101 19+	19		58655 29+	6+	35		FEL102 22+	22		18.00	107.50				
		3.00	E	5.00	15.00	1.00	O	10.00	10.00	2.00	P	4.00	8.00	0.50	A	9.00	4.50	2.00	E	5.00	10.00	0.50	O	10.00	5.00	5.97 --			
		58653 32	9+	41		FEL103 23+	41			58654 32+	15+	47		FEL104 22+	36		FEL105 45+	45											
		3.00	P	4.00	12.00	1.00	O	10.00	10.00	3.00	E	5.00	15.00	1.00	B	8.00	8.00	1.00	O	10.00	10.00								
		Total Credit 18.00				FINAL CGPI 5.97				FINAL GRADE --																			

/ - FEMALE, # - 0.229A,@ - 0.5042A/O.5043A/O.5044A, * - 5045A, RR-RESERVED, --:Fails in Theory or Practical, RPV - PROVISIONAL Eligible, RCC - 0.5050, AB - ABSENT, F - UNSUCCESSFUL,P - SUCCESSFUL;
 NULL=NULL & VOID, G:Grade C*G:Gradepoints C:credits CP:credit points aCG:sum of product of credits & grades, Internal Marks are Provisional as per R.8668
 aC:sum of credit points GPA: aCG/aC
 MARKS : 0 to 39.99 40 to 44.99 45 to 49.99 50 to 59.99 60 to 69.99 70 to 74.99 75 to 79.99 80 to 100
 GRADE : F P E D C B A O
 GRADE POINT : 0.00 4.00 5.00 6.00 7.00 8.00 9.00 10.00



University of Mumbai, Mumbai

OFFICE REGISTER OF THE B.E. (with credits) - Regular - CBCS (Electronics and Telecommunication Engineering)- F.E. C-Scheme - Sem I [1T01831] HELD IN Summer 2025 Result Declaration Date: 11 Jul 2025

58651-Engineering Mathematics-I: ThUA 80/32 ThCA 20/8 100/0 | 58652-Engineering Physics-I: ThUA 60/24 ThCA 15/6 75/0 | 58655-Engineering Chemistry-I: ThUA 60/24 ThCA 15/6 75/0 |
 58653-Engineering Mechanics: ThUA 80/32 ThCA 20/8 100/0 | 58654-Basic Electrical Engineering: ThUA 80/32 ThCA 20/8 100/0 | FEL101-Engineering Physics-I (TW): TwCA 25/10 25/0 |
 FEL102-Engineering Chemistry-I (TW): TwCA 25/10 25/0 | FEL103-Engineering Mechanics (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 | FEL104-Basic Electrical Engineering (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 |
 FEL105-Basic Workshop Practice-I: TwCA 50/20 50/0 | FEC101-Engineering Mathematics-I Term Work: TwCA 25/10 25/0 |

SEAT NO.	NAME OF THE CANDIDATE Mother Name PRN.	PAPER 1				PAPER 2				PAPER 3				PAPER 4				PAPER 5				PAPER 6				RESULT CR C*G SGPI GRADE			
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G				
CENTRE-COLLEGE		PAPER 7				PAPER 8				PAPER 9				PAPER 10				PAPER 11											
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G
7094355	KULKARNI SANKARSHAN SHASHIKANT - SUJATA 2023016401020496 (13)Ratnagiri-(525)	58651 42+	11+	53	100	FEC101 17+	17	17	100	58652 37+	7+	44	100	FEL101 17+	17	17	100	58655 25+	9+	34	100	FEL102 18+	18	18	100	Successful 18.00 108.50 6.03 --			
		3.00	D	6.00	18.00	1.00	C	7.00	7.00	2.00	D	6.00	12.00	0.50	C	7.00	3.50	2.00	E	5.00	10.00	0.50	B	8.00	4.00	6.03 --			
		58653 36	11+	47	100	FEL103 14+	37	37	100	58654 46+	9+	55	100	FEL104 21+	38	38	100	FEL105 22+	22	22	100								
		3.00	E	5.00	15.00	1.00	B	8.00	8.00	3.00	D	6.00	18.00	1.00	A	9.00	9.00	1.00	P	4.00	4.00								
		Total Credit 18.00				FINAL CGPI 6.03				FINAL GRADE --																			
7094356	/ LAD ATMAYA UMESH ADITI 2022016402136224 (13)Ratnagiri-(525)	58651 32+	9+	41	100	FEC101 23+	23	23	100	58652 24+	6+	30	100	FEL101 17+	17	17	100	58655 32+	8+	40	100	FEL102 22+	22	22	100	Successful 18.00 107.50 5.97 --			
		3.00	P	4.00	12.00	1.00	O	10.00	10.00	2.00	P	4.00	8.00	0.50	C	7.00	3.50	2.00	D	6.00	12.00	0.50	O	10.00	5.00	5.97 --			
		58653 44	8+	52	100	FEL103 23+	35	35	100	58654 35+	10+	45	100	FEL104 17+	29	29	100	FEL105 46+	46	46	100								
		3.00	D	6.00	18.00	1.00	B	8.00	8.00	3.00	E	5.00	15.00	1.00	D	6.00	6.00	1.00	O	10.00	10.00								
		Total Credit 18.00				FINAL CGPI 5.97				FINAL GRADE --																			
7094357	LINGAYAT VEDANG SANTOSH SAYALI 2023016401042333 (13)Ratnagiri-(525)	58651 41	12+	53	100	FEC101 16+	16	16	100	58652 24+	10+	34	100	FEL101 15+	15	15	100	58655 28+	7+	35	100	FEL102 16+	16	16	100	Successful 18.00 99.00 5.50 --			
		3.00	D	6.00	18.00	1.00	C	7.00	7.00	2.00	E	5.00	10.00	0.50	C	7.00	3.50	2.00	E	5.00	10.00	0.50	C	7.00	3.50	5.50 --			
		58653 33+	8+	41	100	FEL103 13+	25	25	100	58654 38+	11+	49	100	FEL104 18+	32	32	100	FEL105 30+	30	30	100								
		3.00	P	4.00	12.00	1.00	D	6.00	6.00	3.00	E	5.00	15.00	1.00	C	7.00	7.00	1.00	C	7.00	7.00								
		Total Credit 18.00				FINAL CGPI 5.50				FINAL GRADE --																			

/ - FEMALE, # - 0.229A, @ - 0.5042A/O.5043A/O.5044A, * - 5045A, RR-RESERVED, --:Fails in Theory or Practical, RPV - PROVISIONAL Eligible, RCC - 0.5050, AB - ABSENT, F - UNSUCCESSFUL, P - SUCCESSFUL;
 NULL=NULL & VOID, G:Grade C*G:Gradepoints C:credits CP:credit points aCG:sum of product of credits & grades, Internal Marks are Provisional as per R.8668
 aC:sum of credit points GPA: aCG/aC
 MARKS : 0 to 39.99 40 to 44.99 45 to 49.99 50 to 59.99 60 to 69.99 70 to 74.99 75 to 79.99 80 to 100
 GRADE : F P E D C B A O
 GRADE POINT : 0.00 4.00 5.00 6.00 7.00 8.00 9.00 10.00



University of Mumbai, Mumbai

OFFICE REGISTER OF THE B.E. (with credits) - Regular - CBCS(Electronics and Telecommunication Engineering)- F.E. C-Scheme - Sem I [T01831] HELD IN Summer 2025 Result Declaration Date:11 Jul 2025

58651-Engineering Mathematics-I: ThUA 80/32 ThCA 20/8 100/0 | 58652-Engineering Physics-I: ThUA 60/24 ThCA 15/6 75/0 | 58655-Engineering Chemistry-I: ThUA 60/24 ThCA 15/6 75/0 |
 58653-Engineering Mechanics: ThUA 80/32 ThCA 20/8 100/0 | 58654-Basic Electrical Engineering: ThUA 80/32 ThCA 20/8 100/0 | FEL101-Engineering Physics-I (TW): TwCA 25/10 25/0 |
 FEL102-Engineering Chemistry-I (TW): TwCA 25/10 25/0 | FEL103-Engineering Mechanics (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 | FEL104-Basic Electrical Engineering (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 |
 FEL105-Basic Workshop Practice-I: TwCA 50/20 50/0 | FEC101-Engineering Mathematics-I Term Work: TwCA 25/10 25/0 |

SEAT NO.	NAME OF THE CANDIDATE Mother Name PRN.	PAPER 1				PAPER 2				PAPER 3				PAPER 4				PAPER 5				PAPER 6				RESULT CR C*G SGPI GRADE	
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G		
CENTRE-COLLEGE		PAPER 7				PAPER 8				PAPER 9				PAPER 10				PAPER 11									
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G		
7094358	MAYEKAR SUJAN SURAJ SAKSHI 2023016401041183 (13)Ratnagiri-(525)	58651 42	8+	50		FEC101 18+	18			58652 24+	8+	32		FEL101 14+	14		58655 24+	6+	30		FEL102 14+	14		Successful 18.00 98.00			
		3.00	D	6.00	18.00	1.00	B	8.00	8.00	2.00	P	4.00	8.00	0.50	D	6.00	3.00	2.00	P	4.00	8.00	0.50	D	6.00	3.00	5.44 --	
		58653 32+	8+	40		FEL103 11+	23			58654 49	8+	57		FEL104 18+	31		FEL105 36+	36									
		3.00	P	4.00	12.00	1.00	E	5.00	5.00	3.00	D	6.00	18.00	1.00	C	7.00	7.00	1.00	B	8.00	8.00						
		Total Credit 18.00				FINAL CGPI 5.44				FINAL GRADE --																	
7094359	/ POL VAISHNAVI PRAMOD SUVARNA 2023016401028832 (13)Ratnagiri-(525)	58651 8F	13+	21		FEC101 22+	22			58652 1F	7+	8		FEL101 18+	18		58655 24E	6+	30		FEL102 20+	20		Unsuccessful 18.00 --			
		3.00	F	0.00	0.00	1.00	O	10.00	10.00	2.00	F	0.00	0.00	0.50	B	8.00	4.00	2.00	P	4.00	8.00	0.50	O	10.00	5.00	-- --	
		58653 33E	12+	45		FEL103 19+	37			58654 32+	8+	40		FEL104 17+	27		FEL105 43+	43									
		3.00	E	5.00	15.00	1.00	B	8.00	8.00	3.00	P	4.00	12.00	1.00	D	6.00	6.00	1.00	O	10.00	10.00						
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																	
7094360	SONAR RUTVIJ ARUN CHETNA 2023016401020515 (13)Ratnagiri-(525)	58651 38+	10+	48		FEC101 21+	21			58652 31+	9+	40		FEL101 19+	19		58655 24+	10+	34		FEL102 23+	23		Unsuccessful 18.00 --			
		3.00	E	5.00	15.00	1.00	O	10.00	10.00	2.00	D	6.00	12.00	0.50	A	9.00	4.50	2.00	E	5.00	10.00	0.50	O	10.00	5.00	-- --	
		58653 26F	14+	40		FEL103 22+	42			58654 32+	12+	44		FEL104 23+	41		FEL105 45+	45									
		3.00	F	0.00	0.00	1.00	O	10.00	10.00	3.00	P	4.00	12.00	1.00	O	10.00	10.00	1.00	O	10.00	10.00						
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																	

/ - FEMALE, # - 0.229A,@ - 0.5042A/O.5043A/O.5044A,* - 5045A, RR-RESERVED, --:Fails in Theory or Practical, RPV - PROVISIONAL Eligible, RCC - 0.5050, AB - ABSENT, F - UNSUCCESSFUL,P - SUCCESSFUL;
 NULL=NULL & VOID, G:Grade C*G:Gradepoints C:credits CP:credit points aCG:sum of product of credits & grades, Internal Marks are Provisional as per R.8668
 aC:sum of credit points GPA: aCG/aC
 MARKS : 0 to 39.99 40 to 44.99 45 to 49.99 50 to 59.99 60 to 69.99 70 to 74.99 75 to 79.99 80 to 100
 GRADE : F P E D C B A O
 GRADE POINT : 0.00 4.00 5.00 6.00 7.00 8.00 9.00 10.00



University of Mumbai, Mumbai

OFFICE REGISTER OF THE B.E. (with credits) - Regular - CBCS(Electronics and Telecommunication Engineering)- F.E. C-Scheme - Sem I [T01831] HELD IN Summer 2025 Result Declaration Date:11 Jul 2025

58651-Engineering Mathematics-I: ThUA 80/32 ThCA 20/8 100/0 | 58652-Engineering Physics-I: ThUA 60/24 ThCA 15/6 75/0 | 58655-Engineering Chemistry-I: ThUA 60/24 ThCA 15/6 75/0 |
 58653-Engineering Mechanics: ThUA 80/32 ThCA 20/8 100/0 | 58654-Basic Electrical Engineering: ThUA 80/32 ThCA 20/8 100/0 | FEL101-Engineering Physics-I (TW): TwCA 25/10 25/0 |
 FEL102-Engineering Chemistry-I (TW): TwCA 25/10 25/0 | FEL103-Engineering Mechanics (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 | FEL104-Basic Electrical Engineering (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 |
 FEL105-Basic Workshop Practice-I: TwCA 50/20 50/0 | FEC101-Engineering Mathematics-I Term Work: TwCA 25/10 25/0 |

SEAT NO.	NAME OF THE CANDIDATE Mother Name PRN.	PAPER 1				PAPER 2				PAPER 3				PAPER 4				PAPER 5				PAPER 6				RESULT CR C*G SGPI GRADE	
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G		
CENTRE-COLLEGE		PAPER 7				PAPER 8				PAPER 9				PAPER 10				PAPER 11									
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G		
7094361	VASTA ABDUL HADI SARFARAJ SHAHEEN 2023016401023467 (13)Ratnagiri-(525)	58651 34+	10+	44	100	FEC101 --	20+	20	100	58652 27+	9+	36	100	FEL101 --	18+	18	100	58655 25+	8+	33	100	FEL102 --	19+	19	100	Successful 18.00 102.50 5.69 --	
		3.00	P	4.00	12.00	1.00	O	10.00	10.00	2.00	E	5.00	10.00	0.50	B	8.00	4.00	2.00	P	4.00	8.00	0.50	A	9.00	4.50		
		58653 32+	9+	41	100	FEL103 --	19+	36	100	58654 32	15+	47	100	FEL104 --	23+	38	100	FEL105 --	44+	44	100						
		3.00	P	4.00	12.00	1.00	B	8.00	8.00	3.00	E	5.00	15.00	1.00	A	9.00	9.00	1.00	O	10.00	10.00						
		Total Credit 18.00				FINAL CGPI 5.69				FINAL GRADE --																	
7094362	/ KANDALGAONKAR DIKSHA SUNILDATT - SAMRUDDHI 2023016402068937 (18)Malvan-(949)	58651 32+	8+	40	100	FEC101 --	18+	18	100	58652 26+	6+	32	100	FEL101 --	20+	20	100	58655 24+	8+	32	100	FEL102 --	18+	18	100	Successful 18.00 105.00 5.83 --	
		3.00	P	4.00	12.00	1.00	B	8.00	8.00	2.00	P	4.00	8.00	0.50	O	10.00	5.00	2.00	P	4.00	8.00	0.50	B	8.00	4.00		
		58653 45+	8+	53	100	FEL103 --	16+	34	100	58654 39	12+	51	100	FEL104 --	20+	40	100	FEL105 --	32+	32	100						
		3.00	D	6.00	18.00	1.00	C	7.00	7.00	3.00	D	6.00	18.00	1.00	O	10.00	10.00	1.00	C	7.00	7.00						
		Total Credit 18.00				FINAL CGPI 5.83				FINAL GRADE --																	
7094363	PARAB OMKAR DATTARAM DIKSHA 2023016402068984 (18)Malvan-(949)	58651 32+	10+	42	100	FEC101 --	18+	18	100	58652 42+	8+	50	100	FEL101 --	20+	20	100	58655 46	11+	57	100	FEL102 --	20+	20	100	Successful 18.00 113.00 6.28 --	
		3.00	P	4.00	12.00	1.00	B	8.00	8.00	2.00	C	7.00	14.00	0.50	O	10.00	5.00	2.00	A	9.00	18.00	0.50	O	10.00	5.00		
		58653 32+	10+	42	100	FEL103 --	16+	31	100	58654 32+	16+	48	100	FEL104 --	21+	42	100	FEL105 --	31+	31	100						
		3.00	P	4.00	12.00	1.00	C	7.00	7.00	3.00	E	5.00	15.00	1.00	O	10.00	10.00	1.00	C	7.00	7.00						
		Total Credit 18.00				FINAL CGPI 6.28				FINAL GRADE --																	

/ - FEMALE, # - 0.229A,@ - 0.5042A/O.5043A/O.5044A,* - 5045A, RR-RESERVED, --:Fails in Theory or Practical, RPV - PROVISIONAL Eligible, RCC - 0.5050, AB - ABSENT, F - UNSUCCESSFUL,P - SUCCESSFUL;
 NULL=NULL & VOID, G:Grade C*G:Gradepoints C:credits CP:credit points aCG:sum of product of credits & grades, Internal Marks are Provisional as per R.8668
 aC:sum of credit points GPA: aCG/aC
 MARKS : 0 to 39.99 40 to 44.99 45 to 49.99 50 to 59.99 60 to 69.99 70 to 74.99 75 to 79.99 80 to 100
 GRADE : F P E D C B A O
 GRADE POINT : 0.00 4.00 5.00 6.00 7.00 8.00 9.00 10.00



University of Mumbai, Mumbai

OFFICE REGISTER OF THE B.E. (with credits) - Regular - CBCS(Electronics and Telecommunication Engineering)- F.E. C-Scheme - Sem I [1T01831] HELD IN Summer 2025 Result Declaration Date:11 Jul 2025

58651-Engineering Mathematics-I: ThUA 80/32 ThCA 20/8 100/0 | 58652-Engineering Physics-I: ThUA 60/24 ThCA 15/6 75/0 | 58655-Engineering Chemistry-I: ThUA 60/24 ThCA 15/6 75/0 |
 58653-Engineering Mechanics: ThUA 80/32 ThCA 20/8 100/0 | 58654-Basic Electrical Engineering: ThUA 80/32 ThCA 20/8 100/0 | FEL101-Engineering Physics-I (TW): TwCA 25/10 25/0 |
 FEL102-Engineering Chemistry-I (TW): TwCA 25/10 25/0 | FEL103-Engineering Mechanics (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 | FEL104-Basic Electrical Engineering (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 |
 FEL105-Basic Workshop Practice-I: TwCA 50/20 50/0 | FEC101-Engineering Mathematics-I Term Work: TwCA 25/10 25/0 |

SEAT NO.	NAME OF THE CANDIDATE Mother Name PRN.	PAPER 1				PAPER 2				PAPER 3				PAPER 4				PAPER 5				PAPER 6				RESULT CR C*G SGPI GRADE			
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G				
CENTRE-COLLEGE		PAPER 7				PAPER 8				PAPER 9				PAPER 10				PAPER 11											
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G				
7094364	/ PAWAR NEHA SADANAND SUNANDA 2023016402069032 (18)Malvan-(949)	58651 32+	8+	40		FEC101 19+	19		58652 26+	6+	32		FEL101 19+	20	20		58655 39	7+	46		FEL102 18+	18		Successful 18.00 105.00					
		3.00	P	4.00 12.00	1.00	A	9.00 9.00	2.00	P	4.00 8.00	10.50	O	10.00 5.00	2.00	C	7.00 14.00	0.50	B	8.00 4.00	5.83	--								
		58653 42+	9+	51		FEL103 18+	35		58654 33+	8+	41		FEL104 18+	35		FEL105 34+	34												
		3.00	D	6.00 18.00	1.00	B	8.00 8.00	3.00	P	4.00 12.00	1.00	B	8.00 8.00	1.00	C	7.00 7.00													
		Total Credit 18.00				FINAL CGPI 5.83				FINAL GRADE --																			
7094365	CHOUGULE TEJAS RAJENDRA MANSI 2023016401242834 (22)Vasai-(466)	58651 33+	8+	41		FEC101 10+	10		58652 24+	8+	32		FEL101 17+	17		58655 33+	6+	39		FEL102 12+	12		Successful 18.00 85.00						
		3.00	P	4.00 12.00	1.00	P	4.00 4.00	2.00	P	4.00 8.00	10.50	C	7.00 3.50	2.00	D	6.00 12.00	0.50	E	5.00 2.50	4.72	--								
		58653 32	9+	41		FEL103 10+	20		58654 32+	8+	40		FEL104 14+	28		FEL105 38+	38												
		3.00	P	4.00 12.00	1.00	P	4.00 4.00	3.00	P	4.00 12.00	1.00	D	6.00 6.00	1.00	A	9.00 9.00													
		Total Credit 18.00				FINAL CGPI 4.72				FINAL GRADE --																			
7094366	DETHE ASMITA MAHENDRA SWATI 2021016401657751 (22)Vasai-(466)	58651 AA	8+	8		FEC101 13+	13		58652 AA	6+	6		FEL101 19+	19		58655 AA	6+	6		FEL102 13+	13		ABS 18.00 --						
		3.00	F	0.00 0.00	1.00	D	6.00 6.00	2.00	F	0.00 0.00	10.50	A	9.00 4.50	2.00	F	0.00 0.00	0.50	D	6.00 3.00	--	--								
		58653 AA	10+	10		FEL103 10+	26		58654 AA	8+	8		FEL104 15+	27		FEL105 42+	42												
		3.00	F	0.00 0.00	1.00	D	6.00 6.00	3.00	F	0.00 0.00	1.00	D	6.00 6.00	1.00	O	10.00 10.00													
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																			

/ - FEMALE, # - 0.229A,@ - 0.5042A/O.5043A/O.5044A, * - 5045A, RR-RESERVED, --:Fails in Theory or Practical, RPV - PROVISIONAL Eligible, RCC - 0.5050, AB - ABSENT, F - UNSUCCESSFUL,P - SUCCESSFUL;
 NULL=NULL & VOID, G:Grade C*G:Gradepoints C:credits CP:credit points aCG:sum of product of credits & grades, Internal Marks are Provisional as per R.8668
 aC:sum of credit points GPA: aCG/aC
 MARKS : 0 to 39.99 40 to 44.99 45 to 49.99 50 to 59.99 60 to 69.99 70 to 74.99 75 to 79.99 80 to 100
 GRADE : F P E D C B A O
 GRADE POINT : 0.00 4.00 5.00 6.00 7.00 8.00 9.00 10.00



University of Mumbai, Mumbai

OFFICE REGISTER OF THE B.E. (with credits) - Regular - CBCS(Electronics and Telecommunication Engineering)- F.E. C-Scheme - Sem I [1T01831] HELD IN Summer 2025 Result Declaration Date:11 Jul 2025

58651-Engineering Mathematics-I: ThUA 80/32 ThCA 20/8 100/0 | 58652-Engineering Physics-I: ThUA 60/24 ThCA 15/6 75/0 | 58655-Engineering Chemistry-I: ThUA 60/24 ThCA 15/6 75/0 |
 58653-Engineering Mechanics: ThUA 80/32 ThCA 20/8 100/0 | 58654-Basic Electrical Engineering: ThUA 80/32 ThCA 20/8 100/0 | FEL101-Engineering Physics-I (TW): TwCA 25/10 25/0 |
 FEL102-Engineering Chemistry-I (TW): TwCA 25/10 25/0 | FEL103-Engineering Mechanics (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 | FEL104-Basic Electrical Engineering (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 |
 FEL105-Basic Workshop Practice-I: TwCA 50/20 50/0 | FEC101-Engineering Mathematics-I Term Work: TwCA 25/10 25/0 |

SEAT NO.	NAME OF THE CANDIDATE Mother Name PRN.	PAPER 1				PAPER 2				PAPER 3				PAPER 4				PAPER 5				PAPER 6				RESULT CR C*G SGPI GRADE				
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G					
CENTRE-COLLEGE		PAPER 7				PAPER 8				PAPER 9				PAPER 10				PAPER 11												
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G					
7094367	JADHAV ATHARVA BALARAM KIRTI 2022016402069626 (22)Vasai-(466)	58651 32+	12+	44		FEC101 --	23+	23		58652 24E	6+	30		FEL101 --	22+	22		58655 24+	6+	30		FEL102 --	21+	21		18.00	--			Unsuccessful
		3.00	P	4.00	12.00	1.00	O	10.00	10.00	2.00	P	4.00	8.00	0.50	O	10.00	5.00	2.00	P	4.00	8.00	0.50	O	10.00	5.00	--	--			
		58653 9F	16+	25		FEL103 --	13+	25		58654 33+	8+	41		FEL104 --	17+	34		FEL105 --	43+	43										
		3.00	F	0.00	0.00	1.00	D	6.00	6.00	3.00	P	4.00	12.00	1.00	C	7.00	7.00	1.00	O	10.00	10.00									
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																				
7094368	KAMBLE AAYUSH BHASKAR SAVITA 2023016401239453 (22)Vasai-(466)	58651 AA	9+	9		FEC101 --	20+	20		58652 AA	11+	11		FEL101 --	21+	21		58655 AA	7+	7		FEL102 --	15+	15		18.00	--			ABS
		3.00	F	0.00	0.00	1.00	O	10.00	10.00	2.00	F	0.00	0.00	0.50	O	10.00	5.00	2.00	F	0.00	0.00	0.50	C	7.00	3.50	--	--			
		58653 AA	8+	8		FEL103 --	14+	27		58654 AA	8+	8		FEL104 --	15+	30		FEL105 --	45+	45										
		3.00	F	0.00	0.00	1.00	D	6.00	6.00	3.00	F	0.00	0.00	1.00	C	7.00	7.00	1.00	O	10.00	10.00									
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																				
7094369	PAWAR AYUSH VIJAY PRIYANKA 2022016402066721 (22)Vasai-(466)	58651 28F	8+	36		FEC101 --	20+	20		58652 24+	6+	30		FEL101 --	19+	19		58655 24+	6+	30		FEL102 --	20+	20		18.00	--			Unsuccessful
		3.00	F	0.00	0.00	1.00	O	10.00	10.00	2.00	P	4.00	8.00	0.50	A	9.00	4.50	2.00	P	4.00	8.00	0.50	O	10.00	5.00	--	--			
		58653 32+	8+	40		FEL103 --	15+	30		58654 32+	9+	41		FEL104 --	15+	31		FEL105 --	42+	42										
		3.00	P	4.00	12.00	1.00	C	7.00	7.00	3.00	P	4.00	12.00	1.00	C	7.00	7.00	1.00	O	10.00	10.00									
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																				

/ - FEMALE, # - 0.229A,@ - 0.5042A/O.5043A/O.5044A, * - 5045A, RR-RESERVED, --:Fails in Theory or Practical, RPV - PROVISIONAL Eligible, RCC - 0.5050, AB - ABSENT, F - UNSUCCESSFUL,P - SUCCESSFUL;
 NULL=NULL & VOID, G:Grade C*G:Gradepoints C:credits CP:credit points aCG:sum of product of credits & grades, Internal Marks are Provisional as per R.8668
 aC:sum of credit points GPA: aCG/aC
 MARKS : 0 to 39.99 40 to 44.99 45 to 49.99 50 to 59.99 60 to 69.99 70 to 74.99 75 to 79.99 80 to 100
 GRADE : F P E D C B A O
 GRADE POINT : 0.00 4.00 5.00 6.00 7.00 8.00 9.00 10.00



University of Mumbai, Mumbai

OFFICE REGISTER OF THE B.E. (with credits) - Regular - CBCS(Electronics and Telecommunication Engineering)- F.E. C-Scheme - Sem I [T01831] HELD IN Summer 2025 Result Declaration Date:11 Jul 2025

58651-Engineering Mathematics-I: ThUA 80/32 ThCA 20/8 100/0 | 58652-Engineering Physics-I: ThUA 60/24 ThCA 15/6 75/0 | 58655-Engineering Chemistry-I: ThUA 60/24 ThCA 15/6 75/0 |
 58653-Engineering Mechanics: ThUA 80/32 ThCA 20/8 100/0 | 58654-Basic Electrical Engineering: ThUA 80/32 ThCA 20/8 100/0 | FEL101-Engineering Physics-I (TW): TwCA 25/10 25/0 |
 FEL102-Engineering Chemistry-I (TW): TwCA 25/10 25/0 | FEL103-Engineering Mechanics (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 | FEL104-Basic Electrical Engineering (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 |
 FEL105-Basic Workshop Practice-I: TwCA 50/20 50/0 | FEC101-Engineering Mathematics-I Term Work: TwCA 25/10 25/0 |

SEAT NO.	NAME OF THE CANDIDATE Mother Name PRN.	PAPER 1				PAPER 2				PAPER 3				PAPER 4				PAPER 5				PAPER 6				RESULT CR C*G SGPI GRADE			
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G				
CENTRE-COLLEGE		PAPER 7				PAPER 8				PAPER 9				PAPER 10				PAPER 11											
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G
7094370	PISHORI MOHAMMED MUSTAFA NAFISA 2023016401211236 (22)Vasai-(466)	58651 32E	AA	32		FEC101 10+	10			58652 24+	7+	31		FEL101 17+	17		58655 36+	8+	44		FEL102 10+	10			18.00	--			
		3.00	F	0.00	0.00	1.00	P	4.00	4.00	2.00	P	4.00	8.00	0.50	C	7.00	3.50	2.00	D	6.00	12.00	0.50	P	4.00	2.00	--	--		
		58653 32E	8+	40		FEL103 10+	10			58654 33+	8+	41		FEL104 14+	27		FEL105 27+	27											
		3.00	P	4.00	12.00	1.00	F	0.00	0.00	3.00	P	4.00	12.00	1.00	D	6.00	6.00	1.00	D	6.00	6.00								
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																			
7094371	TRIMBAKE ROSHANKUMAR NANDKUMAR - ARTI 2022016402071084 (22)Vasai-(466)	58651 AA	9+	9		FEC101 23+	23			58652 AA	6+	6		FEL101 20+	20		58655 31+	6+	37		FEL102 20+	20			18.00	--			
		3.00	F	0.00	0.00	1.00	O	10.00	10.00	2.00	F	0.00	0.00	0.50	O	10.00	5.00	2.00	E	5.00	10.00	0.50	O	10.00	5.00	--	--		
		58653 AA	11+	11		FEL103 21+	36			58654 38+	8+	46		FEL104 14+	30		FEL105 41+	41											
		3.00	F	0.00	0.00	1.00	B	8.00	8.00	3.00	E	5.00	15.00	1.00	C	7.00	7.00	1.00	O	10.00	10.00								
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																			
7094372	WAKCHAURE ATHARVA SHARAD SHITAL 2023016401242591 (22)Vasai-(466)	58651 32	8+	40		FEC101 18+	18			58652 29+	6+	35		FEL101 24+	24		58655 24+	7+	31		FEL102 21+	21			18.00	98.00			
		3.00	P	4.00	12.00	1.00	B	8.00	8.00	2.00	E	5.00	10.00	0.50	O	10.00	5.00	2.00	P	4.00	8.00	0.50	O	10.00	5.00	5.44	--		
		58653 40	8+	48		FEL103 18+	31			58654 32+	8+	40		FEL104 16+	29		FEL105 46+	46											
		3.00	E	5.00	15.00	1.00	C	7.00	7.00	3.00	P	4.00	12.00	1.00	D	6.00	6.00	1.00	O	10.00	10.00								
		Total Credit 18.00				FINAL CGPI 5.44				FINAL GRADE --																			

/ - FEMALE, # - 0.229A, @ - 0.5042A/O.5043A/O.5044A, * - 5045A, RR-RESERVED, --:Fails in Theory or Practical, RPV - PROVISIONAL Eligible, RCC - 0.5050, AB - ABSENT, F - UNSUCCESSFUL, P - SUCCESSFUL;
 NULL=NULL & VOID, G:Grade C*G:Gradepoints C:credits CP:credit points aCG:sum of product of credits & grades, Internal Marks are Provisional as per R.8668
 aC:sum of credit points GPA: aCG/aC
 MARKS : 0 to 39.99 40 to 44.99 45 to 49.99 50 to 59.99 60 to 69.99 70 to 74.99 75 to 79.99 80 to 100
 GRADE : F P E D C B A O
 GRADE POINT : 0.00 4.00 5.00 6.00 7.00 8.00 9.00 10.00



University of Mumbai, Mumbai

OFFICE REGISTER OF THE B.E. (with credits) - Regular - CBCS (Electronics and Telecommunication Engineering)- F.E. C-Scheme - Sem I [1T01831] HELD IN Summer 2025 Result Declaration Date: 11 Jul 2025

58651-Engineering Mathematics-I: ThUA 80/32 ThCA 20/8 100/0 | 58652-Engineering Physics-I: ThUA 60/24 ThCA 15/6 75/0 | 58655-Engineering Chemistry-I: ThUA 60/24 ThCA 15/6 75/0 |
 58653-Engineering Mechanics: ThUA 80/32 ThCA 20/8 100/0 | 58654-Basic Electrical Engineering: ThUA 80/32 ThCA 20/8 100/0 | FEL101-Engineering Physics-I (TW): TwCA 25/10 25/0 |
 FEL102-Engineering Chemistry-I (TW): TwCA 25/10 25/0 | FEL103-Engineering Mechanics (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 | FEL104-Basic Electrical Engineering (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 |
 FEL105-Basic Workshop Practice-I: TwCA 50/20 50/0 | FEC101-Engineering Mathematics-I Term Work: TwCA 25/10 25/0 |

SEAT NO.	NAME OF THE CANDIDATE Mother Name PRN.	PAPER 1				PAPER 2				PAPER 3				PAPER 4				PAPER 5				PAPER 6				RESULT CR C*G SGPI GRADE
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	
CENTRE-COLLEGE		PAPER 7				PAPER 8				PAPER 9				PAPER 10				PAPER 11								
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	
7094373	BHATI KUNAL PRAKASH KOMAL	58651				FEC101				58652				FEL101				58655				FEL102				Unsuccessful
		7F	8+	15		--	18+	18		3F	8+	11		--	21+	21		17F	7+	24		--	20+	20		18.00 --
	2022016402283764	3.00	F	0.00	0.00	1.00	B	8.00	8.00	2.00	F	0.00	0.00	0.50	O	10.00	5.00	2.00	F	0.00	0.00	0.50	O	10.00	5.00	-- --
	(22)Vasai- (823)	58653				FEL103				58654				FEL104				FEL105								
		6F	9+	15		--	19+	37		43+	11+	54		--	19+	37		--	41+	41						
		3.00	F	0.00	0.00	1.00	B	8.00	8.00	3.00	D	6.00	18.00	1.00	B	8.00	8.00	1.00	O	10.00	10.00					
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																
7094374	BHATKAR SAHEEL VIJAY PRADNYA	58651				FEC101				58652				FEL101				58655				FEL102				Unsuccessful
		16F	10+	26		--	14+	14		25+	6+	31		--	19+	19		24+	11+	35		--	19+	19		18.00 --
	2022016402283137	3.00	F	0.00	0.00	1.00	D	6.00	6.00	2.00	P	4.00	8.00	0.50	A	9.00	4.50	2.00	E	5.00	10.00	0.50	A	9.00	4.50	-- --
	(22)Vasai- (823)	58653				FEL103				58654				FEL104				FEL105								
		32+	13+	45		--	16+	36		32+	8+	40		--	17+	32		--	40+	40						
		3.00	E	5.00	15.00	1.00	B	8.00	8.00	3.00	P	4.00	12.00	1.00	C	7.00	7.00	1.00	O	10.00	10.00					
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																
7094375	/ GHARAT KEYURI HEMCHANDRA ARCHANA	58651				FEC101				58652				FEL101				58655				FEL102				Unsuccessful
		37+	11+	48		--	19+	19		24+	7+	31		--	22+	22		41+	10+	51		--	19+	19		18.00 --
	2023016401248274	3.00	E	5.00	15.00	1.00	A	9.00	9.00	2.00	P	4.00	8.00	0.50	O	10.00	5.00	2.00	C	7.00	14.00	0.50	A	9.00	4.50	-- --
	(22)Vasai- (823)	58653				FEL103				58654				FEL104				FEL105								
		32+	14+	46		--	21+	35		13F	8+	21		--	21+	38		--	41+	41						
		3.00	E	5.00	15.00	1.00	B	8.00	8.00	3.00	F	0.00	0.00	1.00	A	9.00	9.00	1.00	O	10.00	10.00					
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																

/ - FEMALE, # - 0.229A, @ - 0.5042A/O.5043A/O.5044A, * - 5045A, RR-RESERVED, --:Fails in Theory or Practical, RPV - PROVISIONAL Eligible, RCC - 0.5050, AB - ABSENT, F - UNSUCCESSFUL, P - SUCCESSFUL;
 NULL=NULL & VOID, G:Grade C*G:Gradepoints C:credits CP:credit points aCG:sum of product of credits & grades, Internal Marks are Provisional as per R.8668
 aC:sum of credit points GPA: aCG/aC
 MARKS : 0 to 39.99 40 to 44.99 45 to 49.99 50 to 59.99 60 to 69.99 70 to 74.99 75 to 79.99 80 to 100
 GRADE : F P E D C B A O
 GRADE POINT : 0.00 4.00 5.00 6.00 7.00 8.00 9.00 10.00



University of Mumbai, Mumbai

OFFICE REGISTER OF THE B.E. (with credits) - Regular - CBCS(Electronics and Telecommunication Engineering)- F.E. C-Scheme - Sem I [1T01831] HELD IN Summer 2025 Result Declaration Date:11 Jul 2025

58651-Engineering Mathematics-I: ThUA 80/32 ThCA 20/8 100/0 | 58652-Engineering Physics-I: ThUA 60/24 ThCA 15/6 75/0 | 58655-Engineering Chemistry-I: ThUA 60/24 ThCA 15/6 75/0 |
 58653-Engineering Mechanics: ThUA 80/32 ThCA 20/8 100/0 | 58654-Basic Electrical Engineering: ThUA 80/32 ThCA 20/8 100/0 | FEL101-Engineering Physics-I (TW): TwCA 25/10 25/0 |
 FEL102-Engineering Chemistry-I (TW): TwCA 25/10 25/0 | FEL103-Engineering Mechanics (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 | FEL104-Basic Electrical Engineering (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 |
 FEL105-Basic Workshop Practice-I: TwCA 50/20 50/0 | FEC101-Engineering Mathematics-I Term Work: TwCA 25/10 25/0 |

SEAT NO.	NAME OF THE CANDIDATE Mother Name PRN.	PAPER 1				PAPER 2				PAPER 3				PAPER 4				PAPER 5				PAPER 6				RESULT CR C*G SGPI GRADE
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	
CENTRE-COLLEGE		PAPER 7				PAPER 8				PAPER 9				PAPER 10				PAPER 11								
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	
7094376	GURAV PRATHAMESH VYANKATESH SUNANDA 2022016402283621 (22)Vasai-(823)	58651 32+	10+	42		FEC101 19+	19			58652 1F	9+	10		FEL101 21+	21		58655 13F	9+	22		FEL102 20+	20	18.00	--		
		3.00	P	4.00	12.00	1.00	A	9.00	9.00	2.00	F	0.00	0.00	0.50	O	10.00	5.00	2.00	F	0.00	0.00	0.50	O	10.00	5.00	-- --
		58653 37+	9+	46		FEL103 19+	36			58654 35+	8+	43		FEL104 17+	32		FEL105 41+	41								
		3.00	E	5.00	15.00	1.00	B	8.00	8.00	3.00	P	4.00	12.00	1.00	C	7.00	7.00	1.00	O	10.00	10.00					
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																
7094377	KHAN SHARIQ SHAHID KAMARJAHAN 2022016402281251 (22)Vasai-(823)	58651 2F	9+	11		FEC101 20+	20			58652 24+	10+	34		FEL101 23+	23		58655 24+	9+	33		FEL102 22+	22	18.00	--		
		3.00	F	0.00	0.00	1.00	O	10.00	10.00	2.00	E	5.00	10.00	0.50	O	10.00	5.00	2.00	P	4.00	8.00	0.50	O	10.00	5.00	-- --
		58653 34+	11+	45		FEL103 19+	37			58654 34+	8+	42		FEL104 19+	34		FEL105 42+	42								
		3.00	E	5.00	15.00	1.00	B	8.00	8.00	3.00	P	4.00	12.00	1.00	C	7.00	7.00	1.00	O	10.00	10.00					
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																
7094378	MESTRY LAVESH VIJAY GEETA 2022016402283234 (22)Vasai-(823)	58651 5F	9+	14		FEC101 17+	17			58652 26+	10+	36		FEL101 20+	20		58655 24+	7+	31		FEL102 22+	22	18.00	--		
		3.00	F	0.00	0.00	1.00	C	7.00	7.00	2.00	E	5.00	10.00	0.50	O	10.00	5.00	2.00	P	4.00	8.00	0.50	O	10.00	5.00	-- --
		58653 39E	10+	49		FEL103 19+	37			58654 44+	11+	55		FEL104 19+	36		FEL105 42+	42								
		3.00	E	5.00	15.00	1.00	B	8.00	8.00	3.00	D	6.00	18.00	1.00	B	8.00	8.00	1.00	O	10.00	10.00					
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																

/ - FEMALE, # - 0.229A,@ - 0.5042A/O.5043A/O.5044A, * - 5045A, RR-RESERVED, --:Fails in Theory or Practical, RPV - PROVISIONAL Eligible, RCC - 0.5050, AB - ABSENT, F - UNSUCCESSFUL,P - SUCCESSFUL;
 NULL=NULL & VOID, G:Grade C*G:Gradepoints C:credits CP:credit points aCG:sum of product of credits & grades, Internal Marks are Provisional as per R.8668
 aC:sum of credit points GPA: aCG/aC
 MARKS : 0 to 39.99 40 to 44.99 45 to 49.99 50 to 59.99 60 to 69.99 70 to 74.99 75 to 79.99 80 to 100
 GRADE : F P E D C B A O
 GRADE POINT : 0.00 4.00 5.00 6.00 7.00 8.00 9.00 10.00



University of Mumbai, Mumbai

OFFICE REGISTER OF THE B.E. (with credits) - Regular - CBCS(Electronics and Telecommunication Engineering)- F.E. C-Scheme - Sem I [T01831] HELD IN Summer 2025 Result Declaration Date:11 Jul 2025

58651-Engineering Mathematics-I: ThUA 80/32 ThCA 20/8 100/0 | 58652-Engineering Physics-I: ThUA 60/24 ThCA 15/6 75/0 | 58655-Engineering Chemistry-I: ThUA 60/24 ThCA 15/6 75/0 |
 58653-Engineering Mechanics: ThUA 80/32 ThCA 20/8 100/0 | 58654-Basic Electrical Engineering: ThUA 80/32 ThCA 20/8 100/0 | FEL101-Engineering Physics-I (TW): TwCA 25/10 25/0 |
 FEL102-Engineering Chemistry-I (TW): TwCA 25/10 25/0 | FEL103-Engineering Mechanics (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 | FEL104-Basic Electrical Engineering (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 |
 FEL105-Basic Workshop Practice-I: TwCA 50/20 50/0 | FEC101-Engineering Mathematics-I Term Work: TwCA 25/10 25/0 |

SEAT NO.	NAME OF THE CANDIDATE Mother Name PRN.	PAPER 1				PAPER 2				PAPER 3				PAPER 4				PAPER 5				PAPER 6				RESULT CR C*G SGPI GRADE	
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G		
CENTRE-COLLEGE		PAPER 7				PAPER 8				PAPER 9				PAPER 10				PAPER 11									
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G		
7094379	/ NAIK SHREYA NARAYAN SHRUTI 2023016401213765 (22)Vasai- (823)	58651 32	8+	40		FEC101 19+	19		58652 24+	10+	34		FEL101 21+	21		58655 37+	12+	49		FEL102 20+	20		Successful 18.00	110.00			
		3.00	P	4.00	12.00	1.00	A	9.00	9.00	2.00	E	5.00	10.00	0.50	O	10.00	5.00	2.00	C	7.00	14.00	0.50	O	10.00	5.00	6.11	--
		58653 33+	16+	49		FEL103 22+	40		58654 32+	9+	41		FEL104 20+	37		FEL105 42+	42										
		3.00	E	5.00	15.00	1.00	O	10.00	10.00	3.00	P	4.00	12.00	1.00	B	8.00	8.00	1.00	O	10.00	10.00						
		Total Credit 18.00				FINAL CGPI 6.11				FINAL GRADE --																	
7094380	PANDEY HARSHVARDHAN DILIP MANISHA 2022016402283265 (22)Vasai- (823)	58651 32+	10+	42		FEC101 17+	17		58652 24+	7+	31		FEL101 23+	23		58655 24+	9+	33		FEL102 24+	24		Successful 18.00	99.00			
		3.00	P	4.00	12.00	1.00	C	7.00	7.00	2.00	P	4.00	8.00	0.50	O	10.00	5.00	2.00	P	4.00	8.00	0.50	O	10.00	5.00	5.50	--
		58653 36	13+	49		FEL103 18+	37		58654 32+	8+	40		FEL104 19+	38		FEL105 43+	43										
		3.00	E	5.00	15.00	1.00	B	8.00	8.00	3.00	P	4.00	12.00	1.00	A	9.00	9.00	1.00	O	10.00	10.00						
		Total Credit 18.00				FINAL CGPI 5.50				FINAL GRADE --																	
7094381	PATIL VIKRAM RAJARAM LATA 2023016401240916 (22)Vasai- (823)	58651 24F	8+	32		FEC101 21+	21		58652 26+	10+	36		FEL101 22+	22		58655 24+	9+	33		FEL102 22+	22		Unsuccessful 18.00	--			
		3.00	F	0.00	0.00	1.00	O	10.00	10.00	2.00	E	5.00	10.00	0.50	O	10.00	5.00	2.00	P	4.00	8.00	0.50	O	10.00	5.00	--	--
		58653 38+	10+	48		FEL103 21+	42		58654 41+	13+	54		FEL104 23+	43		FEL105 41+	41										
		3.00	E	5.00	15.00	1.00	O	10.00	10.00	3.00	D	6.00	18.00	1.00	O	10.00	10.00	1.00	O	10.00	10.00						
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																	

/ - FEMALE, # - 0.229A,@ - 0.5042A/O.5043A/O.5044A,* - 5045A, RR-RESERVED, --:Fails in Theory or Practical, RPV - PROVISIONAL Eligible, RCC - 0.5050, AB - ABSENT, F - UNSUCCESSFUL,P - SUCCESSFUL;
 NULL=NULL & VOID, G:Grade C*G:Gradepoints C:credits CP:credit points aCG:sum of product of credits & grades, Internal Marks are Provisional as per R.8668
 aC:sum of credit points GPA: aCG/aC
 MARKS : 0 to 39.99 40 to 44.99 45 to 49.99 50 to 59.99 60 to 69.99 70 to 74.99 75 to 79.99 80 to 100
 GRADE : F P E D C B A O
 GRADE POINT : 0.00 4.00 5.00 6.00 7.00 8.00 9.00 10.00



University of Mumbai, Mumbai

OFFICE REGISTER OF THE B.E. (with credits) - Regular - CBCS (Electronics and Telecommunication Engineering)- F.E. C-Scheme - Sem I [T01831] HELD IN Summer 2025 Result Declaration Date: 11 Jul 2025

58651-Engineering Mathematics-I: ThUA 80/32 ThCA 20/8 100/0 | 58652-Engineering Physics-I: ThUA 60/24 ThCA 15/6 75/0 | 58655-Engineering Chemistry-I: ThUA 60/24 ThCA 15/6 75/0 |
 58653-Engineering Mechanics: ThUA 80/32 ThCA 20/8 100/0 | 58654-Basic Electrical Engineering: ThUA 80/32 ThCA 20/8 100/0 | FEL101-Engineering Physics-I (TW): TwCA 25/10 25/0 |
 FEL102-Engineering Chemistry-I (TW): TwCA 25/10 25/0 | FEL103-Engineering Mechanics (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 | FEL104-Basic Electrical Engineering (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 |
 FEL105-Basic Workshop Practice-I: TwCA 50/20 50/0 | FEC101-Engineering Mathematics-I Term Work: TwCA 25/10 25/0 |

SEAT NO.	NAME OF THE CANDIDATE Mother Name PRN.	PAPER 1				PAPER 2				PAPER 3				PAPER 4				PAPER 5				PAPER 6				RESULT CR C*G SGPI GRADE
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	
CENTRE-COLLEGE		PAPER 7				PAPER 8				PAPER 9				PAPER 10				PAPER 11								
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	
7094382	KADAM VAIBHAV RAJARAM VANITA 2022016402555125 (26)Wada-(991)	58651 52+	8+	60	60	FEC101 --	22+	22	22	58652 24+	7+	31	31	FEL101 --	19+	19	19	58655 35+	9+	44	44	FEL102 --	20+	20	20	Successful 18.00 112.50 6.25 --
		3.00	C	7.00	21.00	1.00	O	10.00	10.00	2.00	P	4.00	8.00	0.50	A	9.00	4.50	2.00	D	6.00	12.00	0.50	O	10.00	5.00	
		58653 32+	13+	45	45	FEL103 --	19+	37	37	58654 36	8+	44	44	FEL104 --	18+	35	35	FEL105 --	38+	38	38					
		3.00	E	5.00	15.00	1.00	B	8.00	8.00	3.00	P	4.00	12.00	1.00	B	8.00	8.00	1.00	A	9.00	9.00					
		Total Credit 18.00				FINAL CGPI 6.25				FINAL GRADE --																
7094383	BHAGWAT AJAY VITTHAL PUSHPA 2023016402345853 (30)Shahapur-(751)	58651 33E	8+	41	41	FEC101 --	20+	20	20	58652 20F	8+	28	28	FEL101 --	15+	15	15	58655 11F	6+	17	17	FEL102 --	17+	17	17	Unsuccessful 18.00 -- -- --
		3.00	P	4.00	12.00	1.00	O	10.00	10.00	2.00	F	0.00	0.00	0.50	C	7.00	3.50	2.00	F	0.00	0.00	0.50	C	7.00	3.50	
		58653 33E	17+	50	50	FEL103 --	13+	30	30	58654 20F	13+	33	33	FEL104 --	12+	24	24	FEL105 --	39+	39	39					
		3.00	D	6.00	18.00	1.00	C	7.00	7.00	3.00	F	0.00	0.00	1.00	E	5.00	5.00	1.00	A	9.00	9.00					
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																
7094384	BHAKARE HARSHAL BHAGWAN RANJANA 2023016402345532 (30)Shahapur-(751)	58651 47	9+	56	56	FEC101 --	20+	20	20	58652 26+	9+	35	35	FEL101 --	14+	14	14	58655 24+	6+	30	30	FEL102 --	17+	17	17	Successful 18.00 98.50 5.47 --
		3.00	D	6.00	18.00	1.00	O	10.00	10.00	2.00	E	5.00	10.00	0.50	D	6.00	3.00	2.00	P	4.00	8.00	0.50	C	7.00	3.50	
		58653 33+	9+	42	42	FEL103 --	16+	28	28	58654 32+	13+	45	45	FEL104 --	14+	29	29	FEL105 --	33+	33	33					
		3.00	P	4.00	12.00	1.00	D	6.00	6.00	3.00	E	5.00	15.00	1.00	D	6.00	6.00	1.00	C	7.00	7.00					
		Total Credit 18.00				FINAL CGPI 5.47				FINAL GRADE --																

/ - FEMALE, # - 0.229A, @ - 0.5042A/O.5043A/O.5044A, * - 5045A, RR-RESERVED, --:Fails in Theory or Practical, RPV - PROVISIONAL Eligible, RCC - 0.5050, AB - ABSENT, F - UNSUCCESSFUL, P - SUCCESSFUL;
 NULL=NULL & VOID, G:Grade C*G:Gradepoints C:credits CP:credit points aCG:sum of product of credits & grades, Internal Marks are Provisional as per R.8668
 aC:sum of credit points GPA: aCG/aC
 MARKS : 0 to 39.99 40 to 44.99 45 to 49.99 50 to 59.99 60 to 69.99 70 to 74.99 75 to 79.99 80 to 100
 GRADE : F P E D C B A O
 GRADE POINT : 0.00 4.00 5.00 6.00 7.00 8.00 9.00 10.00



University of Mumbai, Mumbai

OFFICE REGISTER OF THE B.E. (with credits) - Regular - CBCS(Electronics and Telecommunication Engineering)- F.E. C-Scheme - Sem I [T01831] HELD IN Summer 2025 Result Declaration Date:11 Jul 2025

58651-Engineering Mathematics-I: ThUA 80/32 ThCA 20/8 100/0 | 58652-Engineering Physics-I: ThUA 60/24 ThCA 15/6 75/0 | 58655-Engineering Chemistry-I: ThUA 60/24 ThCA 15/6 75/0 |
 58653-Engineering Mechanics: ThUA 80/32 ThCA 20/8 100/0 | 58654-Basic Electrical Engineering: ThUA 80/32 ThCA 20/8 100/0 | FEL101-Engineering Physics-I (TW): TwCA 25/10 25/0 |
 FEL102-Engineering Chemistry-I (TW): TwCA 25/10 25/0 | FEL103-Engineering Mechanics (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 | FEL104-Basic Electrical Engineering (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 |
 FEL105-Basic Workshop Practice-I: TwCA 50/20 50/0 | FEC101-Engineering Mathematics-I Term Work: TwCA 25/10 25/0 |

SEAT NO.	NAME OF THE CANDIDATE Mother Name PRN.	PAPER 1				PAPER 2				PAPER 3				PAPER 4				PAPER 5				PAPER 6				RESULT CR C*G SGPI GRADE	
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G		
CENTRE-COLLEGE		PAPER 7				PAPER 8				PAPER 9				PAPER 10				PAPER 11									
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G		
7094385	/ BHOIR MUKTA MUKUND LATA 2023016402337842 (30)Shahapur-(751)	58651 32+	8+	40		FEC101 --	22+	22		58652 26+	7+	33		FEL101 --	23+	23		58655 37+	7+	44		FEL102 --	23+	23	Successful 18.00 107.00		
		3.00	P	4.00	12.00	1.00	O	10.00	10.00	2.00	P	4.00	8.00	0.50	O	10.00	5.00	2.00	D	6.00	12.00	0.50	O	10.00	5.00	5.94 --	
		58653 40+	18+	58		FEL103 --	15+	31		58654 32	13+	45		FEL104 --	15+	31		FEL105 --	36+	36							
		3.00	D	6.00	18.00	1.00	C	7.00	7.00	3.00	E	5.00	15.00	1.00	C	7.00	7.00	1.00	B	8.00	8.00						
		Total Credit 18.00				FINAL CGPI 5.94				FINAL GRADE --																	
7094386	BHOIR SOHAM SACHIN ARCHANA 2022016402312143 (30)Shahapur-(751)	58651 34+	8+	42		FEC101 --	14+	14		58652 24	8+	32		FEL101 --	14+	14		58655 24+	10+	34		FEL102 --	21+	21	Successful 18.00 97.00		
		3.00	P	4.00	12.00	1.00	D	6.00	6.00	2.00	P	4.00	8.00	0.50	D	6.00	3.00	2.00	E	5.00	10.00	0.50	O	10.00	5.00	5.39 --	
		58653 42+	8+	50		FEL103 --	18+	36		58654 33+	14+	47		FEL104 --	19+	36		FEL105 --	21+	21							
		3.00	D	6.00	18.00	1.00	B	8.00	8.00	3.00	E	5.00	15.00	1.00	B	8.00	8.00	1.00	P	4.00	4.00						
		Total Credit 18.00				FINAL CGPI 5.39				FINAL GRADE --																	
7094387	KANCHAN KRUNAL SANJAY SHOBHA 2023016402345892 (30)Shahapur-(751)	58651 32+	9+	41		FEC101 --	19+	19		58652 29	6+	35		FEL101 --	15+	15		58655 24+	8+	32		FEL102 --	12+	12	Successful 18.00 99.00		
		3.00	P	4.00	12.00	1.00	A	9.00	9.00	2.00	E	5.00	10.00	0.50	C	7.00	3.50	2.00	P	4.00	8.00	0.50	E	5.00	2.50	5.50 --	
		58653 32+	18+	50		FEL103 --	12+	30		58654 34+	14+	48		FEL104 --	15+	31		FEL105 --	31+	31							
		3.00	D	6.00	18.00	1.00	C	7.00	7.00	3.00	E	5.00	15.00	1.00	C	7.00	7.00	1.00	C	7.00	7.00						
		Total Credit 18.00				FINAL CGPI 5.50				FINAL GRADE --																	

/ - FEMALE, # - 0.229A ,@ - 0.5042A/O.5043A/O.5044A, * - 5045A, RR-RESERVED, --:Fails in Theory or Practical, RPV - PROVISIONAL Eligible, RCC - 0.5050, AB - ABSENT, F - UNSUCCESSFUL, P - SUCCESSFUL;
 NULL=NULL & VOID, G:Grade C*G:Gradepoints C:credits CP:credit points aCG:sum of product of credits & grades, Internal Marks are Provisional as per R.8668
 aC:sum of credit points GPA: aCG/aC
 MARKS : 0 to 39.99 40 to 44.99 45 to 49.99 50 to 59.99 60 to 69.99 70 to 74.99 75 to 79.99 80 to 100
 GRADE : F P E D C B A O
 GRADE POINT : 0.00 4.00 5.00 6.00 7.00 8.00 9.00 10.00



University of Mumbai, Mumbai

OFFICE REGISTER OF THE B.E. (with credits) - Regular - CBCS(Electronics and Telecommunication Engineering)- F.E. C-Scheme - Sem I [1T01831] HELD IN Summer 2025 Result Declaration Date:11 Jul 2025

58651-Engineering Mathematics-I: ThUA 80/32 ThCA 20/8 100/0 | 58652-Engineering Physics-I: ThUA 60/24 ThCA 15/6 75/0 | 58655-Engineering Chemistry-I: ThUA 60/24 ThCA 15/6 75/0 |
 58653-Engineering Mechanics: ThUA 80/32 ThCA 20/8 100/0 | 58654-Basic Electrical Engineering: ThUA 80/32 ThCA 20/8 100/0 | FEL101-Engineering Physics-I (TW): TwCA 25/10 25/0 |
 FEL102-Engineering Chemistry-I (TW): TwCA 25/10 25/0 | FEL103-Engineering Mechanics (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 | FEL104-Basic Electrical Engineering (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 |
 FEL105-Basic Workshop Practice-I: TwCA 50/20 50/0 | FEC101-Engineering Mathematics-I Term Work: TwCA 25/10 25/0 |

SEAT NO.	NAME OF THE CANDIDATE Mother Name PRN.	PAPER 1				PAPER 2				PAPER 3				PAPER 4				PAPER 5				PAPER 6				RESULT CR C*G SGPI GRADE	
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G		
CENTRE-COLLEGE		PAPER 7				PAPER 8				PAPER 9				PAPER 10				PAPER 11									
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G		
7094388	MAHAJAN HARSHAL LAXMAN RANJANABAI 2023016402338056 (30)Shahapur-(751)	58651 34+	8+	42		FEC101 18+	18			58652 30	9+	39		FEL101 15+	15		58655 25+	6+	31		FEL102 12+	12		Successful 18.00 98.00 5.44 --			
		3.00	P	4.00	12.00	1.00	B	8.00	8.00	2.00	D	6.00	12.00	0.50	C	7.00	3.50	2.00	P	4.00	8.00	0.50	E	5.00	2.50		
		58653 32+	9+	41		FEL103 16+	31			58654 51+	8+	59		FEL104 15+	30		FEL105 35+	35									
		3.00	P	4.00	12.00	1.00	C	7.00	7.00	3.00	D	6.00	18.00	1.00	C	7.00	7.00	1.00	B	8.00	8.00						
		Total Credit 18.00				FINAL CGPI 5.44				FINAL GRADE --																	
7094389	/ PATIL SHREYA SHANKAR SHARDA 2023016402346237 (30)Shahapur-(751)	58651 32+	9+	41		FEC101 20+	20			58652 32	9+	41		FEL101 21+	21		58655 24+	6+	30		FEL102 17+	17		Successful 18.00 106.50 5.92 --			
		3.00	P	4.00	12.00	1.00	O	10.00	10.00	2.00	D	6.00	12.00	0.50	O	10.00	5.00	2.00	P	4.00	8.00	0.50	C	7.00	3.50		
		58653 32+	14+	46		FEL103 15+	32			58654 36+	14+	50		FEL104 18+	37		FEL105 35+	35									
		3.00	E	5.00	15.00	1.00	C	7.00	7.00	3.00	D	6.00	18.00	1.00	B	8.00	8.00	1.00	B	8.00	8.00						
		Total Credit 18.00				FINAL CGPI 5.92				FINAL GRADE --																	
7094390	/ SATVEKAR RIYA SAMBHAJI RAJASHREE 2023016402345547 (30)Shahapur-(751)	58651 32+	9+	41		FEC101 20+	20			58652 25+	6+	31		FEL101 20+	20		58655 24+	11+	35		FEL102 20+	20		Successful 18.00 109.00 6.06 --			
		3.00	P	4.00	12.00	1.00	O	10.00	10.00	2.00	P	4.00	8.00	0.50	O	10.00	5.00	2.00	E	5.00	10.00	0.50	O	10.00	5.00		
		58653 39	13+	52		FEL103 15+	30			58654 36+	15+	51		FEL104 18+	38		FEL105 34+	34									
		3.00	D	6.00	18.00	1.00	C	7.00	7.00	3.00	D	6.00	18.00	1.00	A	9.00	9.00	1.00	C	7.00	7.00						
		Total Credit 18.00				FINAL CGPI 6.06				FINAL GRADE --																	

/ - FEMALE, # - 0.229A,@ - 0.5042A/O.5043A/O.5044A,* - 5045A, RR-RESERVED, --:Fails in Theory or Practical, RPV - PROVISIONAL Eligible, RCC - 0.5050, AB - ABSENT, F - UNSUCCESSFUL,P - SUCCESSFUL;
 NULL=NULL & VOID, G:Grade C*G:Gradepoints C:credits CP:credit points aCG:sum of product of credits & grades, Internal Marks are Provisional as per R.8668
 aC:sum of credit points GPA: aCG/aC
 MARKS : 0 to 39.99 40 to 44.99 45 to 49.99 50 to 59.99 60 to 69.99 70 to 74.99 75 to 79.99 80 to 100
 GRADE : F P E D C B A O
 GRADE POINT : 0.00 4.00 5.00 6.00 7.00 8.00 9.00 10.00



University of Mumbai, Mumbai

OFFICE REGISTER OF THE B.E. (with credits) - Regular - CBCS(Electronics and Telecommunication Engineering)- F.E. C-Scheme - Sem I [1T01831] HELD IN Summer 2025 Result Declaration Date:11 Jul 2025

58651-Engineering Mathematics-I: ThUA 80/32 ThCA 20/8 100/0 | 58652-Engineering Physics-I: ThUA 60/24 ThCA 15/6 75/0 | 58655-Engineering Chemistry-I: ThUA 60/24 ThCA 15/6 75/0 |
 58653-Engineering Mechanics: ThUA 80/32 ThCA 20/8 100/0 | 58654-Basic Electrical Engineering: ThUA 80/32 ThCA 20/8 100/0 | FEL101-Engineering Physics-I (TW): TwCA 25/10 25/0 |
 FEL102-Engineering Chemistry-I (TW): TwCA 25/10 25/0 | FEL103-Engineering Mechanics (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 | FEL104-Basic Electrical Engineering (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 |
 FEL105-Basic Workshop Practice-I: TwCA 50/20 50/0 | FEC101-Engineering Mathematics-I Term Work: TwCA 25/10 25/0 |

SEAT NO.	NAME OF THE CANDIDATE Mother Name PRN.	PAPER 1				PAPER 2				PAPER 3				PAPER 4				PAPER 5				PAPER 6				RESULT CR C*G SGPI GRADE
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	
CENTRE-COLLEGE		PAPER 7				PAPER 8				PAPER 9				PAPER 10				PAPER 11								
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	
7094391	TUPE VEDANT VITTHAL JYOTSNA 2023016402345257 (30)Shahapur-(751)	58651 33+	10+	43		FEC101 --	20+	20		58652 25	6+	31		FEL101 --	16+	16		58655 24+	11+	35		FEL102 --	18+	18	Successful 18.00 103.50	
		3.00	P	4.00	12.00	1.00	O	10.00	10.00	2.00	P	4.00	8.00	0.50	C	7.00	3.50	2.00	E	5.00	10.00	0.50	B	8.00	4.00	5.75 --
		58653 34+	16+	50		FEL103 --	16+	32		58654 32+	17+	49		FEL104 --	15+	30		FEL105 --	38+	38						
		3.00	D	6.00	18.00	1.00	C	7.00	7.00	3.00	E	5.00	15.00	1.00	C	7.00	7.00	1.00	A	9.00	9.00					
		Total Credit 18.00				FINAL CGPI 5.75				FINAL GRADE --																
7094392	WAGH AYUSH SUNIL HARSHADA 2023016402346261 (30)Shahapur-(751)	58651 33+	8+	41		FEC101 --	19+	19		58652 26	10+	36		FEL101 --	12+	12		58655 24+	6+	30		FEL102 --	12+	12	Successful 18.00 94.00	
		3.00	P	4.00	12.00	1.00	A	9.00	9.00	2.00	E	5.00	10.00	0.50	E	5.00	2.50	2.00	P	4.00	8.00	0.50	E	5.00	2.50	5.22 --
		58653 32+	9+	41		FEL103 --	16+	33		58654 40+	11+	51		FEL104 --	11+	25		FEL105 --	33+	33						
		3.00	P	4.00	12.00	1.00	C	7.00	7.00	3.00	D	6.00	18.00	1.00	D	6.00	6.00	1.00	C	7.00	7.00					
		Total Credit 18.00				FINAL CGPI 5.22				FINAL GRADE --																
7094393	WAKADE VINIT GANESH KAVITA 2022016402306726 (30)Shahapur-(751)	58651 35+	8+	43		FEC101 --	20+	20		58652 24	6+	30		FEL101 --	16+	16		58655 25+	8+	33		FEL102 --	22+	22	Successful 18.00 100.50	
		3.00	P	4.00	12.00	1.00	O	10.00	10.00	2.00	P	4.00	8.00	0.50	C	7.00	3.50	2.00	P	4.00	8.00	0.50	O	10.00	5.00	5.58 --
		58653 33+	11+	44		FEL103 --	17+	34		58654 44+	10+	54		FEL104 --	21+	42		FEL105 --	34+	34						
		3.00	P	4.00	12.00	1.00	C	7.00	7.00	3.00	D	6.00	18.00	1.00	O	10.00	10.00	1.00	C	7.00	7.00					
		Total Credit 18.00				FINAL CGPI 5.58				FINAL GRADE --																

/ - FEMALE, # - 0.229A,@ - 0.5042A/O.5043A/O.5044A,* - 5045A, RR-RESERVED, --:Fails in Theory or Practical, RPV - PROVISIONAL Eligible, RCC - 0.5050, AB - ABSENT, F - UNSUCCESSFUL,P - SUCCESSFUL;
 NULL=NULL & VOID, G:Grade C*G:Gradepoints C:credits CP:credit points aCG:sum of product of credits & grades, Internal Marks are Provisional as per R.8668
 aC:sum of credit points GPA: aCG/aC
 MARKS : 0 to 39.99 40 to 44.99 45 to 49.99 50 to 59.99 60 to 69.99 70 to 74.99 75 to 79.99 80 to 100
 GRADE : F P E D C B A O
 GRADE POINT : 0.00 4.00 5.00 6.00 7.00 8.00 9.00 10.00



University of Mumbai, Mumbai

OFFICE REGISTER OF THE B.E. (with credits) - Regular - CBCS(Electronics and Telecommunication Engineering)- F.E. C-Scheme - Sem I [T01831] HELD IN Summer 2025 Result Declaration Date:11 Jul 2025

58651-Engineering Mathematics-I: ThUA 80/32 ThCA 20/8 100/0 | 58652-Engineering Physics-I: ThUA 60/24 ThCA 15/6 75/0 | 58655-Engineering Chemistry-I: ThUA 60/24 ThCA 15/6 75/0 |
 58653-Engineering Mechanics: ThUA 80/32 ThCA 20/8 100/0 | 58654-Basic Electrical Engineering: ThUA 80/32 ThCA 20/8 100/0 | FEL101-Engineering Physics-I (TW): TwCA 25/10 25/0 |
 FEL102-Engineering Chemistry-I (TW): TwCA 25/10 25/0 | FEL103-Engineering Mechanics (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 | FEL104-Basic Electrical Engineering (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 |
 FEL105-Basic Workshop Practice-I: TwCA 50/20 50/0 | FEC101-Engineering Mathematics-I Term Work: TwCA 25/10 25/0 |

SEAT NO.	NAME OF THE CANDIDATE Mother Name PRN.	PAPER 1				PAPER 2				PAPER 3				PAPER 4				PAPER 5				PAPER 6				RESULT CR C*G SGPI GRADE
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	
CENTRE-COLLEGE		PAPER 7				PAPER 8				PAPER 9				PAPER 10				PAPER 11								
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	
7094394	ANIKET ASHUTOSH JAISWAR OM KUMARI 2022016402306034 (30)Shahapur-(776)	58651 32+	10+	42	100	FEC101 18+	18	18	100	58652 24+	6+	30	100	FEL101 16+	16	16	100	58655 28+	6+	34	100	FEL102 17+	17	17	100	ABS 18.00 --
		3.00	P	4.00	12.00	1.00	B	8.00	8.00	2.00	P	4.00	8.00	0.50	C	7.00	3.50	2.00	E	5.00	10.00	0.50	C	7.00	3.50	-- --
		58653 AA	8+	8	100	FEL103 18+	30	30	100	58654 32+	8+	40	100	FEL104 12+	28	28	100	FEL105 21+	21	21	100					
		3.00	F	0.00	0.00	1.00	C	7.00	7.00	3.00	P	4.00	12.00	1.00	D	6.00	6.00	1.00	P	4.00	4.00					
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																
7094395	AAGHIVALE YASHWANT DEVRAM NAMI 2023016400930156 (30)Shahapur-(945)	58651 32	8+	40	100	FEC101 19+	19	19	100	58652 24+	9+	33	100	FEL101 21+	21	21	100	58655 24+	6+	30	100	FEL102 23+	23	23	100	Successful 18.00 100.00
		3.00	P	4.00	12.00	1.00	A	9.00	9.00	2.00	P	4.00	8.00	0.50	O	10.00	5.00	2.00	P	4.00	8.00	0.50	O	10.00	5.00	5.56 --
		58653 32+	10+	42	100	FEL103 19+	39	39	100	58654 34+	9+	43	100	FEL104 20+	41	41	100	FEL105 40+	40	40	100					
		3.00	P	4.00	12.00	1.00	A	9.00	9.00	3.00	P	4.00	12.00	1.00	O	10.00	10.00	1.00	O	10.00	10.00					
		Total Credit 18.00				FINAL CGPI 5.56				FINAL GRADE --																
7094396	GHORPADE SAURABH ANILRAO RANJANA 2023016400930102 (30)Shahapur-(945)	58651 38E	8+	46	100	FEC101 19+	19	19	100	58652 12F	10+	22	100	FEL101 21+	21	21	100	58655 31E	8+	39	100	FEL102 22+	22	22	100	Unsuccessful 18.00 --
		3.00	E	5.00	15.00	1.00	A	9.00	9.00	2.00	F	0.00	0.00	0.50	O	10.00	5.00	2.00	D	6.00	12.00	0.50	O	10.00	5.00	-- --
		58653 32+	8+	40	100	FEL103 18+	39	39	100	58654 41+	13+	54	100	FEL104 20+	41	41	100	FEL105 42+	42	42	100					
		3.00	P	4.00	12.00	1.00	A	9.00	9.00	3.00	D	6.00	18.00	1.00	O	10.00	10.00	1.00	O	10.00	10.00					
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																

/ - FEMALE, # - 0.229A,@ - 0.5042A/O.5043A/O.5044A, * - 5045A, RR-RESERVED, --:Fails in Theory or Practical, RPV - PROVISIONAL Eligible, RCC - 0.5050, AB - ABSENT, F - UNSUCCESSFUL,P - SUCCESSFUL;
 NULL=NULL & VOID, G:Grade C*G:Gradepoints C:credits CP:credit points aCG:sum of product of credits & grades, Internal Marks are Provisional as per R.8668
 aC:sum of credit points GPA: aCG/aC
 MARKS : 0 to 39.99 40 to 44.99 45 to 49.99 50 to 59.99 60 to 69.99 70 to 74.99 75 to 79.99 80 to 100
 GRADE : F P E D C B A O
 GRADE POINT : 0.00 4.00 5.00 6.00 7.00 8.00 9.00 10.00



University of Mumbai, Mumbai

OFFICE REGISTER OF THE B.E. (with credits) - Regular - CBCS(Electronics and Telecommunication Engineering)- F.E. C-Scheme - Sem I [1T01831] HELD IN Summer 2025 Result Declaration Date:11 Jul 2025

58651-Engineering Mathematics-I: ThUA 80/32 ThCA 20/8 100/0 | 58652-Engineering Physics-I: ThUA 60/24 ThCA 15/6 75/0 | 58655-Engineering Chemistry-I: ThUA 60/24 ThCA 15/6 75/0 |
 58653-Engineering Mechanics: ThUA 80/32 ThCA 20/8 100/0 | 58654-Basic Electrical Engineering: ThUA 80/32 ThCA 20/8 100/0 | FEL101-Engineering Physics-I (TW): TwCA 25/10 25/0 |
 FEL102-Engineering Chemistry-I (TW): TwCA 25/10 25/0 | FEL103-Engineering Mechanics (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 | FEL104-Basic Electrical Engineering (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 |
 FEL105-Basic Workshop Practice-I: TwCA 50/20 50/0 | FEC101-Engineering Mathematics-I Term Work: TwCA 25/10 25/0 |

SEAT NO.	NAME OF THE CANDIDATE Mother Name PRN.	PAPER 1				PAPER 2				PAPER 3				PAPER 4				PAPER 5				PAPER 6				RESULT CR C*G SGPI GRADE
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	
CENTRE-COLLEGE		PAPER 7				PAPER 8				PAPER 9				PAPER 10				PAPER 11								
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	
7094397	KALE VAIRAGYA RAMESH RESHMA 2022016402177275 (30)Shahapur-(945)	58651 45	12+	57		FEC101 --	22+	22		58652 24+	6+	30		FEL101 --	21+	21		58655 24+	6+	30		FEL102 --	21+	21	Successful 18.00 117.00	
		3.00	D	6.00	18.00	1.00	O	10.00	10.00	2.00	P	4.00	8.00	0.50	O	10.00	5.00	2.00	P	4.00	8.00	0.50	O	10.00	5.00	6.50 --
		58653 32+	18+	50		FEL103 --	23+	46		58654 32+	17+	49		FEL104 --	23+	46		FEL105 --	40+	40						
		3.00	D	6.00	18.00	1.00	O	10.00	10.00	3.00	E	5.00	15.00	1.00	O	10.00	10.00	1.00	O	10.00	10.00					
		Total Credit 18.00				FINAL CGPI 6.50				FINAL GRADE --																
7094398	/ CHAVAN SANIKA SANJAY SHRADDHA 2022016402153861 (40)Khed-(742)	58651 44+	12+	56		FEC101 --	19+	19		58652 24+	7+	31		FEL101 --	19+	19		58655 24+	13+	37		FEL102 --	21+	21	Successful 18.00 112.50	
		3.00	D	6.00	18.00	1.00	A	9.00	9.00	2.00	P	4.00	8.00	0.50	A	9.00	4.50	2.00	E	5.00	10.00	0.50	O	10.00	5.00	6.25 --
		58653 37	14+	51		FEL103 --	21+	40		58654 32+	12+	44		FEL104 --	20+	36		FEL105 --	40+	40						
		3.00	D	6.00	18.00	1.00	O	10.00	10.00	3.00	P	4.00	12.00	1.00	B	8.00	8.00	1.00	O	10.00	10.00					
		Total Credit 18.00				FINAL CGPI 6.25				FINAL GRADE --																
7094399	GOTAL DHANANJAY CHANDRAKANT NALINI 2023016401210202 (40)Khed-(742)	58651 32+	12+	44		FEC101 --	20+	20		58652 24+	9+	33		FEL101 --	18+	18		58655 31+	14+	45		FEL102 --	21+	21	Successful 18.00 104.00	
		3.00	P	4.00	12.00	1.00	O	10.00	10.00	2.00	P	4.00	8.00	0.50	B	8.00	4.00	2.00	C	7.00	14.00	0.50	O	10.00	5.00	5.78 --
		58653 32	14+	46		FEL103 --	21+	37		58654 32+	12+	44		FEL104 --	17+	29		FEL105 --	45+	45						
		3.00	E	5.00	15.00	1.00	B	8.00	8.00	3.00	P	4.00	12.00	1.00	D	6.00	6.00	1.00	O	10.00	10.00					
		Total Credit 18.00				FINAL CGPI 5.78				FINAL GRADE --																

/ - FEMALE, # - 0.229A,@ - 0.5042A/O.5043A/O.5044A,* - 5045A, RR-RESERVED, --:Fails in Theory or Practical, RPV - PROVISIONAL Eligible, RCC - 0.5050, AB - ABSENT, F - UNSUCCESSFUL,P - SUCCESSFUL;
 NULL=NULL & VOID, G:Grade C*G:Gradepoints C:credits CP:credit points aCG:sum of product of credits & grades, Internal Marks are Provisional as per R.8668
 aC:sum of credit points GPA: aCG/aC
 MARKS : 0 to 39.99 40 to 44.99 45 to 49.99 50 to 59.99 60 to 69.99 70 to 74.99 75 to 79.99 80 to 100
 GRADE : F P E D C B A O
 GRADE POINT : 0.00 4.00 5.00 6.00 7.00 8.00 9.00 10.00



University of Mumbai, Mumbai

OFFICE REGISTER OF THE B.E. (with credits) - Regular - CBCS(Electronics and Telecommunication Engineering)- F.E. C-Scheme - Sem I [1T01831] HELD IN Summer 2025 Result Declaration Date:11 Jul 2025

58651-Engineering Mathematics-I: ThUA 80/32 ThCA 20/8 100/0 | 58652-Engineering Physics-I: ThUA 60/24 ThCA 15/6 75/0 | 58655-Engineering Chemistry-I: ThUA 60/24 ThCA 15/6 75/0 |
 58653-Engineering Mechanics: ThUA 80/32 ThCA 20/8 100/0 | 58654-Basic Electrical Engineering: ThUA 80/32 ThCA 20/8 100/0 | FEL101-Engineering Physics-I (TW): TwCA 25/10 25/0 |
 FEL102-Engineering Chemistry-I (TW): TwCA 25/10 25/0 | FEL103-Engineering Mechanics (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 | FEL104-Basic Electrical Engineering (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 |
 FEL105-Basic Workshop Practice-I: TwCA 50/20 50/0 | FEC101-Engineering Mathematics-I Term Work: TwCA 25/10 25/0 |

SEAT NO.	NAME OF THE CANDIDATE Mother Name PRN.	PAPER 1				PAPER 2				PAPER 3				PAPER 4				PAPER 5				PAPER 6				RESULT CR C*G SGPI GRADE			
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G				
CENTRE-COLLEGE		PAPER 7				PAPER 8				PAPER 9				PAPER 10				PAPER 11											
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G				
7094400	KAVISKAR SUJAL SHANTARAM SHITAL 2022016402153667 (40)Khed-(742)	58651 33+ 9+ 42 3.00 P 4.00 12.00	FEC101 --- 16+ 16 1.00 C 7.00 7.00	58652 24+ 6+ 30 2.00 P 4.00 8.00	FEL101 --- 15+ 15 0.50 C 7.00 3.50	58655 27E 7+ 34 2.00 E 5.00 10.00	FEL102 --- 18+ 18 0.50 B 8.00 4.00	Unsuccessful 18.00 -- -- --																					
		58653 21F 14+ 35 3.00 F 0.00 0.00	FEL103 --- 17+ 33 1.00 C 7.00 7.00	58654 37+ 8+ 45 3.00 E 5.00 15.00	FEL104 --- 16+ 28 1.00 D 6.00 6.00	FEL105 --- 36+ 36 1.00 B 8.00 8.00	Total Credit 18.00 FINAL CGPI -- FINAL GRADE --																						
7094401	/ KHAMBE RAJ RAVINDRA RESHAM 2023016401212835 (40)Khed-(742)	58651 32+ 10+ 42 3.00 P 4.00 12.00	FEC101 --- 18+ 18 1.00 B 8.00 8.00	58652 24+ 11 35 2.00 E 5.00 10.00	FEL101 --- 14+ 14 0.50 D 6.00 3.00	58655 24+ 12+ 36 2.00 E 5.00 10.00	FEL102 --- 18+ 18 0.50 B 8.00 4.00	Successful 18.00 105.00 5.83 --																					
		58653 42 13+ 55 3.00 D 6.00 18.00	FEL103 --- 22+ 39 1.00 A 9.00 9.00	58654 34+ 12+ 46 3.00 E 5.00 15.00	FEL104 --- 13+ 26 1.00 D 6.00 6.00	FEL105 --- 40+ 40 1.00 O 10.00 10.00	Total Credit 18.00 FINAL CGPI 5.83 FINAL GRADE --																						
7094402	KOKATE AMIT BHALCHANDRA HARSHADA 2023016401237334 (40)Khed-(742)	58651 38+ 11+ 49 3.00 E 5.00 15.00	FEC101 --- 23+ 23 1.00 O 10.00 10.00	58652 25+ 8+ 33 2.00 P 4.00 8.00	FEL101 --- 22+ 22 0.50 O 10.00 5.00	58655 24+ 13+ 37 2.00 E 5.00 10.00	FEL102 --- 20+ 20 0.50 O 10.00 5.00	Successful 18.00 112.00 6.22 --																					
		58653 33+ 13+ 46 3.00 E 5.00 15.00	FEL103 --- 20+ 40 1.00 O 10.00 10.00	58654 37 15+ 52 3.00 D 6.00 18.00	FEL104 --- 16+ 28 1.00 D 6.00 6.00	FEL105 --- 46+ 46 1.00 O 10.00 10.00	Total Credit 18.00 FINAL CGPI 6.22 FINAL GRADE --																						

/ - FEMALE, # - 0.229A,@ - 0.5042A/O.5043A/O.5044A,* - 5045A, RR-RESERVED, ---:Fails in Theory or Practical, RPV - PROVISIONAL Eligible, RCC - 0.5050, AB - ABSENT, F - UNSUCCESSFUL,P - SUCCESSFUL;
 NULL=NULL & VOID, G:Grade C*G:Gradepoints C:credits CP:credit points aCG:sum of product of credits & grades, Internal Marks are Provisional as per R.8668
 aC:sum of credit points GPA: aCG/aC
 MARKS : 0 to 39.99 40 to 44.99 45 to 49.99 50 to 59.99 60 to 69.99 70 to 74.99 75 to 79.99 80 to 100
 GRADE : F P E D C B A O
 GRADE POINT : 0.00 4.00 5.00 6.00 7.00 8.00 9.00 10.00



University of Mumbai, Mumbai

OFFICE REGISTER OF THE B.E. (with credits) - Regular - CBCS(Electronics and Telecommunication Engineering)- F.E. C-Scheme - Sem I [T01831] HELD IN Summer 2025 Result Declaration Date:11 Jul 2025

58651-Engineering Mathematics-I: ThUA 80/32 ThCA 20/8 100/0 | 58652-Engineering Physics-I: ThUA 60/24 ThCA 15/6 75/0 | 58655-Engineering Chemistry-I: ThUA 60/24 ThCA 15/6 75/0 |
 58653-Engineering Mechanics: ThUA 80/32 ThCA 20/8 100/0 | 58654-Basic Electrical Engineering: ThUA 80/32 ThCA 20/8 100/0 | FEL101-Engineering Physics-I (TW): TwCA 25/10 25/0 |
 FEL102-Engineering Chemistry-I (TW): TwCA 25/10 25/0 | FEL103-Engineering Mechanics (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 | FEL104-Basic Electrical Engineering (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 |
 FEL105-Basic Workshop Practice-I: TwCA 50/20 50/0 | FEC101-Engineering Mathematics-I Term Work: TwCA 25/10 25/0 |

SEAT NO.	NAME OF THE CANDIDATE Mother Name PRN.	PAPER 1				PAPER 2				PAPER 3				PAPER 4				PAPER 5				PAPER 6				RESULT CR C*G SGPI GRADE
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	
CENTRE-COLLEGE		PAPER 7				PAPER 8				PAPER 9				PAPER 10				PAPER 11								
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	
7094403	PATIL KUNAL SURESH CHAYA 2023016401210183 (40)Khed-(742)	58651 42+	12+	54	100	FEC101 --	20+	20	100	58652 25+	8+	33	100	FEL101 --	19+	19	100	58655 31+	11+	42	100	FEL102 --	21+	21	100	Unsuccessful 18.00 --
		3.00	D	6.00	18.00	1.00	O	10.00	10.00	2.00	P	4.00	8.00	0.50	A	9.00	4.50	2.00	D	6.00	12.00	0.50	O	10.00	5.00	-- --
		58653 40E	9+	49	100	FEL103 --	21+	37	100	58654 18F	11+	29	100	FEL104 --	17+	29	100	FEL105 --	46+	46	100					
		3.00	E	5.00	15.00	1.00	B	8.00	8.00	3.00	F	0.00	0.00	1.00	D	6.00	6.00	1.00	O	10.00	10.00					
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																
7094404	PEVEKAR ABHISHEK KRUSHNA NIKITA 2022016402153621 (40)Khed-(742)	58651 32+	9+	41	100	FEC101 --	18+	18	100	58652 24+	8+	32	100	FEL101 --	16+	16	100	58655 24+	AA	24	100	FEL102 --	19+	19	100	Unsuccessful 18.00 --
		3.00	P	4.00	12.00	1.00	B	8.00	8.00	2.00	P	4.00	8.00	0.50	C	7.00	3.50	2.00	F	0.00	0.00	0.50	A	9.00	4.50	-- --
		58653 11F	13+	24	100	FEL103 --	13+	26	100	58654 13F	12+	25	100	FEL104 --	14+	26	100	FEL105 --	37+	37	100					
		3.00	F	0.00	0.00	1.00	D	6.00	6.00	3.00	F	0.00	0.00	1.00	D	6.00	6.00	1.00	B	8.00	8.00					
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																
7094405	/ SHELAR ACHAL DEEPAK SAKSHI 2022016402159173 (40)Khed-(742)	58651 19F	11+	30	100	FEC101 --	23+	23	100	58652 24+	7+	31	100	FEL101 --	19+	19	100	58655 24+	12+	36	100	FEL102 --	22+	22	100	Unsuccessful 18.00 --
		3.00	F	0.00	0.00	1.00	O	10.00	10.00	2.00	P	4.00	8.00	0.50	A	9.00	4.50	2.00	E	5.00	10.00	0.50	O	10.00	5.00	-- --
		58653 32+	8+	40	100	FEL103 --	22+	42	100	58654 37+	8+	45	100	FEL104 --	22+	39	100	FEL105 --	41+	41	100					
		3.00	P	4.00	12.00	1.00	O	10.00	10.00	3.00	E	5.00	15.00	1.00	A	9.00	9.00	1.00	O	10.00	10.00					
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																

/ - FEMALE, # - 0.229A,@ - 0.5042A/O.5043A/O.5044A,* - 5045A, RR-RESERVED, --:Fails in Theory or Practical, RPV - PROVISIONAL Eligible, RCC - 0.5050, AB - ABSENT, F - UNSUCCESSFUL,P - SUCCESSFUL;
 NULL=NULL & VOID, G:Grade C*G:Gradepoints C:credits CP:credit points aCG:sum of product of credits & grades, Internal Marks are Provisional as per R.8668
 aC:sum of credit points GPA: aCG/aC
 MARKS : 0 to 39.99 40 to 44.99 45 to 49.99 50 to 59.99 60 to 69.99 70 to 74.99 75 to 79.99 80 to 100
 GRADE : F P E D C B A O
 GRADE POINT : 0.00 4.00 5.00 6.00 7.00 8.00 9.00 10.00



University of Mumbai, Mumbai

OFFICE REGISTER OF THE B.E. (with credits) - Regular - CBCS(Electronics and Telecommunication Engineering)- F.E. C-Scheme - Sem I [1T01831] HELD IN Summer 2025 Result Declaration Date:11 Jul 2025

58651-Engineering Mathematics-I: ThUA 80/32 ThCA 20/8 100/0 | 58652-Engineering Physics-I: ThUA 60/24 ThCA 15/6 75/0 | 58655-Engineering Chemistry-I: ThUA 60/24 ThCA 15/6 75/0 |
 58653-Engineering Mechanics: ThUA 80/32 ThCA 20/8 100/0 | 58654-Basic Electrical Engineering: ThUA 80/32 ThCA 20/8 100/0 | FEL101-Engineering Physics-I (TW): TwCA 25/10 25/0 |
 FEL102-Engineering Chemistry-I (TW): TwCA 25/10 25/0 | FEL103-Engineering Mechanics (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 | FEL104-Basic Electrical Engineering (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 |
 FEL105-Basic Workshop Practice-I: TwCA 50/20 50/0 | FEC101-Engineering Mathematics-I Term Work: TwCA 25/10 25/0 |

SEAT NO.	NAME OF THE CANDIDATE Mother Name PRN.	PAPER 1				PAPER 2				PAPER 3				PAPER 4				PAPER 5				PAPER 6				RESULT CR C*G SGPI GRADE
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	
CENTRE-COLLEGE		PAPER 7				PAPER 8				PAPER 9				PAPER 10				PAPER 11								
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	
7094406	/ UDEG RIYA VIKAS AVANTI 2022016402153443 (40)Khed-(742)	58651 32+ 3.00 P	8+ 4.00	40 12.00	1.00 O	19+ 9.00	19 9.00	12F 0.00	7+ 0.00	19 0.00	1.00 B	21+ 8.00	21 8.00	2.00 P	4.00	8.00	1.00 O	10.00	5.00	1.00 O	20+ 10.00	20 5.00	18.00	--	Unsuccessful	
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																
7094407	PALSHETKAR SHRDHESH SUNIL SUVIDHA 2022016402053941 (41)Guhaghar-(978)	58651 32+ 3.00 P	9+ 4.00	41 12.00	1.00 D	14+ 6.00	14 6.00	32+ 2.00	8+ 6.00	40 12.00	1.00 C	15+ 7.00	15 3.50	2.00 P	4.00	8.00	1.00 O	10.00	5.00	1.00 O	20+ 10.00	20 5.00	18.00	90.50	Successful	
		Total Credit 18.00				FINAL CGPI 5.03				FINAL GRADE --																
7094408	BANDE BHARGAV KAMLESH VRUSHALI 2023016402229296 (47)Bhayandar-(890)	58651 32 3.00 P	8+ 4.00	40 12.00	1.00 B	18+ 8.00	18 8.00	24+ 2.00	8+ 4.00	32 8.00	1.00 O	23+ 10.00	23 5.00	2.00 E	5.00	10.00	1.00 A	9.00	4.50	1.00 C	19+ 7.00	19 7.00	18.00	99.50	Successful	
		Total Credit 18.00				FINAL CGPI 5.53				FINAL GRADE --																

/ - FEMALE, # - 0.229A,@ - 0.5042A/O.5043A/O.5044A,* - 5045A, RR-RESERVED, --:Fails in Theory or Practical, RPV - PROVISIONAL Eligible, RCC - 0.5050, AB - ABSENT, F - UNSUCCESSFUL,P - SUCCESSFUL;
 NULL=NULL & VOID, G:Grade C*G:Gradepoints C:credits CP:credit points aCG:sum of product of credits & grades, Internal Marks are Provisional as per R.8668
 aC:sum of credit points GPA: aCG/aC
 MARKS : 0 to 39.99 40 to 44.99 45 to 49.99 50 to 59.99 60 to 69.99 70 to 74.99 75 to 79.99 80 to 100
 GRADE : F P E D C B A O
 GRADE POINT : 0.00 4.00 5.00 6.00 7.00 8.00 9.00 10.00



University of Mumbai, Mumbai

OFFICE REGISTER OF THE B.E. (with credits) - Regular - CBCS(Electronics and Telecommunication Engineering)- F.E. C-Scheme - Sem I [T01831] HELD IN Summer 2025 Result Declaration Date:11 Jul 2025

58651-Engineering Mathematics-I: ThUA 80/32 ThCA 20/8 100/0 | 58652-Engineering Physics-I: ThUA 60/24 ThCA 15/6 75/0 | 58655-Engineering Chemistry-I: ThUA 60/24 ThCA 15/6 75/0 |
 58653-Engineering Mechanics: ThUA 80/32 ThCA 20/8 100/0 | 58654-Basic Electrical Engineering: ThUA 80/32 ThCA 20/8 100/0 | FEL101-Engineering Physics-I (TW): TwCA 25/10 25/0 |
 FEL102-Engineering Chemistry-I (TW): TwCA 25/10 25/0 | FEL103-Engineering Mechanics (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 | FEL104-Basic Electrical Engineering (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 |
 FEL105-Basic Workshop Practice-I: TwCA 50/20 50/0 | FEC101-Engineering Mathematics-I Term Work: TwCA 25/10 25/0 |

SEAT NO.	NAME OF THE CANDIDATE Mother Name PRN.	PAPER 1				PAPER 2				PAPER 3				PAPER 4				PAPER 5				PAPER 6				RESULT CR C*G SGPI GRADE			
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G				
CENTRE-COLLEGE		PAPER 7				PAPER 8				PAPER 9				PAPER 10				PAPER 11											
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G				
7094409	GOHIL PANKAJ GHANSHYAM MANISHA 2022016402282022 (47)Bhayandar-(890)	58651 19F 3.00 F 0.00 0.00	8+	27	27	FEC101 17+ 1.00 C 7.00 7.00	17	17	17	58652 29+ 2.00 E 5.00 10.00	6+	35	35	FEL101 17+ 0.50 C 7.00 3.50	17	17	17	58655 30+ 2.00 E 5.00 10.00	6+	36	36	FEL102 20+ 0.50 O 10.00 5.00	20	20	20	18.00 -- -- --			
		58653 45+ 3.00 D 6.00 18.00	12+	57	57	FEL103 14+ 1.00 C 7.00 7.00	30	30	30	58654 38+ 3.00 E 5.00 15.00	9+	47	47	FEL104 15+ 1.00 B 8.00 8.00	35	35	35	FEL105 40+ 1.00 O 10.00 10.00	40	40	40								
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																			
7094410	JAISWAL DIPANSHU SUNILKUMAR SUNITA 2023016402234475 (47)Bhayandar-(890)	58651 39+ 3.00 D 6.00 18.00	13+	52	52	FEC101 17+ 1.00 C 7.00 7.00	17	17	17	58652 26+ 2.00 E 5.00 10.00	8+	34	34	FEL101 19+ 0.50 A 9.00 4.50	19	19	19	58655 26+ 2.00 P 4.00 8.00	6+	32	32	FEL102 17+ 0.50 C 7.00 3.50	17	17	17	18.00 106.00 5.89 --			
		58653 32+ 3.00 E 5.00 15.00	15+	47	47	FEL103 10+ 1.00 D 6.00 6.00	27	27	27	58654 40 3.00 D 6.00 18.00	14+	54	54	FEL104 19+ 1.00 A 9.00 9.00	38	38	38	FEL105 32+ 1.00 C 7.00 7.00	32	32	32								
		Total Credit 18.00				FINAL CGPI 5.89				FINAL GRADE --																			
7094411	MISHRA ANURAG JATASHANKAR ANITA 2023016402229184 (47)Bhayandar-(890)	58651 21F 3.00 F 0.00 0.00	13+	34	34	FEC101 19+ 1.00 A 9.00 9.00	19	19	19	58652 27+ 2.00 E 5.00 10.00	7+	34	34	FEL101 22+ 0.50 O 10.00 5.00	22	22	22	58655 27+ 2.00 E 5.00 10.00	8+	35	35	FEL102 17+ 0.50 C 7.00 3.50	17	17	17	18.00 -- -- --			
		58653 42+ 3.00 D 6.00 18.00	13+	55	55	FEL103 15+ 1.00 C 7.00 7.00	30	30	30	58654 32+ 3.00 P 4.00 12.00	8+	40	40	FEL104 21+ 1.00 O 10.00 10.00	40	40	40	FEL105 25+ 1.00 D 6.00 6.00	25	25	25								
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																			

/ - FEMALE, # - 0.229A,@ - 0.5042A/O.5043A/O.5044A,* - 5045A, RR-RESERVED, --:Fails in Theory or Practical, RPV - PROVISIONAL Eligible, RCC - 0.5050, AB - ABSENT, F - UNSUCCESSFUL,P - SUCCESSFUL;
 NULL=NULL & VOID, G:Grade C*G:Gradepoints C:credits CP:credit points aCG:sum of product of credits & grades, Internal Marks are Provisional as per R.8668
 aC:sum of credit points GPA: aCG/aC
 MARKS : 0 to 39.99 40 to 44.99 45 to 49.99 50 to 59.99 60 to 69.99 70 to 74.99 75 to 79.99 80 to 100
 GRADE : F P E D C B A O
 GRADE POINT : 0.00 4.00 5.00 6.00 7.00 8.00 9.00 10.00



University of Mumbai, Mumbai

OFFICE REGISTER OF THE B.E. (with credits) - Regular - CBCS (Electronics and Telecommunication Engineering)- F.E. C-Scheme - Sem I [T01831] HELD IN Summer 2025 Result Declaration Date: 11 Jul 2025

58651-Engineering Mathematics-I: ThUA 80/32 ThCA 20/8 100/0 | 58652-Engineering Physics-I: ThUA 60/24 ThCA 15/6 75/0 | 58655-Engineering Chemistry-I: ThUA 60/24 ThCA 15/6 75/0 |
 58653-Engineering Mechanics: ThUA 80/32 ThCA 20/8 100/0 | 58654-Basic Electrical Engineering: ThUA 80/32 ThCA 20/8 100/0 | FEL101-Engineering Physics-I (TW): TwCA 25/10 25/0 |
 FEL102-Engineering Chemistry-I (TW): TwCA 25/10 25/0 | FEL103-Engineering Mechanics (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 | FEL104-Basic Electrical Engineering (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 |
 FEL105-Basic Workshop Practice-I: TwCA 50/20 50/0 | FEC101-Engineering Mathematics-I Term Work: TwCA 25/10 25/0 |

SEAT NO.	NAME OF THE CANDIDATE Mother Name PRN.	PAPER 1				PAPER 2				PAPER 3				PAPER 4				PAPER 5				PAPER 6				RESULT CR C*G SGPI GRADE	
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G		
CENTRE-COLLEGE		PAPER 7				PAPER 8				PAPER 9				PAPER 10				PAPER 11									
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G		
7094412	MANAV SAMARJIT NARAG RUBY 2023016402234483 (47)Bhayandar-(890)	58651 34	13+	47	1.00	FEC101 16+	16	24+	10+	34	1.00	58652 24+	10+	34	1.00	FEL101 21+	21	31+	11+	42	1.00	FEL102 13+	13	18.00	109.00	Successful	
		3.00	E	5.00	15.00	1.00	C	7.00	7.00	2.00	E	5.00	10.00	0.50	O	10.00	5.00	2.00	D	6.00	12.00	0.50	D	6.00	3.00	6.06	--
		40+	10+	50	1.00	FEL103 16+	31	39+	10+	49	1.00	58654 39+	10+	49	1.00	FEL104 22+	44	40+	30+	30	1.00	FEL105 30+	30				
		3.00	D	6.00	18.00	1.00	C	7.00	7.00	3.00	E	5.00	15.00	1.00	O	10.00	10.00	1.00	C	7.00	7.00						
		Total Credit 18.00				FINAL CGPI 6.06				FINAL GRADE --																	
7094413	PANDEY KRISHNAMOHAN ANIL KUMAR - RADHA 2023016402229644 (47)Bhayandar-(890)	58651 13F	2F	15	1.00	FEC101 20+	20	16F	8+	24	1.00	58652 16F	8+	24	1.00	FEL101 19+	19	24+	7+	31	1.00	FEL102 19+	19	18.00	--	Unsuccessful	
		3.00	F	0.00	0.00	1.00	O	10.00	10.00	2.00	F	0.00	0.00	0.50	A	9.00	4.50	2.00	P	4.00	8.00	0.50	A	9.00	4.50	--	--
		7F	14+	21	1.00	FEL103 17+	37	26F	8+	34	1.00	58654 26F	8+	34	1.00	FEL104 14+	30	40+	32+	32	1.00	FEL105 32+	32				
		3.00	F	0.00	0.00	1.00	B	8.00	8.00	3.00	F	0.00	0.00	1.00	C	7.00	7.00	1.00	C	7.00	7.00						
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																	
7094414	PODDAR VANSH BHARAT SUNITA 2023016402234982 (47)Bhayandar-(890)	58651 12F	8+	20	1.00	FEC101 14+	14	11F	6+	17	1.00	58652 11F	6+	17	1.00	FEL101 15+	15	15F	6+	21	1.00	FEL102 19+	19	18.00	--	Unsuccessful	
		3.00	F	0.00	0.00	1.00	D	6.00	6.00	2.00	F	0.00	0.00	0.50	C	7.00	3.50	2.00	F	0.00	0.00	0.50	A	9.00	4.50	--	--
		32+	9+	41	1.00	FEL103 16+	31	32+	9+	41	1.00	58654 32+	9+	41	1.00	FEL104 21+	40	40+	20+	20	1.00	FEL105 20+	20				
		3.00	P	4.00	12.00	1.00	C	7.00	7.00	3.00	P	4.00	12.00	1.00	O	10.00	10.00	1.00	P	4.00	4.00						
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																	

/ - FEMALE, # - 0.229A, @ - 0.5042A/O.5043A/O.5044A, * - 5045A, RR-RESERVED, --:Fails in Theory or Practical, RPV - PROVISIONAL Eligible, RCC - 0.5050, AB - ABSENT, F - UNSUCCESSFUL, P - SUCCESSFUL;
 NULL=NULL & VOID, G:Grade C*G:Gradepoints C:credits CP:credit points aCG:sum of product of credits & grades, Internal Marks are Provisional as per R.8668
 aC:sum of credit points GPA: aCG/aC
 MARKS : 0 to 39.99 40 to 44.99 45 to 49.99 50 to 59.99 60 to 69.99 70 to 74.99 75 to 79.99 80 to 100
 GRADE : F P E D C B A O
 GRADE POINT : 0.00 4.00 5.00 6.00 7.00 8.00 9.00 10.00



University of Mumbai, Mumbai

OFFICE REGISTER OF THE B.E. (with credits) - Regular - CBCS(Electronics and Telecommunication Engineering)- F.E. C-Scheme - Sem I [T01831] HELD IN Summer 2025 Result Declaration Date:11 Jul 2025

58651-Engineering Mathematics-I: ThUA 80/32 ThCA 20/8 100/0 | 58652-Engineering Physics-I: ThUA 60/24 ThCA 15/6 75/0 | 58655-Engineering Chemistry-I: ThUA 60/24 ThCA 15/6 75/0 |
 58653-Engineering Mechanics: ThUA 80/32 ThCA 20/8 100/0 | 58654-Basic Electrical Engineering: ThUA 80/32 ThCA 20/8 100/0 | FEL101-Engineering Physics-I (TW): TwCA 25/10 25/0 |
 FEL102-Engineering Chemistry-I (TW): TwCA 25/10 25/0 | FEL103-Engineering Mechanics (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 | FEL104-Basic Electrical Engineering (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 |
 FEL105-Basic Workshop Practice-I: TwCA 50/20 50/0 | FEC101-Engineering Mathematics-I Term Work: TwCA 25/10 25/0 |

SEAT NO.	NAME OF THE CANDIDATE Mother Name PRN.	PAPER 1				PAPER 2				PAPER 3				PAPER 4				PAPER 5				PAPER 6				RESULT CR C*G SGPI GRADE	
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G		
CENTRE-COLLEGE		PAPER 7				PAPER 8				PAPER 9				PAPER 10				PAPER 11									
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G		
7094415	OSAMA MOHD RAFI ISHRAT MOHAMMAD RAFI 2023016402229934 (47)Bhayandar-(890)	58651 9F	14+	23		FEC101 --	10+	10		58652 24+	6+	30		FEL101 --	10+	10		58655 29+	7+	36		FEL102 --	13+	13	18.00 --		
		3.00	F	0.00	0.00	1.00	P	4.00	4.00	2.00	P	4.00	8.00	0.50	P	4.00	2.00	2.00	E	5.00	10.00	0.50	D	6.00	3.00	-- --	
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																	
7094416	SHAIKH MOHAMMED AYAAN SHARFUDDIN - SALMA 2023016402231697 (47)Bhayandar-(890)	58651 44	8+	52		FEC101 --	15+	15		58652 36+	12+	48		FEL101 --	16+	16		58655 25+	9+	34		FEL102 --	21+	21	18.00 107.50		
		3.00	D	6.00	18.00	1.00	C	7.00	7.00	2.00	C	7.00	14.00	0.50	C	7.00	3.50	2.00	E	5.00	10.00	0.50	O	10.00	5.00	5.97 --	
		Total Credit 18.00				FINAL CGPI 5.97				FINAL GRADE --																	
7094417	SHARMA ARUN RADHESHYAM SANTOSH 2023016402229586 (47)Bhayandar-(890)	58651 24F	8+	32		FEC101 --	14+	14		58652 32+	7+	39		FEL101 --	19+	19		58655 27+	9+	36		FEL102 --	21+	21	18.00 --		
		3.00	F	0.00	0.00	1.00	D	6.00	6.00	2.00	D	6.00	12.00	0.50	A	9.00	4.50	2.00	E	5.00	10.00	0.50	O	10.00	5.00	-- --	
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																	

/ - FEMALE, # - 0.229A,@ - 0.5042A/O.5043A/O.5044A, * - 5045A, RR-RESERVED, --:Fails in Theory or Practical, RPV - PROVISIONAL Eligible, RCC - 0.5050, AB - ABSENT, F - UNSUCCESSFUL,P - SUCCESSFUL;
 NULL=NULL & VOID, G:Grade C*G:Gradepoints C:credits CP:credit points aCG:sum of product of credits & grades, Internal Marks are Provisional as per R.8668
 aC:sum of credit points GPA: aCG/aC
 MARKS : 0 to 39.99 40 to 44.99 45 to 49.99 50 to 59.99 60 to 69.99 70 to 74.99 75 to 79.99 80 to 100
 GRADE : F P E D C B A O
 GRADE POINT : 0.00 4.00 5.00 6.00 7.00 8.00 9.00 10.00



University of Mumbai, Mumbai

OFFICE REGISTER OF THE B.E. (with credits) - Regular - CBCS(Electronics and Telecommunication Engineering)- F.E. C-Scheme - Sem I [1T01831] HELD IN Summer 2025 Result Declaration Date:11 Jul 2025

58651-Engineering Mathematics-I: ThUA 80/32 ThCA 20/8 100/0 | 58652-Engineering Physics-I: ThUA 60/24 ThCA 15/6 75/0 | 58655-Engineering Chemistry-I: ThUA 60/24 ThCA 15/6 75/0 |
 58653-Engineering Mechanics: ThUA 80/32 ThCA 20/8 100/0 | 58654-Basic Electrical Engineering: ThUA 80/32 ThCA 20/8 100/0 | FEL101-Engineering Physics-I (TW): TwCA 25/10 25/0 |
 FEL102-Engineering Chemistry-I (TW): TwCA 25/10 25/0 | FEL103-Engineering Mechanics (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 | FEL104-Basic Electrical Engineering (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 |
 FEL105-Basic Workshop Practice-I: TwCA 50/20 50/0 | FEC101-Engineering Mathematics-I Term Work: TwCA 25/10 25/0 |

SEAT NO.	NAME OF THE CANDIDATE Mother Name PRN.	PAPER 1				PAPER 2				PAPER 3				PAPER 4				PAPER 5				PAPER 6				RESULT CR C*G SGPI GRADE	
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G		
CENTRE-COLLEGE		PAPER 7				PAPER 8				PAPER 9				PAPER 10				PAPER 11									
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G		
7094418	SINGH ADITYA SATYANARAYAN SUDHA 2022016402282695 (47)Bhayandar-(890)	58651 14F 13.00 F	13+	27	0.00	FEC101 14F 1.00 C	16+	16	7.00	58652 24+ 2.00 P	9+	33	8.00	FEL101 14F 0.50 B	18+	18	8.00	58655 24+ 2.00 P	6+	30	8.00	FEL102 14F 0.50 O	23+	23	5.00	18.00 -- -- --	
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																	
7094419	SINGH CHIRAG SUNIL RINKU 2023016402234467 (47)Bhayandar-(890)	58651 14F 13.00 F	AA	AA	AA	FEC101 14F 1.00 P	11+	11	4.00	58652 19F 2.00 F	8+	27	0.00	FEL101 14F 0.50 C	17+	17	7.00	58655 14F 2.00 F	6+	6	0.00	FEL102 14F 0.50 C	16+	16	3.50	18.00 -- -- --	
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																	
7094420	SINGH SUMEET GANPAT MEERA 2022016402282865 (47)Bhayandar-(890)	58651 32 13.00 P	8+	40	12.00	FEC101 32 1.00 D	14+	14	6.00	58652 24+ 2.00 P	7+	31	8.00	FEL101 32 0.50 C	16+	16	7.00	58655 28+ 2.00 E	6+	34	10.00	FEL102 32 0.50 O	22+	22	5.00	18.00 94.50 5.25 --	
		Total Credit 18.00				FINAL CGPI 5.25				FINAL GRADE --																	

/ - FEMALE, # - 0.229A,@ - 0.5042A/O.5043A/O.5044A, * - 5045A, RR-RESERVED, --:Fails in Theory or Practical, RPV - PROVISIONAL Eligible, RCC - 0.5050, AB - ABSENT, F - UNSUCCESSFUL,P - SUCCESSFUL;
 NULL=NULL & VOID, G:Grade C*G:Gradepoints C:credits CP:credit points aCG:sum of product of credits & grades, Internal Marks are Provisional as per R.8668
 aC:sum of credit points GPA: aCG/aC
 MARKS : 0 to 39.99 40 to 44.99 45 to 49.99 50 to 59.99 60 to 69.99 70 to 74.99 75 to 79.99 80 to 100
 GRADE : F P E D C B A O
 GRADE POINT : 0.00 4.00 5.00 6.00 7.00 8.00 9.00 10.00



University of Mumbai, Mumbai

OFFICE REGISTER OF THE B.E. (with credits) - Regular - CBCS(Electronics and Telecommunication Engineering)- F.E. C-Scheme - Sem I [T01831] HELD IN Summer 2025 Result Declaration Date:11 Jul 2025

58651-Engineering Mathematics-I: ThUA 80/32 ThCA 20/8 100/0 | 58652-Engineering Physics-I: ThUA 60/24 ThCA 15/6 75/0 | 58655-Engineering Chemistry-I: ThUA 60/24 ThCA 15/6 75/0 |
 58653-Engineering Mechanics: ThUA 80/32 ThCA 20/8 100/0 | 58654-Basic Electrical Engineering: ThUA 80/32 ThCA 20/8 100/0 | FEL101-Engineering Physics-I (TW): TwCA 25/10 25/0 |
 FEL102-Engineering Chemistry-I (TW): TwCA 25/10 25/0 | FEL103-Engineering Mechanics (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 | FEL104-Basic Electrical Engineering (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 |
 FEL105-Basic Workshop Practice-I: TwCA 50/20 50/0 | FEC101-Engineering Mathematics-I Term Work: TwCA 25/10 25/0 |

SEAT NO.	NAME OF THE CANDIDATE Mother Name PRN.	PAPER 1				PAPER 2				PAPER 3				PAPER 4				PAPER 5				PAPER 6				RESULT CR C*G SGPI GRADE			
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G				
CENTRE-COLLEGE		PAPER 7				PAPER 8				PAPER 9				PAPER 10				PAPER 11											
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G				
7094421	SINGH SUMIT VINODKUMAR POONAM SINGH 2023016402234556 (47)Bhayandar-(890)	58651 32+	12+	44		FEC101 19+	19			58652 24+	6+	30		FEL101 22+	22		58655 30E	6+	36		FEL102 20+	20		18.00	--				
		3.00	P	4.00	12.00	1.00	A	9.00	9.00	2.00	P	4.00	8.00	0.50	O	10.00	5.00	2.00	E	5.00	10.00	0.50	O	10.00	5.00	-- --			
		58653 11F	8+	19		FEL103 17+	30			58654 14F	8+	22		FEL104 22+	43		FEL105 27+	27											
		3.00	F	0.00	0.00	1.00	C	7.00	7.00	3.00	F	0.00	0.00	1.00	O	10.00	10.00	1.00	D	6.00	6.00								
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																			
7094422	SINGH VAIBHAV SANJAY SUNAINA S SINGH 2023016402232712 (47)Bhayandar-(890)	58651 32+	12+	44		FEC101 21+	21			58652 29E	8+	37		FEL101 22+	22		58655 24+	7+	31		FEL102 22+	22		18.00	--				
		3.00	P	4.00	12.00	1.00	O	10.00	10.00	2.00	E	5.00	10.00	0.50	O	10.00	5.00	2.00	P	4.00	8.00	0.50	O	10.00	5.00	-- --			
		58653 32E	8+	40		FEL103 21+	40			58654 16F	8+	24		FEL104 22+	43		FEL105 37+	37											
		3.00	P	4.00	12.00	1.00	O	10.00	10.00	3.00	F	0.00	0.00	1.00	O	10.00	10.00	1.00	B	8.00	8.00								
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																			
7094423	TIWARI SAURAV SUBHASH GEETA 2022016402282617 (47)Bhayandar-(890)	58651 32E	8+	40		FEC101 11+	11			58652 24+	AA	24		FEL101 10+	10		58655 24+	6+	30		FEL102 17+	17		18.00	--				
		3.00	P	4.00	12.00	1.00	P	4.00	4.00	2.00	F	0.00	0.00	0.50	P	4.00	2.00	2.00	P	4.00	8.00	0.50	C	7.00	3.50	-- --			
		58653 22F	13+	35		FEL103 15+	27			58654 32+	11+	43		FEL104 14+	30		FEL105 36+	36											
		3.00	F	0.00	0.00	1.00	D	6.00	6.00	3.00	P	4.00	12.00	1.00	C	7.00	7.00	1.00	B	8.00	8.00								
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																			

/ - FEMALE, # - 0.229A,@ - 0.5042A/O.5043A/O.5044A,* - 5045A, RR-RESERVED, --:Fails in Theory or Practical, RPV - PROVISIONAL Eligible, RCC - 0.5050, AB - ABSENT, F - UNSUCCESSFUL,P - SUCCESSFUL;
 NULL=NULL & VOID, G:Grade C*G:Gradepoints C:credits CP:credit points aCG:sum of product of credits & grades, Internal Marks are Provisional as per R.8668
 aC:sum of credit points GPA: aCG/aC
 MARKS : 0 to 39.99 40 to 44.99 45 to 49.99 50 to 59.99 60 to 69.99 70 to 74.99 75 to 79.99 80 to 100
 GRADE : F P E D C B A O
 GRADE POINT : 0.00 4.00 5.00 6.00 7.00 8.00 9.00 10.00



University of Mumbai, Mumbai

OFFICE REGISTER OF THE B.E. (with credits) - Regular - CBCS(Electronics and Telecommunication Engineering)- F.E. C-Scheme - Sem I [1T01831] HELD IN Summer 2025 Result Declaration Date:11 Jul 2025

58651-Engineering Mathematics-I: ThUA 80/32 ThCA 20/8 100/0 | 58652-Engineering Physics-I: ThUA 60/24 ThCA 15/6 75/0 | 58655-Engineering Chemistry-I: ThUA 60/24 ThCA 15/6 75/0 |
 58653-Engineering Mechanics: ThUA 80/32 ThCA 20/8 100/0 | 58654-Basic Electrical Engineering: ThUA 80/32 ThCA 20/8 100/0 | FEL101-Engineering Physics-I (TW): TwCA 25/10 25/0 |
 FEL102-Engineering Chemistry-I (TW): TwCA 25/10 25/0 | FEL103-Engineering Mechanics (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 | FEL104-Basic Electrical Engineering (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 |
 FEL105-Basic Workshop Practice-I: TwCA 50/20 50/0 | FEC101-Engineering Mathematics-I Term Work: TwCA 25/10 25/0 |

SEAT NO.	NAME OF THE CANDIDATE Mother Name PRN.	PAPER 1				PAPER 2				PAPER 3				PAPER 4				PAPER 5				PAPER 6				RESULT CR C*G SGPI GRADE			
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G				
CENTRE-COLLEGE		PAPER 7				PAPER 8				PAPER 9				PAPER 10				PAPER 11											
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G				
7094424	YADAV ANKITKUMAR SAROJKUMAR PUSHPA 2023016402234564 (47)Bhayandar-(890)	58651 32E	8+	40		FEC101 19+	19			58652 24+	6+	30		FEL101 12+	12		58655 24E	7+	31		FEL102 20+	20		18.00	--				
		3.00	P	4.00	12.00	1.00	A	9.00	9.00	2.00	P	4.00	8.00	0.50	E	5.00	2.50	2.00	P	4.00	8.00	0.50	O	10.00	5.00	-- --			
		58653 32+	8+	40		FEL103 19+	38			58654 19F	8+	27		FEL104 22+	40		FEL105 30+	30											
		3.00	P	4.00	12.00	1.00	A	9.00	9.00	3.00	F	0.00	0.00	1.00	O	10.00	10.00	1.00	C	7.00	7.00								
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																			
7094425	YADAV KRISHNA RAMPRASAD YASHODA YADAV 2022016402282737 (47)Bhayandar-(890)	58651 AA	8+	8		FEC101 18+	18			58652 24+	8+	32		FEL101 18+	18		58655 AA	7+	7		FEL102 23+	23		18.00	--				
		3.00	F	0.00	0.00	1.00	B	8.00	8.00	2.00	P	4.00	8.00	0.50	B	8.00	4.00	2.00	F	0.00	0.00	0.50	O	10.00	5.00	-- --			
		58653 AA	8+	8		FEL103 18+	32			58654 34+	9+	43		FEL104 21+	37		FEL105 44+	44											
		3.00	F	0.00	0.00	1.00	C	7.00	7.00	3.00	P	4.00	12.00	1.00	B	8.00	8.00	1.00	O	10.00	10.00								
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																			
7094426	YADAV POONAM KAILASNATH SARITA YADAV 2023016402231272 (47)Bhayandar-(890)	58651 34+	13+	47		FEC101 16+	16			58652 15F	7+	22		FEL101 12+	12		58655 27+	9+	36		FEL102 22+	22		18.00	--				
		3.00	E	5.00	15.00	1.00	C	7.00	7.00	2.00	F	0.00	0.00	0.50	E	5.00	2.50	2.00	E	5.00	10.00	0.50	O	10.00	5.00	-- --			
		58653 35+	10+	45		FEL103 21+	43			58654 42+	8+	50		FEL104 22+	45		FEL105 38+	38											
		3.00	E	5.00	15.00	1.00	O	10.00	10.00	3.00	D	6.00	18.00	1.00	O	10.00	10.00	1.00	A	9.00	9.00								
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																			

/ - FEMALE, # - 0.229A,@ - 0.5042A/O.5043A/O.5044A,* - 5045A, RR-RESERVED, --:Fails in Theory or Practical, RPV - PROVISIONAL Eligible, RCC - 0.5050, AB - ABSENT, F - UNSUCCESSFUL,P - SUCCESSFUL;
 NULL=NULL & VOID, G:Grade C*G:Gradepoints C:credits CP:credit points aCG:sum of product of credits & grades, Internal Marks are Provisional as per R.8668
 aC:sum of credit points GPA: aCG/aC
 MARKS : 0 to 39.99 40 to 44.99 45 to 49.99 50 to 59.99 60 to 69.99 70 to 74.99 75 to 79.99 80 to 100
 GRADE : F P E D C B A O
 GRADE POINT : 0.00 4.00 5.00 6.00 7.00 8.00 9.00 10.00



University of Mumbai, Mumbai

OFFICE REGISTER OF THE B.E. (with credits) - Regular - CBCS(Electronics and Telecommunication Engineering)- F.E. C-Scheme - Sem I [T01831] HELD IN Summer 2025 Result Declaration Date:11 Jul 2025

58651-Engineering Mathematics-I: ThUA 80/32 ThCA 20/8 100/0 | 58652-Engineering Physics-I: ThUA 60/24 ThCA 15/6 75/0 | 58655-Engineering Chemistry-I: ThUA 60/24 ThCA 15/6 75/0 |
 58653-Engineering Mechanics: ThUA 80/32 ThCA 20/8 100/0 | 58654-Basic Electrical Engineering: ThUA 80/32 ThCA 20/8 100/0 | FEL101-Engineering Physics-I (TW): TwCA 25/10 25/0 |
 FEL102-Engineering Chemistry-I (TW): TwCA 25/10 25/0 | FEL103-Engineering Mechanics (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 | FEL104-Basic Electrical Engineering (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 |
 FEL105-Basic Workshop Practice-I: TwCA 50/20 50/0 | FEC101-Engineering Mathematics-I Term Work: TwCA 25/10 25/0 |

SEAT NO.	NAME OF THE CANDIDATE Mother Name PRN.	PAPER 1				PAPER 2				PAPER 3				PAPER 4				PAPER 5				PAPER 6				RESULT CR C*G SGPI GRADE			
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G				
CENTRE-COLLEGE		PAPER 7				PAPER 8				PAPER 9				PAPER 10				PAPER 11											
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G
7094427	SHARON SUSHRIKANT BARDHAN VIDYA 2022016402249454 (76)Navi Mumbai-(426)	58651 37+	8+	45		FEC101 14+	14			58652 27+	6+	33		FEL101 20+	20		58655 24+	7+	31		FEL102 17+	17		18.00	--				
		3.00	E	5.00	15.00	1.00	D	6.00	6.00	2.00	P	4.00	8.00	0.50	O	10.00	5.00	2.00	P	4.00	8.00	0.50	C	7.00	3.50	-- --			
		58653 AA	8+	8		FEL103 15+	29			58654 0F	10+	10		FEL104 12+	31		FEL105 42+	42											
		3.00	F	0.00	0.00	1.00	D	6.00	6.00	3.00	F	0.00	0.00	1.00	C	7.00	7.00	1.00	O	10.00	10.00								
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																			
7094428	/ BHAMARE BHARGAVI PRAMOD JAYSHRI 2023016402126575 (76)Navi Mumbai-(426)	58651 9F	11+	20		FEC101 15+	15			58652 4F	6+	10		FEL101 21+	21		58655 24+	6+	30		FEL102 21+	21		18.00	--				
		3.00	F	0.00	0.00	1.00	C	7.00	7.00	2.00	F	0.00	0.00	0.50	O	10.00	5.00	2.00	P	4.00	8.00	0.50	O	10.00	5.00	-- --			
		58653 8F	8+	16		FEL103 19+	38			58654 12F	10+	22		FEL104 15+	32		FEL105 40+	40											
		3.00	F	0.00	0.00	1.00	A	9.00	9.00	3.00	F	0.00	0.00	1.00	C	7.00	7.00	1.00	O	10.00	10.00								
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																			
7094429	MEDHANSH VARSHA 2022016402244557 (76)Navi Mumbai-(426)	58651 11F	9+	20		FEC101 13+	13			58652 18F	6+	24		FEL101 20+	20		58655 25+	6+	31		FEL102 14+	14		18.00	--				
		3.00	F	0.00	0.00	1.00	D	6.00	6.00	2.00	F	0.00	0.00	0.50	O	10.00	5.00	2.00	P	4.00	8.00	0.50	D	6.00	3.00	-- --			
		58653 11F	9+	20		FEL103 14+	26			58654 1F	8+	9		FEL104 12+	29		FEL105 38+	38											
		3.00	F	0.00	0.00	1.00	D	6.00	6.00	3.00	F	0.00	0.00	1.00	D	6.00	6.00	1.00	A	9.00	9.00								
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																			

/ - FEMALE, # - 0.229A,@ - 0.5042A/O.5043A/O.5044A,* - 5045A, RR-RESERVED, --:Fails in Theory or Practical, RPV - PROVISIONAL Eligible, RCC - 0.5050, AB - ABSENT, F - UNSUCCESSFUL,P - SUCCESSFUL;
 NULL=NULL & VOID, G:Grade C*G:Gradepoints C:credits CP:credit points aCG:sum of product of credits & grades, Internal Marks are Provisional as per R.8668
 aC:sum of credit points GPA: aCG/aC
 MARKS : 0 to 39.99 40 to 44.99 45 to 49.99 50 to 59.99 60 to 69.99 70 to 74.99 75 to 79.99 80 to 100
 GRADE : F P E D C B A O
 GRADE POINT : 0.00 4.00 5.00 6.00 7.00 8.00 9.00 10.00



University of Mumbai, Mumbai

OFFICE REGISTER OF THE B.E. (with credits) - Regular - CBCS(Electronics and Telecommunication Engineering)- F.E. C-Scheme - Sem I [1T01831] HELD IN Summer 2025 Result Declaration Date:11 Jul 2025

58651-Engineering Mathematics-I: ThUA 80/32 ThCA 20/8 100/0 | 58652-Engineering Physics-I: ThUA 60/24 ThCA 15/6 75/0 | 58655-Engineering Chemistry-I: ThUA 60/24 ThCA 15/6 75/0 |
 58653-Engineering Mechanics: ThUA 80/32 ThCA 20/8 100/0 | 58654-Basic Electrical Engineering: ThUA 80/32 ThCA 20/8 100/0 | FEL101-Engineering Physics-I (TW): TwCA 25/10 25/0 |
 FEL102-Engineering Chemistry-I (TW): TwCA 25/10 25/0 | FEL103-Engineering Mechanics (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 | FEL104-Basic Electrical Engineering (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 |
 FEL105-Basic Workshop Practice-I: TwCA 50/20 50/0 | FEC101-Engineering Mathematics-I Term Work: TwCA 25/10 25/0 |

SEAT NO.	NAME OF THE CANDIDATE Mother Name PRN.	PAPER 1				PAPER 2				PAPER 3				PAPER 4				PAPER 5				PAPER 6				RESULT CR C*G SGPI GRADE			
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G				
CENTRE-COLLEGE		PAPER 7				PAPER 8				PAPER 9				PAPER 10				PAPER 11											
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G				
7094430	NIRAJ BALASAHEB KACHARE SUVARNA 2023016402143202 (76)Navi Mumbai-(426)	58651 35+	10+	45	18.00	FEC101 11+	11	11	4.00	58652 25+	6+	31	8.00	FEL101 20+	20	20	5.00	58655 25+	9+	34	10.00	FEL102 20+	20	20	5.00	18.00	104.00	5.78	--
		3.00	E	5.00	15.00	1.00	P	4.00	4.00	2.00	P	4.00	8.00	0.50	O	10.00	5.00	2.00	E	5.00	10.00	0.50	O	10.00	5.00				
		58653 46	13+	59	18.00	FEL103 15+	34	34	7.00	58654 38+	12+	50	18.00	FEL104 17+	34	34	7.00	FEL105 30+	30	30	7.00								
		3.00	D	6.00	18.00	1.00	C	7.00	7.00	3.00	D	6.00	18.00	1.00	C	7.00	7.00	1.00	C	7.00	7.00								
		Total Credit 18.00				FINAL CGPI 5.78				FINAL GRADE --																			
7094431	TEJAS KIRAN KULKARNI SHITAL 2022016402252901 (76)Navi Mumbai-(426)	58651 37+	8+	45	15.00	FEC101 10+	10	10	4.00	58652 27E	9E	36	10.00	FEL101 19+	19	19	4.50	58655 45E	6+	51	14.00	FEL102 12+	12	12	2.50	18.00	--	--	
		3.00	E	5.00	15.00	1.00	P	4.00	4.00	2.00	E	5.00	10.00	0.50	A	9.00	4.50	2.00	C	7.00	14.00	0.50	E	5.00	2.50				
		58653 1F	8+	9	0.00	FEL103 13+	29	29	6.00	58654 18F	11+	29	0.00	FEL104 10+	26	26	6.00	FEL105 33+	33	33	7.00								
		3.00	F	0.00	0.00	1.00	D	6.00	6.00	3.00	F	0.00	0.00	1.00	D	6.00	6.00	1.00	C	7.00	7.00								
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																			
7094432	/ KUNDER MANISHA RAMESH RAJESHWARI 2022016400036432 (76)Navi Mumbai-(426)	58651 41+	8+	49	15.00	FEC101 11+	11	11	4.00	58652 17F	8+	25	0.00	FEL101 20+	20	20	5.00	58655 24+	6+	30	8.00	FEL102 15+	15	15	3.50	18.00	--	--	
		3.00	E	5.00	15.00	1.00	P	4.00	4.00	2.00	F	0.00	0.00	0.50	O	10.00	5.00	2.00	P	4.00	8.00	0.50	C	7.00	3.50				
		58653 35E	8+	43	12.00	FEL103 16+	30	30	7.00	58654 16F	8+	24	0.00	FEL104 14+	32	32	7.00	FEL105 41+	41	41	10.00								
		3.00	P	4.00	12.00	1.00	C	7.00	7.00	3.00	F	0.00	0.00	1.00	C	7.00	7.00	1.00	O	10.00	10.00								
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																			

/ - FEMALE, # - 0.229A,@ - 0.5042A/O.5043A/O.5044A,* - 5045A, RR-RESERVED, --:Fails in Theory or Practical, RPV - PROVISIONAL Eligible, RCC - 0.5050, AB - ABSENT, F - UNSUCCESSFUL,P - SUCCESSFUL;
 NULL=NULL & VOID, G:Grade C*G:Gradepoints C:credits CP:credit points aCG:sum of product of credits & grades, Internal Marks are Provisional as per R.8668
 aC:sum of credit points GPA: aCG/aC
 MARKS : 0 to 39.99 40 to 44.99 45 to 49.99 50 to 59.99 60 to 69.99 70 to 74.99 75 to 79.99 80 to 100
 GRADE : F P E D C B A O
 GRADE POINT : 0.00 4.00 5.00 6.00 7.00 8.00 9.00 10.00



University of Mumbai, Mumbai

OFFICE REGISTER OF THE B.E. (with credits) - Regular - CBCS(Electronics and Telecommunication Engineering)- F.E. C-Scheme - Sem I [1T01831] HELD IN Summer 2025 Result Declaration Date:11 Jul 2025

58651-Engineering Mathematics-I: ThUA 80/32 ThCA 20/8 100/0 | 58652-Engineering Physics-I: ThUA 60/24 ThCA 15/6 75/0 | 58655-Engineering Chemistry-I: ThUA 60/24 ThCA 15/6 75/0 |
 58653-Engineering Mechanics: ThUA 80/32 ThCA 20/8 100/0 | 58654-Basic Electrical Engineering: ThUA 80/32 ThCA 20/8 100/0 | FEL101-Engineering Physics-I (TW): TwCA 25/10 25/0 |
 FEL102-Engineering Chemistry-I (TW): TwCA 25/10 25/0 | FEL103-Engineering Mechanics (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 | FEL104-Basic Electrical Engineering (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 |
 FEL105-Basic Workshop Practice-I: TwCA 50/20 50/0 | FEC101-Engineering Mathematics-I Term Work: TwCA 25/10 25/0 |

SEAT NO.	NAME OF THE CANDIDATE Mother Name PRN.	PAPER 1				PAPER 2				PAPER 3				PAPER 4				PAPER 5				PAPER 6				RESULT CR C*G SGPI GRADE
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	
CENTRE-COLLEGE		PAPER 7				PAPER 8				PAPER 9				PAPER 10				PAPER 11								
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	
7094433	ATHARVA MADAN LUDBE SHREYA 2023016402127281 (76)Navi Mumbai-(426)	58651 32+	9+	41		FEC101 14+	14		58652 AA	6+	6		FEL101 18+	18		58655 28+	7+	35		FEL102 18+	18				Unsuccessful 18.00 --	
		3.00	P	4.00	12.00	1.00	D	6.00	6.00	2.00	F	0.00	0.00	0.50	B	8.00	4.00	2.00	E	5.00	10.00	0.50	B	8.00	4.00	-- --
		58653 33+	8+	41		FEL103 13+	31		58654 14F	10+	24		FEL104 15+	33		FEL105 29+	29									
		3.00	P	4.00	12.00	1.00	C	7.00	7.00	3.00	F	0.00	0.00	1.00	C	7.00	7.00	1.00	D	6.00	6.00					
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																
7094434	RAHUL VIJAY PATIL ROHINI 2022016402239274 (76)Navi Mumbai-(426)	58651 16F	11+	27		FEC101 10+	10		58652 13F	6+	19		FEL101 10+	10		58655 24+	7+	31		FEL102 10+	10				Unsuccessful 18.00 --	
		3.00	F	0.00	0.00	1.00	P	4.00	4.00	2.00	F	0.00	0.00	0.50	P	4.00	2.00	2.00	P	4.00	8.00	0.50	P	4.00	2.00	-- --
		58653 32E	8+	40		FEL103 11+	24		58654 32E	9+	41		FEL104 10+	25		FEL105 20+	20									
		3.00	P	4.00	12.00	1.00	E	5.00	5.00	3.00	P	4.00	12.00	1.00	D	6.00	6.00	1.00	P	4.00	4.00					
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																
7094435	/ PONNAGANTI PRANAVI NARASIMHARAO - SHANTHI 2022016402231947 (76)Navi Mumbai-(426)	58651 AA	8+	8		FEC101 16+	16		58652 24+	6+	30		FEL101 20+	20		58655 24+	6+	30		FEL102 14+	14				Unsuccessful 18.00 --	
		3.00	F	0.00	0.00	1.00	C	7.00	7.00	2.00	P	4.00	8.00	0.50	O	10.00	5.00	2.00	P	4.00	8.00	0.50	D	6.00	3.00	-- --
		58653 1F	11+	12		FEL103 16+	31		58654 13F	8+	21		FEL104 14+	33		FEL105 43+	43									
		3.00	F	0.00	0.00	1.00	C	7.00	7.00	3.00	F	0.00	0.00	1.00	C	7.00	7.00	1.00	O	10.00	10.00					
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																

/ - FEMALE, # - 0.229A, @ - 0.5042A/O.5043A/O.5044A, * - 5045A, RR-RESERVED, --:Fails in Theory or Practical, RPV - PROVISIONAL Eligible, RCC - 0.5050, AB - ABSENT, F - UNSUCCESSFUL, P - SUCCESSFUL;
 NULL=NULL & VOID, G:Grade C*G:Gradepoints C:credits CP:credit points aCG:sum of product of credits & grades, Internal Marks are Provisional as per R.8668
 aC:sum of credit points GPA: aCG/aC
 MARKS : 0 to 39.99 40 to 44.99 45 to 49.99 50 to 59.99 60 to 69.99 70 to 74.99 75 to 79.99 80 to 100
 GRADE : F P E D C B A O
 GRADE POINT : 0.00 4.00 5.00 6.00 7.00 8.00 9.00 10.00



University of Mumbai, Mumbai

OFFICE REGISTER OF THE B.E. (with credits) - Regular - CBCS(Electronics and Telecommunication Engineering)- F.E. C-Scheme - Sem I [T01831] HELD IN Summer 2025 Result Declaration Date:11 Jul 2025

58651-Engineering Mathematics-I: ThUA 80/32 ThCA 20/8 100/0 | 58652-Engineering Physics-I: ThUA 60/24 ThCA 15/6 75/0 | 58655-Engineering Chemistry-I: ThUA 60/24 ThCA 15/6 75/0 |
 58653-Engineering Mechanics: ThUA 80/32 ThCA 20/8 100/0 | 58654-Basic Electrical Engineering: ThUA 80/32 ThCA 20/8 100/0 | FEL101-Engineering Physics-I (TW): TwCA 25/10 25/0 |
 FEL102-Engineering Chemistry-I (TW): TwCA 25/10 25/0 | FEL103-Engineering Mechanics (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 | FEL104-Basic Electrical Engineering (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 |
 FEL105-Basic Workshop Practice-I: TwCA 50/20 50/0 | FEC101-Engineering Mathematics-I Term Work: TwCA 25/10 25/0 |

SEAT NO.	NAME OF THE CANDIDATE Mother Name PRN.	PAPER 1				PAPER 2				PAPER 3				PAPER 4				PAPER 5				PAPER 6				RESULT CR C*G SGPI GRADE			
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G				
CENTRE-COLLEGE		PAPER 7				PAPER 8				PAPER 9				PAPER 10				PAPER 11											
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G				
7094436	SALUNKHE SHUBHAM VITTHAL SUREKHA 2022016402244607 (76)Navi Mumbai-(426)	58651 13F	8+	21		FEC101 17+	17			58652 14F	6+	20		FEL101 21+	21		58655 24+	6+	30		FEL102 16+	16		18.00	--				
		3.00	F	0.00	0.00	1.00	C	7.00	7.00	2.00	F	0.00	0.00	0.50	O	10.00	5.00	2.00	P	4.00	8.00	0.50	C	7.00	3.50	-- --			
		58653 10F	8+	18		FEL103 16+	29			58654 9F	8+	17		FEL104 15+	32		FEL105 45+	45											
		3.00	F	0.00	0.00	1.00	D	6.00	6.00	3.00	F	0.00	0.00	1.00	C	7.00	7.00	1.00	O	10.00	10.00								
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																			
7094437	SAWANT DURVANK SHANKAR SHARVARI 2022016402244317 (76)Navi Mumbai-(426)	58651 24F	8+	32		FEC101 16+	16			58652 24+	6+	30		FEL101 22+	22		58655 25+	9+	34		FEL102 19+	19		18.00	--				
		3.00	F	0.00	0.00	1.00	C	7.00	7.00	2.00	P	4.00	8.00	0.50	O	10.00	5.00	2.00	E	5.00	10.00	0.50	A	9.00	4.50	-- --			
		58653 13F	8+	21		FEL103 18+	33			58654 32+	11+	43		FEL104 19+	41		FEL105 39+	39											
		3.00	F	0.00	0.00	1.00	C	7.00	7.00	3.00	P	4.00	12.00	1.00	O	10.00	10.00	1.00	A	9.00	9.00								
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																			
7094438	GARJE RUPALI DNYANDEV MANGAL 2023016400723316 (76)Navi Mumbai-(428)	58651 2F	8+	10		FEC101 21+	21			58652 20F	6+	26		FEL101 19+	19		58655 24E	7+	31		FEL102 19+	19		18.00	--				
		3.00	F	0.00	0.00	1.00	O	10.00	10.00	2.00	F	0.00	0.00	0.50	A	9.00	4.50	2.00	P	4.00	8.00	0.50	A	9.00	4.50	-- --			
		58653 25F	8+	33		FEL103 21+	31			58654 32+	8+	40		FEL104 17+	28		FEL105 39+	39											
		3.00	F	0.00	0.00	1.00	C	7.00	7.00	3.00	P	4.00	12.00	1.00	D	6.00	6.00	1.00	A	9.00	9.00								
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																			

/ - FEMALE, # - 0.229A,@ - 0.5042A/O.5043A/O.5044A, * - 5045A, RR-RESERVED, --:Fails in Theory or Practical, RPV - PROVISIONAL Eligible, RCC - 0.5050, AB - ABSENT, F - UNSUCCESSFUL,P - SUCCESSFUL;
 NULL=NULL & VOID, G:Grade C*G:Gradepoints C:credits CP:credit points aCG:sum of product of credits & grades, Internal Marks are Provisional as per R.8668
 aC:sum of credit points GPA: aCG/aC
 MARKS : 0 to 39.99 40 to 44.99 45 to 49.99 50 to 59.99 60 to 69.99 70 to 74.99 75 to 79.99 80 to 100
 GRADE : F P E D C B A O
 GRADE POINT : 0.00 4.00 5.00 6.00 7.00 8.00 9.00 10.00



University of Mumbai, Mumbai

OFFICE REGISTER OF THE B.E. (with credits) - Regular - CBCS (Electronics and Telecommunication Engineering)- F.E. C-Scheme - Sem I [T01831] HELD IN Summer 2025 Result Declaration Date: 11 Jul 2025

58651-Engineering Mathematics-I: ThUA 80/32 ThCA 20/8 100/0 | 58652-Engineering Physics-I: ThUA 60/24 ThCA 15/6 75/0 | 58655-Engineering Chemistry-I: ThUA 60/24 ThCA 15/6 75/0 |
 58653-Engineering Mechanics: ThUA 80/32 ThCA 20/8 100/0 | 58654-Basic Electrical Engineering: ThUA 80/32 ThCA 20/8 100/0 | FEL101-Engineering Physics-I (TW): TwCA 25/10 25/0 |
 FEL102-Engineering Chemistry-I (TW): TwCA 25/10 25/0 | FEL103-Engineering Mechanics (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 | FEL104-Basic Electrical Engineering (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 |
 FEL105-Basic Workshop Practice-I: TwCA 50/20 50/0 | FEC101-Engineering Mathematics-I Term Work: TwCA 25/10 25/0 |

SEAT NO.	NAME OF THE CANDIDATE Mother Name PRN.	PAPER 1				PAPER 2				PAPER 3				PAPER 4				PAPER 5				PAPER 6				RESULT CR C*G SGPI GRADE			
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G				
CENTRE-COLLEGE		PAPER 7				PAPER 8				PAPER 9				PAPER 10				PAPER 11											
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G
7094439	GOSAVI OMKAR VIJAY JAYA 2023016400730065 (76)Navi Mumbai-(428)	58651 7F	8+	15		FEC101 --	22+	22		58652 24E	6+	30		FEL101 --	18+	18		58655 24+	6+	30		FEL102 --	19+	19	18.00	--			
		3.00	F	0.00	0.00	1.00	O	10.00	10.00	2.00	P	4.00	8.00	0.50	B	8.00	4.00	2.00	P	4.00	8.00	0.50	A	9.00	4.50	--	--		
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																			
7094440	/ KOLEKAR KIRTI SACHIN VAISHALI 2023016400746466 (76)Navi Mumbai-(428)	58651 32+	14+	46		FEC101 --	23+	23		58652 24+	6+	30		FEL101 --	19+	19		58655 24+	8+	32		FEL102 --	21+	21	18.00	--			
		3.00	E	5.00	15.00	1.00	O	10.00	10.00	2.00	P	4.00	8.00	0.50	A	9.00	4.50	2.00	P	4.00	8.00	0.50	O	10.00	5.00	--	--		
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																			
7094441	/ VAISHNAVI BABAJI KOLEKAR SANGITA 2022016402118145 (76)Navi Mumbai-(428)	58651 13F	11+	24		FEC101 --	13+	13		58652 28+	6+	34		FEL101 --	17+	17		58655 26+	7+	33		FEL102 --	21+	21	18.00	--			
		3.00	F	0.00	0.00	1.00	D	6.00	6.00	2.00	E	5.00	10.00	0.50	C	7.00	3.50	2.00	P	4.00	8.00	0.50	O	10.00	5.00	--	--		
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																			

/ - FEMALE, # - 0.229A, @ - 0.5042A/O.5043A/O.5044A, * - 5045A, RR-RESERVED, --:Fails in Theory or Practical, RPV - PROVISIONAL Eligible, RCC - 0.5050, AB - ABSENT, F - UNSUCCESSFUL, P - SUCCESSFUL;
 NULL=NULL & VOID, G:Grade C*G:Gradepoints C:credits CP:credit points aCG:sum of product of credits & grades, Internal Marks are Provisional as per R.8668
 aC:sum of credit points GPA: aCG/aC
 MARKS : 0 to 39.99 40 to 44.99 45 to 49.99 50 to 59.99 60 to 69.99 70 to 74.99 75 to 79.99 80 to 100
 GRADE : F P E D C B A O
 GRADE POINT : 0.00 4.00 5.00 6.00 7.00 8.00 9.00 10.00



University of Mumbai, Mumbai

OFFICE REGISTER OF THE B.E. (with credits) - Regular - CBCS(Electronics and Telecommunication Engineering)- F.E. C-Scheme - Sem I [T01831] HELD IN Summer 2025 Result Declaration Date:11 Jul 2025

58651-Engineering Mathematics-I: ThUA 80/32 ThCA 20/8 100/0 | 58652-Engineering Physics-I: ThUA 60/24 ThCA 15/6 75/0 | 58655-Engineering Chemistry-I: ThUA 60/24 ThCA 15/6 75/0 |
 58653-Engineering Mechanics: ThUA 80/32 ThCA 20/8 100/0 | 58654-Basic Electrical Engineering: ThUA 80/32 ThCA 20/8 100/0 | FEL101-Engineering Physics-I (TW): TwCA 25/10 25/0 |
 FEL102-Engineering Chemistry-I (TW): TwCA 25/10 25/0 | FEL103-Engineering Mechanics (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 | FEL104-Basic Electrical Engineering (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 |
 FEL105-Basic Workshop Practice-I: TwCA 50/20 50/0 | FEC101-Engineering Mathematics-I Term Work: TwCA 25/10 25/0 |

SEAT NO.	NAME OF THE CANDIDATE Mother Name PRN.	PAPER 1				PAPER 2				PAPER 3				PAPER 4				PAPER 5				PAPER 6				RESULT CR C*G SGPI GRADE
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	
CENTRE-COLLEGE		PAPER 7				PAPER 8				PAPER 9				PAPER 10				PAPER 11								
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	
7094442	/ MAHALE TANISHKA DATTATRAY VAISHALI 2022016402118017 (76)Navi Mumbai-(428)	58651 34+	11+	45		FEC101 17+	17			58652 20F	6+	26		FEL101 20+	20		58655 24+	10+	34		FEL102 20+	20		Unsuccessful 18.00 --		
		3.00	E	5.00	15.00	1.00	C	7.00	7.00	2.00	F	0.00	0.00	0.50	O	10.00	5.00	2.00	E	5.00	10.00	0.50	O	10.00	5.00	-- --
		58653 32+	8+	40		FEL103 17+	28			58654 32+	9+	41		FEL104 21+	39		FEL105 38+	38								
		3.00	P	4.00	12.00	1.00	D	6.00	6.00	3.00	P	4.00	12.00	1.00	A	9.00	9.00	1.00	A	9.00	9.00					
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																
7094443	MANGE KIRTAN PRAVIN JAYSHREE 2023016400721886 (76)Navi Mumbai-(428)	58651 32+	8+	40		FEC101 19+	19			58652 14F	6+	20		FEL101 23+	23		58655 3F	6+	9		FEL102 17+	17		Unsuccessful 18.00 --		
		3.00	P	4.00	12.00	1.00	A	9.00	9.00	2.00	F	0.00	0.00	0.50	O	10.00	5.00	2.00	F	0.00	0.00	0.50	C	7.00	3.50	-- --
		58653 32+	14+	46		FEL103 19+	29			58654 32+	8+	40		FEL104 14+	25		FEL105 34+	34								
		3.00	E	5.00	15.00	1.00	D	6.00	6.00	3.00	P	4.00	12.00	1.00	D	6.00	6.00	1.00	C	7.00	7.00					
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																
7094444	MHASKE TAKSHIL ANAND SUREKHA 2022016402109475 (76)Navi Mumbai-(428)	58651 47+	8+	55		FEC101 11+	11			58652 24+	6+	30		FEL101 19+	19		58655 24	6+	30		FEL102 18+	18		Successful 18.00 98.50		
		3.00	D	6.00	18.00	1.00	P	4.00	4.00	2.00	P	4.00	8.00	0.50	A	9.00	4.50	2.00	P	4.00	8.00	0.50	B	8.00	4.00	5.47 --
		58653 41+	13+	54		FEL103 16+	28			58654 32+	9+	41		FEL104 19+	37		FEL105 35+	35								
		3.00	D	6.00	18.00	1.00	D	6.00	6.00	3.00	P	4.00	12.00	1.00	B	8.00	8.00	1.00	B	8.00	8.00					
		Total Credit 18.00				FINAL CGPI 5.47				FINAL GRADE --																

/ - FEMALE, # - 0.229A,@ - 0.5042A/O.5043A/O.5044A, * - 5045A, RR-RESERVED, --:Fails in Theory or Practical, RPV - PROVISIONAL Eligible, RCC - 0.5050, AB - ABSENT, F - UNSUCCESSFUL,P - SUCCESSFUL;
 NULL=NULL & VOID, G:Grade C*G:Gradepoints C:credits CP:credit points aCG:sum of product of credits & grades, Internal Marks are Provisional as per R.8668
 aC:sum of credit points GPA: aCG/aC
 MARKS : 0 to 39.99 40 to 44.99 45 to 49.99 50 to 59.99 60 to 69.99 70 to 74.99 75 to 79.99 80 to 100
 GRADE : F P E D C B A O
 GRADE POINT : 0.00 4.00 5.00 6.00 7.00 8.00 9.00 10.00



University of Mumbai, Mumbai

OFFICE REGISTER OF THE B.E. (with credits) - Regular - CBCS (Electronics and Telecommunication Engineering)- F.E. C-Scheme - Sem I [1T01831] HELD IN Summer 2025 Result Declaration Date: 11 Jul 2025

58651-Engineering Mathematics-I: ThUA 80/32 ThCA 20/8 100/0 | 58652-Engineering Physics-I: ThUA 60/24 ThCA 15/6 75/0 | 58655-Engineering Chemistry-I: ThUA 60/24 ThCA 15/6 75/0 |
 58653-Engineering Mechanics: ThUA 80/32 ThCA 20/8 100/0 | 58654-Basic Electrical Engineering: ThUA 80/32 ThCA 20/8 100/0 | FEL101-Engineering Physics-I (TW): TwCA 25/10 25/0 |
 FEL102-Engineering Chemistry-I (TW): TwCA 25/10 25/0 | FEL103-Engineering Mechanics (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 | FEL104-Basic Electrical Engineering (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 |
 FEL105-Basic Workshop Practice-I: TwCA 50/20 50/0 | FEC101-Engineering Mathematics-I Term Work: TwCA 25/10 25/0 |

SEAT NO.	NAME OF THE CANDIDATE Mother Name PRN.	PAPER 1				PAPER 2				PAPER 3				PAPER 4				PAPER 5				PAPER 6				RESULT CR C*G SGPI GRADE	
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G		
CENTRE-COLLEGE		PAPER 7				PAPER 8				PAPER 9				PAPER 10				PAPER 11									
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G		
7094445	NAGDIVE HARSHAL VILAS NISHA 2023016400746451 (76)Navi Mumbai-(428)	58651 32+	12+	44		FEC101 --	21+	21		58652 24+	9+	33		FEL101 --	17+	17		58655 24+	10+	34		FEL102 --	19+	19	Successful 18.00 99.00		
		3.00	P	4.00	12.00	1.00	O	10.00	10.00	2.00	P	4.00	8.00	0.50	C	7.00	3.50	2.00	E	5.00	10.00	0.50	A	9.00	4.50	5.50 --	
		58653 44	14+	58		FEL103 --	21+	33		58654 32	12+	44		FEL104 --	17+	29		FEL105 --	36+	36							
		3.00	D	6.00	18.00	1.00	C	7.00	7.00	3.00	P	4.00	12.00	1.00	D	6.00	6.00	1.00	B	8.00	8.00						
		Total Credit 18.00				FINAL CGPI 5.50				FINAL GRADE --																	
7094446	/ NAGRALE PRASHIKA RAJESH PRITI 2023016400731907 (76)Navi Mumbai-(428)	58651 32+	16+	48		FEC101 --	21+	21		58652 24+	9+	33		FEL101 --	18+	18		58655 24+	10+	34		FEL102 --	21+	21	Successful 18.00 110.00		
		3.00	E	5.00	15.00	1.00	O	10.00	10.00	2.00	P	4.00	8.00	0.50	B	8.00	4.00	2.00	E	5.00	10.00	0.50	O	10.00	5.00	6.11 --	
		58653 39	10+	49		FEL103 --	21+	33		58654 38+	12+	50		FEL104 --	23+	35		FEL105 --	43+	43							
		3.00	E	5.00	15.00	1.00	C	7.00	7.00	3.00	D	6.00	18.00	1.00	B	8.00	8.00	1.00	O	10.00	10.00						
		Total Credit 18.00				FINAL CGPI 6.11				FINAL GRADE --																	
7094447	PARAB PRANEET PRASAD POOJA 2023016400722715 (76)Navi Mumbai-(428)	58651 32+	13+	45		FEC101 --	21+	21		58652 24+	9+	33		FEL101 --	19+	19		58655 31+	10+	41		FEL102 --	20+	20	Successful 18.00 107.50		
		3.00	E	5.00	15.00	1.00	O	10.00	10.00	2.00	P	4.00	8.00	0.50	A	9.00	4.50	2.00	D	6.00	12.00	0.50	O	10.00	5.00	5.97 --	
		58653 41	13+	54		FEL103 --	21+	35		58654 33+	11+	44		FEL104 --	20+	31		FEL105 --	37+	37							
		3.00	D	6.00	18.00	1.00	B	8.00	8.00	3.00	P	4.00	12.00	1.00	C	7.00	7.00	1.00	B	8.00	8.00						
		Total Credit 18.00				FINAL CGPI 5.97				FINAL GRADE --																	

/ - FEMALE, # - 0.229A,@ - 0.5042A/O.5043A/O.5044A,* - 5045A, RR-RESERVED, --:Fails in Theory or Practical, RPV - PROVISIONAL Eligible, RCC - 0.5050, AB - ABSENT, F - UNSUCCESSFUL,P - SUCCESSFUL;
 NULL=NULL & VOID, G:Grade C*G:Gradepoints C:credits CP:credit points aCG:sum of product of credits & grades, Internal Marks are Provisional as per R.8668
 aC:sum of credit points GPA: aCG/aC
 MARKS : 0 to 39.99 40 to 44.99 45 to 49.99 50 to 59.99 60 to 69.99 70 to 74.99 75 to 79.99 80 to 100
 GRADE : F P E D C B A O
 GRADE POINT : 0.00 4.00 5.00 6.00 7.00 8.00 9.00 10.00



University of Mumbai, Mumbai

OFFICE REGISTER OF THE B.E. (with credits) - Regular - CBCS(Electronics and Telecommunication Engineering)- F.E. C-Scheme - Sem I [1T01831] HELD IN Summer 2025 Result Declaration Date:11 Jul 2025

58651-Engineering Mathematics-I: ThUA 80/32 ThCA 20/8 100/0 | 58652-Engineering Physics-I: ThUA 60/24 ThCA 15/6 75/0 | 58655-Engineering Chemistry-I: ThUA 60/24 ThCA 15/6 75/0 |
 58653-Engineering Mechanics: ThUA 80/32 ThCA 20/8 100/0 | 58654-Basic Electrical Engineering: ThUA 80/32 ThCA 20/8 100/0 | FEL101-Engineering Physics-I (TW): TwCA 25/10 25/0 |
 FEL102-Engineering Chemistry-I (TW): TwCA 25/10 25/0 | FEL103-Engineering Mechanics (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 | FEL104-Basic Electrical Engineering (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 |
 FEL105-Basic Workshop Practice-I: TwCA 50/20 50/0 | FEC101-Engineering Mathematics-I Term Work: TwCA 25/10 25/0 |

SEAT NO.	NAME OF THE CANDIDATE Mother Name PRN.	PAPER 1				PAPER 2				PAPER 3				PAPER 4				PAPER 5				PAPER 6				RESULT CR C*G SGPI GRADE			
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G				
CENTRE-COLLEGE		PAPER 7				PAPER 8				PAPER 9				PAPER 10				PAPER 11											
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G
7094448	PARADKAR PRANAV PANDHARINATH MANALI 2022016402120651 (76)Navi Mumbai-(428)	58651 33+ 3.00 E	12+ 45 5.00	15.00	FEC101 --- 1.00 O	24+ 24 10.00	24 10.00	2.00 P	4.00 8.00	FEL101 --- 0.50 O	22+ 22 10.00	5.00	2.00 E	5.00 10.00	FEL102 --- 0.50 O	23+ 23 10.00	5.00	7.00	--	Successful 18.00 126.00									
		58653 66+ 3.00 B	8+ 74 8.00	24.00	FEL103 --- 1.00 O	21+ 43 10.00	22+ 22+ 10.00	3.00 C	7.00 21.00	58654 54+ 1.00 O	10+ 64 10.00	64 21.00	FEL104 --- 1.00 O	24+ 45 10.00	FEL105 --- 1.00 B	37+ 37 8.00	8.00	8.00											
		Total Credit 18.00				FINAL CGPI 7.00				FINAL GRADE --																			
7094449	/ REDKAR PRADNYA DATTARAM GEETA 2023016400723363 (76)Navi Mumbai-(428)	58651 20F 3.00 F	10+ 30 0.00	0.00	FEC101 --- 1.00 O	20+ 20 10.00	20 10.00	2.00 F	0.00 0.00	FEL101 --- 0.50 A	19+ 19 9.00	19 4.50	2.00 P	4.00 8.00	FEL102 --- 0.50 O	22+ 22 10.00	5.00	--	--	Unsuccessful 18.00 --									
		58653 32E 3.00 P	8+ 40 4.00	12.00	FEL103 --- 1.00 C	20+ 32 7.00	32+ 11+ 43 7.00	3.00 P	4.00 12.00	58654 32+ 3.00 P	11+ 43 4.00	43 12.00	FEL104 --- 1.00 D	17+ 28 6.00	FEL105 --- 1.00 O	42+ 42 10.00	10.00												
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																			
7094450	SANGOLE ATHARV NITIN NEHA 2023016400720917 (76)Navi Mumbai-(428)	58651 AA 3.00 F	8+ 8 0.00	0.00	FEC101 --- 1.00 C	17+ 17 7.00	17F 7+ 24 7.00	2.00 F	0.00 0.00	FEL101 --- 0.50 O	20+ 20 10.00	20 5.00	2.00 F	0.00 0.00	FEL102 --- 0.50 B	18+ 18 8.00	4.00	--	--	Unsuccessful 18.00 --									
		58653 16F 3.00 F	12+ 28 0.00	0.00	FEL103 --- 1.00 D	15+ 27 6.00	12F 8+ 20 6.00	3.00 F	0.00 0.00	58654 12F 3.00 F	8+ 20 0.00	20 0.00	FEL104 --- 1.00 B	15+ 36 8.00	FEL105 --- 1.00 B	35+ 35 8.00	8.00												
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																			

/ - FEMALE, # - 0.229A,@ - 0.5042A/O.5043A/O.5044A,* - 5045A, RR-RESERVED, ---:Fails in Theory or Practical, RPV - PROVISIONAL Eligible, RCC - 0.5050, AB - ABSENT, F - UNSUCCESSFUL,P - SUCCESSFUL;
 NULL=NULL & VOID, G:Grade C*G:Gradepoints C:credits CP:credit points aCG:sum of product of credits & grades, Internal Marks are Provisional as per R.8668
 aC:sum of credit points GPA: aCG/aC
 MARKS : 0 to 39.99 40 to 44.99 45 to 49.99 50 to 59.99 60 to 69.99 70 to 74.99 75 to 79.99 80 to 100
 GRADE : F P E D C B A O
 GRADE POINT : 0.00 4.00 5.00 6.00 7.00 8.00 9.00 10.00



University of Mumbai, Mumbai

OFFICE REGISTER OF THE B.E. (with credits) - Regular - CBCS (Electronics and Telecommunication Engineering)- F.E. C-Scheme - Sem I [T01831] HELD IN Summer 2025 Result Declaration Date: 11 Jul 2025

58651-Engineering Mathematics-I: ThUA 80/32 ThCA 20/8 100/0 | 58652-Engineering Physics-I: ThUA 60/24 ThCA 15/6 75/0 | 58655-Engineering Chemistry-I: ThUA 60/24 ThCA 15/6 75/0 |
 58653-Engineering Mechanics: ThUA 80/32 ThCA 20/8 100/0 | 58654-Basic Electrical Engineering: ThUA 80/32 ThCA 20/8 100/0 | FEL101-Engineering Physics-I (TW): TwCA 25/10 25/0 |
 FEL102-Engineering Chemistry-I (TW): TwCA 25/10 25/0 | FEL103-Engineering Mechanics (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 | FEL104-Basic Electrical Engineering (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 |
 FEL105-Basic Workshop Practice-I: TwCA 50/20 50/0 | FEC101-Engineering Mathematics-I Term Work: TwCA 25/10 25/0 |

SEAT NO.	NAME OF THE CANDIDATE Mother Name PRN.	PAPER 1				PAPER 2				PAPER 3				PAPER 4				PAPER 5				PAPER 6				RESULT CR C*G SGPI GRADE			
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G				
CENTRE-COLLEGE		PAPER 7				PAPER 8				PAPER 9				PAPER 10				PAPER 11											
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G				
7094451	BHUJADE RAHUL SUNIL KAVITA 2022016402121205 (76)Navi Mumbai-(442)	58651 32+	9+	41		FEC101 --	17+	17		58652 28+	6+	34		FEL101 --	21+	21	58655 24+	12+	36	FEL102 --	19+	19	18.00	--	Unsuccessful				
		3.00	P	4.00	12.00	1.00	C	7.00	7.00	2.00	E	5.00	10.00	0.50	O	10.00	2.00	E	5.00	10.00	0.50	A	9.00	4.50	--	--			
		58653 32+	9+	41		FEL103 --	21+	39		58654 26F	15+	41		FEL104 --	19+	35	FEL105 --	39+	39										
		3.00	P	4.00	12.00	1.00	A	9.00	9.00	3.00	F	0.00	0.00	1.00	B	8.00	1.00	A	9.00	9.00									
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																			
7094452	CHAUDHARY KISHOR KHIMARAM PAKLI 2023016400883315 (76)Navi Mumbai-(442)	58651 32+	18+	50		FEC101 --	21+	21		58652 34+	6+	40		FEL101 --	19+	19	58655 25+	6+	31	FEL102 --	14+	14	18.00	110.50	Successful				
		3.00	D	6.00	18.00	1.00	O	10.00	10.00	2.00	D	6.00	12.00	0.50	A	9.00	2.00	P	4.00	8.00	0.50	D	6.00	3.00	6.14	--			
		58653 37	8+	45		FEL103 --	18+	41		58654 32+	13+	45		FEL104 --	21+	37	FEL105 --	33+	33										
		3.00	E	5.00	15.00	1.00	O	10.00	10.00	3.00	E	5.00	15.00	1.00	B	8.00	1.00	C	7.00	7.00									
		Total Credit 18.00				FINAL CGPI 6.14				FINAL GRADE --																			
7094453	DUBEY PRASHANT KRISHNAKANT PRIYA 2022016402121751 (76)Navi Mumbai-(442)	58651 32+	8+	40		FEC101 --	16+	16		58652 24+	15+	39		FEL101 --	16+	16	58655 29+	8+	37	FEL102 --	16+	16	18.00	99.00	Successful				
		3.00	P	4.00	12.00	1.00	C	7.00	7.00	2.00	D	6.00	12.00	0.50	C	7.00	2.00	E	5.00	10.00	0.50	C	7.00	3.50	5.50	--			
		58653 33	8+	41		FEL103 --	20+	38		58654 36+	8+	44		FEL104 --	18+	36	FEL105 --	40+	40										
		3.00	P	4.00	12.00	1.00	A	9.00	9.00	3.00	P	4.00	12.00	1.00	B	8.00	1.00	O	10.00	10.00									
		Total Credit 18.00				FINAL CGPI 5.50				FINAL GRADE --																			

/ - FEMALE, # - 0.229A, @ - 0.5042A/O.5043A/O.5044A, * - 5045A, RR-RESERVED, --:Fails in Theory or Practical, RPV - PROVISIONAL Eligible, RCC - 0.5050, AB - ABSENT, F - UNSUCCESSFUL, P - SUCCESSFUL;
 NULL=NULL & VOID, G:Grade C*G:Gradepoints C:credits CP:credit points @CG:sum of product of credits & grades, Internal Marks are Provisional as per R.8668
 @C:sum of credit points GPA: @CG/@C
 MARKS : 0 to 39.99 40 to 44.99 45 to 49.99 50 to 59.99 60 to 69.99 70 to 74.99 75 to 79.99 80 to 100
 GRADE : F P E D C B A O
 GRADE POINT : 0.00 4.00 5.00 6.00 7.00 8.00 9.00 10.00



University of Mumbai, Mumbai

OFFICE REGISTER OF THE B.E. (with credits) - Regular - CBCS(Electronics and Telecommunication Engineering)- F.E. C-Scheme - Sem I [1T01831] HELD IN Summer 2025 Result Declaration Date:11 Jul 2025

58651-Engineering Mathematics-I: ThUA 80/32 ThCA 20/8 100/0 | 58652-Engineering Physics-I: ThUA 60/24 ThCA 15/6 75/0 | 58655-Engineering Chemistry-I: ThUA 60/24 ThCA 15/6 75/0 |
 58653-Engineering Mechanics: ThUA 80/32 ThCA 20/8 100/0 | 58654-Basic Electrical Engineering: ThUA 80/32 ThCA 20/8 100/0 | FEL101-Engineering Physics-I (TW): TwCA 25/10 25/0 |
 FEL102-Engineering Chemistry-I (TW): TwCA 25/10 25/0 | FEL103-Engineering Mechanics (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 | FEL104-Basic Electrical Engineering (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 |
 FEL105-Basic Workshop Practice-I: TwCA 50/20 50/0 | FEC101-Engineering Mathematics-I Term Work: TwCA 25/10 25/0 |

SEAT NO.	NAME OF THE CANDIDATE Mother Name PRN.	PAPER 1				PAPER 2				PAPER 3				PAPER 4				PAPER 5				PAPER 6				RESULT CR C*G SGPI GRADE			
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G				
CENTRE-COLLEGE		PAPER 7				PAPER 8				PAPER 9				PAPER 10				PAPER 11											
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G				
7094454	GALANDE AASHISH VILAS RANJANA 2022016402121894 (76)Navi Mumbai-(442)	58651 32 3.00 P	8+	40	12.00	FEC101 19+ 1.00 A	19	9.00	9.00	58652 24+ 2.00 P	7+	31	8.00	FEL101 21+ 0.50 O	21	10.00	5.00	58655 28+ 2.00 E	8+	36	10.00	FEL102 18+ 0.50 B	18	4.00	5.56	--	Successful 18.00 100.00		
		Total Credit 18.00				FINAL CGPI 5.56				FINAL GRADE --																			
7094455	GHATE CHINMAY PRASAD YOGINI 2022016402091556 (76)Navi Mumbai-(442)	58651 1F 3.00 F	10+	11	0.00	FEC101 15+ 1.00 C	15	7.00	7.00	58652 27E 2.00 D	12+	39	12.00	FEL101 10+ 0.50 P	10	4.00	2.00	58655 24+ 2.00 P	6+	30	8.00	FEL102 12+ 0.50 E	12	2.50	--	--	Unsuccessful 18.00 --		
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																			
7094456	GOURI MOHD KAIF ABDUL REHMAN KHAIRUNNISA 2023016400882625 (76)Navi Mumbai-(442)	58651 32+ 3.00 P	11+	43	12.00	FEC101 23+ 1.00 O	23	10.00	10.00	58652 25E 2.00 P	6+	31	8.00	FEL101 17+ 0.50 C	17	7.00	3.50	58655 30+ 2.00 E	6+	36	10.00	FEL102 17+ 0.50 C	17	3.50	--	--	Unsuccessful 18.00 --		
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																			

/ - FEMALE, # - 0.229A,@ - 0.5042A/O.5043A/O.5044A,* - 5045A, RR-RESERVED, --:Fails in Theory or Practical, RPV - PROVISIONAL Eligible, RCC - 0.5050, AB - ABSENT, F - UNSUCCESSFUL,P - SUCCESSFUL;
 NULL=NULL & VOID, G:Grade C*G:Gradepoints C:credits CP:credit points aCG:sum of product of credits & grades, Internal Marks are Provisional as per R.8668
 aC:sum of credit points GPA: aCG/aC
 MARKS : 0 to 39.99 40 to 44.99 45 to 49.99 50 to 59.99 60 to 69.99 70 to 74.99 75 to 79.99 80 to 100
 GRADE : F P E D C B A O
 GRADE POINT : 0.00 4.00 5.00 6.00 7.00 8.00 9.00 10.00



University of Mumbai, Mumbai

OFFICE REGISTER OF THE B.E. (with credits) - Regular - CBCS(Electronics and Telecommunication Engineering)- F.E. C-Scheme - Sem I [1T01831] HELD IN Summer 2025 Result Declaration Date:11 Jul 2025

58651-Engineering Mathematics-I: ThUA 80/32 ThCA 20/8 100/0 | 58652-Engineering Physics-I: ThUA 60/24 ThCA 15/6 75/0 | 58655-Engineering Chemistry-I: ThUA 60/24 ThCA 15/6 75/0 |
 58653-Engineering Mechanics: ThUA 80/32 ThCA 20/8 100/0 | 58654-Basic Electrical Engineering: ThUA 80/32 ThCA 20/8 100/0 | FEL101-Engineering Physics-I (TW): TwCA 25/10 25/0 |
 FEL102-Engineering Chemistry-I (TW): TwCA 25/10 25/0 | FEL103-Engineering Mechanics (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 | FEL104-Basic Electrical Engineering (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 |
 FEL105-Basic Workshop Practice-I: TwCA 50/20 50/0 | FEC101-Engineering Mathematics-I Term Work: TwCA 25/10 25/0 |

SEAT NO.	NAME OF THE CANDIDATE Mother Name PRN.	PAPER 1				PAPER 2				PAPER 3				PAPER 4				PAPER 5				PAPER 6				RESULT CR C*G SGPI GRADE	
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G		
CENTRE-COLLEGE		PAPER 7				PAPER 8				PAPER 9				PAPER 10				PAPER 11									
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G		
7094457	GUPTA ATUL LAXMANPRASAD MANITA 2023016400881266 (76)Navi Mumbai-(442)	58651 32+ 13+ 45 3.00 E 5.00 15.00	FEC101 -- 22+ 22 1.00 O 10.00 10.00	58652 25 8+ 33 2.00 P 4.00 8.00	FEL101 -- 21+ 21 0.50 O 10.00 5.00	58655 29+ 7+ 36 2.00 E 5.00 10.00	FEL102 -- 21+ 21 0.50 O 10.00 5.00	Successful 18.00 109.00 6.06 --																			
		58653 32+ 13+ 45 3.00 E 5.00 15.00	FEL103 -- 18+ 35 1.00 B 8.00 8.00	58654 32+ 18+ 50 3.00 D 6.00 18.00	FEL104 -- 20+ 34 1.00 C 7.00 7.00	FEL105 -- 37+ 37 1.00 B 8.00 8.00	Total Credit 18.00 FINAL CGPI 6.06 FINAL GRADE --																				
7094458	GUPTA NITISH KUMAR SHITALAPRASAD - USHA DEVI 2023016400883242 (76)Navi Mumbai-(442)	58651 37+ 18+ 55 3.00 D 6.00 18.00	FEC101 -- 23+ 23 1.00 O 10.00 10.00	58652 25+ 12+ 37 2.00 E 5.00 10.00	FEL101 -- 22+ 22 0.50 O 10.00 5.00	58655 24+ 10+ 34 2.00 E 5.00 10.00	FEL102 -- 23+ 23 0.50 O 10.00 5.00	Successful 18.00 113.00 6.28 --																			
		58653 36 9+ 45 3.00 E 5.00 15.00	FEL103 -- 23+ 41 1.00 O 10.00 10.00	58654 32+ 12+ 44 3.00 P 4.00 12.00	FEL104 -- 22+ 37 1.00 B 8.00 8.00	FEL105 -- 43+ 43 1.00 O 10.00 10.00	Total Credit 18.00 FINAL CGPI 6.28 FINAL GRADE --																				
7094459	JAVHERI ADITYA RAJESH ROHINI 2022016402121607 (76)Navi Mumbai-(442)	58651 32+ 8+ 40 3.00 P 4.00 12.00	FEC101 -- 18+ 18 1.00 B 8.00 8.00	58652 24+ 10+ 34 2.00 E 5.00 10.00	FEL101 -- 21+ 21 0.50 O 10.00 5.00	58655 24+ 6+ 30 2.00 P 4.00 8.00	FEL102 -- 20+ 20 0.50 O 10.00 5.00	Unsuccessful 18.00 -- -- --																			
		58653 19F 8+ 27 3.00 F 0.00 0.00	FEL103 -- 20+ 38 1.00 A 9.00 9.00	58654 35+ 15+ 50 3.00 D 6.00 18.00	FEL104 -- 19+ 32 1.00 C 7.00 7.00	FEL105 -- 37+ 37 1.00 B 8.00 8.00	Total Credit 18.00 FINAL CGPI -- FINAL GRADE --																				

/ - FEMALE, # - 0.229A,@ - 0.5042A/O.5043A/O.5044A,* - 5045A, RR-RESERVED, --:Fails in Theory or Practical, RPV - PROVISIONAL Eligible, RCC - 0.5050, AB - ABSENT, F - UNSUCCESSFUL,P - SUCCESSFUL;
 NULL=NULL & VOID, G:Grade C*G:Gradepoints C:credits CP:credit points aCG:sum of product of credits & grades, Internal Marks are Provisional as per R.8668
 aC:sum of credit points GPA: aCG/aC
 MARKS : 0 to 39.99 40 to 44.99 45 to 49.99 50 to 59.99 60 to 69.99 70 to 74.99 75 to 79.99 80 to 100
 GRADE : F P E D C B A O
 GRADE POINT : 0.00 4.00 5.00 6.00 7.00 8.00 9.00 10.00



University of Mumbai, Mumbai

OFFICE REGISTER OF THE B.E. (with credits) - Regular - CBCS(Electronics and Telecommunication Engineering)- F.E. C-Scheme - Sem I [T01831] HELD IN Summer 2025 Result Declaration Date:11 Jul 2025

58651-Engineering Mathematics-I: ThUA 80/32 ThCA 20/8 100/0 | 58652-Engineering Physics-I: ThUA 60/24 ThCA 15/6 75/0 | 58655-Engineering Chemistry-I: ThUA 60/24 ThCA 15/6 75/0 |
 58653-Engineering Mechanics: ThUA 80/32 ThCA 20/8 100/0 | 58654-Basic Electrical Engineering: ThUA 80/32 ThCA 20/8 100/0 | FEL101-Engineering Physics-I (TW): TwCA 25/10 25/0 |
 FEL102-Engineering Chemistry-I (TW): TwCA 25/10 25/0 | FEL103-Engineering Mechanics (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 | FEL104-Basic Electrical Engineering (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 |
 FEL105-Basic Workshop Practice-I: TwCA 50/20 50/0 | FEC101-Engineering Mathematics-I Term Work: TwCA 25/10 25/0 |

SEAT NO.	NAME OF THE CANDIDATE Mother Name PRN.	PAPER 1				PAPER 2				PAPER 3				PAPER 4				PAPER 5				PAPER 6				RESULT CR C*G SGPI GRADE			
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G				
CENTRE-COLLEGE		PAPER 7				PAPER 8				PAPER 9				PAPER 10				PAPER 11											
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G
7094460	JHA MAITHILI JEEBENDRANATH SAPNA 2023016400882223 (76)Navi Mumbai-(442)	58651 32+	9+	41		FEC101 19+	19			58652 27+	7+	34		FEL101 17+	17		58655 24+	6+	30		FEL102 14+	14		18.00	--				
		3.00	P	4.00	12.00	1.00	A	9.00	9.00	2.00	E	5.00	10.00	0.50	C	7.00	3.50	2.00	P	4.00	8.00	0.50	D	6.00	3.00	-- --			
		58653 14F	11+	25		FEL103 17+	37			58654 25F	9+	34		FEL104 17+	35		FEL105 20+	20											
		3.00	F	0.00	0.00	1.00	B	8.00	8.00	3.00	F	0.00	0.00	1.00	B	8.00	8.00	1.00	P	4.00	4.00								
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																			
7094461	JIREPATIL HARSH NITIN JAYA 2022016402121275 (76)Navi Mumbai-(442)	58651 32+	9+	41		FEC101 19+	19			58652 27+	6+	33		FEL101 22+	22		58655 24+	6+	30		FEL102 24+	24		18.00	--				
		3.00	P	4.00	12.00	1.00	A	9.00	9.00	2.00	P	4.00	8.00	0.50	O	10.00	5.00	2.00	P	4.00	8.00	0.50	O	10.00	5.00	-- --			
		58653 7F	8+	15		FEL103 20+	41			58654 32+	14+	46		FEL104 19+	35		FEL105 36+	36											
		3.00	F	0.00	0.00	1.00	O	10.00	10.00	3.00	E	5.00	15.00	1.00	B	8.00	8.00	1.00	B	8.00	8.00								
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																			
7094462	LOKHANDE TUSHAR ANIL CHHAYA 2022016402299202 (76)Navi Mumbai-(442)	58651 35	8+	43		FEC101 16+	16			58652 30+	6+	36		FEL101 13+	13		58655 25+	7+	32		FEL102 10+	10		18.00	86.00				
		3.00	P	4.00	12.00	1.00	C	7.00	7.00	2.00	E	5.00	10.00	0.50	D	6.00	3.00	2.00	P	4.00	8.00	0.50	P	4.00	2.00	4.78 --			
		58653 34+	13+	47		FEL103 13+	27			58654 32+	9+	41		FEL104 15+	33		FEL105 20+	20											
		3.00	E	5.00	15.00	1.00	D	6.00	6.00	3.00	P	4.00	12.00	1.00	C	7.00	7.00	1.00	P	4.00	4.00								
		Total Credit 18.00				FINAL CGPI 4.78				FINAL GRADE --																			

/ - FEMALE, # - 0.229A,@ - 0.5042A/O.5043A/O.5044A,* - 5045A, RR-RESERVED, --:Fails in Theory or Practical, RPV - PROVISIONAL Eligible, RCC - 0.5050, AB - ABSENT, F - UNSUCCESSFUL,P - SUCCESSFUL;
 NULL=NULL & VOID, G:Grade C*G:Gradepoints C:credits CP:credit points aCG:sum of product of credits & grades, Internal Marks are Provisional as per R.8668
 aC:sum of credit points GPA: aCG/aC
 MARKS : 0 to 39.99 40 to 44.99 45 to 49.99 50 to 59.99 60 to 69.99 70 to 74.99 75 to 79.99 80 to 100
 GRADE : F P E D C B A O
 GRADE POINT : 0.00 4.00 5.00 6.00 7.00 8.00 9.00 10.00



University of Mumbai, Mumbai

OFFICE REGISTER OF THE B.E. (with credits) - Regular - CBCS(Electronics and Telecommunication Engineering)- F.E. C-Scheme - Sem I [T01831] HELD IN Summer 2025 Result Declaration Date:11 Jul 2025

58651-Engineering Mathematics-I: ThUA 80/32 ThCA 20/8 100/0 | 58652-Engineering Physics-I: ThUA 60/24 ThCA 15/6 75/0 | 58655-Engineering Chemistry-I: ThUA 60/24 ThCA 15/6 75/0 |
 58653-Engineering Mechanics: ThUA 80/32 ThCA 20/8 100/0 | 58654-Basic Electrical Engineering: ThUA 80/32 ThCA 20/8 100/0 | FEL101-Engineering Physics-I (TW): TwCA 25/10 25/0 |
 FEL102-Engineering Chemistry-I (TW): TwCA 25/10 25/0 | FEL103-Engineering Mechanics (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 | FEL104-Basic Electrical Engineering (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 |
 FEL105-Basic Workshop Practice-I: TwCA 50/20 50/0 | FEC101-Engineering Mathematics-I Term Work: TwCA 25/10 25/0 |

SEAT NO.	NAME OF THE CANDIDATE Mother Name PRN.	PAPER 1				PAPER 2				PAPER 3				PAPER 4				PAPER 5				PAPER 6				RESULT CR C*G SGPI GRADE			
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G				
CENTRE-COLLEGE		PAPER 7				PAPER 8				PAPER 9				PAPER 10				PAPER 11											
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G
7094463	/ MISHRA NIKITA SANJAY SUDHA 2023016400884415 (76)Navi Mumbai-(442)	58651 32	9+	41		FEC101 --	20+	20		58652 28+	6+	34		FEL101 --	17+	17		58655 31+	6+	37		FEL102 --	16+	16	18.00	98.00			
		3.00	P	4.00	12.00	1.00	O	10.00	10.00	2.00	E	5.00	10.00	0.50	C	7.00	3.50	2.00	E	5.00	10.00	0.50	C	7.00	3.50	5.44	--		
		58653 32+	8+	40		FEL103 --	18+	38		58654 32+	8+	40		FEL104 --	18+	37		FEL105 --	35+	35									
		3.00	P	4.00	12.00	1.00	A	9.00	9.00	3.00	P	4.00	12.00	1.00	B	8.00	8.00	1.00	B	8.00	8.00								
		Total Credit 18.00				FINAL CGPI 5.44				FINAL GRADE --																			
7094464	NIRMAY MISHRA ABHA MISHRA 2023016400883234 (76)Navi Mumbai-(442)	58651 40	18+	58		FEC101 --	22+	22		58652 30+	11+	41		FEL101 --	21+	21		58655 25+	8+	33		FEL102 --	15+	15	18.00	113.50			
		3.00	D	6.00	18.00	1.00	O	10.00	10.00	2.00	D	6.00	12.00	0.50	O	10.00	5.00	2.00	P	4.00	8.00	0.50	C	7.00	3.50	6.31	--		
		58653 32+	9+	41		FEL103 --	18+	42		58654 37+	10+	47		FEL104 --	19+	40		FEL105 --	40+	40									
		3.00	P	4.00	12.00	1.00	O	10.00	10.00	3.00	E	5.00	15.00	1.00	O	10.00	10.00	1.00	O	10.00	10.00								
		Total Credit 18.00				FINAL CGPI 6.31				FINAL GRADE --																			
7094465	/ PAWAR SIDDHI SATISH NEETA 2023016400884117 (76)Navi Mumbai-(442)	58651 38+	15+	53		FEC101 --	23+	23		58652 26+	10+	36		FEL101 --	23+	23		58655 30+	10+	40		FEL102 --	23+	23	18.00	--			
		3.00	D	6.00	18.00	1.00	O	10.00	10.00	2.00	E	5.00	10.00	0.50	O	10.00	5.00	2.00	D	6.00	12.00	0.50	O	10.00	5.00	--	--		
		58653 17F	8+	25		FEL103 --	24+	44		58654 38E	15+	53		FEL104 --	23+	43		FEL105 --	40+	40									
		3.00	F	0.00	0.00	1.00	O	10.00	10.00	3.00	D	6.00	18.00	1.00	O	10.00	10.00	1.00	O	10.00	10.00								
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																			

/ - FEMALE, # - 0.229A,@ - 0.5042A/O.5043A/O.5044A,* - 5045A, RR-RESERVED, --:Fails in Theory or Practical, RPV - PROVISIONAL Eligible, RCC - 0.5050, AB - ABSENT, F - UNSUCCESSFUL,P - SUCCESSFUL;
 NULL=NULL & VOID, G:Grade C*G:Gradepoints C:credits CP:credit points aCG:sum of product of credits & grades, Internal Marks are Provisional as per R.8668
 aC:sum of credit points GPA: aCG/aC
 MARKS : 0 to 39.99 40 to 44.99 45 to 49.99 50 to 59.99 60 to 69.99 70 to 74.99 75 to 79.99 80 to 100
 GRADE : F P E D C B A O
 GRADE POINT : 0.00 4.00 5.00 6.00 7.00 8.00 9.00 10.00



University of Mumbai, Mumbai

OFFICE REGISTER OF THE B.E. (with credits) - Regular - CBCS(Electronics and Telecommunication Engineering)- F.E. C-Scheme - Sem I [1T01831] HELD IN Summer 2025 Result Declaration Date:11 Jul 2025

58651-Engineering Mathematics-I: ThUA 80/32 ThCA 20/8 100/0 | 58652-Engineering Physics-I: ThUA 60/24 ThCA 15/6 75/0 | 58655-Engineering Chemistry-I: ThUA 60/24 ThCA 15/6 75/0 |
 58653-Engineering Mechanics: ThUA 80/32 ThCA 20/8 100/0 | 58654-Basic Electrical Engineering: ThUA 80/32 ThCA 20/8 100/0 | FEL101-Engineering Physics-I (TW): TwCA 25/10 25/0 |
 FEL102-Engineering Chemistry-I (TW): TwCA 25/10 25/0 | FEL103-Engineering Mechanics (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 | FEL104-Basic Electrical Engineering (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 |
 FEL105-Basic Workshop Practice-I: TwCA 50/20 50/0 | FEC101-Engineering Mathematics-I Term Work: TwCA 25/10 25/0 |

SEAT NO.	NAME OF THE CANDIDATE Mother Name PRN.	PAPER 1				PAPER 2				PAPER 3				PAPER 4				PAPER 5				PAPER 6				RESULT CR C*G SGPI GRADE			
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G				
CENTRE-COLLEGE		PAPER 7				PAPER 8				PAPER 9				PAPER 10				PAPER 11											
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G				
7094466	/ PUKAR HARSHADA GANESH LAXMI 2023016400884446 (76)Navi Mumbai-(442)	58651 11F	8+	19		FEC101 --	21+	21		58652 24E	6+	30		FEL101 --	21+	21		58655 24+	6+	30		FEL102 --	21+	21	18.00	--			
		3.00	F	0.00	0.00	1.00	O	10.00	10.00	2.00	P	4.00	8.00	0.50	O	10.00	5.00	2.00	P	4.00	8.00	0.50	O	10.00	5.00	--	--		
		58653 AA	14+	14		FEL103 --	22+	45		58654 AA	8+	8		FEL104 --	22+	42		FEL105 --	41+	41									
		3.00	F	0.00	0.00	1.00	O	10.00	10.00	3.00	F	0.00	0.00	1.00	O	10.00	10.00	1.00	O	10.00	10.00								
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																			
7094467	/ RATHOD SNEHA RAMESH SAVITA 2023016400884655 (76)Navi Mumbai-(442)	58651 32+	12+	44		FEC101 --	16+	16		58652 24+	6+	30		FEL101 --	15+	15		58655 32+	7+	39		FEL102 --	13+	13	18.00	98.50			
		3.00	P	4.00	12.00	1.00	C	7.00	7.00	2.00	P	4.00	8.00	0.50	C	7.00	3.50	2.00	D	6.00	12.00	0.50	D	6.00	3.00	5.47	--		
		58653 33+	10+	43		FEL103 --	15+	31		58654 47	12+	59		FEL104 --	18+	39		FEL105 --	34+	34									
		3.00	P	4.00	12.00	1.00	C	7.00	7.00	3.00	D	6.00	18.00	1.00	A	9.00	9.00	1.00	C	7.00	7.00								
		Total Credit 18.00				FINAL CGPI 5.47				FINAL GRADE --																			
7094468	SHAH MUKESH KRISHNA LAXMI 2022016400998566 (76)Navi Mumbai-(442)	58651 32+	8+	40		FEC101 --	14+	14		58652 15F	8+	23		FEL101 --	15+	15		58655 24+	6E	30		FEL102 --	19+	19	18.00	--			
		3.00	P	4.00	12.00	1.00	D	6.00	6.00	2.00	F	0.00	0.00	0.50	C	7.00	3.50	2.00	P	4.00	8.00	0.50	A	9.00	4.50	--	--		
		58653 32E	9+	41		FEL103 --	22+	40		58654 32+	8+	40		FEL104 --	15+	32		FEL105 --	37+	37									
		3.00	P	4.00	12.00	1.00	O	10.00	10.00	3.00	P	4.00	12.00	1.00	C	7.00	7.00	1.00	B	8.00	8.00								
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																			

/ - FEMALE, # - 0.229A,@ - 0.5042A/O.5043A/O.5044A,* - 5045A, RR-RESERVED, --:Fails in Theory or Practical, RPV - PROVISIONAL Eligible, RCC - 0.5050, AB - ABSENT, F - UNSUCCESSFUL,P - SUCCESSFUL;
 NULL=NULL & VOID, G:Grade C*G:Gradepoints C:credits CP:credit points aCG:sum of product of credits & grades, Internal Marks are Provisional as per R.8668
 aC:sum of credit points GPA: aCG/aC
 MARKS : 0 to 39.99 40 to 44.99 45 to 49.99 50 to 59.99 60 to 69.99 70 to 74.99 75 to 79.99 80 to 100
 GRADE : F P E D C B A O
 GRADE POINT : 0.00 4.00 5.00 6.00 7.00 8.00 9.00 10.00



University of Mumbai, Mumbai

OFFICE REGISTER OF THE B.E. (with credits) - Regular - CBCS(Electronics and Telecommunication Engineering)- F.E. C-Scheme - Sem I [T01831] HELD IN Summer 2025 Result Declaration Date:11 Jul 2025

58651-Engineering Mathematics-I: ThUA 80/32 ThCA 20/8 100/0 | 58652-Engineering Physics-I: ThUA 60/24 ThCA 15/6 75/0 | 58655-Engineering Chemistry-I: ThUA 60/24 ThCA 15/6 75/0 |
 58653-Engineering Mechanics: ThUA 80/32 ThCA 20/8 100/0 | 58654-Basic Electrical Engineering: ThUA 80/32 ThCA 20/8 100/0 | FEL101-Engineering Physics-I (TW): TwCA 25/10 25/0 |
 FEL102-Engineering Chemistry-I (TW): TwCA 25/10 25/0 | FEL103-Engineering Mechanics (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 | FEL104-Basic Electrical Engineering (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 |
 FEL105-Basic Workshop Practice-I: TwCA 50/20 50/0 | FEC101-Engineering Mathematics-I Term Work: TwCA 25/10 25/0 |

SEAT NO.	NAME OF THE CANDIDATE Mother Name PRN.	PAPER 1				PAPER 2				PAPER 3				PAPER 4				PAPER 5				PAPER 6				RESULT CR C*G SGPI GRADE			
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G				
CENTRE-COLLEGE		PAPER 7				PAPER 8				PAPER 9				PAPER 10				PAPER 11											
		Total				Total				Total				Total				Total											
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G
7094469	/ SHINDE TRUSHALI SANTOSH ANITA 2022016402121325 (76)Navi Mumbai-(442)	58651 32	8+	40		FEC101 17+	17			58652 24	6+	30		FEL101 22+	22		58655 27+	6+	33		FEL102 21+	21		18.00	99.00	5.50	--		
		3.00	P	4.00	12.00	1.00	C	7.00	7.00	2.00	P	4.00	8.00	0.50	O	10.00	5.00	2.00	P	4.00	8.00	0.50	O	10.00	5.00				
		Total Credit 18.00				FINAL CGPI 5.50				FINAL GRADE --																			
7094470	/ SINGH ANJALI SANJAY SEEMA 2023016400884423 (76)Navi Mumbai-(442)	58651 35+	12+	47		FEC101 23+	23			58652 24+	6+	30		FEL101 22+	22		58655 24+	10+	34		FEL102 19+	19		18.00	115.50	6.42	--		
		3.00	E	5.00	15.00	1.00	O	10.00	10.00	2.00	P	4.00	8.00	0.50	O	10.00	5.00	2.00	E	5.00	10.00	0.50	A	9.00	4.50				
		Total Credit 18.00				FINAL CGPI 6.42				FINAL GRADE --																			
7094471	SINGH KISHAN MUKESHKUMAR CHANCHALA 2022016402121186 (76)Navi Mumbai-(442)	58651 32	10+	42		FEC101 15+	15			58652 24+	10+	34		FEL101 22+	22		58655 24+	8+	32		FEL102 21+	21		18.00	98.00	5.44	--		
		3.00	P	4.00	12.00	1.00	C	7.00	7.00	2.00	E	5.00	10.00	0.50	O	10.00	5.00	2.00	P	4.00	8.00	0.50	O	10.00	5.00				
		Total Credit 18.00				FINAL CGPI 5.44				FINAL GRADE --																			

/ - FEMALE, # - 0.229A,@ - 0.5042A/O.5043A/O.5044A,* - 5045A, RR-RESERVED, --:Fails in Theory or Practical, RPV - PROVISIONAL Eligible, RCC - 0.5050, AB - ABSENT, F - UNSUCCESSFUL,P - SUCCESSFUL;
 NULL=NULL & VOID, G:Grade C*G:Gradepoints C:credits CP:credit points aCG:sum of product of credits & grades, Internal Marks are Provisional as per R.8668
 aC:sum of credit points GPA: aCG/aC
 MARKS : 0 to 39.99 40 to 44.99 45 to 49.99 50 to 59.99 60 to 69.99 70 to 74.99 75 to 79.99 80 to 100
 GRADE : F P E D C B A O
 GRADE POINT : 0.00 4.00 5.00 6.00 7.00 8.00 9.00 10.00



University of Mumbai, Mumbai

OFFICE REGISTER OF THE B.E. (with credits) - Regular - CBCS (Electronics and Telecommunication Engineering)- F.E. C-Scheme - Sem I [1T01831] HELD IN Summer 2025 Result Declaration Date: 11 Jul 2025

58651-Engineering Mathematics-I: ThUA 80/32 ThCA 20/8 100/0 | 58652-Engineering Physics-I: ThUA 60/24 ThCA 15/6 75/0 | 58655-Engineering Chemistry-I: ThUA 60/24 ThCA 15/6 75/0 |
 58653-Engineering Mechanics: ThUA 80/32 ThCA 20/8 100/0 | 58654-Basic Electrical Engineering: ThUA 80/32 ThCA 20/8 100/0 | FEL101-Engineering Physics-I (TW): TwCA 25/10 25/0 |
 FEL102-Engineering Chemistry-I (TW): TwCA 25/10 25/0 | FEL103-Engineering Mechanics (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 | FEL104-Basic Electrical Engineering (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 |
 FEL105-Basic Workshop Practice-I: TwCA 50/20 50/0 | FEC101-Engineering Mathematics-I Term Work: TwCA 25/10 25/0 |

SEAT NO.	NAME OF THE CANDIDATE Mother Name PRN.	PAPER 1				PAPER 2				PAPER 3				PAPER 4				PAPER 5				PAPER 6				RESULT CR C*G SGPI GRADE	
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G		
CENTRE-COLLEGE		PAPER 7				PAPER 8				PAPER 9				PAPER 10				PAPER 11									
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G		
7094472	TIWARI YASH VINAYKUMAR ARCHANA - ARCHANA 2021016401161004 (76)Navi Mumbai-(442)	58651 37+	9+	46		FEC101 16+	16			58652 24+	6+	30		FEL101 10+	10		58655 24+	6	30		FEL102 12+	12		18.00	87.50		
		3.00	E	5.00	15.00	1.00	C	7.00	7.00	2.00	P	4.00	8.00	0.50	P	4.00	2.00	2.00	P	4.00	8.00	0.50	E	5.00	2.50	4.86	--
		58653 33+	8+	41		FEL103 12+	24			58654 41+	9+	50		FEL104 14+	29		FEL105 20+	20									
		3.00	P	4.00	12.00	1.00	E	5.00	5.00	3.00	D	6.00	18.00	1.00	D	6.00	6.00	1.00	P	4.00	4.00						
		Total Credit 18.00				FINAL CGPI 4.86				FINAL GRADE --																	
7094473	VARTAK ADITYA VIJAY NUTAN 2023016400881517 (76)Navi Mumbai-(442)	58651 32+	9+	41		FEC101 22+	22			58652 24+	6+	30		FEL101 18+	18		58655 32	6+	38		FEL102 18+	18		18.00	105.00		
		3.00	P	4.00	12.00	1.00	O	10.00	10.00	2.00	P	4.00	8.00	0.50	B	8.00	4.00	2.00	D	6.00	12.00	0.50	B	8.00	4.00	5.83	--
		58653 32+	14+	46		FEL103 18+	37			58654 32+	11+	43		FEL104 22+	41		FEL105 42+	42									
		3.00	E	5.00	15.00	1.00	B	8.00	8.00	3.00	P	4.00	12.00	1.00	O	10.00	10.00	1.00	O	10.00	10.00						
		Total Credit 18.00				FINAL CGPI 5.83				FINAL GRADE --																	
7094474	YADAV HARSH VINODKUMAR SANGITA 2023016400884535 (76)Navi Mumbai-(442)	58651 32E	8+	40		FEC101 22+	22			58652 12F	6+	18		FEL101 17+	17		58655 24+	9+	33		FEL102 16+	16		18.00	--		
		3.00	P	4.00	12.00	1.00	O	10.00	10.00	2.00	F	0.00	0.00	0.50	C	7.00	3.50	2.00	P	4.00	8.00	0.50	C	7.00	3.50	--	--
		58653 9F	13+	22		FEL103 16+	28			58654 32+	12+	44		FEL104 19+	37		FEL105 40+	40									
		3.00	F	0.00	0.00	1.00	D	6.00	6.00	3.00	P	4.00	12.00	1.00	B	8.00	8.00	1.00	O	10.00	10.00						
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																	

/ - FEMALE, # - 0.229A, @ - 0.5042A/O.5043A/O.5044A, * - 5045A, RR-RESERVED, --:Fails in Theory or Practical, RPV - PROVISIONAL Eligible, RCC - 0.5050, AB - ABSENT, F - UNSUCCESSFUL, P - SUCCESSFUL;
 NULL=NULL & VOID, G:Grade C*G:Gradepoints C:credits CP:credit points aCG:sum of product of credits & grades, Internal Marks are Provisional as per R.8668
 aC:sum of credit points GPA: aCG/aC
 MARKS : 0 to 39.99 40 to 44.99 45 to 49.99 50 to 59.99 60 to 69.99 70 to 74.99 75 to 79.99 80 to 100
 GRADE : F P E D C B A O
 GRADE POINT : 0.00 4.00 5.00 6.00 7.00 8.00 9.00 10.00



University of Mumbai, Mumbai

OFFICE REGISTER OF THE B.E. (with credits) - Regular - CBCS (Electronics and Telecommunication Engineering)- F.E. C-Scheme - Sem I [T01831] HELD IN Summer 2025 Result Declaration Date: 11 Jul 2025

58651-Engineering Mathematics-I: ThUA 80/32 ThCA 20/8 100/0 | 58652-Engineering Physics-I: ThUA 60/24 ThCA 15/6 75/0 | 58655-Engineering Chemistry-I: ThUA 60/24 ThCA 15/6 75/0 |
 58653-Engineering Mechanics: ThUA 80/32 ThCA 20/8 100/0 | 58654-Basic Electrical Engineering: ThUA 80/32 ThCA 20/8 100/0 | FEL101-Engineering Physics-I (TW): TwCA 25/10 25/0 |
 FEL102-Engineering Chemistry-I (TW): TwCA 25/10 25/0 | FEL103-Engineering Mechanics (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 | FEL104-Basic Electrical Engineering (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 |
 FEL105-Basic Workshop Practice-I: TwCA 50/20 50/0 | FEC101-Engineering Mathematics-I Term Work: TwCA 25/10 25/0 |

SEAT NO.	NAME OF THE CANDIDATE Mother Name PRN.	PAPER 1				PAPER 2				PAPER 3				PAPER 4				PAPER 5				PAPER 6				RESULT CR C*G SGPI GRADE
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	
CENTRE-COLLEGE		PAPER 7				PAPER 8				PAPER 9				PAPER 10				PAPER 11								
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	
7094475	PARESH REVANSIDDAPPA PREMA 2023016400947576 (76)Navi Mumbai-(690)	58651 33E	8+	41		FEC101 ---	21+	21		58652 24+	6+	30		FEL101 ---	19+	19		58655 28+	8+	36		FEL102 ---	19+	19		Unsuccessful 18.00 --
		3.00	P	4.00	12.00	1.00	O	10.00	10.00	2.00	P	4.00	8.00	0.50	A	9.00	4.50	2.00	E	5.00	10.00	0.50	A	9.00	4.50	-- --
		58653 14F	11+	25		FEL103 ---	20+	36		58654 33+	9+	42		FEL104 ---	22+	41		FEL105 ---	45+	45						
		3.00	F	0.00	0.00	1.00	B	8.00	8.00	3.00	P	4.00	12.00	1.00	O	10.00	10.00	1.00	O	10.00	10.00					
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																
7094476	ADHAV PRATHAMESH SURESH MANDA 2022016402075816 (76)Navi Mumbai-(690)	58651 AA	8+	8		FEC101 ---	16+	16		58652 8F	6+	14		FEL101 ---	19+	19		58655 24+	7+	31		FEL102 ---	19+	19		Unsuccessful 18.00 --
		3.00	F	0.00	0.00	1.00	C	7.00	7.00	2.00	F	0.00	0.00	0.50	A	9.00	4.50	2.00	P	4.00	8.00	0.50	A	9.00	4.50	-- --
		58653 32+	18+	50		FEL103 ---	21+	42		58654 AA	9+	9		FEL104 ---	21+	37		FEL105 ---	41+	41						
		3.00	D	6.00	18.00	1.00	O	10.00	10.00	3.00	F	0.00	0.00	1.00	B	8.00	8.00	1.00	O	10.00	10.00					
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																
7094477	/ NAMRATA CHANDRAKANT DHERE SUNITA 2023016400950087 (76)Navi Mumbai-(690)	58651 32+	8+	40		FEC101 ---	17+	17		58652 24+	6+	30		FEL101 ---	17+	17		58655 48+	4+	52		FEL102 ---	14+	14		Successful 18.00 107.50
		3.00	P	4.00	12.00	1.00	C	7.00	7.00	2.00	P	4.00	8.00	0.50	C	7.00	3.50	2.00	B	8.00	16.00	0.50	D	6.00	3.00	5.97 --
		58653 41+	9+	50		FEL103 ---	19+	33		58654 34	11+	45		FEL104 ---	19+	37		FEL105 ---	45+	45						
		3.00	D	6.00	18.00	1.00	C	7.00	7.00	3.00	E	5.00	15.00	1.00	B	8.00	8.00	1.00	O	10.00	10.00					
		Total Credit 18.00				FINAL CGPI 5.97				FINAL GRADE --																

/ - FEMALE, # - 0.229A, @ - 0.5042A/O.5043A/O.5044A, * - 5045A, RR-RESERVED, ---Fails in Theory or Practical, RPV - PROVISIONAL Eligible, RCC - 0.5050, AB - ABSENT, F - UNSUCCESSFUL, P - SUCCESSFUL;
 NULL=NULL & VOID, G:Grade C*G:Gradepoints C:credits CP:credit points aCG:sum of product of credits & grades, Internal Marks are Provisional as per R.8668
 aC:sum of credit points GPA: aCG/aC
 MARKS : 0 to 39.99 40 to 44.99 45 to 49.99 50 to 59.99 60 to 69.99 70 to 74.99 75 to 79.99 80 to 100
 GRADE : F P E D C B A O
 GRADE POINT : 0.00 4.00 5.00 6.00 7.00 8.00 9.00 10.00



University of Mumbai, Mumbai

OFFICE REGISTER OF THE B.E. (with credits) - Regular - CBCS(Electronics and Telecommunication Engineering)- F.E. C-Scheme - Sem I [T01831] HELD IN Summer 2025 Result Declaration Date:11 Jul 2025

58651-Engineering Mathematics-I: ThUA 80/32 ThCA 20/8 100/0 | 58652-Engineering Physics-I: ThUA 60/24 ThCA 15/6 75/0 | 58655-Engineering Chemistry-I: ThUA 60/24 ThCA 15/6 75/0 |
 58653-Engineering Mechanics: ThUA 80/32 ThCA 20/8 100/0 | 58654-Basic Electrical Engineering: ThUA 80/32 ThCA 20/8 100/0 | FEL101-Engineering Physics-I (TW): TwCA 25/10 25/0 |
 FEL102-Engineering Chemistry-I (TW): TwCA 25/10 25/0 | FEL103-Engineering Mechanics (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 | FEL104-Basic Electrical Engineering (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 |
 FEL105-Basic Workshop Practice-I: TwCA 50/20 50/0 | FEC101-Engineering Mathematics-I Term Work: TwCA 25/10 25/0 |

SEAT NO.	NAME OF THE CANDIDATE Mother Name PRN.	PAPER 1				PAPER 2				PAPER 3				PAPER 4				PAPER 5				PAPER 6				RESULT CR C*G SGPI GRADE			
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G				
CENTRE-COLLEGE		PAPER 7				PAPER 8				PAPER 9				PAPER 10				PAPER 11											
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G
7094478	RACHIT GAMARE PRACHI 2023016400950106 (76)Navi Mumbai-(690)	58651 32E	8+	40		FEC101 19+	19			58652 24+	8+	32		FEL101 19+	19		58655 24+	6+	30		FEL102 18+	18			18.00	--			
		3.00	P	4.00	12.00	1.00	A	9.00	9.00	2.00	P	4.00	8.00	0.50	A	9.00	4.50	2.00	P	4.00	8.00	0.50	B	8.00	4.00	--	--		
		58653 32+	17+	49		FEL103 21+	36			58654 24F	15+	39		FEL104 21+	35		FEL105 41+	41											
		3.00	E	5.00	15.00	1.00	B	8.00	8.00	3.00	F	0.00	0.00	1.00	B	8.00	8.00	1.00	O	10.00	10.00								
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																			
7094479	GUPTA RAJ VINOD INDRAVATI 2023016400950926 (76)Navi Mumbai-(690)	58651 32+	10+	42		FEC101 14+	14			58652 24+	6+	30		FEL101 13+	13		58655 24+	6+	30		FEL102 13+	13			18.00	88.00			
		3.00	P	4.00	12.00	1.00	D	6.00	6.00	2.00	P	4.00	8.00	0.50	D	6.00	3.00	2.00	P	4.00	8.00	0.50	D	6.00	3.00	4.89	--		
		58653 39	10+	49		FEL103 19+	33			58654 32+	9+	41		FEL104 18+	32		FEL105 31+	31											
		3.00	E	5.00	15.00	1.00	C	7.00	7.00	3.00	P	4.00	12.00	1.00	C	7.00	7.00	1.00	C	7.00	7.00								
		Total Credit 18.00				FINAL CGPI 4.89				FINAL GRADE --																			
7094480	JAIN DIVYA KAMLESH VIMLA 2023016400950122 (76)Navi Mumbai-(690)	58651 32+	8+	40		FEC101 19+	19			58652 30+	6+	36		FEL101 17+	17		58655 24+	6+	30		FEL102 15+	15			18.00	--			
		3.00	P	4.00	12.00	1.00	A	9.00	9.00	2.00	E	5.00	10.00	0.50	C	7.00	3.50	2.00	P	4.00	8.00	0.50	C	7.00	3.50	--	--		
		58653 32E	8+	40		FEL103 20+	37			58654 28F	12+	40		FEL104 22+	34		FEL105 40+	40											
		3.00	P	4.00	12.00	1.00	B	8.00	8.00	3.00	F	0.00	0.00	1.00	C	7.00	7.00	1.00	O	10.00	10.00								
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																			

/ - FEMALE, # - 0.229A,@ - 0.5042A/O.5043A/O.5044A,* - 5045A, RR-RESERVED, --:Fails in Theory or Practical, RPV - PROVISIONAL Eligible, RCC - 0.5050, AB - ABSENT, F - UNSUCCESSFUL,P - SUCCESSFUL;
 NULL=NULL & VOID, G:Grade C*G:Gradepoints C:credits CP:credit points aCG:sum of product of credits & grades, Internal Marks are Provisional as per R.8668
 aC:sum of credit points GPA: aCG/aC
 MARKS : 0 to 39.99 40 to 44.99 45 to 49.99 50 to 59.99 60 to 69.99 70 to 74.99 75 to 79.99 80 to 100
 GRADE : F P E D C B A O
 GRADE POINT : 0.00 4.00 5.00 6.00 7.00 8.00 9.00 10.00



University of Mumbai, Mumbai

OFFICE REGISTER OF THE B.E. (with credits) - Regular - CBCS(Electronics and Telecommunication Engineering)- F.E. C-Scheme - Sem I [T01831] HELD IN Summer 2025 Result Declaration Date:11 Jul 2025

58651-Engineering Mathematics-I: ThUA 80/32 ThCA 20/8 100/0 | 58652-Engineering Physics-I: ThUA 60/24 ThCA 15/6 75/0 | 58655-Engineering Chemistry-I: ThUA 60/24 ThCA 15/6 75/0 |
 58653-Engineering Mechanics: ThUA 80/32 ThCA 20/8 100/0 | 58654-Basic Electrical Engineering: ThUA 80/32 ThCA 20/8 100/0 | FEL101-Engineering Physics-I (TW): TwCA 25/10 25/0 |
 FEL102-Engineering Chemistry-I (TW): TwCA 25/10 25/0 | FEL103-Engineering Mechanics (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 | FEL104-Basic Electrical Engineering (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 |
 FEL105-Basic Workshop Practice-I: TwCA 50/20 50/0 | FEC101-Engineering Mathematics-I Term Work: TwCA 25/10 25/0 |

SEAT NO.	NAME OF THE CANDIDATE Mother Name PRN.	PAPER 1				PAPER 2				PAPER 3				PAPER 4				PAPER 5				PAPER 6				RESULT CR C*G SGPI GRADE			
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G				
CENTRE-COLLEGE		PAPER 7				PAPER 8				PAPER 9				PAPER 10				PAPER 11											
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G
7094481	KAMBLE SHWET SANJAYKUMAR PALLAVI 2023016400951195 (76)Navi Mumbai-(690)	58651 34+	9+	43		FEC101 17+	17			58652 24+	6+	30		FEL101 17+	17		58655 28+	8+	36		FEL102 17+	17			18.00 --				
		3.00	P	4.00	12.00	1.00	C	7.00	7.00	2.00	P	4.00	8.00	0.50	C	7.00	3.50	2.00	E	5.00	10.00	0.50	C	7.00	3.50	-- --			
		58653 32+	14+	46		FEL103 20+	32			58654 20F	12+	32		FEL104 20+	32		FEL105 44+	44											
		3.00	E	5.00	15.00	1.00	C	7.00	7.00	3.00	F	0.00	0.00	1.00	C	7.00	7.00	1.00	O	10.00	10.00								
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																			
7094482	KHAN MOHD INAYAT HUSSAIN NIYAZ AHMED - RAZIYA BANO 2023016400950362 (76)Navi Mumbai-(690)	58651 32E	13+	45		FEC101 18+	18			58652 19F	6+	25		FEL101 17+	17		58655 35+	7+	42		FEL102 18+	18			18.00 --				
		3.00	E	5.00	15.00	1.00	B	8.00	8.00	2.00	F	0.00	0.00	0.50	C	7.00	3.50	2.00	D	6.00	12.00	0.50	B	8.00	4.00	-- --			
		58653 24F	10+	34		FEL103 21+	37			58654 20F	15+	35		FEL104 20+	35		FEL105 40+	40											
		3.00	F	0.00	0.00	1.00	B	8.00	8.00	3.00	F	0.00	0.00	1.00	B	8.00	8.00	1.00	O	10.00	10.00								
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																			
7094483	ABHISHEK KUMAR MADHURI DEVI 2023016400949343 (76)Navi Mumbai-(690)	58651 12F	13+	25		FEC101 15+	15			58652 13F	7+	10		FEL101 17+	17		58655 27+	10+	37		FEL102 16+	16			18.00 --				
		3.00	F	0.00	0.00	1.00	C	7.00	7.00	2.00	F	0.00	0.00	0.50	C	7.00	3.50	2.00	E	5.00	10.00	0.50	C	7.00	3.50	-- --			
		58653 1F	13+	14		FEL103 20+	32			58654 4F	12+	16		FEL104 21+	33		FEL105 42+	42											
		3.00	F	0.00	0.00	1.00	C	7.00	7.00	3.00	F	0.00	0.00	1.00	C	7.00	7.00	1.00	O	10.00	10.00								
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																			

/ - FEMALE, # - 0.229A,@ - 0.5042A/O.5043A/O.5044A,* - 5045A, RR-RESERVED, --:Fails in Theory or Practical, RPV - PROVISIONAL Eligible, RCC - 0.5050, AB - ABSENT, F - UNSUCCESSFUL,P - SUCCESSFUL;
 NULL=NULL & VOID, G:Grade C*G:Gradepoints C:credits CP:credit points aCG:sum of product of credits & grades, Internal Marks are Provisional as per R.8668
 aC:sum of credit points GPA: aCG/aC
 MARKS : 0 to 39.99 40 to 44.99 45 to 49.99 50 to 59.99 60 to 69.99 70 to 74.99 75 to 79.99 80 to 100
 GRADE : F P E D C B A O
 GRADE POINT : 0.00 4.00 5.00 6.00 7.00 8.00 9.00 10.00



University of Mumbai, Mumbai

OFFICE REGISTER OF THE B.E. (with credits) - Regular - CBCS(Electronics and Telecommunication Engineering)- F.E. C-Scheme - Sem I [T01831] HELD IN Summer 2025 Result Declaration Date:11 Jul 2025

58651-Engineering Mathematics-I: ThUA 80/32 ThCA 20/8 100/0 | 58652-Engineering Physics-I: ThUA 60/24 ThCA 15/6 75/0 | 58655-Engineering Chemistry-I: ThUA 60/24 ThCA 15/6 75/0 |
 58653-Engineering Mechanics: ThUA 80/32 ThCA 20/8 100/0 | 58654-Basic Electrical Engineering: ThUA 80/32 ThCA 20/8 100/0 | FEL101-Engineering Physics-I (TW): TwCA 25/10 25/0 |
 FEL102-Engineering Chemistry-I (TW): TwCA 25/10 25/0 | FEL103-Engineering Mechanics (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 | FEL104-Basic Electrical Engineering (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 |
 FEL105-Basic Workshop Practice-I: TwCA 50/20 50/0 | FEC101-Engineering Mathematics-I Term Work: TwCA 25/10 25/0 |

SEAT NO.	NAME OF THE CANDIDATE Mother Name PRN.	PAPER 1				PAPER 2				PAPER 3				PAPER 4				PAPER 5				PAPER 6				RESULT CR C*G SGPI GRADE			
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G				
CENTRE-COLLEGE		PAPER 7				PAPER 8				PAPER 9				PAPER 10				PAPER 11											
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G
7094484	LOKHANDE ARYA SANDEEP YOGINI 2023016400950466 (76)Navi Mumbai-(690)	58651 16F	14+	30		FEC101 14+	14			58652 24+	9+	33		FEL101 17+	17		58655 24+	7+	31		FEL102 14+	14			18.00	--			
		3.00	F	0.00	0.00	1.00	D	6.00	6.00	2.00	P	4.00	8.00	0.50	C	7.00	3.50	2.00	P	4.00	8.00	0.50	D	6.00	3.00	--	--		
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																			
7094485	/ MOKAL SANIYA SURYAKANT DIPTI 2023016400950845 (76)Navi Mumbai-(690)	58651 32E	13+	45		FEC101 19+	19			58652 24+	7+	31		FEL101 17+	17		58655 24+	7+	31		FEL102 16+	16			18.00	--			
		3.00	E	5.00	15.00	1.00	A	9.00	9.00	2.00	P	4.00	8.00	0.50	C	7.00	3.50	2.00	P	4.00	8.00	0.50	C	7.00	3.50	--	--		
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																			
7094486	PALVE PRATHMESH NITIN JAYSHRI 2023016400949714 (76)Navi Mumbai-(690)	58651 38+	13+	51		FEC101 17+	17			58652 24+	6+	30		FEL101 15+	15		58655 28	7+	35		FEL102 14+	14			18.00	105.50			
		3.00	D	6.00	18.00	1.00	C	7.00	7.00	2.00	P	4.00	8.00	0.50	C	7.00	3.50	2.00	E	5.00	10.00	0.50	D	6.00	3.00	5.86	--		
		Total Credit 18.00				FINAL CGPI 5.86				FINAL GRADE --																			

/ - FEMALE, # - 0.229A,@ - 0.5042A/O.5043A/O.5044A,* - 5045A, RR-RESERVED, --:Fails in Theory or Practical, RPV - PROVISIONAL Eligible, RCC - 0.5050, AB - ABSENT, F - UNSUCCESSFUL,P - SUCCESSFUL;
 NULL=NULL & VOID, G:Grade C*G:Gradepoints C:credits CP:credit points aCG:sum of product of credits & grades, Internal Marks are Provisional as per R.8668
 aC:sum of credit points GPA: aCG/aC
 MARKS : 0 to 39.99 40 to 44.99 45 to 49.99 50 to 59.99 60 to 69.99 70 to 74.99 75 to 79.99 80 to 100
 GRADE : F P E D C B A O
 GRADE POINT : 0.00 4.00 5.00 6.00 7.00 8.00 9.00 10.00



University of Mumbai, Mumbai

OFFICE REGISTER OF THE B.E. (with credits) - Regular - CBCS (Electronics and Telecommunication Engineering)- F.E. C-Scheme - Sem I [1T01831] HELD IN Summer 2025 Result Declaration Date: 11 Jul 2025

58651-Engineering Mathematics-I: ThUA 80/32 ThCA 20/8 100/0 | 58652-Engineering Physics-I: ThUA 60/24 ThCA 15/6 75/0 | 58655-Engineering Chemistry-I: ThUA 60/24 ThCA 15/6 75/0 |
 58653-Engineering Mechanics: ThUA 80/32 ThCA 20/8 100/0 | 58654-Basic Electrical Engineering: ThUA 80/32 ThCA 20/8 100/0 | FEL101-Engineering Physics-I (TW): TwCA 25/10 25/0 |
 FEL102-Engineering Chemistry-I (TW): TwCA 25/10 25/0 | FEL103-Engineering Mechanics (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 | FEL104-Basic Electrical Engineering (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 |
 FEL105-Basic Workshop Practice-I: TwCA 50/20 50/0 | FEC101-Engineering Mathematics-I Term Work: TwCA 25/10 25/0 |

SEAT NO.	NAME OF THE CANDIDATE Mother Name PRN.	PAPER 1				PAPER 2				PAPER 3				PAPER 4				PAPER 5				PAPER 6				RESULT CR C*G SGPI GRADE			
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G				
CENTRE-COLLEGE		PAPER 7				PAPER 8				PAPER 9				PAPER 10				PAPER 11											
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G
7094487	/ PATIL ISHA SANJAY VIDYA 2022016402076294 (76)Navi Mumbai-(690)	58651 14F	11+	25		FEC101 19+	19			58652 26+	6+	32		FEL101 18+	18		58655 24+	7+	31		FEL102 20+	20			18.00	--			
		3.00	F	0.00	0.00	1.00	A	9.00	9.00	2.00	P	4.00	8.00	0.50	B	8.00	4.00	2.00	P	4.00	8.00	0.50	O	10.00	5.00	--	--		
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																			
7094488	PATIL YADNESH UMESH DARSHANA 2023016400949505 (76)Navi Mumbai-(690)	58651 36	10+	46		FEC101 17+	17			58652 25+	7+	32		FEL101 17+	17		58655 25+	6+	31		FEL102 15+	15			18.00	102.00			
		3.00	E	5.00	15.00	1.00	C	7.00	7.00	2.00	P	4.00	8.00	0.50	C	7.00	3.50	2.00	P	4.00	8.00	0.50	C	7.00	3.50	5.67	--		
		Total Credit 18.00				FINAL CGPI 5.67				FINAL GRADE --																			
7094489	PATOLE SMEET SANTOSH SANIKA 2023016400950307 (76)Navi Mumbai-(690)	58651 32	12+	44		FEC101 18+	18			58652 26+	8+	34		FEL101 16+	16		58655 24+	6+	30		FEL102 14+	14			18.00	96.50			
		3.00	P	4.00	12.00	1.00	B	8.00	8.00	2.00	E	5.00	10.00	0.50	C	7.00	3.50	2.00	P	4.00	8.00	0.50	D	6.00	3.00	5.36	--		
		Total Credit 18.00				FINAL CGPI 5.36				FINAL GRADE --																			

/ - FEMALE, # - 0.229A, @ - 0.5042A/O.5043A/O.5044A, * - 5045A, RR-RESERVED, --:Fails in Theory or Practical, RPV - PROVISIONAL Eligible, RCC - 0.5050, AB - ABSENT, F - UNSUCCESSFUL, P - SUCCESSFUL;
 NULL=NULL & VOID, G:Grade C*G:Gradepoints C:credits CP:credit points @CG:sum of product of credits & grades, Internal Marks are Provisional as per R.8668
 @C:sum of credit points GPA: @CG/@C
 MARKS : 0 to 39.99 40 to 44.99 45 to 49.99 50 to 59.99 60 to 69.99 70 to 74.99 75 to 79.99 80 to 100
 GRADE : F P E D C B A O
 GRADE POINT : 0.00 4.00 5.00 6.00 7.00 8.00 9.00 10.00



University of Mumbai, Mumbai

OFFICE REGISTER OF THE B.E. (with credits) - Regular - CBCS(Electronics and Telecommunication Engineering)- F.E. C-Scheme - Sem I [1T01831] HELD IN Summer 2025 Result Declaration Date:11 Jul 2025

58651-Engineering Mathematics-I: ThUA 80/32 ThCA 20/8 100/0 | 58652-Engineering Physics-I: ThUA 60/24 ThCA 15/6 75/0 | 58655-Engineering Chemistry-I: ThUA 60/24 ThCA 15/6 75/0 |
 58653-Engineering Mechanics: ThUA 80/32 ThCA 20/8 100/0 | 58654-Basic Electrical Engineering: ThUA 80/32 ThCA 20/8 100/0 | FEL101-Engineering Physics-I (TW): TwCA 25/10 25/0 |
 FEL102-Engineering Chemistry-I (TW): TwCA 25/10 25/0 | FEL103-Engineering Mechanics (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 | FEL104-Basic Electrical Engineering (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 |
 FEL105-Basic Workshop Practice-I: TwCA 50/20 50/0 | FEC101-Engineering Mathematics-I Term Work: TwCA 25/10 25/0 |

SEAT NO.	NAME OF THE CANDIDATE Mother Name PRN.	PAPER 1				PAPER 2				PAPER 3				PAPER 4				PAPER 5				PAPER 6				RESULT CR C*G SGPI GRADE	
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G		
CENTRE-COLLEGE		PAPER 7				PAPER 8				PAPER 9				PAPER 10				PAPER 11									
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G		
7094490	ADITYA SHARMA KAMNI 2023016400951013 (76)Navi Mumbai-(690)	58651 32+	10+	42		FEC101 16+	16			58652 36+	7+	43		FEL101 18+	18		58655 29+	6+	35		FEL102 19+	19		18.00 98.50 5.47 --			
		3.00	P	4.00	12.00	1.00	C	7.00	7.00	2.00	D	6.00	12.00	0.50	B	8.00	4.00	2.00	E	5.00	10.00	0.50	A	9.00	4.50		
		58653 32+	14+	46		FEL103 18+	38			58654 32	8+	40		FEL104 17+	33		FEL105 29+	29									
		3.00	E	5.00	15.00	1.00	A	9.00	9.00	3.00	P	4.00	12.00	1.00	C	7.00	7.00	1.00	D	6.00	6.00						
		Total Credit 18.00				FINAL CGPI 5.47				FINAL GRADE --																	
7094491	VEERA SHARMA SONALI 2023016400949432 (76)Navi Mumbai-(690)	58651 33+	10+	43		FEC101 14+	14			58652 24+	8+	32		FEL101 18+	18		58655 25+	7+	32		FEL102 15+	15		18.00 -- -- --			
		3.00	P	4.00	12.00	1.00	D	6.00	6.00	2.00	P	4.00	8.00	0.50	B	8.00	4.00	2.00	P	4.00	8.00	0.50	C	7.00	3.50		
		58653 AA	13+	13		FEL103 18+	35			58654 AA	8+	8		FEL104 16+	31		FEL105 43+	43									
		3.00	F	0.00	0.00	1.00	B	8.00	8.00	3.00	F	0.00	0.00	1.00	C	7.00	7.00	1.00	O	10.00	10.00						
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																	
7094492	YASH SADANAND SHETTY SHAKILA 2023016400950242 (76)Navi Mumbai-(690)	58651 38E	8+	46		FEC101 16+	16			58652 32+	6+	38		FEL101 16+	16		58655 39+	8+	47		FEL102 13+	13		18.00 -- -- --			
		3.00	E	5.00	15.00	1.00	C	7.00	7.00	2.00	D	6.00	12.00	0.50	C	7.00	3.50	2.00	C	7.00	14.00	0.50	D	6.00	3.00		
		58653 32+	12+	44		FEL103 19+	37			58654 20F	8+	28		FEL104 19+	34		FEL105 40+	40									
		3.00	P	4.00	12.00	1.00	B	8.00	8.00	3.00	F	0.00	0.00	1.00	C	7.00	7.00	1.00	O	10.00	10.00						
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																	

/ - FEMALE, # - 0.229A,@ - 0.5042A/O.5043A/O.5044A,* - 5045A, RR-RESERVED, --:Fails in Theory or Practical, RPV - PROVISIONAL Eligible, RCC - 0.5050, AB - ABSENT, F - UNSUCCESSFUL,P - SUCCESSFUL;
 NULL=NULL & VOID, G:Grade C*G:Gradepoints C:credits CP:credit points aCG:sum of product of credits & grades, Internal Marks are Provisional as per R.8668
 aC:sum of credit points GPA: aCG/aC
 MARKS : 0 to 39.99 40 to 44.99 45 to 49.99 50 to 59.99 60 to 69.99 70 to 74.99 75 to 79.99 80 to 100
 GRADE : F P E D C B A O
 GRADE POINT : 0.00 4.00 5.00 6.00 7.00 8.00 9.00 10.00



University of Mumbai, Mumbai

OFFICE REGISTER OF THE B.E. (with credits) - Regular - CBCS(Electronics and Telecommunication Engineering)- F.E. C-Scheme - Sem I [1T01831] HELD IN Summer 2025 Result Declaration Date:11 Jul 2025

58651-Engineering Mathematics-I: ThUA 80/32 ThCA 20/8 100/0 | 58652-Engineering Physics-I: ThUA 60/24 ThCA 15/6 75/0 | 58655-Engineering Chemistry-I: ThUA 60/24 ThCA 15/6 75/0 |
 58653-Engineering Mechanics: ThUA 80/32 ThCA 20/8 100/0 | 58654-Basic Electrical Engineering: ThUA 80/32 ThCA 20/8 100/0 | FEL101-Engineering Physics-I (TW): TwCA 25/10 25/0 |
 FEL102-Engineering Chemistry-I (TW): TwCA 25/10 25/0 | FEL103-Engineering Mechanics (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 | FEL104-Basic Electrical Engineering (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 |
 FEL105-Basic Workshop Practice-I: TwCA 50/20 50/0 | FEC101-Engineering Mathematics-I Term Work: TwCA 25/10 25/0 |

SEAT NO.	NAME OF THE CANDIDATE Mother Name PRN.	PAPER 1				PAPER 2				PAPER 3				PAPER 4				PAPER 5				PAPER 6				RESULT CR C*G SGPI GRADE			
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G				
CENTRE-COLLEGE		PAPER 7				PAPER 8				PAPER 9				PAPER 10				PAPER 11											
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G				
7094493	SHRIVASTAV RISHI MUKESH KANCHAN 2022016402078022 (76)Navi Mumbai-(690)	58651 34	8+	42		FEC101 11+	11		58652 26+	6+	32		FEL101 18+	18		58655 31+	6+	37		FEL102 20+	20		Successful 18.00 99.00						
		3.00	P	4.00	12.00	1.00	P	4.00	4.00	2.00	P	4.00	8.00	0.50	B	8.00	4.00	2.00	E	5.00	10.00	0.50	O	10.00	5.00	5.50 --			
		58653 32+	9+	41		FEL103 21+	39		58654 42+	8+	50		FEL104 21+	39		FEL105 37+	37												
		3.00	P	4.00	12.00	1.00	A	9.00	9.00	3.00	D	6.00	18.00	1.00	A	9.00	9.00	1.00	B	8.00	8.00								
		Total Credit 18.00				FINAL CGPI 5.50				FINAL GRADE --																			
7094494	SINGH KRISH SHIVAJI KUMAR NITU 2023016400951044 (76)Navi Mumbai-(690)	58651 20F	AA	20		FEC101 16+	16		58652 24+	6+	30		FEL101 17+	17		58655 24+	6+	30		FEL102 18+	18		Unsuccessful 18.00 --						
		3.00	F	0.00	0.00	1.00	C	7.00	7.00	2.00	P	4.00	8.00	0.50	C	7.00	3.50	2.00	P	4.00	8.00	0.50	B	8.00	4.00	-- --			
		58653 32+	8+	40		FEL103 19+	34		58654 36+	11+	47		FEL104 22+	38		FEL105 45+	45												
		3.00	P	4.00	12.00	1.00	C	7.00	7.00	3.00	E	5.00	15.00	1.00	A	9.00	9.00	1.00	O	10.00	10.00								
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																			
7094495	PARTH BHARAT WALUNJ SUPRIYA 2023016400950346 (76)Navi Mumbai-(690)	58651 16F	9+	25		FEC101 14+	14		58652 24+	7+	31		FEL101 16+	16		58655 24+	8+	32		FEL102 16+	16		Unsuccessful 18.00 --						
		3.00	F	0.00	0.00	1.00	D	6.00	6.00	2.00	P	4.00	8.00	0.50	C	7.00	3.50	2.00	P	4.00	8.00	0.50	C	7.00	3.50	-- --			
		58653 19F	10+	29		FEL103 19+	34		58654 10F	14+	24		FEL104 15+	30		FEL105 42+	42												
		3.00	F	0.00	0.00	1.00	C	7.00	7.00	3.00	F	0.00	0.00	1.00	C	7.00	7.00	1.00	O	10.00	10.00								
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																			

/ - FEMALE, # - 0.229A,@ - 0.5042A/O.5043A/O.5044A,* - 5045A, RR-RESERVED, --:Fails in Theory or Practical, RPV - PROVISIONAL Eligible, RCC - 0.5050, AB - ABSENT, F - UNSUCCESSFUL,P - SUCCESSFUL;
 NULL=NULL & VOID, G:Grade C*G:Gradepoints C:credits CP:credit points aCG:sum of product of credits & grades, Internal Marks are Provisional as per R.8668
 aC:sum of credit points GPA: aCG/aC
 MARKS : 0 to 39.99 40 to 44.99 45 to 49.99 50 to 59.99 60 to 69.99 70 to 74.99 75 to 79.99 80 to 100
 GRADE : F P E D C B A O
 GRADE POINT : 0.00 4.00 5.00 6.00 7.00 8.00 9.00 10.00



University of Mumbai, Mumbai

OFFICE REGISTER OF THE B.E. (with credits) - Regular - CBCS(Electronics and Telecommunication Engineering)- F.E. C-Scheme - Sem I [T01831] HELD IN Summer 2025 Result Declaration Date:11 Jul 2025

58651-Engineering Mathematics-I: ThUA 80/32 ThCA 20/8 100/0 | 58652-Engineering Physics-I: ThUA 60/24 ThCA 15/6 75/0 | 58655-Engineering Chemistry-I: ThUA 60/24 ThCA 15/6 75/0 |
 58653-Engineering Mechanics: ThUA 80/32 ThCA 20/8 100/0 | 58654-Basic Electrical Engineering: ThUA 80/32 ThCA 20/8 100/0 | FEL101-Engineering Physics-I (TW): TwCA 25/10 25/0 |
 FEL102-Engineering Chemistry-I (TW): TwCA 25/10 25/0 | FEL103-Engineering Mechanics (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 | FEL104-Basic Electrical Engineering (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 |
 FEL105-Basic Workshop Practice-I: TwCA 50/20 50/0 | FEC101-Engineering Mathematics-I Term Work: TwCA 25/10 25/0 |

SEAT NO.	NAME OF THE CANDIDATE Mother Name PRN.	PAPER 1				PAPER 2				PAPER 3				PAPER 4				PAPER 5				PAPER 6				RESULT					
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	SGPI	GRADE
CENTRE-COLLEGE		PAPER 7				PAPER 8				PAPER 9				PAPER 10				PAPER 11													
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G						
7094496	ANKAWALLA UJWAL PRADEEP SMITA 2023016400738037 (97)BORIVALI-(531)	58651 18F	8+	26		FEC101 --	11+	11		58652 3F	8+	11		FEL101 --	19+	19		58655 11F	6+	17		FEL102 --	13+	13		18.00	--	Unsuccessful			
		3.00	F	0.00	0.00	1.00	P	4.00	4.00	2.00	F	0.00	0.00	0.50	A	9.00	4.50	2.00	F	0.00	0.00	0.50	D	6.00	3.00	--	--				
		58653 35+	8+	43		FEL103 --	14+	29		58654 16F	8+	24		FEL104 --	18+	35		FEL105 --	35+	35											
		3.00	P	4.00	12.00	1.00	D	6.00	6.00	3.00	F	0.00	0.00	1.00	B	8.00	8.00	1.00	B	8.00	8.00										
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																					
7094497	APHALE NIKHIL AJAY PALLAVI 2022016400007347 (97)BORIVALI-(531)	58651 32+	6@2	38		FEC101 --	13+	13		58652 24+	6+	30		FEL101 --	17+	17		58655 24	6+	30		FEL102 --	10+	10		18.00	86.50	Successful			
		3.00	P	4.00	12.00	1.00	D	6.00	6.00	2.00	P	4.00	8.00	0.50	C	7.00	3.50	2.00	P	4.00	8.00	0.50	P	4.00	2.00	4.81	--				
		58653 32+	11	43		FEL103 --	16+	31		58654 32+	10+	42		FEL104 --	13+	28		FEL105 --	40+	40											
		3.00	P	4.00	12.00	1.00	C	7.00	7.00	3.00	P	4.00	12.00	1.00	D	6.00	6.00	1.00	O	10.00	10.00										
		Total Credit 18.00				FINAL CGPI 4.81				FINAL GRADE --																					

/ - FEMALE, # - 0.229A,@ - 0.5042A/O.5043A/O.5044A, * - 5045A, RR-RESERVED, --:Fails in Theory or Practical, RPV - PROVISIONAL Eligible, RCC - 0.5050, AB - ABSENT, F - UNSUCCESSFUL,P - SUCCESSFUL;
 NULL=NULL & VOID, G:Grade C*G:Gradepoints C:credits CP:credit points @CG:sum of product of credits & grades, Internal Marks are Provisional as per R.8668
 @C:sum of credit points GPA: @CG/@C
 MARKS : 0 to 39.99 40 to 44.99 45 to 49.99 50 to 59.99 60 to 69.99 70 to 74.99 75 to 79.99 80 to 100
 GRADE : F P E D C B A O
 GRADE POINT : 0.00 4.00 5.00 6.00 7.00 8.00 9.00 10.00



University of Mumbai, Mumbai

OFFICE REGISTER OF THE B.E. (with credits) - Regular - CBCS (Electronics and Telecommunication Engineering)- F.E. C-Scheme - Sem I [T01831] HELD IN Summer 2025 Result Declaration Date: 11 Jul 2025

58651-Engineering Mathematics-I: ThUA 80/32 ThCA 20/8 100/0 | 58652-Engineering Physics-I: ThUA 60/24 ThCA 15/6 75/0 | 58655-Engineering Chemistry-I: ThUA 60/24 ThCA 15/6 75/0 |
 58653-Engineering Mechanics: ThUA 80/32 ThCA 20/8 100/0 | 58654-Basic Electrical Engineering: ThUA 80/32 ThCA 20/8 100/0 | FEL101-Engineering Physics-I (TW): TwCA 25/10 25/0 |
 FEL102-Engineering Chemistry-I (TW): TwCA 25/10 25/0 | FEL103-Engineering Mechanics (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 | FEL104-Basic Electrical Engineering (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 |
 FEL105-Basic Workshop Practice-I: TwCA 50/20 50/0 | FEC101-Engineering Mathematics-I Term Work: TwCA 25/10 25/0 |

SEAT NO.	NAME OF THE CANDIDATE Mother Name PRN.	PAPER 1				PAPER 2				PAPER 3				PAPER 4				PAPER 5				PAPER 6				RESULT CR C*G SGPI GRADE			
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G				
CENTRE-COLLEGE		PAPER 7				PAPER 8				PAPER 9				PAPER 10				PAPER 11											
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G				
7094498	TAPESNU SOUMENDRA BAIN NIVA 2022016400910201 (97)BORIVALI-(531)	58651 6F	8+	14		FEC101 11+	11			58652 25E	6+	31		FEL101 12+	12		58655 24+	6+	30		FEL102 10+	10		18.00 -- -- --					
		3.00	F	0.00	0.00	1.00	P	4.00	4.00	2.00	P	4.00	8.00	0.50	E	5.00	2.50	2.00	P	4.00	8.00	0.50	P	4.00	2.00				
		58653 32+	8+	40		FEL103 10+	22			58654 32+	10+	42		FEL104 12+	30		FEL105 35+	35											
		3.00	P	4.00	12.00	1.00	P	4.00	4.00	3.00	P	4.00	12.00	1.00	C	7.00	7.00	1.00	B	8.00	8.00								
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																			
7094499	CHOUHARY ANMOL SANTOSH POOJA CHOUHARY 2022016402079547 (97)BORIVALI-(531)	58651 32+	13+	45		FEC101 13+	13			58652 AA	8+	8		FEL101 20+	20		58655 24+	11+	35		FEL102 11+	11		18.00 -- -- --					
		3.00	E	5.00	15.00	1.00	D	6.00	6.00	2.00	F	0.00	0.00	0.50	O	10.00	5.00	2.00	E	5.00	10.00	0.50	P	4.00	2.00				
		58653 32+	8+	40		FEL103 17+	34			58654 32E	9+	41		FEL104 15+	33		FEL105 28+	28											
		3.00	P	4.00	12.00	1.00	C	7.00	7.00	3.00	P	4.00	12.00	1.00	C	7.00	7.00	1.00	D	6.00	6.00								
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																			
7094500	DEVADIGA KARTIK YADHODHARA NEETHA 2022016402079571 (97)BORIVALI-(531)	58651 12F	8+	20		FEC101 14+	14			58652 24+	13+	37		FEL101 20+	20		58655 24+	8+	32		FEL102 12+	12		18.00 -- -- --					
		3.00	F	0.00	0.00	1.00	D	6.00	6.00	2.00	E	5.00	10.00	0.50	O	10.00	5.00	2.00	P	4.00	8.00	0.50	E	5.00	2.50				
		58653 36E	8+	44		FEL103 20+	37			58654 39+	12+	51		FEL104 16+	34		FEL105 36+	36											
		3.00	P	4.00	12.00	1.00	B	8.00	8.00	3.00	D	6.00	18.00	1.00	C	7.00	7.00	1.00	B	8.00	8.00								
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																			

/ - FEMALE, # - 0.229A, @ - 0.5042A/O.5043A/O.5044A, * - 5045A, RR-RESERVED, --:Fails in Theory or Practical, RPV - PROVISIONAL Eligible, RCC - 0.5050, AB - ABSENT, F - UNSUCCESSFUL, P - SUCCESSFUL;
 NULL=NULL & VOID, G:Grade C*G:Gradepoints C:credits CP:credit points aCG:sum of product of credits & grades, Internal Marks are Provisional as per R.8668
 aC:sum of credit points GPA: aCG/aC
 MARKS : 0 to 39.99 40 to 44.99 45 to 49.99 50 to 59.99 60 to 69.99 70 to 74.99 75 to 79.99 80 to 100
 GRADE : F P E D C B A O
 GRADE POINT : 0.00 4.00 5.00 6.00 7.00 8.00 9.00 10.00



University of Mumbai, Mumbai

OFFICE REGISTER OF THE B.E. (with credits) - Regular - CBCS(Electronics and Telecommunication Engineering)- F.E. C-Scheme - Sem I [1T01831] HELD IN Summer 2025 Result Declaration Date:11 Jul 2025

58651-Engineering Mathematics-I: ThUA 80/32 ThCA 20/8 100/0 | 58652-Engineering Physics-I: ThUA 60/24 ThCA 15/6 75/0 | 58655-Engineering Chemistry-I: ThUA 60/24 ThCA 15/6 75/0 |
 58653-Engineering Mechanics: ThUA 80/32 ThCA 20/8 100/0 | 58654-Basic Electrical Engineering: ThUA 80/32 ThCA 20/8 100/0 | FEL101-Engineering Physics-I (TW): TwCA 25/10 25/0 |
 FEL102-Engineering Chemistry-I (TW): TwCA 25/10 25/0 | FEL103-Engineering Mechanics (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 | FEL104-Basic Electrical Engineering (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 |
 FEL105-Basic Workshop Practice-I: TwCA 50/20 50/0 | FEC101-Engineering Mathematics-I Term Work: TwCA 25/10 25/0 |

SEAT NO.	NAME OF THE CANDIDATE Mother Name PRN.	PAPER 1				PAPER 2				PAPER 3				PAPER 4				PAPER 5				PAPER 6				RESULT CR C*G SGPI GRADE			
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G				
CENTRE-COLLEGE		PAPER 7				PAPER 8				PAPER 9				PAPER 10				PAPER 11											
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G				
7094501	DHANAK FENIEL CHETAN MAYURI 2023016400741361 (97)BORIVALI-(531)	58651 15F	8E	23		FEC101 19+	19			58652 24+	9+	33		FEL101 22+	22		58655 24+	6+	30		FEL102 15+	15		18.00	--				
		3.00	F	0.00	0.00	1.00	A	9.00	9.00	2.00	P	4.00	8.00	0.50	O	10.00	5.00	2.00	P	4.00	8.00	0.50	C	7.00	3.50	-- --			
		58653 27F	9+	36		FEL103 21+	41			58654 36E	8+	44		FEL104 21+	43		FEL105 39+	39											
		3.00	F	0.00	0.00	1.00	O	10.00	10.00	3.00	P	4.00	12.00	1.00	O	10.00	10.00	1.00	A	9.00	9.00								
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																			
7094502	DHUMAL ARYAN KISHOR USHA 2023016400740694 (97)BORIVALI-(531)	58651 33+	8+	41		FEC101 20+	20			58652 24+	7+	31		FEL101 16+	16		58655 33+	8+	41		FEL102 19+	19		18.00	106.00				
		3.00	P	4.00	12.00	1.00	O	10.00	10.00	2.00	P	4.00	8.00	0.50	C	7.00	3.50	2.00	D	6.00	12.00	0.50	A	9.00	4.50	5.89 --			
		58653 36	13+	49		FEL103 22+	40			58654 32+	9+	41		FEL104 20+	39		FEL105 46+	46											
		3.00	E	5.00	15.00	1.00	O	10.00	10.00	3.00	P	4.00	12.00	1.00	A	9.00	9.00	1.00	O	10.00	10.00								
		Total Credit 18.00				FINAL CGPI 5.89				FINAL GRADE --																			
7094503	/ DSOUZA JENNIKA FEDRICK MONICA 2023016400738312 (97)BORIVALI-(531)	58651 32+	13+	45		FEC101 20+	20			58652 41+	8+	49		FEL101 21+	21		58655 38+	7+	45		FEL102 21+	21		18.00	120.00				
		3.00	E	5.00	15.00	1.00	O	10.00	10.00	2.00	C	7.00	14.00	0.50	O	10.00	5.00	2.00	C	7.00	14.00	0.50	O	10.00	5.00	6.67 --			
		58653 32	9+	41		FEL103 23+	41			58654 32+	14+	46		FEL104 23+	41		FEL105 44+	44											
		3.00	P	4.00	12.00	1.00	O	10.00	10.00	3.00	E	5.00	15.00	1.00	O	10.00	10.00	1.00	O	10.00	10.00								
		Total Credit 18.00				FINAL CGPI 6.67				FINAL GRADE --																			

/ - FEMALE, # - 0.229A,@ - 0.5042A/O.5043A/O.5044A,* - 5045A, RR-RESERVED, --:Fails in Theory or Practical, RPV - PROVISIONAL Eligible, RCC - 0.5050, AB - ABSENT, F - UNSUCCESSFUL,P - SUCCESSFUL;
 NULL=NULL & VOID, G:Grade C*G:Gradepoints C:credits CP:credit points aCG:sum of product of credits & grades, Internal Marks are Provisional as per R.8668
 aC:sum of credit points GPA: aCG/aC
 MARKS : 0 to 39.99 40 to 44.99 45 to 49.99 50 to 59.99 60 to 69.99 70 to 74.99 75 to 79.99 80 to 100
 GRADE : F P E D C B A O
 GRADE POINT : 0.00 4.00 5.00 6.00 7.00 8.00 9.00 10.00



University of Mumbai, Mumbai

OFFICE REGISTER OF THE B.E. (with credits) - Regular - CBCS(Electronics and Telecommunication Engineering)- F.E. C-Scheme - Sem I [T01831] HELD IN Summer 2025 Result Declaration Date:11 Jul 2025

58651-Engineering Mathematics-I: ThUA 80/32 ThCA 20/8 100/0 | 58652-Engineering Physics-I: ThUA 60/24 ThCA 15/6 75/0 | 58655-Engineering Chemistry-I: ThUA 60/24 ThCA 15/6 75/0 |
 58653-Engineering Mechanics: ThUA 80/32 ThCA 20/8 100/0 | 58654-Basic Electrical Engineering: ThUA 80/32 ThCA 20/8 100/0 | FEL101-Engineering Physics-I (TW): TwCA 25/10 25/0 |
 FEL102-Engineering Chemistry-I (TW): TwCA 25/10 25/0 | FEL103-Engineering Mechanics (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 | FEL104-Basic Electrical Engineering (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 |
 FEL105-Basic Workshop Practice-I: TwCA 50/20 50/0 | FEC101-Engineering Mathematics-I Term Work: TwCA 25/10 25/0 |

SEAT NO.	NAME OF THE CANDIDATE Mother Name PRN.	PAPER 1				PAPER 2				PAPER 3				PAPER 4				PAPER 5				PAPER 6				RESULT CR C*G SGPI GRADE			
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G				
CENTRE-COLLEGE		PAPER 7				PAPER 8				PAPER 9				PAPER 10				PAPER 11											
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G				
7094504	/ GALA FAIRY PARESH JYOTSNA 2023016400741152 (97)BORIVALI-(531)	58651 22F	8+	30		FEC101 16+	16			58652 24+	6+	30		FEL101 20+	20		58655 25E	6+	31		FEL102 16+	16		18.00	--				
		3.00	F	0.00	0.00	1.00	C	7.00	7.00	2.00	P	4.00	8.00	0.50	O	10.00	5.00	2.00	P	4.00	8.00	0.50	C	7.00	3.50	-- --			
		58653 27F	12+	39		FEL103 15+	32			58654 32E	12+	44		FEL104 18+	34		FEL105 43+	43											
		3.00	F	0.00	0.00	1.00	C	7.00	7.00	3.00	P	4.00	12.00	1.00	C	7.00	7.00	1.00	O	10.00	10.00								
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																			
7094505	SHIVAM RAMESH GUPTA SAVITRI 2022016402079106 (97)BORIVALI-(531)	58651 42	12+	54		FEC101 21+	21			58652 37+	7+	44		FEL101 23+	23		58655 24+	9+	33		FEL102 20+	20		18.00	115.00				
		3.00	D	6.00	18.00	1.00	O	10.00	10.00	2.00	D	6.00	12.00	0.50	O	10.00	5.00	2.00	P	4.00	8.00	0.50	O	10.00	5.00	6.39 --			
		58653 37+	8+	45		FEL103 22+	40			58654 32+	9+	41		FEL104 24+	44		FEL105 41+	41											
		3.00	E	5.00	15.00	1.00	O	10.00	10.00	3.00	P	4.00	12.00	1.00	O	10.00	10.00	1.00	O	10.00	10.00								
		Total Credit 18.00				FINAL CGPI 6.39				FINAL GRADE --																			
7094506	KARDE MANOJ RAMKISAN SAVITA 2023016400741175 (97)BORIVALI-(531)	58651 20F	13+	33		FEC101 15+	15			58652 AA	6+	6		FEL101 17+	17		58655 24+	6+	30		FEL102 17+	17		18.00	--				
		3.00	F	0.00	0.00	1.00	C	7.00	7.00	2.00	F	0.00	0.00	0.50	C	7.00	3.50	2.00	P	4.00	8.00	0.50	C	7.00	3.50	-- --			
		58653 AA	9+	9		FEL103 17+	31			58654 AA	8+	8		FEL104 16+	32		FEL105 31+	31											
		3.00	F	0.00	0.00	1.00	C	7.00	7.00	3.00	F	0.00	0.00	1.00	C	7.00	7.00	1.00	C	7.00	7.00								
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																			

/ - FEMALE, # - 0.229A,@ - 0.5042A/O.5043A/O.5044A, * - 5045A, RR-RESERVED, --:Fails in Theory or Practical, RPV - PROVISIONAL Eligible, RCC - 0.5050, AB - ABSENT, F - UNSUCCESSFUL,P - SUCCESSFUL;
 NULL=NULL & VOID, G:Grade C*G:Gradepoints C:credits CP:credit points aCG:sum of product of credits & grades, Internal Marks are Provisional as per R.8668
 aC:sum of credit points GPA: aCG/aC
 MARKS : 0 to 39.99 40 to 44.99 45 to 49.99 50 to 59.99 60 to 69.99 70 to 74.99 75 to 79.99 80 to 100
 GRADE : F P E D C B A O
 GRADE POINT : 0.00 4.00 5.00 6.00 7.00 8.00 9.00 10.00



University of Mumbai, Mumbai

OFFICE REGISTER OF THE B.E. (with credits) - Regular - CBCS(Electronics and Telecommunication Engineering)- F.E. C-Scheme - Sem I [T01831] HELD IN Summer 2025 Result Declaration Date:11 Jul 2025

58651-Engineering Mathematics-I: ThUA 80/32 ThCA 20/8 100/0 | 58652-Engineering Physics-I: ThUA 60/24 ThCA 15/6 75/0 | 58655-Engineering Chemistry-I: ThUA 60/24 ThCA 15/6 75/0 |
 58653-Engineering Mechanics: ThUA 80/32 ThCA 20/8 100/0 | 58654-Basic Electrical Engineering: ThUA 80/32 ThCA 20/8 100/0 | FEL101-Engineering Physics-I (TW): TwCA 25/10 25/0 |
 FEL102-Engineering Chemistry-I (TW): TwCA 25/10 25/0 | FEL103-Engineering Mechanics (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 | FEL104-Basic Electrical Engineering (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 |
 FEL105-Basic Workshop Practice-I: TwCA 50/20 50/0 | FEC101-Engineering Mathematics-I Term Work: TwCA 25/10 25/0 |

SEAT NO.	NAME OF THE CANDIDATE Mother Name PRN.	PAPER 1				PAPER 2				PAPER 3				PAPER 4				PAPER 5				PAPER 6				RESULT CR C*G SGPI GRADE			
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G				
CENTRE-COLLEGE		PAPER 7				PAPER 8				PAPER 9				PAPER 10				PAPER 11											
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G
7094507	SOHAM SUYOG KAWLE KIRAN 2022016402080075 (97)BORIVALI-(531)	58651 15F	8+	23		FEC101 13+	13			58652 24+	10+	34		FEL101 21+	21		58655 24+	8+	32		FEL102 14+	14		18.00	--				
		3.00	F	0.00	0.00	1.00	D	6.00	6.00	2.00	E	5.00	10.00	0.50	O	10.00	5.00	2.00	P	4.00	8.00	0.50	D	6.00	3.00	-- --			
		58653 34+	8+	42		FEL103 16+	27			58654 32+	13+	45		FEL104 18+	36		FEL105 34+	34											
		3.00	P	4.00	12.00	1.00	D	6.00	6.00	3.00	E	5.00	15.00	1.00	B	8.00	8.00	1.00	C	7.00	7.00								
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																			
7094508	KHARADE SWAYAM DYANESHWAR SAKSHI 2023016400739667 (97)BORIVALI-(531)	58651 38	8+	46		FEC101 18+	18			58652 24+	9+	33		FEL101 19+	19		58655 31+	6+	37		FEL102 20+	20		18.00	107.50				
		3.00	E	5.00	15.00	1.00	B	8.00	8.00	2.00	P	4.00	8.00	0.50	A	9.00	4.50	2.00	E	5.00	10.00	0.50	O	10.00	5.00	5.97 --			
		58653 37+	9+	46		FEL103 18+	32			58654 37+	17+	54		FEL104 18+	34		FEL105 42+	42											
		3.00	E	5.00	15.00	1.00	C	7.00	7.00	3.00	D	6.00	18.00	1.00	C	7.00	7.00	1.00	O	10.00	10.00								
		Total Credit 18.00				FINAL CGPI 5.97				FINAL GRADE --																			
7094509	AMEY ANIL MANJREKAR APURVA 2022016402080021 (97)BORIVALI-(531)	58651 41	8+	49		FEC101 17+	17			58652 24+	7+	31		FEL101 20+	20		58655 24+	8+	32		FEL102 15+	15		18.00	101.50				
		3.00	E	5.00	15.00	1.00	C	7.00	7.00	2.00	P	4.00	8.00	0.50	O	10.00	5.00	2.00	P	4.00	8.00	0.50	C	7.00	3.50	5.64 --			
		58653 34+	9+	43		FEL103 18+	34			58654 48	8+	56		FEL104 21+	36		FEL105 41+	41											
		3.00	P	4.00	12.00	1.00	C	7.00	7.00	3.00	D	6.00	18.00	1.00	B	8.00	8.00	1.00	O	10.00	10.00								
		Total Credit 18.00				FINAL CGPI 5.64				FINAL GRADE --																			

/ - FEMALE, # - 0.229A,@ - 0.5042A/O.5043A/O.5044A,* - 5045A, RR-RESERVED, --:Fails in Theory or Practical, RPV - PROVISIONAL Eligible, RCC - 0.5050, AB - ABSENT, F - UNSUCCESSFUL,P - SUCCESSFUL;
 NULL=NULL & VOID, G:Grade C*G:Gradepoints C:credits CP:credit points aCG:sum of product of credits & grades, Internal Marks are Provisional as per R.8668
 aC:sum of credit points GPA: aCG/aC
 MARKS : 0 to 39.99 40 to 44.99 45 to 49.99 50 to 59.99 60 to 69.99 70 to 74.99 75 to 79.99 80 to 100
 GRADE : F P E D C B A O
 GRADE POINT : 0.00 4.00 5.00 6.00 7.00 8.00 9.00 10.00



University of Mumbai, Mumbai

OFFICE REGISTER OF THE B.E. (with credits) - Regular - CBCS(Electronics and Telecommunication Engineering)- F.E. C-Scheme - Sem I [T01831] HELD IN Summer 2025 Result Declaration Date:11 Jul 2025

58651-Engineering Mathematics-I: ThUA 80/32 ThCA 20/8 100/0 | 58652-Engineering Physics-I: ThUA 60/24 ThCA 15/6 75/0 | 58655-Engineering Chemistry-I: ThUA 60/24 ThCA 15/6 75/0 |
 58653-Engineering Mechanics: ThUA 80/32 ThCA 20/8 100/0 | 58654-Basic Electrical Engineering: ThUA 80/32 ThCA 20/8 100/0 | FEL101-Engineering Physics-I (TW): TwCA 25/10 25/0 |
 FEL102-Engineering Chemistry-I (TW): TwCA 25/10 25/0 | FEL103-Engineering Mechanics (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 | FEL104-Basic Electrical Engineering (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 |
 FEL105-Basic Workshop Practice-I: TwCA 50/20 50/0 | FEC101-Engineering Mathematics-I Term Work: TwCA 25/10 25/0 |

SEAT NO.	NAME OF THE CANDIDATE Mother Name PRN.	PAPER 1				PAPER 2				PAPER 3				PAPER 4				PAPER 5				PAPER 6				RESULT CR C*G SGPI GRADE			
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G				
CENTRE-COLLEGE		PAPER 7				PAPER 8				PAPER 9				PAPER 10				PAPER 11											
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G
7094510	SUMIT SUBHASH MANKAR SUNITA 2022016402079555 (97)BORIVALI-(531)	58651 32+ 3.00 P	8+ 4.00	40 12.00		FEC101 12+ 1.00 E	12 5.00	12 5.00		58652 26+ 2.00 E	8+ 8.00	34 10.00		FEL101 18+ 0.50 B	18 4.00		58655 27+ 2.00 E	7+ 5.00	34 10.00		FEL102 11+ 0.50 P	11 4.00	11 2.00	18.00 92.00	5.11 --				
		58653 32+ 3.00 P	8+ 4.00	40 12.00		FEL103 15+ 1.00 C	33 7.00	33 7.00		58654 33 3.00 E	14+ 5.00	47 15.00		FEL104 15+ 1.00 C	33 7.00	36 7.00		FEL105 36+ 1.00 B	36 8.00	36 8.00									
		Total Credit 18.00				FINAL CGPI 5.11				FINAL GRADE --																			
7094511	/ NEHAL MATHUR SWATI 2023016400740485 (97)BORIVALI-(531)	58651 32+ 3.00 P	12+ 4.00	44 12.00		FEC101 17+ 1.00 C	17 7.00	17 7.00		58652 25+ 2.00 P	6+ 4.00	31 8.00		FEL101 21+ 0.50 O	21 10.00	5.00		58655 35+ 2.00 D	6+ 6.00	41 12.00		FEL102 19+ 0.50 A	19 9.00	19 4.50	18.00 --	-- --			
		58653 25F 3.00 F	8+ 0.00	33 0.00		FEL103 16+ 1.00 B	36 8.00	36 8.00		58654 34+ 3.00 P	10+ 4.00	44 12.00		FEL104 20+ 1.00 B	37 8.00	37 8.00		FEL105 37+ 1.00 B	37 8.00	37 8.00									
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																			
7094512	/ LEENA MEWADA CHHAYA 2023016400746427 (97)BORIVALI-(531)	58651 38+ 3.00 E	8+ 5.00	46 15.00		FEC101 12+ 1.00 E	12 5.00	12 5.00		58652 28+ 2.00 D	12+ 6.00	40 12.00		FEL101 16+ 0.50 C	16 7.00	3.50		58655 30+ 2.00 D	11+ 6.00	41 12.00		FEL102 18+ 0.50 B	18 8.00	18 4.00	18.00 105.50	5.86 --			
		58653 32+ 3.00 E	14+ 5.00	46 15.00		FEL103 14+ 1.00 B	36 8.00	36 8.00		58654 40 3.00 E	8+ 5.00	48 15.00		FEL104 16+ 1.00 D	28 6.00	6.00		FEL105 43+ 1.00 O	43 10.00	43 10.00									
		Total Credit 18.00				FINAL CGPI 5.86				FINAL GRADE --																			

/ - FEMALE, # - 0.229A,@ - 0.5042A/O.5043A/O.5044A,* - 5045A, RR-RESERVED, --:Fails in Theory or Practical, RPV - PROVISIONAL Eligible, RCC - 0.5050, AB - ABSENT, F - UNSUCCESSFUL,P - SUCCESSFUL;
 NULL=NULL & VOID, G:Grade C*G:Gradepoints C:credits CP:credit points aCG:sum of product of credits & grades, Internal Marks are Provisional as per R.8668
 aC:sum of credit points GPA: aCG/aC
 MARKS : 0 to 39.99 40 to 44.99 45 to 49.99 50 to 59.99 60 to 69.99 70 to 74.99 75 to 79.99 80 to 100
 GRADE : F P E D C B A O
 GRADE POINT : 0.00 4.00 5.00 6.00 7.00 8.00 9.00 10.00



University of Mumbai, Mumbai

OFFICE REGISTER OF THE B.E. (with credits) - Regular - CBCS(Electronics and Telecommunication Engineering)- F.E. C-Scheme - Sem I [T01831] HELD IN Summer 2025 Result Declaration Date:11 Jul 2025

58651-Engineering Mathematics-I: ThUA 80/32 ThCA 20/8 100/0 | 58652-Engineering Physics-I: ThUA 60/24 ThCA 15/6 75/0 | 58655-Engineering Chemistry-I: ThUA 60/24 ThCA 15/6 75/0 |
 58653-Engineering Mechanics: ThUA 80/32 ThCA 20/8 100/0 | 58654-Basic Electrical Engineering: ThUA 80/32 ThCA 20/8 100/0 | FEL101-Engineering Physics-I (TW): TwCA 25/10 25/0 |
 FEL102-Engineering Chemistry-I (TW): TwCA 25/10 25/0 | FEL103-Engineering Mechanics (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 | FEL104-Basic Electrical Engineering (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 |
 FEL105-Basic Workshop Practice-I: TwCA 50/20 50/0 | FEC101-Engineering Mathematics-I Term Work: TwCA 25/10 25/0 |

SEAT NO.	NAME OF THE CANDIDATE Mother Name PRN.	PAPER 1				PAPER 2				PAPER 3				PAPER 4				PAPER 5				PAPER 6				RESULT CR C*G SGPI GRADE	
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G		
CENTRE-COLLEGE		PAPER 7				PAPER 8				PAPER 9				PAPER 10				PAPER 11									
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G		
7094513	/ BHOOMIKA SADHANA 2023016400738471 (97)BORIVALI-(531)	58651 32+	4F	36	---	19+	19	25+	6+	31	---	21+	21	28+	6+	34	---	21+	21	18.00	--			Unsuccessful			
		3.00	F	0.00	0.00	1.00	A	9.00	9.00	2.00	P	4.00	8.00	0.50	O	10.00	5.00	2.00	E	5.00	10.00	0.50	O	10.00	5.00	--	--
		58653 42E	8+	50	---	15+	33	35+	8+	43	---	22+	38	---	43+	43	---										
		3.00	D	6.00	18.00	1.00	C	7.00	7.00	3.00	P	4.00	12.00	1.00	A	9.00	9.00	1.00	O	10.00	10.00						
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																	
7094514	PATEL AYUSH HITESH MANISHA 2022016402081956 (97)BORIVALI-(531)	58651 32+	12+	44	---	19+	19	31	6+	37	---	20+	20	24+	6+	30	---	17+	17	18.00	101.50			Successful			
		3.00	P	4.00	12.00	1.00	A	9.00	9.00	2.00	E	5.00	10.00	0.50	O	10.00	5.00	2.00	P	4.00	8.00	0.50	C	7.00	3.50	5.64	--
		58653 39	8+	47	---	15+	29	41+	9+	50	---	15+	31	---	36+	36	---										
		3.00	E	5.00	15.00	1.00	D	6.00	6.00	3.00	D	6.00	18.00	1.00	C	7.00	7.00	1.00	B	8.00	8.00						
		Total Credit 18.00				FINAL CGPI 5.64				FINAL GRADE --																	
7094515	PAWAR SARTHAK RITESH SHRUTI 2022016402080616 (97)BORIVALI-(531)	58651 32	8+	40	---	20+	20	24+	13+	37	---	20+	20	29+	6+	35	---	18+	18	18.00	101.00			Successful			
		3.00	P	4.00	12.00	1.00	O	10.00	10.00	2.00	E	5.00	10.00	0.50	O	10.00	5.00	2.00	E	5.00	10.00	0.50	B	8.00	4.00	5.61	--
		58653 32+	11+	43	---	20+	30	32+	9+	41	---	20+	39	---	48+	48	---										
		3.00	P	4.00	12.00	1.00	C	7.00	7.00	3.00	P	4.00	12.00	1.00	A	9.00	9.00	1.00	O	10.00	10.00						
		Total Credit 18.00				FINAL CGPI 5.61				FINAL GRADE --																	

/ - FEMALE, # - 0.229A,@ - 0.5042A/O.5043A/O.5044A, * - 5045A, RR-RESERVED, --:Fails in Theory or Practical, RPV - PROVISIONAL Eligible, RCC - 0.5050, AB - ABSENT, F - UNSUCCESSFUL,P - SUCCESSFUL;
 NULL=NULL & VOID, G:Grade C*G:Gradepoints C:credits CP:credit points aCG:sum of product of credits & grades, Internal Marks are Provisional as per R.8668
 aC:sum of credit points GPA: aCG/aC
 MARKS : 0 to 39.99 40 to 44.99 45 to 49.99 50 to 59.99 60 to 69.99 70 to 74.99 75 to 79.99 80 to 100
 GRADE : F P E D C B A O
 GRADE POINT : 0.00 4.00 5.00 6.00 7.00 8.00 9.00 10.00



University of Mumbai, Mumbai

OFFICE REGISTER OF THE B.E. (with credits) - Regular - CBCS(Electronics and Telecommunication Engineering)- F.E. C-Scheme - Sem I [T01831] HELD IN Summer 2025 Result Declaration Date:11 Jul 2025

58651-Engineering Mathematics-I: ThUA 80/32 ThCA 20/8 100/0 | 58652-Engineering Physics-I: ThUA 60/24 ThCA 15/6 75/0 | 58655-Engineering Chemistry-I: ThUA 60/24 ThCA 15/6 75/0 |
 58653-Engineering Mechanics: ThUA 80/32 ThCA 20/8 100/0 | 58654-Basic Electrical Engineering: ThUA 80/32 ThCA 20/8 100/0 | FEL101-Engineering Physics-I (TW): TwCA 25/10 25/0 |
 FEL102-Engineering Chemistry-I (TW): TwCA 25/10 25/0 | FEL103-Engineering Mechanics (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 | FEL104-Basic Electrical Engineering (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 |
 FEL105-Basic Workshop Practice-I: TwCA 50/20 50/0 | FEC101-Engineering Mathematics-I Term Work: TwCA 25/10 25/0 |

SEAT NO.	NAME OF THE CANDIDATE Mother Name PRN.	PAPER 1				PAPER 2				PAPER 3				PAPER 4				PAPER 5				PAPER 6				RESULT CR C*G SGPI GRADE			
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G				
CENTRE-COLLEGE		PAPER 7				PAPER 8				PAPER 9				PAPER 10				PAPER 11											
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G
7094516	POTTEKATT SHYAMKRISHNA JIGNEESH - JYOTHI 2023016400740671 (97)BORIVALI-(531)	58651 47	11+	58	18.00	FEC101 1--	18+	18	8.00	58652 24+	7+	31	8.00	FEL101 1--	21+	21	12.00	58655 27+	7+	34	10.00	FEL102 1--	21+	21	18.00	112.00	6.22	--	
		3.00	D	6.00	18.00	1.00	B	8.00	8.00	2.00	P	4.00	8.00	0.50	O	10.00	5.00	2.00	E	5.00	10.00	0.50	O	10.00	5.00	6.22	--		
		58653 45+	11+	56	18.00	FEL103 1--	18+	39	9.00	58654 38+	8+	46	15.00	FEL104 1--	19+	37	8.00	FEL105 1--	35+	35	8.00	1.00	B	8.00	8.00				
		3.00	D	6.00	18.00	1.00	A	9.00	9.00	3.00	E	5.00	15.00	1.00	B	8.00	8.00	1.00	B	8.00	8.00								
		Total Credit 18.00				FINAL CGPI 6.22				FINAL GRADE --																			
7094517	/ SAVE VRUDDHI SAVE VIDYA 2023016400741183 (97)BORIVALI-(531)	58651 41	8+	49	15.00	FEC101 1--	15+	15	7.00	58652 24+	6+	30	8.00	FEL101 1--	22+	22	10.00	58655 24+	7+	31	8.00	FEL102 1--	22+	22	18.00	100.00	5.56	--	
		3.00	E	5.00	15.00	1.00	C	7.00	7.00	2.00	P	4.00	8.00	0.50	O	10.00	5.00	2.00	P	4.00	8.00	0.50	O	10.00	5.00	5.56	--		
		58653 32+	8+	40	12.00	FEL103 1--	15+	30	7.00	58654 33	13+	46	15.00	FEL104 1--	20+	35	8.00	FEL105 1--	42+	42	10.00	1.00	O	10.00	10.00				
		3.00	P	4.00	12.00	1.00	C	7.00	7.00	3.00	E	5.00	15.00	1.00	B	8.00	8.00	1.00	O	10.00	10.00								
		Total Credit 18.00				FINAL CGPI 5.56				FINAL GRADE --																			
7094518	SHIRALKAR SARTHAK SANJAY SAMPADA 2023016400738463 (97)BORIVALI-(531)	58651 45+	11+	56	18.00	FEC101 1--	21+	21	10.00	58652 15F	7+	22	0.00	FEL101 1--	21+	21	5.00	58655 24+	7+	31	8.00	FEL102 1--	19+	19	18.00	--	--		
		3.00	D	6.00	18.00	1.00	O	10.00	10.00	2.00	F	0.00	0.00	0.50	O	10.00	5.00	2.00	P	4.00	8.00	0.50	A	9.00	4.50	--	--		
		58653 37+	9+	46	15.00	FEL103 1--	15+	30	7.00	58654 32+	17+	49	15.00	FEL104 1--	22+	39	9.00	FEL105 1--	48+	48	10.00	1.00	O	10.00	10.00				
		3.00	E	5.00	15.00	1.00	C	7.00	7.00	3.00	E	5.00	15.00	1.00	A	9.00	9.00	1.00	O	10.00	10.00								
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																			

/ - FEMALE, # - 0.229A,@ - 0.5042A/O.5043A/O.5044A,* - 5045A, RR-RESERVED, --:Fails in Theory or Practical, RPV - PROVISIONAL Eligible, RCC - 0.5050, AB - ABSENT, F - UNSUCCESSFUL,P - SUCCESSFUL;
 NULL=NULL & VOID, G:Grade C*G:Gradepoints C:credits CP:credit points aCG:sum of product of credits & grades, Internal Marks are Provisional as per R.8668
 aC:sum of credit points GPA: aCG/aC
 MARKS : 0 to 39.99 40 to 44.99 45 to 49.99 50 to 59.99 60 to 69.99 70 to 74.99 75 to 79.99 80 to 100
 GRADE : F P E D C B A O
 GRADE POINT : 0.00 4.00 5.00 6.00 7.00 8.00 9.00 10.00



University of Mumbai, Mumbai

OFFICE REGISTER OF THE B.E. (with credits) - Regular - CBCS (Electronics and Telecommunication Engineering)- F.E. C-Scheme - Sem I [T01831] HELD IN Summer 2025 Result Declaration Date: 11 Jul 2025

58651-Engineering Mathematics-I: ThUA 80/32 ThCA 20/8 100/0 | 58652-Engineering Physics-I: ThUA 60/24 ThCA 15/6 75/0 | 58655-Engineering Chemistry-I: ThUA 60/24 ThCA 15/6 75/0 |
 58653-Engineering Mechanics: ThUA 80/32 ThCA 20/8 100/0 | 58654-Basic Electrical Engineering: ThUA 80/32 ThCA 20/8 100/0 | FEL101-Engineering Physics-I (TW): TwCA 25/10 25/0 |
 FEL102-Engineering Chemistry-I (TW): TwCA 25/10 25/0 | FEL103-Engineering Mechanics (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 | FEL104-Basic Electrical Engineering (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 |
 FEL105-Basic Workshop Practice-I: TwCA 50/20 50/0 | FEC101-Engineering Mathematics-I Term Work: TwCA 25/10 25/0 |

SEAT NO.	NAME OF THE CANDIDATE Mother Name PRN.	PAPER 1				PAPER 2				PAPER 3				PAPER 4				PAPER 5				PAPER 6				RESULT CR C*G SGPI GRADE	
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G		
CENTRE-COLLEGE		PAPER 7				PAPER 8				PAPER 9				PAPER 10				PAPER 11									
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G		
7094519	SINGH PRASHANT KRISHNADEO SHANTIDEVI 2023016400746435 (97)BORIVALI-(531)	58651 20F	5F	25	25	FEC101 10+	10	10	10	58652 25E	4F	29	29	FEL101 10+	10	10	58655 25+	6E	31	31	FEL102 10+	10	10	10	18.00 --		
		3.00	F	0.00	0.00	1.00	P	4.00	4.00	2.00	F	0.00	0.00	0.50	P	4.00	2.00	2.00	P	4.00	8.00	0.50	P	4.00	2.00	-- --	
		58653 18F	3F	21	21	FEL103 10+	10	10	10	58654 8F	5F	13	13	FEL104 10+	10	10	FEL105 26+	26	26	26							
		3.00	F	0.00	0.00	1.00	E	5.00	5.00	3.00	F	0.00	0.00	1.00	P	4.00	4.00	4.00	1.00	D	6.00	6.00					
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																	
7094520	/ SHREYA SANDEEP SINGH JAYA 2023016400740713 (97)BORIVALI-(531)	58651 32+	8+	40	40	FEC101 14+	14	14	14	58652 26+	6+	32	32	FEL101 18+	18	18	58655 25+	7+	32	32	FEL102 22+	22	22	18.00 96.00			
		3.00	P	4.00	12.00	1.00	D	6.00	6.00	2.00	P	4.00	8.00	0.50	B	8.00	4.00	4.00	2.00	P	4.00	8.00	0.50	O	10.00	5.00	5.33 --
		58653 32+	8	40	40	FEL103 17+	17	17	17	58654 39	8+	47	47	FEL104 18+	30	30	FEL105 43+	43	43	43							
		3.00	P	4.00	12.00	1.00	A	9.00	9.00	3.00	E	5.00	15.00	1.00	C	7.00	7.00	7.00	1.00	O	10.00	10.00					
		Total Credit 18.00				FINAL CGPI 5.33				FINAL GRADE --																	
7094521	MONISH PRIYADHARSHAN SURESH KUMAR - AROCKIYA TERESA 2023016400738006 (97)BORIVALI-(531)	58651 32+	11+	43	43	FEC101 16+	16	16	16	58652 24	8+	32	32	FEL101 19+	19	19	58655 30+	10+	40	40	FEL102 18+	18	18	18.00 100.50			
		3.00	P	4.00	12.00	1.00	C	7.00	7.00	2.00	P	4.00	8.00	0.50	A	9.00	4.50	4.50	2.00	D	6.00	12.00	0.50	B	8.00	4.00	5.58 --
		58653 32+	13+	45	45	FEL103 19+	19	19	19	58654 32+	9+	41	41	FEL104 21+	42	42	FEL105 36+	36	36	36							
		3.00	E	5.00	15.00	1.00	B	8.00	8.00	3.00	P	4.00	12.00	1.00	O	10.00	10.00	10.00	1.00	B	8.00	8.00					
		Total Credit 18.00				FINAL CGPI 5.58				FINAL GRADE --																	

/ - FEMALE, # - 0.229A, @ - 0.5042A/O.5043A/O.5044A, * - 5045A, RR-RESERVED, --:Fails in Theory or Practical, RPV - PROVISIONAL Eligible, RCC - 0.5050, AB - ABSENT, F - UNSUCCESSFUL, P - SUCCESSFUL;
 NULL=NULL & VOID, G:Grade C*G:Gradepoints C:credits CP:credit points @CG:sum of product of credits & grades, Internal Marks are Provisional as per R.8668
 @C:sum of credit points GPA: @CG/@C
 MARKS : 0 to 39.99 40 to 44.99 45 to 49.99 50 to 59.99 60 to 69.99 70 to 74.99 75 to 79.99 80 to 100
 GRADE : F P E D C B A O
 GRADE POINT : 0.00 4.00 5.00 6.00 7.00 8.00 9.00 10.00



University of Mumbai, Mumbai

OFFICE REGISTER OF THE B.E. (with credits) - Regular - CBCS(Electronics and Telecommunication Engineering)- F.E. C-Scheme - Sem I [T01831] HELD IN Summer 2025 Result Declaration Date:11 Jul 2025

58651-Engineering Mathematics-I: ThUA 80/32 ThCA 20/8 100/0 | 58652-Engineering Physics-I: ThUA 60/24 ThCA 15/6 75/0 | 58655-Engineering Chemistry-I: ThUA 60/24 ThCA 15/6 75/0 |
 58653-Engineering Mechanics: ThUA 80/32 ThCA 20/8 100/0 | 58654-Basic Electrical Engineering: ThUA 80/32 ThCA 20/8 100/0 | FEL101-Engineering Physics-I (TW): TwCA 25/10 25/0 |
 FEL102-Engineering Chemistry-I (TW): TwCA 25/10 25/0 | FEL103-Engineering Mechanics (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 | FEL104-Basic Electrical Engineering (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 |
 FEL105-Basic Workshop Practice-I: TwCA 50/20 50/0 | FEC101-Engineering Mathematics-I Term Work: TwCA 25/10 25/0 |

SEAT NO.	NAME OF THE CANDIDATE Mother Name PRN.	PAPER 1				PAPER 2				PAPER 3				PAPER 4				PAPER 5				PAPER 6				RESULT CR C*G SGPI GRADE
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	
CENTRE-COLLEGE		PAPER 7				PAPER 8				PAPER 9				PAPER 10				PAPER 11								
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	
7094522	BHALEKAR ANUYASH VIJAY SUVARNA 2023016402404602 (152)kumbhivali-(990)	58651 36+	10+	46	100	FEC101 17+	17	58652 34+	6+	40	FEL101 22+	22	58655 35+	10+	45	FEL102 20+	20	18.00	--	Unsuccessful						
		3.00	E	5.00	15.00	1.00	C	7.00	7.00	2.00	D	6.00	12.00	0.50	O	10.00	5.00	2.00	C	7.00	14.00	0.50	O	10.00	5.00	-- --
		58653 26F	11+	37	100	FEL103 21+	38	58654 32+	10+	42	FEL104 19+	39	FEL105 42+	42												
		3.00	F	0.00	0.00	1.00	A	9.00	9.00	3.00	P	4.00	12.00	1.00	A	9.00	9.00	1.00	O	10.00	10.00					
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																
7094523	PANDEY SUMIT VIPIN SUMAN 2023016402411103 (152)kumbhivali-(990)	58651 22F	9+	31	100	FEC101 17+	17	58652 32+	8+	40	FEL101 14+	14	58655 24+	11+	35	FEL102 12+	12	18.00	--	Unsuccessful						
		3.00	F	0.00	0.00	1.00	C	7.00	7.00	2.00	D	6.00	12.00	0.50	D	6.00	3.00	2.00	E	5.00	10.00	0.50	E	5.00	2.50	-- --
		58653 33+	8+	41	100	FEL103 11+	26	58654 38+	8+	46	FEL104 14+	26	FEL105 30+	30												
		3.00	P	4.00	12.00	1.00	D	6.00	6.00	3.00	E	5.00	15.00	1.00	D	6.00	6.00	1.00	C	7.00	7.00					
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																
7094524	PATIL SARTHAK MADHAV MADHAVI 2023016402386695 (152)kumbhivali-(990)	58651 24F	8+	32	100	FEC101 13+	13	58652 33F	10+	13	FEL101 21+	21	58655 27+	12+	39	FEL102 23+	23	18.00	--	Unsuccessful						
		3.00	F	0.00	0.00	1.00	D	6.00	6.00	2.00	F	0.00	0.00	0.50	O	10.00	5.00	2.00	D	6.00	12.00	0.50	O	10.00	5.00	-- --
		58653 35+	16+	51	100	FEL103 21+	38	58654 32+	10+	42	FEL104 19+	37	FEL105 36+	36												
		3.00	D	6.00	18.00	1.00	A	9.00	9.00	3.00	P	4.00	12.00	1.00	B	8.00	8.00	1.00	B	8.00	8.00					
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																

/ - FEMALE, # - 0.229A,@ - 0.5042A/O.5043A/O.5044A,* - 5045A, RR-RESERVED, --:Fails in Theory or Practical, RPV - PROVISIONAL Eligible, RCC - 0.5050, AB - ABSENT, F - UNSUCCESSFUL,P - SUCCESSFUL;
 NULL=NULL & VOID, G:Grade C*G:Gradepoints C:credits CP:credit points aCG:sum of product of credits & grades, Internal Marks are Provisional as per R.8668
 aC:sum of credit points GPA: aCG/aC
 MARKS : 0 to 39.99 40 to 44.99 45 to 49.99 50 to 59.99 60 to 69.99 70 to 74.99 75 to 79.99 80 to 100
 GRADE : F P E D C B A O
 GRADE POINT : 0.00 4.00 5.00 6.00 7.00 8.00 9.00 10.00



University of Mumbai, Mumbai

OFFICE REGISTER OF THE B.E. (with credits) - Regular - CBCS(Electronics and Telecommunication Engineering)- F.E. C-Scheme - Sem I [T01831] HELD IN Summer 2025 Result Declaration Date:11 Jul 2025

58651-Engineering Mathematics-I: ThUA 80/32 ThCA 20/8 100/0 | 58652-Engineering Physics-I: ThUA 60/24 ThCA 15/6 75/0 | 58655-Engineering Chemistry-I: ThUA 60/24 ThCA 15/6 75/0 |
 58653-Engineering Mechanics: ThUA 80/32 ThCA 20/8 100/0 | 58654-Basic Electrical Engineering: ThUA 80/32 ThCA 20/8 100/0 | FEL101-Engineering Physics-I (TW): TwCA 25/10 25/0 |
 FEL102-Engineering Chemistry-I (TW): TwCA 25/10 25/0 | FEL103-Engineering Mechanics (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 | FEL104-Basic Electrical Engineering (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 |
 FEL105-Basic Workshop Practice-I: TwCA 50/20 50/0 | FEC101-Engineering Mathematics-I Term Work: TwCA 25/10 25/0 |

SEAT NO.	NAME OF THE CANDIDATE Mother Name PRN.	PAPER 1				PAPER 2				PAPER 3				PAPER 4				PAPER 5				PAPER 6				RESULT CR C*G SGPI GRADE
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	
CENTRE-COLLEGE		PAPER 7				PAPER 8				PAPER 9				PAPER 10				PAPER 11								
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	
7094525	PATIL SWARAJ VISHWAS ANITA 2023016402405056 (152)kumbhivali-(990)	58651 26F	8+	34		FEC101 18+	18			58652 24+	8+	32		FEL101 19+	19		58655 24E	8+	32		FEL102 19+	19	18.00	--		
		3.00	F	0.00	0.00	1.00	B	8.00	8.00	2.00	P	4.00	8.00	0.50	A	9.00	4.50	2.00	P	4.00	8.00	0.50	A	9.00	4.50	-- --
		58653 32+	9+	41		FEL103 21+	37			58654 32+	10+	42		FEL104 24+	45		FEL105 44+	44								
		3.00	P	4.00	12.00	1.00	B	8.00	8.00	3.00	P	4.00	12.00	1.00	O	10.00	10.00	1.00	O	10.00	10.00					
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																
7094526	PATIL VISHRANTI WAMAN LATA 2022016402411357 (152)kumbhivali-(990)	58651 32+	8+	40		FEC101 21+	21			58652 24+	8+	32		FEL101 20+	20		58655 24+	9+	33		FEL102 21+	21	18.00	--		
		3.00	P	4.00	12.00	1.00	O	10.00	10.00	2.00	P	4.00	8.00	0.50	O	10.00	5.00	2.00	P	4.00	8.00	0.50	O	10.00	5.00	-- --
		58653 32+	8+	40		FEL103 15+	30			58654 19F	8+	27		FEL104 21+	40		FEL105 36+	36								
		3.00	P	4.00	12.00	1.00	C	7.00	7.00	3.00	F	0.00	0.00	1.00	O	10.00	10.00	1.00	B	8.00	8.00					
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																
7094527	PINJARI ALTAF ANWAR SHABNAM 2023016402404575 (152)kumbhivali-(990)	58651 23F	9+	32		FEC101 14+	14			58652 28E	9+	37		FEL101 20+	20		58655 24+	11+	35		FEL102 21+	21	18.00	--		
		3.00	F	0.00	0.00	1.00	D	6.00	6.00	2.00	E	5.00	10.00	0.50	O	10.00	5.00	2.00	E	5.00	10.00	0.50	O	10.00	5.00	-- --
		58653 35+	9+	44		FEL103 20+	37			58654 32E	11+	43		FEL104 20+	40		FEL105 42+	42								
		3.00	P	4.00	12.00	1.00	B	8.00	8.00	3.00	P	4.00	12.00	1.00	O	10.00	10.00	1.00	O	10.00	10.00					
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																

/ - FEMALE, # - 0.229A,@ - 0.5042A/O.5043A/O.5044A, * - 5045A, RR-RESERVED, --:Fails in Theory or Practical, RPV - PROVISIONAL Eligible, RCC - 0.5050, AB - ABSENT, F - UNSUCCESSFUL,P - SUCCESSFUL;
 NULL=NULL & VOID, G:Grade C*G:Gradepoints C:credits CP:credit points aCG:sum of product of credits & grades, Internal Marks are Provisional as per R.8668
 aC:sum of credit points GPA: aCG/aC
 MARKS : 0 to 39.99 40 to 44.99 45 to 49.99 50 to 59.99 60 to 69.99 70 to 74.99 75 to 79.99 80 to 100
 GRADE : F P E D C B A O
 GRADE POINT : 0.00 4.00 5.00 6.00 7.00 8.00 9.00 10.00



University of Mumbai, Mumbai

OFFICE REGISTER OF THE B.E. (with credits) - Regular - CBCS(Electronics and Telecommunication Engineering)- F.E. C-Scheme - Sem I [T01831] HELD IN Summer 2025 Result Declaration Date:11 Jul 2025

58651-Engineering Mathematics-I: ThUA 80/32 ThCA 20/8 100/0 | 58652-Engineering Physics-I: ThUA 60/24 ThCA 15/6 75/0 | 58655-Engineering Chemistry-I: ThUA 60/24 ThCA 15/6 75/0 |
 58653-Engineering Mechanics: ThUA 80/32 ThCA 20/8 100/0 | 58654-Basic Electrical Engineering: ThUA 80/32 ThCA 20/8 100/0 | FEL101-Engineering Physics-I (TW): TwCA 25/10 25/0 |
 FEL102-Engineering Chemistry-I (TW): TwCA 25/10 25/0 | FEL103-Engineering Mechanics (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 | FEL104-Basic Electrical Engineering (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 |
 FEL105-Basic Workshop Practice-I: TwCA 50/20 50/0 | FEC101-Engineering Mathematics-I Term Work: TwCA 25/10 25/0 |

SEAT NO.	NAME OF THE CANDIDATE Mother Name PRN.	PAPER 1				PAPER 2				PAPER 3				PAPER 4				PAPER 5				PAPER 6				RESULT CR C*G SGPI GRADE			
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G				
CENTRE-COLLEGE		PAPER 7				PAPER 8				PAPER 9				PAPER 10				PAPER 11											
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G
7094528	/ SHITAP MUGDHA SHANKAR SHUBHADDA 2023016402414496 (152)kumbhivali-(990)	58651 23F	11+	34		FEC101 15+	15			58652 29+	9+	38		FEL101 19+	19		58655 24+	9+	33		FEL102 20+	20			18.00	--			
		3.00	F	0.00	0.00	1.00	C	7.00	7.00	2.00	D	6.00	12.00	0.50	A	9.00	4.50	2.00	P	4.00	8.00	0.50	O	10.00	5.00	--	--		
		58653 33+	8+	41		FEL103 19+	33			58654 39+	8+	47		FEL104 18+	36		FEL105 44+	44											
		3.00	P	4.00	12.00	1.00	C	7.00	7.00	3.00	E	5.00	15.00	1.00	B	8.00	8.00	1.00	O	10.00	10.00								
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																			
7094529	/ SINGH MONIKA SUBHASH SAVATI 2023016402386923 (152)kumbhivali-(990)	58651 32+	8+	40		FEC101 17+	17			58652 27	7+	34		FEL101 20+	20		58655 24+	11+	35		FEL102 20+	20			18.00	99.00			
		3.00	P	4.00	12.00	1.00	C	7.00	7.00	2.00	E	5.00	10.00	0.50	O	10.00	5.00	2.00	E	5.00	10.00	0.50	O	10.00	5.00	5.50	--		
		58653 32+	8+	40		FEL103 20+	39			58654 32+	9+	41		FEL104 18+	38		FEL105 36+	36											
		3.00	P	4.00	12.00	1.00	A	9.00	9.00	3.00	P	4.00	12.00	1.00	A	9.00	9.00	1.00	B	8.00	8.00								
		Total Credit 18.00				FINAL CGPI 5.50				FINAL GRADE --																			
7094530	/ SINGH HARSHITA SANTOSH SMRITI 2023016402242401 (3)Andheri-(532)	58651 32+	8+	40		FEC101 19+	19			58652 34	11+	45		FEL101 18+	18		58655 34+	13+	47		FEL102 18+	18			18.00	112.00			
		3.00	P	4.00	12.00	1.00	A	9.00	9.00	2.00	C	7.00	14.00	0.50	B	8.00	4.00	2.00	C	7.00	14.00	0.50	B	8.00	4.00	6.22	--		
		58653 32+	14+	46		FEL103 18+	36			58654 32+	10+	42		FEL104 22+	40		FEL105 40+	40											
		3.00	E	5.00	15.00	1.00	B	8.00	8.00	3.00	P	4.00	12.00	1.00	O	10.00	10.00	1.00	O	10.00	10.00								
		Total Credit 18.00				FINAL CGPI 6.22				FINAL GRADE --																			

/ - FEMALE, # - 0.229A,@ - 0.5042A/O.5043A/O.5044A,* - 5045A, RR-RESERVED, --:Fails in Theory or Practical, RPV - PROVISIONAL Eligible, RCC - 0.5050, AB - ABSENT, F - UNSUCCESSFUL,P - SUCCESSFUL;
 NULL=NULL & VOID, G:Grade C*G:Gradepoints C:credits CP:credit points aCG:sum of product of credits & grades, Internal Marks are Provisional as per R.8668
 aC:sum of credit points GPA: aCG/aC
 MARKS : 0 to 39.99 40 to 44.99 45 to 49.99 50 to 59.99 60 to 69.99 70 to 74.99 75 to 79.99 80 to 100
 GRADE : F P E D C B A O
 GRADE POINT : 0.00 4.00 5.00 6.00 7.00 8.00 9.00 10.00

